## STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

## COFFEE COUNTY (Contract No. CNX912 Call 001)

STP/NH-55(6),16009-3242-14

THE GRADING, DRAINAGE, CONSTRUCTION OF A CONCRETE BOX BEAM BRIDGE, LIGHTING, SIGNALS AND PAVING ON S.R. 55 FROM FIRST AVENUE (L.M. 1.95) TO U.S. 41A (S.R. 16, N. JACKSON STREET) (L.M. 2.59) IN TULLAHOMA.

PROJECT LENGTH - 0.635 MILES

COMPLETION TIME - ON OR BEFORE MAY 27, 2027

DBE GOAL 8.00%

TOTAL CONTRACT

Dement Construction Company, LLC

\$25,903,580.35

Ш	NI	IT	Р	R	IC	F
u	I VII			1 N I	v	ᆫ

**EXTENSION** 

ROA	DW	AY C	ATE	GORY
-----	----	------	-----	------

ROADWAY CATEGORY				
105-01	CONSTRUCTION STAKES, LINES AND GRADES	1.000 LS		
	Dement Construction Company, LLC	1.000 LS	\$200,000.0000	\$200,000.00
109-10.01	TRAINEE	2,720.000 HOUR		
	Dement Construction Company, LLC	2,720.000 NOOK	\$0.8000	\$2,176.00
201-01	CLEARING AND GRUBBING	1.000 LS		
	Dement Construction Company, LLC	1.000 20	\$1,349,348.8700	\$1,349,348.87
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS	1.000 LS		
	Dement Construction Company, LLC		\$50,000.0000	\$50,000.00
202-01.50	REMOVAL OF STRUCTURES AND OBSTRUCTIONS	36.000 EACH		
	Dement Construction Company, LLC		\$2,500.0000	\$90,000.00
202-02.21	REMOVAL OF PIPE (SEE SHEET 2F10)	4,408.000 L.F.		
	Dement Construction Company, LLC	·	\$25.0000	\$110,200.00
202-06.01	REMOVAL OF BUILDINGS (TRACT 12)	1.000 LS		
	Dement Construction Company, LLC		\$50,000.0000	\$50,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	11,998.000 C.Y.		
	Dement Construction Company, LLC		\$55.0000	\$659,890.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)	813.000 TON		
	Dement Construction Company, LLC		\$50.0000	\$40,650.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)	4,400.000 C.Y.		
	Dement Construction Company, LLC		\$34.0000	\$149,600.00
203-06	WATER	641.000 M.G.		
	Dement Construction Company, LLC		\$50.0000	\$32,050.00
203-07	FURNISHING & SPREADING TOPSOIL	2,490.000 C.Y.		
	Dement Construction Company, LLC		\$43.0000	\$107,070.00

			UNIT PRICE	CONTRACT CNX912  EXTENSION
203-08	CHANNEL EXCAVATION (UNCLASSIFIED)			
	Dement Construction Company, LLC	574.000 C.Y.	\$55.0000	\$31,570.00
203-50	CONSTRUCTION OF HAUL ROAD			
	Dement Construction Company, LLC	1.000 LS	\$300,000.0000	\$300,000.00
203-50.01	CONSTRUCTION OF HAUL ROAD			
	Dement Construction Company, LLC	1.000 LS	\$300,000.0000	\$300,000.00
209-03.22	FILTER SOCK (18 INCH)			
	Dement Construction Company, LLC	600.000 L.F.	\$7.0000	\$4,200.00
209-05	SEDIMENT REMOVAL			
	Dement Construction Company, LLC	236.000 C.Y.	\$100.0000	\$23,600.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	Dement Construction Company, LLC	1,756.000 L.F.	\$5.2500	\$9,219.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
	Dement Construction Company, LLC	10,075.000 L.F.	\$2.0000	\$20,150.00
209-08.08	ENHANCED ROCK CHECK DAM			
	Dement Construction Company, LLC	6.000 EACH	\$650.0000	\$3,900.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	Dement Construction Company, LLC	2.000 EACH	\$150.0000	\$300.00
209-09.40	CURB INLET PROTECTION (TYPE 1)			
	Dement Construction Company, LLC	88.000 EACH	\$150.0000	\$13,200.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
	Dement Construction Company, LLC	23.000 EACH	\$150.0000	\$3,450.00

4.000 EACH

209-40.33 CATCH BASIN PROTECTION (TYPE D)

Dement Construction Company, LLC

\$1,000.00

\$250.0000

			UNIT PRICE	CONTRACT CNX912 EXTENSION
209-40.42	CATCH BASIN FILTER ASSEMBLY(TYPE 2)			
	Dement Construction Company, LLC	48.000 EACH	\$1,000.0000	\$48,000.00
209-40.43	CATCH BASIN FILTER ASSEMBLY(TYPE 3)			
	Dement Construction Company, LLC	38.000 EACH	\$400.0000	\$15,200.00
209-40.45	CATCH BASIN FILTER ASSEMBLY(TYPE 5)			
	Dement Construction Company, LLC	10.000 EACH	\$1,500.0000	\$15,000.00
209-40.46	CATCH BASIN FILTER ASSEMBLY(TYPE 6)			
	Dement Construction Company, LLC	9.000 EACH	\$400.0000	\$3,600.00
209-40.47	CATCH BASIN FILTER ASSEMBLY(TYPE 7)			
	Dement Construction Company, LLC	1.000 EACH	\$400.0000	\$400.00
209-40.49	CATCH BASIN FILTER ASSEMBLY(TYPE 9)			
	Dement Construction Company, LLC	3.000 EACH	\$1,000.0000	\$3,000.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
	Dement Construction Company, LLC	349.000 L.F.	\$75.0000	\$26,175.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Dement Construction Company, LLC	18,606.000 TON	\$43.5000	\$809,361.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Dement Construction Company, LLC	34.000 TON	\$150.0000	\$5,100.00
303-10.04	MINERAL AGGREGATE (SIZE 57)			
	Dement Construction Company, LLC	390.000 TON	\$46.2000	\$18,018.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAD			
	Dement Construction Company, LLC	578.000 TON	\$155.0000	\$89,590.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRAD			
	Dement Construction Company, LLC	3,880.000 TON	\$105.0000	\$407,400.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRA	DING B-M2		
	Dement Construction Company, LLC	2,719.000 TON	\$119.0000	\$323,561.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Dement Construction Company, LLC	38.000 TON	\$940.0000	\$35,720.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Dement Construction Company, LLC	132.000 TON	\$85.0000	\$11,220.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Dement Construction Company, LLC	17.000 TON	\$955.0000	\$16,235.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
	Dement Construction Company, LLC	800.000 L.F.	\$7.0000	\$5,600.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Dement Construction Company, LLC	11.000 TON	\$440.0000	\$4,840.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Dement Construction Company, LLC	393.000 TON	\$220.0000	\$86,460.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Dement Construction Company, LLC	1,840.000 TON	\$152.0000	\$279,680.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Dement Construction Company, LLC	231.000 TON	\$110.0000	\$25,410.00
604-01.01	CLASS A CONCRETE (ROADWAY)			
	Dement Construction Company, LLC	189.000 C.Y.	\$1,000.0000	\$189,000.00
604-01.02	STEEL BAR REINFORCEMENT (ROADWAY)			
	Dement Construction Company, LLC	13,902.000 LB.	\$2.5000	\$34,755.00
604-01.04	1-1/2" STEEL PIPE HANDRAIL			
	Dement Construction Company, LLC	66.000 L.F.	\$94.5000	\$6,237.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
604-01.20	BOX TUBE SAFETY RAIL			
	Dement Construction Company, LLC	840.000 L.F.	\$122.0000	\$102,480.00
604-03.07	CLASS A CONCRETE (ADA RAMPS & STAIRS, AND GREBASE)	EENWAY HANDRAIL		
	Dement Construction Company, LLC	45.000 C.Y.	\$2,500.0000	\$112,500.00
604-03.08	CLASS A CONCRETE (CONC. CHANNELS, SLOTTED GR WINGWALLS)	RATE DRAIN &		
	Dement Construction Company, LLC	17.000 C.Y.	\$2,500.0000	\$42,500.00
604-10.51	SCARIFYING			
	Dement Construction Company, LLC	7,987.000 S.Y.	\$16.0000	\$127,792.00
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)	2,867.000 L.F.		
	Dement Construction Company, LLC	2,007.000 L.F.	\$160.0000	\$458,720.00
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)			
	Dement Construction Company, LLC	1,184.000 L.F.	\$170.0000	\$201,280.00
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)			
	Dement Construction Company, LLC	263.000 L.F.	\$200.0000	\$52,600.00
607-07.02	36" CONCRETE PIPE CULVERT (CLASS III)	204 200 1 5		
	Dement Construction Company, LLC	334.000 L.F.	\$220.0000	\$73,480.00
607-08.02	42" CONCRETE PIPE CULVERT (CLASS III)	0.440.0001.5		
	Dement Construction Company, LLC	2,413.000 L.F.	\$230.0000	\$554,990.00
607-16.10	68"X 43" HORIZONTAL OVAL CONCRETE PIPE CULVER			
	Dement Construction Company, LLC	258.000 L.F.	\$500.0000	\$129,000.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	Dement Construction Company, LLC	48.000 L.F.	\$50.0000	\$2,400.00
611-01.01	MANHOLES, 0' - 4' DEPTH	0.000 54.011		
	Dement Construction Company, LLC	2.000 EACH	\$7,500.0000	\$15,000.00

		UNIT PRICE	CONTRACT CNX912  EXTENSION
611-01.02 MANHOLES, > 4' - 8' DEPTH			
Dement Construction Company, LLC	3.000 EACH	\$7,500.0000	\$22,500.00
611-01.03 MANHOLES, > 8' - 12' DEPTH			
Dement Construction Company, LLC	1.000 EACH	\$35,000.0000	\$35,000.00
611-02.11 JUNCTION BOX, TYPE 2			
Dement Construction Company, LLC	3.000 EACH	\$8,000.0000	\$24,000.00
611-02.12 JUNCTION BOX, TYPE 3	0.000 54011		
Dement Construction Company, LLC	3.000 EACH	\$10,250.0000	\$30,750.00
611-05.01 TRENCH DRAINS	CC 000 L F		
Dement Construction Company, LLC	66.000 L.F.	\$300.0000	\$19,800.00
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)	45 200 C V		
Dement Construction Company, LLC	15.300 C.Y.	\$1,500.0000	\$22,950.00
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)	050 000 LD		
Dement Construction Company, LLC	658.000 LB.	\$5.0000	\$3,290.00
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1	4 000 54 011		
Dement Construction Company, LLC	4.000 EACH	\$2,500.0000	\$10,000.00
611-12.01 CATCH BASINS, TYPE 12, 0' - 4' DEPTH	44 000 54011		
Dement Construction Company, LLC	14.000 EACH	\$7,000.0000	\$98,000.00
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPTH	04 000 54 011		
Dement Construction Company, LLC	61.000 EACH	\$7,500.0000	\$457,500.00
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH	44 000 54 011		
Dement Construction Company, LLC	11.000 EACH	\$15,000.0000	\$165,000.00
611-12.04 CATCH BASINS, TYPE 12, > 12' - 16' DEPTH	4 000 54011		
Dement Construction Company, LLC	4.000 EACH	\$30,000.0000	\$120,000.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
611-14.02 CATCH I	BASINS, TYPE 14, > 4' - 8' DEPTH			
Dement	Construction Company, LLC	3.000 EACH	\$9,000.0000	\$27,000.00
611-14.03 CATCH I	BASINS, TYPE 14, > 8' - 12' DEPTH			
Dement	Construction Company, LLC	2.000 EACH	\$11,000.0000	\$22,000.00
611-42.01 CATCH I	BASINS, TYPE 42, 0' - 4' DEPTH			
Dement	Construction Company, LLC	7.000 EACH	\$8,500.0000	\$59,500.00
611-42.02 CATCH I	BASINS, TYPE 42, > 4' - 8' DEPTH			
Dement	Construction Company, LLC	3.000 EACH	\$9,500.0000	\$28,500.00
621-05.01 TEMPOR	RARY SHORING			
Dement	Construction Company, LLC	350.000 S.F.	\$150.0000	\$52,500.00
701-01.01 CONCRE	ETE SIDEWALK (4 ")			
Dement	Construction Company, LLC	25,385.000 S.F.	\$8.0000	\$203,080.00
701-02.03 CONCRE	ETE CURB RAMP			
Dement	Construction Company, LLC	4,144.000 S.F.	\$25.0000	\$103,600.00
702-01 CONCRE	ETE CURB			
Dement	Construction Company, LLC	83.000 C.Y.	\$775.0000	\$64,325.00
702-03 CONCRE	ETE COMBINED CURB & GUTTER			
Dement	Construction Company, LLC	505.000 C.Y.	\$550.0000	\$277,750.00
705-06.01 W BEAM	I GR (TYPE 2) MASH TL-3			
Dement	Construction Company, LLC	153.000 L.F.	\$42.2900	\$6,470.37
705-06.26 THRIE B	EAM BRIDGE TRANSITION MASH TL-2			
Dement	Construction Company, LLC	2.000 EACH	\$1,259.0000	\$2,518.00
705-06.30 GR TERI	MINAL (ENERGY ABSORBING) MASH TL-2	_		
Dement	Construction Company, LLC	2.000 EACH	\$3,314.0000	\$6,628.00

JNI	ΓPR	ICE
-----	-----	-----

			UNIT PRICE	EXTENSION
705-20.23	REUSABLE CRASH CUSHION WIDE (MASH TL-3)			
	Dement Construction Company, LLC	2.000 EACH	\$31,990.0000	\$63,980.00
706-10.80	MICHIGAN AND MODIFIED MICHIGAN END SHOE			
	Dement Construction Company, LLC	2.000 EACH	\$130.0000	\$260.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE	557.000   5		
	Dement Construction Company, LLC	557.000 L.F.	\$10.0000	\$5,570.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
	Dement Construction Company, LLC	62.000 EACH	\$701.0000	\$43,462.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)	200 000 TON		
	Dement Construction Company, LLC	200.000 TON	\$50.0000	\$10,000.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)	22 000 TON		
	Dement Construction Company, LLC	23.000 TON	\$150.0000	\$3,450.00
709-05.08	MACHINED RIP-RAP (CLASS B)	4 COO COO TON		
	Dement Construction Company, LLC	1,600.000 TON	\$50.0000	\$80,000.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)	7.004.0001.5		
	Dement Construction Company, LLC	7,284.000 L.F.	\$11.0000	\$80,124.00
710-05	LATERAL UNDERDRAIN	700 000 1 5		
	Dement Construction Company, LLC	730.000 L.F.	\$10.0000	\$7,300.00
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)	07.000 54.011		
	Dement Construction Company, LLC	37.000 EACH	\$1,000.0000	\$37,000.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Dement Construction Company, LLC	1.000 LS	\$200,000.0000	\$200,000.00
712-02.10	PORTABLE BARRIER RAIL (MASH TL-3)	4 407 000 1 5		
	Dement Construction Company, LLC	1,127.000 L.F.	\$220.0000	\$247,940.00

			UNIT PRICE	CONTRACT CNX912  EXTENSION
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)			
	Dement Construction Company, LLC	2.000 EACH	\$5,400.0000	\$10,800.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Dement Construction Company, LLC	435.000 EACH	\$35.0000	\$15,225.00
712-04.50	BARRIER RAIL DELINEATOR			
	Dement Construction Company, LLC	24.000 EACH	\$15.0000	\$360.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Dement Construction Company, LLC	435.000 EACH	\$45.0000	\$19,575.00
712-06	SIGNS (CONSTRUCTION)			
	Dement Construction Company, LLC	652.000 S.F.	\$13.5000	\$8,802.00
712-07.02	TEMPORARY BARRICADES (TYPE II)			
	Dement Construction Company, LLC	11.000 L.F.	\$22.0000	\$242.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Dement Construction Company, LLC	470.000 L.F.	\$35.0000	\$16,450.00
712-08.03	ARROW BOARD (TYPE C)			
	Dement Construction Company, LLC	1.000 EACH	\$3,500.0000	\$3,500.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)			
	Dement Construction Company, LLC	0.420 C.Y.	\$566.0000	\$237.72
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPORT	ORTS)		
	Dement Construction Company, LLC	145.300 LB.	\$3.0600	\$444.62
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPORT			
	Dement Construction Company, LLC	245.000 LB.	\$8.5800	\$2,102.10
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Dement Construction Company, LLC	2,134.000 LB.	\$3.2200	\$6,871.48

			UNIT PRICE	CONTRACT CNX912  EXTENSION
713-11.21 P POST S	SLIP BASE			
Dement (	Construction Company, LLC	7.000 EACH	\$416.0000	\$2,912.00
713-13.02 FLAT SH	EET ALUMINUM SIGNS (0.080" THICK)			
Dement (	Construction Company, LLC	215.000 S.F.	\$12.7300	\$2,736.95
713-13.03 FLAT SH	EET ALUMINUM SIGNS (0.100" THICK)			
Dement (	Construction Company, LLC	77.000 S.F.	\$13.1200	\$1,010.24
713-14 EXTRUD	ED ALUMINUM PANEL SIGNS			
Dement (	Construction Company, LLC	28.000 S.F.	\$30.2300	\$846.44
713-14.21 STREET	NAME SIGN (RIGID 0.100IN THICK			
Dement (	Construction Company, LLC	128.000 S.F.	\$50.0000	\$6,400.00
713-14.22 STREET	NAME SIGN (SUSPENDED 0.100IN THICK)			
Dement (	Construction Company, LLC	64.000 S.F.	\$50.0000	\$3,200.00
713-15 REMOVA	L OF SIGNS, POSTS AND FOOTINGS			
Dement (	Construction Company, LLC	1.000 LS	\$1,775.0000	\$1,775.00
713-15.06 MILE PO	ST SIGN			
Dement (	Construction Company, LLC	2.000 EACH	\$390.0000	\$780.00
713-15.07 SUSPEN	DED FLAT SHEET ALUMINUM SIGN (0.080" THICK)			
Dement (	Construction Company, LLC	6.000 EACH	\$500.0000	\$3,000.00
713-16.01 CHANGE	ABLE MESSAGE SIGN UNIT			
Dement (	Construction Company, LLC	4.000 EACH	\$16,000.0000	\$64,000.00
714-03 JACKED	OR BORED CONDUIT			
Dement (	Construction Company, LLC	1,900.000 L.F.	\$70.0000	\$133,000.00
714-03.01 DIRECT	BURIAL CONDUIT (2" PVC, SCHEDULE 40)			
Dement (	Construction Company, LLC	7,000.000 L.F.	\$14.0000	\$98,000.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
714-05.04	PULL BOXES (TYPE C)			
	Dement Construction Company, LLC	50.000 EACH	\$1,200.0000	\$60,000.00
714-06.05	CABLE (1/C # 6 AWG)			
	Dement Construction Company, LLC	8,500.000 L.F.	\$2.0000	\$17,000.00
714-08.01	LIGHT STANDARDS (45' M.H., 15' ARM)			
	Dement Construction Company, LLC	15.000 EACH	\$3,835.0000	\$57,525.00
714-08.09	LIGHT STANDARDS (45' M.H., 5' ARM)			
	Dement Construction Company, LLC	1.000 EACH	\$3,799.0000	\$3,799.00
714-08.10	LIGHT STANDARDS (40' M.H., 15' ARM)			
	Dement Construction Company, LLC	1.000 EACH	\$3,643.0000	\$3,643.00
714-08.11	LIGHT STANDARDS (40' M.H., 10' ARM)			
	Dement Construction Company, LLC	5.000 EACH	\$3,560.0000	\$17,800.00
714-08.12	LIGHT STANDARDS (40' M.H., 10' ARM, ON BRIDGE PARAPET	)		
	Dement Construction Company, LLC	4.000 EACH	\$3,560.0000	\$14,240.00
714-08.20	FOUNDATION (ONLY) FOR LIGHT STANDARD			
	Dement Construction Company, LLC	15.000 EACH	\$2,800.0000	\$42,000.00
714-08.21	FOUNDATION (ONLY) FOR LIGHT STANDARD			
	Dement Construction Company, LLC	1.000 EACH	\$2,800.0000	\$2,800.00
714-08.22	FOUNDATION (ONLY) FOR LIGHT STANDARD			
	Dement Construction Company, LLC	4.000 EACH	\$2,800.0000	\$11,200.00
714-09.09	LUMINAIRES (LED - 160W)			
	Dement Construction Company, LLC	20.000 EACH	\$1,286.0000	\$25,720.00
714-09.10	LUMINAIRES (LED - 110W)			
	Dement Construction Company, LLC	7.000 EACH	\$1,120.0000	\$7,840.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
714-09.11	LUMINAIRES (LED - 55W)			
	Dement Construction Company, LLC	9.000 EACH	\$1,120.0000	\$10,080.00
714-09.12	LUMINAIRES (LED - 105W)			
	Dement Construction Company, LLC	7.000 EACH	\$1,240.0000	\$8,680.00
714-12.01	CONTROL CENTER (NO. 1)			
	Dement Construction Company, LLC	1.000 LS	\$12,640.0000	\$12,640.00
714-14.01	MASTARM - 15'			
	Dement Construction Company, LLC	9.000 EACH	\$1,620.0000	\$14,580.00
714-14.03	MASTARM (10')			
	Dement Construction Company, LLC	2.000 EACH	\$1,480.0000	\$2,960.00
714-14.04	MASTARM (5')			
	Dement Construction Company, LLC	2.000 EACH	\$1,260.0000	\$2,520.00
714-14.05	MASTARM (TENON MOUNT)			
	Dement Construction Company, LLC	8.000 EACH	\$1,080.0000	\$8,640.00
714-25.01	ELECTRICAL CONNECTION (SEE PLANS)			
	Dement Construction Company, LLC	1.000 LS	\$8,960.0000	\$8,960.00
714-25.22	INSTALL SVC RISER (DESCRIPTION)			
	Dement Construction Company, LLC	13.000 EACH	\$1,200.0000	\$15,600.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)		
	Dement Construction Company, LLC	97.000 EACH	\$75.0000	\$7,275.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)		
	Dement Construction Company, LLC	96.000 EACH	\$75.0000	\$7,200.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Dement Construction Company, LLC	120.000 EACH	\$15.0000	\$1,800.00

		UNIT PRICE	CONTRACT CNX912  EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
Dement Construction Company, LLC	547.000 S.Y.	\$35.0000	\$19,145.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Dement Construction Company, LLC	679.000 L.F.	\$25.0000	\$16,975.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Dement Construction Company, LLC	14.000 EACH	\$250.0000	\$3,500.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
Dement Construction Company, LLC	624.000 L.F.	\$35.0000	\$21,840.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
Dement Construction Company, LLC	39.000 S.F.	\$17.0000	\$663.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Dement Construction Company, LLC	5.950 L.M.	\$1,500.0000	\$8,925.00
716-05.03 PAINTED PAVEMENT MARKING (CROSS-WALK)			
Dement Construction Company, LLC	107.000 L.F.	\$12.0000	\$1,284.00
716-05.04 PAINTED PAVEMENT MARKING (CHANNELIZATION STRIPING)			
Dement Construction Company, LLC	882.000 S.Y.	\$10.0000	\$8,820.00
716-05.22 PAINTED PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)	,		
Dement Construction Company, LLC	100.000 L.F.	\$20.0000	\$2,000.00
716-08.01 REMOVAL OF PAVEMENT MARKING (LINE)			
Dement Construction Company, LLC	1,465.000 L.F.	\$1.5000	\$2,197.50
716-08.03 REMOVAL OF PAVEMENT MARKING (CROSS-WALK)			
Dement Construction Company, LLC	252.000 L.F.	\$10.0000	\$2,520.00

882.000 S.Y.

716-08.04 REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIPING)

Dement Construction Company, LLC

\$10,584.00

\$12.0000

UNIT PRICE	EXTENSION

		UNIT PRICE	EXTENSION
716-08.05 REMOVAL OF PAVEMENT MARKING (STOP LINE)			
Dement Construction Company, LLC	89.000 L.F.	\$10.0000	\$890.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	2.850 L.M.		
Dement Construction Company, LLC	2.030 L.M.	\$8,000.0000	\$22,800.00
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)	414.000 L.F.		
Dement Construction Company, LLC	414.000 E.I.	\$5.0000	\$2,070.00
717-01 MOBILIZATION	1.000 LS		
Dement Construction Company, LLC		\$2,640,000.0000	\$2,640,000.00
730-01.02 REMOVAL OF SIGNAL EQUIPMENT	2.000 EACH		
Dement Construction Company, LLC		\$1,800.0000	\$3,600.00
730-02.03 SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)	2.000 EACH		
Dement Construction Company, LLC		\$1,142.0000	\$2,284.00
730-02.09 SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)	8.000 EACH		
Dement Construction Company, LLC		\$1,142.0000	\$9,136.00
730-02.14 SIGNAL HEAD ASSEMBLY (140 A1 WITH BACKPLATE)	1.000 EACH		
Dement Construction Company, LLC		\$1,460.0000	\$1,460.00
730-02.17 SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)	7.000 EACH		
Dement Construction Company, LLC		\$1,983.0000	\$13,881.00
730-03.21 INSTALL PULL BOX (TYPE B)	11.000 EACH		
Dement Construction Company, LLC		\$1,200.0000	\$13,200.00
730-05.01 ELECTRICAL SERVICE CONNECTION	2.000 EACH	Фо осо осос	Φ= 000 00
Dement Construction Company, LLC		\$3,800.0000	\$7,600.00
730-08.02 SIGNAL CABLE - 5 CONDUCTOR	1,972.000 L.F.	<b>#4 ==</b> 00	<b>MO 454</b> 22
Dement Construction Company, LLC		\$1.7500	\$3,451.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
	Dement Construction Company, LLC	1,707.000 L.F.	\$2.0000	\$3,414.00
730-08.04	SIGNAL CABLE - 9 CONDUCTOR			
	Dement Construction Company, LLC	615.000 L.F.	\$2.5000	\$1,537.50
730-12.02	CONDUIT 2" DIAMETER (PVC SCHEDULE 40)			
	Dement Construction Company, LLC	363.000 L.F.	\$16.0000	\$5,808.00
730-12.03	CONDUIT 3" DIAMETER (PVC SCHEDULE 40)			
	Dement Construction Company, LLC	225.000 L.F.	\$20.0000	\$4,500.00
730-12.14	CONDUIT 3" DIAMETER (JACK AND BORE)			
	Dement Construction Company, LLC	660.000 L.F.	\$70.0000	\$46,200.00
730-13.16	VEHICLE DETECTOR (RADAR/VIDEO)			
	Dement Construction Company, LLC	8.000 EACH	\$13,424.0000	\$107,392.00
730-15.32	CABINET (EIGHT PHASE BASE MOUNTED)			
	Dement Construction Company, LLC	2.000 EACH	\$22,169.0000	\$44,338.00
730-16.04	CONTROLLER (ATC)			
	Dement Construction Company, LLC	2.000 EACH	\$5,543.0000	\$11,086.00
730-23.28	PEDESTAL POLE (TYPE A)			
	Dement Construction Company, LLC	5.000 EACH	\$2,500.0000	\$12,500.00
730-25.01	CANTILEVER SIGNAL SUPPORT (1 ARM @ 50')			
	Dement Construction Company, LLC	2.000 EACH	\$33,889.0000	\$67,778.00
730-25.07	CANTILEVER SIGNAL SUPPORT (1 ARM @ 55')			
	Dement Construction Company, LLC	2.000 EACH	\$36,695.0000	\$73,390.00
730-25.11	CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
	Dement Construction Company, LLC	3.000 EACH	\$38,711.0000	\$116,133.00

			UNIT PRICE	CONTRACT CNX912  EXTENSION
730-25.14	CANTILEVER SIGNAL SUPPORT (1 ARM @ 70')			
	Dement Construction Company, LLC	1.000 EACH	\$47,246.0000	\$47,246.00
730-25.70	DECORATIVE SIGNAL BASES (ALUMINUM CAST SPLIT -			
	Dement Construction Company, LLC	8.000 EACH	\$3,979.0000	\$31,832.00
730-26.11	COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSHBUTTO			
	Dement Construction Company, LLC	14.000 EACH	\$1,750.0000	\$24,500.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
	Dement Construction Company, LLC	2.000 EACH	\$65,000.0000	\$130,000.00
730-50.20	RECTANGULAR RAPID FLASHING BEACON ASSEMBLY			
	Dement Construction Company, LLC	2.000 EACH	\$8,894.0000	\$17,788.00
740-07.04	GEOGRID REINFORCEMENT TYPE 2			
	Dement Construction Company, LLC	1,140.000 S.Y.	\$20.2000	\$23,028.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Dement Construction Company, LLC	603.000 S.Y.	\$10.0000	\$6,030.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	Dement Construction Company, LLC	1,337.000 S.Y.	\$5.0000	\$6,685.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Dement Construction Company, LLC	122.000 UNIT	\$100.0000	\$12,200.00
801-01.34	GRASS SEED MIX (RIPZN/FLPL)			
	Dement Construction Company, LLC	11.000 UNIT	\$200.0000	\$2,200.00
801-01.37	NATVE SEED MX ENCAPSULATION & CLEAR ZONE			
	Dement Construction Company, LLC	16.000 UNIT	\$300.0000	\$4,800.00
801-01.38	NATVE SEED MX FINAL STABLIZATN OF SLOPES			
	Dement Construction Company, LLC	16.000 UNIT	\$300.0000	\$4,800.00

				CONTRACT CNX912
			UNIT PRICE	EXTENSION
801-03	WATER (SEEDING & SODDING)	74 000 M O		
	Dement Construction Company, LLC	74.000 M.G.	\$100.0000	\$7,400.00
803-01	SODDING (NEW SOD)	5 000 000 C V		
	Dement Construction Company, LLC	5,808.000 S.Y.	\$6.5000	\$37,752.00
805-12.08	700 GRAM COIR FIBER EROSION BLANKET	1,422.000 S.Y.		
	Dement Construction Company, LLC	1,422.000 3.1.	\$9.0000	\$12,798.00
806-02.03	PROJECT MOWING			
		6.000 CYCL		

\$3,000.0000

\$18,000.00

Dement Construction Company, LLC

		CC	MIRACI CNA912
BRIDGE CATEGORY		UNIT PRICE	EXTENSION
202-01.02 REMOVAL OF ASBESTOS	4 000   6		
Dement Construction Company, LLC	1.000 LS	\$50,000.0000	\$50,000.00
202-04.01 REMOVAL OF STRUCTURES (SEE PLANS)	4 000 1 0		
Dement Construction Company, LLC	1.000 LS	\$913,000.0000	\$913,000.00
204-02.01 DRY EXCAVATION (BRIDGES)	2 420 000 C V		
Dement Construction Company, LLC	2,420.000 C.Y.	\$35.0000	\$84,700.00
204-03.01 WET EXCAVATION (BRIDGES)	323.000 C.Y.		
Dement Construction Company, LLC	323.000 C. Y.	\$45.0000	\$14,535.00
204-10.01 FOUNDATION PREPARATION(SEE PLANS)	1.000 LS		
Dement Construction Company, LLC	1.000 LS	\$250,000.0000	\$250,000.00
303-01.02 GRANULAR BACKFILL (BRIDGES)	2,278.000 TON		
Dement Construction Company, LLC	2,276.000 TON	\$30.0000	\$68,340.00
604-02.03 EPOXY COATED REINFORCING STEEL	440.459.000 LB		
Dement Construction Company, LLC	110,458.000 LB.	\$1.7500	\$193,301.50
604-03.01 CLASS A CONCRETE (BRIDGES)	693.000 C.Y.		
Dement Construction Company, LLC	693.000 C. T.	\$1,250.0000	\$866,250.00
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)	402 264 000 LB		
Dement Construction Company, LLC	102,361.000 LB.	\$1.6500	\$168,895.65
604-03.04 PAVEMENT @ BRIDGE ENDS	440 000 C V		
Dement Construction Company, LLC	416.000 S.Y.	\$500.0000	\$208,000.00
604-03.32 CLASS DS CONCRETE	402 000 C V		
Dement Construction Company, LLC	403.000 C.Y.	\$1,500.0000	\$604,500.00
604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURES)	4 200 000 C V		
Dement Construction Company, LLC	1,286.000 S.Y.	\$10.0000	\$12,860.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
604-04.41	THREE STAR STATE EMBLEM			
	Dement Construction Company, LLC	4.000 EACH	\$2,500.0000	\$10,000.00
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
	Dement Construction Company, LLC	1,836.000 S.Y.	\$6.8500	\$12,576.60
606-03.03	STEEL PILES (12 INCH)			
	Dement Construction Company, LLC	8,672.000 L.F.	\$70.0000	\$607,040.00
606-03.06	PILE TIPS (STEEL PILES, 12 INCH)			
	Dement Construction Company, LLC	186.000 EACH	\$350.0000	\$65,100.00
610-10.40	BRIDGE DECK DRAINS			
	Dement Construction Company, LLC	1.000 LS	\$10.0000	\$10.00
610-10.45	DECK DRAINS (SEE PLANS)			
	Dement Construction Company, LLC	22.000 EACH	\$5,000.0000	\$110,000.00
615-02.10	PRESTRESSED CONCRETE BOX BEAM (27" X 48")			
	Dement Construction Company, LLC	2,141.000 L.F.	\$685.0000	\$1,466,585.00
617-02	BRIDGE DECK CRACK SEALING			
	Dement Construction Company, LLC	218.000 L.F.	\$10.0000	\$2,180.00
617-05	SEALANT (SEE PLANS)			
	Dement Construction Company, LLC	2.000 GAL.	\$500.0000	\$1,000.00
620-05	CONCRETE PARAPET WITH STRUCTURAL TUBING			
	Dement Construction Company, LLC	438.000 L.F.	\$450.0000	\$197,100.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM			
	Dement Construction Company, LLC	218.000 L.F.	\$100.0000	\$21,800.00
710-09.02	6" PIPE UNDERDRAIN			
	Dement Construction Company, LLC	60.000 L.F.	\$20.0000	\$1,200.00

CONTRACT CNX912

UNIT PRICE EXTENSION

714-01.01 STRUCTURAL LIGHTING (BRIDGE NO. 1)

1.000 LS

Dement Construction Company, LLC \$55,000.0000

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNX912  EXTENSION
790-05.02 POLE 50FT CLASS 2 WOOD			
	2.000 EACH		
Dement Construction Company, LLC		\$4,815.0000	\$9,630.00
790-06.01 POLE 55FT CLASS 1 WOOD	2.000 EACH		
Dement Construction Company, LLC		\$5,745.0000	\$11,490.00
790-06.02 POLE 55FT CLASS 2 WOOD	1.000 EACH		
Dement Construction Company, LLC		\$5,465.0000	\$5,465.00
790-21.09 1PH PRIMARY TAP 15KV	5.000 EACH		
Dement Construction Company, LLC	5.000 EACH	\$505.0000	\$2,525.00
790-21.18 1PH DDE FEED THROUGH 15KV			
Dement Construction Company, LLC	1.000 EACH	\$780.0000	\$780.00
790-25.07 3PH CROSSARM DBL LRG COND 15KV			
Dement Construction Company, LLC	15.000 EACH	\$2,745.0000	\$41,175.00
790-25.17 3PH VERTICAL DEADEND LARGE ANGLE 15KV			
Dement Construction Company, LLC	2.000 EACH	\$2,370.0000	\$4,740.00
790-25.18 3PH VERTICAL DEADEND LRG ANG LG COND 15KV	4.000 EACH		
Dement Construction Company, LLC	4.000 EAGIT	\$3,345.0000	\$13,380.00
790-25.19 3PH VERTICAL DEADEND 15KV	4 000 5 4 0 11		
Dement Construction Company, LLC	4.000 EACH	\$2,010.0000	\$8,040.00
790-25.38 3PH 10FT FIBERGLASS CROSSARM DEADEND 15kV			
Dement Construction Company, LLC	11.000 EACH	\$2,655.0000	\$29,205.00
790-25.40 3PH 10FT FIBERGLASS DOUBLE DEADEND 15kV	0.000 EACH		
Dement Construction Company, LLC	9.000 EACH	\$5,120.0000	\$46,080.00
790-30.13 SECONDARY CONDUCTOR 2 AL TRIPLEX	445.000   5		
Dement Construction Company, LLC	145.000 L.F.	\$10.0000	\$1,450.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
790-31.02	SERVICE ASSEMBLY-POLE TYPE			
	Dement Construction Company, LLC	48.000 EACH	\$210.0000	\$10,080.00
790-32.01	DOWN GUY - THROUGH BOLT TYPE			
	Dement Construction Company, LLC	15.000 EACH	\$495.0000	\$7,425.00
790-32.02	DOWN GUY - THROUGH BOLT TYPE HEAVY DUTY			
	Dement Construction Company, LLC	73.000 EACH	\$675.0000	\$49,275.00
790-32.07	OH GUY - THROUGH BOLT TYPE			
	Dement Construction Company, LLC	2.000 EACH	\$890.0000	\$1,780.00
790-32.08	OH GUY - THROUGH BOLT TYPE HEAVY DUTY			
	Dement Construction Company, LLC	37.000 EACH	\$1,065.0000	\$39,405.00
790-32.24	GUY (INSULATOR)			
	Dement Construction Company, LLC	70.000 EACH	\$260.0000	\$18,200.00
790-33.25	SCREW TYPE ANCHOR 15,000LB			
	Dement Construction Company, LLC	27.000 EACH	\$1,425.0000	\$38,475.00
790-33.26	SCREW TYPE ANCHOR 28,000LB			
	Dement Construction Company, LLC	30.000 EACH	\$1,630.0000	\$48,900.00
790-40.02	OH COND 2 7/1 ACSR SPARATE			
	Dement Construction Company, LLC	1,660.000 L.F.	\$4.6500	\$7,719.00
790-40.03	OH COND 1/0 6/1 ACSR RAVEN			
	Dement Construction Company, LLC	2,900.000 L.F.	\$5.0700	\$14,703.00
790-40.06	OH COND 4/0 6/1 ACSR PENGUIN			
	Dement Construction Company, LLC	5,000.000 L.F.	\$6.3200	\$31,600.00
790-40.49	OH COND 795 37 AAC ARBUTUS			
	Dement Construction Company, LLC	14,000.000 L.F.	\$11.9900	\$167,860.00

		UNIT PRICE	CONTRACT CNX912 EXTENSION
790-41.03 UG PRI COND 1/0 AL 15KV			
Dement Construction Company, LLC	270.000 L.F.	\$19.1600	\$5,173.20
790-42.10 4IN DIA PVC PIPE			
Dement Construction Company, LLC	3.000 L.F.	\$362.5000	\$1,087.50
790-42.17 2 DUCT BANK @ 36IN-48IN DEPTH			
Dement Construction Company, LLC	20.000 L.F.	\$362.5000	\$7,250.00
790-43.01 LOADBREAK ELBOW 200A 15KV			
Dement Construction Company, LLC	3.000 EACH	\$905.0000	\$2,715.00
790-43.08 ELBOW ARRESTER 200A 15KV			
Dement Construction Company, LLC	3.000 EACH	\$700.0000	\$2,100.00
790-43.34 UG GROUND ROD ASSEMBLY			
Dement Construction Company, LLC	1.000 EACH	\$430.0000	\$430.00
790-43.50 SECONDARY RISER W/ 2IN CONDUIT			
Dement Construction Company, LLC	2.000 EACH	\$2,585.0000	\$5,170.00
790-43.60 PRIMARY RISER (3PH PRIMARY RISER W/ 4IN CONDUIT)			
Dement Construction Company, LLC	1.000 EACH	\$6,710.0000	\$6,710.00
790-43.62 3PH PRIMARY RISER W/ 4IN CONDUIT			
Dement Construction Company, LLC	3.000 EACH	\$9,265.0000	\$27,795.00
790-46.03 1PH TRANSFORMER CONV W/XARM MTD FUSE & LA			
Dement Construction Company, LLC	10.000 EACH	\$1,785.0000	\$17,850.00
790-49.02 3PH XFMR BNK POLE MTD W/ FUSE/ARRESTERS			
Dement Construction Company, LLC	2.000 EACH	\$10,120.0000	\$20,240.00
790-51.06 3PH TRANSFORMER PAD - CONCRETE			
Dement Construction Company, LLC	1.000 EACH	\$2,635.0000	\$2,635.00

			UNIT PRICE	CONTRACT CNX912 EXTENSION
790-56.03	150KVA 3PH PAD MT XFMR 15KV 208/120			
	Dement Construction Company, LLC	1.000 EACH	\$8,775.0000	\$8,775.00
790-58.06	GOAB SWITCH 15KV			
	Dement Construction Company, LLC	1.000 EACH	\$14,525.0000	\$14,525.00
790-60.01	1PH FUSE CUTOUT XARM MOUNT 15KV			
	Dement Construction Company, LLC	6.000 EACH	\$585.0000	\$3,510.00
790-62.20	3PH OVR-3SP ELECTRONIC RECLOSER 15KV			
	Dement Construction Company, LLC	2.000 EACH	\$11,870.0000	\$23,740.00
790-65.03	LIGHTNING ARRESTER ARM MTD 9 KV			
	Dement Construction Company, LLC	6.000 EACH	\$425.0000	\$2,550.00
790-68.01	POLE GROUND ROD TYPE			
	Dement Construction Company, LLC	44.000 EACH	\$525.0000	\$23,100.00
790-68.10	MISCELLANEOUS ASSEMBLIES			
	Dement Construction Company, LLC	8.000 EACH	\$1,075.0000	\$8,600.00
790-74.19	12-96 FIBER(INSTALLATION ONLY)			
	Dement Construction Company, LLC	3,000.000 L.F.	\$8.7800	\$26,340.00
790-74.31	FIBER TANGENT ASSEMBLY			
	Dement Construction Company, LLC	22.000 EACH	\$490.0000	\$10,780.00
790-74.32	FIBER DEADEND ASSEMBLY			
	Dement Construction Company, LLC	33.000 EACH	\$780.0000	\$25,740.00
790-74.34	FIBER STORAGE SINGLE LOOP			
	Dement Construction Company, LLC	3.000 EACH	\$1,750.0000	\$5,250.00
790-74.37	FIBER SERVICE ATTACHMENT			
	Dement Construction Company, LLC	4.000 EACH	\$435.0000	\$1,740.00

			CONTRACT CNX912
		UNIT PRICE	EXTENSION
790-98.01 REMOVE WIRE	22.054.000   5		
Dement Construction Company, LLC	23,054.000 L.F.	\$4.3900	\$101,207.06
790-98.02 REMOVE POLES	2.000 EACH		
Dement Construction Company, LLC		\$1,055.0000	\$2,110.00
790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS	290.000 EACH		
Dement Construction Company, LLC	290.000 EACH	\$525.0000	\$152,250.00
790-98.04 REMOVE FIBER OPTIC CABLE			
	2,440.000 L.F.		

Dement Construction Company, LLC

\$3.5100

\$8,564.40

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNX912 EXTENSION
791-01.03 3IN STEEL GAS MAIN			
Dement Construction Company, LLC	915.000 L.F.	\$132.0000	\$120,780.00
791-01.04 4IN STEEL GAS MAIN			
Dement Construction Company, LLC	512.000 L.F.	\$132.0000	\$67,584.00
791-02.02 2IN MDPE GAS MAIN			
Dement Construction Company, LLC	465.000 L.F.	\$98.0000	\$45,570.00
791-02.04 4IN MDPE GAS MAIN			
Dement Construction Company, LLC	2,880.000 L.F.	\$98.0000	\$282,240.00
791-04.02 HDD 2IN PE PIPE - UNCONSOLIDATED			
Dement Construction Company, LLC	75.000 L.F.	\$240.0000	\$18,000.00
791-04.04 HDD 4IN PE PIPE - UNCONSOLIDATED			
Dement Construction Company, LLC	605.000 L.F.	\$240.0000	\$145,200.00
791-04.21 HDD 3IN STEEL PIPE - UNCONSOLIDATED			
Dement Construction Company, LLC	310.000 L.F.	\$240.0000	\$74,400.00
791-06.02 CONNECT TO 2IN EX. PE MAIN			
Dement Construction Company, LLC	2.000 EACH	\$2,800.0000	\$5,600.00
791-06.03 CONNECT TO 4IN EX. PE MAIN			
Dement Construction Company, LLC	2.000 EACH	\$3,200.0000	\$6,400.00
791-06.31 CONNECT TO 2IN EX. STL MAIN W/ STOPPLE			
Dement Construction Company, LLC	1.000 EACH	\$18,500.0000	\$18,500.00
791-06.32 CONNECT TO 4IN EX. STL MAIN W/ STOPPLE			
Dement Construction Company, LLC	2.000 EACH	\$18,500.0000	\$37,000.00
791-06.38 CONNECT TOIN EX. STL MAIN W/ STOPPLE			

2.000 EACH

Dement Construction Company, LLC

\$37,000.00

\$18,500.0000

		UNIT PRICE	CONTRACT CNX912 EXTENSION
791-07.01	2IN PE GAS VALVE ASSEMBLY		
	Dement Construction Company, LLC	<b>1.000 EACH</b> \$600.0000	\$600.00
791-07.02	4IN PE GAS VALVE ASSEMBLY		
	Dement Construction Company, LLC	<b>3.000 EACH</b> \$850.0000	\$2,550.00
791-08.02	3/4IN SERVICE ASSEMBLY		
	Dement Construction Company, LLC	<b>6.000 EACH</b> \$2,800.0000	\$16,800.00
791-08.07	3/4IN PE SERVICE PIPE		
	Dement Construction Company, LLC	<b>530.000 L.F.</b> \$32.0000	\$16,960.00
791-08.08	1IN PE SERVICE PIPE		
	Dement Construction Company, LLC	<b>15.000 L.F.</b> \$32.0000	\$480.00
791-08.17	HDD 3/4IN PE SERVICE PIPE		
	Dement Construction Company, LLC	<b>150.000 L.F.</b> \$200.0000	\$30,000.00
791-08.40	RECONNECT SERVICE ASSEMBLY	40.000 = 4.000	
	Dement Construction Company, LLC	<b>18.000 EACH</b> \$1,200.0000	\$21,600.00

1.000 LS

\$500.0000

**791-10.10 RETIRE GAS MAIN** 

Dement Construction Company, LLC

\$500.00

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNX912 EXTENSION
793-01.02 POLE 30FT CLASS 5 WOOD	1.000 EACH		
Dement Construction Company, LLC	1.000 EACH	\$2,200.0000	\$2,200.00
793-01.07 POLE 35FT CLASS 4 WOOD			
Dement Construction Company, LLC	2.000 EACH	\$2,800.0000	\$5,600.00
793-01.11 POLE 40FT CLASS 3 WOOD			
Dement Construction Company, LLC	5.000 EACH	\$3,800.0000	\$19,000.00
793-01.20 POLE 50FT CLASS 2 WOOD			
Dement Construction Company, LLC	1.000 EACH	\$4,800.0000	\$4,800.00
793-01.23 POLE 55FT CLASS 1 WOOD	4 000 5 4 0 1		
Dement Construction Company, LLC	1.000 EACH	\$5,800.0000	\$5,800.00
793-01.24 POLE 55FT CLASS 2 WOOD			
Dement Construction Company, LLC	14.000 EACH	\$5,600.0000	\$78,400.00
793-01.28 POLE 60FT CLASS 2 WOOD	4 000 5 4 0 11		
Dement Construction Company, LLC	4.000 EACH	\$6,800.0000	\$27,200.00
793-01.30 POLE 65FT CLASS 1 WOOD	4 000 54 011		
Dement Construction Company, LLC	1.000 EACH	\$12,600.0000	\$12,600.00
793-01.41 ANCHOR 1IN	00 000 54 011		
Dement Construction Company, LLC	22.000 EACH	\$1,200.0000	\$26,400.00
793-13.07 4IN SCHEDULE 40 PVC			
Dement Construction Company, LLC	131.000 L.F.	\$18.0000	\$2,358.00
793-13.12 1 DUCT FORMATION @ 36IN DEPTH			
Dement Construction Company, LLC	37.000 L.F.	\$44.0000	\$1,628.00
793-13.17 2 DUCT FORMATION @ 36IN DEPTH	4 <del>-</del>		
Dement Construction Company, LLC	47.000 L.F.	\$56.0000	\$2,632.00

CONTRACT CNX912

UNIT PRICE EXTENSION

793-98.04 REMOVE POLES ALL SIZES

32.000 EACH

Dement Construction Company, LLC \$500.0000 \$16,000.00

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNX912 EXTENSION
795-01.04 6IN DIP SLIP JOINT WATER LINE			
Dement Construction Company, LLC	2,300.000 L.F.	\$74.5500	\$171,465.00
795-01.06 8IN DIP SLIP JOINT WATER LINE			
Dement Construction Company, LLC	40.000 L.F.	\$88.2000	\$3,528.00
795-01.07 10IN DIP RESTRAINED JOINT WATER LINE			
Dement Construction Company, LLC	400.000 L.F.	\$114.4500	\$45,780.00
795-01.08 10IN DIP SLIP JOINT WATER LINE			
Dement Construction Company, LLC	2,500.000 L.F.	\$103.9500	\$259,875.00
795-02.07 12IN HDPE WATER LINE			
Dement Construction Company, LLC	475.000 L.F.	\$70.3500	\$33,416.25
795-03.02 2IN PVC WATER LINE			
Dement Construction Company, LLC	10.000 L.F.	\$51.4500	\$514.50
795-03.04 4IN PVC WATER LINE			
Dement Construction Company, LLC	10.000 L.F.	\$68.2500	\$682.50
795-03.05 6IN PVC WATER LINE			
Dement Construction Company, LLC	10.000 L.F.	\$89.2500	\$892.50
795-05.10 HDD 20IN HDPE CASING PIPE-UNCON			
Dement Construction Company, LLC	225.000 L.F.	\$1,561.3500	\$351,303.75
795-05.14 HDDIN HDPE CASING PIPE-UNCON			
Dement Construction Company, LLC	800.000 L.F.	\$109.2000	\$87,360.00
795-05.24 HDD 20IN HDPE CASING PIPE-ROCK	200.000 L.F.		
Dement Construction Company, LLC		\$1,557.1500	\$311,430.00
795-05.63 BORE/JACK 12IN STEEL CASING PIPE-UNCON.			

310.000 L.F.

Dement Construction Company, LLC

\$129,549.00

\$417.9000

				CONTRACT CNX912
			UNIT PRICE	EXTENSION
795-06.03	CONNECT TO 4IN WATER LINE			
	Dement Construction Company, LLC	2.000 EACH	\$2,194.5000	\$4,389.00
795-06.04	CONNECT TO 6IN WATER LINE			
	Dement Construction Company, LLC	9.000 EACH	\$2,541.0000	\$22,869.00
795-06.05	CONNECT TO 8IN WATER LINE			
	Dement Construction Company, LLC	1.000 EACH	\$3,003.0000	\$3,003.00
795-06.06	CONNECT TO 10IN WATER LINE			
	Dement Construction Company, LLC	2.000 EACH	\$3,465.0000	\$6,930.00
795-06.30	CUT/CAP EXISTING LINES (ALL SIZES)			
	Dement Construction Company, LLC	14.000 EACH	\$437.8500	\$6,129.90
795-07.03	6IN X 6IN TAPPING SLEEVE AND VALVE			
	Dement Construction Company, LLC	2.000 EACH	\$6,918.4500	\$13,836.90
795-08.03	4IN GATE VALVE ASSEMBLY			
	Dement Construction Company, LLC	2.000 EACH	\$2,148.3000	\$4,296.60
795-08.04	6IN GATE VALVE ASSEMBLY	40 000 54 011		
	Dement Construction Company, LLC	12.000 EACH	\$2,676.4500	\$32,117.40
795-08.05	8IN GATE VALVE ASSEMBLY	4 =- 0.1		
	Dement Construction Company, LLC	1.000 EACH	\$3,961.6500	\$3,961.65
795-08.06	10IN GATE VALVE ASSEMBLY			
	Dement Construction Company, LLC	6.000 EACH	\$5,740.3500	\$34,442.10
795-09.09	RELOCATE/RECONNECT SERVICE ASSEMBLY			
	Dement Construction Company, LLC	25.000 EACH	\$1,457.4000	\$36,435.00
795-09.37	3/4IN SERVICE PIPE	4 000 000 1 =		
	Dement Construction Company, LLC	1,000.000 L.F.	\$25.2000	\$25,200.00

90.000 L.F.

Dement Construction Company, LLC

795-15.04 18IN STEEL CASING PIPE OPEN CUT METHOD

Dement Construction Company, LLC

\$714.00

\$29,767.50

\$35,7000

\$330.7500

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNX912 EXTENSION
797-05.51 8IN PVC GRAVITY SEWER 0FT-6FT DEPTH	65.000 L.F.		
Dement Construction Company, LLC	65.000 L.F.	\$144.9000	\$9,418.50
797-05.52 8IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
Dement Construction Company, LLC	795.000 L.F.	\$151.2000	\$120,204.00
797-05.55 10IN PVC GRAVITY SEWER 0FT-6FT DEPTH	20.000 L.F.		
Dement Construction Company, LLC	20.000 L.F.	\$164.8500	\$3,297.00
797-05.56 10IN PVC GRAVITY SEWER 6FT-12FT DEPTH	000 000 1 5		
Dement Construction Company, LLC	660.000 L.F.	\$161.7000	\$106,722.00
797-05.57 10IN PVC GRAVITY SEWER 12FT-18FT DEPTH			
Dement Construction Company, LLC	170.000 L.F.	\$269.8500	\$45,874.50
797-05.68 18IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
Dement Construction Company, LLC	115.000 L.F.	\$223.6500	\$25,719.75
797-06.65 BORE/JACK 18IN STEEL CASING PIPE-UNCON.	20 000 L E		
Dement Construction Company, LLC	30.000 L.F.	\$603.7500	\$18,112.50
797-06.91 OPEN CUT 18IN STEEL CASING PIPE	70.000 L.F.		
Dement Construction Company, LLC	70.000 L.F.	\$327.6000	\$22,932.00
797-06.93 OPEN CUT 24IN STEEL CASING PIPE			
Dement Construction Company, LLC	87.000 L.F.	\$342.3000	\$29,780.10
797-07.02 48IN MANHOLE 4FT-6FT DEPTH	1.000 EACH		
Dement Construction Company, LLC		\$5,666.8500	\$5,666.85
797-07.04 48IN MANHOLE 8FT-10FT DEPTH			
Dement Construction Company, LLC	5.000 EACH	\$7,128.4500	\$35,642.25

2.000 EACH

797-07.05 48IN MANHOLE 10FT-12FT DEPTH

Dement Construction Company, LLC

\$15,808.80

\$7,904.4000

			UNIT PRICE	CONTRACT CNX912 EXTENSION
797-07.06	48IN MANHOLE 12FT-14FT DEPTH			
	Dement Construction Company, LLC	3.000 EACH	\$9,394.3500	\$28,183.05
797-07.56	MANHOLE DROP CONNECTION ASSEMBLY			
	Dement Construction Company, LLC	2.000 EACH	\$3,242.4000	\$6,484.80
797-07.60	ADJUST EXISTING MANHOLE			
	Dement Construction Company, LLC	6.000 EACH	\$843.1500	\$5,058.90
797-07.75	TRAFFIC RATED FRAMES AND COVERS	0.000 54.00		
	Dement Construction Company, LLC	9.000 EACH	\$770.7000	\$6,936.30
797-07.80	REMOVE SEWER MANHOLE	4 000 54 011		\$5,544.00
	Dement Construction Company, LLC	1.000 EACH	\$5,544.0000	
797-08.05	6IN PVC PIPE FOR SERVICE LATERAL			
	Dement Construction Company, LLC	300.000 L.F.	\$73.5000	\$22,050.00
797-08.08	6IN CLEAN OUT ASSEMBLY			
	Dement Construction Company, LLC	9.000 EACH	\$1,598.1000	\$14,382.90
797-08.20	CONNECT SERVICE LINES (ALL SIZES)	0.000 54.011		
	Dement Construction Company, LLC	9.000 EACH	\$1,476.3000	\$13,286.70
797-10.02	CONNECT 8IN SEWER TO EXIST. MANHOLE	4.000 = 4.000		
	Dement Construction Company, LLC	1.000 EACH	\$3,060.7500	\$3,060.75
797-10.03	CONNECT 10-18IN SEWER TO EXIST. MANHOLE	4.000 = 4.000		
	Dement Construction Company, LLC	1.000 EACH	\$3,349.5000	\$3,349.50
797-10.08	CONNECT EX. 6IN SEWER TO NEW MANHOLE			
	Dement Construction Company, LLC	1.000 EACH	\$3,163.6500	\$3,163.65
797-10.09	CONNECT EX. 8IN SEWER TO NEW MANHOLE	4 000 540		
	Dement Construction Company, LLC	1.000 EACH	\$3,177.3000	\$3,177.30

		UNIT PRICE	CONTRACT CNX912  EXTENSION
797-10.10 CONNECT EX.10-18IN SEWER TO NEW MANHOLE			
Dement Construction Company, LLC	2.000 EACH	\$4,504.5000	\$9,009.00
797-11.25 RETIREIN PLACE 48IN MANHOLE			
Dement Construction Company, LLC	6.000 EACH	\$1,415.4000	\$8,492.40
797-11.31 RETIREIN PLACE EXISTING SEWER 8IN-14IN			
Dement Construction Company, LLC	1,225.000 L.F.	\$6.3000	\$7,717.50
797-11.32 RETIREIN PLACE EXISTING SEWER 15IN-24IN			
Dement Construction Company, LLC	90.000 L.F.	\$6.3000	\$567.00
797-11.38 BY-PASS PUMPING			
Dement Construction Company, LLC	1.000 LS	\$78,687.0000	\$78,687.00
797-11.40 RESTORE ASPHALT			
Dement Construction Company, LLC	50.000 S.Y.	\$464.1000	\$23,205.00
797-11.50 FRAME AND COVER (WATERTIGHT)			
Dement Construction Company, LLC	2.000 EACH	\$1,451.1000	\$2,902.20
797-40.01 CONCRETE ENCASEMENT			
	40.000 L.F.		

Dement Construction Company, LLC

\$5,586.00

\$139.6500

#### **SUB-TOTAL ROADWAY**

Dement Construction Company, LLC	\$14,992,358.79
SUB-TOTAL BRIDGE	
Dement Construction Company, LLC	\$5,983,973.75
SUB-TOTAL UTILITY	
Dement Construction Company, LLC	\$1,127,319.16
SUB-TOTAL UTILITY	
Dement Construction Company, LLC	\$947,764.00
SUB-TOTAL UTILITY	
Dement Construction Company, LLC	\$204,618.00
SUB-TOTAL UTILITY	
Dement Construction Company, LLC	\$1,957,524.45
SUB-TOTAL UTILITY	
Dement Construction Company, LLC	\$690,022.20
TOTAL CONTRACT	
Dement Construction Company, LLC	\$25,903,580.35

#### KNOX COUNTY (Contract No. CNX911 Call 002)

n/a,47I040-M3-009

THE REPAIR OF THE BRIDGE ON I-40 OVER U.S. 11E (U.S. 70, S.R. 9, ASHEVILLE HIGHWAY) (L.M. 25.09).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2024

TOTAL CONTRACT

Southern Constructors, Inc.

\$298,445.00

BRIDGE	CATEGORY		UNIT PRICE	CONTRACT CNX911  EXTENSION
604 40 05	CONCRETE			
604-10.05	Southern Constructors, Inc.	30.000 S.F.	\$500.0000	\$15,000.00
604-10.69	PRESTRESSING STRAND SPLICE			
	Southern Constructors, Inc.	5.000 EACH	\$8,000.0000	\$40,000.00
604-10.83	COMPOSITE FIBER ENCASEMENT			
	Southern Constructors, Inc.	112.000 S.F.	\$250.0000	\$28,000.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Southern Constructors, Inc.	1.000 LS	\$30,000.0000	\$30,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Southern Constructors, Inc.	110.000 EACH	\$45.0000	\$4,950.00
712-06	SIGNS (CONSTRUCTION)			
	Southern Constructors, Inc.	717.000 S.F.	\$15.0000	\$10,755.00
712-08.03	ARROW BOARD (TYPE C)			
	Southern Constructors, Inc.	6.000 EACH	\$3,000.0000	\$18,000.00
712-08.12	QUEUE PROTECTION TRUCK			
	Southern Constructors, Inc.	20.000 DAY	\$3,500.0000	\$70,000.00
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
	Southern Constructors, Inc.	2,930.000 L.F.	\$5.0000	\$14,650.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Southern Constructors, Inc.	7.000 EACH	\$5,000.0000	\$35,000.00
713-16.02	TRUCK MOUNTED IMPACT ATTENUATOR (W/FLAS	SHING ARROW BOARD)		
	Southern Constructors, Inc.	1.000 EACH	\$4,500.0000	\$4,500.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)	4 400 000 1 5		
	Southern Constructors, Inc.	1,100.000 L.F.	\$2.5000	\$2,750.00

			CONTRACT CNX911
		UNIT PRICE	EXTENSION
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	0.000   14		
Southern Constructors, Inc.	0.220 L.M.	\$22,000.0000	\$4,840.00
717-01 MOBILIZATION			
	1.000 LS		

Southern Constructors, Inc.

\$20,000.0000

\$20,000.00

## SUB-TOTAL BRIDGE

Southern Constructors, Inc. \$298,445.00

#### **TOTAL CONTRACT**

Southern Constructors, Inc. \$298,445.00

COUNTIES ANDERSON, BLOUNT, CAMPBELL, COCKE, GRAINGER, JEFFERSON, KNOX, LOUDON, MONROE, ROANE, AND SEVIER (Contract No. CNX329 Call 003)

n/a,R1BVAR-M3-033

THE SWEEPING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Sweeping Corporation of America, LLC

\$796,028.72

CONTRACT CNX329

UNIT PRICE EXTENSION

**MAINTENANCE CATEGORY** 

719-01 SWEEPING

16,127.000 L.M.

Sweeping Corporation of America, LLC \$49.3600 \$796,028.72

## **SUB-TOTAL MAINTENANCE**

Sweeping Corporation of America, LLC

\$796,028.72

#### **TOTAL CONTRACT**

Sweeping Corporation of America, LLC

\$796,028.72

COUNTIES ANDERSON, BLOUNT, CAMPBELL, COCKE, GRAINGER, JEFFERSON, KNOX, LOUDON, MONROE, ROANE, AND SEVIER (Contract No. CNX341 Call 004)

n/a,R1BVAR-M3-034

THE DRAIN CLEANING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Sweeping Corporation of America, LLC

\$155,300.00

MAINTENANCE CATEGORY		UNIT PRICE	EXTENSION
611-07.11 CLEAN DRAIN(WITH GRATE)			
Sweeping Corporation of America, LLC	1,200.000 EACH	\$79.0000	\$94,800.00
611-07.12 CLEAN DRAIN(WALL DRAIN)	400 000 54 011		
Sweeping Corporation of America, LLC	100.000 EACH	\$59.0000	\$5,900.00
611-07.13 PIPE CLEANING (<18IN DIA.)			
Sweeping Corporation of America, LLC	800.000 L.F.	\$3.0000	\$2,400.00
611-07.14 PIPE CLEANING (>OR=18IN DIA.)			
Sweeping Corporation of America, LLC	2,400.000 L.F.	\$8.0000	\$19,200.00
611-07.20 HEAVY DRAIN CLEANING			
Sweeping Corporation of America, LLC	40.000 EACH	\$200.0000	\$8,000.00
712-01.02 LANE CLOSURE			

Sweeping Corporation of America, LLC

50.000 EACH

\$500.0000

\$25,000.00

## **SUB-TOTAL MAINTENANCE**

Sweeping Corporation of America, LLC

\$155,300.00

#### **TOTAL CONTRACT**

Sweeping Corporation of America, LLC

\$155,300.00

#### BRADLEY COUNTY (Contract No. CNX362 Call 005)

HSIP-I-75-1(151),06001-3184-44

THE GRADING, DRAINAGE, SIGNALS, AND PAVING WITH PORTLAND CEMENT CONCRETE ON THE I-75 RAMPS AT PAUL HUFF PARKWAY IN CLEVELAND (L.M. 10.92 TO L.M. 11.52).

PROJECT LENGTH - 0.271 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2024

**DBE GOAL 8.50%** 

TOTAL CONTRACT

Summers-Taylor, Inc.
Adams Contracting, LLC

\$2,296,681.47

\$2,427,269.00

CONTRACT CNX3	62
---------------	----

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Summers-Taylor, Inc.		\$40,000.0000	\$40,000.00
	Adams Contracting, LLC		\$30,000.0000	\$30,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Summers-Taylor, Inc.		\$11,800.0000	\$11,800.00
	Adams Contracting, LLC		\$15,000.0000	\$15,000.00
202-08.15	REMOVAL OF CURB AND GUTTER (SEE PLANS)			
		370.000 L.F.		
	Summers-Taylor, Inc.		\$17.0000	\$6,290.00
	Adams Contracting, LLC		\$25.0000	\$9,250.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		3,657.000 C.Y.		
	Summers-Taylor, Inc.	,	\$71.0000	\$259,647.00
	Adams Contracting, LLC		\$40.0000	\$146,280.00
	•			
203-04	PLACING AND SPREADING TOPSOIL			
		820.000 C.Y.		
	Summers-Taylor, Inc.	020.000 0.11.	\$38.0000	\$31,160.00
	Adams Contracting, LLC		\$25.0000	\$20,500.00
	, realing confidence, and		Ψ=0.0000	Ψ=0,000.00
203-06	WATER			
		25.000 M.G.		
	Summers-Taylor, Inc.	23.000 M.G.	\$12.5000	\$312.50
	Adams Contracting, LLC		\$120.0000	\$3,000.00
	Adding Contracting, LLC		Ψ120.0000	ψο,οσο.σο
204-08 01	BACKFILL MATERIAL (FLOWABLE FILL)			
204 00.01	DAON ILL MATERIAL (I LOVADEL TILL)	12.000 C.Y.		
	Curamana Taulan Ina	12.000 C.Y.	¢070,0000	¢40 520 00
	Summers-Taylor, Inc. Adams Contracting, LLC		\$878.0000 \$450.0000	\$10,536.00 \$5,400.00
	Adams Contracting, LLC		φ430.0000	φ5,400.00
200-03-21	FILTER SOCK (12 INCH)			
203-03.21	TIETER GOOR (12 INOTI)	400.000   5		
	0	400.000 L.F.	Ф0 5000	Ф0 000 00
	Summers-Taylor, Inc.		\$6.5000	\$2,600.00
	Adams Contracting, LLC		\$8.0000	\$3,200.00
209-05	SEDIMENT REMOVAL			
209-05	SEDIMENT REMOVAL			
		102.000 C.Y.		
	Summers-Taylor, Inc.		\$43.0000	\$4,386.00
	Adams Contracting, LLC		\$20.0000	\$2,040.00
000 00 00	TEMPODADY OUT FENOR (MITHOUT TANKE)			
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		118.000 L.F.		
	Summers-Taylor, Inc.		\$1.5500	\$182.90
	Adams Contracting, LLC		\$6.0000	\$708.00
				PAGE

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
209-08.07	ROCK CHECK DAM			
		8.000 EACH		
	Summers-Taylor, Inc.		\$684.0000	\$5,472.00
	Adams Contracting, LLC		\$960.0000	\$7,680.00
209-08.08	ENHANCED ROCK CHECK DAM			
		2.000 EACH		
	Summers-Taylor, Inc. Adams Contracting, LLC		\$1,020.0000 \$3,200.0000	\$2,040.00 \$6,400.00
	Adding Contracting, LEC		ψο,200.0000	ψ0,400.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
	0 7 1 1	8.000 EACH	<b>#050.000</b>	<b>#0.070.00</b>
	Summers-Taylor, Inc. Adams Contracting, LLC		\$259.0000 \$520.0000	\$2,072.00 \$4,160.00
	3,		***	, ,
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
	Ourse Today Iva	3.000 EACH	<b>#</b> 400,000	<b>#4.000.00</b>
	Summers-Taylor, Inc. Adams Contracting, LLC		\$402.0000 \$430.0000	\$1,206.00 \$1,290.00
	G.		·	. ,
209-40.45	CATCH BASIN FILTER ASSEMBLY(TYPE 5)			
	Summere Toylor Inc	1.000 EACH	¢1 780 0000	¢1 790 00
	Summers-Taylor, Inc. Adams Contracting, LLC		\$1,780.0000 \$2,800.0000	\$1,780.00 \$2,800.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	0.405.000 TON		
	Summers-Taylor, Inc.	3,165.000 TON	\$58.0000	\$183,570.00
	Adams Contracting, LLC		\$60.0000	\$189,900.00
303-10.01	MINERAL AGGREGATE (SIZE 57)	9.000 TON		
	Summers-Taylor, Inc.	9.000 TON	\$100.0000	\$900.00
	Adams Contracting, LLC		\$90.0000	\$810.00
307-01 21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S			
307-01.21	ASI : 00140. MIX(1 070-22) (BI MB-11M) GIV. A-0	959.000 TON		
	Summers-Taylor, Inc.		\$275.0000	\$263,725.00
	Adams Contracting, LLC		\$280.0000	\$268,520.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
		43.000 TON		
	Summers-Taylor, Inc.		\$300.0000	\$12,900.00
	Adams Contracting, LLC		\$330.0000	\$14,190.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2	<u>.</u>		
		28.000 TON		
	Summers-Taylor, Inc.		\$450.0000	\$12,600.00
	Adams Contracting, LLC		\$500.0000	\$14,000.00

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		7.000 TON		
	Summers-Taylor, Inc. Adams Contracting, LLC		\$1,500.0000 \$1,600.0000	\$10,500.00 \$11,200.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		27.000 TON		
	Summers-Taylor, Inc.		\$150.0000	\$4,050.00
	Adams Contracting, LLC		\$160.0000	\$4,320.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		0.200 TON		
	Summers-Taylor, Inc.		\$1,500.0000	\$300.00
	Adams Contracting, LLC		\$1,700.0000	\$340.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
		620.000 L.F.		
	Summers-Taylor, Inc.		\$6.9000	\$4,278.00
	Adams Contracting, LLC		\$5.0000	\$3,100.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	,	17.000 TON		
	Summers-Taylor, Inc.		\$500.0000	\$8,500.00
	Adams Contracting, LLC		\$550.0000	\$9,350.00
501-01 03	PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10"			
301-01.03	TORTERNO CEMENT CONCRETE LAVEMENT (LEAIN) TO	2,514.000 S.Y.		
	Summers-Taylor, Inc.	2,314.000 3.1.	\$121.0000	\$304,194.00
	Adams Contracting, LLC		\$205.0000	\$515,370.00
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)			
		12.000 L.F.		
	Summers-Taylor, Inc. Adams Contracting, LLC		\$405.0000 \$300.0000	\$4,860.00 \$3,600.00
	Adams Contracting, LLC		φ300.0000	φ3,000.00
611-09.03	CAPPING EXISTING CATCHBASIN			
		1.000 EACH		
	Summers-Taylor, Inc.		\$2,050.0000	\$2,050.00
	Adams Contracting, LLC		\$1,500.0000	\$1,500.00
611-14.02	CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
		1.000 EACH		
	Summers-Taylor, Inc.		\$13,200.0000	\$13,200.00
	Adams Contracting, LLC		\$18,000.0000	\$18,000.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		32.000 C.Y.		
	Summers-Taylor, Inc.		\$863.0000	\$27,616.00
	Adams Contracting, LLC		\$1,200.0000	\$38,400.00

			СО	NTRACT CNX362
			UNIT PRICE	EXTENSION
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
		1.000 EACH		
	Summers-Taylor, Inc.		\$2,630.0000	\$2,630.00
	Adams Contracting, LLC		\$1,700.0000	\$1,700.00
705-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
		1.000 EACH		
	Summers-Taylor, Inc.		\$2,100.0000	\$2,100.00
	Adams Contracting, LLC		\$1,700.0000	\$1,700.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		1.000 EACH		
	Summers-Taylor, Inc.		\$5,020.0000	\$5,020.00
	Adams Contracting, LLC		\$3,800.0000	\$3,800.00
706-01	GUARDRAIL REMOVED			
		40.000 L.F.		
	Summers-Taylor, Inc.		\$7.0000	\$280.00
	Adams Contracting, LLC		\$15.0000	\$600.00
706-06.03	RADIUS RAIL			
		88.000 L.F.		
	Summers-Taylor, Inc.		\$57.0000	\$5,016.00
	Adams Contracting, LLC		\$54.0000	\$4,752.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		810.000 L.F.		
	Summers-Taylor, Inc. Adams Contracting, LLC		\$2.6000 \$4.0000	\$2,106.00
	Adams Contracting, LLC		\$4.0000	\$3,240.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Oursesson Tenden Inc.	201.000 TON	<b>#</b> 400,0000	<b>#00 500 00</b>
	Summers-Taylor, Inc. Adams Contracting, LLC		\$102.0000 \$75.0000	\$20,502.00 \$15,075.00
	Adding Continuoung, LLC		Ψ70.0000	Ψ10,070.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Cummara Taylar Ina	46.000 TON	¢422.0000	¢c 072 00
	Summers-Taylor, Inc. Adams Contracting, LLC		\$132.0000 \$75.0000	\$6,072.00 \$3,450.00
	Adding Collings, 220		ψ. ο.οοοο	φο, 100.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)	4 400 000   5		
	Summers-Taylor, Inc.	1,429.000 L.F.	\$17.0000	\$24,293.00
	Adams Contracting, LLC		\$25.0000	\$35,725.00
	Adding Collings, 220		Ψ20.0000	ψοσ,7 20.00
710-05	LATERAL UNDERDRAIN	240 000 1 5		
	Summers-Taylor, Inc.	248.000 L.F.	\$12.5000	\$3,100.00
	Adams Contracting, LLC		\$50.0000	\$12,400.00
	· · · · · · · · · · · · · · · · ·		<del>+</del> 3000	,,

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
			ONTTRICE	EXTENSION
710-06.15 LATER	AL UNDERDRAIN ENDWALL (6:1)			
		13.000 EACH		
	ers-Taylor, Inc.		\$1,470.0000	\$19,110.00
Adams	Contracting, LLC		\$3,000.0000	\$39,000.00
712-01 TRAFFI	C CONTROL			
		1.000 LS		
Summe	ers-Taylor, Inc.		\$47,500.0000	\$47,500.00
	Contracting, LLC		\$200,000.0000	\$200,000.00
740 00 00 INITED	ACMMENTED DODTARI E RARRIER RAII			
712-02.02 INTERC	CONNECTED PORTABLE BARRIER RAIL	000 000 L E		
Summe	ers-Taylor, Inc.	980.000 L.F.	\$59.0000	\$57,820.00
	Contracting, LLC		\$50.0000	\$49,000.00
712-02.36 REMOV	E AND RELOCATE PORTABLE BARRIER RAIL			
		920.000 L.F.		
	ers-Taylor, Inc.		\$9.4000	\$8,648.00
Adams	Contracting, LLC		\$16.0000	\$14,720.00
712-02.60 TEMPO	RARY WORK ZONE CRASH CUSHION (MASH TL-3)			
		4.000 EACH		
	ers-Taylor, Inc.		\$8,330.0000	\$33,320.00
Adams	Contracting, LLC		\$10,000.0000	\$40,000.00
712-04.01 FLEXIB	LE DRUMS (CHANNELIZING)			
		148.000 EACH		
Summe	ers-Taylor, Inc.		\$34.5000	\$5,106.00
Adams	Contracting, LLC		\$33.0000	\$4,884.00
712-04.50 BARRIE	ER RAIL DELINEATOR			
Summo	ers-Taylor, Inc.	80.000 EACH	\$17.0000	\$1,360.00
	Contracting, LLC		\$17.0000	\$1,360.00
	<b>5</b> ,		·	, ,
712-05.03 WARNI	NG LIGHTS (TYPE C)			
		74.000 EACH		
	ers-Taylor, Inc.		\$32.0000	\$2,368.00
Adams	Contracting, LLC		\$31.0000	\$2,294.00
712-06 SIGNS	(CONSTRUCTION)			
		388.000 S.F.		
Summe	ers-Taylor, Inc.		\$17.0000	\$6,596.00
Adams	Contracting, LLC		\$17.0000	\$6,596.00
712-00 02 48804	V BOARD (TVRE C)			
112-00.03 ARROV	V BOARD (TYPE C)	4.000 EACH		
0	T	7.000 LACH	<b>C4</b> 440 0000	ФЕ <b>7</b> 00 00

Summers-Taylor, Inc. Adams Contracting, LLC \$5,760.00

\$5,600.00

\$1,440.0000

\$1,400.0000

CONTRACT	CNX362
----------	--------

			00	MINACI CHASCE
			UNIT PRICE	EXTENSION
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		2,940.000 L.F.		
	Summers-Taylor, Inc.		\$4.9000	\$14,406.00
	Adams Contracting, LLC		\$5.0000	\$14,700.00
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
		3,949.000 L.F.		
	Summers-Taylor, Inc.		\$4.3000	\$16,980.70
	Adams Contracting, LLC		\$5.0000	\$19,745.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)			
		6.000 C.Y.		
	Summers-Taylor, Inc.		\$787.0000	\$4,722.00
	Adams Contracting, LLC		\$1,400.0000	\$8,400.00
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUF	PPORTS)		
		1,110.000 LB.		
	Summers-Taylor, Inc.		\$4.6000	\$5,106.00
	Adams Contracting, LLC		\$6.0000	\$6,660.00
713-02.11	REMOVAL OF EXISTING DELINEATORS			
		6.000 EACH		
	Summers-Taylor, Inc.		\$13.0000	\$78.00
	Adams Contracting, LLC		\$11.0000	\$66.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		6.000 EACH		
	Summers-Taylor, Inc.		\$65.0000	\$390.00
	Adams Contracting, LLC		\$61.0000	\$366.00
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPOR	т		
		4,680.000 LB.		
	Summers-Taylor, Inc.		\$7.1000	\$33,228.00
	Adams Contracting, LLC		\$7.0000	\$32,760.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		705.000 LB.		
	Summers-Taylor, Inc.		\$6.6000	\$4,653.00
	Adams Contracting, LLC		\$7.0000	\$4,935.00
713-11.21	P POST SLIP BASE			
		19.000 EACH		
	Summers-Taylor, Inc.		\$672.0000	\$12,768.00
	Adams Contracting, LLC		\$610.0000	\$11,590.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		139.000 S.F.		
	Summers-Taylor, Inc.		\$42.5000	\$5,907.50
	Adams Contracting, LLC		\$46.0000	\$6,394.00

CON	NTR/	1CT	CNX362

				NIRACI CNX362
			UNIT PRICE	EXTENSION
713-14.21	STREET NAME SIGN (RIGID 0.100IN THICK			
		48.000 S.F.		
	Summers-Taylor, Inc.		\$74.5000	\$3,576.00
	Adams Contracting, LLC		\$59.0000	\$2,832.00
	<b>G</b> .			
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Summers-Taylor, Inc.		\$1,840.0000	\$1,840.00
	Adams Contracting, LLC		\$110.0000	\$110.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		4.000 EACH		
	Summers-Taylor, Inc.		\$25,700.0000	\$102,800.00
	Adams Contracting, LLC		\$6,900.0000	\$27,600.00
713-16.50	REMOVE AND REPLACE SIGN (TOURIST INFO SIGN)			
		1.000 EACH		
	Summers-Taylor, Inc.		\$190.0000	\$190.00
	Adams Contracting, LLC		\$820.0000	\$820.00
740 40 54	DEMOVE AND DEDUCACE CION (MAIS MAIA O AND MOA)	NOV 400514DLV		
/13-16.51	REMOVE AND REPLACE SIGN (M4-5, M1-4.2, AND M6-1 S	•		
		1.000 EACH	*	
	Summers-Taylor, Inc.		\$213.0000 \$610.0000	\$213.00 \$610.00
	Adams Contracting, LLC		\$610.0000	Φ610.00
713-16.52	REMOVE AND REPLACE SIGN (R5-1A SIGN)			
. 10 10102	Name variable in the state of t	1.000 EACH		
	Summers-Taylor, Inc.	1.000 EACH	\$190.0000	\$190.00
	Adams Contracting, LLC		\$610.0000	\$610.00
			***************************************	*******
713-16.53	REMOVE AND REPLACE SIGN (GUIDE SIGN AND DOWN	TOWN SIGN ASSEMBLY)		
		1.000 EACH		
	Summers-Taylor, Inc.		\$247.0000	\$247.00
	Adams Contracting, LLC		\$610.0000	\$610.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRI	PING)		
		100.000 S.Y.		
	Summers-Taylor, Inc.		\$34.5000	\$3,450.00
	Adams Contracting, LLC		\$33.0000	\$3,300.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		130.000 L.F.		
	Summers-Taylor, Inc.		\$18.0000	\$2,340.00
	Adams Contracting, LLC		\$17.0000	\$2,210.00
740.00.00	DI ACTIO DAVEMENT MARIVINO (TURN) AND ARROYS			
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	/a aaa = : a::		
	Ourse and Taylor In	10.000 EACH	<b>#</b> 004.000	<b>#0.040.00</b>
	Summers-Taylor, Inc.		\$201.0000	\$2,010.00
	Adams Contracting, LLC		\$200.0000	\$2,000.00

CONTRACT	CNX362
----------	--------

				CONTRACT CN	X362
			UNIT PRICE	EXTENS	ION
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)				
		218.000 L.F.			
	Summers-Taylor, Inc.		\$5.5000	\$1,199	0.00
	Adams Contracting, LLC		\$6.0000	\$1,308	.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)				
		0.100 L.M.			
	Summers-Taylor, Inc.		\$17,240.7000	\$1,724	.07
	Adams Contracting, LLC		\$17,000.0000	\$1,700	
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)				
	,	3.000 EACH			
	Summers-Taylor, Inc.	0.000 =	\$259.0000	\$777	, OO
	Adams Contracting, LLC		\$250.0000	\$750	
716-05 05	PAINTED PAVEMENT MARKING (STOP LINE)				
710-03.03	TANTED TAVEMENT MARKING (OTOT LINE)	72.000 L.F.			
	Summara Taylar Ina	72.000 L.F.	\$5.2000	\$374	1.40
	Summers-Taylor, Inc. Adams Contracting, LLC		\$5.0000	\$360	
716 0F 06	DAINTED DAVEMENT MADVING (TUDN LANE ADDOM)				
710-05.06	PAINTED PAVEMENT MARKING (TURN LANE ARROW)	42 000 EACH			
	Summera Taylor Inc	12.000 EACH	¢115 0000	¢4 200	
	Summers-Taylor, Inc. Adams Contracting, LLC		\$115.0000 \$110.0000	\$1,380 \$1,320	
			*********	* 1,5=5	
716-05.09	PAINTED PAVEMENT MARKING(STRAIGHT-TURN ARROW)				
		3.000 EACH			
	Summers-Taylor, Inc.		\$144.0000	\$432	
	Adams Contracting, LLC		\$140.0000	\$420	.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)				
		2,500.000 L.F.			
	Summers-Taylor, Inc.		\$0.8500	\$2,125	.00
	Adams Contracting, LLC		\$0.9000	\$2,250	.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)				
		72.000 L.F.			
	Summers-Taylor, Inc.		\$5.2000	\$374	.40
	Adams Contracting, LLC		\$5.0000	\$360	.00
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)				
		21.000 EACH			
	Summers-Taylor, Inc.		\$90.0000	\$1,890	0.00
	Adams Contracting, LLC		\$86.0000	\$1,806	.00
716-09.86	CONTRAST PAVEMENT MARKING 6"				
		0.330 L.M.			
	Summers-Taylor, Inc.		\$58,750.0000	\$19,387	'.50
	Adams Contracting, LLC		\$65,000.0000	\$21,450	

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
716-09.88	CONTRAST PAVEMENT MARKING 8"			
		0.230 L.M.		
	Summers-Taylor, Inc.		\$67,500.0000	\$15,525.00
	Adams Contracting, LLC		\$74,000.0000	\$17,020.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		0.370 L.M.		
	Summers-Taylor, Inc.		\$15,000.0000	\$5,550.00
	Adams Contracting, LLC		\$17,000.0000	\$6,290.00
717-01	MOBILIZATION			
		1.000 LS		
	Summers-Taylor, Inc.		\$220,000.0000	\$220,000.00
	Adams Contracting, LLC		\$120,000.0000	\$120,000.00
730-01.01	REMOVE & RELOCATE EXISTING TRAFFIC SIGNAL EQUIPMENT			
		1.000 EACH		
	Summers-Taylor, Inc.		\$2,970.0000	\$2,970.00
	Adams Contracting, LLC		\$1,700.0000	\$1,700.00
730-01-02	REMOVAL OF SIGNAL EQUIPMENT			
100 01102		1.000 EACH		
	Summers-Taylor, Inc.	11000 E/(011	\$7,950.0000	\$7,950.00
	Adams Contracting, LLC		\$16,000.0000	\$16,000.00
730-02.03	SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
700 02.00	SIGNAL HEAD AGGEMBET (100 AG WITH BAGNI EATE)	2.000 EACH		
	Summers-Taylor, Inc.	2.000 2.1011	\$1,780.0000	\$3,560.00
	Adams Contracting, LLC		\$1,500.0000	\$3,000.00
730-02 09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
700 02.00	SIGNAL HEAD AGGEMBET (100 WITH BAGIN EATE)	4.000 EACH		
	Summers-Taylor, Inc.		\$1,640.0000	\$6,560.00
	Adams Contracting, LLC		\$1,500.0000	\$6,000.00
730-02.14	SIGNAL HEAD ASSEMBLY (140 A1 WITH BACKPLATE)			
700 02	3.6.0.1.2.1.2.1.2.1.1.1.1.1.1.1.1.1.1.1.1.1	1.000 EACH		
	Summers-Taylor, Inc.	11000 E/(011	\$2,140.0000	\$2,140.00
	Adams Contracting, LLC		\$1,700.0000	\$1,700.00
730-02 51	SIGNAL HEAD ASSEMBLY (130 A3F WITH BACKPLATE)			
100-02.01	SIGNAL HEAD AGGERBET (100 AGT WITH BAGIN EATE)	1.000 EACH		
	Summers-Taylor, Inc.		\$1,920.0000	\$1,920.00
	Adams Contracting, LLC		\$1,500.0000	\$1,500.00
730-03.21	INSTALL PULL BOX (TYPE B)			
	, ,			

3.000 EACH

Summers-Taylor, Inc. Adams Contracting, LLC \$3,780.00

\$3,900.00

\$1,260.0000

\$1,300.0000

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
			ONTTRIOL	EXTENSION
730-03.23	INSTALL PULL BOX (FIBER OPTIC-TYPE A)			
		2.000 EACH		
	Summers-Taylor, Inc.		\$3,650.0000	\$7,300.00
	Adams Contracting, LLC		\$3,700.0000	\$7,400.00
730-03 33	FIBER OPTIC SPLICE FUSION			
700 00.00	TIBER OF THE OF EIGE FOSION	4.000 EACH		
	Summers-Taylor, Inc.	4.000 E/1011	\$92.0000	\$368.00
	Adams Contracting, LLC		\$160.0000	\$640.00
730-03.55	FIBER OPTIC DROP CABLE (6F)			
		180.000 L.F.		
	Summers-Taylor, Inc.		\$3.9000 \$18.0000	\$702.00 \$3,240.00
	Adams Contracting, LLC		\$18.0000	<b>\$3,240.00</b>
730-03.57	FIBER OPTIC DROP PANEL (6F)			
	. ,	1.000 EACH		
	Summers-Taylor, Inc.		\$1,000.0000	\$1,000.00
	Adams Contracting, LLC		\$240.0000	\$240.00
700.05.04	ELECTRICAL CERVICE CONNECTION			
730-05.01	ELECTRICAL SERVICE CONNECTION	1.000 EACH		
	Summers-Taylor, Inc.	1.000 EACH	\$3,060.0000	\$3,060.00
	Adams Contracting, LLC		\$2,400.0000	\$2,400.00
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
		1,040.000 L.F.		
	Summers-Taylor, Inc. Adams Contracting, LLC		\$5.2000	\$5,408.00
	Adams Contracting, LLC		\$4.0000	\$4,160.00
730-12.02	CONDUIT 2" DIAMETER (PVC SCHEDULE 40)			
		220.000 L.F.		
	Summers-Taylor, Inc.		\$22.5000	\$4,950.00
	Adams Contracting, LLC		\$19.0000	\$4,180.00
720 42 22	CONDUIT OF DIAMETER (DIRECTIONAL PORE)			
730-12.23	CONDUIT 2" DIAMETER (DIRECTIONAL BORE)	325.000 L.F.		
	Summers-Taylor, Inc.	323.000 L.F.	\$39.0000	\$12,675.00
	Adams Contracting, LLC		\$32.0000	\$10,400.00
	<u>.                                    </u>			
730-15.32	CABINET (EIGHT PHASE BASE MOUNTED)			
		1.000 EACH		
	Summers-Taylor, Inc.		\$31,400.0000	\$31,400.00
	Adams Contracting, LLC		\$22,000.0000	\$22,000.00
730-16.04	CONTROLLER (ATC)			
		1.000 EACH		
	0		<b>#0.050.0000</b>	<b>#0.050.00</b>

Summers-Taylor, Inc.

Adams Contracting, LLC

\$8,250.00

\$7,800.00

\$8,250.0000

\$7,800.0000

				CONTRACT CNX362
			UNIT PRICE	EXTENSION
730-25.06	CANTILEVER SIGNAL SUPPORT (2 @ 50' & 70')			
		1.000 EACH		
	Summers-Taylor, Inc.		\$62,700.0000	\$62,700.00
	Adams Contracting, LLC		\$69,000.0000	\$69,000.00
730-25.14	CANTILEVER SIGNAL SUPPORT (1 ARM @ 70')			
		1.000 EACH	<b>4</b>	
	Summers-Taylor, Inc. Adams Contracting, LLC		\$54,100.0000 \$50,000.0000	\$54,100.00 \$50,000.00
	ridanie contracting, 220		φου,σου.σουσ	ψου,ουσ.ου
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
	Cummara Taylar Ina	1.000 EACH	¢47.800.0000	¢47.900.00
	Summers-Taylor, Inc. Adams Contracting, LLC		\$17,800.0000 \$19,000.0000	\$17,800.00 \$19,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)	454 000 C V		
	Summers-Taylor, Inc.	451.000 S.Y.	\$3.0000	\$1,353.00
	Adams Contracting, LLC		\$4.0000	\$1,804.00
740 44 02	TEMPORARY SEDIMENT TUBE 12IN			
740-11.02	TEMPORARY SEDIMENT TODE 12IN	1,431.000 L.F.		
	Summers-Taylor, Inc.	.,	\$4.7000	\$6,725.70
	Adams Contracting, LLC		\$6.0000	\$8,586.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	,	165.000 UNIT		
	Summers-Taylor, Inc.		\$53.0000	\$8,745.00
	Adams Contracting, LLC		\$55.0000	\$9,075.00
801-03	WATER (SEEDING & SODDING)			
		67.000 M.G.		
	Summers-Taylor, Inc.		\$144.0000	\$9,648.00
	Adams Contracting, LLC		\$140.0000	\$9,380.00
803-01	SODDING (NEW SOD)			
		4,976.000 S.Y.		
	Summers-Taylor, Inc.		\$6.3000	\$31,348.80
	Adams Contracting, LLC		\$8.0000	\$39,808.00
806-02.03	PROJECT MOWING			
		4.000 CYCL		

Summers-Taylor, Inc.

Adams Contracting, LLC

\$23,000.00

\$6,800.00

\$5,750.0000

\$1,700.0000

## **SUB-TOTAL ROADWAY**

Summers-Taylor, Inc. \$2,296,681.47
Adams Contracting, LLC \$2,427,269.00

#### **TOTAL CONTRACT**

Summers-Taylor, Inc. \$2,296,681.47
Adams Contracting, LLC \$2,427,269.00

COUNTIES BRADLEY, GRUNDY, HAMILTON, MARION, PUTNAM, SEQUATCHIE, AND WHITE (Contract No. CNX353 Call 006)

R2BVAR-M3-025

THE SWEEPING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Blevins Enterprises, Inc.

\$343,980.00

Sweeping Corporation of America, LLC

\$457,111.20

UNIT PRICE EXTENSION

## **MAINTENANCE CATEGORY**

719-01 SWEEPING

7,644.000 L.M.

 Blevins Enterprises, Inc.
 \$45.0000
 \$343,980.00

 Sweeping Corporation of America, LLC
 \$59.8000
 \$457,111.20

#### **SUB-TOTAL MAINTENANCE**

Blevins Enterprises, Inc.	\$343,980.00
Sweeping Corporation of America, LLC	\$457,111.20

#### TOTAL CONTRACT

Blevins Enterprises, Inc.	\$343,980.00
Sweeping Corporation of America, LLC	\$457,111.20

COUNTIES BRADLEY, GRUNDY, HAMILTON, MARION, PUTNAM, SEQUATCHIE, AND WHITE (Contract No. CNX354 Call 007)

R2BVAR-M3-026

THE DRAIN CLEANING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Blevins Enterprises, Inc.

\$165,780.00

Sweeping Corporation of America, LLC

\$224,377.50

CONTRACT	CNX35
----------	-------

			00	MINACI CNASS4
MAINITEN	IANCE CATECORY		UNIT PRICE	EXTENSION
WAINTEN	IANCE CATEGORY			
611-07.10	CLEAN DRAIN (TRENCH DRAIN)			
		16,000.000 L.F.		
	Blevins Enterprises, Inc.	·	\$4.0000	\$64,000.00
	Sweeping Corporation of America, LLC		\$4.0000	\$64,000.00
611-07.11	CLEAN DRAIN(WITH GRATE)			
		700.000 EACH		
	Blevins Enterprises, Inc.		\$45.0000	\$31,500.00
	Sweeping Corporation of America, LLC		\$89.0000	\$62,300.00
	Checoping Corporation of Atthornous, 220		φου.σσσσ	ψοΣ,σσσ.σσ
611-07.12	CLEAN DRAIN(WALL DRAIN)			
		300.000 EACH		
	Blevins Enterprises, Inc.		\$35.0000	\$10,500.00
	Sweeping Corporation of America, LLC		\$59.0000	\$17,700.00
611-07.13	PIPE CLEANING (<18IN DIA.)			
		12,000.000 L.F.		
	Blevins Enterprises, Inc.		\$2.0000	\$24,000.00
	Sweeping Corporation of America, LLC		\$4.0000	\$48,000.00
611-07.14	PIPE CLEANING (>OR=18IN DIA.)			
		515.000 L.F.		
	Blevins Enterprises, Inc.		\$2.0000	\$1,030.00
	Sweeping Corporation of America, LLC		\$8.5000	\$4,377.50
611-07.20	HEAVY DRAIN CLEANING			
		50.000 EACH		
	Blevins Enterprises, Inc.	30.000 LACIT	\$200.0000	\$10,000.00
	Sweeping Corporation of America, LLC		\$200.0000	\$10,000.00
	Sweeping Corporation of America, LLC		φ200.0000	φ10,000.00
712-01.02	LANE CLOSURE			
		45.000 EACH		
	Blevins Enterprises, Inc.		\$550.0000	\$24,750.00
	Sweeping Corporation of America, LLC		\$400.0000	\$18,000.00

#### **SUB-TOTAL MAINTENANCE**

Blevins Enterprises, Inc.	\$165,780.00
Sweeping Corporation of America, LLC	\$224,377.50

## TOTAL CONTRACT

Blevins Enterprises, Inc.	\$165,780.00
Sweeping Corporation of America, LLC	\$224,377.50

COUNTIES BRADLEY, HAMILTON, MEIGS, AND POLK (Contract No. CNX361 Call 008)

HSIP-REG2(213),R2SVAR-F3-036

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 7.00%

TOTAL CONTRACT

Southern Constructors, Inc.

\$2,063,355.00

ROADWAY CATEGORY		UNIT PRICE	EXTENSION
105-01 CONSTRUCTION STAKES, LINES AND GRADES			
Southern Constructors, Inc.	1.000 LS	\$40,000.0000	\$40,000.00
202-03 REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.	636.000 S.Y.		
Southern Constructors, Inc.	636.000 3.1.	\$30.0000	\$19,080.00
202-08.15 REMOVAL OF CURB AND GUTTER (DESCRIPTION)	4 0 45 000 1 5		
Southern Constructors, Inc.	1,945.000 L.F.	\$30.0000	\$58,350.00
203-07 FURNISHING & SPREADING TOPSOIL	400 000 O V		
Southern Constructors, Inc.	196.000 C.Y.	\$75.0000	\$14,700.00
701-01.01 CONCRETE SIDEWALK (4 ")	F 720 000 C F		
Southern Constructors, Inc.	5,720.000 S.F.	\$45.0000	\$257,400.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)	44 454 000 0 5		
Southern Constructors, Inc.	11,451.000 S.F.	\$60.0000	\$687,060.00
701-02.03 CONCRETE CURB RAMP			
Southern Constructors, Inc.	293.000 S.F.	\$75.0000	\$21,975.00
701-02.06 DETECTABLE WARNING SURFACE (REHABILITATION)	902 000 S E		
Southern Constructors, Inc.	802.000 S.F.	\$50.0000	\$40,100.00
702-03 CONCRETE COMBINED CURB & GUTTER	119.000 C.Y.		
Southern Constructors, Inc.	119.000 C.1.	\$1,500.0000	\$178,500.00
712-01 TRAFFIC CONTROL	1.000 LS		
Southern Constructors, Inc.	1.000 LS	\$400,000.0000	\$400,000.00
713-11.01 "U" SECTION STEEL POSTS	044,000 LD		
Southern Constructors, Inc.	214.000 LB.	\$15.0000	\$3,210.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)	32.000 S.F.		
Southern Constructors, Inc.		\$30.0000	\$960.00

				CONTRACT CNX361
			UNIT PRICE	EXTENSION
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
	Southern Constructors, Inc.	2.000 EACH	\$500.0000	\$1,000.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Southern Constructors, Inc.	648.000 L.F.	\$30.0000	\$19,440.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Southern Constructors, Inc.	1,018.000 L.F.	\$35.0000	\$35,630.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Southern Constructors, Inc.	2.000 EACH	\$600.0000	\$1,200.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	Southern Constructors, Inc.	2,641.000 L.F.	\$60.0000	\$158,460.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Southern Constructors, Inc.	181.000 S.F.	\$90.0000	\$16,290.00
717-01	MOBILIZATION			
		1.000 LS		

20.000 UNIT

Southern Constructors, Inc.

Southern Constructors, Inc.

SEEDING (WITH MULCH)

801-01

\$100,000.00

\$10,000.00

\$100,000.0000

\$500.0000

## **SUB-TOTAL ROADWAY**

Southern Constructors, Inc. \$2,063,355.00

#### **TOTAL CONTRACT**

Southern Constructors, Inc. \$2,063,355.00

#### CARROLL COUNTY (Contract No. CNX351 Call 010)

09946-3465-04

THE GRADING, DRAINAGE AND PAVING ON A S.I.A. ROUTE SERVING POTTERY DIRECT INTERNATIONAL.

PROJECT LENGTH - 0.594 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

TOTAL CONTRACT

Delta Contracting Company, LLC Jones Bros. Contractors, LLC Rowe Construction Group, Inc. \$829,724.50 \$1,096,302.00 \$1,666,783.75

UNIT PRICE **EXTENSION** 

I	P	<u></u>	Δ	ח	W	Δ١	, ,	~Δ	TE	ഭവ	R١	1
	К	u	м	u	vv	A	, I	. A		uч	<b>T</b>	

-				
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Delta Contracting Company, LLC		\$15,000.0000	\$15,000.00
	Jones Bros. Contractors, LLC		\$16,500.0000	\$16,500.00
	Rowe Construction Group, Inc.		\$125,000.0000	\$125,000.00
204.04	CLEARING AND CRUPPING			
201-01	CLEARING AND GRUBBING	4.000   6		
	Delta Contraction Commence II C	1.000 LS	<b>\$40.500.0000</b>	<b>\$40.500.00</b>
	Delta Contracting Company, LLC		\$12,500.0000	\$12,500.00
	Jones Bros. Contractors, LLC		\$9,600.0000 \$25,000.0000	\$9,600.00 \$25,000.00
	Rowe Construction Group, Inc.		\$25,000.0000	\$25,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	· · · · · · · · · · · · · · · · · · ·	723.000 C.Y.		
	Delta Contracting Company, LLC		\$30.0000	\$21,690.00
	Jones Bros. Contractors, LLC		\$15.0000	\$10,845.00
	Rowe Construction Group, Inc.		\$34.0000	\$24,582.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		4,633.000 C.Y.		
	Delta Contracting Company, LLC		\$27.0000	\$125,091.00
	Jones Bros. Contractors, LLC		\$60.0000	\$277,980.00
	Rowe Construction Group, Inc.		\$54.0000	\$250,182.00
203-04	PLACING AND SPREADING TOPSOIL			
		1,705.000 C.Y.		
	Delta Contracting Company, LLC	1,7 00:000 0:11	\$6.0000	\$10,230.00
	Jones Bros. Contractors, LLC		\$15.0000	\$25,575.00
	Rowe Construction Group, Inc.		\$19.0000	\$32,395.00
203-06	WATER			
		60.000 M.G.		
	Delta Contracting Company, LLC		\$30.0000	\$1,800.00
	Jones Bros. Contractors, LLC		\$5.0000	\$300.00
	Rowe Construction Group, Inc.		\$100.0000	\$6,000.00
203-07	FURNISHING & SPREADING TOPSOIL			
203-07	TORRIGING & OF READING FOR COLE	663.000 C.Y.		
	Delta Contracting Company, LLC	003.000 C.1.	\$1.0000	\$663.00
	Jones Bros. Contractors, LLC		\$60.0000	\$39,780.00
	Rowe Construction Group, Inc.		\$72.0000	\$47,736.00
	Nowe Construction Group, Inc.		Ψ12.0000	ψ47,730.00
209-03.23	FILTER SOCK (24 INCH)			
	· ·	720.000 L.F.		
	Delta Contracting Company, LLC		\$12.0000	\$8,640.00
	Jones Bros. Contractors, LLC		\$12.0000	\$8,640.00
	Rowe Construction Group, Inc.		\$22.0000	\$15,840.00

			-	
			UNIT PRICE	<b>EXTENSION</b>
209-05	SEDIMENT REMOVAL			
203-03	SEDIMENT REMOVAE	444.000.0 V		
		144.000 C.Y.		
	Delta Contracting Company, LLC		\$4.0000	\$576.00
	Jones Bros. Contractors, LLC		\$50.0000	\$7,200.00
	Rowe Construction Group, Inc.		\$45.0000	\$6,480.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		224.000 L.F.		
	Delta Contracting Company, LLC		\$6.5000	\$1,456.00
	Jones Bros. Contractors, LLC		\$6.5000	\$1,456.00
	Rowe Construction Group, Inc.		\$18.0000	\$4,032.00
	, , , , , , , , , , , , , , , , , , , ,		,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
200 <u>-</u> 08 03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
203-00.03	TEMP ORARI GIETT ENGE (WITHOUT BAGRING)	0.404.0001.5		
		2,184.000 L.F.		•
	Delta Contracting Company, LLC		\$3.0000	\$6,552.00
	Jones Bros. Contractors, LLC		\$3.0000	\$6,552.00
	Rowe Construction Group, Inc.		\$6.0000	\$13,104.00
209-08.08	ENHANCED ROCK CHECK DAM			
		16.000 EACH		
	Delta Contracting Company, LLC		\$300.0000	\$4,800.00
	Jones Bros. Contractors, LLC		\$1,000.0000	\$16,000.00
	Rowe Construction Group, Inc.		\$1,100.0000	\$17,600.00
	, , , , , , , , , , , , , , , , , , , ,		, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
209-09 01	SANDBAGS			
200 00.01	UNITED AGO	400 000 540		
		100.000 BAG		
	Delta Contracting Company, LLC		\$1.0000	\$100.00
	Jones Bros. Contractors, LLC		\$5.0000	\$500.00
	Rowe Construction Group, Inc.		\$16.0000	\$1,600.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		2.000 EACH		
	Delta Contracting Company, LLC		\$1.0000	\$2.00
	Jones Bros. Contractors, LLC		\$500.0000	\$1,000.00
	Rowe Construction Group, Inc.		\$850.0000	\$1,700.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
	,	160.000 S.Y.		
	Delta Contracting Company LLC	100.000 3.1.	¢4.0000	¢460.00
	Delta Contracting Company, LLC		\$1.0000 \$2.4000	\$160.00
	Jones Bros. Contractors, LLC			\$384.00
	Rowe Construction Group, Inc.		\$6.0000	\$960.00
000 00 0	DOLVETUVI ENE QUEETIVO (10 mm)			
209-20.04	POLYETHYLENE SHEETING (10 MIL.)			
		100.000 S.Y.		
	Delta Contracting Company, LLC		\$1.0000	\$100.00
	Jones Bros. Contractors, LLC		\$4.5000	\$450.00
	Rowe Construction Group, Inc.		\$8.0000	\$800.00

			-	
			UNIT PRICE	EXTENSION
209-65.03	TEMPORARY DIVERSION CHANNEL			
		225.000 L.F.		
	Delta Contracting Company, LLC		\$10.0000	\$2,250.00
	Jones Bros. Contractors, LLC		\$2.8000	\$630.00
	Rowe Construction Group, Inc.		\$50.0000	\$11,250.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		4,690.000 TON		
	Delta Contracting Company, LLC		\$30.0000	\$140,700.00
	Jones Bros. Contractors, LLC		\$38.0000	\$178,220.00
	Rowe Construction Group, Inc.		\$53.0000	\$248,570.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C or	D)		
		100.000 TON		
	Delta Contracting Company, LLC		\$30.0000	\$3,000.00
	Jones Bros. Contractors, LLC		\$38.0000	\$3,800.00
	Rowe Construction Group, Inc.		\$50.0000	\$5,000.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		15.000 TON		
	Delta Contracting Company, LLC		\$40.0000	\$600.00
	Jones Bros. Contractors, LLC		\$80.0000	\$1,200.00
	Rowe Construction Group, Inc.		\$55.0000	\$825.00
207.04.04	ACRUALT CONCRETE MIV (DCC4 22) (DRMD UM) CRAD	NING A		
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAD			
	Delta Contraction Comment II C	880.000 TON	<b>#440.0000</b>	\$404. <b>7</b> 00.00
	Delta Contracting Company, LLC Jones Bros. Contractors, LLC		\$119.0000	\$104,720.00
	Rowe Construction Group, Inc.		\$97.0000 \$155.0000	\$85,360.00 \$136,400.00
	Nowe Constituction Group, Inc.		φ155.0000	φ130,400.00
307-01 08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAD	ING R-M2		
001 01100	7.6. (	730.000 TON		
	Delta Contracting Company, LLC	730.000 TON	\$106.0000	\$77,380.00
	Jones Bros. Contractors, LLC		\$103.0000	\$75,190.00
	Rowe Construction Group, Inc.		\$158.0000	\$115,340.00
	, , , ,		,	* -,
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		8.000 TON		
	Delta Contracting Company, LLC		\$250.0000	\$2,000.00
	Jones Bros. Contractors, LLC		\$850.0000	\$6,800.00
	Rowe Construction Group, Inc.		\$2,100.0000	\$16,800.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		26.000 TON		
	Delta Contracting Company, LLC		\$10.0000	\$260.00
	Jones Bros. Contractors, LLC		\$100.0000	\$2,600.00
	Rowe Construction Group, Inc.		\$500.0000	\$13,000.00

			00	WINACI CNASSI
			UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		4.000 TON		
	Delta Contracting Company, LLC		\$250.0000	\$1,000.00
	Jones Bros. Contractors, LLC		\$850.0000	\$3,400.00
	Rowe Construction Group, Inc.		\$1,500.0000	\$6,000.00
411-01.10	0 ACS MIX(PG64-22) GRADING D			
		420.000 TON		
	Delta Contracting Company, LLC		\$136.0000	\$57,120.00
	Jones Bros. Contractors, LLC		\$140.0000	\$58,800.00
	Rowe Construction Group, Inc.		\$170.0000	\$71,400.00
607-06.02	2 30" CONCRETE PIPE CULVERT (CLASS III)			
		84.000 L.F.		
	Delta Contracting Company, LLC		\$168.0000	\$14,112.00
	Jones Bros. Contractors, LLC		\$110.0000	\$9,240.00
	Rowe Construction Group, Inc.		\$245.0000	\$20,580.00
607-16.0	1 23"X 14" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
		116.000 L.F.		
	Delta Contracting Company, LLC		\$120.0000	\$13,920.00
	Jones Bros. Contractors, LLC		\$150.0000	\$17,400.00
	Rowe Construction Group, Inc.		\$250.0000	\$29,000.00
611-07.0	1 CLASS A CONCRETE (PIPE ENDWALLS)			
		4.000 C.Y.		
	Delta Contracting Company, LLC		\$2,000.0000	\$8,000.00
	Jones Bros. Contractors, LLC		\$2,000.0000	\$8,000.00
	Rowe Construction Group, Inc.		\$2,400.0000	\$9,600.00
611-07.02	2 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
		228.000 LB.		
	Delta Contracting Company, LLC		\$2.0000	\$456.00
	Jones Bros. Contractors, LLC		\$5.0000	\$1,140.00
	Rowe Construction Group, Inc.		\$8.5000	\$1,938.00
611-07.6	1 30IN ENDWALL (CROSS DRAIN) 4:1			
		4.000 EACH		
	Delta Contracting Company, LLC		\$6,000.0000	\$24,000.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$20,000.00
	Rowe Construction Group, Inc.		\$8,000.0000	\$32,000.00
707-08.1	1 HIGH-VISIBILITY CONSTRUCTION FENCE			
		300.000 L.F.		
	Delta Contracting Company, LLC		\$2.5000	\$750.00
	Jones Bros. Contractors, LLC		\$2.5000	\$750.00
	Rowe Construction Group, Inc.		\$3.7500	\$1,125.00

			CONTRACT CNASST
		UNIT PRICE	EXTENSION
709-05.05	MACHINED RIP-RAP (CLASS A-3)		
		156.000 TON	
	Delta Contracting Company, LLC	\$65.0000	\$10,140.00
	Jones Bros. Contractors, LLC	\$70.0000	\$10,920.00
	Rowe Construction Group, Inc.	\$110.0000	\$17,160.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)		
		8.000 TON	
	Delta Contracting Company, LLC	\$135.0000	\$1,080.00
	Jones Bros. Contractors, LLC	\$70.0000	\$560.00
	Rowe Construction Group, Inc.	\$120.0000	\$960.00
709-05.08	MACHINED RIP-RAP (CLASS B)		
		38.000 TON	
	Delta Contracting Company, LLC	\$70.0000	\$2,660.00
	Jones Bros. Contractors, LLC	\$75.0000	\$2,850.00
	Rowe Construction Group, Inc.	\$120.0000	\$4,560.00
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Delta Contracting Company, LLC	\$7,750.0000	\$7,750.00
	Jones Bros. Contractors, LLC	\$5,000.0000	\$5,000.00
	Rowe Construction Group, Inc.	\$58,000.0000	\$58,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)		
		8.000 EACH	
	Delta Contracting Company, LLC	\$35.0000	\$280.00
	Jones Bros. Contractors, LLC	\$35.0000	\$280.00
	Rowe Construction Group, Inc.	\$55.0000	\$440.00
712-05.01	WARNING LIGHTS (TYPE A)		
		2.000 EACH	
	Delta Contracting Company, LLC	\$30.0000	\$60.00
	Jones Bros. Contractors, LLC	\$30.0000	\$60.00
	Rowe Construction Group, Inc.	\$55.0000	\$110.00
712-06	SIGNS (CONSTRUCTION)		
		91.000 S.F.	
	Delta Contracting Company, LLC	\$7.5000	\$682.50
	Jones Bros. Contractors, LLC	\$7.5000	\$682.50
	Rowe Construction Group, Inc.	\$12.0000	\$1,092.00
	• •		•
712-07.03	TEMPORARY BARRICADES (TYPE III)		
	·	30.000 L.F.	
	Delta Contracting Company, LLC	\$12.0000	\$360.00
	Jones Bros. Contractors, LLC	\$12.0000	\$360.00
	Rowe Construction Group, Inc.	\$28.0000	\$840.00
	•		

		CC	DNIKACI CNX351
		UNIT PRICE	EXTENSION
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	62.000 L.F.		
Delta Contracting Company, LLC		\$5.5000	\$341.00
Jones Bros. Contractors, LLC		\$5.5000	\$341.00
Rowe Construction Group, Inc.		\$6.5000	\$403.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	91.000 LB.		
Delta Contracting Company, LLC		\$5.5000	\$500.50
Jones Bros. Contractors, LLC		\$5.5000	\$500.50
Rowe Construction Group, Inc.		\$6.5000	\$591.50
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	41.000 S.F.		
Delta Contracting Company, LLC		\$15.0000	\$615.00
Jones Bros. Contractors, LLC		\$15.0000	\$615.00
Rowe Construction Group, Inc.		\$17.2500	\$707.25
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	5.000 S.F.		
Delta Contracting Company, LLC		\$15.5000	\$77.50
Jones Bros. Contractors, LLC		\$15.5000	\$77.50
Rowe Construction Group, Inc.		\$18.5000	\$92.50
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	34.000 L.F.		
Delta Contracting Company, LLC		\$50.0000	\$1,700.00
Jones Bros. Contractors, LLC		\$50.0000	\$1,700.00
Rowe Construction Group, Inc.		\$60.0000	\$2,040.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	0.870 L.M.		
Delta Contracting Company, LLC		\$8,500.0000	\$7,395.00
Jones Bros. Contractors, LLC		\$8,500.0000	\$7,395.00
Rowe Construction Group, Inc.		\$9,000.0000	\$7,830.00
717-01 MOBILIZATION			
	1.000 LS		
Delta Contracting Company, LLC		\$75,500.0000	\$75,500.00
Jones Bros. Contractors, LLC		\$105,000.0000	\$105,000.00
Rowe Construction Group, Inc.		\$150,000.0000	\$150,000.00
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	280.000 S.Y.		
Delta Contracting Company, LLC		\$6.0000	\$1,680.00
Jones Bros. Contractors, LLC		\$5.0000	\$1,400.00
Rowe Construction Group, Inc.		\$8.0000	\$2,240.00

			C	ONTRACT CNX351
			UNIT PRICE	EXTENSION
740-11.05	TEMPORARY SEDIMENT TUBE 24IN			
		280.000 L.F.		
	Delta Contracting Company, LLC		\$10.0000	\$2,800.00
	Jones Bros. Contractors, LLC		\$10.0000	\$2,800.00
	Rowe Construction Group, Inc.		\$6.2000	\$1,736.00
801-01	SEEDING (WITH MULCH)			
		43.000 UNIT		
	Delta Contracting Company, LLC		\$40.0000	\$1,720.00
	Jones Bros. Contractors, LLC		\$40.0000	\$1,720.00
	Rowe Construction Group, Inc.		\$60.0000	\$2,580.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		231.000 UNIT		
	Delta Contracting Company, LLC		\$25,0000	\$5,775.00
	Jones Bros. Contractors, LLC		\$25.0000	\$5,775.00
	Rowe Construction Group, Inc.		\$55.0000	\$12,705.00
801-01.65	TEMPORARY MULCH			
		100.000 UNIT		
	Delta Contracting Company, LLC		\$20.0000	\$2,000.00
	Jones Bros. Contractors, LLC		\$20.0000	\$2,000.00
	Rowe Construction Group, Inc.		\$30.0000	\$3,000.00
801-03	WATER (SEEDING & SODDING)			
		134.000 M.G.		
	Delta Contracting Company, LLC		\$10.0000	\$1,340.00
	Jones Bros. Contractors, LLC		\$10.0000	\$1,340.00
	Rowe Construction Group, Inc.		\$145.0000	\$19,430.00
803-01	SODDING (NEW SOD)			
		11,410.000 S.Y.		
	Delta Contracting Company, LLC		\$4.0000	\$45,640.00
	Jones Bros. Contractors, LLC		\$4.3500	\$49,633.50
	Rowe Construction Group, Inc.		\$7.7500	\$88,427.50

Delta Contracting Company, LLC	\$829,724.50
Jones Bros. Contractors, LLC	\$1,096,302.00
Rowe Construction Group, Inc.	\$1,666,783.75

TOTAL CONTRACT	
Delta Contracting Company, LLC	\$829,724.50
Jones Bros. Contractors, LLC	\$1,096,302.00
Rowe Construction Group, Inc.	\$1,666,783.75

COUNTIES CARROLL, DECATUR, DYER, GIBSON, MADISON, OBION, AND WEAKLEY (Contract No. CNX352 Call 011)

HSIP-REG4(220),R4SVAR-F3-022,HSIP-REG4(221),R4SVAR-F3-023

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 6.00%

TOTAL CONTRACT

Martin Paving Company, Inc.\$744,074.50Ford Construction Company\$852,145.50MarCor Construction, Inc.\$869,497.50

			co	ONTRACT CNX352
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		323.500 S.Y.		
	Martin Paving Company, Inc.		\$90.0000	\$29,115.00
	Ford Construction Company		\$101.0000	\$32,673.50
	MarCor Construction, Inc.		\$90.0000	\$29,115.00
701-01.01	CONCRETE SIDEWALK (4 ")			
		2,139.000 S.F.		
	Martin Paving Company, Inc.		\$20.0000	\$42,780.00
	Ford Construction Company		\$27.0000	\$57,753.00
	MarCor Construction, Inc.		\$25.0000	\$53,475.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		8,742.000 S.F.		
	Martin Paving Company, Inc.		\$45.0000	\$393,390.00
	Ford Construction Company		\$50.0000	\$437,100.00
	MarCor Construction, Inc.		\$49.0000	\$428,358.00
701-02.03	CONCRETE CURB RAMP			
		446.000 S.F.		
	Martin Paving Company, Inc.		\$30.0000	\$13,380.00
	Ford Construction Company		\$45.0000	\$20,070.00
	MarCor Construction, Inc.		\$30.0000	\$13,380.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITAT	ION)		
		756.000 S.F.		
	Martin Paving Company, Inc.		\$50.0000	\$37,800.00
	Ford Construction Company		\$54.0000	\$40,824.00
	MarCor Construction, Inc.		\$60.0000	\$45,360.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Martin Paving Company, Inc.		\$75,000.0000	\$75,000.00
	Ford Construction Company		\$75,000.0000	\$75,000.00
	MarCor Construction, Inc.		\$121,200.0000	\$121,200.00
713-11.01	"U" SECTION STEEL POSTS			
		82.000 LB.		
	Martin Paving Company, Inc.		\$5.0000	\$410.00
	Ford Construction Company		\$6.0000	\$492.00
	MarCor Construction, Inc.		\$5.0000	\$410.00
713-13.02	2 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		18.000 S.F.		
			<b>*</b> 4 <b>=</b> 0005	<b>^</b>

Martin Paving Company, Inc.

Ford Construction Company

MarCor Construction, Inc.

\$270.00

\$288.00

\$270.00

\$15.0000

\$16.0000

\$15.0000

		CNX	

			CONTRACT CIAX	<b>3</b> 32
		UNIT PRIC	E EXTENSIO	N
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	;	3,774.000 L.F.		
	Martin Paving Company, Inc.	\$19.0000	\$71,706.0	0
	Ford Construction Company	\$20.0000		
	MarCor Construction, Inc.	\$19.0000	\$71,706.0	0
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		1,091.000 L.F.		
	Martin Paving Company, Inc.	\$27.5000	\$30,002.5	0
	Ford Construction Company	\$29.0000		
	MarCor Construction, Inc.	\$27.5000	\$30,002.5	0
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
		242.000 L.F.		
	Martin Paving Company, Inc.	\$50.5000	\$12,221.0	0
	Ford Construction Company	\$53.0000	\$12,826.0	0
	MarCor Construction, Inc.	\$50.5000	\$12,221.0	0
717-01	MOBILIZATION			
		1.000 LS		
	Martin Paving Company, Inc.	\$38,000.0000	\$38,000.0	0
	Ford Construction Company	\$68,000.0000	\$68,000.0	0
	MarCor Construction, Inc.	\$64,000.0000	\$64,000.0	0

Martin Paving Company, Inc.	\$744,074.50
Ford Construction Company	\$852,145.50
MarCor Construction, Inc.	\$869,497.50

## **TOTAL CONTRACT**

Martin Paving Company, Inc.	\$744,074.50
Ford Construction Company	\$852,145.50
MarCor Construction, Inc.	\$869,497.50

COUNTIES CARTER, JOHNSON, SULLIVAN, UNICOI, AND WASHINGTON (Contract No. CNX327 Call 012)

n/a,R1BVAR-M3-032

THE SWEEPING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Sweeping Corporation of America, LLC

\$109,616.00

**CONTRACT CNX327** 

UNIT PRICE EXTENSION

**MAINTENANCE CATEGORY** 

719-01 SWEEPING

1,612.000 L.M.

Sweeping Corporation of America, LLC \$68.0000 \$109,616.00

## **SUB-TOTAL MAINTENANCE**

Sweeping Corporation of America, LLC

\$109,616.00

## **TOTAL CONTRACT**

Sweeping Corporation of America, LLC

\$109,616.00

### CHEATHAM COUNTY (Contract No. CNX260 Call 013)

BR-STP/HIP-249(84),11024-3235-94

THE CONSTRUCTION OF A CONCRETE BOX BEAM BRIDGE ON S.R. 249 (SAM'S CREEK ROAD) OVER DRY CREEK (L.M. 11.54), INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.151 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2024

**DBE GOAL 8.50%** 

TOTAL CONTRACT

Jones Bros. Contractors, LLC

\$5,425,657.19

IINII	IT PRICE	
UIVI	ILLEVICE	

UNIT PRICE ROADWAY CATEGORY			UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Jones Bros. Contractors, LLC	1.000 LS	\$50,000.0000	\$50,000.00
201-01	CLEARING AND GRUBBING	1.000 LS		
	Jones Bros. Contractors, LLC		\$125,000.0000	\$125,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	813.000 C.Y.		
	Jones Bros. Contractors, LLC	613.000 C.1.	\$110.0000	\$89,430.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)	5 004 000 O V		
	Jones Bros. Contractors, LLC	5,664.000 C.Y.	\$37.0000	\$209,568.00
203-04	PLACING AND SPREADING TOPSOIL	287.000 C.Y.		
	Jones Bros. Contractors, LLC	207.000 G.1.	\$65.0000	\$18,655.00
203-05	UNDERCUTTING	700 000 O.V		
	Jones Bros. Contractors, LLC	790.000 C.Y.	\$110.0000	\$86,900.00
203-07	FURNISHING & SPREADING TOPSOIL	389.000 C.Y.		
	Jones Bros. Contractors, LLC	369.000 C.1.	\$85.0000	\$33,065.00
203-50	CONSTRUCTION OF HAUL ROAD	1.000 LS		
	Jones Bros. Contractors, LLC	1.000 E3	\$600,000.0000	\$600,000.00
209-05	SEDIMENT REMOVAL	78.000 C.Y.		
	Jones Bros. Contractors, LLC	70.000 0.11	\$90.0000	\$7,020.00
209-08.02	2 TEMPORARY SILT FENCE (WITH BACKING)	4.047.000   5		
	Jones Bros. Contractors, LLC	4,847.000 L.F.	\$6.5000	\$31,505.50
209-08.08	B ENHANCED ROCK CHECK DAM	5.000 EACH		
	Jones Bros. Contractors, LLC	5.000 EACH	\$1,850.0000	\$9,250.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')	2 000 EACH		
	Jones Bros. Contractors, LLC	2.000 EACH	\$1,500.0000	\$3,000.00

			UNIT PRICE	CONTRACT CNX260  EXTENSION
			UNIT FRICE	EXTENSION
209-65.04	TEMPORARY IN STREAM DIVERSION			
	Jones Bros. Contractors, LLC	200.000 L.F.	\$120.0000	\$24,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Jones Bros. Contractors, LLC	1,659.000 TON	\$45.0000	\$74,655.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Jones Bros. Contractors, LLC	636.000 TON	\$57.0000	\$36,252.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Jones Bros. Contractors, LLC	241.000 TON	\$170.0000	\$40,970.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2	2		
	Jones Bros. Contractors, LLC	158.000 TON	\$225.0000	\$35,550.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Jones Bros. Contractors, LLC	4.000 TON	\$900.0000	\$3,600.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Jones Bros. Contractors, LLC	17.000 TON	\$100.0000	\$1,700.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Jones Bros. Contractors, LLC	1.500 TON	\$900.0000	\$1,350.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Jones Bros. Contractors, LLC	150.000 TON	\$250.0000	\$37,500.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	Jones Bros. Contractors, LLC	0.500 L.M.	\$10,150.0000	\$5,075.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	Jones Bros. Contractors, LLC	377.000 L.F.	\$29.1400	\$10,985.78
705-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
	Jones Bros. Contractors, LLC	2.000 EACH	\$1,041.0000	\$2,082.00

			UNIT PRICE	CONTRACT CNX260 EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Jones Bros. Contractors, LLC	4.000 EACH	\$3,236.0000	\$12,944.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	Jones Bros. Contractors, LLC	4.000 EACH	\$2,043.0000	\$8,172.00
706-01	GUARDRAIL REMOVED			
	Jones Bros. Contractors, LLC	402.000 L.F.	\$1.0000	\$402.00
706-10.26	ROUNDED END ELEMENT			
	Jones Bros. Contractors, LLC	2.000 EACH	\$123.0000	\$246.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Jones Bros. Contractors, LLC	717.000 L.F.	\$7.1200	\$5,105.04
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
	Jones Bros. Contractors, LLC	8.000 EACH	\$500.0000	\$4,000.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Jones Bros. Contractors, LLC	100.000 TON	\$75.0000	\$7,500.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
	Jones Bros. Contractors, LLC	1,951.000 TON	\$70.0000	\$136,570.00
712-01	TRAFFIC CONTROL			
	Jones Bros. Contractors, LLC	1.000 LS	\$21,000.0000	\$21,000.00
712-02.10	PORTABLE BARRIER RAIL (MASH TL-3)			
	Jones Bros. Contractors, LLC	376.000 L.F.	\$170.0000	\$63,920.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)			
	Jones Bros. Contractors, LLC	2.000 EACH	\$28,000.0000	\$56,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Jones Bros. Contractors, LLC	35.000 EACH	\$30.0000	\$1,050.00

			UNIT PRICE	CONTRACT CNX260  EXTENSION
712-04.50	BARRIER RAIL DELINEATOR	44 000 54011		
	Jones Bros. Contractors, LLC	14.000 EACH	\$14.0000	\$196.00
712-06	SIGNS (CONSTRUCTION)			
	Jones Bros. Contractors, LLC	353.000 S.F.	\$7.5000	\$2,647.50
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
	Jones Bros. Contractors, LLC	4,858.000 L.F.	\$6.0000	\$29,148.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)	04.0001.5		
	Jones Bros. Contractors, LLC	24.000 L.F.	\$30.0000	\$720.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	4 000   6		
	Jones Bros. Contractors, LLC	1.000 LS	\$200.0000	\$200.00
713-16.21	SIGNS (OH-3L)	2 000 54 011		
	Jones Bros. Contractors, LLC	2.000 EACH	\$175.0000	\$350.00
713-16.22	SIGNS (OH-3R)	0.000 54011		
	Jones Bros. Contractors, LLC	2.000 EACH	\$175.0000	\$350.00
713-16.23	SIGNS (TN-13)	1.000 EACH		
	Jones Bros. Contractors, LLC	1.000 EACH	\$180.0000	\$180.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (			
	Jones Bros. Contractors, LLC	9.000 EACH	\$300.0000	\$2,700.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	0.000 5400		
	Jones Bros. Contractors, LLC	9.000 EACH	\$150.0000	\$1,350.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	4 000 L M		
	Jones Bros. Contractors, LLC	1.000 L.M.	\$3,500.0000	\$3,500.00
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)	4 000 L M		
		1.000 L.M.	Φ= 000 0000	Φ= 000 00

Jones Bros. Contractors, LLC

\$5,280.00

\$5,280.0000

				CONTRACT CNX260
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Jones Bros. Contractors, LLC	1.000 L.M.	\$8,000.0000	\$8,000.00
717-01	MOBILIZATION			
	Jones Bros. Contractors, LLC	1.000 LS	\$535,000.0000	\$535,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
	Jones Bros. Contractors, LLC	1.000 EACH	\$44,500.0000	\$44,500.00
740-07.04	GEOGRID REINFORCEMENT TYPE 2			
	Jones Bros. Contractors, LLC	696.000 S.Y.	\$11.0000	\$7,656.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Jones Bros. Contractors, LLC	270.000 S.Y.	\$6.6000	\$1,782.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	Jones Bros. Contractors, LLC	740.000 S.Y.	\$7.6000	\$5,624.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Jones Bros. Contractors, LLC	78.000 UNIT	\$73.0000	\$5,694.00
801-01.34	GRASS SEED MIX (RIPZN/FLPL)			
	Jones Bros. Contractors, LLC	29.000 UNIT	\$250.0000	\$7,250.00
801-02	SEEDING (WITHOUT MULCH)			
	Jones Bros. Contractors, LLC	44.000 UNIT	\$65.0000	\$2,860.00
801-03	WATER (SEEDING & SODDING)			
	Jones Bros. Contractors, LLC	14.000 M.G.	\$100.0000	\$1,400.00
802-11.01	ACER NEGUNDO (BOX ELDER 2-5FT CNTNR GRWN)			
	Jones Bros. Contractors, LLC	12.000 EACH	\$150.0000	\$1,800.00
802-11.04	ACER SACCHARUM (SUGAR MAPLE 2-5FT CNTNR GRWN)	40 000 54 011		
	Jones Bros. Contractors, LLC	12.000 EACH	\$150.0000	\$1,800.00

			UNIT PRICE	CONTRACT CNX260 EXTENSION
802-11.26	PLATANUS OCCIDENTALIS (SYCAMORE 2-5FT CNTNR GRWN)			
	Jones Bros. Contractors, LLC	12.000 EACH	\$150.0000	\$1,800.00
802-11.27	POPULUS DELTOIDES (COTTONWOOD 2-5FT CNTNR GRWN)			
	Jones Bros. Contractors, LLC	12.000 EACH	\$150.0000	\$1,800.00
802-11.46	QUERCUS SHUMARDII (SHUMARD OAK 2-5 FT CNTNR GRWN)			
	Jones Bros. Contractors, LLC	12.000 EACH	\$150.0000	\$1,800.00
802-12.40	SALIX NIGRA (BLACK WILLOW SEEDLNG B.R.)			
	Jones Bros. Contractors, LLC	277.000 EACH	\$25.0000	\$6,925.00
805-12.02	EROSION CONTROL BLANKET (TYPE II)			
	Jones Bros. Contractors, LLC	5,807.000 S.Y.	\$1.5000	\$8,710.50

~~	NITO	$\Lambda \cap T$	CNX260
(.()	NIK	Δι.ι	しいスノカロ

		С	ONTRACT CNX260
BRIDGE CATEGORY		UNIT PRICE	EXTENSION
202-01.02 REMOVAL OF ASBESTOS			
Jones Bros. Contractors, LLC	1.000 LS	\$15,000.0000	\$15,000.00
202-04.01 REMOVAL OF STRUCTURES (EXIST. BR. NO. 11-SR249	-11.54) 1.000 LS		
Jones Bros. Contractors, LLC		\$480,000.0000	\$480,000.00
204-02.01 DRY EXCAVATION (BRIDGES)	395.000 C.Y.		
Jones Bros. Contractors, LLC		\$55.0000	\$21,725.00
Jones Bros. Contractors, LLC	286.000 C.Y.	\$100.0000	\$28,600.00
204-10.01 FOUNDATION PREPARATION(PIER NO. 1, STA 109+94.0	63)	\$100.0000	Ψ20,000.00
Jones Bros. Contractors, LLC	1.000 LS	\$110,000.0000	\$110,000.00
204-10.02 FOUNDATION PREPARATION(PIER NO. 2, STA 110+35.			
Jones Bros. Contractors, LLC	1.000 LS	\$116,000.0000	\$116,000.00
204-14 CORE DRILLING FOR PILES(ROCK)	200.000 L.F.		
Jones Bros. Contractors, LLC	200,000 E	\$385.0000	\$77,000.00
204-15 CORE DRILLING FOR PILES(SOIL)	188.000 L.F.		
Jones Bros. Contractors, LLC		\$385.0000	\$72,380.00
303-01.02 GRANULAR BACKFILL (BRIDGES)	46.000 TON		
Jones Bros. Contractors, LLC		\$70.0000	\$3,220.00
604-02.03 EPOXY COATED REINFORCING STEEL	41,937.000 LB.	¢2,0000	¢425 944 00
Jones Bros. Contractors, LLC  604-03.01 CLASS A CONCRETE (BRIDGES)		\$3.0000	\$125,811.00
Jones Bros. Contractors, LLC	364.000 C.Y.	\$1,300.0000	\$473,200.00
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)			
Jones Bros. Contractors, LLC	46,618.000 LB.	\$2.2000	\$102,559.60

			UNIT PRICE	CONTRACT CNX260 EXTENSION
604-03.04	PAVEMENT @ BRIDGE ENDS			
	Jones Bros. Contractors, LLC	216.000 S.Y.	\$500.0000	\$108,000.00
604-03.09	CLASS D CONCRETE (BRIDGE DECK)			
	Jones Bros. Contractors, LLC	151.000 C.Y.	\$2,000.0000	\$302,000.00
604-04.01	APPLIED TEXTURE FINISH (NEW STRUCTURES)			
	Jones Bros. Contractors, LLC	893.000 S.Y.	\$8.9500	\$7,992.35
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
	Jones Bros. Contractors, LLC	721.000 S.Y.	\$11.5200	\$8,305.92
606-03.03	STEEL PILES (12 INCH)			
	Jones Bros. Contractors, LLC	1,071.000 L.F.	\$140.0000	\$149,940.00
606-03.06	PILE TIPS (STEEL PILES, 12 INCH)			
	Jones Bros. Contractors, LLC	26.000 EACH	\$275.0000	\$7,150.00
615-02.19	PRESTRESSED CONCRETE BOX BEAM (24" X 36")			
	Jones Bros. Contractors, LLC	585.000 L.F.	\$575.0000	\$336,375.00
617-02	BRIDGE DECK CRACK SEALING			
	Jones Bros. Contractors, LLC	176.000 L.F.	\$5.0000	\$880.00
617-05	SEALANT (HMWM)			
	Jones Bros. Contractors, LLC	1.000 GAL.	\$420.0000	\$420.00
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
	Jones Bros. Contractors, LLC	299.000 L.F.	\$200.0000	\$59,800.00
621-05.02	TEMPORARY SHORING			
	Jones Bros. Contractors, LLC	1.000 LS	\$30,000.0000	\$30,000.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM			
	Jones Bros. Contractors, LLC	148.000 L.F.	\$60.0000	\$8,880.00

**CONTRACT CNX260** 

UNIT PRICE EXTENSION

710-09.02 6" PIPE UNDERDRAIN

28.000 L.F.

Jones Bros. Contractors, LLC \$20.0000 \$560.00

		со	NTRACT CNX260
UTILITY CATEGORY		UNIT PRICE	EXTENSION
793-01.07 POLE 35FT CLASS 4 WOOD			
Jones Bros. Contractors, LLC	2.000 EACH	\$3,260.0000	\$6,520.00
793-01.08 POLE 35FT CLASS 5 WOOD			
Jones Bros. Contractors, LLC	1.000 EACH	\$3,230.0000	\$3,230.00
793-01.41 ANCHOR 1IN			
Jones Bros. Contractors, LLC	4.000 EACH	\$1,010.0000	\$4,040.00
793-11.20 HANDHOLE 30INX48IN			
Jones Bros. Contractors, LLC	1.000 EACH	\$6,980.0000	\$6,980.00
793-13.07 4IN SCHEDULE 40 PVC			
Jones Bros. Contractors, LLC	1,072.000 L.F.	\$15.0000	\$16,080.00
793-13.17 2 DUCT FORMATION @ 36IN DEPTH			
Jones Bros. Contractors, LLC	536.000 L.F.	\$30.0000	\$16,080.00
793-14.19 4IN SCH 80 ORANGE FLEXPIPE			
Jones Bros. Contractors, LLC	328.000 L.F.	\$13.0000	\$4,264.00
793-16.04 DIRECTIONAL BORE 4IN/FLEX SLEEVE			
Jones Bros. Contractors, LLC	328.000 L.F.	\$64.0000	\$20,992.00
793-98.04 REMOVE POLES ALL SIZES			
Jones Bros. Contractors, LLC	3.000 EACH	\$350.0000	\$1,050.00
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE			
Jones Bros. Contractors, LLC	120.000 L.F.	\$440.0000	\$52,800.00
795-01.04 6IN DIP SLIP JOINT WATER LINE			
Jones Bros. Contractors, LLC	780.000 L.F.	\$93.0000	\$72,540.00
795-06.33 CUT AND CAP 6IN WATER LINE			
Jones Bros. Contractors, LLC	2.000 EACH	\$2,095.0000	\$4,190.00

			CONTRACT CNX260
		UNIT PRICE	EXTENSION
795-07.03 6IN X 6IN TAPPING SLEEVE AND VALVE	0.000 54.011		
Jones Bros. Contractors, LLC	2.000 EACH	\$3,460.0000	\$6,920.00
795-08.04 6IN GATE VALVE ASSEMBLY	1.000 EACH		
Jones Bros. Contractors, LLC		\$2,845.0000	\$2,845.00
795-11.02 FIRE HYDRANT ASSEMBLY	<b>1.000 EACH</b> \$10,432		
Jones Bros. Contractors, LLC		\$10,432.0000	\$10,432.00
795-13.01 DI FITTINGS			
	650.000 LB.		

Jones Bros. Contractors, LLC

\$9.0000

\$5,850.00

Jones Bros. Contractors, LLC \$2,545,045.32

## **SUB-TOTAL BRIDGE**

Jones Bros. Contractors, LLC \$2,645,798.87

## **SUB-TOTAL UTILITY**

Jones Bros. Contractors, LLC \$234,813.00

## **TOTAL CONTRACT**

Jones Bros. Contractors, LLC \$5,425,657.19

COUNTIES CHEATHAM, DAVIDSON, ROBERTSON, RUTHERFORD, SUMNER, WILLIAMSON, AND WILSON (Contract No. CNX334 Call 014)

R3BVAR-M3-041

THE RANDOM ON-CALL ASPHALT POTHOLE PATCHING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2024

TOTAL CONTRACT

Pavement Restorations, Inc.

\$4,162,200.00

			CONTRACT CNX334
MAINTENANCE CATEGORY		UNIT PRICE	EXTENSION
411-51.01 POTHOLE TEMPORARY REPAIR (ASPHALT)			
Pavement Restorations, Inc.	200.000 TON	\$146.0000	\$29,200.00
411-51.02 POTHOLE PERMANENT REPAIR (ASPHALT)			
Pavement Restorations, Inc.	1,000.000 TON	\$161.0000	\$161,000.00
411-51.10 INFRARED POTHOLE REPAIR (ASPHALT)	20,000.000 S.F.		
Pavement Restorations, Inc.	20,000.000 0.1 .	\$10.0000	\$200,000.00
712-01.08 LANE CLOSURE (INTERSTATE AND CONTROLLED ACCESS)	100.000 EACH		
Pavement Restorations, Inc.		\$2,500.0000	\$250,000.00
712-01.09 LANE CLOSURE (STATE ROUTES)	150.000 EACH		
Pavement Restorations, Inc.		\$1,980.0000	\$297,000.00
712-08.12 QUEUE PROTECTION TRUCK	100.000 DAY		
Pavement Restorations, Inc.		\$1,450.0000	\$145,000.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD	100.000 DAY		
Pavement Restorations, Inc.		\$1,450.0000	\$145,000.00
717-01.20 MOBILIZATION (INTERSTATE AND STATE ROUTE)	100.000 EACH		
Pavement Restorations, Inc.		\$12,000.0000	\$1,200,000.00
717-01.21 MOBILIZATION (STATE ROUTES)	150.000 EACH		
Pavement Restorations, Inc.		\$8,100.0000	\$1,215,000.00

100.000 EACH

717-01.22 MOBILIZATION (INFRARED REPAIRS)

Pavement Restorations, Inc.

\$520,000.00

\$5,200.0000

## **SUB-TOTAL MAINTENANCE**

Pavement Restorations, Inc. \$4,162,200.00

## **TOTAL CONTRACT**

Pavement Restorations, Inc. \$4,162,200.00

## CLAY COUNTY (Contract No. CNX342 Call 015)

HSIP-1400(29),14945-3457-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 4.00%

TOTAL CONTRACT

LU, Inc.\$249,477.61Volunteer Paving, LLC\$255,413.60Superior Traffic Control, LLC\$290,488.20

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT		
2.000 EACH		
LU, Inc.	\$1,777.5000	\$3,555.00
Volunteer Paving, LLC	\$1,866.3800	\$3,732.76
Superior Traffic Control, LLC	\$5,000.0000	\$10,000.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT		
3,270.000 L.F.		
LU, Inc.	\$3.8300	\$12,524.10
Volunteer Paving, LLC	\$4.0300	\$13,178.10
Superior Traffic Control, LLC	\$6.1500	\$20,110.50
705-06.01 W BEAM GR (TYPE 2) MASH TL-3		
135.000 L.F.		
LU, Inc.	\$39.6400	\$5,351.40
Volunteer Paving, LLC	\$41.6200	\$5,618.70
Superior Traffic Control, LLC	\$55.0000	\$7,425.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2		
2.000 EACH		
LU, Inc.	\$3,048.4100	\$6,096.82
Volunteer Paving, LLC	\$3,200.8300	\$6,401.66
Superior Traffic Control, LLC	\$5,500.0000	\$11,000.00
712-01 TRAFFIC CONTROL		
1.000 LS		
LU, Inc.	\$11,250.0000	\$11,250.00
Volunteer Paving, LLC	\$10,250.0000	\$10,250.00
Superior Traffic Control, LLC	\$8,500.0000	\$8,500.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)		
37.000 EACH		
LU, Inc.	\$59.8800	\$2,215.56
Volunteer Paving, LLC	\$62.8800	\$2,326.56
Superior Traffic Control, LLC	\$50.0000	\$1,850.00
713-02.20 ROADSIDE OBSTACLE DELINEATION		
71.000 S.F.		
LU, Inc.	\$30.2600	\$2,148.46
Volunteer Paving, LLC	\$31.7700	\$2,255.67
Superior Traffic Control, LLC	\$25.0000	\$1,775.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT		
1,440.000 L.F.		
LU, Inc.	\$6.5600	\$9,446.40
	<b>*</b>	<b>*</b>

Volunteer Paving, LLC

Superior Traffic Control, LLC

\$9,921.60

\$8,640.00

\$6.8900

\$6.0000

	UNIT PRICE	EXTENSION
713-02.22 BARRIER WALL DELINEATION ENHANCEMENT		
400.000 L.F.		
LU, Inc.	\$5.7900	\$2,316.00
Volunteer Paving, LLC	\$6.0800	\$2,432.00
Superior Traffic Control, LLC	\$7.0000	\$2,800.00
713-11.01 "U" SECTION STEEL POSTS		
1,248.000 LB.		
LU, Inc.	\$4.6100	\$5,753.28
Volunteer Paving, LLC	\$4.8400	\$6,040.32
Superior Traffic Control, LLC	\$6.1500	\$7,675.20
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
6,836.000 LB.		
LU, Inc.	\$5.8500	\$39,990.60
Volunteer Paving, LLC	\$6.1400	\$41,973.04
Superior Traffic Control, LLC	\$6.2500	\$42,725.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
740.000 S.F.		
LU, Inc.	\$14.2500	\$10,545.00
Volunteer Paving, LLC	\$14.9600	\$11,070.40
Superior Traffic Control, LLC	\$18.5000	\$13,690.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
965.000 S.F.		
LU, Inc.	\$15.4300	\$14,889.95
Volunteer Paving, LLC	\$16.2100	\$15,642.65
Superior Traffic Control, LLC	\$20.5000	\$19,782.50
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
78.000 EACH		
LU, Inc.	\$59.8800	\$4,670.64
Volunteer Paving, LLC	\$62.8800	\$4,904.64
Superior Traffic Control, LLC	\$15.0000	\$1,170.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
310.000 L.F.		
LU, Inc.	\$25.1900	\$7,808.90
Volunteer Paving, LLC	\$25.0000	\$7,750.00
Superior Traffic Control, LLC	\$12.0000	\$3,720.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
48.920 L.M.		
LU, Inc.	\$2,150.0000	\$105,178.00
Volunteer Paving, LLC	\$2,150.0000	\$105,178.00
Superior Traffic Control, LLC	\$2,500.0000	\$122,300.00

				CONTRACT CNX342
			UNIT PRICE	EXTENSION
716-13.0	4 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTT	ED LINE)		
		1,825.000 L.F.		
	LU, Inc.		\$1.5000	\$2,737.50
	Volunteer Paving, LLC		\$1.5000	\$2,737.50
	Superior Traffic Control, LLC		\$1.0000	\$1,825.00
717-01	MOBILIZATION			
		1.000 LS		
	LU, Inc.		\$3,000.0000	\$3,000.00
	Volunteer Paving, LLC		\$4,000.0000	\$4,000.00

\$5,500.0000

\$5,500.00

Superior Traffic Control, LLC

LU, Inc.	\$249,477.61
Volunteer Paving, LLC	\$255,413.60
Superior Traffic Control, LLC	\$290,488.20

## **TOTAL CONTRACT**

LU, Inc.	\$249,477.61
Volunteer Paving, LLC	\$255,413.60
Superior Traffic Control, LLC	\$290,488.20

### COFFEE COUNTY (Contract No. CNX309 Call 016)

BR-STP/HIP-2(260),16004-3208-94

THE CONSTRUCTION OF A WELDED STEEL PLATE GIRDER BRIDGE ON U.S. 41 (S.R. 2) OVER I-24 (L.M. 8.23), INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.359 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2025

**DBE GOAL 8.50%** 

	TOTAL CONTRACT
Bell & Associates Construction, LLC	\$14,776,375.66
Dement Construction Company, LLC	\$15,208,588.75
Jones Bros. Contractors, LLC	\$15,525,678.21
Mid-State Construction Company, Inc.	\$18,675,570.23

UNIT PRICE EXTENSION

#### ROADWAY CATEGORY

ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Bell & Associates Construction, LLC		\$72,469.7100	\$72,469.71
	Dement Construction Company, LLC		\$107,000.0000	\$107,000.00
	Jones Bros. Contractors, LLC		\$65,000.0000	\$65,000.00
	Mid-State Construction Company, Inc.		\$71,442.0000	\$71,442.00
109-10.01	TRAINEE			
		1,720.000 HOUR		
	Bell & Associates Construction, LLC	,	\$0.8000	\$1,376.00
	Dement Construction Company, LLC		\$0.8000	\$1,376.00
	Jones Bros. Contractors, LLC		\$0.8000	\$1,376.00
	Mid-State Construction Company, Inc.		\$0.8000	\$1,376.00
202 04 42	DEMOVAL OF DIDE (49")			
202-01.13	REMOVAL OF PIPE (18")	60.000 L.F.		
	Bell & Associates Construction, LLC	00.000 L.I .	\$59.5100	\$3,570.60
	Dement Construction Company, LLC		\$39.5100	\$1,800.00
	Jones Bros. Contractors, LLC		\$30.0000	\$1,800.00
	Mid-State Construction Company, Inc.		\$23.7900	\$1,427.40
	, , , , , , , , , , , , , , , , , , ,		<del></del>	<b>4</b> .,
202-08.10	REMOVAL OF CURB (POST CURB)			
		637.000 L.F.		
	Bell & Associates Construction, LLC		\$13.2700	\$8,452.99
	Dement Construction Company, LLC		\$20.0000	\$12,740.00
	Jones Bros. Contractors, LLC		\$5.0000	\$3,185.00
	Mid-State Construction Company, Inc.		\$11.8800	\$7,567.56
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
203-01	NOAD & DIVANAGE EXOAVATION (GNOEAGON IED)	11,321.000 C.Y.		
	Pall & Associates Construction LLC	11,321.000 C.1.	\$29.5300	\$334.309.13
	Bell & Associates Construction, LLC Dement Construction Company, LLC		\$45.0000	\$509,445.00
	Jones Bros. Contractors, LLC		\$36.0000	\$407,556.00
	Mid-State Construction Company, Inc.		\$25.9400	\$293,666.74
	. ,			
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		20,673.000 TON		
	Bell & Associates Construction, LLC		\$44.8700	\$927,597.51
	Dement Construction Company, LLC		\$35.5000	\$733,891.50
	Jones Bros. Contractors, LLC		\$33.0000	\$682,209.00
	Mid-State Construction Company, Inc.		\$38.3100	\$791,982.63
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		1,004.000 C.Y.		
	Bell & Associates Construction, LLC	,	\$65.4400	\$65,701.76
	Dement Construction Company, LLC		\$25.0000	\$25,100.00
	Jones Bros. Contractors, LLC		\$30.0000	\$30,120.00
	Mid-State Construction Company, Inc.		\$35.7700	\$35,913.08

			UNIT PRICE	EXTENSION
203-04	PLACING AND SPREADING TOPSOIL			
		950.000 C.Y.		
	Bell & Associates Construction, LLC		\$16.4400	\$15,618.00
	Dement Construction Company, LLC		\$25.0000	\$23,750.00
	Jones Bros. Contractors, LLC		\$26.8500	\$25,507.50
	Mid-State Construction Company, Inc.		\$6.1800	\$5,871.00
203-05	UNDERCUTTING			
		8,709.000 C.Y.		
	Bell & Associates Construction, LLC		\$43.4800	\$378,667.32
	Dement Construction Company, LLC		\$40.0000	\$348,360.00
	Jones Bros. Contractors, LLC		\$20.0000	\$174,180.00
	Mid-State Construction Company, Inc.		\$25.9800	\$226,259.82
209-03.23	FILTER SOCK (24 INCH)			
		2,350.000 L.F.		
	Bell & Associates Construction, LLC		\$10.0600	\$23,641.00
	Dement Construction Company, LLC		\$11.1000	\$26,085.00
	Jones Bros. Contractors, LLC		\$25.0000	\$58,750.00
	Mid-State Construction Company, Inc.		\$26.4100	\$62,063.50
209-05	SEDIMENT REMOVAL			
		158.000 C.Y.		
	Bell & Associates Construction, LLC		\$10.9100	\$1,723.78
	Dement Construction Company, LLC		\$45.0000	\$7,110.00
	Jones Bros. Contractors, LLC		\$20.0000	\$3,160.00
	Mid-State Construction Company, Inc.		\$13.1800	\$2,082.44
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		8,922.000 L.F.		
	Bell & Associates Construction, LLC		\$5.8700	\$52,372.14
	Dement Construction Company, LLC		\$5.0000	\$44,610.00
	Jones Bros. Contractors, LLC		\$6.3000	\$56,208.60
	Mid-State Construction Company, Inc.		\$12.9700	\$115,718.34
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		5,155.000 L.F.		
	Bell & Associates Construction, LLC	•	\$2.2300	\$11,495.65
	Dement Construction Company, LLC		\$1.3500	\$6,959.25
	Jones Bros. Contractors, LLC		\$3.6000	\$18,558.00
	Mid-State Construction Company, Inc.		\$6.7300	\$34,693.15
209-08.07	ROCK CHECK DAM			
		32.000 EACH		
	Bell & Associates Construction, LLC		\$335.2500	\$10,728.00
	Dement Construction Company, LLC		\$595.4500	\$19,054.40
	Jones Bros. Contractors, LLC		\$800.0000	\$25,600.00
	Mid-State Construction Company, Inc.		\$1,488.4900	\$47,631.68

CONTRACT CNX309
-----------------

			UNIT PRICE	EXTENSION
209-08.08 EN	IHANCED ROCK CHECK DAM			
		36.000 EACH		
Be	Il & Associates Construction, LLC		\$726.3700	\$26,149.32
	ement Construction Company, LLC		\$887.7200	\$31,957.92
	nes Bros. Contractors, LLC		\$900.0000	\$32,400.00
Mic	d-State Construction Company, Inc.		\$2,087.6600	\$75,155.76
209-40.30 CA	ATCH BASIN PROTECTION (TYPE A)			
		2.000 EACH		
	Il & Associates Construction, LLC		\$1,117.5000	\$2,235.00
	ement Construction Company, LLC		\$700.0000	\$1,400.00
	nes Bros. Contractors, LLC		\$1,000.0000	\$2,000.00
Mic	d-State Construction Company, Inc.		\$1,488.3800	\$2,976.76
209-40.33 CA	ATCH BASIN PROTECTION (TYPE D)			
		3.000 EACH		
Be	II & Associates Construction, LLC		\$279.3700	\$838.11
De	ement Construction Company, LLC		\$350.0000	\$1,050.00
	nes Bros. Contractors, LLC		\$830.0000	\$2,490.00
Mic	d-State Construction Company, Inc.		\$428.6500	\$1,285.95
209-40.43 CA	ATCH BASIN FILTER ASSEMBLY(TYPE 3)			
		1.000 EACH		
Be	Il & Associates Construction, LLC		\$447.0000	\$447.00
De	ement Construction Company, LLC		\$1,000.0000	\$1,000.00
Jor	nes Bros. Contractors, LLC		\$3,600.0000	\$3,600.00
Mic	d-State Construction Company, Inc.		\$1,190.7000	\$1,190.70
303-01 MII	NERAL AGGREGATE, TYPE A BASE, GRADING D			
		12,216.000 TON		
Be	Il & Associates Construction, LLC		\$37.2200	\$454,679.52
De	ement Construction Company, LLC		\$52.5000	\$641,340.00
Jor	nes Bros. Contractors, LLC		\$52.5000	\$641,340.00
Mic	d-State Construction Company, Inc.		\$64.1700	\$783,900.72
303-10.01 MII	NERAL AGGREGATE (SIZE 57)			
		1,056.160 TON		
Be	ell & Associates Construction, LLC		\$39.6300	\$41,855.62
De	ement Construction Company, LLC		\$60.0000	\$63,369.60
Jor	nes Bros. Contractors, LLC		\$49.3400	\$52,110.93
Mic	d-State Construction Company, Inc.		\$43.0800	\$45,499.37
307-01.01 AS	SPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	NG A		
		1,547.000 TON		
Be	II & Associates Construction, LLC		\$129.0700	\$199,671.29
	ement Construction Company, LLC		\$115.5000	\$178,678.50
	nes Bros. Contractors, LLC		\$115.5000	\$178,678.50
Mid	d-State Construction Company, Inc.		\$137.5300	\$212,758.91

			UNIT PRICE	EXTENSION
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADI	NG B-M2		
		1,195.000 TON		
	Bell & Associates Construction, LLC		\$132.9800	\$158,911.10
	Dement Construction Company, LLC		\$119.0000	\$142,205.00
	Jones Bros. Contractors, LLC		\$119.0000	\$142,205.00
	Mid-State Construction Company, Inc.		\$141.6900	\$169,319.55
307-01.20	ASP. CONC. MIX(PG64-22) (BPMB-HM) GR. A-S			
		908.000 TON		
	Bell & Associates Construction, LLC		\$148.6300	\$134,956.04
	Dement Construction Company, LLC		\$133.0000	\$120,764.00
	Jones Bros. Contractors, LLC		\$133.0000	\$120,764.00
	Mid-State Construction Company, Inc.		\$158.3600	\$143,790.88
313-03	TREATED PERMEABLE BASE			
		3,015.000 S.Y.		
	Bell & Associates Construction, LLC		\$27.9400	\$84,239.10
	Dement Construction Company, LLC		\$25.0000	\$75,375.00
	Jones Bros. Contractors, LLC		\$25.0000	\$75,375.00
	Mid-State Construction Company, Inc.		\$29.7700	\$89,756.55
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		19.500 TON		
	Bell & Associates Construction, LLC		\$1,050.4500	\$20,483.78
	Dement Construction Company, LLC		\$940.0000	\$18,330.00
	Jones Bros. Contractors, LLC		\$940.0000	\$18,330.00
	Mid-State Construction Company, Inc.		\$1,119.2600	\$21,825.57
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		65.000 TON		
	Bell & Associates Construction, LLC		\$100.3000	\$6,519.50
	Dement Construction Company, LLC		\$89.7500	\$5,833.75
	Jones Bros. Contractors, LLC		\$89.7500	\$5,833.75
	Mid-State Construction Company, Inc.		\$106.8700	\$6,946.55
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITOMINOUS MATERIAL FOR TACK COAT (10)	11.500 TON		
	Bell & Associates Construction, LLC	11.500 1014	\$1,067.2100	¢42.272.02
			• •	\$12,272.92 \$10,083.50
	Dement Construction Company, LLC		\$955.0000	\$10,982.50
	Jones Bros. Contractors, LLC		\$955.0000	\$10,982.50
	Mid-State Construction Company, Inc.		\$1,137.1200	\$13,076.88
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		355.000 TON		
	Bell & Associates Construction, LLC		\$268.2000	\$95,211.00
	Dement Construction Company, LLC		\$240.0000	\$85,200.00
	Jones Bros. Contractors, LLC		\$240.0000	\$85,200.00
	Mid-State Construction Company, Inc.		\$285.7700	\$101,448.35

		UNIT PRICE	EXTENSION
411-01.10 ACS MIX(PG64-22) GRADING D			
	559.000 TON		
Bell & Associates Construction, LLC		\$279.3700	\$156,167.83
Dement Construction Company, LLC		\$250.0000	\$139,750.00
Jones Bros. Contractors, LLC		\$250.0000	\$139,750.00
Mid-State Construction Company, Inc.		\$297.6800	\$166,403.12
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	0.750 L.M.		
Bell & Associates Construction, LLC		\$8,101.8500	\$6,076.39
Dement Construction Company, LLC		\$7,015.0000	\$5,261.25
Jones Bros. Contractors, LLC		\$6,575.0000	\$4,931.25
Mid-State Construction Company, Inc.		\$10,120.9500	\$7,590.71
415-01.01 COLD PLANING BITUMINOUS PAVEMENT			
	140.000 TON		
Bell & Associates Construction, LLC		\$134.1000	\$18,774.00
Dement Construction Company, LLC		\$120.0000	\$16,800.00
Jones Bros. Contractors, LLC		\$120.0000	\$16,800.00
Mid-State Construction Company, Inc.		\$190.5100	\$26,671.40
501-01.03 PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10"			
	3,015.000 S.Y.		
Bell & Associates Construction, LLC		\$174.3300	\$525,604.95
Dement Construction Company, LLC		\$156.0000	\$470,340.00
Jones Bros. Contractors, LLC		\$170.0000	\$512,550.00
Mid-State Construction Company, Inc.		\$261.9500	\$789,779.25
502-04.01 SAWING CONCRETE PAVEMENT (FULL DEPTH)			
	200.000 L.F.		
Bell & Associates Construction, LLC		\$11.1700	\$2,234.00
Dement Construction Company, LLC		\$15.0000	\$3,000.00
Jones Bros. Contractors, LLC		\$20.0000	\$4,000.00
Mid-State Construction Company, Inc.		\$11.9100	\$2,382.00
604-10.51 SCARIFYING			
	63.000 S.Y.		
Bell & Associates Construction, LLC		\$22.3500	\$1,408.05
Dement Construction Company, LLC		\$20.0000	\$1,260.00
Jones Bros. Contractors, LLC		\$30.0000	\$1,890.00
Mid-State Construction Company, Inc.		\$59.5400	\$3,751.02
606-24.13 TEMPORARY SHEET PILES			
	1.000 LS		
Bell & Associates Construction, LLC		\$141,620.9100	\$141,620.91
Dement Construction Company, LLC		\$175,000.0000	\$175,000.00
Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
Mid-State Construction Company, Inc.		\$69,724.7700	\$69,724.77
• •		·	•

		•	CONTRACT CIANSUS
		UNIT PRICE	EXTENSION
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)			
	20.000 L.F.		
Bell & Associates Construction, LLC		\$226.4600	\$4,529.20
Dement Construction Company, LLC		\$200.0000	\$4,000.00
Jones Bros. Contractors, LLC		\$118.0000	\$2,360.00
Mid-State Construction Company, Inc.		\$142.5600	\$2,851.20
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
(, ,	136.000 L.F.		
Bell & Associates Construction, LLC		\$337.0700	\$45,841.52
Dement Construction Company, LLC		\$150.0000	\$20,400.00
Jones Bros. Contractors, LLC		\$128.0000	\$17,408.00
Mid-State Construction Company, Inc.		\$152.9200	\$20,797.12
• •			
611-01.03 MANHOLES, > 8' - 12' DEPTH			
	1.000 EACH		
Bell & Associates Construction, LLC		\$6,828.6700	\$6,828.67
Dement Construction Company, LLC		\$15,000.0000	\$15,000.00
Jones Bros. Contractors, LLC		\$7,850.0000	\$7,850.00
Mid-State Construction Company, Inc.		\$8,141.5300	\$8,141.53
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
,	1.000 EACH		
Bell & Associates Construction, LLC		\$6,327.9700	\$6,327.97
Dement Construction Company, LLC		\$7,500.0000	\$7,500.00
Jones Bros. Contractors, LLC		\$3,750.0000	\$3,750.00
Mid-State Construction Company, Inc.		\$5,730.0000 \$5,147.0800	\$5,730.00 \$5,147.08
Mid-State Construction Company, mc.		ψ5,147.0000	φ3,147.00
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	1.000 EACH		
Bell & Associates Construction, LLC		\$4,471.8500	\$4,471.85
Dement Construction Company, LLC		\$7,500.0000	\$7,500.00
Jones Bros. Contractors, LLC		\$7,000.0000	\$7,000.00
Mid-State Construction Company, Inc.		\$5,704.7300	\$5,704.73
621-03.02 18" TEMPORARY DRAINAGE PIPE			
021-03.02 TO TEIM ORARY BRAINAGETTI E	935.000 L.F.		
Bell & Associates Construction, LLC		\$34.0500	\$31,836.75
Dement Construction Company, LLC		\$35.0000	\$32,725.00
Jones Bros. Contractors, LLC		\$90.0000	\$84,150.00
Mid-State Construction Company, Inc.		\$64.2100	\$60,036.35
wide diate construction company, me.		ψ04.2100	ψου,σου.σο
705-06.01 W BEAM GR (TYPE 2) MASH TL-3			
	1,595.000 L.F.		
Bell & Associates Construction, LLC		\$35.4700	\$56,574.65
Dement Construction Company, LLC		\$31.6000	\$50,402.00
Jones Bros. Contractors, LLC		\$31.6000	\$50,402.00
Mid-State Construction Company, Inc.		\$37.6300	\$60,019.85

		UNIT PRICE	EXTENSION
705-06.15 SHORT-RADIUS GUARDRAIL SYSTEM (16 FT RADIUS) M.	ASH TL-3		
	3.000 EACH		
Bell & Associates Construction, LLC		\$15,605.0600	\$46,815.18
Dement Construction Company, LLC		\$13,902.0000	\$41,706.00
Jones Bros. Contractors, LLC		\$13,902.0000	\$41,706.00
Mid-State Construction Company, Inc.		\$16,553.1100	\$49,659.33
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
	1.000 EACH		
Bell & Associates Construction, LLC		\$3,974.7900	\$3,974.79
Dement Construction Company, LLC		\$3,541.0000	\$3,541.00
Jones Bros. Contractors, LLC		\$3,541.0000	\$3,541.00
Mid-State Construction Company, Inc.		\$4,216.2700	\$4,216.27
705-06.25 THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	4.000 EACH		
Bell & Associates Construction, LLC		\$2,515.5400	\$10,062.16
Dement Construction Company, LLC		\$2,241.0000	\$8,964.00
Jones Bros. Contractors, LLC		\$2,241.0000	\$8,964.00
Mid-State Construction Company, Inc.		\$2,668.3600	\$10,673.44
706-01 GUARDRAIL REMOVED			
	1,262.000 L.F.		
Bell & Associates Construction, LLC		\$6.2000	\$7,824.40
Dement Construction Company, LLC		\$5.5200	\$6,966.24
Jones Bros. Contractors, LLC		\$5.5200	\$6,966.24
Mid-State Construction Company, Inc.		\$6.5700	\$8,291.34
707-01.50 CHAIN-LINK FENCE (8 FOOT)			
	235.000 L.F.		
Bell & Associates Construction, LLC		\$39.1100	\$9,190.85
Dement Construction Company, LLC		\$35.0000	\$8,225.00
Jones Bros. Contractors, LLC		\$35.0000	\$8,225.00
Mid-State Construction Company, Inc.		\$41.6700	\$9,792.45
707-06.01 REMOVAL OF FENCE (CHAIN LINK)			
	235.000 L.F.		
Bell & Associates Construction, LLC		\$6.7000	\$1,574.50
Dement Construction Company, LLC		\$6.0000	\$1,410.00
Jones Bros. Contractors, LLC		\$6.0000	\$1,410.00
Mid-State Construction Company, Inc.		\$7.1400	\$1,677.90
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE			
	5,500.000 L.F.		
Bell & Associates Construction, LLC		\$2.2300	\$12,265.00
Dement Construction Company, LLC		\$2.2500	\$12,375.00
Jones Bros. Contractors, LLC		\$4.3000	\$23,650.00
Mid-State Construction Company, Inc.		\$2.5000	\$13,750.00

		UNIT PRICE	EXTENSION
709-05.05 MACHINED RIP-RAP (CLASS A-3)			
	1,307.000 TON		
Bell & Associates Construction, LLC		\$47.7200	\$62,370.04
Dement Construction Company, LLC		\$50.0000	\$65,350.00
Jones Bros. Contractors, LLC		\$73.0000	\$95,411.00
Mid-State Construction Company, Inc.		\$62.7900	\$82,066.53
709-05.06 MACHINED RIP-RAP (CLASS A-1)			
	111.810 TON		
Bell & Associates Construction, LLC		\$49.2900	\$5,511.11
Dement Construction Company, LLC		\$50.0000	\$5,590.50
Jones Bros. Contractors, LLC		\$73.0000	\$8,162.13
Mid-State Construction Company, Inc.		\$71.8100	\$8,029.08
709-05.08 MACHINED RIP-RAP (CLASS B)			
	58.000 TON		
Bell & Associates Construction, LLC		\$49.1500	\$2,850.70
Dement Construction Company, LLC		\$50.0000	\$2,900.00
Jones Bros. Contractors, LLC		\$73.0000	\$4,234.00
Mid-State Construction Company, Inc.		\$76.7900	\$4,453.82
710-02 AGGREGATE UNDERDRAINS (WITH PIPE)			
	2,848.340 L.F.		
Bell & Associates Construction, LLC		\$10.0600	\$28,654.30
Dement Construction Company, LLC		\$10.0000	\$28,483.40
Jones Bros. Contractors, LLC		\$11.2500	\$32,043.83
Mid-State Construction Company, Inc.		\$13.4000	\$38,167.76
710-05 LATERAL UNDERDRAIN			
	390.000 L.F.		
Bell & Associates Construction, LLC		\$6.7000	\$2,613.00
Dement Construction Company, LLC		\$10.0000	\$3,900.00
Jones Bros. Contractors, LLC		\$10.5000	\$4,095.00
Mid-State Construction Company, Inc.		\$12.5000	\$4,875.00
710-06.11 LATERAL UNDERDRAIN ENDWALL (2:1)			
	5.000 EACH		
Bell & Associates Construction, LLC		\$1,341.0000	\$6,705.00
Dement Construction Company, LLC		\$1,200.0000	\$6,000.00
Jones Bros. Contractors, LLC		\$1,100.0000	\$5,500.00
Mid-State Construction Company, Inc.		\$1,309.7700	\$6,548.85
710-06.12 LATERAL UNDERDRAIN ENDWALL (3:1)			
	5.000 EACH		
Bell & Associates Construction, LLC		\$1,341.0000	\$6,705.00
Dement Construction Company, LLC		\$1,200.0000	\$6,000.00
Jones Bros. Contractors, LLC		\$1,100.0000	\$5,500.00
Mid-State Construction Company, Inc.		\$1,309.7700	\$6,548.85

			UNIT PRICE	EXTENSION
710-06.13 L	ATERAL UNDERDRAIN ENDWALL (4:1)			
	- ( )	2.000 EACH		
_		2.000 EACH	<b>#</b> 4 044 0000	ФО 000 00
	Bell & Associates Construction, LLC		\$1,341.0000	\$2,682.00
	Dement Construction Company, LLC		\$1,200.0000	\$2,400.00
	lones Bros. Contractors, LLC		\$1,100.0000	\$2,200.00
IV.	Mid-State Construction Company, Inc.		\$1,309.7700	\$2,619.54
/10-06.15 L	ATERAL UNDERDRAIN ENDWALL (6:1)			
		7.000 EACH		
	Bell & Associates Construction, LLC		\$1,341.0000	\$9,387.00
	Dement Construction Company, LLC		\$1,200.0000	\$8,400.00
J	lones Bros. Contractors, LLC		\$1,100.0000	\$7,700.00
N	Mid-State Construction Company, Inc.		\$1,309.7700	\$9,168.39
712-01 T	RAFFIC CONTROL			
		1.000 LS		
Е	Bell & Associates Construction, LLC		\$123,014.1200	\$123,014.12
	Dement Construction Company, LLC		\$120,000.0000	\$120,000.00
J	lones Bros. Contractors, LLC		\$120,015.1700	\$120,015.17
N	Aid-State Construction Company, Inc.		\$414,559.0700	\$414,559.07
712-02.12 F	PORTABLE BARRIER RAIL, REDUCED DEFLECTION (MAS	H TL-3)		
		2,900.000 L.F.		
Е	Bell & Associates Construction, LLC		\$27.0000	\$78,300.00
	Dement Construction Company, LLC		\$60.0000	\$174,000.00
	lones Bros. Contractors, LLC		\$41.5000	\$120,350.00
	Mid-State Construction Company, Inc.		\$63.7300	\$184,817.00
712-02.60 T	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)			
		6.000 EACH		
Е	Bell & Associates Construction, LLC		\$7,561.7300	\$45,370.38
Г	Dement Construction Company, LLC		\$11,200.0000	\$67,200.00
	lones Bros. Contractors, LLC		\$18,000.0000	\$108,000.00
	Mid-State Construction Company, Inc.		\$8,603.3400	\$51,620.04
	ma state conditioned company, me.		ψο,σσο.σ 1σσ	φο 1,020.0 1
712-04.01 F	FLEXIBLE DRUMS (CHANNELIZING)			
		420.000 EACH		
F	Bell & Associates Construction, LLC		\$34.6400	\$14,548.80
	Dement Construction Company, LLC		\$65.0000	\$27,300.00
	lones Bros. Contractors, LLC		\$65.0000	\$27,300.00
	Aid-State Construction Company, Inc.		\$36.9100	\$15,502.20
IV	viid-State Construction Company, Inc.		φ30.9100	φ15,502.20
712-04.50 E	BARRIER RAIL DELINEATOR			
	-	169.000 EACH		
Б	Rell & Associates Construction 11 C	100.000 EAGII	¢11 1700	¢1 007 70
	Bell & Associates Construction, LLC		\$11.1700 \$30,0000	\$1,887.73 \$5,070.00
	Dement Construction Company, LLC		\$30.0000	\$5,070.00 \$5,070.00
	lones Bros. Contractors, LLC		\$30.0000 \$11.0100	\$5,070.00 \$3,013,70
IV.	Mid-State Construction Company, Inc.		\$11.9100	\$2,012.79

			UNIT PRICE	EXTENSION
			OMITIMOL	ZXX ZXX O
712-05.01	WARNING LIGHTS (TYPE A)			
		116.000 EACH		
	Bell & Associates Construction, LLC		\$33.5200	\$3,888.32
	Dement Construction Company, LLC		\$40.0000	\$4,640.00
	Jones Bros. Contractors, LLC		\$40.0000	\$4,640.00
	Mid-State Construction Company, Inc.		\$35.7200	\$4,143.52
712-06	SIGNS (CONSTRUCTION)			
		1,678.000 S.F.		
	Bell & Associates Construction, LLC		\$10.6200	\$17,820.36
	Dement Construction Company, LLC		\$14.0000	\$23,492.00
	Jones Bros. Contractors, LLC		\$14.0000	\$23,492.00
	Mid-State Construction Company, Inc.		\$11.3100	\$18,978.18
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	, ,	330.000 L.F.		
	Bell & Associates Construction, LLC		\$33.5200	\$11,061.60
	Dement Construction Company, LLC		\$20.0000	\$6,600.00
	Jones Bros. Contractors, LLC		\$20.0000	\$6,600.00
	Mid-State Construction Company, Inc.		\$35.7200	\$11,787.60
	wild State Gonstidetion Company, me.		ψ00.7200	Ψ11,707.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Bell & Associates Construction, LLC		\$1,676.2500	\$3,352.50
	Dement Construction Company, LLC		\$2,500.0000	\$5,000.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$5,000.00
	Mid-State Construction Company, Inc.		\$1,786.0500	\$3,572.10
712-08.12	QUEUE PROTECTION TRUCK			
		8.000 DAY		
	Bell & Associates Construction, LLC		\$1,452.7500	\$11,622.00
	Dement Construction Company, LLC		\$2,000.0000	\$16,000.00
	Jones Bros. Contractors, LLC		\$1,500.0000	\$12,000.00
	Mid-State Construction Company, Inc.		\$1,547.9100	\$12,383.28
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
	,	24,640.000 L.F.		
	Bell & Associates Construction, LLC	_ 1,0 131300 1	\$4.8600	\$119,750.40
	Dement Construction Company, LLC		\$4.3500	\$107,184.00
	Jones Bros. Contractors, LLC		\$4.0000	\$98,560.00
	Mid-State Construction Company, Inc.		\$5.1800	\$127,635.20
742.05	CTEEL HOLLOW COLLABE DOCT (DDFAVAWAY) CION	LEUDDODTS		
713-05	STEEL HOLLOW SQUARE POST (BREAKAWAY) SIGN	190,200 LB.		
	Bell & Associates Construction, LLC	100.200 LB.	\$6.7000	\$671.34
	Dement Construction Company, LLC		\$20.0000	\$2,004.00
	Jones Bros. Contractors, LLC		\$20.0000 \$6.0000	\$2,004.00 \$601.20
	Mid-State Construction Company, Inc.		\$7.1400	\$715.43
	wid State Constitution Company, Inc.		ψ1.1 <del>4</del> 00	ψ/ 13. <del>4</del> 3

#### CONTRACT CNX309

			UNIT PRICE	EXTENSION
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPF	PORT		
		100.200 LB.		
	Bell & Associates Construction, LLC		\$6.7000	\$671.34
	Dement Construction Company, LLC		\$20.0000	\$2,004.00
	Jones Bros. Contractors, LLC		\$6.0000	\$601.20
	Mid-State Construction Company, Inc.		\$7.1400	\$715.43
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		2,150.000 LB.		
	Bell & Associates Construction, LLC		\$6.7000	\$14,405.00
	Dement Construction Company, LLC		\$3.3800	\$7,267.00
	Jones Bros. Contractors, LLC		\$6.0000	\$12,900.00
	Mid-State Construction Company, Inc.		\$7.1400	\$15,351.00
713-13.02	PER PROPERTY			
		204.000 S.F.		
	Bell & Associates Construction, LLC		\$20.6700	\$4,216.68
	Dement Construction Company, LLC		\$12.1000	\$2,468.40
	Jones Bros. Contractors, LLC		\$18.5000	\$3,774.00
	Mid-State Construction Company, Inc.		\$22.0300	\$4,494.12
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		521.000 S.F.		
	Bell & Associates Construction, LLC		\$22.9100	\$11,936.11
	Dement Construction Company, LLC		\$12.3700	\$6,444.77
	Jones Bros. Contractors, LLC		\$20.5000	\$10,680.50
	Mid-State Construction Company, Inc.		\$24.4100	\$12,717.61
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		7.000 EACH		
	Bell & Associates Construction, LLC		\$111.7500	\$782.25
	Dement Construction Company, LLC		\$979.0000	\$6,853.00
	Jones Bros. Contractors, LLC		\$100.0000	\$700.00
	Mid-State Construction Company, Inc.		\$119.0700	\$833.49
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		8.000 EACH		
	Bell & Associates Construction, LLC		\$9,498.7300	\$75,989.84
	Dement Construction Company, LLC		\$8,500.0000	\$68,000.00
	Jones Bros. Contractors, LLC		\$8,500.0000	\$68,000.00
	Mid-State Construction Company, Inc.		\$10,120.9500	\$80,967.60
716-01.05	TEMPORARY RAISED PAVEMENT MARKER			
		100.000 EACH		
	Bell & Associates Construction, LLC		\$11.1800	\$1,118.00
	Dement Construction Company, LLC		\$10.0000	\$1,000.00
	Jones Bros. Contractors, LLC		\$10.0000	\$1,000.00
	Mid-State Construction Company, Inc.		\$11.9100	\$1,191.00

	UNIT PRICE	EXTENSION
716-01.14 RAISED PAVEMENT MARKER REMOVAL		
87.000 EACH		
Bell & Associates Construction, LLC	\$3.3500	\$291.45
Dement Construction Company, LLC	\$3.0000	\$261.00
Jones Bros. Contractors, LLC	\$10.0000	\$870.00
Mid-State Construction Company, Inc.	\$3.5700	\$310.59
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
110.000 EACH		
Bell & Associates Construction, LLC	\$83.8100	\$9,219.10
Dement Construction Company, LLC	\$75.0000	\$8,250.00
Jones Bros. Contractors, LLC	\$50.0000	\$5,500.00
Mid-State Construction Company, Inc.	\$89.3000	\$9,823.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
30.000 EACH		
Bell & Associates Construction, LLC	\$83.8100	\$2,514.30
Dement Construction Company, LLC	\$75.0000	\$2,250.00
Jones Bros. Contractors, LLC	\$50.0000	\$1,500.00
Mid-State Construction Company, Inc.	\$89.3000	\$2,679.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
200.000 EACH		
Bell & Associates Construction, LLC	\$13.4100	\$2,682.00
Dement Construction Company, LLC	\$12.0000	\$2,400.00
Jones Bros. Contractors, LLC	\$15.0000	\$3,000.00
Mid-State Construction Company, Inc.	\$14.2900	\$2,858.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
300.000 S.Y.		
Bell & Associates Construction, LLC	\$33.5200	\$10,056.00
Dement Construction Company, LLC	\$30.0000	\$9,000.00
Jones Bros. Contractors, LLC	\$30.0000	\$9,000.00
Mid-State Construction Company, Inc.	\$35.7200	\$10,716.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
42.000 L.F.		
Bell & Associates Construction, LLC	\$16.7600	\$703.92
Dement Construction Company, LLC	\$15.0000	\$630.00
Jones Bros. Contractors, LLC	\$20.0000	\$840.00
Mid-State Construction Company, Inc.	\$17.8600	\$750.12
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
12.000 EACH		
Bell & Associates Construction, LLC	\$335.2500	\$4,023.00
Dement Construction Company, LLC	\$300.0000	\$3,600.00
Jones Bros. Contractors, LLC	\$200.0000	\$2,400.00
Mid-State Construction Company, Inc.	\$357.2100	\$4,286.52

	UNIT PRICE	EXTENSION
716-04.06 PLASTIC PAVEMENT MARKING (WRONG WAY ARROW)		
2.000 EACH		
Bell & Associates Construction, LLC	\$447.0000	\$894.00
Dement Construction Company, LLC	\$400.0000	\$800.00
Jones Bros. Contractors, LLC	\$350.0000	\$700.00
Mid-State Construction Company, Inc.	\$476.2800	\$952.56
716-08.01 REMOVAL OF PAVEMENT MARKING (LINE)		
37,650.000 L.F.		
Bell & Associates Construction, LLC	\$1.1200	\$42,168.00
Dement Construction Company, LLC	\$1.0000	\$37,650.00
Jones Bros. Contractors, LLC	\$0.7500	\$28,237.50
Mid-State Construction Company, Inc.	\$1.1900	\$44,803.50
716-08.04 REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIPING)		
690,000 S.Y.		
Bell & Associates Construction, LLC	\$27.9400	\$19,278.60
Dement Construction Company, LLC	\$25.0000	\$17,250.00
Jones Bros. Contractors, LLC	\$15.0000	\$10,350.00
Mid-State Construction Company, Inc.	\$29.7700	\$20,541.30
	,	, ,,,
716-08.05 REMOVAL OF PAVEMENT MARKING (STOP LINE)		
30.000 L.F.		
Bell & Associates Construction, LLC	\$3.3500	\$100.50
Dement Construction Company, LLC	\$3.0000	\$90.00
Jones Bros. Contractors, LLC	\$10.0000	\$300.00
Mid-State Construction Company, Inc.	\$3.5700	\$107.10
716-08.06 REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)		
7.000 EACH		
Bell & Associates Construction, LLC	\$111.7500	\$782.25
Dement Construction Company, LLC	\$100.0000	\$700.00
Jones Bros. Contractors, LLC	\$100.0000	\$700.00
Mid-State Construction Company, Inc.	\$119.0700	\$833.49
TARREST AND PERSONAL OF PANEMENT MARKING (MELDIUME)		
716-08.19 REMOVAL OF PAVEMENT MARKING (YIELD LINE)		
40.000 S.F.	<b>*</b>	
Bell & Associates Construction, LLC	\$6.7100	\$268.40
Dement Construction Company, LLC	\$6.0000	\$240.00
Jones Bros. Contractors, LLC	\$5.0000	\$200.00
Mid-State Construction Company, Inc.	\$7.1400	\$285.60
716-09.03 WET REFLECTIVE PAVEMENT MARKING(6" LINE)		
0.600 L.M.		
Bell & Associates Construction, LLC	\$35,759.9200	\$21,455.95
Dement Construction Company, LLC	\$32,000.0000	\$19,200.00
Jones Bros. Contractors, LLC	\$65,000.0000	\$39,000.00
Mid-State Construction Company, Inc.	\$38,102.4000	\$22,861.44

#### CONTRACT CNX309

		UNIT PRICE	EXTENSION
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	4.000 L.M.		
Bell & Associates Construction, LLC		\$10,616.2300	\$42,464.92
Dement Construction Company, LLC		\$9,500.0000	\$38,000.00
Jones Bros. Contractors, LLC		\$8,000.0000	\$32,000.00
Mid-State Construction Company, Inc.		\$11,311.6500	\$45,246.60
716-12.06 ENHANCED FLAT LINE THERMO (8IN LINE)			
	600.000 L.F.		
Bell & Associates Construction, LLC		\$2.2400	\$1,344.00
Dement Construction Company, LLC		\$2.0000	\$1,200.00
Jones Bros. Contractors, LLC		\$3.0000	\$1,800.00
Mid-State Construction Company, Inc.		\$2.3800	\$1,428.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	0.500 L.M.		
Bell & Associates Construction, LLC		\$10,057.4800	\$5,028.74
Dement Construction Company, LLC		\$9,000.0000	\$4,500.00
Jones Bros. Contractors, LLC		\$8,000.0000	\$4,000.00
Mid-State Construction Company, Inc.		\$10,716.3000	\$5,358.15
717-01 MOBILIZATION			
	1.000 LS		
Bell & Associates Construction, LLC		\$1,462,861.1900	\$1,462,861.19
Dement Construction Company, LLC		\$1,170,800.0000	\$1,170,800.00
Jones Bros. Contractors, LLC		\$890,000.0000	\$890,000.00
Mid-State Construction Company, Inc.		\$1,919,503.3700	\$1,919,503.37
730-40.02 TEMPORARY TRAFFIC SIGNAL SYSTEM			
	1.000 LS		
Bell & Associates Construction, LLC		\$91,885.1100	\$91,885.11
Dement Construction Company, LLC		\$70,000.0000	\$70,000.00
Jones Bros. Contractors, LLC		\$70,000.0000	\$70,000.00
Mid-State Construction Company, Inc.		\$118,589.1000	\$118,589.10
740-07.04 GEOGRID REINFORCEMENT TYPE 2			
	1,802.670 S.Y.		
Bell & Associates Construction, LLC		\$4.5000	\$8,112.02
Dement Construction Company, LLC		\$6.0000	\$10,816.02
Jones Bros. Contractors, LLC		\$3.9400	\$7,102.52
Mid-State Construction Company, Inc.		\$8.5800	\$15,466.91
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	1,372.000 S.Y.		
Bell & Associates Construction, LLC		\$2.8000	\$3,841.60
Dement Construction Company, LLC		\$2.6000	\$3,567.20
Jones Bros. Contractors, LLC		\$3.5000	\$4,802.00
Mid-State Construction Company, Inc.		\$5.5100	\$7,559.72

			UNIT PRICE	EXTENSION
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		12,101.050 S.Y.		
	Bell & Associates Construction, LLC		\$3.5800	\$43,321.76
	Dement Construction Company, LLC		\$2.5500	\$30,857.68
	Jones Bros. Contractors, LLC		\$5.2500	\$63,530.51
	Mid-State Construction Company, Inc.		\$2.4100	\$29,163.53
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
		1,905.000 L.F.		
	Bell & Associates Construction, LLC		\$5.0300	\$9,582.15
	Dement Construction Company, LLC		\$4.4500	\$8,477.25
	Jones Bros. Contractors, LLC		\$5.9500	\$11,334.75
	Mid-State Construction Company, Inc.		\$5.9500	\$11,334.75
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		307.000 UNIT		
	Bell & Associates Construction, LLC		\$51.4000	\$15,779.80
	Dement Construction Company, LLC		\$46.0000	\$14,122.00
	Jones Bros. Contractors, LLC		\$100.0000	\$30,700.00
	Mid-State Construction Company, Inc.		\$60.7300	\$18,644.11
801-01.36	SPECIAL WETLAND SEED MIXTURE			
		6.000 UNIT		
	Bell & Associates Construction, LLC		\$311.0600	\$1,866.36
	Dement Construction Company, LLC		\$278.3500	\$1,670.10
	Jones Bros. Contractors, LLC		\$300.0000	\$1,800.00
	Mid-State Construction Company, Inc.		\$297.6800	\$1,786.08
801-03	WATER (SEEDING & SODDING)			
		124.000 M.G.		
	Bell & Associates Construction, LLC		\$100.5700	\$12,470.68
	Dement Construction Company, LLC		\$90.0000	\$11,160.00
	Jones Bros. Contractors, LLC		\$100.0000	\$12,400.00
	Mid-State Construction Company, Inc.		\$160.7400	\$19,931.76
803-01	SODDING (NEW SOD)			
		11,138.000 S.Y.		
	Bell & Associates Construction, LLC		\$6.1500	\$68,498.70
	Dement Construction Company, LLC		\$5.5000	\$61,259.00
	Jones Bros. Contractors, LLC		\$6.5000	\$72,397.00
	Mid-State Construction Company, Inc.		\$8.0400	\$89,549.52

UNIT PRICE **EXTENSION** 

BRIDGE CATEGORY		OWITHOU	EXTENSION
202-04.01 REMOVAL OF STRUCTURES		1.000 LS	
D 11 0 A O			<b>#</b> 000 00 <b>7</b> 00
Bell & Associates Construction		\$262,927.8300	\$262,927.83
Dement Construction Compa		\$628,000.0000	\$628,000.00
Jones Bros. Contractors, LLC		\$998,000.0000	\$998,000.00
Mid-State Construction Comp	pany, inc.	\$594,088.5000	\$594,088.50
204-02.01 DRY EXCAVATION (BRIDGES	S)		
	51	2.000 C.Y.	
Bell & Associates Construction	on, LLC	\$29.7500	\$15,232.00
Dement Construction Compa	any, LLC	\$35.0000	\$17,920.00
Jones Bros. Contractors, LLC	C	\$52.0000	\$26,624.00
Mid-State Construction Comp	pany, Inc.	\$65.5900	\$33,582.08
303-01.02 GRANULAR BACKFILL (BRID	DGES)		
		4.000 TON	
Dall 9 Associates Construction			<b>#0.700.00</b>
Bell & Associates Construction	•	\$39.7700	\$3,738.38
Dement Construction Compa		\$100.0000	\$9,400.00
Jones Bros. Contractors, LLC		\$50.0000	\$4,700.00
Mid-State Construction Comp	pany, Inc.	\$75.5300	\$7,099.82
602-03 STEEL STRUCTURES			
		1.000 LS	
Bell & Associates Construction	on, LLC	\$4,503,200.1200	\$4,503,200.12
Dement Construction Compa		\$4,263,038.5000	\$4,263,038.50
Jones Bros. Contractors, LLC	-	\$5,000,000.0000	\$5,000,000.00
Mid-State Construction Comp	pany, Inc.	\$5,663,270.8700	\$5,663,270.87
604-02.03 EPOXY COATED REINFORCI	ING STEEL		
00-02.03 El OXI GOATES REIM GRON		3.000 LB.	
Dall 9 Associates Construction			¢460 206 44
Bell & Associates Construction		\$1.4800	\$469,386.44
Dement Construction Compa		\$1.3500	\$428,156.55
Jones Bros. Contractors, LLC		\$1.3700	\$434,499.61
Mid-State Construction Comp	pany, Inc.	\$2.1400	\$678,707.42
604-03.01 CLASS A CONCRETE (BRIDG	GES)		
	72	2.000 C.Y.	
Bell & Associates Construction	on, LLC	\$784.8900	\$566,690.58
Dement Construction Compa		\$900.0000	\$649,800.00
Jones Bros. Contractors, LLC		\$1,000.0000	\$722,000.00
Mid-State Construction Comp		\$1,112.9500	\$803,549.90
604-03.02 STEEL BAR REINFORCEMEN			
	·	8.000 LB.	
Bell & Associates Construction		\$1.0700	\$111,267.16
Dement Construction Compa	- ·	\$1.2500	\$129,985.00
Jones Bros. Contractors, LLC		\$1.5000	\$155,982.00
Mid-State Construction Comp	pany, Inc.	\$1.5500	\$161,181.40

#### CONTRACT CNX309

			UNIT PRICE	EXTENSION
			UNIT PRICE	EXTENSION
604-03.04 P	AVEMENT @ BRIDGE ENDS			
	///	268.000 S.Y.		
R	ell & Associates Construction, LLC	200.000 0.11	\$356.0400	\$95,418.72
	ement Construction Company, LLC		\$505.0000	\$135,340.00
	ones Bros. Contractors, LLC		\$450.0000	\$120,600.00
	lid-State Construction Company, Inc.		\$437.4300	\$117,231.24
604-03.32 C	LASS DS CONCRETE			
		675.000 C.Y.		
В	ell & Associates Construction, LLC		\$892.0200	\$602,113.50
D	ement Construction Company, LLC		\$1,486.0000	\$1,003,050.00
Jo	ones Bros. Contractors, LLC		\$1,450.0000	\$978,750.00
M	lid-State Construction Company, Inc.		\$1,368.0100	\$923,406.75
604-04.01 A	PPLIED TEXTURE FINISH (NEW STRUCTURES)			
		1,087.000 S.Y.		
	ell & Associates Construction, LLC		\$10.0000	\$10,870.00
	ement Construction Company, LLC		\$9.0000	\$9,783.00
	ones Bros. Contractors, LLC		\$8.9500	\$9,728.65
N	lid-State Construction Company, Inc.		\$10.7200	\$11,652.64
604 04 44 T	HREE STAR STATE EMBLEM			
004-04.41	TIRLE STAR STATE LINDLEW	4 000 54 011		
р	all 9 Apposiates Construction 11 C	4.000 EACH	¢2.250.4700	£42.427.00
	ell & Associates Construction, LLC rement Construction Company, LLC		\$3,359.4700 \$2,000.0000	\$13,437.88 \$8,000.00
	ones Bros. Contractors, LLC		\$2,000.0000	\$8,000.00
	lid-State Construction Company, Inc.		\$3,522.1700	\$14,088.68
	na ciate concurrence company, me.		φο,ο22.1100	ψ11,000.00
604-05.31 B	RIDGE DECK GROOVING (MECHANICAL)			
	,	2,990.000 S.Y.		
В	ell & Associates Construction, LLC	_,	\$3.0100	\$8,999.90
	ement Construction Company, LLC		\$2.6900	\$8,043.10
	ones Bros. Contractors, LLC		\$3.5800	\$10,704.20
M	lid-State Construction Company, Inc.		\$6.5100	\$19,464.90
604-11.01 E	XPANSION DEVICE (ABUTMENT NO. 1 6" MOVEMENT)			
		98.000 L.F.		
В	ell & Associates Construction, LLC		\$2,204.8300	\$216,073.34
D	ement Construction Company, LLC		\$2,500.0000	\$245,000.00
Jo	ones Bros. Contractors, LLC		\$550.0000	\$53,900.00
M	lid-State Construction Company, Inc.		\$783.0700	\$76,740.86
606-03.03 S	TEEL PILES (12 INCH)			
		2,418.000 L.F.		
	ell & Associates Construction, LLC		\$55.1600	\$133,376.88
	ement Construction Company, LLC		\$65.0000	\$157,170.00
	ones Bros. Contractors, LLC		\$82.0000	\$198,276.00
N	lid-State Construction Company, Inc.		\$93.3900	\$225,817.02

			UNIT PRICE	EXTENSION
606-03.06	PILE TIPS (STEEL PILES, 12 INCH)			
		66.000 EACH		
	Bell & Associates Construction, LLC		\$149.8700	\$9,891.42
	Dement Construction Company, LLC		\$375.0000	\$24,750.00
	Jones Bros. Contractors, LLC		\$200.0000	\$13,200.00
	Mid-State Construction Company, Inc.		\$265.9800	\$17,554.68
617-02	BRIDGE DECK CRACK SEALING			
		1,102.000 L.F.		
	Bell & Associates Construction, LLC		\$3.1600	\$3,482.32
	Dement Construction Company, LLC		\$2.5000	\$2,755.00
	Jones Bros. Contractors, LLC		\$4.0000	\$4,408.00
	Mid-State Construction Company, Inc.		\$3.9500	\$4,352.90
617-05	SEALANT (HMWM)			
		6.000 GAL.		
	Bell & Associates Construction, LLC		\$323.8300	\$1,942.98
	Dement Construction Company, LLC		\$250.0000	\$1,500.00
	Jones Bros. Contractors, LLC		\$350.0000	\$2,100.00
	Mid-State Construction Company, Inc.		\$288.5100	\$1,731.06
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
		1,114.000 L.F.		
	Bell & Associates Construction, LLC		\$130.3100	\$145,165.34
	Dement Construction Company, LLC		\$150.0000	\$167,100.00
	Jones Bros. Contractors, LLC		\$115.0000	\$128,110.00
	Mid-State Construction Company, Inc.		\$148.8300	\$165,796.62
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYS	TEM		
		268.000 L.F.		
	Bell & Associates Construction, LLC		\$53.7100	\$14,394.28
	Dement Construction Company, LLC		\$125.0000	\$33,500.00
	Jones Bros. Contractors, LLC		\$40.0000	\$10,720.00
	Mid-State Construction Company, Inc.		\$56.4400	\$15,125.92
710-09.02	6" PIPE UNDERDRAIN			
		49.000 L.F.		
	Bell & Associates Construction, LLC		\$31.4700	\$1,542.03
	Dement Construction Company, LLC		\$25.0000	\$1,225.00
	Jones Bros. Contractors, LLC		\$20.0000	\$980.00
	Mid-State Construction Company, Inc.		\$23.7100	\$1,161.79
712-02.47	BRIDGE MOUNTED INTERCONNECTED PORTABLE	BARRIER RAIL		
		1,302.000 L.F.		
	Bell & Associates Construction, LLC		\$43.6900	\$56,884.38
	Dement Construction Company, LLC		\$70.0000	\$91,140.00
	Jones Bros. Contractors, LLC		\$96.9000	\$126,163.80
	Mid-State Construction Company, Inc.		\$80.6800	\$105,045.36

				CONTRACT CNX309
			UNIT PRICE	EXTENSION
908-21.01 BEARINGS (EXPANSIO	ON REARING @ ARITMENT NO	2 1)		
JULY DEARINGS (EXTANCE)	N BEARING @ ABOTIMENT NO	6.000 EACH	I	
Bell & Associates Cor	struction, LLC		\$14,556.5700	\$87,339.42
Dement Construction	Company, LLC		\$16,500.0000	\$99,000.00
Jones Bros. Contracto	ors, LLC		\$5,782.0000	\$34,692.00
Mid-State Constructio	n Company, Inc.		\$16,999.2700	\$101,995.62
908-21.02 BEARINGS (FIXED BE	ARING BENT AND ABUTMENT	Г NO 2)		
		12.000 EACH	I	
Bell & Associates Cor	struction, LLC		\$17,283.8800	\$207,406.56
Dement Construction	Company, LLC		\$9,500.0000	\$114,000.00

Jones Bros. Contractors, LLC

Mid-State Construction Company, Inc.

\$5,782.0000

\$19,884.3500

\$69,384.00

\$238,612.20

	UNIT PRICE	EXTENSION
UTILITY CATEGORY		
790-04.02 POLE 45FT CLASS 2 WOOD		
1.000 EACH		
Bell & Associates Construction, LLC	\$3,592.7600	\$3,592.76
Dement Construction Company, LLC	\$3,215.0000	\$3,215.00
Jones Bros. Contractors, LLC  Mid-State Construction Company, Inc.	\$3,215.0000	\$3,215.00
Mid-State Construction Company, Inc.	\$3,828.1000	\$3,828.10
790-04.04 POLE 45FT CLASS 4 WOOD		
1.000 EACH		
Bell & Associates Construction, LLC	\$3,313.3800	\$3,313.38
Dement Construction Company, LLC	\$2,965.0000	\$2,965.00
Jones Bros. Contractors, LLC	\$2,965.0000	\$2,965.00
Mid-State Construction Company, Inc.	\$3,530.4300	\$3,530.43
790-07.02 POLE 60FT CLASS 2 WOOD		
6.000 EACH		
Bell & Associates Construction, LLC	\$5,229.8900	\$31,379.34
Dement Construction Company, LLC	\$4,680.0000	\$28,080.00
Jones Bros. Contractors, LLC	\$4,680.0000	\$28,080.00
Mid-State Construction Company, Inc.	\$5,572.4800	\$33,434.88
790-20.30 TOP EXISTING POLE		
5.000 EACH		
Bell & Associates Construction, LLC	\$525.2200	\$2,626.10
Dement Construction Company, LLC	\$470.0000	\$2,350.00
Jones Bros. Contractors, LLC	\$470.0000	\$2,350.00
Mid-State Construction Company, Inc.	\$559.6300	\$2,798.15
790-22.15 1PH DEAD END TAP W/ EXTENSION 25KV		
1.000 EACH		
Bell & Associates Construction, LLC	\$759.9000	\$759.90
Dement Construction Company, LLC	\$680.0000	\$680.00
Jones Bros. Contractors, LLC	\$680.0000	\$680.00
Mid-State Construction Company, Inc.	\$809.6800	\$809.68
790-22.17 1PH DDE FEED THROUGH 25KV		
1.000 EACH		
Bell & Associates Construction, LLC	\$799.0200	\$799.02
Dement Construction Company, LLC	\$715.0000	\$715.00
Jones Bros. Contractors, LLC	\$715.0000	\$715.00
Mid-State Construction Company, Inc.	\$851.3500	\$851.35
790-26.14 3PH CROSSARM DBL 10FT SM ANGLE 25KV		
1.000 EACH		
Bell & Associates Construction, LLC	\$2,989.3100	\$2,989.31
Dement Construction Company, LLC	\$2,675.0000	\$2,969.31
Jones Bros. Contractors, LLC	\$2,675.0000	\$2,675.00
Mid-State Construction Company, Inc.	\$3,185.1200	\$3,185.12

		co	NTRACT CNX309
		UNIT PRICE	EXTENSION
790-26.15 3PH XARM DBL 10FT LRG COND SM ANGLE 25KV			
	3.000 EACH		
Bell & Associates Construction, LLC		\$3,291.0300	\$9,873.09
Dement Construction Company, LLC		\$2,945.0000	\$8,835.00
Jones Bros. Contractors, LLC		\$2,945.0000	\$8,835.00
Mid-State Construction Company, Inc.		\$3,506.6100	\$10,519.83
790-26.22 3PH VERTICAL DDE ANGLE LRG COND 25KV			
	1.000 EACH		
Bell & Associates Construction, LLC		\$4,615.2600	\$4,615.26
Dement Construction Company, LLC		\$4,130.0000	\$4,130.00
Jones Bros. Contractors, LLC		\$4,130.0000	\$4,130.00
Mid-State Construction Company, Inc.		\$4,917.5900	\$4,917.59
790-26.23 3PH VERTICAL DEAD END 25KV			
	1.000 EACH		
Bell & Associates Construction, LLC		\$1,961.2100	\$1,961.21
Dement Construction Company, LLC		\$1,755.0000	\$1,755.00
Jones Bros. Contractors, LLC		\$1,755.0000	\$1,755.00
Mid-State Construction Company, Inc.		\$2,089.6800	\$2,089.68
790-26.26 3PH CROSSARM DEAD END 25KV			
	1.000 EACH		
Bell & Associates Construction, LLC		\$2,531.1400	\$2,531.14
Dement Construction Company, LLC		\$2,265.0000	\$2,265.00
Jones Bros. Contractors, LLC		\$2,265.0000	\$2,265.00
Mid-State Construction Company, Inc.		\$2,696.9400	\$2,696.94
790-26.28 3PH DBL 10FT XARM DDE 25KV			
	3.000 EACH		
Bell & Associates Construction, LLC		\$5,593.0800	\$16,779.24
Dement Construction Company, LLC		\$5,005.0000	\$15,015.00
Jones Bros. Contractors, LLC		\$5,005.0000	\$15,015.00
Mid-State Construction Company, Inc.		\$5,959.4500	\$17,878.35
790-30.03 SECONDARY ASSEMBLIES DEADEND			
	1.000 EACH		
Bell & Associates Construction, LLC		\$240.2700	\$240.27

Dement Construction Company, LLC	\$2	2,945.0000	\$8,835.00
Jones Bros. Contractors, LLC	\$2	2,945.0000	\$8,835.00
Mid-State Construction Company, Inc.	\$3	3,506.6100	\$10,519.83
790-26.22 3PH VERTICAL DDE ANGLE LRG COND 25KV			
	1.000 EACH		
Bell & Associates Construction, LLC	\$4	4,615.2600	\$4,615.26
Dement Construction Company, LLC	\$4	4,130.0000	\$4,130.00
Jones Bros. Contractors, LLC	\$4	4,130.0000	\$4,130.00
Mid-State Construction Company, Inc.	\$4	4,917.5900	\$4,917.59
790-26.23 3PH VERTICAL DEAD END 25KV			
	1.000 EACH		
Bell & Associates Construction, LLC	\$	1,961.2100	\$1,961.21
Dement Construction Company, LLC	\$	1,755.0000	\$1,755.00
Jones Bros. Contractors, LLC	\$	1,755.0000	\$1,755.00
Mid-State Construction Company, Inc.	\$2	2,089.6800	\$2,089.68
790-26.26 3PH CROSSARM DEAD END 25KV			
	1.000 EACH		
Bell & Associates Construction, LLC	\$2	2,531.1400	\$2,531.14
Dement Construction Company, LLC	\$2	2,265.0000	\$2,265.00
Jones Bros. Contractors, LLC	\$2	2,265.0000	\$2,265.00
Mid-State Construction Company, Inc.	\$2	2,696.9400	\$2,696.94
790-26.28 3PH DBL 10FT XARM DDE 25KV			
	3.000 EACH		
Bell & Associates Construction, LLC	\$5	5,593.0800	\$16,779.24
Dement Construction Company, LLC			\$15,015.00
Jones Bros. Contractors, LLC			\$15,015.00
Mid-State Construction Company, Inc.	\$		\$17,878.35
790-30.03 SECONDARY ASSEMBLIES DEADEND			
	1.000 EACH		
Bell & Associates Construction, LLC		\$240.2700	\$240.27
Dement Construction Company, LLC		\$215.0000	\$215.00
Jones Bros. Contractors, LLC		\$215.0000	\$215.00
Mid-State Construction Company, Inc.		\$256.0000	\$256.00
790-32.01 DOWN GUY - THROUGH BOLT TYPE			
	42.000 EACH		
Bell & Associates Construction, LLC		\$569.9200	\$23,936.64
Dement Construction Company, LLC		\$510.0000	\$21,420.00
Jones Bros. Contractors, LLC		\$510.0000	\$21,420.00
Mid-State Construction Company, Inc.		\$607.2600	\$25,504.92

CONTRACT CNX309	CON	NTRACT	CNX309
-----------------	-----	--------	--------

		UNIT PRICE	EXTENSION
790-32.23 GUY GUARD			
	42.000 EACH		
Bell & Associates Construction, LLC		\$61.4600	\$2,581.32
Dement Construction Company, LLC		\$55.0000	\$2,310.00
Jones Bros. Contractors, LLC		\$55.0000	\$2,310.00
Mid-State Construction Company, Inc.		\$65.4900	\$2,750.58
790-33.01 EXPANDING TYPE ANCHOR 6,000LB-8,000LB			
	4.000 EACH		
Bell & Associates Construction, LLC		\$1,022.5100	\$4,090.04
Dement Construction Company, LLC		\$915.0000	\$3,660.00
Jones Bros. Contractors, LLC		\$915.0000	\$3,660.00
Mid-State Construction Company, Inc.		\$1,089.4900	\$4,357.96
790-33.02 EXPANDING TYPE ANCHOR 10,000LB-12,000LB			
	9.000 EACH		
Bell & Associates Construction, LLC		\$1,190.1400	\$10,711.26
Dement Construction Company, LLC		\$1,065.0000	\$9,585.00
Jones Bros. Contractors, LLC		\$1,065.0000	\$9,585.00
Mid-State Construction Company, Inc.		\$1,268.1000	\$11,412.90
790-33.15 1IN TRIPLE EYE			
	11.000 EACH		
Bell & Associates Construction, LLC		\$1,475.1000	\$16,226.10
Dement Construction Company, LLC		\$1,320.0000	\$14,520.00
Jones Bros. Contractors, LLC		\$1,320.0000	\$14,520.00
Mid-State Construction Company, Inc.		\$1,571.7200	\$17,288.92
790-36.05 TRANSFER SECONDARY			
	2.000 EACH		
Bell & Associates Construction, LLC		\$307.3100	\$614.62
Dement Construction Company, LLC		\$275.0000	\$550.00
Jones Bros. Contractors, LLC		\$275.0000	\$550.00
Mid-State Construction Company, Inc.		\$327.4500	\$654.90
790-36.09 TRANSFER - 1TR XFMR ASSEMBLY			
	4.000 EACH		
Bell & Associates Construction, LLC		\$1,676.2500	\$6,705.00
Dement Construction Company, LLC		\$1,500.0000	\$6,000.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$6,000.00
Mid-State Construction Company, Inc.		\$1,786.0500	\$7,144.20
790-36.14 TRANSFER CONDUCTOR			
	4.000 EACH		
Bell & Associates Construction, LLC		\$229.0900	\$916.36
Dement Construction Company, LLC		\$205.0000	\$820.00
Jones Bros. Contractors, LLC		\$205.0000	\$820.00
Mid-State Construction Company, Inc.		\$244.0900	\$976.36

		UNIT PRICE	EXTENSION
790-36.15 TRANSFER FRAMING/ASSOCIATED APPARATUS			
	8.000 EACH		
Bell & Associates Construction, LLC	0.000 27.011	\$1,167.7900	\$9,342.32
Dement Construction Company, LLC		\$1,045.0000 \$1,045.0000	\$8,360.00
Jones Bros. Contractors, LLC		\$1,045.0000	\$8,360.00
Mid-State Construction Company, Inc.		\$1,244.2800	\$9,954.24
790-40.01 OH COND 4 7/1 ACSR SWANATE			
	1,990.000 L.F.		
Bell & Associates Construction, LLC		\$4.1700	\$8,298.30
Dement Construction Company, LLC		\$3.7300	\$7,422.70
Jones Bros. Contractors, LLC		\$3.7300	\$7,422.70
Mid-State Construction Company, Inc.		\$4.4400	\$8,835.60
790-40.05 OH COND 3/0 6/1 ACSR PIGEON			
	4 925 000 L E		
	1,825.000 L.F.	<b>#</b> F 4000	<b>#0.004.50</b>
Bell & Associates Construction, LLC		\$5.4600	\$9,964.50
Dement Construction Company, LLC		\$4.8900	\$8,924.25
Jones Bros. Contractors, LLC		\$4.8900	\$8,924.25
Mid-State Construction Company, Inc.		\$5.8200	\$10,621.50
790-40.09 OH COND 336.4 18/1 ACSR MERLIN			
	5,475.000 L.F.		
Bell & Associates Construction, LLC		\$7.3800	\$40,405.50
Dement Construction Company, LLC		\$6.6000	\$36,135.00
Jones Bros. Contractors, LLC		\$6.6000	\$36,135.00
Mid-State Construction Company, Inc.		\$7.8600	\$43,033.50
7, 7,		,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
790-46.02 1PH TRANSFORMER CONV W/POLE MTD FUSE & LA			
	1.000 EACH		
Dell 9 Associates Construction 11 C	1.000 EAGI1	£4 602 0400	<b>\$4.602.04</b>
Bell & Associates Construction, LLC		\$1,693.0100	\$1,693.01
Dement Construction Company, LLC		\$1,515.0000	\$1,515.00
Jones Bros. Contractors, LLC		\$1,515.0000	\$1,515.00
Mid-State Construction Company, Inc.		\$1,803.9100	\$1,803.91
TOO 40 OO ORLL VEND DAW DOLE MED WELLDE (ADDECTED)			
790-49.02 3PH XFMR BNK POLE MTD W/ FUSE/ARRESTERS			
	1.000 EACH		
Bell & Associates Construction, LLC		\$11,879.0000	\$11,879.00
Dement Construction Company, LLC		\$10,630.0000	\$10,630.00
Jones Bros. Contractors, LLC		\$10,630.0000	\$10,630.00
Mid-State Construction Company, Inc.		\$12,657.1400	\$12,657.14
790-68.06 POLE TOP PROTECTION ASSEMBLY			
	9.000 EACH		
Bell & Associates Construction, LLC		\$78.2200	\$703.98
Dement Construction Company, LLC		\$70.0000	\$630.00
Jones Bros. Contractors, LLC		\$70.0000	\$630.00
Mid-State Construction Company, Inc.		\$83.3500	\$750.15
wild oldic constitution company, me.		ψυυ.υυυ	Ψ100.10

		UNIT PRICE	EXTENSION
790-68.10 MISCELLANEOUS ASSEMBLIE	:S		
		11.000 EACH	
Bell & Associates Construction	ı, LLC	\$352.0100	\$3,872.11
Dement Construction Company	y, LLC	\$315.0000	\$3,465.00
Jones Bros. Contractors, LLC		\$315.0000	\$3,465.00
Mid-State Construction Compa	any, Inc.	\$375.0700	\$4,125.77
790-68.11 DEAD END SHOE			
		1.000 EACH	
Bell & Associates Construction	ı, LLC	\$184.3900	\$184.39
Dement Construction Company	y, LLC	\$165.0000	\$165.00
Jones Bros. Contractors, LLC		\$165.0000	
Mid-State Construction Compa	any, Inc.	\$196.4700	\$196.47
790-69.08 GROUND-GROUND ROD			
		8.000 EACH	
Bell & Associates Construction	ı, LLC	\$653.7400	\$5,229.92
Dement Construction Company	y, LLC	\$585.0000	\$4,680.00
Jones Bros. Contractors, LLC		\$585.0000	
Mid-State Construction Compa	any, Inc.	\$696.5600	\$5,572.48
790-69.22 POLE TOP PIN			
		3.000 EACH	
Bell & Associates Construction	ı, LLC	\$257.0200	\$771.06
Dement Construction Company	y, LLC	\$230.0000	
Jones Bros. Contractors, LLC		\$230.0000	
Mid-State Construction Compa	any, Inc.	\$273.8600	\$821.58
790-69.31 STICK PIN			
		4.000 EACH	
Bell & Associates Construction	ı, LLC	\$240.2600	\$961.04
Dement Construction Company	y, LLC	\$215.0000	\$860.00
Jones Bros. Contractors, LLC		\$215.0000	
Mid-State Construction Compa	any, Inc.	\$256.0000	\$1,024.00
790-74.10 144 FIBER(MATERIAL ONLY)			
	2,13	36.000 L.F.	
Bell & Associates Construction	ı, LLC	\$5.6500	\$12,068.40
Dement Construction Company	y, LLC	\$5.0600	\$10,808.16
Jones Bros. Contractors, LLC		\$5.0600	\$10,808.16
Mid-State Construction Compa	any, Inc.	\$6.0200	\$12,858.72
790-74.25 FIBER SPLICE-12 FIBER RIBBO	ON		
	:	24.000 EACH	
Bell & Associates Construction	ı, LLC	\$139.6900	\$3,352.56
Dement Construction Company	y, LLC	\$125.0000	\$3,000.00
Jones Bros. Contractors, LLC		\$125.0000	
Mid-State Construction Compa	any, Inc.	\$148.8400	\$3,572.16

		UNIT PRICE	EXTENSION
790-74.31 FIBER TANGENT ASSEMBLY			
	4.000 EACH		
Bell & Associates Construction, LLC		\$312.9000	\$1,251.60
Dement Construction Company, LLC		\$280.0000	\$1,120.00
Jones Bros. Contractors, LLC		\$280.0000	\$1,120.00
Mid-State Construction Company, Inc.		\$333.4000	\$1,333.60
790-74.32 FIBER DEADEND ASSEMBLY			
	4.000 EACH		
Bell & Associates Construction, LLC		\$564.3400	\$2,257.36
Dement Construction Company, LLC		\$505.0000	\$2,020.00
Jones Bros. Contractors, LLC		\$505.0000	\$2,020.00
Mid-State Construction Company, Inc.		\$601.3000	\$2,405.20
790-74.33 FIBER DOUBLE DEADEND ASSEMBLY			
	2.000 EACH		
Bell & Associates Construction, LLC		\$838.1300	\$1,676.26
Dement Construction Company, LLC		\$750.0000	\$1,500.00
Jones Bros. Contractors, LLC		\$750.0000	\$1,500.00
Mid-State Construction Company, Inc.		\$893.0300	\$1,786.06
790-74.34 FIBER STORAGE SINGLE LOOP			
	4.000 EACH		
Bell & Associates Construction, LLC		\$787.8400	\$3,151.36
Dement Construction Company, LLC		\$705.0000	\$2,820.00
Jones Bros. Contractors, LLC		\$705.0000	\$2,820.00
Mid-State Construction Company, Inc.		\$839.4400	\$3,357.76
790-98.01 REMOVE WIRE			
	8,976.000 L.F.		
Bell & Associates Construction, LLC		\$4.1800	\$37,519.68
Dement Construction Company, LLC		\$3.7400	\$33,570.24
Jones Bros. Contractors, LLC		\$3.7400	\$33,570.24
Mid-State Construction Company, Inc.		\$4.4500	\$39,943.20
790-98.02 REMOVE POLES			
	6.000 EACH		

790-74.32 FIBER	DEADEND ASSEMBLY			
		4.000 EACH		
Rell &	Associates Construction, LLC		\$564.3400	\$2,257.36
	nt Construction Company, LLC		\$505.0000	\$2,020.00
	Bros. Contractors, LLC		\$505.0000	\$2,020.00
	ate Construction Company, Inc.		\$601.3000	\$2,405.20
Wild Ot	ate constitution company, me.		ψου1.5000	Ψ2,400.20
700-74 33 FIRED	DOUBLE DEADEND ASSEMBLY			
790-74.55 TIDEN	DOUBLE DEADEND ASSEMBLY			
		2.000 EACH		
	Associates Construction, LLC		\$838.1300	\$1,676.26
	nt Construction Company, LLC		\$750.0000	\$1,500.00
	Bros. Contractors, LLC		\$750.0000	\$1,500.00
Mid-St	ate Construction Company, Inc.		\$893.0300	\$1,786.06
790-74.34 FIBER	STORAGE SINGLE LOOP			
		4.000 EACH		
Bell &	Associates Construction, LLC		\$787.8400	\$3,151.36
Demer	nt Construction Company, LLC		\$705.0000	\$2,820.00
Jones	Bros. Contractors, LLC		\$705.0000	\$2,820.00
Mid-St	ate Construction Company, Inc.		\$839.4400	\$3,357.76
790-98.01 REMO	VE WIRE			
		8,976.000 L.F.		
Bell &	Associates Construction, LLC		\$4.1800	\$37,519.68
Demer	nt Construction Company, LLC		\$3.7400	\$33,570.24
Jones	Bros. Contractors, LLC		\$3.7400	\$33,570.24
Mid-St	ate Construction Company, Inc.		\$4.4500	\$39,943.20
790-98.02 REMO	VE POLES			
		6.000 EACH		
Bell &	Associates Construction, LLC		\$1,257.1900	\$7,543.14
Demer	nt Construction Company, LLC		\$1,125.0000	\$6,750.00
Jones	Bros. Contractors, LLC		\$1,125.0000	\$6,750.00
Mid-St	ate Construction Company, Inc.		\$1,339.5400	\$8,037.24
790-98.03 REMO	VE FRAMING/ASSOCIATED APPARATUS			
		76.000 EACH		
	Associates Construction, LLC		\$625.8000	\$47,560.80
Demer	nt Construction Company, LLC		\$560.0000	\$42,560.00
	Bros. Contractors, LLC		\$560.0000	\$42,560.00
Mid-St	ate Construction Company, Inc.		\$666.7900	\$50,676.04

				CONTRACT CNX309
			UNIT PRICE	EXTENSION
790-98.04	REMOVE FIBER OPTIC CABLE			
		2,073.000 L.F.		
	Bell & Associates Construction, LLC		\$4.1800	\$8,665.14
	Dement Construction Company, LLC		\$3.7400	\$7,753.02
	Jones Bros. Contractors, LLC		\$3.7400	\$7,753.02
	Mid-State Construction Company, Inc.		\$4.4500	\$9,224.85
790-98.20	TREE AND BRUSH REMOVAL OFF ROW			
		1.000 LS		
	Bell & Associates Construction, LLC		\$10,683.2800	\$10,683.28
	Dement Construction Company, LLC		\$9,560.0000	\$9,560.00

Jones Bros. Contractors, LLC

Mid-State Construction Company, Inc.

\$9,560.0000

\$11,383.0900

\$9,560.00

\$11,383.09

			CONTRACT CNX309
		UNIT PRICE	EXTENSION
UTILITY CATEGORY			
793-10.20 EXPOSE EXISTING CABLE/CONDUIT (ALL DEPTHS)			
	155.000 L.F.		
Bell & Associates Construction, LLC		\$268.2000	\$41,571.00
Dement Construction Company, LLC		\$240.0000	\$37,200.00
Jones Bros. Contractors, LLC		\$240.0000	\$37,200.00
Mid-State Construction Company, Inc.		\$285.7700	\$44,294.35
793-14.39 6IN SPLIT CONDUIT (FMP)			
	155.000 L.F.		
Bell & Associates Construction, LLC		\$143.0400	\$22,171.20

Dement Construction Company, LLC

Mid-State Construction Company, Inc.

Jones Bros. Contractors, LLC

\$19,840.00

\$19,840.00

\$23,623.55

\$128.0000

\$128.0000

\$152.4100

## **SUB-TOTAL ROADWAY**

Bell & Associates Construction, LLC  Dement Construction Company, LLC  Jones Bros. Contractors, LLC  Mid-State Construction Company, Inc.	\$6,795,575.93 \$6,587,194.23 \$6,020,417.58 \$8,225,533.00
SUB-TOTAL BRIDGE	
Bell & Associates Construction, LLC Dement Construction Company, LLC Jones Bros. Contractors, LLC Mid-State Construction Company, Inc.	\$7,540,781.46 \$8,227,656.15 \$9,111,522.26 \$9,981,258.23
SUB-TOTAL UTILITY	
Bell & Associates Construction, LLC  Dement Construction Company, LLC  Jones Bros. Contractors, LLC  Mid-State Construction Company, Inc.	\$376,276.07 \$336,698.37 \$336,698.37 \$400,861.10
Bell & Associates Construction, LLC Dement Construction Company, LLC Jones Bros. Contractors, LLC Mid-State Construction Company, Inc.	\$63,742.20 \$57,040.00 \$57,040.00 \$67,917.90
TOTAL CONTRACT  Bell & Associates Construction, LLC  Dement Construction Company, LLC  Jones Bros. Contractors, LLC  Mid-State Construction Company, Inc.	\$14,776,375.66 \$15,208,588.75 \$15,525,678.21 \$18,675,570.23

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

COUNTIES COFFEE, GRUNDY, AND WARREN (Contract No. CNX360 Call 017)

HSIP-REG2(212),R2SVAR-F3-035

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 7.00%

TOTAL CONTRACT

MarCor Construction, Inc.
Southern Constructors, Inc.

\$1,059,716.47

\$2,148,845.00

BOADW/	AY CATEGORY		UNIT PRICE	EXTENSION
KOADWA	AT CATEGORT			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	MarCor Construction, Inc.		\$2,500.0000	\$2,500.00
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		401.000 S.Y.		
	MarCor Construction, Inc.		\$105.0000	\$42,105.00
	Southern Constructors, Inc.		\$250.0000	\$100,250.00
202-08.15	REMOVAL OF CURB AND GUTTER (DESCRIPTION)			
		1,733.000 L.F.		
	MarCor Construction, Inc.		\$60.0000	\$103,980.00
	Southern Constructors, Inc.		\$200.0000	\$346,600.00
203-07	FURNISHING & SPREADING TOPSOIL			
		102.000 C.Y.		
	MarCor Construction, Inc.		\$50.0000	\$5,100.00
	Southern Constructors, Inc.		\$75.0000	\$7,650.00
701-01.01	CONCRETE SIDEWALK (4 ")			
	, ,	3,602.000 S.F.		
	MarCor Construction, Inc.	.,	\$27.0000	\$97,254.00
	Southern Constructors, Inc.		\$30.0000	\$108,060.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	(,	8,283.000 S.F.		
	MarCor Construction, Inc.	<b>-,</b>	\$46.0000	\$381,018.00
	Southern Constructors, Inc.		\$65.0000	\$538,395.00
701-02-06	DETECTABLE WARNING SURFACE (REHABILITATION)			
		759.000 S.F.		
	MarCor Construction, Inc.	7001000 011 1	\$60.0000	\$45,540.00
	Southern Constructors, Inc.		\$115.0000	\$87,285.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		172.000 C.Y.		
	MarCor Construction, Inc.	172.000 0.11.	\$605.0000	\$104,060.00
	Southern Constructors, Inc.		\$2,200.0000	\$378,400.00
712-01	TRAFFIC CONTROL			
712-01	MALTIO GONTROL	1.000 LS		
	MarCor Construction, Inc.		\$82,200.0000	\$82,200.00
	Southern Constructors, Inc.		\$300,000.0000	\$300,000.00
713-11 01	"U" SECTION STEEL POSTS			
710-11.01	010/10/10/10/10	78.000 LB.		
	MarCor Construction, Inc.	. 5.000 בם.	\$122.2300	\$9,533.94
	Southern Constructors, Inc.		\$15.0000	\$1,170.00

			C	ONTRACT CNX360
			UNIT PRICE	EXTENSION
713-13.02	PER PROPERTY			
		13.000 S.F.		
	MarCor Construction, Inc. Southern Constructors, Inc.		\$210.2800 \$30.0000	\$2,733.64 \$390.00
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		5.000 EACH		
	MarCor Construction, Inc.		\$871.7800	\$4,358.90
	Southern Constructors, Inc.		\$500.0000	\$2,500.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		815.000 L.F.		
	MarCor Construction, Inc.		\$25.0000	\$20,375.00
	Southern Constructors, Inc.		\$20.0000	\$16,300.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		637.000 L.F.		
	MarCor Construction, Inc.		\$26.8500	\$17,103.45
	Southern Constructors, Inc.		\$45.0000	\$28,665.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-	WALK)		
		1,246.000 L.F.		
	MarCor Construction, Inc.		\$40.5500	\$50,525.30
	Southern Constructors, Inc.		\$60.0000	\$74,760.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		36.000 S.F.		
	MarCor Construction, Inc.		\$78.5900	\$2,829.24
	Southern Constructors, Inc.		\$95.0000	\$3,420.00
717-01	MOBILIZATION			
		1.000 LS		
	MarCor Construction, Inc.		\$85,000.0000	\$85,000.00
	Southern Constructors, Inc.		\$100,000.0000	\$100,000.00
801-01	SEEDING (WITH MULCH)			
		10.000 UNIT		<b>.</b>
	MarCor Construction, Inc.		\$350.0000	\$3,500.00
	Southern Constructors, Inc.		\$500.0000	\$5,000.00

## **SUB-TOTAL ROADWAY**

MarCor Construction, Inc. \$1,059,716.47 Southern Constructors, Inc. \$2,148,845.00

## **TOTAL CONTRACT**

MarCor Construction, Inc. \$1,059,716.47 Southern Constructors, Inc. \$2,148,845.00

## STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

#### COUNTIES CUMBERLAND, DEKALB, JACKSON, OVERTON, AND PUTNAM (Contract No. CNX359 Call 018)

HSIP-REG2(211),R2SVAR-F3-034

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 7.00%

TOTAL CONTRACT

MarCor Construction, Inc. Southern Constructors, Inc.

\$2,109,036.43

\$3,409,950.00

DO 4 DW	AV CATEGORY	UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		
105-01	CONSTRUCTION STAKES, LINES AND GRADES		
	1.	000 LS	
	MarCor Construction, Inc.	\$3,500.0000	\$3,500.00
	Southern Constructors, Inc.	\$50,000.0000	\$50,000.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.		
	966.	000 S.Y.	
	MarCor Construction, Inc.	\$120.0000	\$115,920.00
	Southern Constructors, Inc.	\$250.0000	\$241,500.00
202-08.15	REMOVAL OF CURB AND GUTTER (SEE PLANS)		
	3,476.	000 L.F.	
	MarCor Construction, Inc.	\$60.0000	\$208,560.00
	Southern Constructors, Inc.	\$125.0000	\$434,500.00
203-07	FURNISHING & SPREADING TOPSOIL		
	197.	000 C.Y.	
	MarCor Construction, Inc.	\$70.0000	\$13,790.00
	Southern Constructors, Inc.	\$75.0000	\$14,775.00
701-01.01	CONCRETE SIDEWALK (4 ")		
		000 S.F.	
	MarCor Construction, Inc.	\$28.0000	\$243,236.00
	Southern Constructors, Inc.	\$30.0000	\$260,610.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)		
		000 S.F.	
	MarCor Construction, Inc.	\$51.0000	\$654,789.00
	Southern Constructors, Inc.	\$65.0000	\$834,535.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)		
		000 S.F.	
	MarCor Construction, Inc.	\$68.0000	\$38,216.00
	Southern Constructors, Inc.	\$105.0000	\$59,010.00
701-02.03	CONCRETE CURB RAMP		
		000 S.F.	
	MarCor Construction, Inc.	\$32.0000	\$36,608.00
	Southern Constructors, Inc.	\$55.0000	\$62,920.00
702-03	CONCRETE COMBINED CURB & GUTTER		
702-03		000 C.Y.	
	MarCor Construction, Inc.	\$695.0000	\$353,755.00
	Southern Constructors, Inc.	\$1,500.0000	\$763,500.00
712-01	TRAFFIC CONTROL		
1 1Z-U1		000 LS	
	MarCor Construction, Inc.	\$159,500.0000	\$159,500.00
	Southern Constructors, Inc.	\$300,000.0000	\$300,000.00
	, -	, ,	÷ ,

			(	CONTRACT CNX359
			UNIT PRICE	EXTENSION
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		17.000 EACH		
	MarCor Construction, Inc.		\$2,154.2900	\$36,622.93
	Southern Constructors, Inc.		\$300.0000	\$5,100.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		862.000 L.F.		
	MarCor Construction, Inc.		\$8.5000	\$7,327.00
	Southern Constructors, Inc.		\$35.0000	\$30,170.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		1,147.000 L.F.		
	MarCor Construction, Inc.		\$17.5000	\$20,072.50
	Southern Constructors, Inc.		\$30.0000	\$34,410.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL C	ROSS-WALK)		
		3,344.000 L.F.		
	MarCor Construction, Inc.		\$28.7500	\$96,140.00
	Southern Constructors, Inc.		\$55.0000	\$183,920.00
717-01	MOBILIZATION			
		1.000 LS		
	MarCor Construction, Inc.		\$114,000.0000	\$114,000.00
	Southern Constructors, Inc.		\$125,000.0000	\$125,000.00
801-01	SEEDING (WITH MULCH)			
		20.000 UNIT		
	MarCor Construction, Inc.		\$350.0000	\$7,000.00
	Southern Constructors, Inc.		\$500.0000	\$10,000.00

## **SUB-TOTAL ROADWAY**

MarCor Construction, Inc.	\$2,109,036.43
Southern Constructors, Inc.	\$3,409,950.00

## TOTAL CONTRACT

MarCor Construction, Inc.	\$2,109,036.43
Southern Constructors, Inc.	\$3,409,950.00

## STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

## DAVIDSON COUNTY (Contract No. CNX267 Call 019)

NH-11(81),19028-3251-14

THE WIDENING OF U.S. 31A (S.R. 11, NOLENSVILLE PIKE) FROM NORTH OF THE MILL CREEK BRIDGE (L.M. 1.72) TO S.R. 254 (OLD HICKORY BOULEVARD) (L.M. 4.24), INCLUDING BRIDGES, RETAINING WALLS, SIGNALS, AND LIGHTING.

PROJECT LENGTH - 2.530 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2027

**DBE GOAL 10.00%** 

TOTAL CONTRACT

Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC \$93,681,017.38 \$103,644,200.66 \$133,724,676.64

UNIT PRICE EXTENSION

## **ROADWAY CATEGORY**

105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Civil Constructors, LLC		\$515,170.0000	\$515,170.00
	Jones Bros. Contractors, LLC		\$500,000.0000	\$500,000.00
	Vulcan Construction Materials, LLC		\$1,917,000.0000	\$1,917,000.00
108-03	CPM PROJECT SCHEDULE			
		1.000 LS		
	Civil Constructors, LLC		\$125,000.0000	\$125,000.00
	Jones Bros. Contractors, LLC		\$150,000.0000	\$150,000.00
	Vulcan Construction Materials, LLC		\$203,000.0000	\$203,000.00
100 10 01	TRAINEE			
109-10.01	TRAINEE	5 240 000 HOUD		
	Civil Constructors, LLC	5,240.000 HOUR	\$0.8000	\$4,192.00
	Jones Bros. Contractors, LLC		\$0.8000	\$4,192.00 \$4,192.00
	Vulcan Construction Materials, LLC		\$0.8000	\$4,192.00
	valsari Soristiastici Materiale, 225		ψ0.0000	Ψ1,102.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Civil Constructors, LLC		\$824,960.0000	\$824,960.00
	Jones Bros. Contractors, LLC		\$2,195,000.0000	\$2,195,000.00
	Vulcan Construction Materials, LLC		\$674,000.0000	\$674,000.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS	<b>.</b>	
	Civil Constructors, LLC		\$87,070.0000	\$87,070.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$325,000.0000 \$637,000.0000	\$325,000.00 \$637,000.00
	Vulcari Construction iviaterials, LLC		φοσ <i>τ</i> ,000.0000	φοσ7,000.00
202-06.01	REMOVAL OF BUILDINGS (TRACT NO. 107)			
		1.000 LS		
	Civil Constructors, LLC		\$26,630.0000	\$26,630.00
	Jones Bros. Contractors, LLC		\$32,000.0000	\$32,000.00
	Vulcan Construction Materials, LLC		\$26,000.0000	\$26,000.00
202-06.02	REMOVAL OF BUILDINGS (TRACT NO. 157)			
		1.000 LS	<b>.</b>	
	Civil Constructors, LLC		\$61,640.0000	\$61,640.00
	Jones Bros. Contractors, LLC		\$42,000.0000	\$42,000.00
	Vulcan Construction Materials, LLC		\$78,100.0000	\$78,100.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	(	211,639.000 C.Y.		
	Civil Constructors, LLC	,	\$46.2600	\$9,790,420.14
	Jones Bros. Contractors, LLC		\$68.0000	\$14,391,452.00
	Vulcan Construction Materials, LLC		\$111.0000	\$23,491,929.00

			UNIT PRICE	EXTENSION
203-01.13	ROAD & DRAINAGE EXCAVATION (STREAM MITIGATION)			
		18,265.000 C.Y.		
	Civil Constructors, LLC		\$59.5000	\$1,086,767.50
	Jones Bros. Contractors, LLC		\$116.0000	\$2,118,740.00
	Vulcan Construction Materials, LLC		\$161.0000	\$2,940,665.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		8,160.000 TON		
	Civil Constructors, LLC		\$30.5000	\$248,880.00
	Jones Bros. Contractors, LLC		\$47.0000	\$383,520.00
	Vulcan Construction Materials, LLC		\$51.1000	\$416,976.00
203-04	PLACING AND SPREADING TOPSOIL			
		10,742.000 C.Y.		
	Civil Constructors, LLC		\$32.5000	\$349,115.00
	Jones Bros. Contractors, LLC		\$42.5000	\$456,535.00
	Vulcan Construction Materials, LLC		\$42.4000	\$455,460.80
203-05	UNDERCUTTING			
		2,100.000 C.Y.		
	Civil Constructors, LLC		\$43.5000	\$91,350.00
	Jones Bros. Contractors, LLC		\$49.5000	\$103,950.00
	Vulcan Construction Materials, LLC		\$77.8000	\$163,380.00
203-06	WATER			
		3,486.000 M.G.		
	Civil Constructors, LLC		\$15.0000	\$52,290.00
	Jones Bros. Contractors, LLC		\$5.0000	\$17,430.00
	Vulcan Construction Materials, LLC		\$14.6000	\$50,895.60
203-07	FURNISHING & SPREADING TOPSOIL			
		1,161.000 C.Y.		
	Civil Constructors, LLC		\$66.0000	\$76,626.00
	Jones Bros. Contractors, LLC		\$42.5000	\$49,342.50
	Vulcan Construction Materials, LLC		\$84.2000	\$97,756.20
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		273.000 C.Y.		
	Civil Constructors, LLC		\$365.0000	\$99,645.00
	Jones Bros. Contractors, LLC		\$290.0000	\$79,170.00
	Vulcan Construction Materials, LLC		\$581.0000	\$158,613.00
208-01.01	DITCHES			
		40.000 L.F.		
	Civil Constructors, LLC		\$563.0000	\$22,520.00
	Jones Bros. Contractors, LLC		\$155.0000	\$6,200.00
	Vulcan Construction Materials, LLC		\$76.8000	\$3,072.00

		UNIT PRICE	EXTENSION
209-02.03 8" TEMPORARY SLOPE DRAIN			
	171.000 L.F.		
Civil Constructors, LLC		\$30.5000	\$5,215.50
Jones Bros. Contractors, LLC		\$18.5000	\$3,163.50
Vulcan Construction Materials, LLC		\$19.0000	\$3,249.00
209-02.05 12" TEMPORARY SLOPE DRAIN			
	514.000 L.F.		
Civil Constructors, LLC		\$34.5000	\$17,733.00
Jones Bros. Contractors, LLC		\$23.5000	\$12,079.00
Vulcan Construction Materials, LLC		\$19.0000	\$9,766.00
209-02.06 15" TEMPORARY SLOPE DRAIN			
	116.000 L.F.		
Civil Constructors, LLC		\$39.5000	\$4,582.00
Jones Bros. Contractors, LLC		\$26.5000	\$3,074.00
Vulcan Construction Materials, LLC		\$26.3000	\$3,050.80
209-02.07 18" TEMPORARY SLOPE DRAIN			
	2,474.000 L.F.		
Civil Constructors, LLC		\$45.0000	\$111,330.00
Jones Bros. Contractors, LLC		\$30.0000	\$74,220.00
Vulcan Construction Materials, LLC		\$26.7000	\$66,055.80
209-03.36 STREAM MITIGATION-STEP POOL			
	10.000 EACH		
Civil Constructors, LLC		\$3,940.0000	\$39,400.00
Jones Bros. Contractors, LLC		\$6,000.0000	\$60,000.00
Vulcan Construction Materials, LLC		\$377.0000	\$3,770.00
209-03.41 STREAM MITIGATION - BOULDER RIFFLE			
	409.000 L.F.		
Civil Constructors, LLC		\$225.0000	\$92,025.00
Jones Bros. Contractors, LLC		\$265.0000	\$108,385.00
Vulcan Construction Materials, LLC		\$359.0000	\$146,831.00
209-03.42 STREAM MITIGATION - LIVE BRUSH LAYERING			
	457.000 L.F.		
Civil Constructors, LLC		\$197.0000	\$90,029.00
Jones Bros. Contractors, LLC		\$325.0000	\$148,525.00
Vulcan Construction Materials, LLC		\$331.0000	\$151,267.00
209-03.67 STREAM MITIGATION – WOOD TOE W/REINFORCED EARTH	ı		
	241.000 L.F.		
Civil Constructors, LLC		\$281.0000	\$67,721.00
Jones Bros. Contractors, LLC		\$190.0000	\$45,790.00
Vulcan Construction Materials, LLC		\$92.6000	\$22,316.60

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
		5.11.1.11.02	
209-03.68	STREAM MITIGATION – BOULDER TOE		
		217.000 L.F.	
	Civil Constructors, LLC	\$253.0000	\$54,901.00
	Jones Bros. Contractors, LLC	\$105.0000	\$22,785.00
	Vulcan Construction Materials, LLC	\$406.0000	\$88,102.00
209-03 99	PROTECTED AREA MARKER (WHITE WITH DECAL)		
200 00.00	THO TEOTED AREA MARKER (WITTE WITT DEGAL)	94.000 EACH	
	Civil Constructors, LLC	\$394.0000	\$37,036.00
	Jones Bros. Contractors, LLC	\$300.0000	
	Vulcan Construction Materials, LLC	\$193.0000	\$18,142.00
209-05	SEDIMENT REMOVAL		
		1,022.000 C.Y.	
	Civil Constructors, LLC	\$29.1000	\$29,740.20
	Jones Bros. Contractors, LLC	\$29.0000	\$29,638.00
	Vulcan Construction Materials, LLC	\$81.6000	\$83,395.20
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)		
		75,710.000 L.F.	
	Civil Constructors, LLC	\$4.2000	\$317,982.00
	Jones Bros. Contractors, LLC	\$6.6000	\$499,686.00
	Vulcan Construction Materials, LLC	\$6.3000	\$476,973.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)	00.405.000.1.5	
		29,125.000 L.F.	ΦEQ 40E 00
	Civil Constructors, LLC Jones Bros. Contractors, LLC	\$1.8000 \$3.2000	\$52,425.00 \$93,200.00
	Vulcan Construction Materials, LLC	\$3.2000	\$93,200.00 \$68,443.75
	Vulcan Construction Materials, LLC	φ2.3300	Ψ00,443.73
209-08.07	ROCK CHECK DAM		
		26.000 EACH	
	Civil Constructors, LLC	\$732.0000	\$19,032.00
	Jones Bros. Contractors, LLC	\$1,400.0000	\$36,400.00
	Vulcan Construction Materials, LLC	\$620.0000	\$16,120.00
209-08 08	ENHANCED ROCK CHECK DAM		
200 00.00	E. W. M. S. L. C.	15.000 EACH	
	Civil Constructors, LLC	\$968.0000	\$14,520.00
	Jones Bros. Contractors, LLC	\$1,500.0000	\$22,500.00
	Vulcan Construction Materials, LLC	\$932.0000	\$13,980.00
209-08.09	FILTER SOCK CHECK DAM		

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$266,400.00 \$192,400.00

\$283,568.00

\$450.0000

\$325.0000

\$479.0000

			CONTRACT CNX267
		LINUT DDIOE	
		UNIT PRICE	EXTENSION
200 00 04 CANDRAGE			
209-09.01 SANDBAGS			
	1,090.000 BAG	•	
Civil Constructors, LLC		\$4.5000	\$4,905.00
Jones Bros. Contractors, LLC		\$6.0000	\$6,540.00
Vulcan Construction Materials, LLC		\$14.5000	\$15,805.00
209-09.03 SEDIMENT FILTER BAG (15' X 15')			
,	21.000 EACH		
Civil Constructors, LLC	<u> </u>	\$225.0000	\$4,725.00
Jones Bros. Contractors, LLC		\$750.0000	\$15,750.00
Vulcan Construction Materials, LLC		\$544.0000	\$11,424.00
		***************************************	¥ , . <u>_</u>
209-09.43 CURB INLET PROTECTION (TYPE 4)			
,	192.000 EACH		
Civil Constructors, LLC	132.000 EAGI1	\$123.0000	\$23,616.00
Jones Bros. Contractors, LLC		\$285.0000	\$54,720.00
Vulcan Construction Materials, LLC		\$328.0000	\$62,976.00
valouri Corioti actioni Materiale, 220		ψ020.0000	ψοΣ,στο.σσ
209-40.30 CATCH BASIN PROTECTION (TYPE A)			
200 10100 0711011 2710111 1110 120 11011 (111 271)	4 000 EACH		
Civil Constructors II C	1.000 EACH	<b>\$630,000</b>	<b>የ</b> ድጋቢ በበ
Civil Constructors, LLC		\$630.0000 \$1,500.0000	\$630.00 \$1,500.00
Jones Bros. Contractors, LLC  Vulcan Construction Materials, LLC		\$728.0000	\$1,500.00 \$728.00
Vulcan Construction Materials, LLC		\$720.0000	φ/20.00
209-40.33 CATCH BASIN PROTECTION (TYPE D)			
203-40.00 OATOH BAGINT NOTEOTION (THE D)	45 000 FACIL		
Ohill Constructors III C	15.000 EACH	<b>#70.000</b>	<b>#4.005.00</b>
Civil Constructors, LLC		\$73.0000	\$1,095.00
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$490.0000 \$608.0000	\$7,350.00 \$9,120.00
Vuican Construction Materials, LLC		φουο.υυυυ	φ9,120.00
209-40.41 CATCH BASIN FILTER ASSEMBLY(TYPE 1	n.		
203-40.41 CATCH BASIN FIETER ASSEMBLT(TIFE I			
Oixil Construct	8.000 EACH	<b>#040.000</b>	<b>#</b> 4.004.00
Civil Constructors, LLC		\$613.0000	\$4,904.00
Jones Bros. Contractors, LLC		\$950.0000	\$7,600.00 \$5,000.00
Vulcan Construction Materials, LLC		\$635.0000	\$5,080.00
209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2	2)		

13.000 EACH

\$1,410.0000

\$950.0000

\$635.0000

\$613.0000

\$635.0000

\$1,900.0000

Civil Constructors, LLC

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3)

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

P	Δ	G	F

\$31,020.00

\$20,900.00

\$13,970.00

\$7,969.00

\$24,700.00

\$8,255.00

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
209-40.44 CATCH BASIN FIL	TER ASSEMBLY(TYPE 4)			
		3.000 EACH		
Civil Constructors	s, LLC		\$613.0000	\$1,839.00
Jones Bros. Cont	ractors, LLC		\$2,800.0000	\$8,400.00
Vulcan Constructi	ion Materials, LLC		\$740.0000	\$2,220.00
209-40.45 CATCH BASIN FIL	TER ASSEMBLY(TYPE 5)			
		5.000 EACH		
Civil Constructors	: II C	0.000 2/1011	\$1,970.0000	\$9,850.00
Jones Bros. Conti			\$3,800.0000	\$19,000.00
	ion Materials, LLC		\$740.0000	\$3,700.00
209-40.46 CATCH BASIN FIL	TER ASSEMBLY(TYPE 6)			
		95.000 EACH		
Civil Constructors			\$613.0000	\$58,235.00
Jones Bros. Cont			\$950.0000	\$90,250.00
Vulcan Constructi	ion Materials, LLC		\$635.0000	\$60,325.00
209-40.47 CATCH BASIN FIL	TER ASSEMBLY(TYPE 7)			
		11.000 EACH		
Civil Constructors	s, LLC		\$613.0000	\$6,743.00
Jones Bros. Cont	ractors, LLC		\$1,800.0000	\$19,800.00
Vulcan Constructi	ion Materials, LLC		\$740.0000	\$8,140.00
209-40.48 CATCH BASIN FIL	TER ASSEMBLY/TYPE 8)			
200 10110 0711011 27101111 12		4.000 EACH		
Civil Constructors	s.II.C	4.000 EAOH	\$4,500.0000	\$18,000.00
Jones Bros. Cont			\$2,500.0000	\$10,000.00
	ion Materials, LLC		\$895.0000	\$3,580.00
202.04 MINEDAL ACCRE	CATE TYPE A DAGE CRADING D			
303-01 MINERAL AGGRE	GATE, TYPE A BASE, GRADING D	404 000 000 TON		
Civil Constructors		104,298.000 TON	¢44 5000	<b>\$4,220,267,00</b>
Jones Bros. Cont			\$41.5000 \$47.0000	\$4,328,367.00 \$4,902,006.00
	ion Materials, LLC		\$43.1000	\$4,495,243.80
Valoari Gorioti dott	on materials, 220		Ψ10.1000	ψ 1, 100,2 10.00
303-01.01 GRANULAR BACK	KFILL (ROADWAY)			
		1,506.000 TON		
Civil Constructors			\$45.0000	\$67,770.00
Jones Bros. Cont			\$60.0000	\$90,360.00
Vulcan Constructi	ion Materials, LLC		\$67.4000	\$101,504.40

2,408.000 TON

303-01.02 GRANULAR BACKFILL (BRIDGES)

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$78,260.00

\$144,480.00

\$150,259.20

\$32.5000

\$60.0000

\$62.4000

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
			ONITTRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		375.000 TON		
	Civil Constructors, LLC		\$65.0000	\$24,375.00
	Jones Bros. Contractors, LLC		\$60.0000	\$22,500.00
	Vulcan Construction Materials, LLC		\$58.3000	\$21,862.50
307-01 01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
307-01.01	ASI TIALI CONCRETE MIX (1 COT-22) (BI MIB-TIM) GRADING A	1,858.750 TON		
	Civil Constructors, LLC	1,030.730 TON	\$158.0000	\$293,682.50
	Jones Bros. Contractors, LLC		\$155.0000	\$288,106.25
	Vulcan Construction Materials, LLC		\$170.0000	\$315,987.50
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-	M2		
		2,710.000 TON		
	Civil Constructors, LLC		\$185.0000	\$501,350.00
	Jones Bros. Contractors, LLC		\$145.0000	\$392,950.00
	Vulcan Construction Materials, LLC		\$165.0000	\$447,150.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		1,500.000 TON		
	Civil Constructors, LLC		\$208.0000	\$312,000.00
	Jones Bros. Contractors, LLC		\$180.0000	\$270,000.00
	Vulcan Construction Materials, LLC		\$230.0000	\$345,000.00
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S			
		16,754.720 TON		
	Civil Constructors, LLC		\$134.0000	\$2,245,132.48
	Jones Bros. Contractors, LLC		\$130.0000	\$2,178,113.60
	Vulcan Construction Materials, LLC		\$155.0000	\$2,596,981.60
207 02 04	ACRUALT CONCRETE MIV (DCZO 22) (DRMD HM) CRADING A			
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A	24 409 940 TON		
	Civil Constructors II C	21,408.810 TON	¢127.0000	¢2 710 010 07
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$127.0000 \$140.0000	\$2,718,918.87 \$2,997,233.40
	Vulcan Construction Materials, LLC		\$170.0000	\$3,639,497.70
	- 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.		ψσ.σσσ	φο,οσο, .σ σ
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-	M2		
		14,024.320 TON		
	Civil Constructors, LLC		\$137.0000	\$1,921,331.84
	Jones Bros. Contractors, LLC		\$145.0000	\$2,033,526.40
	Vulcan Construction Materials, LLC		\$165.0000	\$2,314,012.80
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
-	( -/	200.000 TON		
	Civil Constructors, LLC		\$636.0000	\$127,200.00
	Jones Bros. Contractors, LLC		\$1,000.0000	\$200,000.00
	Vulcan Construction Materials LLC		\$2,000,0000	\$400,000,00

Vulcan Construction Materials, LLC

\$400,000.00

\$2,000.0000

			CONTRACT	CNX267
		UNIT PRICE	EXT	ENSION
402.02	ACCRECATE FOR COVER MATERIAL (DC)			

			UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		720.000 TON		
	Civil Constructors, LLC		\$38.0000	\$27,360.00
	Jones Bros. Contractors, LLC		\$95.0000	\$68,400.00
	Vulcan Construction Materials, LLC		\$110.0000	\$79,200.00
403-01	DITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	42 C40 TON		
	Civil Constructors III C	43.610 TON	¢2.040.0000	¢422 574 40
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$3,040.0000 \$1,000.0000	\$132,574.40 \$43,610.00
	Vulcan Construction Materials, LLC		\$2,000.0000	\$87,220.00
	vulcan Gonstruction iviaterials, LLG		Ψ2,000.0000	ψ01,220.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		1,695.060 TON		
	Civil Constructors, LLC		\$1,350.0000	\$2,288,331.00
	Jones Bros. Contractors, LLC		\$210.0000	\$355,962.60
	Vulcan Construction Materials, LLC		\$175.0000	\$296,635.50
411-02.10	ACS MIX(PG70-22) GRADING D			
		8,222.000 TON		
	Civil Constructors, LLC		\$183.0000	\$1,504,626.00
	Jones Bros. Contractors, LLC		\$180.0000	\$1,479,960.00
	Vulcan Construction Materials, LLC		\$175.0000	\$1,438,850.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		5,402.000 S.Y.		
	Civil Constructors, LLC	3,402.000 3.11	\$11.9000	\$64,283.80
	Jones Bros. Contractors, LLC		\$10.9500	\$59,151.90
	Vulcan Construction Materials, LLC		\$30.0000	\$162,060.00
604-01.01	CLASS A CONCRETE (ROADWAY)			
		153.000 C.Y.		
	Civil Constructors, LLC		\$2,695.0000	\$412,335.00
	Jones Bros. Contractors, LLC		\$1,770.0000	\$270,810.00
	Vulcan Construction Materials, LLC		\$2,450.0000	\$374,850.00
604-01.02	STEEL BAR REINFORCEMENT (ROADWAY)			
00101102	orala brackala okolala (konsukt)	30,303.000 LB.		
	Civil Constructors, LLC	30,303.300 EB.	\$2.4000	\$72,727.20
	Jones Bros. Contractors, LLC		\$2.5000	\$75,757.50
	Vulcan Construction Materials, LLC		\$2.2500	\$68,181.75
604-01.20	BOX TUBE SAFETY RAIL			
		1,540.000 L.F.		
	Civil Constructors, LLC		\$276.0000	\$425,040.00
	Jones Bros. Contractors, LLC		\$451.0000	\$694,540.00
	Vulcan Construction Materials, LLC		\$255.0000	\$392,700.00

			UNIT PRICE	EXTENSION
604-07.01	RETAINING WALL (R1, STA. 473+65.00 TO STA. 477+20.00, RT)			
		1,416.000 S.F.		
	Civil Constructors, LLC		\$285.0000	\$403,560.00
	Jones Bros. Contractors, LLC		\$130.0000	\$184,080.00
	Vulcan Construction Materials, LLC		\$415.0000	\$587,640.00
604-07.02	RETAINING WALL (R2, STA. 497+15.00, LT TO STA. 12+55.00, R	Γ)		
		2,570.000 S.F.		
	Civil Constructors, LLC		\$445.0000	\$1,143,650.00
	Jones Bros. Contractors, LLC		\$300.0000	\$771,000.00
	Vulcan Construction Materials, LLC		\$517.0000	\$1,328,690.00
604-07.03	RETAINING WALL (R3, STA. 509+40.00 TO STA. 515+75.00, LT)			
		8,204.000 S.F.		
	Civil Constructors, LLC		\$465.0000	\$3,814,860.00
	Jones Bros. Contractors, LLC		\$225.0000	\$1,845,900.00
	Vulcan Construction Materials, LLC		\$506.0000	\$4,151,224.00
604-07.04	RETAINING WALL (R4, STA. 512+20.00 TO STA. 517+04.42, RT)			
		4,046.000 S.F.		
	Civil Constructors, LLC		\$480.0000	\$1,942,080.00
	Jones Bros. Contractors, LLC		\$300.0000	\$1,213,800.00
	Vulcan Construction Materials, LLC		\$583.0000	\$2,358,818.00
604-07.05	RETAINING WALL (R5, STA. 517+39.40 TO STA. 522+00.00, RT)			
		5,748.000 S.F.		
	Civil Constructors, LLC		\$445.0000	\$2,557,860.00
	Jones Bros. Contractors, LLC		\$300.0000	\$1,724,400.00
	Vulcan Construction Materials, LLC		\$529.0000	\$3,040,692.00
604-07.06	RETAINING WALL (R6, STA. 457+10.00 TO STA. 458+15.00, RT)			
		1,191.000 S.F.		
	Civil Constructors, LLC		\$535.0000	\$637,185.00
	Jones Bros. Contractors, LLC		\$300.0000	\$357,300.00
	Vulcan Construction Materials, LLC		\$649.0000	\$772,959.00
604-07.07	RETAINING WALL (R7, STA. 534+80.00 TO STA. 536+50.00, RT)			
		483.000 S.F.		
	Civil Constructors, LLC		\$296.0000	\$142,968.00
	Jones Bros. Contractors, LLC		\$160.0000	\$77,280.00
	Vulcan Construction Materials, LLC		\$458.0000	\$221,214.00
604-10.51	SCARIFYING			
		2,066.000 S.Y.		
	Civil Constructors, LLC		\$11.0000	\$22,726.00
	Jones Bros. Contractors, LLC		\$31.0000	\$64,046.00
	Vulcan Construction Materials, LLC		\$31.9000	\$65,905.40

		12,328.000 L.F.		
	Civil Constructors, LLC		\$170.0000	\$2,095,760.00
	Jones Bros. Contractors, LLC		\$295.0000	\$3,636,760.00
	Vulcan Construction Materials, LLC		\$309.0000	\$3,809,352.00
	Valoan Construction Materials, LLC		ψοσο.σσσσ	ψ0,000,002.00
607-05.30	24" PIPE CULVERT			
		3,284.000 L.F.		
	Civil Constructors, LLC	,	\$212.0000	\$696,208.00
	Jones Bros. Contractors, LLC		\$335.0000	\$1,100,140.00
	Vulcan Construction Materials, LLC		\$535.0000	\$1,756,940.00
	Valoari Ocholi dollori Matchalo, EEO		φοσο.σσσσ	ψ1,700,010.00
607-06.30	30" PIPE CULVERT			
		1,699.000 L.F.		
	Civil Constructors, LLC	·	\$303.0000	\$514,797.00
	Jones Bros. Contractors, LLC		\$450.0000	\$764,550.00
	Vulcan Construction Materials, LLC		\$625.0000	\$1,061,875.00
	1 310 311 3 3 1 3 1 3 1 3 1 3 1 3 1 3 1		Ψ0=0.0000	ψ.,σσ.,σ. σ.σσ
607-07.30	36" PIPE CULVERT			
		2,446.000 L.F.		
	Civil Constructors, LLC	2, : :0:000 =:: :	\$413.0000	\$1,010,198.00
	Jones Bros. Contractors, LLC		\$495.0000	\$1,210,770.00
	Vulcan Construction Materials, LLC		\$878.0000	\$2,147,588.00
	vulcan construction materials, LLC		ψο 7 ο. ο ο ο ο	Ψ2, 147,300.00
607-09.30	48" PIPE CULVERT			
		280.000 L.F.		
	Civil Constructors 11 C	200.000 L.F.	<b>#</b> 004_0000	<b>\$400.000.00</b>
	Civil Constructors, LLC		\$681.0000	\$190,680.00
	Jones Bros. Contractors, LLC		\$785.0000	\$219,800.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$420,000.00
607-3 <u>0</u> 02	18" PIPE CULVERT (SIDE DRAIN)			
007-33.02	10 THE GOLVERT (SIDE DIVANY)	24 000 1 5		
	0: 10	34.000 L.F.	<b>#</b> 404.0000	<b>#0.500.00</b>
	Civil Constructors, LLC		\$104.0000	\$3,536.00
	Jones Bros. Contractors, LLC		\$270.0000	\$9,180.00
	Vulcan Construction Materials, LLC		\$141.0000	\$4,794.00
607 20 00	60" PIPE CULVERT (SIDE DRAIN)			
007-39.09	00 FIFE COLVERT (SIDE DRAIN)			
		48.000 L.F.		
	Civil Constructors, LLC		\$524.0000	\$25,152.00
	Jones Bros. Contractors, LLC		\$830.0000	\$39,840.00
	Vulcan Construction Materials, LLC		\$792.0000	\$38,016.00
607-39.10	66" PIPE CULVERT (SIDE DRAIN)			
		68.000 L.F.		
	Civil Constructors, LLC		\$468.0000	\$31,824.00
	Jones Bros. Contractors, LLC		\$840.0000	\$57,120.00
	Vulcan Construction Materials, LLC		\$737.0000	\$50,116.00

		CC	NTRACT CNX267
		UNIT PRICE	EXTENSION
611-01.02 MANHOLES, > 4' - 8' DEPTH			
	5.000 EACH		
Civil Constructors, LLC		\$8,250.0000	\$41,250.00
Jones Bros. Contractors, LLC		\$6,950.0000	\$34,750.00
Vulcan Construction Materials, LLC		\$10,700.0000	\$53,500.00
611-01.03 MANHOLES, > 8' - 12' DEPTH			
	3.000 EACH		
Civil Constructors, LLC		\$14,040.0000	\$42,120.00
Jones Bros. Contractors, LLC		\$14,000.0000	\$42,000.00
Vulcan Construction Materials, LLC		\$13,600.0000	\$40,800.00
611-02.11 JUNCTION BOX, TYPE 2			
	1.000 EACH		
Civil Constructors, LLC		\$7,690.0000	\$7,690.00
Jones Bros. Contractors, LLC		\$9,000.0000	\$9,000.00
Vulcan Construction Materials, LLC		\$9,490.0000	\$9,490.00
611-02.12 JUNCTION BOX, TYPE 3			
	2.000 EACH		
Civil Constructors, LLC		\$24,080.0000	\$48,160.00
Jones Bros. Contractors, LLC		\$29,000.0000	\$58,000.00
Vulcan Construction Materials, LLC		\$20,000.0000	\$40,000.00
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)			
	110.000 C.Y.		
Civil Constructors, LLC		\$1,960.0000	\$215,600.00
Jones Bros. Contractors, LLC		\$1,510.0000	\$166,100.00
Vulcan Construction Materials, LLC		\$3,010.0000	\$331,100.00
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	5,172.000 LB.		
Civil Constructors, LLC		\$5.6000	\$28,963.20
Jones Bros. Contractors, LLC		\$2.7500	\$14,223.00
Vulcan Construction Materials, LLC		\$4.4000	\$22,756.80
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1			
	1.000 EACH		
Civil Constructors, LLC		\$3,530.0000	\$3,530.00
Jones Bros. Contractors, LLC		\$2,100.0000	\$2,100.00
Vulcan Construction Materials, LLC		\$5,170.0000	\$5,170.00
611-07.60 30IN ENDWALL (CROSS DRAIN) 3:1			
	1.000 EACH		
Civil Constructors, LLC		\$7,010.0000	\$7,010.00
Jones Bros. Contractors, LLC		\$6,750.0000	\$6,750.00
Vulcan Construction Materials, LLC		\$10,800.0000	\$10,800.00

· · · · · · · · · · · · · · · · · · ·		
	14.000 EACH	
Civil Constructors, LLC	\$7,770.0000	\$108,780.00
Jones Bros. Contractors, LLC	\$5,750.0000	\$80,500.00
Vulcan Construction Materials, LLC	\$7,910.0000	\$110,740.00
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPT	н	
	93.000 EACH	
Civil Constructors, LLC	\$9,490.0000	\$882,570.00
Jones Bros. Contractors, LLC	\$6,900.0000	\$641,700.00
Vulcan Construction Materials, LLC	\$10,900.0000	\$1,013,700.00
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEF	тн	
	11.000 EACH	
Civil Constructors, LLC	\$11,420.0000	\$125,620.00
Jones Bros. Contractors, LLC	\$7,150.0000	\$78,650.00
Vulcan Construction Materials, LLC	\$15,100.0000	\$166,100.00
611-12.06 CATCH BASINS, TYPE 12, > 20' - 24' DE	РТН	
	1.000 EACH	
Civil Constructors, LLC	\$27,940.0000	\$27,940.00
Jones Bros. Contractors, LLC	\$26,850.0000	\$26,850.00
Vulcan Construction Materials, LLC	\$23,600.0000	\$23,600.00
611-14.02 CATCH BASINS, TYPE 14, > 4' - 8' DEPT	н	
	13.000 EACH	
Civil Constructors, LLC	\$15,810.0000	\$205,530.00
Jones Bros. Contractors, LLC	\$11,500.0000	\$149,500.00
Vulcan Construction Materials, LLC	\$15,400.0000	\$200,200.00
611-14.03 CATCH BASINS, TYPE 14, > 8' - 12' DEP	тн	
	1.000 EACH	
Civil Constructors, LLC	\$24,680.0000	\$24,680.00
Jones Bros. Contractors, LLC	\$21,500.0000	\$21,500.00
Vulcan Construction Materials, LLC	\$18,100.0000	\$18,100.00

\$18,140.0000

\$15,000.0000

\$23,500.0000

611-16.02 CATCH BASINS, TYPE 16, > 4' - 8' DEPTH

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

Civil Constructors, LLC

\$18,140.00

\$15,000.00

\$23,500.00

			-	
			UNIT PRICE	<b>EXTENSION</b>
611-16 03	CATCH BASINS, TYPE 16, > 8' - 12' DEPTH			
011-10.03	OATON BASING, THE 10,70 - 12 DEI TH			
		2.000 EACH		
	Civil Constructors, LLC		\$23,000.0000	\$46,000.00
	Jones Bros. Contractors, LLC		\$17,500.0000	\$35,000.00
	Vulcan Construction Materials, LLC		\$33,700.0000	\$67,400.00
611-16.04	CATCH BASINS, TYPE 16, > 12' - 16' DEPTH			
		1.000 EACH		
	Civil Constructors, LLC		\$28,610.0000	\$28,610.00
	Jones Bros. Contractors, LLC		\$23,500.0000	\$23,500.00
	Vulcan Construction Materials, LLC		\$44,200.0000	\$44,200.00
	·		. ,	
611-25.01	CATCH BASINS, TYPE 25, 0' - 4' DEPTH			
011 20101	5/11 5/10 11 5/10 11 5 2 5 1 5 2 1 1 1 1 1 1 1 1 1 1 1 1	4 000 5 4 0 1		
	0: "0	1.000 EACH	<b>#</b> 0.040.000	<b>#</b> 0.040.00
	Civil Constructors, LLC		\$8,040.0000	\$8,040.00
	Jones Bros. Contractors, LLC		\$5,750.0000	\$5,750.00
	Vulcan Construction Materials, LLC		\$8,390.0000	\$8,390.00
611-25.02	CATCH BASINS, TYPE 25, > 4' - 8' DEPTH			
		2.000 EACH		
	Civil Constructors, LLC		\$8,460.0000	\$16,920.00
	Jones Bros. Contractors, LLC		\$6,000.0000	\$12,000.00
	Vulcan Construction Materials, LLC		\$11,100.0000	\$22,200.00
611-42.01	CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
		3.000 EACH		
	Civil Constructors, LLC	3.000 EAST1	\$8,080.0000	\$24,240.00
	Jones Bros. Contractors, LLC		\$6,850.0000	\$20,550.00
	Vulcan Construction Materials, LLC		\$6,490.0000	\$19,470.00
	Vulcan Construction Materials, LLC		φ0,490.0000	\$19,470.00
044 40 00	OATOU DAOINO TYPE 40 41 OLDEDTU			
611-42.02	CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
		8.000 EACH		
	Civil Constructors, LLC		\$8,140.0000	\$65,120.00
	Jones Bros. Contractors, LLC		\$7,000.0000	\$56,000.00
	Vulcan Construction Materials, LLC		\$11,100.0000	\$88,800.00
620-05	CONCRETE PARAPET WITH STRUCTURAL TUBING			
		1,037.000 L.F.		
	Civil Constructors, LLC	•	\$590.0000	\$611,830.00
	Jones Bros. Contractors, LLC		\$370.0000	\$383,690.00
	Vulcan Construction Materials, LLC		\$112.0000	\$116,144.00
			, , , , , , , , , , , , , , , , , , , ,	,
621-03.02	18" TEMPORARY DRAINAGE PIPE			
50.02		200,000   5		
	Ohidi Oanataratara III O	300.000 L.F.	<b>477</b> 6666	<b>#</b> 00 400 00
	Civil Constructors, LLC		\$77.0000	\$23,100.00
	Jones Bros. Contractors, LLC		\$65.0000	\$19,500.00
	Vulcan Construction Materials, LLC		\$81.5000	\$24,450.00

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
621-03.04	30" TEMPORARY DRAINAGE PIPE			
		175.000 L.F.		
	Civil Constructors, LLC		\$148.0000	\$25,900.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$115.0000 \$199.0000	\$20,125.00 \$34,825.00
	vuican Construction Materials, LLC		\$199.0000	\$34,625.UU
621-05.01	TEMPORARY SHORING			
		925.000 S.F.		
	Civil Constructors, LLC		\$118.0000	\$109,150.00
	Jones Bros. Contractors, LLC		\$50.0000	\$46,250.00
	Vulcan Construction Materials, LLC		\$109.0000	\$100,825.00
701-01 01	CONCRETE SIDEWALK (4 ")			
701 01.01	CONONETE GIDENALIK (4 )	178,370.000 S.F.		
	Civil Constructors, LLC	170,070.000 0.11 .	\$10.0000	\$1,783,700.00
	Jones Bros. Contractors, LLC		\$7.5000	\$1,337,775.00
	Vulcan Construction Materials, LLC		\$7.8000	\$1,391,286.00
701-02	CONCRETE DRIVEWAY			
		10,354.000 S.F.		
	Civil Constructors, LLC		\$22.2000	\$229,858.80
	Jones Bros. Contractors, LLC		\$17.5000	\$181,195.00
	Vulcan Construction Materials, LLC		\$18.2000	\$188,442.80
701-02.03	CONCRETE CURB RAMP			
		6,169.000 S.F.		
	Civil Constructors, LLC	,	\$27.0000	\$166,563.00
	Jones Bros. Contractors, LLC		\$24.0000	\$148,056.00
	Vulcan Construction Materials, LLC		\$25.0000	\$154,225.00
702-03	CONCRETE COMBINED CURB & GUTTER			
702-03	CONORETE COMBINED CORD & COTTER	2,611.000 C.Y.		
	Civil Constructors, LLC	2,011.000 0.11	\$591.0000	\$1,543,101.00
	Jones Bros. Contractors, LLC		\$525.0000	\$1,370,775.00
	Vulcan Construction Materials, LLC		\$546.0000	\$1,425,606.00
705 00 04	W DEAM OR (TVDE 0) MACUTE 0			
/05-06.01	W BEAM GR (TYPE 2) MASH TL-3	24,000   5		
	Civil Constructors, LLC	34.000 L.F.	¢33 5000	¢4 120 00
	Jones Bros. Contractors, LLC		\$33.5000 \$50.0000	\$1,139.00 \$1,700.00
	Vulcan Construction Materials, LLC		\$52.0000	\$1,768.00
	The state of the s		<b>402.0000</b>	ψ.,. σο.σσ
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL-3			

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$1,710.00 \$2,300.00

\$2,390.00

\$1,710.0000

\$2,300.0000

\$2,390.0000

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	1.000 EACH		
	Civil Constructors, LLC	1.000 EACH	\$3,680.0000	\$3,680.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$5,000.00 \$5,000.00
	Vulcan Construction Materials, LLC		\$5,200.0000	\$5,200.00 \$5,200.00
	Valour Construction Materials, 220		ψο,200.0000	ψ0,200.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
		1.000 EACH		
	Civil Constructors, LLC		\$3,230.0000	\$3,230.00
	Jones Bros. Contractors, LLC		\$4,500.0000	\$4,500.00
	Vulcan Construction Materials, LLC		\$4,680.0000	\$4,680.00
706-06.03	RADIUS RAIL			
		45.000 L.F.		
	Civil Constructors, LLC		\$40.5000	\$1,822.50
	Jones Bros. Contractors, LLC		\$52.5000	\$2,362.50
	Vulcan Construction Materials, LLC		\$54.6000	\$2,457.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		8,442.000 L.F.		
	Civil Constructors, LLC	0,1121000 2111	\$2.2500	\$18,994.50
	Jones Bros. Contractors, LLC		\$4.3000	\$36,300.60
	Vulcan Construction Materials, LLC		\$3.4000	\$28,702.80
700-05 05	MACHINED RIP-RAP (CLASS A-3)			
709-05.05	MACHINED RIF-RAF (CLASS A-3)	054 000 TON		
	Civil Constructors 11 C	951.000 TON	Ф <b>Г</b> 4 <b>Г</b> 000	¢40,070,50
	Civil Constructors, LLC		\$51.5000	\$48,976.50
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$68.5000 \$75.4000	\$65,143.50 \$71,705.40
	vuican Construction Materials, LLC		\$75.4000	\$71,705.40
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		1,235.000 TON		
	Civil Constructors, LLC		\$61.5000	\$75,952.50
	Jones Bros. Contractors, LLC		\$68.5000	\$84,597.50
	Vulcan Construction Materials, LLC		\$75.4000	\$93,119.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
	,	725.000 TON		
	Civil Constructors, LLC		\$66.5000	\$48,212.50
	Jones Bros. Contractors, LLC		\$68.5000	\$49,662.50
	Vulcan Construction Materials, LLC		\$75.4000	\$54,665.00
709-05-81	ROCK RIFFLES			
		1.000 LS		
	Civil Constructors, LLC		\$56,280.0000	\$56,280.00
	Jones Bros. Contractors, LLC		\$65,000.0000	\$65,000.00
	Vulcan Construction Materials, LLC		\$236,000.0000	\$236,000.00
			<del>+</del> ===,000.000	+=30,000.00

			J	011110101 0101201
			UNIT PRICE	EXTENSION
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		25,692.000 L.F.		
	Civil Constructors, LLC	20,002.000 2 1	\$14.2000	\$364,826.40
	Jones Bros. Contractors, LLC		\$12.0000	\$308,304.00
	Vulcan Construction Materials, LLC		\$13.5000	\$346,842.00
			¥	<b>*</b>
710-09.07	6" PERFORATED PLASTIC PIPE (FRENCH DRAIN)			
		21.000 L.F.		
	Civil Constructors, LLC	21.000 L.I .	\$111.0000	\$2,331.00
	Jones Bros. Contractors, LLC		\$34.5000	\$2,331.00 \$724.50
	Vulcan Construction Materials, LLC		\$72.0000	\$1,512.00
	Valoari Conditaction Materials, EEC		ψ12.0000	Ψ1,012.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Civil Constructors, LLC	1.000 E3	\$462,110.0000	\$462,110.00
	Jones Bros. Contractors, LLC		\$310,000.0000	\$310,000.00
	Vulcan Construction Materials, LLC		\$2,750,000.0000	\$2,750,000.00
	Valoari Conditaction Materials, EEC		ΨΣ,7 00,000.0000	Ψ2,7 00,000.00
712-02 02	INTERCONNECTED PORTABLE BARRIER RAIL			
00_		16,000.000 L.F.		
	Civil Constructors III C	16,000.000 L.F.	¢04 5000	¢4 464 000 00
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$91.5000 \$35.0000	\$1,464,000.00 \$560,000.00
	Vulcan Construction Materials, LLC		\$216.0000	\$3,456,000.00
	Vulcan Construction Materials, ELC		Ψ2 10.0000	ψ5,430,000.00
712-02 60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3	١		
712-02.00	TEMI ORAKI WORK ZONE ORAGII GOGINGI (MAGII 12-3			
	Civil Constructors 11 C	45.000 EACH	¢40,540,0000	<b>\$</b> \$\$\$
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$13,510.0000 \$13,000.0000	\$607,950.00
	Vulcan Construction Materials, LLC		\$12,000.0000 \$13,900.0000	\$540,000.00 \$625,500.00
	Vulcan Construction Materials, ELC		ψ13,900.0000	ψ023,300.00
712-04-01	FLEXIBLE DRUMS (CHANNELIZING)			
112-04.01	PLEXIBLE DRUMS (CHANNELIZING)	4 000 000 54 011		
		1,290.000 EACH	<b>#50.500</b>	<b>ATO 005 00</b>
	Civil Constructors, LLC		\$56.5000	\$72,885.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$50.0000 \$48.0000	\$64,500.00 \$61,920.00
	Vulcan Construction Materials, LLC		<del>Ф4</del> 6.0000	Ф01,920.00
712-04 50	BARRIER RAIL DELINEATOR			
112-04.50	BARRIER RAIL DELINEATOR	4 400 000 = 4 011		
		1,480.000 EACH	<b>#40.000</b>	<b>*</b> 0= 040 00
	Civil Constructors, LLC		\$16.9000	\$25,012.00
	Jones Bros. Contractors, LLC		\$15.0000	\$22,200.00
	Vulcan Construction Materials, LLC		\$8.0000	\$11,840.00
712 DE 04	WARNING LIGHTS (TYPE A)			
<i>i</i> 1 <b>∠-</b> 05.01	WARNING LIGHTS (TYPE A)			
		108.000 EACH	_	_
	Civil Constructors, LLC		\$50.5000	\$5,454.00
	Jones Bros. Contractors, LLC		\$45.0000	\$4,860.00
	Vulcan Construction Materials, LLC		\$38.0000	\$4,104.00

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
712-05.03	WARNING LIGHTS (TYPE C)			
	Civil Constructors, LLC	300.000 EACH	\$39.5000	\$11,850.00
	Jones Bros. Contractors, LLC		\$35.0000	\$10,500.00
	Vulcan Construction Materials, LLC		\$38.0000	\$11,400.00
712-06	SIGNS (CONSTRUCTION)			
		3,431.000 S.F.		
	Civil Constructors, LLC		\$9.0000	\$30,879.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$8.0000 \$14.0000	\$27,448.00 \$48,034.00
	valouri construction materials, LEC		ψ14.0000	Ψ+0,00+.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		1,682.000 L.F.		
	Civil Constructors, LLC		\$22.5000	\$37,845.00 \$33,640.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$20.0000 \$28.0000	\$33,640.00 \$47,096.00
			Ψ=3.5555	* ,
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$2,030.0000 \$1,800.0000	\$4,060.00 \$3,600.00
	Vulcan Construction Materials, LLC		\$1,200.0000	\$2,400.00
	·			
713-11.01	"U" SECTION STEEL POSTS			
		2,794.000 LB.	<b>#</b> 7 7000	<b>404 540 00</b>
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$7.7000 \$6.8500	\$21,513.80 \$19,138.90
	Vulcan Construction Materials, LLC		\$5.5000	\$15,367.00
713-11.22	U POST SLIP BASE			
	Civil Constructors 11 C	89.000 EACH	¢249.0000	¢22.072.00
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$248.0000 \$220.0000	\$22,072.00 \$19,580.00
	Vulcan Construction Materials, LLC		\$435.0000	\$38,715.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	Civil Constructors, LLC	499.000 S.F.	\$23.6000	\$11,776.40
	Jones Bros. Contractors, LLC		\$23.0000	\$10,479.00
	Vulcan Construction Materials, LLC		\$16.0000	\$7,984.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	424.000.0.5		
	0: 10	134.000 S.F.	<b>#05.000</b>	<b>A</b> 0. 4 <b>7</b> 0.00

Civil Constructors, LLC

Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC \$3,470.60

\$3,082.00

\$2,479.00

\$25.9000

\$23.0000

\$18.5000

				NINACI CNAZO
			UNIT PRICE	EXTENSION
713-14 21	STREET NAME SIGN (RIGID 0.100IN THICK			
713-14.21	OTTLET NAME GOT (MOD 0.100M THOSE	390.000 S.F.		
	Civil Constructors, LLC		\$36.0000	\$14,040.00
	Jones Bros. Contractors, LLC		\$55.0000	\$21,450.00
	Vulcan Construction Materials, LLC		\$31.0000	\$12,090.00
713-15	DEMOVAL OF SIGNS POSTS AND FOOTINGS			
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	1.000 LS		
	Civil Constructors, LLC	1.000 25	\$1,130.0000	\$1,130.00
	Jones Bros. Contractors, LLC		\$1,000.0000	\$1,000.00
	Vulcan Construction Materials, LLC		\$3,700.0000	\$3,700.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		6.000 EACH		
	Civil Constructors, LLC		\$15,760.0000	\$94,560.00
	Jones Bros. Contractors, LLC		\$14,000.0000	\$84,000.00
	Vulcan Construction Materials, LLC		\$15,000.0000	\$90,000.00
713-16.20	SIGNS (R10-5, 30"x36")			
	,	2.000 EACH		
	Civil Constructors, LLC	2.000 27.011	\$197.0000	\$394.00
	Jones Bros. Contractors, LLC		\$650.0000	\$1,300.00
	Vulcan Construction Materials, LLC		\$325.0000	\$650.00
713-16.21	SIGNS (R10-12, 30"X36")			
		5.000 EACH		
	Civil Constructors, LLC		\$197.0000	\$985.00
	Jones Bros. Contractors, LLC		\$650.0000	\$3,250.00
	Vulcan Construction Materials, LLC		\$325.0000	\$1,625.00
713-16.23	SIGNS (R10-11, 30"X36")			
	,	3.000 EACH		
	Civil Constructors, LLC		\$197.0000	\$591.00
	Jones Bros. Contractors, LLC		\$650.0000	\$1,950.00
	Vulcan Construction Materials, LLC		\$325.0000	\$975.00
742.46.24	CICNO (D40 45, 2011 V 2011)			
713-10.24	SIGNS (R10-15, 30" X 30")			
		2.000 EACH	<b>.</b>	
	Civil Constructors, LLC		\$146.0000	\$292.00
	Jones Bros. Contractors, LLC		\$600.0000	\$1,200.00
	Vulcan Construction Materials, LLC		\$295.0000	\$590.00
713-16.25	SIGNS (R10-11C, 30"X42")			
		1.000 EACH		
	Civil Constructors, LLC		\$197.0000	\$197.00
	Jones Bros. Contractors, LLC		\$675.0000	\$675.00
	Vulcan Construction Materials, LLC		\$350.0000	\$350.00

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
714-03.01 DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)			
Civil Constructors, LLC	11,000.000 L.F.	\$11.3000	\$124,300.00
Jones Bros. Contractors, LLC		\$10.0000	\$124,300.00
Vulcan Construction Materials, LLC		\$10.4000	\$114,400.00
,		·	,
714-03.03 DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 80)			
	8,200.000 L.F.		
Civil Constructors, LLC		\$13.5000	\$110,700.00
Jones Bros. Contractors, LLC		\$12.0000	\$98,400.00
Vulcan Construction Materials, LLC		\$12.5000	\$102,500.00
714-05.04 PULL BOXES (TYPE C)			
,	40.000 EACH		
Civil Constructors, LLC		\$1,470.0000	\$58,800.00
Jones Bros. Contractors, LLC		\$1,310.0000	\$52,400.00
Vulcan Construction Materials, LLC		\$1,360.0000	\$54,400.00
744 00 07			
714-06.07 CABLE (1/C # 2 AWG)	50 500 000 L F		
Civil Constructors 11 C	59,500.000 L.F.	<u></u>	<b>\$225.025.00</b>
Civil Constructors, LLC  Jones Bros. Contractors, LLC		\$3.9500 \$3.5000	\$235,025.00 \$208,250.00
Vulcan Construction Materials, LLC		\$3.6500 \$3.6500	\$200,230.00
,			, ,
714-06.08 CABLE (1/C # 6 AWG)			
	27,600.000 L.F.		
Civil Constructors, LLC		\$2.0500	\$56,580.00
Jones Bros. Contractors, LLC		\$1.8000	\$49,680.00
Vulcan Construction Materials, LLC		\$1.8500	\$51,060.00
714-08.09 LIGHT STANDARDS (35' M.H., 10' ARM)			
, , , , ,	59.000 EACH		
Civil Constructors, LLC		\$3,820.0000	\$225,380.00
Jones Bros. Contractors, LLC		\$3,395.0000	\$200,305.00
Vulcan Construction Materials, LLC		\$3,530.0000	\$208,270.00
TALES OF FOUNDATION (ON WEST LIGHT STANDARD			
714-08.20 FOUNDATION (ONLY) FOR LIGHT STANDARD	50 000 54 011		
Civil Constructors II C	59.000 EACH	¢2 240 0000	\$40E 200 00
Civil Constructors, LLC  Jones Bros. Contractors, LLC		\$3,310.0000 \$2,940.0000	\$195,290.00 \$173,460.00
Vulcan Construction Materials, LLC		\$3,060.0000	\$173,460.00
Valouri Scriptianion Materials, LES		ψο,σσο.σσσσ	ψ100,0π0.00
714-09.09 LUMINAIRES (77 WATT)			
	17.000 EACH		
Civil Constructors, LLC		\$3,140.0000	\$53,380.00
Jones Bros. Contractors, LLC		\$2,790.0000	\$47,430.00

Vulcan Construction Materials, LLC

\$49,300.00

\$2,900.0000

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
714-09.10 LUMINAIRES (145 WATT)			
	121.000 EACH		
Civil Constructors, LLC		\$934.0000	\$113,014.00
Jones Bros. Contractors, LLC		\$830.0000	\$100,430.00
Vulcan Construction Materials, LLC		\$864.0000	\$104,544.00
714-12.01 CONTROL CENTER (NO. 1)			
	1.000 LS		
Civil Constructors, LLC		\$12,160.0000	\$12,160.00
Jones Bros. Contractors, LLC		\$10,800.0000	\$10,800.00
Vulcan Construction Materials, LLC		\$11,200.0000	\$11,200.00
714-12.02 CONTROL CENTER (NO. 2)			
	1.000 LS		
Civil Constructors, LLC		\$12,160.0000	\$12,160.00
Jones Bros. Contractors, LLC		\$10,800.0000	\$10,800.00
Vulcan Construction Materials, LLC		\$11,200.0000	\$11,200.00
714-12.03 CONTROL CENTER (NO. 3)			
	1.000 LS		
Civil Constructors, LLC		\$12,160.0000	\$12,160.00
Jones Bros. Contractors, LLC		\$10,800.0000	\$10,800.00
Vulcan Construction Materials, LLC		\$11,200.0000	\$11,200.00
714-14.03 MASTARM (MAST ARM ON UTILITY POLES)			
	62.000 EACH		
Civil Constructors, LLC		\$711.0000	\$44,082.00
Jones Bros. Contractors, LLC		\$632.0000	\$39,184.00
Vulcan Construction Materials, LLC		\$658.0000	\$40,796.00
714-25.01 ELECTRICAL CONNECTION (TO CC NO. A)			
	1.000 LS		
Civil Constructors, LLC		\$2,580.0000	\$2,580.00
Jones Bros. Contractors, LLC		\$2,290.0000	\$2,290.00
Vulcan Construction Materials, LLC		\$2,380.0000	\$2,380.00
714-25.02 ELECTRICAL CONNECTION (TO CC NO. B)			
	1.000 LS		
Civil Constructors, LLC		\$2,580.0000	\$2,580.00
Jones Bros. Contractors, LLC		\$2,290.0000	\$2,290.00
Vulcan Construction Materials, LLC		\$2,380.0000	\$2,380.00
714-25.03 ELECTRICAL CONNECTION (TO CC NO. C)			
	1.000 LS		
Civil Constructors, LLC		\$2,580.0000	\$2,580.00
Jones Bros. Contractors, LLC		\$2,290.0000	\$2,290.00
Vulcan Construction Materials, LLC		\$2,380.0000	\$2,380.00

			00	NINACI CNAZO
			UNIT PRICE	EXTENSION
714-70.57	#4 AWG GROUND WIRE BARE SOLID COPPER			
		13,700.000 L.F.		
	Civil Constructors, LLC		\$2.2500	\$30,825.00
	Jones Bros. Contractors, LLC		\$1.9000	\$26,030.00
	Vulcan Construction Materials, LLC		\$2.0000	\$27,400.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-	DIR) (1 COLOR)		
		480.000 EACH		
	Civil Constructors, LLC	.00.000 =/.011	\$39.5000	\$18,960.00
	Jones Bros. Contractors, LLC		\$35.0000	\$16,800.00
	Vulcan Construction Materials, LLC		\$36.4000	\$17,472.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MON			
		730.000 EACH		
	Civil Constructors, LLC		\$39.5000	\$28,835.00
	Jones Bros. Contractors, LLC		\$35.0000	\$25,550.00
	Vulcan Construction Materials, LLC		\$36.4000	\$26,572.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STI	RIPING)		
		377.000 S.Y.		
	Civil Constructors, LLC	377.000 0.11	\$39.5000	\$14,891.50
	Jones Bros. Contractors, LLC		\$35.0000	\$13,195.00
	Vulcan Construction Materials, LLC		\$36.4000	\$13,722.80
	Validati Goristi dellotti Materiais, ELG		ψ30.4000	Ψ13,722.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		1,151.000 L.F.		
	Civil Constructors, LLC		\$22.5000	\$25,897.50
	Jones Bros. Contractors, LLC		\$20.0000	\$23,020.00
	Vulcan Construction Materials, LLC		\$20.8000	\$23,940.80
716-02 06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
710 02.00	TEACHOT AVENERY MARRING (TORK EARL ARROW)	125.000 EACH		
	Civil Constructors, LLC		\$225.0000	\$28,125.00
	Jones Bros. Contractors, LLC		\$200.0000	\$25,000.00
	Vulcan Construction Materials, LLC		\$208.0000	\$26,000.00
74.0.00.00	DI ACTIC DAVEMENT MADIZING (OII DOTTED LINE)			
/10-02.06	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)	4 954 000 L 5		
	Oid Occationations 11.0	4,854.000 L.F.	<b>#4.5000</b>	<b>#04.040.00</b>
	Civil Constructors, LLC		\$4.5000	\$21,843.00
	Jones Bros. Contractors, LLC		\$4.0000	\$19,416.00
	Vulcan Construction Materials, LLC		\$4.1500	\$20,144.10
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROS	SS-WALK)		
		2,269.000 L.F.		
	Civil Constructors, LLC		\$45.0000	\$102,105.00
	Jones Bros. Contractors, LLC		\$40.0000	\$90,760.00
	Vulcan Construction Materials, LLC		\$41.6000	\$94,390.40

Civil Constructors, LLC	\$844.0000	\$844.00
Jones Bros. Contractors, LLC	\$750.0000	\$750.00
Vulcan Construction Materials, LLC	\$781.0000	\$781.00
01 PAINTED PAVEMENT MARKING (4" LINE)		
19	9.000 L.M.	
Civil Constructors, LLC	\$2,480.0000	\$47,120.00
Jones Bros. Contractors, LLC	\$2,200.0000	\$41,800.00
Vulcan Construction Materials, LLC	\$2,290.0000	\$43,510.00

716-05.0

			CONTRACT CNAZO
		UNIT PRICE	EXTENSION
716-05.02 PAI	INTED PAVEMENT MARKING (8" BARRIER LINE)		
	29,558.00	0 L.F.	
	il Constructors, LLC	\$0.7500	\$22,168.50
	nes Bros. Contractors, LLC	\$0.6500	\$19,212.70
Vulc	can Construction Materials, LLC	\$0.6800	\$20,099.44
716-05.04 PAI	INTED PAVEMENT MARKING (CHANNELIZATION STRIPING)		
	779.00	0.S.Y	
Civi	il Constructors, LLC	\$11.3000	\$8,802.70
	nes Bros. Contractors, LLC	\$10.0000	\$7,790.00
	can Construction Materials, LLC	\$10.4000	\$8,101.60
		<b>\$</b> .0000	ψο, το που
716-05.05 PAI	NTED PAVEMENT MARKING (STOP LINE)		
	533.00	0 L.F.	
	il Constructors, LLC	\$11.3000	\$6,022.90
Jon	nes Bros. Contractors, LLC	\$10.0000	\$5,330.00
Vulo	can Construction Materials, LLC	\$10.4000	\$5,543.20
716-05.06 PAI	INTED PAVEMENT MARKING (TURN LANE ARROW)		
		0 EACH	
Civi	il Constructors, LLC	\$28.1000	\$3,034.80
	nes Bros. Contractors, LLC	\$25.000	\$2,700.00
	can Construction Materials, LLC	\$26.0000	\$2,808.00
van	our construction materials, 220	Ψ25.0000	Ψ2,000.00
716-05.21 PAI	NTED PAVEMENT MARKING(4"DOTTED LINE)		
	3,755.00	0 L.F.	
Civi	il Constructors, LLC	\$0.5700	\$2,140.35
Jon	nes Bros. Contractors, LLC	\$0.5000	\$1,877.50
Vulo	can Construction Materials, LLC	\$0.5200	\$1,952.60
716-12.02 ENF	HANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
		0 L.M.	
Civi	il Constructors, LLC	\$9,010.0000	\$168,487.00
Jon	nes Bros. Contractors, LLC	\$8,000.0000	\$149,600.00
Vulo	can Construction Materials, LLC	\$8,330.0000	\$155,771.00
716-12 05 FNF	HANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
710 12.00 2.11	1,820.00	O.L. F.	
Civi	il Constructors, LLC	\$4.5000	\$8,190.00
	nes Bros. Contractors, LLC	\$4.000	\$7,280.00
	can Construction Materials, LLC	\$4.000	\$7,553.00
vuid	can construction materials, LEC	ψ <del>τ</del> .1300	Ψ1,333.00
716-13.02 SPR	RAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		
	1.80	0 L.M.	
Civi	il Constructors, LLC	\$9,010.0000	\$16,218.00
Jon	nes Bros. Contractors, LLC	\$8,000.0000	\$14,400.00
Vul	can Construction Materials, LLC	\$8,330.0000	\$14,994.00

			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS	<b>.</b>	•
	Civil Constructors, LLC		\$3,655,160.0000	\$3,655,160.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$10,150,000.0000 \$3,047,000.0000	\$10,150,000.00 \$3,047,000.00
	vuican construction materials, LLC		\$5,047,000.0000	\$3,047,000.00
730-01.02	REMOVAL OF SIGNAL EQUIPMENT			
		5.000 EACH		
	Civil Constructors, LLC		\$6,400.0000	\$32,000.00
	Jones Bros. Contractors, LLC		\$5,685.0000	\$28,425.00
	Vulcan Construction Materials, LLC		\$5,920.0000	\$29,600.00
730-02.03	SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
		8.000 EACH		
	Civil Constructors, LLC		\$1,450.0000	\$11,600.00
	Jones Bros. Contractors, LLC		\$1,285.0000	\$10,280.00
	Vulcan Construction Materials, LLC		\$1,340.0000	\$10,720.00
730-02.08	SIGNAL HEAD ASSEMBLY (130 POLE MOUNTED)			
		5.000 EACH		
	Civil Constructors, LLC		\$1,360.0000	\$6,800.00
	Jones Bros. Contractors, LLC		\$1,210.0000	\$6,050.00
	Vulcan Construction Materials, LLC		\$1,260.0000	\$6,300.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		30.000 EACH		
	Civil Constructors, LLC		\$1,450.0000	\$43,500.00
	Jones Bros. Contractors, LLC		\$1,285.0000	\$38,550.00
	Vulcan Construction Materials, LLC		\$1,340.0000	\$40,200.00
730-02.11	SIGNAL HEAD ASSEMBLY (130 A2 WITH BACKPLATE)			
		4.000 EACH		
	Civil Constructors, LLC		\$1,350.0000	\$5,400.00
	Jones Bros. Contractors, LLC		\$1,200.0000	\$4,800.00
	Vulcan Construction Materials, LLC		\$1,250.0000	\$5,000.00
730-02.14	SIGNAL HEAD ASSEMBLY (140 A1 WITH BACKPLATE)			
		4.000 EACH		
	Civil Constructors, LLC		\$1,670.0000	\$6,680.00
	Jones Bros. Contractors, LLC		\$1,480.0000	\$5,920.00
	Vulcan Construction Materials, LLC		\$1,540.0000	\$6,160.00
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
		14.000 EACH		
	Civil Constructors, LLC		\$2,010.0000	\$28,140.00
	Jones Bros. Contractors, LLC		\$1,785.0000	\$24,990.00
	Vulcan Construction Materials, LLC		\$1,860.0000	\$26,040.00

		co	NTRACT CNX267
		UNIT PRICE	EXTENSION
730-03.21 INSTALL PULL BOX (TYPE B)			
	33.000 EACH		
Civil Constructors, LLC		\$1,360.0000	\$44,880.00
Jones Bros. Contractors, LLC		\$1,210.0000	\$39,930.00
Vulcan Construction Materials, LLC		\$1,260.0000	\$41,580.00
730-03.23 INSTALL PULL BOX (FIBER OPTIC-TYPE A)			
	22.000 EACH		
Civil Constructors, LLC		\$3,940.0000	\$86,680.00
Jones Bros. Contractors, LLC		\$3,500.0000	\$77,000.00
Vulcan Construction Materials, LLC		\$3,640.0000	\$80,080.00
730-03.24 INSTALL PULL BOX (FIBER OPTIC-TYPE B)			
	5.000 EACH		
Civil Constructors, LLC		\$4,990.0000	\$24,950.00
Jones Bros. Contractors, LLC		\$4,435.0000	\$22,175.00
Vulcan Construction Materials, LLC		\$4,620.0000	\$23,100.00
730-03.33 FIBER OPTIC SPLICE FUSION			
	5.000 EACH		
Civil Constructors, LLC		\$848.0000	\$4,240.00
Jones Bros. Contractors, LLC		\$753.0000	\$3,765.00
Vulcan Construction Materials, LLC		\$784.0000	\$3,920.00
730-03.35 FIBER OPTIC TERMINATION SPLICE UNIT			
	5.000 EACH		
Civil Constructors, LLC		\$1,130.0000	\$5,650.00
Jones Bros. Contractors, LLC		\$1,000.0000	\$5,000.00
Vulcan Construction Materials, LLC		\$1,040.0000	\$5,200.00
730-03.36 FIBER SPLICE ENCLOSURE (UNDERGROUND)			
	5.000 EACH		
Civil Constructors, LLC		\$1,230.0000	\$6,150.00
Jones Bros. Contractors, LLC		\$1,095.0000	\$5,475.00
Vulcan Construction Materials, LLC		\$1,140.0000	\$5,700.00
730-03.40 NETWORK SWITCH (TYPE A)			
	6.000 EACH		
Civil Constructors, LLC		\$9,020.0000	\$54,120.00
Jones Bros. Contractors, LLC		\$8,015.0000	\$48,090.00
Vulcan Construction Materials, LLC		\$8,340.0000	\$50,040.00
730-03.53 FIBER OPTIC CABLE (144 F)			
	13,700.000 L.F.		
Civil Constructors, LLC		\$2.7000	\$36,990.00
Jones Bros. Contractors, LLC		\$2.4000	\$32,880.00
Vulcan Construction Materials, LLC		\$2.5000	\$34,250.00

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
730-05.01 ELECTRICAL SERVICE CONNECTION	7.000 5.4.011		
Civil Constructors 11 C	7.000 EACH	<b>#2 400 0000</b>	<b>#22.000.00</b>
Civil Constructors, LLC  Jones Bros. Contractors, LLC		\$3,400.0000 \$3,020.0000	\$23,800.00 \$21,140.00
Vulcan Construction Materials, LLC		\$3,140.0000	\$21,980.00
730-08.02 SIGNAL CABLE - 5 CONDUCTOR			
	1,200.000 L.F.		
Civil Constructors, LLC	.,	\$2.0500	\$2,460.00
Jones Bros. Contractors, LLC		\$1.8000	\$2,160.00
Vulcan Construction Materials, LLC		\$1.8500	\$2,220.00
730-08.03 SIGNAL CABLE - 7 CONDUCTOR			
	6,000.000 L.F.		
Civil Constructors, LLC	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$2.6000	\$15,600.00
Jones Bros. Contractors, LLC		\$2.2000	\$13,200.00
Vulcan Construction Materials, LLC		\$2.3000	\$13,800.00
730-08.04 SIGNAL CABLE - 9 CONDUCTOR			
	3,675.000 L.F.		
Civil Constructors, LLC		\$3.0500	\$11,208.75
Jones Bros. Contractors, LLC		\$2.7000	\$9,922.50
Vulcan Construction Materials, LLC		\$2.8000	\$10,290.00
730-08.08 SIGNAL CABLE - 2 CONDUCTOR SHIELDED			
	5,600.000 L.F.		
Civil Constructors, LLC		\$1.2500	\$7,000.00
Jones Bros. Contractors, LLC		\$4.5900	\$25,704.00
Vulcan Construction Materials, LLC		\$1.1500	\$6,440.00
730-12.26 CONDUIT 2" DIAMETER (PVC SCHEDULE 80)			
	7,800.000 L.F.		
Civil Constructors, LLC		\$13.5000	\$105,300.00
Jones Bros. Contractors, LLC		\$12.0000	\$93,600.00
Vulcan Construction Materials, LLC		\$12.5000	\$97,500.00
730-12.27 CONDUIT 3" DIAMETER (PVC SCHEDULE 80)			
	10,700.000 L.F.		
Civil Constructors, LLC		\$18.0000	\$192,600.00
Jones Bros. Contractors, LLC		\$16.0000	\$171,200.00
Vulcan Construction Materials, LLC		\$16.7000	\$178,690.00
730-13.08 VEHICLE DETECTOR (RADAR - STOP LINE)			

Civil Constructors, LLC

Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC \$224,580.00

\$199,500.00

\$207,100.00

\$11,820.0000

\$10,500.0000

\$10,900.0000

730-23.28 PEDESTAL POLE (TYPE A)

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$19,670.00

\$17,500.00

\$18,200.00

\$2,810.0000

\$2,500,0000

\$2,600.0000

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
TOO OO OO DEDECTAL DOLE (TYPE D)			
730-23.29 PEDESTAL POLE (TYPE B)	1.000 EACH		
Civil Constructors, LLC	1.000 LACI1	\$3,340.0000	\$3,340.00
Jones Bros. Contractors, LLC		\$2,965.0000	\$2,965.00
Vulcan Construction Materials, LLC		\$3,090.0000	\$3,090.00
		*-,	, , , , , , , ,
730-23.56 CANTILEVER SIGNAL SUPPORT (1 ARM @ 25')			
	1.000 EACH		
Civil Constructors, LLC		\$33,660.0000	\$33,660.00
Jones Bros. Contractors, LLC		\$29,900.0000	\$29,900.00
Vulcan Construction Materials, LLC		\$31,100.0000	\$31,100.00
730-23.72 CANTILEVER SIGNAL SUPPORT (1 ARM @ 35')			
	2.000 EACH		
Civil Constructors, LLC		\$34,220.0000	\$68,440.00
Jones Bros. Contractors, LLC		\$30,400.0000	\$60,800.00
Vulcan Construction Materials, LLC		\$31,600.0000	\$63,200.00
730-23.80 CANTILEVER SIGNAL SUPPORT (1 ARM @ 40')			
700 20.00 GARRIELY ER GIORAL GOLL GREET GREET (1 ARRIN @ 40)	1.000 EACH		
Civil Constructors, LLC	1.000 EACH	\$34,390.0000	\$34,390.00
Jones Bros. Contractors, LLC		\$30,550.0000	\$30,550.00
Vulcan Construction Materials, LLC		\$31,800.0000	\$31,800.00
730-23.88 CANTILEVER SIGNAL SUPPORT (1 ARM @ 45')			
	2.000 EACH		
Civil Constructors, LLC		\$34,900.0000	\$69,800.00
Jones Bros. Contractors, LLC		\$31,000.0000	\$62,000.00
Vulcan Construction Materials, LLC		\$32,300.0000	\$64,600.00
730-25.01 CANTILEVER SIGNAL SUPPORT (1 ARM @ 50')			
	3.000 EACH		
Civil Constructors, LLC		\$36,190.0000	\$108,570.00
Jones Bros. Contractors, LLC		\$32,150.0000	\$96,450.00
Vulcan Construction Materials, LLC		\$33,500.0000	\$100,500.00
730-25.07 CANTILEVER SIGNAL SUPPORT (1 ARM @ 55')			
,	2.000 EACH		
Civil Constructors, LLC		\$41,820.0000	\$83,640.00
Jones Bros. Contractors, LLC		\$37,150.0000	\$74,300.00
Vulcan Construction Materials, LLC		\$38,700.0000	\$77,400.00
730-25.11 CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
, , ,	3.000 EACH		
Civil Constructors, LLC		\$41,870.0000	\$125,610.00
Jones Bros. Contractors, LLC		\$37,200.0000	\$111,600.00
Vulcan Construction Materials, LLC		\$38,700.0000	\$116,100.00
		. ,	, ,

				MINACI CNAZO
			UNIT PRICE	EXTENSION
730-25.13	CANTILEVER SIGNAL SUPPORT (1 ARM @ 65')			
	,	5.000 EACH		
	Civil Constructors, LLC	2.222	\$50,320.0000	\$251,600.00
	Jones Bros. Contractors, LLC		\$44,700.0000	\$223,500.00
	Vulcan Construction Materials, LLC		\$46,500.0000	\$232,500.00
730-25.14	CANTILEVER SIGNAL SUPPORT (1 ARM @ 70')			
		3.000 EACH		
	Civil Constructors, LLC		\$55,890.0000	\$167,670.00
	Jones Bros. Contractors, LLC		\$49,650.0000	\$148,950.00
	Vulcan Construction Materials, LLC		\$51,700.0000	\$155,100.00
730-25.15	CANTILEVER SIGNAL SUPPORT (1 ARM @ 75')			
		2.000 EACH		
	Civil Constructors, LLC		\$62,590.0000	\$125,180.00
	Jones Bros. Contractors, LLC		\$55,600.0000	\$111,200.00
	Vulcan Construction Materials, LLC		\$57,900.0000	\$115,800.00
730-26 11	COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSHBUTTON	I & 15IN SIGN		
730-20.11	COUNTDOWN FED 3GNL READ WAODIBLE FUSHBUTTON	36.000 EACH		
	Civil Constructors, LLC	30.000 EACH	\$1,220.0000	\$43,920.00
	Jones Bros. Contractors, LLC		\$1,085.0000	\$39,060.00
	Vulcan Construction Materials, LLC		\$1,130.0000	\$40,680.00
	Validati Constituction Materials, ELO		ψ1,100.0000	ψ+0,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		4.000 EACH		
	Civil Constructors, LLC		\$57,750.0000	\$231,000.00
	Jones Bros. Contractors, LLC		\$51,300.0000	\$205,200.00
	Vulcan Construction Materials, LLC		\$53,400.0000	\$213,600.00
730-50.31	SCHOOL SPEED LIMIT FLASHING ASSEMBLY (HARD-WIRE	ED)		
	•	4.000 EACH		
	Civil Constructors, LLC		\$2,330.0000	\$9,320.00
	Jones Bros. Contractors, LLC		\$2,070.0000	\$8,280.00
	Vulcan Construction Materials, LLC		\$2,150.0000	\$8,600.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	(	407.000 S.Y.		
	Civil Constructors, LLC		\$13.5000	\$5,494.50
	Jones Bros. Contractors, LLC		\$4.3500	\$1,770.45
	Vulcan Construction Materials, LLC		\$3.1000	\$1,261.70
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)	40,000,000,004		
	Obid Constructors II C	10,000.000 S.Y.	<b>#0.000</b>	Фоо осо ос
	Civil Constructors, LLC		\$3.8000	\$38,000.00
	Jones Bros. Contractors, LLC		\$3.3000 \$3.6500	\$33,000.00
	Vulcan Construction Materials, LLC		\$3.6500	\$36,500.00

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
740-11.01	TEMPORARY SEDIMENT TUBE 8IN			
		14,802.000 L.F.		
	Civil Constructors, LLC		\$2.9500	\$43,665.90
	Jones Bros. Contractors, LLC		\$4.2500	\$62,908.50
	Vulcan Construction Materials, LLC		\$3.9000	\$57,727.80
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	,	806.000 UNIT		
	Civil Constructors, LLC		\$84.5000	\$68,107.00
	Jones Bros. Contractors, LLC		\$52.0000	\$41,912.00
	Vulcan Construction Materials, LLC		\$47.9000	\$38,607.40
801-01.08	SEEDING (SPECIAL MIXTURE) WITH MULCH			
		158.000 UNIT		
	Civil Constructors, LLC		\$113.0000	\$17,854.00
	Jones Bros. Contractors, LLC		\$175.0000	\$27,650.00
	Vulcan Construction Materials, LLC		\$224.0000	\$35,392.00
801-01.65	TEMPORARY MULCH			
		113.000 UNIT		
	Civil Constructors, LLC		\$84.5000	\$9,548.50
	Jones Bros. Contractors, LLC		\$45.0000	\$5,085.00
	Vulcan Construction Materials, LLC		\$22.5000	\$2,542.50
801-03	WATER (SEEDING & SODDING)			
		798.000 M.G.		
	Civil Constructors, LLC		\$113.0000	\$90,174.00
	Jones Bros. Contractors, LLC		\$50.0000	\$39,900.00
	Vulcan Construction Materials, LLC		\$150.0000	\$119,700.00
802-02.30	CUTTINGS: SALIX NIGRA (18IN-24IN LENGTH)			
	, , ,	410.000 EACH		
	Civil Constructors, LLC		\$18.0000	\$7,380.00
	Jones Bros. Contractors, LLC		\$16.0000	\$6,560.00
	Vulcan Construction Materials, LLC		\$18.7000	\$7,667.00
802-02.31	CUTTINGS: SALIX SERICEA (18IN-24IN)	446 000 = 1 0		
	Obid Constructors II C	410.000 EACH	<b>#</b> 40.000	<b>#7</b> 000 00
	Civil Constructors, LLC		\$18.0000	\$7,380.00
	Jones Bros. Contractors, LLC		\$16.0000 \$18.7000	\$6,560.00 \$7,667.00
	Vulcan Construction Materials, LLC		\$18.7000	\$7,667.00
802-02.32	CUTTINGS: CORNUS AMOMUM (18IN-24IN)			

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$7,380.00 \$6,560.00

\$7,667.00

\$18.0000

\$16.0000

\$18.7000

		UNIT PRICE	EXTENSION
802-02.33 CUTTINGS: SAMBUCUS CANADENSIS (18IN-24IN)			
	410.000 EACH		
Civil Constructors, LLC		\$18.0000	\$7,380.00
Jones Bros. Contractors, LLC		\$16.0000	\$6,560.00
Vulcan Construction Materials, LLC		\$18.7000	\$7,667.00
802-03.01 SHRUBS (BOXWOOD)			
	8.000 EACH		
Civil Constructors, LLC		\$67.5000	\$540.00
Jones Bros. Contractors, LLC		\$425.0000	\$3,400.00
Vulcan Construction Materials, LLC		\$92.6000	\$740.80
802-12.07 BETULA NIGRA (RIVER BIRCH SEEDLNG B.R.)			
	229.000 EACH		
Civil Constructors, LLC		\$22.5000	\$5,152.50
Jones Bros. Contractors, LLC		\$25.0000	\$5,725.00
Vulcan Construction Materials, LLC		\$30.2000	\$6,915.80
802-12.11 CERCIS CANADENSIS (REDBUD SEEDLNG B.R.)			
	47.000 EACH		
Civil Constructors, LLC		\$22.5000	\$1,057.50
Jones Bros. Contractors, LLC		\$25.0000	\$1,175.00
Vulcan Construction Materials, LLC		\$30.2000	\$1,419.40
802-12.19 LIRIODENDRON TULIPIFERA (TULIP POPLAR SEEDLNG B.R.)			
	70.000 EACH		
Civil Constructors, LLC		\$22.5000	\$1,575.00
Jones Bros. Contractors, LLC		\$25.0000	\$1,750.00
Vulcan Construction Materials, LLC		\$30.2000	\$2,114.00
802-12.21 NYSSA SYLVATICA (BLCKGUM SEEDLNG B.R.)			
	70.000 EACH		
Civil Constructors, LLC		\$28.1000	\$1,967.00
Jones Bros. Contractors, LLC		\$25.0000	\$1,750.00
Vulcan Construction Materials, LLC		\$30.2000	\$2,114.00
802-12.22 OSTRYA VIRGINIANA (IRONWOOD SEEDLNG B.R.)			
	47.000 EACH		
Civil Constructors, LLC		\$28.1000	\$1,320.70
Jones Bros. Contractors, LLC		\$25.0000	\$1,175.00
Vulcan Construction Materials, LLC		\$34.3000	\$1,612.10
802-12.26 PLATANUS OCCIDENTALIS (SYCAMORE SEEDLNG B.R.)			
	229.000 EACH		
Civil Constructors, LLC		\$28.1000	\$6,434.90
Jones Bros. Contractors, LLC		\$25.0000	\$5,725.00
Vulcan Construction Materials, LLC		\$30.2000	\$6,915.80

			UNIT PRICE	EXTENSION
802-12.33	QUERCUS MICHAUXII (SWMP CHSTNT OAK SEEDLNG	B.R.)		
		229.000 EACH		
	Civil Constructors, LLC		\$28.1000	\$6,434.90
	Jones Bros. Contractors, LLC		\$25.0000	\$5,725.00
	Vulcan Construction Materials, LLC		\$27.1000	\$6,205.90
802-12.38	QUERCUS PHELLOS (WILLOW OAK SEEDLNG B.R.)			
		229.000 EACH		
	Civil Constructors, LLC		\$28.1000	\$6,434.90
	Jones Bros. Contractors, LLC		\$25.0000	\$5,725.00
	Vulcan Construction Materials, LLC		\$30.2000	\$6,915.80
802-12.51	CORNUS AMOMUM (SILKY DOGWOOD SEEDLING B.R.)			
		380.000 EACH		
	Civil Constructors, LLC		\$28.1000	\$10,678.00
	Jones Bros. Contractors, LLC		\$25.0000	\$9,500.00
	Vulcan Construction Materials, LLC		\$30.2000	\$11,476.00
802-13.53	CEPHALANTHUS OCCIDENTALIS (BUTTONBUSH SDLN	IG BARE ROOT)		
		380.000 EACH		
	Civil Constructors, LLC		\$28.1000	\$10,678.00
	Jones Bros. Contractors, LLC		\$25.0000	\$9,500.00
	Vulcan Construction Materials, LLC		\$28.1000	\$10,678.00
802-13.59	LINDERA BENZOIN (SPICEBUSH SDLNG BARE ROOT)			
		380.000 EACH		
	Civil Constructors, LLC		\$28.1000	\$10,678.00
	Jones Bros. Contractors, LLC		\$25.0000	\$9,500.00
	Vulcan Construction Materials, LLC		\$28.1000	\$10,678.00
803-01	SODDING (NEW SOD)			
		71,663.000 S.Y.		
	Civil Constructors, LLC		\$6.5000	\$465,809.50
	Jones Bros. Contractors, LLC		\$8.0000	\$573,304.00
	Vulcan Construction Materials, LLC		\$5.8500	\$419,228.55
805-12.08	700 GRAM COIR FIBER EROSION BLANKET			
		3,963.000 S.Y.		
	Civil Constructors, LLC		\$11.3000	\$44,781.90
	Jones Bros. Contractors, LLC		\$7.5000	\$29,722.50
	Vulcan Construction Materials, LLC		\$11.1000	\$43,989.30
806-02.03	PROJECT MOWING			
		12.000 CYCL		
	Civil Constructors, LLC		\$2,810.0000	\$33,720.00
	Jones Bros. Contractors, LLC		\$10,000.0000	\$120,000.00
	Vulcan Construction Materials, LLC		\$7,490.0000	\$89,880.00

			C	UNIKACI CNAZ67
			UNIT PRICE	EXTENSION
BOX BRI	DGE CATEGORY			
202-04.50	REMOVAL OF STRUCTURES (121' OF 4' X 4' BOX CULVER	RT, STA. 435+69)		
	`	1.000 LS		
	Civil Constructors, LLC		\$51,390.0000	\$51,390.00
	Jones Bros. Contractors, LLC		\$30,000.0000	\$30,000.00
	Vulcan Construction Materials, LLC		\$198,000.0000	\$198,000.00
202-04.51	REMOVAL OF STRUCTURES (66' OF 4' X 3' BOX CULVERT	Γ, STA. 466+60)		
		1.000 LS		
	Civil Constructors, LLC		\$25,860.0000	\$25,860.00
	Jones Bros. Contractors, LLC		\$25,000.0000	\$25,000.00
	Vulcan Construction Materials, LLC		\$198,000.0000	\$198,000.00
202-04.52	REMOVAL OF STRUCTURES (36' OF 2 @ 10' X 6' BOX CUL	_VERT, STA. 529+55)		
		1.000 LS		
	Civil Constructors, LLC		\$36,530.0000	\$36,530.00
	Jones Bros. Contractors, LLC		\$58,500.0000	\$58,500.00
	Vulcan Construction Materials, LLC		\$251,000.0000	\$251,000.00
202-04.53	REMOVAL OF STRUCTURES (74' OF 2 @ 8' X 6' BOX CULV	/ERT, STA. 532+94)		
		1.000 LS		
	Civil Constructors, LLC		\$70,050.0000	\$70,050.00
	Jones Bros. Contractors, LLC		\$73,500.0000	\$73,500.00
	Vulcan Construction Materials, LLC		\$243,000.0000	\$243,000.00
202-04.54	REMOVAL OF STRUCTURES (51' OF 10' SIDEWALK BRIDG	GE, STA. 533+14)		
		1.000 LS		
	Civil Constructors, LLC		\$8,630.0000	\$8,630.00
	Jones Bros. Contractors, LLC		\$39,500.0000	\$39,500.00
	Vulcan Construction Materials, LLC		\$61,100.0000	\$61,100.00
607-50.30	PRECAST CONCRETE BOX BRIDGE (28' X 7' ARCH)			
		134.000 L.F.		
	Civil Constructors, LLC		\$10,360.0000	\$1,388,240.00
	Jones Bros. Contractors, LLC		\$6,500.0000	\$871,000.00
	Vulcan Construction Materials, LLC		\$14,800.0000	\$1,983,200.00
607-50.31	PRECAST CONCRETE BOX BRIDGE (20' X 6' ARCH)			
		43.000 L.F.		
	Civil Constructors, LLC		\$10,000.0000	\$430,000.00
	Jones Bros. Contractors, LLC		\$7,100.0000	\$305,300.00
	Vulcan Construction Materials, LLC		\$12,200.0000	\$524,600.00

		00	TITING! CITALE!
UTILITY CATEGORY		UNIT PRICE	EXTENSION
790-02.03 POLE 35FT CLASS 4 WOOD			
100 02.00 1 022 001 1 02A00 4 1100B	7 000 54 011		
Oixil Constructors III O	7.000 EACH	<b>#0.000.000</b>	<b>#</b> 40.040.00
Civil Constructors, LLC Jones Bros. Contractors, LLC		\$2,830.0000 \$2,510.0000	\$19,810.00 \$17,570.00
Vulcan Construction Materials, LLC		\$2,610.0000	\$18,270.00
valuati Contaction materials, ==0		Ψ=,σ:σ:σσσσ	ψ.σ, <u>=</u> .σ.σσ
790-02.30 POLE 35FT CLASS 1 WOOD			
	1.000 EACH		
Civil Constructors, LLC		\$3,100.0000	\$3,100.00
Jones Bros. Contractors, LLC		\$2,750.0000	\$2,750.00
Vulcan Construction Materials, LLC		\$2,860.0000	\$2,860.00
790-03.03 POLE 40FT CLASS 4 WOOD			
	1.000 EACH		
Civil Constructors, LLC		\$3,850.0000	\$3,850.00
Jones Bros. Contractors, LLC		\$3,420.0000	\$3,420.00
Vulcan Construction Materials, LLC		\$3,560.0000	\$3,560.00
790-04.02 POLE 45FT CLASS 2 WOOD			
	4.000 EACH		
Civil Constructors, LLC		\$4,550.0000	\$18,200.00
Jones Bros. Contractors, LLC		\$4,040.0000	\$16,160.00
Vulcan Construction Materials, LLC		\$4,200.0000	\$16,800.00
790-05.01 POLE 50FT CLASS 1 WOOD			
700 00.01 7 022 001 7 02700 7 77000	8.000 EACH		
Civil Constructors, LLC	0.000 LACIT	\$5,360.0000	\$42,880.00
Jones Bros. Contractors, LLC		\$4,765.0000	\$38,120.00
Vulcan Construction Materials, LLC		\$4,960.0000	\$39,680.00
790-06.01 POLE 55FT CLASS 1 WOOD			
	4.000 EACH		
Civil Constructors, LLC		\$5,850.0000	\$23,400.00
Jones Bros. Contractors, LLC		\$5,200.0000	\$20,800.00
Vulcan Construction Materials, LLC		\$5,410.0000	\$21,640.00
790-06.05 POLE 55 FT CLASS 1 METAL			
	1.000 EACH		
Civil Constructors, LLC		\$13,530.0000	\$13,530.00
Jones Bros. Contractors, LLC		\$12,020.0000 \$13,500.0000	\$12,020.00 \$13,500.00
Vulcan Construction Materials, LLC		\$12,500.0000	\$12,500.00
790-06.07 POLE 55FT CLASS H1 METAL			
	7.000 EACH		
Civil Constructors, LLC	1.000 LACIT	\$14,290.0000	\$100,030.00
Jones Bros. Contractors, LLC		\$12,695.0000	\$88,865.00
Vulcan Construction Materials, LLC		\$13,200.0000	\$92,400.00
, <del>-</del>		. ,	. ,

		С	ONTRACT CNX267
		UNIT PRICE	EXTENSION
790-06.19 POLE 55FT CLASS H1 WOOD			
	1.000 EACH		
Civil Constructors, LLC		\$6,490.0000	\$6,490.00
Jones Bros. Contractors, LLC		\$5,765.0000	\$5,765.00
Vulcan Construction Materials, LLC		\$6,000.0000	\$6,000.00
790-07.01 POLE 60FT CLASS 1 WOOD			
	3.000 EACH		
Civil Constructors, LLC		\$7,760.0000	\$23,280.00
Jones Bros. Contractors, LLC		\$6,895.0000	\$20,685.00
Vulcan Construction Materials, LLC		\$7,180.0000	\$21,540.00
790-07.09 POLE 60FT CLASS H3 METAL			
	25.000 EACH		
Civil Constructors, LLC		\$18,820.0000	\$470,500.00
Jones Bros. Contractors, LLC		\$16,720.0000	\$418,000.00
Vulcan Construction Materials, LLC		\$17,400.0000	\$435,000.00
790-07.18 POLE 60FT CLASS H5 METAL			
	4.000 EACH		
Civil Constructors, LLC		\$20,440.0000	\$81,760.00
Jones Bros. Contractors, LLC  Vulcan Construction Materials, LLC		\$18,155.0000 \$18,900.0000	\$72,620.00 \$75,600.00
Vulcan Construction Materials, LLC		\$10,900.0000	φ73,000.00
790-08.05 POLE 65FT CLASS H3 METAL			
	23.000 EACH		
Civil Constructors, LLC		\$21,120.0000	\$485,760.00
Jones Bros. Contractors, LLC		\$18,765.0000	\$431,595.00
Vulcan Construction Materials, LLC		\$19,500.0000	\$448,500.00
790-08.31 POLE 65FT CLASS H5 METAL			
	11.000 EACH		
Civil Constructors, LLC		\$22,950.0000	\$252,450.00
Jones Bros. Contractors, LLC  Vulcan Construction Materials, LLC		\$20,385.0000 \$21,200.0000	\$224,235.00 \$233,200.00
Vulcan Construction Materials, LLC		φ21,200.0000	φ233,200.00
790-09.08 POLE 70FT CLASS H5 METAL			
	2.000 EACH		
Civil Constructors, LLC		\$26,330.0000	\$52,660.00
Jones Bros. Contractors, LLC  Vulcan Construction Materials, LLC		\$23,395.0000 \$24,300.0000	\$46,790.00 \$48,600.00
Vulcan Construction Materials, LLC		\$24,300.0000	\$ <del>4</del> 6,600.00
790-20.01 POLE(60FT CLASS H8 METAL)	= .		
0110	1.000 EACH	<b>#</b> 0= 000 5555	<b>*</b>
Civil Constructors, LLC		\$25,880.0000	\$25,880.00
Jones Bros. Contractors, LLC  Vulcan Construction Materials, LLC		\$22,995.0000 \$23,900.0000	\$22,995.00 \$23,900.00
vulcari Construction Materials, LLC		φ <b>∠</b> 3, <del>3</del> 00.0000	φ23,900.00

			MINACI CNAZO
		UNIT PRICE	EXTENSION
790-20.02 POLE(65FT CLASS H8 METAL)			
	1.000 EACH		
Civil Constructors, LLC		\$27,060.0000	\$27,060.00
Jones Bros. Contractors, LLC		\$24,040.0000	\$24,040.00
Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
790-22.01 1PH SGL PRIMARY SUPPORT 25KV			
	3.000 EACH		
Civil Constructors, LLC	3.000 EAGI1	\$608.0000	\$1,824.00
Jones Bros. Contractors, LLC		\$540.0000	\$1,620.00
Vulcan Construction Materials, LLC		\$562.0000	\$1,686.00
valsari construction materials, 220		Ψ002.0000	Ψ1,000.00
790-22.10 1PH SUSPENSION ANGLE 25KV			
	1.000 EACH		
Civil Constructors, LLC		\$878.0000	\$878.00
Jones Bros. Contractors, LLC		\$780.0000	\$780.00
Vulcan Construction Materials, LLC		\$812.0000	\$812.00
790-22.12 1PH DEAD END MISC 25KV			
	1.000 EACH		
Civil Constructors, LLC		\$878.0000	\$878.00
Jones Bros. Contractors, LLC		\$780.0000	\$780.00
Vulcan Construction Materials, LLC		\$812.0000	\$812.00
790-22.13 1PH DEAD END 25KV			
	3.000 EACH		
Civil Constructors, LLC	3.000 EAGI1	\$760.0000	\$2,280.00
Jones Bros. Contractors, LLC		\$675.0000	\$2,025.00
Vulcan Construction Materials, LLC		\$702.0000	\$2,106.00
,		ψ. σΞ.σσσ	Ψ=,.σσ.σσ
790-22.14 1PH DEAD END TAP 25KV			
	12.000 EACH		
Civil Constructors, LLC		\$878.0000	\$10,536.00
Jones Bros. Contractors, LLC		\$780.0000	\$9,360.00
Vulcan Construction Materials, LLC		\$812.0000	\$9,744.00
790-22.16 1PH DDE TANGENT 25KV			
	4.000 EACH		
Civil Constructors, LLC		\$1,260.0000	\$5,040.00
Jones Bros. Contractors, LLC		\$1,120.0000	\$4,480.00
Vulcan Construction Materials, LLC		\$1,170.0000	\$4,680.00
790-22.19 1PH CROSSARM DBL TANGENT 25KV			
	3.000 EACH		
Civil Constructors, LLC		\$2,760.0000	\$8,280.00
Jones Bros. Contractors, LLC		\$2,455.0000	\$7,365.00
Vulcan Construction Materials, LLC		\$2,550.0000	\$7,650.00

			CO	NTRACT CNX267
			UNIT PRICE	EXTENSION
790-26.01	3PH CROSSARM 25KV			
		1.000 EACH		
	Civil Constructors, LLC		\$2,120.0000	\$2,120.00
	Jones Bros. Contractors, LLC		\$1,880.0000	\$1,880.00
	Vulcan Construction Materials, LLC		\$1,960.0000	\$1,960.00
790-26.03	3PH CROSSARM SGL LRG COND 25KV			
		9.000 EACH		
	Civil Constructors, LLC		\$3,380.0000	\$30,420.00
	Jones Bros. Contractors, LLC		\$3,000.0000	\$27,000.00
	Vulcan Construction Materials, LLC		\$3,120.0000	\$28,080.00
790-26.10	3PH VERTICAL TANGENT 25KV			
		44.000 EACH		
	Civil Constructors, LLC		\$2,090.0000	\$91,960.00
	Jones Bros. Contractors, LLC		\$1,860.0000	\$81,840.00
	Vulcan Construction Materials, LLC		\$1,940.0000	\$85,360.00
790-26.14	3PH CROSSARM DBL 10FT SM ANGLE 25KV			
		3.000 EACH		
	Civil Constructors, LLC		\$4,130.0000	\$12,390.00
	Jones Bros. Contractors, LLC		\$3,670.0000	\$11,010.00
	Vulcan Construction Materials, LLC		\$3,820.0000	\$11,460.00
790-26.15	3PH XARM DBL 10FT LRG COND SM ANGLE 25KV			
		8.000 EACH		
	Civil Constructors, LLC		\$6,610.0000	\$52,880.00
	Jones Bros. Contractors, LLC		\$5,875.0000	\$47,000.00
	Vulcan Construction Materials, LLC		\$6,110.0000	\$48,880.00
790-26.17	3PH VERTICAL MED ANGLE 25KV			
		1.000 EACH		
	Civil Constructors, LLC		\$2,430.0000	\$2,430.00
	Jones Bros. Contractors, LLC		\$2,155.0000	\$2,155.00
	Vulcan Construction Materials, LLC		\$2,240.0000	\$2,240.00
790-26.20	3PH VERTICAL ANGLE LRG COND 25KV			
		9.000 EACH		
	Civil Constructors, LLC		\$5,430.0000	\$48,870.00
	Jones Bros. Contractors, LLC		\$4,820.0000	\$43,380.00
	Vulcan Construction Materials, LLC		\$5,020.0000	\$45,180.00
790-26.23	3PH VERTICAL DEAD END 25KV			
		14.000 EACH		
	Civil Constructors, LLC		\$2,960.0000	\$41,440.00
	Jones Bros. Contractors, LLC		\$2,630.0000	\$36,820.00
	Vulcan Construction Materials, LLC		\$2,740.0000	\$38,360.00

		c	CONTRACT CNX267
		UNIT PRICE	EXTENSION
790-26.26 3PH CROSSARM DEAD END 25KV			
	15.000 EACH		
Civil Constructors, LLC		\$4,290.0000	\$64,350.00
Jones Bros. Contractors, LLC		\$3,815.0000	\$57,225.00
Vulcan Construction Materials, LLC		\$3,970.0000	\$59,550.00
790-26.27 3PH CROSSARM DBL DDE 25KV			
	7.000 EACH		
Civil Constructors, LLC		\$8,520.0000	\$59,640.00
Jones Bros. Contractors, LLC		\$7,570.0000	\$52,990.00
Vulcan Construction Materials, LLC		\$7,880.0000	\$55,160.00
790-26.28 3PH DBL 10FT XARM DDE 25KV			
	4.000 EACH		
Civil Constructors, LLC		\$6,640.0000	\$26,560.00
Jones Bros. Contractors, LLC		\$5,900.0000	\$23,600.00
Vulcan Construction Materials, LLC		\$6,140.0000	\$24,560.00
790-26.29 3PH DDE UNBALANCED LOAD 25KV			
	2.000 EACH		
Civil Constructors, LLC		\$5,940.0000	\$11,880.00
Jones Bros. Contractors, LLC		\$5,280.0000	\$10,560.00
Vulcan Construction Materials, LLC		\$5,490.0000	\$10,980.00
790-30.06 SECONDARY CONDUCTOR 6 AL DUPLEX			
	1,797.000 L.F.		
Civil Constructors, LLC		\$4.9000	\$8,805.30
Jones Bros. Contractors, LLC		\$4.3500	\$7,816.95
Vulcan Construction Materials, LLC		\$4.5500	\$8,176.35
790-30.14 SECONDARY CONDUCTOR 1/0 AL TRIPLEX			
	209.000 L.F.	<b>.</b>	
Civil Constructors, LLC		\$10.8000	\$2,257.20
Jones Bros. Contractors, LLC  Vulcan Construction Materials, LLC		\$9.5600 \$9.9500	\$1,998.04 \$2,079.55
vuican construction iviaterials, ELC		φ9.9500	\$2,079.55
790-30.22 SECONDARY CONDUCTOR 1/0 AL QPLEX			
	242.000 L.F.	<b>.</b>	
Civil Constructors, LLC		\$13.8000 \$13.2000	\$3,339.60
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$12.2900 \$12.8000	\$2,974.18 \$3,097.60
vuican construction iviaterials, ELC		φ12.8000	\$3,097.00
790-31.02 SERVICE ASSEMBLY-POLE TYPE			
	11.000 EACH		
Civil Constructors, LLC		\$248.0000	\$2,728.00
Jones Bros. Contractors, LLC		\$220.0000	\$2,420.00
Vulcan Construction Materials, LLC		\$229.0000	\$2,519.00

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
790-31.11	SERVICE CONDUCTOR 2 AL TRIPLEX			
		1,537.000 L.F.		
	Civil Constructors, LLC	.,	\$9.4000	\$14,447.80
	Jones Bros. Contractors, LLC		\$8.3300	\$12,803.21
	Vulcan Construction Materials, LLC		\$8.6500	\$13,295.05
790-32.19	DN GUY HVY CONST - 1 PREFORM			
		72.000 EACH		
	Civil Constructors, LLC		\$743.0000	\$53,496.00
	Jones Bros. Contractors, LLC		\$660.0000	\$47,520.00
	Vulcan Construction Materials, LLC		\$687.0000	\$49,464.00
790-32.30	OVERHEAD GUY HEAVY CONSTRUCTION - PREFORM			
		2.000 EACH		
	Civil Constructors, LLC		\$1,290.0000	\$2,580.00
	Jones Bros. Contractors, LLC		\$1,150.0000	\$2,300.00
	Vulcan Construction Materials, LLC		\$1,200.0000	\$2,400.00
790-33.17	ROCK ANCHOR EXPANDING TYPE			
		19.000 EACH		
	Civil Constructors, LLC		\$1,550.0000	\$29,450.00
	Jones Bros. Contractors, LLC		\$1,375.0000	\$26,125.00
	Vulcan Construction Materials, LLC		\$1,430.0000	\$27,170.00
790-33.26	SCREW TYPE ANCHOR 28,000LB			
		19.000 EACH		
	Civil Constructors, LLC		\$1,890.0000	\$35,910.00
	Jones Bros. Contractors, LLC		\$1,675.0000	\$31,825.00
	Vulcan Construction Materials, LLC		\$1,740.0000	\$33,060.00
790-36.01	SWITCH-900A-UNDERSLUNG			
		18.000 EACH		
	Civil Constructors, LLC		\$3,300.0000	\$59,400.00
	Jones Bros. Contractors, LLC		\$2,930.0000	\$52,740.00
	Vulcan Construction Materials, LLC		\$3,050.0000	\$54,900.00
790-36.04	TRANSFER SERVICE			
		3.000 EACH		
	Civil Constructors, LLC		\$546.0000	\$1,638.00
	Jones Bros. Contractors, LLC		\$485.0000	\$1,455.00
	Vulcan Construction Materials, LLC		\$505.0000	\$1,515.00
790-36.06	TRANSFER LIGHT			
		8.000 EACH		
	0: 10		<b>#</b> 000 0000	00.004.00

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$6,664.00

\$5,920.00

\$6,160.00

\$833.0000

\$740.0000

\$770.0000

Table   Tabl				CONTRACT CNX267
Civil Constructors, LLC   \$2,50,0000   \$20,160,000   \$20,160,000   \$17,920,000   \$17,920,000   \$17,920,000   \$17,920,000   \$17,920,000   \$18,640,000   \$17,920,000   \$18,640,000   \$17,920,000   \$18,640,000   \$17,920,000   \$18,640,000   \$18			UNIT PRICE	EXTENSION
Civil Constructors, LLC   \$2,50,0000   \$20,160,000   \$20,160,000   \$17,920,000   \$17,920,000   \$17,920,000   \$17,920,000   \$17,920,000   \$18,640,000   \$17,920,000   \$18,640,000   \$17,920,000   \$18,640,000   \$17,920,000   \$18,640,000   \$18	790-36.15 TRANSFER FRAMING/ASSOCIATED APPARATUS			
Jones Bros. Contractors, LLC   \$2,300,000   \$17,920,00   \$18,640,000		8.000 EACH		
Vulcan Construction Materials, LLC   \$2,330,0000   \$18,640.00	Civil Constructors, LLC		\$2,520.0000	\$20,160.00
14,036,000 LF.   14,0	Jones Bros. Contractors, LLC		\$2,240.0000	\$17,920.00
14,036.000 L.F.   \$4,2000   \$58,951.20   \$3.7300   \$52,364.28   \$3.7300   \$52,364.28   \$3.7300   \$52,364.28   \$3.7300   \$52,364.28   \$3.7300   \$52,364.28   \$3.740.40   \$3.7	Vulcan Construction Materials, LLC		\$2,330.0000	\$18,640.00
Civil Constructors, LLC   \$82,000   \$88,812.0   \$92,384.28   \$92,000   \$93,4740.40   \$93,900   \$93,900   \$93	790-40.02 OH COND 2 7/1 ACSR SPARATE			
Jones Bros. Contractors, LLC   \$3,7300   \$52,354.28   Vulcan Construction Materials, LLC   \$3,900   \$54,740.40   \$54,740		14,036.000 L.F.		
Vulcan Construction Materials, LLC   \$3,9000   \$54,740,40	Civil Constructors, LLC		\$4.2000	\$58,951.20
790-40.06 OH COND 4/0 6// ACSR PENGUIN  239.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Constructor Materials, LLC  790-40.15 OH COND 477 18/1 ACSR PELICAN  14,703.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Constructor Materials, LLC  790-40.15 OH COND 477 18/1 ACSR PELICAN  14,703.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-40.23 OH COND 795 38/1 ACSR COOT  41,958.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Jones Bros. Contractors, LLC Jones Bros. Contractors, LLC Jones Bros. Contractors, LLC Stable St	Jones Bros. Contractors, LLC		\$3.7300	\$52,354.28
Civil Constructors, LLC	Vulcan Construction Materials, LLC		\$3.9000	\$54,740.40
Civil Constructors, LLC	790-40.06 OH COND 4/0 6/1 ACSR PENGUIN			
Jones Bros. Contractors, LLC   \$5.2800   \$1,261,92   Vulcan Construction Materials, LLC   \$5.5000   \$1,314.50   \$1,315.50		239.000 L.F.		
Vulcan Construction Materials, LLC   \$5.5000   \$1,314.50	Civil Constructors, LLC		\$5.9000	\$1,410.10
790-40.15 OH COND 477 18/1 ACSR PELICAN  14,703.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC 41,958.000 L.F.  Civil Constructors, LLC 38.0800 \$118,800.24 Vulcan Construction Materials, LLC  790-40.23 OH COND 795 36/1 ACSR COOT  41,958.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  1513.6000 \$570,628.80 Vulcan Construction Materials, LLC  790-41.12 UG PRI COND 1 AL 25KV  2,139.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Si 15.8000 \$38,074.20 Vulcan Construction Materials, LLC  151.8000 \$38,074.20 Vulcan Construction Materials, LLC  790-41.58 UG SEC COND 4/0 AL QPLX  51.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Si 22.0700 \$1,125.57 Vulcan Construction Materials, LLC  152.000 L.F.  Civil Constructors Materials, LLC Si 22.0700 \$1,125.57 Vulcan Construction Materials, LLC Si 22.0700 \$1,173.00  790-41.64 UG SEC COND SGL COND  790-41.65 UG SEC COND SGL COND  790-41.66 UG SEC COND SGL COND  790-41.67 UG SEC COND SGL COND  790-41.68 UG SEC COND SGL COND  790-41.69 UG SEC COND SGL COND  790-41.69 UG SEC COND SGL COND  790-41.60 S25.1000 \$13,353.20 Jones Bros. Contractors, LLC Si 25.1000 \$13,353.20 Jones Bros. Contractors, LLC Si 25.1000 \$11,842.32	Jones Bros. Contractors, LLC		\$5.2800	\$1,261.92
14,703.000 L.F.   Sp. 1000   \$133,797.30   \$133,797.30   \$133,797.30   \$133,797.30   \$133,797.30   \$133,797.30   \$133,797.30   \$133,797.30   \$133,600. \$118,800.24   \$123,505.20   \$12	Vulcan Construction Materials, LLC		\$5.5000	\$1,314.50
Civil Constructors, LLC   \$9.1000   \$133,797.30   30   30   30   30   30   30   30	790-40.15 OH COND 477 18/1 ACSR PELICAN			
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC \$8.000 \$118,800.24 Vulcan Construction Materials, LLC \$8.4000 \$123,505.20  790-40.23 OH COND 795 36/1 ACSR COOT  41,958.000 L.F.  Civil Constructors, LLC \$13.6000 \$570,628.80 \$12.0700 \$506,433.06 Vulcan Construction Materials, LLC \$17.8000 \$528,670.80  790-41.12 UG PRI COND 1 AL 25KV  2,139.000 L.F.  Civil Constructors, LLC \$17.8000 \$33,838.98 Vulcan Construction Materials, LLC \$15.8200 \$33,838.98 Vulcan Construction Materials, LLC \$16.5000 \$35,293.50 \$16.5000 \$35,293.50 \$10.000 L.F.  Civil Constructors, LLC \$24.8000 \$1,1264.80 \$10.000 \$1,125.57 Vulcan Construction Materials, LLC \$23.0000 \$1,173.00 \$10.000 L.F.  Civil Constructors, LLC \$23.0000 \$1,173.00 \$10.000 L.F. \$25.1000 \$1,173.00 \$10.000 L.F. \$25.000 \$1,173.00 \$10.000 L.F. \$10.		14,703.000 L.F.		
Vulcan Construction Materials, LLC	Civil Constructors, LLC		\$9.1000	\$133,797.30
790-40.23 OH COND 795 36/1 ACSR COOT  41,958.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  2,139.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-41.12 UG PRI COND 1 AL 25KV  2,139.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-41.58 UG SEC COND 4/0 AL QPLX  51.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Some Bros. Contractors, LLC Vulcan Construction Materials, LLC  51.000 L.F.  Civil Constructors, LLC Some Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-41.64 UG SEC COND SGL COND  790-41.65 UG SEC COND SGL COND  790-41.66 UG SEC COND SGL COND  790-41.67 S32.000 L.F.  Civil Constructors, LLC Some Bros. Contractors, LLC	Jones Bros. Contractors, LLC		\$8.0800	\$118,800.24
A1,958.000 L.F.   S13.6000   \$570,628.80   Jones Bros. Contractors, LLC   \$13.6000   \$570,628.80   Jones Bros. Contractors, LLC   \$12.0700   \$506,433.06   Vulcan Construction Materials, LLC   \$12.6000   \$528,670.80   \$790-41.12   UG PRI COND 1 AL 25KV	Vulcan Construction Materials, LLC		\$8.4000	\$123,505.20
Civil Constructors, LLC   \$13.6000   \$570,628.80   \$12.0700   \$506,433.06   \$12.0700   \$506,433.06   \$12.0700   \$506,433.06   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000   \$528,670.80   \$12.6000	790-40.23 OH COND 795 36/1 ACSR COOT			
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-41.12 UG PRI COND 1 AL 25KV  2,139.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  Formula Signature Signa		41,958.000 L.F.		
Vulcan Construction Materials, LLC       \$12.6000       \$528,670.80         790-41.12 UG PRI COND 1 AL 25KV         2,139.000 L.F.         Civil Constructors, LLC       \$17.8000       \$38,074.20         Jones Bros. Contractors, LLC       \$15.8200       \$33,838.98         Vulcan Construction Materials, LLC       \$16.5000       \$35,293.50         790-41.58 UG SEC COND 4/0 AL QPLX         51.000 L.F.         Civil Constructors, LLC       \$24.8000       \$1,264.80         Jones Bros. Contractors, LLC       \$22.0700       \$1,125.57         Vulcan Construction Materials, LLC       \$23.0000       \$1,173.00         790-41.64 UG SEC COND SGL COND         532.000 L.F.         Civil Constructors, LLC       \$25.1000       \$13,353.20         Jones Bros. Contractors, LLC       \$22.2600       \$11,842.32	Civil Constructors, LLC		\$13.6000	\$570,628.80
790-41.12 UG PRI COND 1 AL 25KV  2,139.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-41.58 UG SEC COND 4/0 AL QPLX  51.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Size Conductors, LLC S	Jones Bros. Contractors, LLC		\$12.0700	\$506,433.06
2,139.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  51.000 L.F.  Civil Constructors, LLC  51.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC  51.000 L.F.  Civil Constructors, LLC S24.8000 \$1,264.80 \$1,125.57 Vulcan Construction Materials, LLC  532.000 L.F.  Civil Constructors, LLC \$23.0000 \$1,173.00  790-41.64 UG SEC COND SGL COND  532.000 L.F.  Civil Constructors, LLC \$25.1000 \$13,353.20 Jones Bros. Contractors, LLC \$25.1000 \$11,842.32	Vulcan Construction Materials, LLC		\$12.6000	\$528,670.80
Civil Constructors, LLC	790-41.12 UG PRI COND 1 AL 25KV			
Jones Bros. Contractors, LLC		2,139.000 L.F.		
Vulcan Construction Materials, LLC       \$16.5000       \$35,293.50         790-41.58       UG SEC COND 4/0 AL QPLX         51.000 L.F.         Civil Constructors, LLC       \$24.8000       \$1,264.80         Jones Bros. Contractors, LLC       \$22.0700       \$1,125.57         Vulcan Construction Materials, LLC       \$23.0000       \$1,173.00         790-41.64       UG SEC COND SGL COND          532.000 L.F.         Civil Constructors, LLC       \$25.1000       \$13,353.20         Jones Bros. Contractors, LLC       \$22.2600       \$11,842.32	Civil Constructors, LLC		\$17.8000	\$38,074.20
790-41.58 UG SEC COND 4/0 AL QPLX  51.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC  790-41.64 UG SEC COND SGL COND  Civil Constructors, LLC S22.0700 \$1,125.57 \$23.0000 \$1,173.00  532.000 L.F.  Civil Constructors, LLC Jones Bros. Contractors, LLC \$25.1000 \$13,353.20 \$11,842.32	Jones Bros. Contractors, LLC		\$15.8200	\$33,838.98
51.000 L.F.         Civil Constructors, LLC       \$24.8000       \$1,264.80         Jones Bros. Contractors, LLC       \$22.0700       \$1,125.57         Vulcan Construction Materials, LLC       \$23.0000       \$1,173.00         790-41.64 UG SEC COND SGL COND         532.000 L.F.         Civil Constructors, LLC       \$25.1000       \$13,353.20         Jones Bros. Contractors, LLC       \$22.2600       \$11,842.32	Vulcan Construction Materials, LLC		\$16.5000	\$35,293.50
Civil Constructors, LLC \$24.8000 \$1,264.80 Jones Bros. Contractors, LLC \$22.0700 \$1,125.57 Vulcan Construction Materials, LLC \$23.0000 \$1,173.00  790-41.64 UG SEC COND SGL COND  532.000 L.F.  Civil Constructors, LLC \$25.1000 \$13,353.20 Jones Bros. Contractors, LLC \$22.2600 \$11,842.32	790-41.58 UG SEC COND 4/0 AL QPLX			
Jones Bros. Contractors, LLC		51.000 L.F.		
Vulcan Construction Materials, LLC       \$23.0000       \$1,173.00         790-41.64 UG SEC COND SGL COND         532.000 L.F.         Civil Constructors, LLC       \$25.1000       \$13,353.20         Jones Bros. Contractors, LLC       \$22.2600       \$11,842.32	Civil Constructors, LLC		\$24.8000	\$1,264.80
790-41.64 UG SEC COND SGL COND  532.000 L.F.  Civil Constructors, LLC \$25.1000 \$13,353.20 Jones Bros. Contractors, LLC \$22.2600 \$11,842.32	Jones Bros. Contractors, LLC		\$22.0700	\$1,125.57
532.000 L.F.         Civil Constructors, LLC       \$25.1000       \$13,353.20         Jones Bros. Contractors, LLC       \$22.2600       \$11,842.32	Vulcan Construction Materials, LLC		\$23.0000	\$1,173.00
Civil Constructors, LLC       \$25.1000       \$13,353.20         Jones Bros. Contractors, LLC       \$22.2600       \$11,842.32	790-41.64 UG SEC COND SGL COND			
Jones Bros. Contractors, LLC \$22.2600 \$11,842.32		532.000 L.F.		
	Civil Constructors, LLC		\$25.1000	\$13,353.20
Vulcan Construction Materials, LLC \$23.2000 \$12,342.40			·	
	Vulcan Construction Materials, LLC		\$23.2000	\$12,342.40

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
790-42.10 4IN DIA PVC PIPE			
	127.000 L.F.		
Civil Constructors, LLC		\$18.2000	\$2,311.40
Jones Bros. Contractors, LLC		\$16.1200	\$2,047.24
Vulcan Construction Materials, LLC		\$16.8000	\$2,133.60
790-42.16 1 DUCT @ 36IN-48IN DEPTH			
	331.000 L.F.		
Civil Constructors, LLC		\$463.0000	\$153,253.00
Jones Bros. Contractors, LLC		\$411.0300	\$136,050.93
Vulcan Construction Materials, LLC		\$428.0000	\$141,668.00
790-42.18 3 DUCT BANK @ 36IN-48IN DEPTH			
	102.000 L.F.		
Civil Constructors, LLC		\$705.0000	\$71,910.00
Jones Bros. Contractors, LLC		\$626.2700	\$63,879.54
Vulcan Construction Materials, LLC		\$652.0000	\$66,504.00
790-42.38 CONDUIT (2 1/2IN PVC)			
,	306.000 L.F.		
Civil Constructors, LLC		\$15.6000	\$4,773.60
Jones Bros. Contractors, LLC		\$13.8400	\$4,235.04
Vulcan Construction Materials, LLC		\$14.4000	\$4,406.40
790-43.17 LOADBREAK ELBOW 200A 25KV			
	16.000 EACH		
Civil Constructors, LLC		\$1,180.0000	\$18,880.00
Jones Bros. Contractors, LLC		\$1,050.0000	\$16,800.00
Vulcan Construction Materials, LLC		\$1,090.0000	\$17,440.00
790-43.47 PRIMARY PULLBOX			
	1.000 EACH		
Civil Constructors, LLC		\$4,840.0000	\$4,840.00
Jones Bros. Contractors, LLC		\$4,300.0000	\$4,300.00
Vulcan Construction Materials, LLC		\$4,470.0000	\$4,470.00
790-43.51 SECONDARY RISER W/ 3IN CONDUIT			
	4.000 EACH		
Civil Constructors, LLC		\$2,620.0000	\$10,480.00
Jones Bros. Contractors, LLC		\$2,330.0000	\$9,320.00
Vulcan Construction Materials, LLC		\$2,420.0000	\$9,680.00
790-43.52 SECONDARY RISER W/ 4IN CONDUIT			
	1.000 EACH		
Civil Constructors, LLC		\$2,980.0000	\$2,980.00
Jones Bros. Contractors, LLC		\$2,645.0000	\$2,645.00
Vulcan Construction Materials, LLC		\$2,750.0000	\$2,750.00

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
790-43.53 1PH PRIMARY RISER W/ 3IN CONDUIT			
	1.000 EACH		
Civil Constructors, LLC		\$3,790.0000	\$3,790.00
Jones Bros. Contractors, LLC		\$3,370.0000	\$3,370.00
Vulcan Construction Materials, LLC		\$3,510.0000	\$3,510.00
790-43.62 3PH PRIMARY RISER W/ 4IN CONDUIT			
	4.000 EACH		
Civil Constructors, LLC		\$9,720.0000	\$38,880.00
Jones Bros. Contractors, LLC		\$8,635.0000	\$34,540.00
Vulcan Construction Materials, LLC		\$8,990.0000	\$35,960.00
790-46.02 1PH TRANSFORMER CONV W/POLE MTD FUSE & LA			
	14.000 EACH		
Civil Constructors, LLC		\$2,890.0000	\$40,460.00
Jones Bros. Contractors, LLC		\$2,565.0000	\$35,910.00
Vulcan Construction Materials, LLC		\$2,670.0000	\$37,380.00
790-49.02 3PH XFMR BNK POLE MTD W/ FUSE/ARRESTERS			
	7.000 EACH		
Civil Constructors, LLC		\$11,990.0000	\$83,930.00
Jones Bros. Contractors, LLC		\$10,650.0000	\$74,550.00
Vulcan Construction Materials, LLC		\$11,100.0000	\$77,700.00
790-59.04 HOOK STICK SWITH LINE TENSION-SNGL 25KV			
	9.000 EACH		
Civil Constructors, LLC		\$4,650.0000	\$41,850.00
Jones Bros. Contractors, LLC		\$4,130.0000	\$37,170.00
Vulcan Construction Materials, LLC		\$4,300.0000	\$38,700.00
790-59.05 GOLB SWITCH 25KV			
	1.000 EACH		
Civil Constructors, LLC		\$40,070.0000	\$40,070.00
Jones Bros. Contractors, LLC		\$35,600.0000	\$35,600.00
Vulcan Construction Materials, LLC		\$37,000.0000	\$37,000.00
790-61.01 1PH FUSE CUTOUT XARM MOUNT 25KV			
	58.000 EACH		
Civil Constructors, LLC		\$872.0000	\$50,576.00
Jones Bros. Contractors, LLC		\$775.0000	\$44,950.00
Vulcan Construction Materials, LLC		\$807.0000	\$46,806.00
790-65.05 LIGHTNING ARRESTER ARM MTD 18 KV			
	12.000 EACH		
Civil Constructors, LLC		\$411.0000	\$4,932.00
Jones Bros. Contractors, LLC		\$365.0000	\$4,380.00
Vulcan Construction Materials, LLC		\$380.0000	\$4,560.00

				CONTRACT CNX267
			LINIT DDICE	EXTENSION
			UNIT PRICE	EXTENSION
700 60 40	MISCELLANEOUS ASSEMBLIES			
790-66.10	MISCELLANEOUS ASSEMBLIES	0.000 54 011		
	0.10	6.000 EACH	<b>44</b> 000 000	40.000.00
	Civil Constructors, LLC		\$1,000.0000	\$6,000.00
	Jones Bros. Contractors, LLC		\$890.0000	\$5,340.00
	Vulcan Construction Materials, LLC		\$926.0000	\$5,556.00
790-68.13	SGL PHASE MOUNTING BRACKET - FIBERGLASS			
		2.000 EACH		
	Civil Constructors, LLC		\$439.0000	\$878.00
	Jones Bros. Contractors, LLC		\$390.0000	\$780.00
	Vulcan Construction Materials, LLC		\$406.0000	\$812.00
	,		·	·
790-68.14	3 MOUNTING BRACKET - FIBERGLASS			
		7.000 EACH		
	Civil Constructors, LLC	7.000 EAG.1	\$1,630.0000	\$11,410.00
	Jones Bros. Contractors, LLC		\$1,445.0000	\$10,115.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$10,500.00
			**,	****
790-69.27	EXTENSION LINK - EPOXY -4FT			
		13.000 EACH		
	Civil Constructors, LLC	10.000 EAGI1	\$208.0000	\$2,704.00
	Jones Bros. Contractors, LLC		\$185.0000	\$2,405.00
	Vulcan Construction Materials, LLC		\$193.0000	\$2,509.00
	Tulball Continuonality LEC		ψ.00.000	Ψ2,000.00
790-69.42	EXTENSION LINK - EPOXY -10FT			
		60.000 EACH		
	Civil Constructors, LLC	00.000 E/(011	\$236.0000	\$14,160.00
	Jones Bros. Contractors, LLC		\$210.0000	\$12,600.00
	Vulcan Construction Materials, LLC		\$219.0000	\$13,140.00
	Tulball Continuonality LEC		Ψ210.0000	Ψ10,110.00
790-98.01	REMOVE WIRE			
		27,716.000 L.F.		
	Civil Constructors, LLC	,	\$5.7000	\$157,981.20
	Jones Bros. Contractors, LLC		\$5.0600	\$140,242.96
	Vulcan Construction Materials, LLC		\$5.2500	\$145,509.00
			<del>,</del>	ţ,======
790-98.02	REMOVE POLES			

	Jones Bros. Contractors, LLC		\$890.0000	\$5,340.00
	Vulcan Construction Materials, LLC		\$926.0000	\$5,556.00
790-68.13	SGL PHASE MOUNTING BRACKET - FIBERGLASS			
		2.000 EACH		
	Civil Constructors, LLC		\$439.0000	\$878.00
	Jones Bros. Contractors, LLC		\$390.0000	\$780.00
	Vulcan Construction Materials, LLC		\$406.0000	\$812.00
790-68.14	3 MOUNTING BRACKET - FIBERGLASS			
		7.000 EACH		
	Civil Constructors, LLC	1.000 E/(011	\$1,630.0000	\$11,410.00
	Jones Bros. Contractors, LLC		\$1,445.0000	\$10,115.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$10,500.00
	, alsain Collettasion materials, <b>22</b> 0		ψ.,σσσ.σσσσ	Ψ.0,000.00
790-69.27	EXTENSION LINK - EPOXY -4FT			
.00 00.2.		13.000 EACH		
	Civil Constructors 11 C	13.000 EACH	<b>#200</b> 0000	<b>#0.704.00</b>
	Civil Constructors, LLC		\$208.0000	\$2,704.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$185.0000 \$193.0000	\$2,405.00 \$2,509.00
	vulcan Construction Materials, LLC		\$193.0000	φ2,509.00
700 60 42	EXTENSION LINK - EPOXY -10FT			
790-09.42	EXTENSION LINK - LFOXT -10FT			
	0: 110	60.000 EACH	<b>#</b>	<b>A</b> 4440000
	Civil Constructors, LLC		\$236.0000	\$14,160.00
	Jones Bros. Contractors, LLC		\$210.0000	\$12,600.00
	Vulcan Construction Materials, LLC		\$219.0000	\$13,140.00
700 00 04	DEMOVE WIDE			
790-98.01	REMOVE WIRE			
		27,716.000 L.F.		
	Civil Constructors, LLC		\$5.7000	\$157,981.20
	Jones Bros. Contractors, LLC		\$5.0600	\$140,242.96
	Vulcan Construction Materials, LLC		\$5.2500	\$145,509.00
790-98.02	REMOVE POLES			
		107.000 EACH		
	Civil Constructors, LLC		\$1,370.0000	\$146,590.00
	Jones Bros. Contractors, LLC		\$1,215.0000	\$130,005.00
	Vulcan Construction Materials, LLC		\$1,260.0000	\$134,820.00
790-98.03	REMOVE FRAMING/ASSOCIATED APPARATUS			
		556.000 EACH		
	Civil Constructors, LLC		\$710.0000	\$394,760.00
	Jones Bros. Contractors, LLC		\$605.0000	\$336,380.00
	Vulcan Construction Materials, LLC		\$630.0000	\$350,280.00

				CONTRACT CNX267
			UNIT PRICE	EXTENSION
790-98.20	FREE AND BRUSH REMOVAL OFF ROW	4 000 1 0		
		1.000 LS		
	Civil Constructors, LLC		\$310,690.0000	\$310,690.00
	Jones Bros. Contractors, LLC		\$276,010.0000	\$276,010.00
\	/ulcan Construction Materials, LLC		\$287,000.0000	\$287,000.00
791-01.02	ZIN STEEL GAS MAIN			
		1,250.000 L.F.		
(	Civil Constructors, LLC		\$194.0000	\$242,500.00
	Jones Bros. Contractors, LLC		\$68.0000	\$85,000.00
\	/ulcan Construction Materials, LLC		\$146.0000	\$182,500.00
791-01 04 /	IIN STEEL GAS MAIN			
791-01.04	IN STELL GAS MAIN	1,050.000 L.F.		
(	Civil Constructors, LLC	.,	\$248.0000	\$260,400.00
	Jones Bros. Contractors, LLC		\$86.0000	\$90,300.00
	/ulcan Construction Materials, LLC		\$239.0000	\$250,950.00
`	Validati Gotistraction Materials, EEG		Ψ203.0000	Ψ200,930.00
791-01.05	SIN STEEL GAS MAIN			
		12,000.000 L.F.		
(	Civil Constructors, LLC		\$325.0000	\$3,900,000.00
	Jones Bros. Contractors, LLC		\$240.0000	\$2,880,000.00
\	/ulcan Construction Materials, LLC		\$250.0000	\$3,000,000.00
791-02 02 3	ZIN MDPE GAS MAIN			
751-02.02	IN MOLE GAO MAIN	75 000 L F		
_	21.11.0	75.000 L.F.	<b>*</b>	<b>#7 500 00</b>
	Civil Constructors, LLC		\$100.0000	\$7,500.00
	Jones Bros. Contractors, LLC		\$140.0000	\$10,500.00
\	/ulcan Construction Materials, LLC		\$70.8000	\$5,310.00
791-02.04	IIN MDPE GAS MAIN			
		400.000 L.F.		
(	Civil Constructors, LLC		\$124.0000	\$49,600.00
	Jones Bros. Contractors, LLC		\$230.0000	\$92,000.00
	/ulcan Construction Materials, LLC		\$89.5000	\$35,800.00
·	valouri Corioliacioni Materiale, 220		φου.σσσσ	ψου,σου.σο
791-04.29 H	HDD 2IN STEEL PIPE - ROCK			
		400.000 L.F.		
	Civil Constructors, LLC		\$304.0000	\$121,600.00
	Jones Bros. Contractors, LLC		\$165.0000	\$66,000.00
\	/ulcan Construction Materials, LLC		\$172.0000	\$68,800.00
791-04.32 H	HDD 6IN STEEL PIPE - ROCK			
		1,600.000 L.F.		
(	Civil Constructors, LLC		\$349.0000	\$558,400.00
	Jones Bros. Contractors, LLC		\$285.0000	\$456,000.00
	/ulcan Construction Materials, LLC		\$297.0000	\$475,200.00
	·		•	•

		C.	SINTRACT CINAZOT
		UNIT PRICE	EXTENSION
791-05.44 BORE/JACK 6IN - STEEL CARRIER PIPE			
	113.000 L.F.		
Civil Constructors, LLC	113.000 L.1 .	\$326.0000	\$36,838.00
Jones Bros. Contractors, LLC		\$550.0000	\$62,150.00
Vulcan Construction Materials, LLC		\$572.0000	\$64,636.00
Vulcan Construction Materials, LLC		φ372.0000	φ0 <del>4</del> ,030.00
791-06.02 CONNECT TO 2IN EX. PE MAIN			
791-06.02 CONNECT TO ZIN EX. PE MAIN			
	2.000 EACH		
Civil Constructors, LLC		\$2,910.0000	\$5,820.00
Jones Bros. Contractors, LLC		\$1,550.0000	\$3,100.00
Vulcan Construction Materials, LLC		\$1,610.0000	\$3,220.00
791-06.03 CONNECT TO 4IN EX. PE MAIN			
	4.000 EACH		
Civil Constructors, LLC		\$3,880.0000	\$15,520.00
Jones Bros. Contractors, LLC		\$1,850.0000	\$7,400.00
Vulcan Construction Materials, LLC		\$1,930.0000	\$7,720.00
791-06.31 CONNECT TO 2IN EX. STL MAIN W/ STOPPLE			
	9.000 EACH		
Civil Constructors 11 C	9.000 EACH	¢40,400,0000	<b>\$440.440.00</b>
Civil Constructors, LLC		\$12,490.0000	\$112,410.00
Jones Bros. Contractors, LLC		\$11,200.0000	\$100,800.00 \$105,300.00
Vulcan Construction Materials, LLC		\$11,700.0000	\$105,300.00
791-06.32 CONNECT TO 4IN EX. STL MAIN W/ STOPPLE			
	8.000 EACH		
Civil Constructors, LLC		\$30,520.0000	\$244,160.00
Jones Bros. Contractors, LLC		\$18,800.0000	\$150,400.00
Vulcan Construction Materials, LLC		\$19,600.0000	\$156,800.00
791-07.01 2IN PE GAS VALVE ASSEMBLY			
	1.000 EACH		
Civil Constructors, LLC		\$3,050.0000	\$3,050.00
Jones Bros. Contractors, LLC		\$650.0000	\$650.00
Vulcan Construction Materials, LLC		\$676.0000	\$676.00
791-07.09 2IN STEEL GAS VALVE ASSEMBLY			
	8.000 EACH		
Civil Constructors 11 C	8.000 EACH	ФГ 070 0000	<b>\$40,500,00</b>
Civil Constructors, LLC		\$5,070.0000 \$6,740.0000	\$40,560.00
Jones Bros. Contractors, LLC		\$6,740.0000	\$53,920.00
Vulcan Construction Materials, LLC		\$7,010.0000	\$56,080.00
704 07 40 AIN CTEEL CAC VALVE ACCEMBLY			
791-07.10 4IN STEEL GAS VALVE ASSEMBLY			
	2.000 EACH		
Civil Constructors, LLC		\$10,440.0000	\$20,880.00
Jones Bros. Contractors, LLC		\$10,800.0000	\$21,600.00
Vulcan Construction Materials, LLC		\$11,200.0000	\$22,400.00

		CC	NTRACT CNX267
		UNIT PRICE	EXTENSION
791-07.11 6IN STEEL GAS VALVE ASSEMBLY			
	3.000 EACH		
Civil Constructors, LLC		\$9,830.0000	\$29,490.00
Jones Bros. Contractors, LLC		\$16,000.0000	\$48,000.00
Vulcan Construction Materials, LLC		\$16,700.0000	\$50,100.00
791-07.16 (3/4 IN)			
	1.000 EACH		
Civil Constructors, LLC		\$4,450.0000	\$4,450.00
Jones Bros. Contractors, LLC		\$950.0000	\$950.00
Vulcan Construction Materials, LLC		\$989.0000	\$989.00
791-08.12 3/4IN STEEL SERVICE PIPE			
	1,150.000 L.F.		
Civil Constructors, LLC		\$147.0000	\$169,050.00
Jones Bros. Contractors, LLC		\$38.0000	\$43,700.00
Vulcan Construction Materials, LLC		\$39.6000	\$45,540.00
791-08.22 HDD 3/4IN STEEL SERVICE PIPE			
	250.000 L.F.		
Civil Constructors, LLC		\$230.0000	\$57,500.00
Jones Bros. Contractors, LLC		\$110.0000	\$27,500.00
Vulcan Construction Materials, LLC		\$114.0000	\$28,500.00
791-08.40 RECONNECT SERVICE ASSEMBLY			
	28.000 EACH		
Civil Constructors, LLC		\$1,800.0000	\$50,400.00
Jones Bros. Contractors, LLC		\$1,200.0000	\$33,600.00
Vulcan Construction Materials, LLC		\$1,250.0000	\$35,000.00
791-09.02 3-WIRE CATHODIC PROTECTION STATION			
	15.000 EACH		
Civil Constructors, LLC		\$1,980.0000	\$29,700.00
Jones Bros. Contractors, LLC		\$450.0000	\$6,750.00
Vulcan Construction Materials, LLC		\$468.0000	\$7,020.00
791-09.03 17LB MAGNESIUM ANODES			
	33.000 EACH		
Civil Constructors, LLC		\$619.0000	\$20,427.00
Jones Bros. Contractors, LLC		\$200.0000	\$6,600.00
Vulcan Construction Materials, LLC		\$208.0000	\$6,864.00
791-09.09 REGULATOR STATION TIE-IN ONLY			
	2.000 EACH		
Civil Constructors, LLC		\$9,290.0000	\$18,580.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$5,000.00
Vulcan Construction Materials, LLC		\$2,600.0000	\$5,200.00

			(	CONTRACT CNX267
			UNIT PRICE	EXTENSION
791-10.04	RETIRE IN PLACE 2IN SERV CUT & PLUG			
		30.000 EACH		
	Civil Constructors, LLC		\$1,450.0000	\$43,500.00
	Jones Bros. Contractors, LLC		\$2,200.0000	\$66,000.00
	Vulcan Construction Materials, LLC		\$2,290.0000	\$68,700.00
791-10.10	RETIRE GAS MAIN			
		1.000 LS		
	Civil Constructors, LLC		\$56,160.0000	\$56,160.00
	Jones Bros. Contractors, LLC		\$30,500.0000	\$30,500.00
	Vulcan Construction Materials, LLC		\$31,700.0000	\$31,700.00
791-12.32	2IN ANSI 600 WELD-IN INSULATOR			
		2.000 EACH		
	Civil Constructors, LLC		\$9,690.0000	\$19,380.00
	Jones Bros. Contractors, LLC		\$3,600.0000	\$7,200.00
	Vulcan Construction Materials, LLC		\$3,750.0000	\$7,500.00
791-12.33	4IN ANSI 600 WELD-IN INSULATOR			
		2.000 EACH		
	Civil Constructors, LLC		\$17,530.0000	\$35,060.00
	Jones Bros. Contractors, LLC		\$6,600.0000	\$13,200.00
	Vulcan Construction Materials, LLC		\$6,870.0000	\$13,740.00
791-12.34	6IN ANSI 600 WELD-IN INSULATOR			
		2.000 EACH		
	Civil Constructors, LLC		\$15,050.0000	\$30,100.00
	Jones Bros. Contractors, LLC		\$8,600.0000	\$17,200.00
	Vulcan Construction Materials, LLC		\$8,950.0000	\$17,900.00
791-99.02	CLEAN UP RESTORATION & CLOSEOUT			
		1.000 LS		
	Civil Constructors, LLC		\$149,090.0000	\$149,090.00
	Jones Bros. Contractors, LLC		\$35,000.0000	\$35,000.00
	Vulcan Construction Materials, LLC		\$36,400.0000	\$36,400.00
793-01.13	POLE 40FT CLASS 5 WOOD			
		10.000 EACH		
	Civil Constructors, LLC		\$4,180.0000	\$41,800.00
	Jones Bros. Contractors, LLC		\$3,710.0000	\$37,100.00
	Vulcan Construction Materials, LLC		\$3,860.0000	\$38,600.00

12.000 EACH

793-01.40 ANCHOR 3/4IN

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$16,320.00

\$14,520.00

\$15,120.00

\$1,360.0000

\$1,210.0000

\$1,260.0000

			CC	NTRACT CNX267
			UNIT PRICE	EXTENSION
793-01.41	ANCHOR 1IN			
		30.000 EACH		
	Civil Constructors, LLC		\$1,500.0000	\$45,000.00
	Jones Bros. Contractors, LLC		\$1,330.0000	\$39,900.00
	Vulcan Construction Materials, LLC		\$1,380.0000	\$41,400.00
793-01.99	INSTALL POLE NUMBER			
		18.000 EACH		
	Civil Constructors, LLC		\$371.0000	\$6,678.00
	Jones Bros. Contractors, LLC		\$330.0000	\$5,940.00
	Vulcan Construction Materials, LLC		\$343.0000	\$6,174.00
793-02.07	GUY WIRE 6.6M OR 1/4IN			
		5.000 EACH		
	Civil Constructors, LLC		\$867.0000	\$4,335.00
	Jones Bros. Contractors, LLC		\$770.0000	\$3,850.00
	Vulcan Construction Materials, LLC		\$801.0000	\$4,005.00
793-02.08	GUY WIRE 10M OR 3/8IN			
		13.000 EACH		
	Civil Constructors, LLC		\$912.0000	\$11,856.00
	Jones Bros. Contractors, LLC		\$810.0000	\$10,530.00
	Vulcan Construction Materials, LLC		\$843.0000	\$10,959.00
793-02.94	OVERHEAD GUY WIRE (PE2-3G)			
		3.000 EACH		
	Civil Constructors, LLC		\$1,060.0000	\$3,180.00
	Jones Bros. Contractors, LLC		\$940.0000	\$2,820.00
	Vulcan Construction Materials, LLC		\$978.0000	\$2,934.00
793-02.99	INSTALL GUY GUARD			
		15.000 EACH		
	Civil Constructors, LLC		\$129.0000	\$1,935.00
	Jones Bros. Contractors, LLC		\$115.0000	\$1,725.00
	Vulcan Construction Materials, LLC		\$120.0000	\$1,800.00
793-03.01	25 PAIR GROUP AERIAL SPLICE			
		626.000 EACH		
	Civil Constructors, LLC		\$315.0000	\$197,190.00
	Jones Bros. Contractors, LLC		\$280.0000	\$175,280.00
	Vulcan Construction Materials, LLC		\$291.0000	\$182,166.00
793-03.02	6M STRAND			
		13,662.000 L.F.		
	Civil Constructors, LLC		\$2.2500	\$30,739.50
	Jones Bros. Contractors, LLC		\$2.0000	\$27,324.00
			<b>*</b>	<b>*</b>

Vulcan Construction Materials, LLC

\$28,690.20

\$2.1000

CONTRACT CNX	267
--------------	-----

			CONTRACT CNAZO
		UNIT PRIC	CE EXTENSION
793-03.03	10M STRAND		
		7,366.000 L.F.	
	Civil Constructors, LLC	\$3.950	
	Jones Bros. Contractors, LLC	\$3.500	
	Vulcan Construction Materials, LLC	\$3.650	00 \$26,885.90
703-03 12	50 PAIR CABLE		
795-05.12	301 AIR CABLE	866.000 L.F.	
	Civil Constructors, LLC	\$12.600	90 \$10,911.60
	Jones Bros. Contractors, LLC	\$12.000	
	Vulcan Construction Materials, LLC	\$11.700	
793-03.16	200 PAIRCABLE		
		1,182.000 L.F.	
	Civil Constructors, LLC	\$19.700	
	Jones Bros. Contractors, LLC	\$17.500	· · ·
	Vulcan Construction Materials, LLC	\$18.200	00 \$21,512.40
700 00 47	OOO DAID OAD! E		
793-03.17	300 PAIR CABLE	040.0001.5	
	0:10	240.000 L.F.	Ф. 000 00
	Civil Constructors, LLC	\$27.900	
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC	\$24.800 \$25.800	· ·
	valoan construction waterials, EEG	Ψ20.000	φο,102.00
793-03.19	600 PAIR CABLE		
		2,070.000 L.F.	
	Civil Constructors, LLC	\$35.000	90 \$72,450.00
	Jones Bros. Contractors, LLC	\$31.100	
	Vulcan Construction Materials, LLC	\$32.400	
793-03.40	INSTALL STRAND BOND		
		38.000 EACH	
	Civil Constructors, LLC	\$107.000	
	Jones Bros. Contractors, LLC	\$95.000	· ·
	Vulcan Construction Materials, LLC	\$98.900	00 \$3,758.20
793-04 01	RELASH/DELASH CABLE		
100 0 110 1		200.000 L.F.	
	Civil Constructors, LLC	\$9.000	90 \$1,800.00
	Jones Bros. Contractors, LLC	\$8.000	· ·
	Vulcan Construction Materials, LLC	\$8.350	
	·		•
793-04.06	READY ACCESS CLOSURE		
		15.000 EACH	
	Civil Constructors, LLC	\$1,240.000	\$18,600.00
	Jones Bros. Contractors, LLC	\$1,100.000	
	Vulcan Construction Materials, LLC	\$1,140.000	90 \$17,100.00

		С	ONTRACT CNX267
		UNIT PRICE	EXTENSION
793-04.07 AERIAL SPLICE CLOSURE			
793-04.07 AERIAL SPLICE CLOSURE	3.000 EACH		
Civil Constructors, LLC	3.000 EAGH	\$2,670.0000	\$8,010.00
Jones Bros. Contractors, LLC		\$2,370.0000	\$7,110.00
Vulcan Construction Materials, LLC		\$2,470.0000	\$7,410.00
793-04.21 3 PAIR AERIAL DROP			
	350.000 L.F.		
Civil Constructors, LLC		\$4.5000	\$1,575.00
Jones Bros. Contractors, LLC		\$4.0000	\$1,400.00
Vulcan Construction Materials, LLC		\$4.1500	\$1,452.50
793-04.25 HOT SPLICE EXISTING CABLES			
	2,052.000 EACH		
Civil Constructors, LLC		\$146.0000	\$299,592.00
Jones Bros. Contractors, LLC		\$130.0000	\$266,760.00
Vulcan Construction Materials, LLC		\$135.0000	\$277,020.00
793-07.01 12 FIBER (MATERIAL ONLY)			
	582.000 L.F.		
Civil Constructors, LLC		\$1.7000	\$989.40
Jones Bros. Contractors, LLC		\$1.5000	\$873.00
Vulcan Construction Materials, LLC		\$1.5500	\$902.10
793-07.04 48 FIBER(MATERIAL ONLY)			
	220.000 L.F.		
Civil Constructors, LLC		\$2.2500	\$495.00
Jones Bros. Contractors, LLC		\$2.0000	\$440.00
Vulcan Construction Materials, LLC		\$2.1000	\$462.00
793-07.05 96 FIBER(MATERIAL ONLY)			
	3,588.000 L.F.		
Civil Constructors, LLC		\$4.4000	\$15,787.20
Jones Bros. Contractors, LLC		\$3.9000	\$13,993.20
Vulcan Construction Materials, LLC		\$4.0500	\$14,531.40
793-07.12 432 FIBER(MATERIAL ONLY)			
	14,662.000 L.F.		
Civil Constructors, LLC		\$4.5000	\$65,979.00
Jones Bros. Contractors, LLC		\$4.0000	\$58,648.00
Vulcan Construction Materials, LLC		\$4.1500	\$60,847.30
793-07.16 12-96 FIBER(INSTALLATION ONLY)			
	4,390.000 L.F.		
Civil Constructors, LLC		\$6.8000	\$29,852.00
Jones Bros. Contractors, LLC		\$6.0000	\$26,340.00
Vulcan Construction Materials, LLC		\$6.2500	\$27,437.50

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
793-07.22 FIBER SPLICE-12 FIBER RIBBON			
	36.000 EACH		
Civil Constructors, LLC		\$743.0000	\$26,748.00
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$660.0000 \$687.0000	\$23,760.00 \$24,732.00
vuican construction materials, LLC		ΨΟΟ7.0000	φ24,732.00
793-07.23 FIBER OPTIC MAINTENANCE LOOP			
	5.000 EACH		
Civil Constructors, LLC		\$597.0000	\$2,985.00
Jones Bros. Contractors, LLC		\$530.0000	\$2,650.00
Vulcan Construction Materials, LLC		\$552.0000	\$2,760.00
793-07.25 SINGLE FIBER OPTIC CABLE SPLICE			
750 OF LO SINGLE FIBER OF HIS GABLE OF LIGH	140.000 EACH		
Civil Constructors, LLC	140.000 LAGI1	\$129.0000	\$18,060.00
Jones Bros. Contractors, LLC		\$115.0000	\$16,100.00
Vulcan Construction Materials, LLC		\$120.0000	\$16,800.00
793-07.41 HOT SPLICE EXISTING FIBER CABLES			
	112.000 EACH		
Civil Constructors, LLC		\$152.0000	\$17,024.00
Jones Bros. Contractors, LLC		\$135.0000	\$15,120.00
Vulcan Construction Materials, LLC		\$140.0000	\$15,680.00
793-07.90 INSTALL FIBER STORAGE BRACKET			
	11.000 EACH		
Civil Constructors, LLC	11.000 EAGI1	\$535.0000	\$5,885.00
Jones Bros. Contractors, LLC		\$475.0000	\$5,225.00
Vulcan Construction Materials, LLC		\$494.0000	\$5,434.00
793-11.17 COMPOSITE HANDHOLE 5FTX3FTX3FT			
	1.000 EACH		
Civil Constructors, LLC		\$10,860.0000	\$10,860.00
Jones Bros. Contractors, LLC		\$9,650.0000	\$9,650.00
Vulcan Construction Materials, LLC		\$10,000.0000	\$10,000.00
793-11.20 HANDHOLE 30INX48IN			
	5.000 EACH		
Civil Constructors, LLC		\$11,100.0000	\$55,500.00
Jones Bros. Contractors, LLC		\$9,860.0000	\$49,300.00
Vulcan Construction Materials, LLC		\$10,300.0000	\$51,500.00
702 44 50 DEADDANGE EVICTING ORLING CASE			
793-11.50 REARRANGE EXISTING SPLICE CASE			

3.000 EACH

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$5,880.00

\$5,220.00

\$5,430.00

\$1,960.0000

\$1,740.0000

\$1,810.0000

		CC	ONTRACT CNX26
		UNIT PRICE	EXTENSION
793-11.58 REMOVE HANDHOLE			
	12.000 EACH		
Civil Constructors, LLC		\$585.0000	\$7,020.00
Jones Bros. Contractors, LLC		\$520.0000	\$6,240.00
Vulcan Construction Materials, LLC		\$541.0000	\$6,492.00
793-13.07 4IN SCHEDULE 40 PVC			
	478.000 L.F.		
Civil Constructors, LLC		\$36.0000	\$17,208.00
Jones Bros. Contractors, LLC		\$32.0000	\$15,296.00
Vulcan Construction Materials, LLC		\$33.3000	\$15,917.40
793-13.09 2IN SCHEDULE 40 PVC			
	80.000 L.F.		
Civil Constructors, LLC		\$23.6000	\$1,888.00
Jones Bros. Contractors, LLC		\$21.0000	\$1,680.00
Vulcan Construction Materials, LLC		\$21.9000	\$1,752.00
793-13.12 1 DUCT FORMATION @ 36IN DEPTH			
	386.000 L.F.		
Civil Constructors, LLC		\$72.0000	\$27,792.00
Jones Bros. Contractors, LLC		\$64.0000	\$24,704.00
Vulcan Construction Materials, LLC		\$66.6000	\$25,707.60
793-13.17 2 DUCT FORMATION @ 36IN DEPTH			
	86.000 L.F.		
Civil Constructors, LLC		\$81.0000	\$6,966.00
Jones Bros. Contractors, LLC		\$72.0000	\$6,192.00
Vulcan Construction Materials, LLC		\$74.9000	\$6,441.40
793-14.19 4IN SCH 80 ORANGE FLEXPIPE			
	3,714.000 L.F.		
Civil Constructors, LLC		\$7.9000	\$29,340.60
Jones Bros. Contractors, LLC		\$7.0000	\$25,998.00
Vulcan Construction Materials, LLC		\$7.3000	\$27,112.20
793-14.26 UNDERGROUND TO OVERHEAD RISER			
	2.000 EACH		
Civil Constructors, LLC		\$2,580.0000	\$5,160.00
Jones Bros. Contractors, LLC		\$2,290.0000	\$4,580.00
Vulcan Construction Materials, LLC		\$2,380.0000	\$4,760.00
793-15.01 TRANSFER CABLE ATTACHMENT			
	54.000 EACH		
Civil Constructors, LLC		\$473.0000	\$25,542.00
Jones Bros. Contractors, LLC		\$420.0000	\$22,680.00

Vulcan Construction Materials, LLC

\$23,598.00

\$437.0000

			CONTRACT CNY267
		LINIT DDICE	CONTRACT CNX267  EXTENSION
		UNIT PRICE	EXTENSION
793-16.04 DIRECTIONAL BORE 4IN/FLEX SLEEVE			
	3,714.000 L.F.		
Civil Constructors, LLC		\$122.0000	\$453,108.00
Jones Bros. Contractors, LLC		\$108.0000	\$401,112.00
Vulcan Construction Materials, LLC		\$112.0000	\$415,968.00
793-98.01 REMOVE AERIAL CABLE AND WIRE			
	7,759.000 L.F.		
Civil Constructors, LLC		\$2.2500	\$17,457.75
Jones Bros. Contractors, LLC		\$2.0000	\$15,518.00
Vulcan Construction Materials, LLC		\$2.1000	\$16,293.90
793-98.04 REMOVE POLES ALL SIZES			
	90.000 EACH		
Civil Constructors, LLC		\$844.0000	\$75,960.00
Jones Bros. Contractors, LLC		\$750.0000	\$67,500.00
Vulcan Construction Materials, LLC		\$781.0000	\$70,290.00
793-98.08 REMOVE ANCHOR (ANY SIZE)			
	16.000 EACH		
Civil Constructors, LLC		\$653.0000	\$10,448.00
Jones Bros. Contractors, LLC		\$580.0000	\$9,280.00
Vulcan Construction Materials, LLC		\$604.0000	\$9,664.00
793-98.09 REMOVE DOWN GUY			
	16.000 EACH		
Civil Constructors, LLC		\$248.0000	\$3,968.00
Jones Bros. Contractors, LLC		\$220.0000	\$3,520.00
Vulcan Construction Materials, LLC		\$229.0000	\$3,664.00
795-01.01 4IN DIP RESTRAINED JOINT WATER LINE			
	150.000 L.F.		
Civil Constructors, LLC		\$205.0000	\$30,750.00
Jones Bros. Contractors, LLC		\$315.0000	\$47,250.00
Vulcan Construction Materials, LLC		\$427.0000	\$64,050.00
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE			
	800.000 L.F.		
Civil Constructors, LLC		\$164.0000	\$131,200.00
Jones Bros. Contractors, LLC		\$295.0000	\$236,000.00
Vulcan Construction Materials, LLC		\$390.0000	\$312,000.00
795-01.05 8IN DIP RESTRAINED JOINT WATER LINE			
	3,300.000 L.F.		

Civil Constructors, LLC

Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC \$564,300.00

\$1,204,500.00

\$1,168,200.00

\$171.0000

\$365.0000

\$354.0000

			C	CONTRACT CNX267
			UNIT PRICE	EXTENSION
795-01.07	10IN DIP RESTRAINED JOINT WATER LINE			
		250.000 L.F.	<b>***</b>	<b>#=0.000.00</b>
	Civil Constructors, LLC		\$224.0000	\$56,000.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$375.0000 \$458.0000	\$93,750.00 \$114,500.00
	vulcan Construction Materials, LLC		φ436.0000	\$114,500.00
795-01.09	12IN DIP RESTRAINED JOINT WATER LINE			
		13,600.000 L.F.		
	Civil Constructors, LLC		\$207.0000	\$2,815,200.00
	Jones Bros. Contractors, LLC		\$395.0000	\$5,372,000.00
	Vulcan Construction Materials, LLC		\$520.0000	\$7,072,000.00
795-01.19	24IN DIP RESTRAINED JOINT WATER LINE			
		4,700.000 L.F.		
	Civil Constructors, LLC		\$463.0000	\$2,176,100.00
	Jones Bros. Contractors, LLC		\$815.0000	\$3,830,500.00
	Vulcan Construction Materials, LLC		\$954.0000	\$4,483,800.00
705-01 21	3IN DIP RESTRAINED JOINT WATER LINE			
793-01.31	SIN DIF RESTRAINED SOINT WATER LINE	50.000 L.F.		
	Civil Constructors, LLC	30.000 L.I .	\$340.0000	\$17,000.00
	Jones Bros. Contractors, LLC		\$475.0000	\$23,750.00
	Vulcan Construction Materials, LLC		\$572.0000	\$28,600.00
795-06.01	CONNECT TO 2IN WATER LINE			
		2.000 EACH		
	Civil Constructors, LLC		\$1,800.0000	\$3,600.00
	Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$6,000.0000 \$4,420.0000	\$12,000.00 \$8,840.00
	vulcan Construction Materials, LLC		\$ <del>4</del> ,420.0000	Ф0,040.00
795-06.04	CONNECT TO 6IN WATER LINE			
		10.000 EACH		
	Civil Constructors, LLC		\$3,580.0000	\$35,800.00
	Jones Bros. Contractors, LLC		\$6,250.0000	\$62,500.00
	Vulcan Construction Materials, LLC		\$4,680.0000	\$46,800.00
795-06.05	CONNECT TO 8IN WATER LINE			
		15.000 EACH		
	Civil Constructors, LLC		\$5,300.0000	\$79,500.00
	Jones Bros. Contractors, LLC		\$6,500.0000	\$97,500.00
	Vulcan Construction Materials, LLC		\$4,680.0000	\$70,200.00
795-06 06	CONNECT TO 10IN WATER LINE			
		1.000 EACH		
	Civil Constructors, LLC		\$7,130.0000	\$7,130.00
	Jones Bros. Contractors, LLC		\$11,500.0000	\$11,500.00
	Vulcan Construction Materials, LLC		\$5,200.0000	\$5,200.00
			· · · · · · · · · · · · · · · · · · ·	*

		UNIT PRICE	EXTENSION
795-06.07 CONNECT TO 12IN WATER LINE			
	2.000 EACH		
Civil Constructors, LLC		\$8,970.0000	\$17,940.00
Jones Bros. Contractors, LLC		\$12,500.0000	\$25,000.00
Vulcan Construction Materials, LLC		\$5,200.0000	\$10,400.00
795-06.09 CONNECT TO 16IN WATER LINE			
	1.000 EACH		
Civil Constructors, LLC		\$11,650.0000	\$11,650.00
Jones Bros. Contractors, LLC		\$16,500.0000	\$16,500.00
Vulcan Construction Materials, LLC		\$7,280.0000	\$7,280.00
795-06.12 CONNECT TO 24IN WATER LINE			
	6.000 EACH		
Civil Constructors, LLC		\$16,460.0000	\$98,760.00
Jones Bros. Contractors, LLC		\$24,500.0000	\$147,000.00
Vulcan Construction Materials, LLC		\$18,200.0000	\$109,200.00
795-06.33 CUT AND CAP 6IN WATER LINE			
	7.000 EACH		
Civil Constructors, LLC		\$3,850.0000	\$26,950.00
Jones Bros. Contractors, LLC		\$5,500.0000	\$38,500.00
Vulcan Construction Materials, LLC		\$2,550.0000	\$17,850.00
795-06.34 CUT AND CAP 8IN WATER LINE			
	35.000 EACH		
Civil Constructors, LLC		\$5,350.0000	\$187,250.00
Jones Bros. Contractors, LLC		\$6,800.0000	\$238,000.00
Vulcan Construction Materials, LLC		\$2,710.0000	\$94,850.00
795-06.37 CUT AND CAP 12IN WATER LINE			
	3.000 EACH		
Civil Constructors, LLC		\$6,800.0000	\$20,400.00
Jones Bros. Contractors, LLC		\$9,800.0000	\$29,400.00
Vulcan Construction Materials, LLC		\$2,860.0000	\$8,580.00
795-06.39 CUT AND CAP 16IN WATER LINE			
	1.000 EACH		
Civil Constructors, LLC		\$8,320.0000	\$8,320.00
Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$6,240.0000	\$6,240.00
795-06.43 CUT AND CAP 24IN WATER LINE			
	6.000 EACH		
Civil Constructors, LLC		\$12,130.0000	\$72,780.00
Jones Bros. Contractors, LLC		\$22,500.0000	\$135,000.00
Vulcan Construction Materials, LLC		\$7,810.0000	\$46,860.00

6.000 EACH

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$251,880.00

\$240,000.00

\$293,400.00

\$41,980.0000

\$40,000,0000

\$48,900.0000

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
795-09.01 3/4IN WATER SERVICE METER ASSEMBLY			
	7.000 EACH		
Civil Constructors, LLC		\$3,280.0000	\$22,960.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$17,500.00
Vulcan Construction Materials, LLC		\$3,640.0000	\$25,480.00
795-09.04 2IN WATER SERVICE METER ASSEMBLY			
	3.000 EACH		
Civil Constructors, LLC	5.555	\$11,420.0000	\$34,260.00
Jones Bros. Contractors, LLC		\$9,800.0000	\$29,400.00
Vulcan Construction Materials, LLC		\$11,400.0000	\$34,200.00
		, ,	***,
795-09.08 8IN WATER SERVICE METER ASSEMBLY			
	1.000 EACH		
Civil Constructors, LLC		\$56,880.0000	\$56,880.00
Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
Vulcan Construction Materials, LLC		\$78,100.0000	\$78,100.00
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY			
793-03.03 RELOCATE/REGORNEGT SERVICE ASSEMBLT	20.000 EACH		
Civil Constructors 11 C	20.000 EACH	\$2,440.0000	¢49 900 00
Civil Constructors, LLC Jones Bros. Contractors, LLC		\$2,500.0000	\$48,800.00 \$50,000.00
Vulcan Construction Materials, LLC		\$3,430.0000	\$68,600.00
vuican construction materials, ELC		φ3,430.0000	φοο,ουυ.ου
795-09.10 SAMPLE TAP			
	10.000 EACH		
Civil Constructors, LLC		\$1,470.0000	\$14,700.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$3,490.0000	\$34,900.00
TOT OO 40, ON CORDER SERVICE PIRE			
795-09.12 2IN COPPER SERVICE PIPE			
	220.000 L.F.	<b></b>	
Civil Constructors, LLC		\$155.0000	\$34,100.00
Jones Bros. Contractors, LLC		\$110.0000	\$24,200.00
Vulcan Construction Materials, LLC		\$193.0000	\$42,460.00
795-09.28 3/4IN COPPER SERVICE PIPE			
	1,100.000 L.F.		
Civil Constructors, LLC		\$107.0000	\$117,700.00
Jones Bros. Contractors, LLC		\$88.0000	\$96,800.00
Vulcan Construction Materials, LLC		\$151.0000	\$166,100.00

200.000 L.F.

795-09.29 1IN COPPER SERVICE PIPE

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$22,800.00

\$20,000.00

\$36,400.00

\$114.0000

\$100.0000

\$182.0000

	CONTRACT	CNX267
UNIT PRICE	EXTE	ENSION

			UNIT PRICE	EXTENSION
795-10.09	4IN AUTO AIR RELEASE VALVE ASSEMBLY			
		2.000 EACH		
	Civil Constructors, LLC		\$32,450.0000	\$64,900.00
	Jones Bros. Contractors, LLC		\$5,500.0000	\$11,000.00
	Vulcan Construction Materials, LLC		\$43,700.0000	\$87,400.00
795-11.02	FIRE HYDRANT ASSEMBLY			
		15.000 EACH		
	Civil Constructors, LLC		\$8,450.0000	\$126,750.00
	Jones Bros. Contractors, LLC		\$10,500.0000	\$157,500.00
	Vulcan Construction Materials, LLC		\$10,400.0000	\$156,000.00
795-11.06	RELOCATE FIRE PROTECTION METER			
		5.000 EACH		
	Civil Constructors, LLC		\$37,190.0000	\$185,950.00
	Jones Bros. Contractors, LLC		\$5,500.0000	\$27,500.00
	Vulcan Construction Materials, LLC		\$41,600.0000	\$208,000.00
795-11.07	FIRE AND DOMESTIC APPARATUSES			
		4.000 EACH		
	Civil Constructors, LLC		\$19,730.0000	\$78,920.00
	Jones Bros. Contractors, LLC		\$6,800.0000	\$27,200.00
	Vulcan Construction Materials, LLC		\$36,400.0000	\$145,600.00
795-11.12	RETIRE IN PLACE EXISTING WATER MAIN			
		21,000.000 L.F.		
	Civil Constructors, LLC		\$2.9200	\$61,320.00
	Jones Bros. Contractors, LLC		\$1.0000	\$21,000.00
	Vulcan Construction Materials, LLC		\$6.7500	\$141,750.00
795-12.01	REMOVE FIRE HYDRANT			
		10.000 EACH		
	Civil Constructors, LLC		\$2,230.0000	\$22,300.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$25,000.00
	Vulcan Construction Materials, LLC		\$1,770.0000	\$17,700.00
795-12.02	REMOVAL OF EXISTING LINE			
		1.000 LS		
	Civil Constructors, LLC		\$30,570.0000	\$30,570.00
	Jones Bros. Contractors, LLC		\$63,000.0000	\$63,000.00
	Vulcan Construction Materials, LLC		\$312,000.0000	\$312,000.00
795-12.03	PIPE GROUTING			
		1.000 LS		
	Civil Constructors, LLC		\$105,780.0000	\$105,780.00
	Jones Bros. Contractors, LLC		\$210,000.0000	\$210,000.00
	Vulcan Construction Materials, LLC		\$260,000.0000	\$260,000.00

			·	CONTRACT CNA207
			UNIT PRICE	EXTENSION
795-12.04	REMOVE EX BACKFLOW APPARATUS			
		1.000 LS		
	Civil Constructors, LLC		\$1,540.0000	\$1,540.00
	Jones Bros. Contractors, LLC		\$12,500.0000	\$12,500.00
	Vulcan Construction Materials, LLC		\$7,810.0000	\$7,810.00
795-12.08	REMOVE WATER METER			
700 12100		6.000 EACH		
	Civil Constructors, LLC	5.555 =	\$338.0000	\$2,028.00
	Jones Bros. Contractors, LLC		\$4,500.0000	\$27,000.00
	Vulcan Construction Materials, LLC		\$1,270.0000	\$7,620.00
	Validati Gotisti dellotti Materials, EEG		ψ1,270.0000	ψ1,020.00
795-13.01	DI FITTINGS			
		42,000.000 LB.		
	Civil Constructors, LLC		\$14.3000	\$600,600.00
	Jones Bros. Contractors, LLC		\$21.0000	\$882,000.00
	Vulcan Construction Materials, LLC		\$22.9000	\$961,800.00
705-15 04	18IN STEEL CASING PIPE OPEN CUT METHOD			
733-13.04	TOTAL CASING THE OF EN COT METHOD			
		980.000 L.F.	<b>.</b>	
	Civil Constructors, LLC		\$363.0000	\$355,740.00
	Jones Bros. Contractors, LLC		\$360.0000	\$352,800.00
	Vulcan Construction Materials, LLC		\$770.0000	\$754,600.00
795-15.07	24IN STEEL CASING PIPE OPEN CUT METHOD			
		48.000 L.F.		
	Civil Constructors, LLC		\$505.0000	\$24,240.00
	Jones Bros. Contractors, LLC		\$480.0000	\$23,040.00
	Vulcan Construction Materials, LLC		\$911.0000	\$43,728.00
	Validati Gotisti dellotti Materials, EEG		φ511.0000	ψ+0,720.00
795-15.25	16IN STEEL CASING PIPE OPEN CUT METHOD			
		100.000 L.F.		
	Civil Constructors, LLC		\$315.0000	\$31,500.00
	Jones Bros. Contractors, LLC		\$320.0000	\$32,000.00
	Vulcan Construction Materials, LLC		\$770.0000	\$77,000.00
795-16 15	RELOCATE/RECONNECT BACKFLOW ASSEMBLY			
733-10.13	RECOGNIE/RECONNECT BACKI ECW ACCEMBET	4.000 EACH		
	Civil Constructors, LLC	4.000 E/(011	\$5,050.0000	\$20,200.00
	Jones Bros. Contractors, LLC		\$9,800.0000	\$39,200.00
	Vulcan Construction Materials, LLC		\$9,370.0000	\$37,480.00
	Validati Gotisti dellotti Materials, EEG		ψ5,57 0.0000	ψον, 400.00
795-16.16	RELOCATE/RECONNECT 3/4IN WATER METER ASSEMBLY			
		40.000 EACH		
	Civil Constructors, LLC		\$1,290.0000	\$51,600.00
	Jones Bros. Contractors, LLC		\$2,200.0000	\$88,000.00
	Vulcan Construction Materials, LLC		\$2,340.0000	\$93,600.00

		co	NTRACT CNX267
		UNIT PRICE	EXTENSION
795-16.17 RELOCATE/RECONNECT 1IN WATER METER ASSEMBLY			
	1.000 EACH		
Civil Constructors, LLC		\$1,550.0000	\$1,550.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
Vulcan Construction Materials, LLC		\$3,120.0000	\$3,120.00
795-16.21 RELOCATE/RECONNECT 2IN WATER METER ASSEMBLY			
	1.000 EACH		
Civil Constructors, LLC		\$3,200.0000	\$3,200.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$3,000.00
Vulcan Construction Materials, LLC		\$5,200.0000	\$5,200.00
795-16.23 RELOCATE/RECONNECT 4IN WATER METER ASSM			
	2.000 EACH		
Civil Constructors, LLC		\$5,850.0000	\$11,700.00
Jones Bros. Contractors, LLC		\$8,800.0000	\$17,600.00
Vulcan Construction Materials, LLC		\$9,890.0000	\$19,780.00
795-16.25 RELOCATE/RECONNECT 6IN WATER METER ASSEMBLY			
	1.000 EACH		
Civil Constructors, LLC		\$5,860.0000	\$5,860.00
Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
Vulcan Construction Materials, LLC		\$14,000.0000	\$14,000.00
795-16.30 RELOCATE/RECONNECT 3IN SERVICE ASSEMBLY			
	1.000 EACH		
Civil Constructors, LLC		\$2,760.0000	\$2,760.00
Jones Bros. Contractors, LLC		\$6,800.0000	\$6,800.00
Vulcan Construction Materials, LLC		\$9,370.0000	\$9,370.00
795-16.91 RELOCATE 3/4 IN DOUBLE DET CHECK VALVE W/NEW BOX			
	4.000 EACH		
Civil Constructors, LLC		\$1,570.0000	\$6,280.00
Jones Bros. Contractors, LLC		\$1,200.0000	\$4,800.00
Vulcan Construction Materials, LLC		\$2,860.0000	\$11,440.00
795-16.92 RELOCATE 2IN REDUCED PRESSURE BACKFLOW PREVENT	ER W/NEW BOX		
	3.000 EACH		
Civil Constructors, LLC		\$2,590.0000	\$7,770.00
Jones Bros. Contractors, LLC		\$1,800.0000	\$5,400.00
Vulcan Construction Materials, LLC		\$7,810.0000	\$23,430.00
795-16.93 RELOCATE 3IN DOUBLE DET CHECK VALVE W/NEW BOX			
	1.000 EACH		
Civil Constructors, LLC		\$8,030.0000	\$8,030.00
Jones Bros. Contractors, LLC		\$1,250.0000	\$1,250.00

Vulcan Construction Materials, LLC

\$15,600.00

\$15,600.0000

		UNIT PRICE	EXTENSION
795-16.94 RELOCATE 4IN DOUBLE DET CHECK VALVE W/NEW BOX			
795-10.94 RELOCATE 4IN DOUBLE DET CHECK VALVE WINEW BOX	1.000 EACH		
Civil Constructors, LLC	1.000 EAGH	\$9,430.0000	\$9,430.00
Jones Bros. Contractors, LLC		\$5,500.0000	\$5,500.00
Vulcan Construction Materials, LLC		\$16,100.0000	\$16,100.00
795-16.96 RELOCATE 6IN DOUBLE DET CHECK VALVE W/NEW BOX			
	1.000 EACH		
Civil Constructors, LLC		\$13,390.0000	\$13,390.00
Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$18,700.0000	\$18,700.00
795-16.98 RELOCATE 8IN DOUBLE DET CHECK VALVE W/NEW BOX			
	1.000 EACH		
Civil Constructors, LLC		\$16,660.0000	\$16,660.00
Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$21,300.0000	\$21,300.00
795-21.01 RETIRE WATER METER ASSEMBLIES			
	1.000 LS		
Civil Constructors, LLC		\$7,430.0000	\$7,430.00
Jones Bros. Contractors, LLC		\$32,500.0000	\$32,500.00
Vulcan Construction Materials, LLC		\$20,800.0000	\$20,800.00
795-99.01 4FT X 4FT METER VAULT			
	1.000 EACH		
Civil Constructors, LLC		\$9,130.0000	\$9,130.00
Jones Bros. Contractors, LLC		\$20,000.0000	\$20,000.00
Vulcan Construction Materials, LLC		\$16,700.0000	\$16,700.00
795-99.02 4FT X 6FT METER VAULT			
	1.000 EACH		
Civil Constructors, LLC		\$10,430.0000	\$10,430.00
Jones Bros. Contractors, LLC		\$20,000.0000	\$20,000.00
Vulcan Construction Materials, LLC		\$16,700.0000	\$16,700.00
795-99.03 6FT X 6FT METER VAULT			
0: 10	1.000 EACH	<b>#00.040.00</b>	000 040 05
Civil Constructors 11 C		\$22.840.0000	\$22 840 00

1.000 LS Civil Constructors, LLC \$7,430.0000	\$7,430.00
Civil Constructors, LLC \$7,430,0000	\$7,430.00
ψ., .σσ.σσσσ	
Jones Bros. Contractors, LLC \$32,500.0000	\$32,500.00
Vulcan Construction Materials, LLC \$20,800.0000	\$20,800.00
795-99.01 4FT X 4FT METER VAULT	
1.000 EACH	
Civil Constructors, LLC \$9,130.0000	\$9,130.00
Jones Bros. Contractors, LLC \$20,000.0000	\$20,000.00
Vulcan Construction Materials, LLC \$16,700.0000	\$16,700.00
795-99.02 4FT X 6FT METER VAULT	
1.000 EACH	
Civil Constructors, LLC \$10,430.0000	\$10,430.00
	\$20,000.00
	\$16,700.00
795-99.03 6FT X 6FT METER VAULT	
1.000 EACH	
	\$22,840.00
	\$30,000.00
	\$31,200.00
797-05.02 8IN DIP GRAVITY SEWER 6FT-12FT DEPTH	
165.000 L.F.	
	\$81,840.00
	\$37,125.00
· · · · · · · · · · · · · · · · · · ·	184,800.00
valour construction materials, ELC	101,000.00

		C	ONTRACT CNX267
		UNIT PRICE	EXTENSION
797-05.03 8IN DIP GRAVITY SEWER 12FT-18FT DEPTH			
	308.000 L.F.		
Civil Constructors, LLC		\$801.0000	\$246,708.00
Jones Bros. Contractors, LLC		\$380.0000	\$117,040.00
Vulcan Construction Materials, LLC		\$1,500.0000	\$462,000.00
797-05.04 8IN DIP GRAVITY SEWER >18FT DEPTH			
	30.000 L.F.		
Civil Constructors, LLC		\$1,240.0000	\$37,200.00
Jones Bros. Contractors, LLC		\$445.0000	\$13,350.00
Vulcan Construction Materials, LLC		\$2,280.0000	\$68,400.00
797-05.51 8IN PVC GRAVITY SEWER 0FT-6FT DEPTH			
	280.000 L.F.		
Civil Constructors, LLC		\$247.0000	\$69,160.00
Jones Bros. Contractors, LLC		\$245.0000	\$68,600.00
Vulcan Construction Materials, LLC		\$757.0000	\$211,960.00
797-05.52 8IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
	2,300.000 L.F.		
Civil Constructors, LLC		\$365.0000	\$839,500.00
Jones Bros. Contractors, LLC		\$255.0000	\$586,500.00
Vulcan Construction Materials, LLC		\$1,020.0000	\$2,346,000.00
797-05.53 8IN PVC GRAVITY SEWER 12FT-18FT DEPTH			
	236.000 L.F.		
Civil Constructors, LLC		\$418.0000	\$98,648.00
Jones Bros. Contractors, LLC		\$305.0000	\$71,980.00
Vulcan Construction Materials, LLC		\$1,410.0000	\$332,760.00
797-05.54 8IN PVC GRAVITY SEWER >18FT DEPTH			
	15.000 L.F.	<b>A</b> 4 000 0000	<b>*</b> 45.450.00
Civil Constructors, LLC		\$1,030.0000	\$15,450.00
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$420.0000 \$2,190.0000	\$6,300.00 \$32,850.00
vuican construction materials, LLC		\$2,190.0000	\$32,830.00
797-05.56 10IN PVC GRAVITY SEWER 6FT-12FT DEPTH	740 400   5		
Obid Constructors III C	743.400 L.F.	<b>#200</b> 0000	<b>COO4</b> 440 00
Civil Constructors, LLC		\$392.0000	\$291,412.80
Jones Bros. Contractors, LLC Vulcan Construction Materials, LLC		\$380.0000 \$1,030.0000	\$282,492.00 \$765,702.00
vulcan Construction Materials, LLC		\$1,030.0000	\$765,702.00
797-05.57 10IN PVC GRAVITY SEWER 12FT-18FT DEPTH			
Obid Constructor 11.0	98.000 L.F.	Ф04 <b>7</b> 0000	<b>#00.000.00</b>
Civil Constructors, LLC		\$817.0000	\$80,066.00
Jones Bros. Contractors, LLC		\$450.0000 \$1.420.0000	\$44,100.00 \$130.160.00
Vulcan Construction Materials, LLC		\$1,420.0000	\$139,160.00

		00	MINACI CNAZO
		UNIT PRICE	EXTENSION
797-06.64 BORE/JACK 16IN STEEL CASING PIPE-UNCON.			
	66.000 L.F.		
Civil Constructors, LLC		\$1,130.0000	\$74,580.00
Jones Bros. Contractors, LLC		\$1,370.0000	\$90,420.00
Vulcan Construction Materials, LLC		\$1,270.0000	\$83,820.00
797-07.02 48IN MANHOLE 4FT-6FT DEPTH			
	3.000 EACH		
Civil Constructors, LLC		\$8,190.0000	\$24,570.00
Jones Bros. Contractors, LLC		\$6,000.0000	\$18,000.00
Vulcan Construction Materials, LLC		\$13,500.0000	\$40,500.00
797-07.03 48IN MANHOLE 6FT-8FT DEPTH			
	10.000 EACH		
Civil Constructors, LLC		\$9,340.0000	\$93,400.00
Jones Bros. Contractors, LLC		\$6,000.0000	\$60,000.00
Vulcan Construction Materials, LLC		\$15,100.0000	\$151,000.00
797-07.04 48IN MANHOLE 8FT-10FT DEPTH			
	9.000 EACH		
Civil Constructors, LLC		\$10,720.0000	\$96,480.00
Jones Bros. Contractors, LLC		\$7,000.0000	\$63,000.00
Vulcan Construction Materials, LLC		\$16,700.0000	\$150,300.00
797-07.05 48IN MANHOLE 10FT-12FT DEPTH			
	4.000 EACH		
Civil Constructors, LLC		\$11,900.0000	\$47,600.00
Jones Bros. Contractors, LLC		\$8,000.0000	\$32,000.00
Vulcan Construction Materials, LLC		\$20,800.0000	\$83,200.00
797-07.06 48IN MANHOLE 12FT-14FT DEPTH			
	1.000 EACH		
Civil Constructors, LLC		\$14,810.0000	\$14,810.00
Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
Vulcan Construction Materials, LLC		\$22,900.0000	\$22,900.00
797-07.07 48IN MANHOLE 14FT-16FT DEPTH			
	2.000 EACH		
Civil Constructors, LLC		\$14,970.0000	\$29,940.00
Jones Bros. Contractors, LLC		\$10,000.0000	\$20,000.00
Vulcan Construction Materials, LLC		\$31,700.0000	\$63,400.00
797-07.08 48IN MANHOLE 16FT-20FT DEPTH			
	3.000 EACH		
Civil Constructors, LLC		\$16,460.0000	\$49,380.00
Jones Bros. Contractors, LLC		\$12,500.0000	\$37,500.00
Vulcan Construction Materials, LLC		\$39,000.0000	\$117,000.00

			MINACI CNAZO
		UNIT PRICE	EXTENSION
797-07.09 48IN MANHOLE 20FT-24FT DEPTH			
	1.000 EACH		
Civil Constructors, LLC		\$18,410.0000	\$18,410.00
Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$58,800.0000	\$58,800.00
797-07.56 MANHOLE DROP CONNECTION ASSEMBLY			
	5.000 EACH		
Civil Constructors, LLC		\$11,050.0000	\$55,250.00
Jones Bros. Contractors, LLC		\$6,500.0000	\$32,500.00
Vulcan Construction Materials, LLC		\$8,850.0000	\$44,250.00
797-07.75 TRAFFIC RATED FRAMES AND COVERS			
	28.000 EACH		
Civil Constructors, LLC		\$2,220.0000	\$62,160.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$42,000.00
Vulcan Construction Materials, LLC		\$468.0000	\$13,104.00
797-07.80 REMOVE SEWER MANHOLE			
	8.000 EACH		
Civil Constructors, LLC		\$1,510.0000	\$12,080.00
Jones Bros. Contractors, LLC		\$1,000.0000	\$8,000.00
Vulcan Construction Materials, LLC		\$8,120.0000	\$64,960.00
797-08.05 6IN PVC PIPE FOR SERVICE LATERAL			
	200.000 L.F.		
Civil Constructors, LLC		\$279.0000	\$55,800.00
Jones Bros. Contractors, LLC		\$250.0000	\$50,000.00
Vulcan Construction Materials, LLC		\$593.0000	\$118,600.00
797-08.07 4IN CLEAN OUT ASSEMBLY			
	20.000 EACH		
Civil Constructors, LLC		\$607.0000	\$12,140.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$60,000.00
Vulcan Construction Materials, LLC		\$1,820.0000	\$36,400.00
797-08.08 6IN CLEAN OUT ASSEMBLY			
	40.000 EACH		
Civil Constructors, LLC		\$944.0000	\$37,760.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$120,000.00
Vulcan Construction Materials, LLC		\$2,080.0000	\$83,200.00
797-09.44 CUT AND CAP 8IN GRAVITY			
	1.000 EACH		
Civil Constructors, LLC		\$6,020.0000	\$6,020.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$3,000.00
Vulcan Construction Materials, LLC		\$4,160.0000	\$4,160.00

			CONTRACT CNX267
		UNIT PRICE	EXTENSION
797-10.01 CONNECT 6IN SEWER TO EXIST. MANHOLE			
	2.000 EACH		
Civil Constructors, LLC		\$5,540.0000	\$11,080.00
Jones Bros. Contractors, LLC		\$7,500.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$5,200.0000	\$10,400.00
797-10.02 CONNECT 8IN SEWER TO EXIST. MANHOLE			
	5.000 EACH		
Civil Constructors, LLC		\$8,740.0000	\$43,700.00
Jones Bros. Contractors, LLC		\$7,500.0000	\$37,500.00
Vulcan Construction Materials, LLC		\$6,240.0000	\$31,200.00
797-10.07 CONNECT 8IN LATERAL TO SEWER LINE			
	2.000 EACH		
Civil Constructors, LLC		\$5,150.0000	\$10,300.00
Jones Bros. Contractors, LLC		\$7,000.0000	\$14,000.00
Vulcan Construction Materials, LLC		\$4,160.0000	\$8,320.00
797-10.09 CONNECT EX. 8IN SEWER TO NEW MANHOLE			
	9.000 EACH		
Civil Constructors, LLC		\$3,540.0000	\$31,860.00
Jones Bros. Contractors, LLC		\$7,000.0000	\$63,000.00
Vulcan Construction Materials, LLC		\$4,160.0000	\$37,440.00
797-11.15 48IN MH ADJUSTMENT INCREASE HEIGHT			
	8.000 V.F.		
Civil Constructors, LLC		\$1,540.0000	\$12,320.00
Jones Bros. Contractors, LLC		\$1,200.0000	\$9,600.00
Vulcan Construction Materials, LLC		\$2,450.0000	\$19,600.00
797-11.20 48IN MH ADJUSTMENT DECREASE HEIGHT			
	4.000 V.F.		
Civil Constructors, LLC		\$2,680.0000	\$10,720.00
Jones Bros. Contractors, LLC		\$1,650.0000	\$6,600.00
Vulcan Construction Materials, LLC		\$6,240.0000	\$24,960.00
797-11.25 RETIREIN PLACE 48IN MANHOLE			
	8.000 EACH		
Civil Constructors, LLC		\$1,630.0000	\$13,040.00
Jones Bros. Contractors, LLC		\$4,000.0000	\$32,000.00
Vulcan Construction Materials, LLC		\$4,160.0000	\$33,280.00
797-11.30 RETIREIN PLACE EXISTING SEWER <8IN			

1,667.000 L.F.

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$10,668.80 \$66,680.00

\$26,005.20

\$6.4000

\$40.0000

\$15.6000

		CONTRACT CNX267
	UNIT PRIC	
	GIWI TWO	
797-11.31 RETIREIN PLACE EXISTING SEWER 8IN-14IN		
	983.000 L.F.	
Civil Constructors, LLC	\$23.1000	\$22,707.30
Jones Bros. Contractors, LLC	\$40.0000	
Vulcan Construction Materials, LLC	\$26.0000	
797-11.34 REMOVE EXISTING SEWER <8IN		
	567.000 L.F.	
Civil Constructors, LLC	\$31.5000	\$17,860.50
Jones Bros. Contractors, LLC	\$60.0000	' '
Vulcan Construction Materials, LLC	\$661.0000	· ·
797-11.40 RESTORE ASPHALT		
	150.000 S.Y.	
Civil Constructors, LLC	\$155.0000	
Jones Bros. Contractors, LLC	\$140.0000	+ /
Vulcan Construction Materials, LLC	\$624.0000	\$93,600.00
797-11.41 RESTORE CONCRETE		
	50.000 S.Y.	
Civil Constructors, LLC	\$179.0000	\$8,950.00
Jones Bros. Contractors, LLC	\$175.0000	
Vulcan Construction Materials, LLC	\$1,350.0000	
797-11.42 RESTORE GRAVEL		
	40.000 S.Y.	

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$1,068.00 \$2,200.00

\$4,160.00

\$26.7000

\$55.0000

\$104.0000

### **SUB-TOTAL ROADWAY**

Civil Constructors, LLC	\$66,834,496.13
Jones Bros. Contractors, LLC	\$75,056,181.80
Vulcan Construction Materials, LLC	\$94,605,200.89

#### **SUB-TOTAL BOX BRIDGE**

Civil Constructors, LLC	\$2,010,700.00
Jones Bros. Contractors, LLC	\$1,402,800.00
Vulcan Construction Materials, LLC	\$3,458,900.00

## **SUB-TOTAL UTILITY**

Civil Constructors, LLC	\$24,835,821.25
Jones Bros. Contractors, LLC	\$27,185,218.86
Vulcan Construction Materials, LLC	\$35,660,575.75

### **TOTAL CONTRACT**

Civil Constructors, LLC	\$93,681,017.38
Jones Bros. Contractors, LLC	\$103,644,200.66
Vulcan Construction Materials, LLC	\$133,724,676.64

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

COUNTIES DAVIDSON, HUMPHREYS, MONTGOMERY, ROBERTSON, RUTHERFORD, SUMNER, WILLIAMSON, AND WILSON (Contract No. CNX331 Call 020)

R3SVAR-M3-058

THE SWEEPING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Blevins Enterprises, Inc.

\$389,300.00

Sweeping Corporation of America, LLC

\$465,602.80

CONTRACT CNX331

UNIT PRICE EXTENSION

## **MAINTENANCE CATEGORY**

719-01 SWEEPING

7,786.000 L.M.

 Blevins Enterprises, Inc.
 \$50.0000
 \$389,300.00

 Sweeping Corporation of America, LLC
 \$59.8000
 \$465,602.80

## **SUB-TOTAL MAINTENANCE**

Blevins Enterprises, Inc.	\$389,300.00
Sweeping Corporation of America, LLC	\$465,602.80

## TOTAL CONTRACT

Blevins Enterprises, Inc.	\$389,300.00
Sweeping Corporation of America, LLC	\$465,602.80

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

COUNTIES DAVIDSON, MONTGOMERY, ROBERTSON, RUTHERFORD, SUMNER, WILLIAMSON, AND WILSON (Contract No. CNX332 Call 021)

R3SVAR-M3-059

THE DRAIN CLEANING ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Blevins Enterprises, Inc.
Sweeping Corporation of America, LLC

\$421,000.00

\$476,900.00

		CONTRACT CNX332
MAINTENANCE CATEGORY	UNIT PRICE	EXTENSION
611-07.10 CLEAN DRAIN (TRENCH DRAIN)		
1,000.000 L.F.  Blevins Enterprises, Inc.  Sweeping Corporation of America, LLC	\$3.5000 \$2.5000	\$3,500.00 \$2,500.00
611-07.11 CLEAN DRAIN(WITH GRATE)		
5,000.000 EACH Blevins Enterprises, Inc. Sweeping Corporation of America, LLC	\$69.0000 \$89.0000	\$345,000.00 \$445,000.00
611-07.12 CLEAN DRAIN(WALL DRAIN)		
300.000 EACH Blevins Enterprises, Inc. Sweeping Corporation of America, LLC	\$49.0000 \$59.0000	\$14,700.00 \$17,700.00
611-07.13 PIPE CLEANING (<18IN DIA.)		
100.000 L.F. Blevins Enterprises, Inc. Sweeping Corporation of America, LLC	\$4.0000 \$3.0000	\$400.00 \$300.00
611-07.14 PIPE CLEANING (>OR=18IN DIA.)		
100.000 L.F. Blevins Enterprises, Inc. Sweeping Corporation of America, LLC	\$4.0000 \$4.0000	\$400.00 \$400.00
611-07.20 HEAVY DRAIN CLEANING		
5.000 EACH Blevins Enterprises, Inc. Sweeping Corporation of America, LLC	\$200.0000 \$200.0000	\$1,000.00 \$1,000.00
712-01.02 LANE CLOSURE		
40.000 EACH Blevins Enterprises, Inc. Sweeping Corporation of America, LLC	\$1,400.0000 \$250.0000	\$56,000.00 \$10,000.00

# **SUB-TOTAL MAINTENANCE**

Blevins Enterprises, Inc.	\$421,000.00
Sweeping Corporation of America, LLC	\$476,900.00

# TOTAL CONTRACT

Blevins Enterprises, Inc.	\$421,000.00
Sweeping Corporation of America, LLC	\$476,900.00

COUNTIES DAVIDSON, SMITH, SUMNER, AND WILLIAMSON (Contract No. CNX335 Call 022)

HSIP-REG3(217),R3SVAR-F3-035

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 7.50%

TOTAL CONTRACT

MarCor Construction, Inc.

\$1,285,953.87

CONTRACT C	NX335
------------	-------

			CC	ONTRACT CNX335
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
	MarCor Construction, Inc.	175.000 S.Y.	\$120.0000	\$21,000.00
701-01.01	CONCRETE SIDEWALK (4 ")	1,511.000 S.F.		
	MarCor Construction, Inc.	1,011.000 01	\$27.0000	\$40,797.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	10,977.000 S.F.		
	MarCor Construction, Inc.		\$46.0000	\$504,942.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)	1,654.000 S.F.		
	MarCor Construction, Inc.		\$60.0000	\$99,240.00
702-01	CONCRETE CURB	2.000 C.Y.	• • • • • • • • • • • • • • • • • • • •	
740.04	MarCor Construction, Inc.		\$1,010.0000	\$2,020.00
712-01	TRAFFIC CONTROL	1.000 LS	\$490.442.0000	¢490 442 00
713-02.21	MarCor Construction, Inc.  SIGN POST DELINEATION ENHANCEMENT		\$180,143.0000	\$180,143.00
	MarCor Construction, Inc.	42.000 L.F.	\$49.1400	\$2,063.88
713-11.01	"U" SECTION STEEL POSTS	387.000 LB.		
	MarCor Construction, Inc.		\$34.9700	\$13,533.39
713-13.02	2 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)	90.000 S.F.		
	MarCor Construction, Inc.		\$55.8900	\$5,030.10
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT	2.000 EACH		
746 02 02	MarCor Construction, Inc.		\$945.0000	\$1,890.00
710-02.03	MarCor Construction, Inc.	4,478.000 L.F.	\$12.0000	\$53,736.00
716-02 05	5 PLASTIC PAVEMENT MARKING (STOP LINE)		\$12.0000	<del>\$</del> 53,736.00
32100	MarCor Construction, Inc.	3,550.740 L.F.	\$25.0000	\$88,768.50

CO	NTR	ACT	CNX335	

\$79,200.00

\$79,200.0000

		UNIT PRICE	EXTENSION
716-02.09 PLASTIC PAVEMENT MARKI	NG (LONGITUDINAL CROSS-WALK)		
	4,222.000 L.F.		
MarCor Construction, Inc.		\$45.0000	\$189,990.00
716-04.12 PLASTIC PAVEMENT MARKI	NG (YIELD LINE)		
	120.000 S.F.		
MarCor Construction, Inc.		\$30.0000	\$3,600.00
717-01 MOBILIZATION			
	1.000 LS		

MarCor Construction, Inc.

# **SUB-TOTAL ROADWAY**

MarCor Construction, Inc. \$1,285,953.87

#### **TOTAL CONTRACT**

MarCor Construction, Inc. \$1,285,953.87

#### DICKSON COUNTY (Contract No. CNX251 Call 023)

BR-STP/HIP-46(33),22015-3214-94

THE CONSTRUCTION OF A CONCRETE BOX BEAM BRIDGE ON S.R. 46 OVER YELLOW CREEK (L.M. 19.06), INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.163 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2025

DBE GOAL 9.50%

	TOTAL CONTRACT
Dement Construction Company, LLC	\$7,796,372.60
Bell & Associates Construction, LLC	\$8,221,164.41
Jones Bros. Contractors, LLC	\$8,783,164.51

UNIT PRICE EXTENSION

BO A DW	AV CATECORY		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Dement Construction Company, LLC		\$48,135.0000	\$48,135.00
	Bell & Associates Construction, LLC		\$40,000.0000	\$40,000.00
	Jones Bros. Contractors, LLC		\$40,000.0000	\$40,000.00
109-10.01	TRAINEE			
		1,180.000 HOUR		
	Dement Construction Company, LLC	•	\$0.8000	\$944.00
	Bell & Associates Construction, LLC		\$0.8000	\$944.00
	Jones Bros. Contractors, LLC		\$0.8000	\$944.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Dement Construction Company, LLC	1.000 20	\$369,174.9300	\$369,174.93
	Bell & Associates Construction, LLC		\$35,900.0000	\$35,900.00
	Jones Bros. Contractors, LLC		\$600,000.0000	\$600,000.00
			<b>¥</b>	<b>+</b> ,
202-01.56	REMOVAL OF STRUCTURES & OBSTRUCTIONS (ST	TEPS AND CONCRETE WALK)		
		1.000 LS		
	Dement Construction Company, LLC	1.000 L3	¢10,000,0000	\$10,000.00
	Bell & Associates Construction, LLC		\$10,000.0000 \$5,000.0000	\$5,000.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
	Conce Bros. Contractors, ELO		Ψ2,000.0000	Ψ2,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
200 0.	None a pramove Exercition (energical lep)			
	Demont Construction Company II C	8,089.000 C.Y.	¢22,0000	\$266 027 00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$33.0000 \$29.7500	\$266,937.00 \$240,647.75
	Jones Bros. Contractors, LLC		\$29.7500	\$169,869.00
	dones bios. contractors, ELO		Ψ21.0000	Ψ100,000.00
203-02 01	BORROW EXCAVATION (GRADED SOLID ROCK)			
203-02.01	BONNOW EXCAVATION (CHAPED COLID ROOM)	44 500 000 TON		
	Demont Construction Comment II C	14,500.000 TON	<b>#00.000</b>	<b>#</b> FF4 000 00
	Dement Construction Company, LLC		\$38.0000 \$47.3500	\$551,000.00
	Bell & Associates Construction, LLC Jones Bros. Contractors, LLC		\$47.2500 \$29.0000	\$685,125.00 \$420,500.00
	Jones Bios. Contractors, LLC		φ29.0000	φ420,300.00
203-03	POPPOW EVCAVATION (LINICI ASSIEIED)			
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		2,146.000 C.Y.	<b>^</b>	
	Dement Construction Company, LLC		\$45.0000	\$96,570.00
	Bell & Associates Construction, LLC		\$88.0000	\$188,848.00
	Jones Bros. Contractors, LLC		\$64.0000	\$137,344.00
202.04	DI ACINO AND ODDE ADINO TORGO!!			
203-04	PLACING AND SPREADING TOPSOIL			
		894.000 C.Y.		
	Dement Construction Company, LLC		\$25.0000	\$22,350.00
	Bell & Associates Construction, LLC		\$23.0000	\$20,562.00
	Jones Bros. Contractors, LLC		\$16.0000	\$14,304.00

			UNIT PRICE	EXTENSION
203-05	UNDERCUTTING			
		450.000 C.Y.		
	Dement Construction Company, LLC		\$33.0000	\$14,850.00
	Bell & Associates Construction, LLC		\$61.0000	\$27,450.00
	Jones Bros. Contractors, LLC		\$33.0000	\$14,850.00
	donos bros. Contractoro, EEG		φοσ.σσσσ	ψ11,000.00
203-07	FURNISHING & SPREADING TOPSOIL			
203-07	TORRIGITING & STREADING TO SOIL	4 007 000 0 V		
		1,667.000 C.Y.		
	Dement Construction Company, LLC		\$45.0000	\$75,015.00
	Bell & Associates Construction, LLC		\$80.0000	\$133,360.00
	Jones Bros. Contractors, LLC		\$25.0000	\$41,675.00
203-50	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Dement Construction Company, LLC		\$495,657.0000	\$495,657.00
	Bell & Associates Construction, LLC		\$518,000.0000	\$518,000.00
	Jones Bros. Contractors, LLC		\$400,000.0000	\$400,000.00
209-05	SEDIMENT REMOVAL			
		94.000 C.Y.		
	Dement Construction Company, LLC	34.000 3.1.	\$50.0000	\$4,700.00
	Bell & Associates Construction, LLC		\$52.0000	\$4,888.00
	Jones Bros. Contractors, LLC		\$36.0000	\$3,384.00
	Jones Blos. Gondactors, LEG		ψ30.0000	ψ5,504.00
200 00 02	TEMPORARY SILT FENCE (WITH BACKING)			
209-00.02	TEMPORARI SILI PLINCE (WITH BACKING)			
		5,772.000 L.F.	4	
	Dement Construction Company, LLC		\$5.2500	\$30,303.00
	Bell & Associates Construction, LLC		\$6.0000	\$34,632.00
	Jones Bros. Contractors, LLC		\$6.5000	\$37,518.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		1,432.000 L.F.		
	Dement Construction Company, LLC		\$2.0000	\$2,864.00
	Bell & Associates Construction, LLC		\$2.2500	\$3,222.00
	Jones Bros. Contractors, LLC		\$3.0000	\$4,296.00
209-08.05	ENHANCED SILT FENCE CHECK (V-DITCH)			
		4.000 EACH		
	Dement Construction Company, LLC		\$250.0000	\$1,000.00
	Bell & Associates Construction, LLC		\$280.0000	\$1,120.00
	Jones Bros. Contractors, LLC		\$750.0000	\$3,000.00
	, -		, <del></del>	, - ,
209-08.08	ENHANCED ROCK CHECK DAM			
		2 000 EACH		
	Demant Construction Comm. 11.0	2.000 EACH	<b>#050 0000</b>	<b>#4</b> 000 00
	Dement Construction Company, LLC		\$650.0000	\$1,300.00
	Bell & Associates Construction, LLC		\$1,150.0000	\$2,300.00
	Jones Bros. Contractors, LLC		\$1,600.0000	\$3,200.00

			UNIT PRICE	EXTENSION
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		4.000 EACH		
	Dement Construction Company, LLC		\$150.0000	\$600.00
	Bell & Associates Construction, LLC		\$800.0000	\$3,200.00
	Jones Bros. Contractors, LLC		\$500.0000	\$2,000.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
		471.000 L.F.		
	Dement Construction Company, LLC		\$92.0000	\$43,332.00
	Bell & Associates Construction, LLC		\$160.0000	\$75,360.00
	Jones Bros. Contractors, LLC		\$90.0000	\$42,390.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		2,701.000 TON		
	Dement Construction Company, LLC		\$42.0000	\$113,442.00
	Bell & Associates Construction, LLC		\$35.5000	\$95,885.50
	Jones Bros. Contractors, LLC		\$40.0000	\$108,040.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		132.000 TON		
	Dement Construction Company, LLC		\$50.0000	\$6,600.00
	Bell & Associates Construction, LLC		\$68.0000	\$8,976.00
	Jones Bros. Contractors, LLC		\$60.0000	\$7,920.00
303-10.04	MINERAL AGGREGATE (SIZE **)			
		1,855.000 TON		
	Dement Construction Company, LLC		\$58.4500	\$108,424.75
	Bell & Associates Construction, LLC		\$68.0000	\$126,140.00
	Jones Bros. Contractors, LLC		\$47.0000	\$87,185.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAI	DING A		
		241.000 TON		
	Dement Construction Company, LLC		\$235.0000	\$56,635.00
	Bell & Associates Construction, LLC		\$175.0000	\$42,175.00
	Jones Bros. Contractors, LLC		\$170.0000	\$40,970.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAI	DING B-M2		
		468.000 TON		
	Dement Construction Company, LLC		\$240.0000	\$112,320.00
	Bell & Associates Construction, LLC		\$144.0000	\$67,392.00
	Jones Bros. Contractors, LLC		\$180.0000	\$84,240.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		7.000 TON		
	Dement Construction Company, LLC		\$750.0000	\$5,250.00
	Bell & Associates Construction, LLC		\$112.0000	\$784.00
	Jones Bros. Contractors, LLC		\$900.0000	\$6,300.00

			UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	, ,	21.000 TON		
	Dement Construction Company, LLC		\$40.0000	\$840.00
	Bell & Associates Construction, LLC		\$9.0000	\$189.00
	Jones Bros. Contractors, LLC		\$100.0000	\$2,100.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		3.000 TON		
	Dement Construction Company, LLC		\$1,100.0000	\$3,300.00
	Bell & Associates Construction, LLC		\$2,000.0000	\$6,000.00
	Jones Bros. Contractors, LLC		\$900.0000	\$2,700.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		67.000 TON		
	Dement Construction Company, LLC		\$250.0000	\$16,750.00
	Bell & Associates Construction, LLC		\$189.0000	\$12,663.00
	Jones Bros. Contractors, LLC		\$250.0000	\$16,750.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	,	272.000 TON		
	Dement Construction Company, LLC		\$250.0000	\$68,000.00
	Bell & Associates Construction, LLC		\$185.0000	\$50,320.00
	Jones Bros. Contractors, LLC		\$249.0000	\$67,728.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	IN WIDTH)		
	, ,,	, 1.000 L.M.		
	Dement Construction Company, LLC		\$5,000.0000	\$5,000.00
	Bell & Associates Construction, LLC		\$5,900.0000	\$5,900.00
	Jones Bros. Contractors, LLC		\$5,260.0000	\$5,260.00
607-03.30	18" PIPE CULVERT			
		60.000 L.F.		
	Dement Construction Company, LLC		\$150.0000	\$9,000.00
	Bell & Associates Construction, LLC		\$133.0000	\$7,980.00
	Jones Bros. Contractors, LLC		\$100.0000	\$6,000.00
607-07.30	36" PIPE CULVERT			
		39.000 L.F.		
	Dement Construction Company, LLC		\$200.0000	\$7,800.00
	Bell & Associates Construction, LLC		\$300.0000	\$11,700.00
	Jones Bros. Contractors, LLC		\$200.0000	\$7,800.00
611-07.54	18IN ENDWALL (CROSS DRAIN) 3:1			
	,	2.000 EACH		
	Dement Construction Company, LLC		\$10,000.0000	\$20,000.00
	Bell & Associates Construction, LLC		\$7,400.0000	\$14,800.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$5,000.00

CONTRACT	CNX251
----------	--------

		UNIT PRICE	EXTENSION
		UNIT PRICE	LATENSION
611-07.63 36IN ENDWALL (CROSS DRAIN) 3:1			
	2.000 EACH		
Dement Construction Company, LLC		\$10,000.0000	\$20,000.00
Bell & Associates Construction, LLC		\$20,000.0000	\$40,000.00
Jones Bros. Contractors, LLC		\$6,000.0000	\$12,000.00
705-01.14 ROCK DRILLING FOR GUARDRAIL POST			
	66.000 EACH		
Dement Construction Company, LLC		\$184.0000	\$12,144.00
Bell & Associates Construction, LLC		\$207.0000	\$13,662.00
Jones Bros. Contractors, LLC		\$125.0000	\$8,250.00
705-06.01 W BEAM GR (TYPE 2) MASH TL-3			
	975.000 L.F.		
Dement Construction Company, LLC		\$28.4200	\$27,709.50
Bell & Associates Construction, LLC		\$32.0000	\$31,200.00
Jones Bros. Contractors, LLC		\$50.0000	\$48,750.00
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
705-00.10 OK TEKIMINAETKAIEMO END (TTTE 10) MAOIT TE-0	1.000 EACH		
Dement Construction Company, LLC	1.000 EAOH	\$1,519.0000	\$1,519.00
Bell & Associates Construction, LLC		\$1,700.0000	\$1,700.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL-3			
, , , , , , , , , , , , , , , , , , ,	2.000 EACH		
Dement Construction Company, LLC		\$1,041.0000	\$2,082.00
Bell & Associates Construction, LLC		\$1,100.0000	\$2,200.00
Jones Bros. Contractors, LLC		\$2,000.0000	\$4,000.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
	2.000 EACH		
Dement Construction Company, LLC		\$3,200.0000	\$6,400.00
Bell & Associates Construction, LLC		\$3,500.0000	\$7,000.00
Jones Bros. Contractors, LLC		\$5,000.0000	\$10,000.00
705-06.25 THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	2.000 EACH		
Dement Construction Company, LLC		\$2,028.0000	\$4,056.00
Bell & Associates Construction, LLC		\$2,100.0000	\$4,200.00
Jones Bros. Contractors, LLC		\$4,500.0000	\$9,000.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
,	1.000 EACH		
Dement Construction Company, LLC		\$2,837.0000	\$2,837.00
Bell & Associates Construction, LLC		\$3,000.0000	\$3,000.00
Jones Bros. Contractors, LLC		\$4,800.0000	\$4,800.00

CONTRACT	CNX251
----------	--------

			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		325.000 L.F.		
	Dement Construction Company, LLC		\$1.0000	\$325.00
	Bell & Associates Construction, LLC		\$1.1000	\$357.50
	Jones Bros. Contractors, LLC		\$2.0000	\$650.00
706-06.03	RADIUS RAIL			
		120.670 L.F.		
	Dement Construction Company, LLC		\$34.6100	\$4,176.39
	Bell & Associates Construction, LLC		\$38.0000	\$4,585.46
	Jones Bros. Contractors, LLC		\$52.5000	\$6,335.18
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		412.000 L.F.		
	Dement Construction Company, LLC		\$2.0000	\$824.00
	Bell & Associates Construction, LLC		\$2.2500	\$927.00
	Jones Bros. Contractors, LLC		\$2.5000	\$1,030.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
		10.000 EACH		
	Dement Construction Company, LLC		\$1,000.0000	\$10,000.00
	Bell & Associates Construction, LLC		\$950.0000	\$9,500.00
	Jones Bros. Contractors, LLC		\$500.0000	\$5,000.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		102.000 TON		
	Dement Construction Company, LLC		\$54.5000	\$5,559.00
	Bell & Associates Construction, LLC		\$93.0000	\$9,486.00
	Jones Bros. Contractors, LLC		\$60.0000	\$6,120.00
709-05.06	6 MACHINED RIP-RAP (CLASS A-1)			
		286.000 TON		
	Dement Construction Company, LLC		\$54.5000	\$15,587.00
	Bell & Associates Construction, LLC		\$101.0000	\$28,886.00
	Jones Bros. Contractors, LLC		\$60.0000	\$17,160.00
709-05.09	MACHINED RIP-RAP (CLASS C)			
		1,678.000 TON		
	Dement Construction Company, LLC		\$54.5000	\$91,451.00
	Bell & Associates Construction, LLC		\$124.0000	\$208,072.00
	Jones Bros. Contractors, LLC		\$60.0000	\$100,680.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Dement Construction Company, LLC	-	\$167,395.0000	\$167,395.00
	Bell & Associates Construction, LLC		\$35,000.0000	\$35,000.00
	Jones Bros. Contractors, LLC		\$100,000.0000	\$100,000.00

			•	CIVINACI CIVAZSI
			UNIT PRICE	EXTENSION
712-02.10 PORTABLE	BARRIER RAIL (MASH TL-3)			
	,	450.000 L.F.		
Dement Co	onstruction Company, LLC		\$183.0000	\$82,350.00
	ociates Construction, LLC		\$135.0000	\$60,750.00
Jones Bros	. Contractors, LLC		\$250.0000	\$112,500.00
712-02.60 TEMPORAF	RY WORK ZONE CRASH CUSHION (MAS	H TL-3)		
		2.000 EACH		
Dement Co	onstruction Company, LLC		\$7,100.0000	\$14,200.00
	ociates Construction, LLC		\$13,500.0000	\$27,000.00
Jones Bros	. Contractors, LLC		\$11,500.0000	\$23,000.00
712-04.01 FLEXIBLE [	DRUMS (CHANNELIZING)			
		30.000 EACH		
Dement Co	onstruction Company, LLC		\$40.0000	\$1,200.00
Bell & Asso	ociates Construction, LLC		\$35.0000	\$1,050.00
Jones Bros	. Contractors, LLC		\$40.0000	\$1,200.00
712-04.50 BARRIER R	AIL DELINEATOR			
		16.000 EACH		
Dement Co	onstruction Company, LLC		\$15.5000	\$248.00
Bell & Asso	ociates Construction, LLC		\$11.0000	\$176.00
Jones Bros	. Contractors, LLC		\$15.0000	\$240.00
712-06 SIGNS (COI	NSTRUCTION)			
		765.000 S.F.		
Dement Co	onstruction Company, LLC		\$7.8500	\$6,005.25
	ociates Construction, LLC		\$8.0000	\$6,120.00
Jones Bros	. Contractors, LLC		\$7.8500	\$6,005.25
712-07.03 TEMPORAF	RY BARRICADES (TYPE III)			
		138.000 L.F.		
Dement Co	onstruction Company, LLC		\$21.0000	\$2,898.00
Bell & Asso	ociates Construction, LLC		\$33.5000	\$4,623.00
Jones Bros	. Contractors, LLC		\$21.0000	\$2,898.00
712-09.02 REMOVABL	LE PAVEMENT MARKING (8" BARRIER L	.INE)		
		3,852.000 L.F.		
Dement Co	onstruction Company, LLC		\$6.0000	\$23,112.00
Bell & Asso	ociates Construction, LLC		\$6.5000	\$25,038.00
Jones Bros	. Contractors, LLC		\$6.0000	\$23,112.00
712-09.04 REMOVABL	LE PAVEMENT MARKING (STOP LINE)			
		57.000 L.F.		
Dement Co	nstruction Company, LLC		\$30.0000	\$1,710.00
Bell & Asso	ociates Construction, LLC		\$34.0000	\$1,938.00
Jones Bros	. Contractors, LLC		\$30.0000	\$1,710.00

		UNIT PRICE	EXTENSION
713-02.04 DELINEATOR (MILE MARKER) & STEEL POST			
,	1.000 EACH		
Dement Construction Company, LLC		\$150.0000	\$150.00
Bell & Associates Construction, LLC		\$332.5000	\$332.50
Jones Bros. Contractors, LLC		\$150.0000	\$150.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	1.000 LS		
Dement Construction Company, LLC		\$50.0000	\$50.00
Bell & Associates Construction, LLC		\$440.0000	\$440.00
Jones Bros. Contractors, LLC		\$50.0000	\$50.00
713-16.20 SIGNS (R1-1)			
	2.000 EACH		
Dement Construction Company, LLC		\$275.0000	\$550.00
Bell & Associates Construction, LLC		\$330.0000	\$660.00
Jones Bros. Contractors, LLC		\$275.0000	\$550.00
713-16.21 SIGNS (OM-3L)			
	2.000 EACH		
Dement Construction Company, LLC		\$150.0000	\$300.00
Bell & Associates Construction, LLC		\$345.0000	\$690.00
Jones Bros. Contractors, LLC		\$150.0000	\$300.00
713-16.22 SIGNS (OM-3R)			
	2.000 EACH		
Dement Construction Company, LLC		\$150.0000	\$300.00
Bell & Associates Construction, LLC		\$345.0000	\$690.00
Jones Bros. Contractors, LLC		\$150.0000	\$300.00
713-16.23 SIGNS (TN-5)			
	2.000 EACH		
Dement Construction Company, LLC		\$155.0000	\$310.00
Bell & Associates Construction, LLC		\$395.0000	\$790.00
Jones Bros. Contractors, LLC		\$155.0000	\$310.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 Co	OLOR)		
	11.000 EACH		
Dement Construction Company, LLC		\$300.0000	\$3,300.00
Bell & Associates Construction, LLC		\$335.0000	\$3,685.00
Jones Bros. Contractors, LLC		\$300.0000	\$3,300.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	7.000 EACH		
Dement Construction Company, LLC		\$100.0000	\$700.00
Bell & Associates Construction, LLC		\$110.0000	\$770.00
Jones Bros. Contractors, LLC		\$100.0000	\$700.00

			CC	INTRACT CNX251
			UNIT PRICE	EXTENSION
716-02.0	5 PLASTIC PAVEMENT MARKING (STOP LINE)			
		14.000 L.F.		
	Dement Construction Company, LLC		\$50.0000	\$700.00
	Bell & Associates Construction, LLC		\$56.0000	\$784.00
	Jones Bros. Contractors, LLC		\$50.0000	\$700.00
716-05.0°	1 PAINTED PAVEMENT MARKING (4" LINE)			
		2.000 L.M.		
	Dement Construction Company, LLC		\$1,800.0000	\$3,600.00
	Bell & Associates Construction, LLC		\$2,000.0000	\$4,000.00
	Jones Bros. Contractors, LLC		\$1,800.0000	\$3,600.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		1.000 L.M.		
	Dement Construction Company, LLC		\$3,500.0000	\$3,500.00
	Bell & Associates Construction, LLC		\$3,800.0000	\$3,800.00
	Jones Bros. Contractors, LLC		\$3,500.0000	\$3,500.00
716-12.02	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LIN	NE)		
		2.000 L.M.		
	Dement Construction Company, LLC		\$8,000.0000	\$16,000.00
	Bell & Associates Construction, LLC		\$9,000.0000	\$18,000.00
	Jones Bros. Contractors, LLC		\$8,000.0000	\$16,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Dement Construction Company, LLC		\$775,000.0000	\$775,000.00
	Bell & Associates Construction, LLC		\$400,000.0000	\$400,000.00
	Jones Bros. Contractors, LLC		\$830,000.0000	\$830,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 EACH		
	Dement Construction Company, LLC		\$110,000.0000	\$110,000.00
	Bell & Associates Construction, LLC		\$85,000.0000	\$85,000.00
	Jones Bros. Contractors, LLC		\$115,000.0000	\$115,000.00
740-07.04	4 GEOGRID REINFORCEMENT TYPE 2			
		3,133.000 S.Y.		
	Dement Construction Company, LLC		\$6.0000	\$18,798.00
	Bell & Associates Construction, LLC		\$9.6000	\$30,076.80
	Jones Bros. Contractors, LLC		\$10.0000	\$31,330.00
740-10.03	3 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		919.000 S.Y.		
	Dement Construction Company, LLC		\$5.0000	\$4,595.00
	Bell & Associates Construction, LLC		\$5.8000	\$5,330.20
	Jones Bros. Contractors, LLC		\$10.0000	\$9,190.00

			CO	NIRACI CNX251
			UNIT PRICE	EXTENSION
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		848.000 S.Y.		
	Dement Construction Company, LLC		\$8.8300	\$7,487.84
	Bell & Associates Construction, LLC		\$5.5000	\$4,664.00
	Jones Bros. Contractors, LLC		\$10.0000	\$8,480.00
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
		1,332.000 L.F.		
	Dement Construction Company, LLC		\$4.5000	\$5,994.00
	Bell & Associates Construction, LLC		\$5.0000	\$6,660.00
	Jones Bros. Contractors, LLC		\$6.5000	\$8,658.00
801-01	SEEDING (WITH MULCH)			
		12.000 UNIT		
	Dement Construction Company, LLC		\$150.0000	\$1,800.00
	Bell & Associates Construction, LLC		\$84.0000	\$1,008.00
	Jones Bros. Contractors, LLC		\$75.0000	\$900.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		126.000 UNIT		
	Dement Construction Company, LLC		\$100.0000	\$12,600.00
	Bell & Associates Construction, LLC		\$39.0000	\$4,914.00
	Jones Bros. Contractors, LLC		\$35.0000	\$4,410.00
801-01.34	GRASS SEED MIX (RIPZN/FLPL)			
		23.000 UNIT		
	Dement Construction Company, LLC		\$200.0000	\$4,600.00
	Bell & Associates Construction, LLC		\$169.0000	\$3,887.00
	Jones Bros. Contractors, LLC		\$150.0000	\$3,450.00
801-02	SEEDING (WITHOUT MULCH)			
		63.000 UNIT		
	Dement Construction Company, LLC		\$75.0000	\$4,725.00
	Bell & Associates Construction, LLC		\$28.0000	\$1,764.00
	Jones Bros. Contractors, LLC		\$25.0000	\$1,575.00
801-03	WATER (SEEDING & SODDING)			
		20.000 M.G.		
	Dement Construction Company, LLC		\$100.0000	\$2,000.00
	Bell & Associates Construction, LLC		\$22.0000	\$440.00
	Jones Bros. Contractors, LLC		\$20.0000	\$400.00
802-01.10	TREES (RED MAPLE)			
	, .	8.000 EACH		
	Dement Construction Company, LLC		\$400.0000	\$3,200.00
	Bell & Associates Construction, LLC		\$550.0000	\$4,400.00
	Jones Bros. Contractors, LLC		\$500.0000	\$4,000.00

				CONTRACT CNYSEA
				CONTRACT CNX251
			UNIT PRICE	EXTENSION
802-01.11	TREES (SUGAR MAPLE)			
	,	8.000 EACH		
	Dement Construction Company, LLC		\$400.0000	\$3,200.00
	Bell & Associates Construction, LLC		\$550.0000	\$4,400.00
	Jones Bros. Contractors, LLC		\$500.0000	\$4,000.00
802-12.01	ACER NEGUNDO (BOX ELDER SEEDLNG B.R.)			
	•	37.000 EACH		
	Dement Construction Company, LLC		\$20.0000	\$740.00
	Bell & Associates Construction, LLC		\$11.0000	\$407.00
	Jones Bros. Contractors, LLC		\$10.0000	\$370.00
802-12.26	PLATANUS OCCIDENTALIS (SYCAMORE SEEDLNG B.R.)			
		37.000 EACH		
	Dement Construction Company, LLC		\$20.0000	\$740.00
	Bell & Associates Construction, LLC		\$11.0000	\$407.00
	Jones Bros. Contractors, LLC		\$10.0000	\$370.00
802-12.40	SALIX NIGRA (BLACK WILLOW SEEDLNG B.R.)			
		717.000 EACH		
	Dement Construction Company, LLC		\$20.0000	\$14,340.00
	Bell & Associates Construction, LLC		\$11.0000	\$7,887.00
	Jones Bros. Contractors, LLC		\$10.0000	\$7,170.00
805-12.02	EROSION CONTROL BLANKET (TYPE II)			
		8,251.000 S.Y.		
	Dement Construction Company, LLC		\$1.1500	\$9,488.65
	Bell & Associates Construction, LLC		\$2.8000	\$23,102.80
				A

Jones Bros. Contractors, LLC

\$20,627.50

\$2.5000

		co	NTRACT CNX251
BRIDGE CATEGORY		UNIT PRICE	EXTENSION
202-01.02 REMOVAL OF ASBESTOS	1.000 LS		
Demont Construction Comments II C	1.000 LS	<b>#07.050.0000</b>	<b>#07.050.00</b>
Dement Construction Company, LLC Bell & Associates Construction, LLC		\$37,250.0000 \$28,000.0000	\$37,250.00 \$28,000.00
Jones Bros. Contractors, LLC		\$27,000.0000	\$27,000.00
202-04.01 REMOVAL OF STRUCTURES (BR. NO. 22-SR046-19.06)			
·	1.000 LS		
Dement Construction Company, LLC		\$387,432.0000	\$387,432.00
Bell & Associates Construction, LLC		\$171,500.0000	\$171,500.00
Jones Bros. Contractors, LLC		\$400,000.0000	\$400,000.00
204-02.01 DRY EXCAVATION (BRIDGES)			
	276.000 C.Y.		
Dement Construction Company, LLC		\$41.0000	\$11,316.00
Bell & Associates Construction, LLC		\$34.0000	\$9,384.00
Jones Bros. Contractors, LLC		\$45.0000	\$12,420.00
204-14 CORE DRILLING FOR PILES(ROCK)			
	313.000 L.F.		
Dement Construction Company, LLC		\$425.0000	\$133,025.00
Bell & Associates Construction, LLC		\$338.0000	\$105,794.00
Jones Bros. Contractors, LLC		\$787.0000	\$246,331.00
204-15 CORE DRILLING FOR PILES(SOIL)			
	961.000 L.F.		
Dement Construction Company, LLC		\$250.0000	\$240,250.00
Bell & Associates Construction, LLC		\$140.0000	\$134,540.00
Jones Bros. Contractors, LLC		\$787.0000	\$756,307.00
303-01.02 GRANULAR BACKFILL (BRIDGES)			
	64.000 TON		
Dement Construction Company, LLC		\$65.0000	\$4,160.00
Bell & Associates Construction, LLC		\$63.0000	\$4,032.00
Jones Bros. Contractors, LLC		\$50.0000	\$3,200.00
604-02.03 EPOXY COATED REINFORCING STEEL			
	93,089.000 LB.		
Dement Construction Company, LLC		\$1.5000	\$139,633.50
Bell & Associates Construction, LLC		\$2.6000	\$242,031.40
Jones Bros. Contractors, LLC		\$2.2200	\$206,657.58
604-03.01 CLASS A CONCRETE (BRIDGES)			
	124.000 C.Y.		
Dement Construction Company, LLC		\$1,325.0000	\$164,300.00
Bell & Associates Construction, LLC		\$1,340.0000	\$166,160.00
Jones Bros. Contractors, LLC		\$1,400.0000	\$173,600.00

				CONTRACT CNIV254
				CONTRACT CNX251
			UNIT PRICE	EXTENSION
604-03.02	STEEL BAR REINFORCEMENT (BRIDGES)			
	(2.1.2.2.2.)	26,570.000 LB.		
	Dement Construction Company, LLC	20,010.000 25.	\$1.4000	\$37,198.00
	Bell & Associates Construction, LLC		\$2.4000	\$63,768.00
	Jones Bros. Contractors, LLC		\$1.5000	\$39,855.00
604-03 04	PAVEMENT @ BRIDGE ENDS			
004 00.04	TAVEMENT © BRIDGE ENDO	218.000 S.Y.		
	Dement Construction Company, LLC	210.000 0.11	\$495.0000	\$107,910.00
	Bell & Associates Construction, LLC		\$550.0000	\$119,900.00
	Jones Bros. Contractors, LLC		\$400.0000	\$87,200.00
604-03 0 <u>0</u>	CLASS D CONCRETE (BRIDGE DECK)			
004-03.09	CLASS D CONCRETE (BRIDGE DECK)	364.000 C.Y.		
	Dement Construction Company, LLC	364.000 C. Y.	¢4 225 0000	\$492 200 00
	Bell & Associates Construction, LLC		\$1,325.0000 \$1,720.0000	\$482,300.00 \$626,080.00
	Jones Bros. Contractors, LLC		\$1,200.0000	\$436,800.00
			<b>,</b> ,	<b>,</b> ,
604-03.74	CLASS X CONCRETE			
		62.000 C.Y.		
	Dement Construction Company, LLC		\$1,895.0000	\$117,490.00
	Bell & Associates Construction, LLC		\$3,530.0000	\$218,860.00
	Jones Bros. Contractors, LLC		\$1,800.0000	\$111,600.00
604-04.01	APPLIED TEXTURE FINISH (NEW STRUCTURES)			
		1,464.000 S.Y.		
	Dement Construction Company, LLC		\$9.9500	\$14,566.80
	Bell & Associates Construction, LLC		\$11.0000	\$16,104.00
	Jones Bros. Contractors, LLC		\$11.0000	\$16,104.00
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
		1,411.000 S.Y.		
	Dement Construction Company, LLC		\$3.0900	\$4,359.99
	Bell & Associates Construction, LLC		\$3.5000	\$4,938.50
	Jones Bros. Contractors, LLC		\$6.0000	\$8,466.00
606-03.03	STEEL PILES (12 INCH)			
		585.000 L.F.		
	Dement Construction Company, LLC		\$76.0000	\$44,460.00
	Bell & Associates Construction, LLC		\$114.0000	\$66,690.00
	Jones Bros. Contractors, LLC		\$100.0000	\$58,500.00
606-03.06	PILE TIPS (STEEL PILES, 12 INCH)			
		20.000 EACH	<b>^</b>	

Dement Construction Company, LLC

Bell & Associates Construction, LLC

Jones Bros. Contractors, LLC

PAGE	

\$5,700.00

\$5,000.00

\$4,000.00

\$285.0000

\$250.0000

\$200.0000

			•	CONTRACT CNX251
			UNIT PRICE	EXTENSION
606-20.03	STEEL PIPE PILES (18-INCH)			
		1,460.000 L.F.		
	Dement Construction Company, LLC		\$159.0000	\$232,140.00
	Bell & Associates Construction, LLC		\$330.0000	\$481,800.00
	Jones Bros. Contractors, LLC		\$145.0000	\$211,700.00
606-20.06	PILE TIPS (STEEL PIPE PILES, 18-INCH)			
		18.000 EACH		
	Dement Construction Company, LLC		\$875.0000	\$15,750.00
	Bell & Associates Construction, LLC		\$1,400.0000	\$25,200.00
	Jones Bros. Contractors, LLC		\$440.0000	\$7,920.00
615-02.25	PRESTRESSED CONCRETE BOX BEAM (39" X 48")			
		1,373.000 L.F.		
	Dement Construction Company, LLC		\$675.0000	\$926,775.00
	Bell & Associates Construction, LLC		\$850.0000	\$1,167,050.00
	Jones Bros. Contractors, LLC		\$600.0000	\$823,800.00
617-02	BRIDGE DECK CRACK SEALING			
		332.000 L.F.		
	Dement Construction Company, LLC		\$3.0000	\$996.00
	Bell & Associates Construction, LLC		\$22.0000	\$7,304.00
	Jones Bros. Contractors, LLC		\$3.0000	\$996.00
617-05	SEALANT (HMWM)			
		2.000 GAL.		
	Dement Construction Company, LLC		\$250.0000	\$500.00
	Bell & Associates Construction, LLC		\$2,300.0000	\$4,600.00
	Jones Bros. Contractors, LLC		\$500.0000	\$1,000.00
620-05.02	STANDARD CONCRETE CLASSIC PARAPET RAIL			
		618.000 L.F.		
	Dement Construction Company, LLC		\$575.0000	\$355,350.00
	Bell & Associates Construction, LLC		\$600.0000	\$370,800.00
	Jones Bros. Contractors, LLC		\$250.0000	\$154,500.00
621-05.02	TEMPORARY SHORING			
		1.000 LS		
	Dement Construction Company, LLC		\$15,000.0000	\$15,000.00
	Bell & Associates Construction, LLC		\$43,500.0000	\$43,500.00
	Jones Bros. Contractors, LLC		\$500,000.0000	\$500,000.00
625-02.40	DRILLED SHAFT (SH-SCC) CONCRETE			
		84.000 C.Y.		
	Dement Construction Company, LLC		\$475.0000	\$39,900.00
	Bell & Associates Construction, LLC		\$805.0000	\$67,620.00
	Jones Bros. Contractors, LLC		\$550.0000	\$46,200.00

		CONTRACT CNX251
	UNIT PRIC	EXTENSION
710-09.01 6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM		
	170.000 L.F.	
Dement Construction Company, LLC	\$65.000	0 \$11,050.00
Bell & Associates Construction, LLC	\$78.000	0 \$13,260.00
Jones Bros. Contractors, LLC	\$50.000	90 \$8,500.00
710-09.02 6" PIPE UNDERDRAIN		
	30.000 L.F.	
Dement Construction Company, LLC	\$15.000	90 \$450.00

\$45.0000

\$25.0000

\$1,350.00

\$750.00

Bell & Associates Construction, LLC

Jones Bros. Contractors, LLC

		CONTRACT CNX251
	UNIT PRICE	EXTENSION
UTILITY CATEGORY		
793-01.12 POLE 40FT CLASS 4 WOOD		
100 01112 1 022 101 1 022100 1 11002	4.000 EACH	
Dement Construction Company, LLC	\$1,950.0000	\$7,800.00
Bell & Associates Construction, LLC	\$2,200.0000	
Jones Bros. Contractors, LLC	\$2,860.0000	\$11,440.00
793-01.41 ANCHOR 1IN		
	2.000 EACH	
Dement Construction Company, LLC	\$1,320.0000	\$2,640.00
Bell & Associates Construction, LLC	\$1,500.0000	
Jones Bros. Contractors, LLC	\$980.0000	\$1,960.00
793-13.07 4IN SCHEDULE 40 PVC		
	890.000 L.F.	
Dement Construction Company, LLC	\$16.0000	· ·
Bell & Associates Construction, LLC	\$18.0000	· ·
Jones Bros. Contractors, LLC	\$16.0000	\$14,240.00
793-13.12 1 DUCT FORMATION @ 36IN DEPTH		
	890.000 L.F.	
Dement Construction Company, LLC	\$10.0000	· ·
Bell & Associates Construction, LLC Jones Bros. Contractors, LLC	\$11.0000 \$48.0000	
Jones Bios. Contractors, ELC	φ40.0000	\$42,120.00
793-98.04 REMOVE POLES ALL SIZES		
Demonst Operations than Operation 11.0	2.000 EACH	ф <b>7</b> 00 00
Dement Construction Company, LLC Bell & Associates Construction, LLC	\$350.0000 \$395.0000	
Jones Bros. Contractors, LLC	\$250.0000	·
	¥	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
795-02.03 4IN HDPE WATER LINE		
	5.000 L.F.	
Dement Construction Company, LLC	\$100.0000	
Bell & Associates Construction, LLC Jones Bros. Contractors, LLC	\$205.0000 \$1,250.0000	
Jones Bros. Contractors, ELC	Ψ1,230.0000	ψ0,230.00
795-02.04 6IN HDPE WATER LINE	445.000 1.5	
Demont Construction Company II C	415.000 L.F.	\$45.650.00
Dement Construction Company, LLC Bell & Associates Construction, LLC	\$110.0000 \$166.0000	· ·
Jones Bros. Contractors, LLC	\$312.5000	
795-02.34 8IN HDPE WATER LINE (HDD)		
	520.000 L.F.	
Dement Construction Company, LLC	\$140.0000	\$72,800.00
Bell & Associates Construction, LLC	\$550.0000	· ·
Jones Bros. Contractors, LLC	\$437.5000	\$227,500.00

		CONTRACT CNX251
	UNIT PR	ICF EXTENSION
	ONTTR	EXTENSION
795-06.32 CUT AND CAP 4IN WATER LINE		
190 00:02 OUT AIR OAT AIR WATER EINE	2.000 EACH	
Dement Construction Company, LLC	\$5,000.00	
Bell & Associates Construction, LLC	\$1,500.00	• •
Jones Bros. Contractors, LLC	\$3,125.00	900 \$6,250.00
795-07.01 4IN X 4IN TAPPING SLEEVE AND VALVE		
	2.000 EACH	
Dement Construction Company, LLC	\$7,500.00	900 \$15,000.00
Bell & Associates Construction, LLC	\$10,500.00	900 \$21,000.00
Jones Bros. Contractors, LLC	\$5,000.00	\$10,000.00
795-10.31 2IN BLOW-OFF ASSEMBLY		
	1.000 EACH	
Dement Construction Company, LLC	\$3,500.00	\$3,500.00
Bell & Associates Construction, LLC	\$5,500.00	\$5,500.00
Jones Bros. Contractors, LLC	\$2,500.00	\$2,500.00
795-13.01 DI FITTINGS		
733-13.01 DITTI INCO	440.000 L B	
	142.000 LB.	
Dement Construction Company, LLC	\$25.00	• •
Bell & Associates Construction, LLC	\$81.00	
Jones Bros. Contractors, LLC	\$25.00	900 \$3,550.00
795-13.02 HDPE FITTINGS		

Dement Construction Company, LLC

Bell & Associates Construction, LLC Jones Bros. Contractors, LLC

59.000 LB.

\$20.0000

\$62.0000

\$187.5000

\$1,180.00 \$3,658.00

\$11,062.50

# **SUB-TOTAL ROADWAY**

\$4,080,650.31
\$3,616,923.51
\$3,972,097.93
\$3,529,262.29
\$4,165,265.90
\$4,343,406.58
\$186,460.00
\$438,975.00
\$467,660.00
\$7,796,372.60
\$8,221,164.41
\$8,783,164.51

#### COUNTIES FAYETTE, LAUDERDALE, AND SHELBY (Contract No. CNX356 Call 024)

HSIP-REG4(222),R4SVAR-F3-024

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 7.00%

TOTAL CONTRACT

Bluff City Construction Company, LLC Adams Contracting, LLC

\$2,421,431.15

\$3,496,449.00

CONTRACT	<b>CNX356</b>
----------	---------------

			С	ONTRACT CNX356
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		210.000 S.Y.		
	Bluff City Construction Company, LLC Adams Contracting, LLC		\$100.0000 \$175.0000	\$21,000.00 \$36,750.00
701-01.01	CONCRETE SIDEWALK (4 ")			
		1,865.000 S.F.		
	Bluff City Construction Company, LLC Adams Contracting, LLC		\$16.0000 \$30.0000	\$29,840.00 \$55,950.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	, ,	45,632.000 S.F.		
	Bluff City Construction Company, LLC	,	\$23.2500	\$1,060,944.00
	Adams Contracting, LLC		\$36.0000	\$1,642,752.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION	I)		
		2,900.000 S.F.		
	Bluff City Construction Company, LLC		\$59.3500	\$172,115.00
	Adams Contracting, LLC		\$50.0000	\$145,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Bluff City Construction Company, LLC		\$282,790.0000	\$282,790.00
	Adams Contracting, LLC		\$750,000.0000	\$750,000.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		14,421.000 L.F.		
	Bluff City Construction Company, LLC		\$15.7500	\$227,130.75
	Adams Contracting, LLC		\$17.0000	\$245,157.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		6,638.000 L.F.		
	Bluff City Construction Company, LLC		\$24.1500	\$160,307.70
	Adams Contracting, LLC		\$25.0000	\$165,950.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CRO	•		
	Dieff City Construction Construction	5,584.000 L.F.	<b>#40.0000</b>	<b>#000 707 00</b>
	Bluff City Construction Company, LLC Adams Contracting, LLC		\$48.3000 \$50.0000	\$269,707.20 \$279,200.00
	, idanic Contidening, 220		φου.σσσσ	ΨΕ. σ,Εσσ.σσ
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)	45 aaa a 5		
	Distriction Consistent Consistent LLC	15.000 S.F.	<b>#44.4000</b>	<b>#</b> 004 <b>F</b> 0
	Bluff City Construction Company, LLC Adams Contracting, LLC		\$44.1000 \$46.0000	\$661.50 \$690.00
747 6:	MODILIZATION			
717-01	MOBILIZATION	1.000 LS		
	Bluff City Construction Company, LLC	1.000 LS	\$196,935.0000	\$196,935.00
	Adams Contracting, LLC		\$175,000.0000	\$175,000.00
	<u>-</u> -		·	PAGE
				1 /\UL

#### **SUB-TOTAL ROADWAY**

Bluff City Construction Company, LLC	\$2,421,431.15
Adams Contracting, LLC	\$3,496,449.00

# **TOTAL CONTRACT**

Bluff City Construction Company, LLC	\$2,421,431.15
Adams Contracting, LLC	\$3,496,449.00

#### GREENE COUNTY (Contract No. CNX318 Call 025)

n/a,30S070-M3-003

THE REPAIR OF THE BRIDGE ON S.R. 70 OVER THE NOLICHUCKY RIVER (L.M. 8.50).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

TOTAL CONTRACT

Southern Constructors, Inc. \$965,050.00
Summers-Taylor, Inc. \$1,229,752.35
Mid-State Construction Company, Inc. \$1,422,571.76

UNIT PRICE	EXTENSION

#### **BRIDGE CATEGORY**

# 201

BRIDGE	CATEGORY		
201-05.31	VEGETATION REMOVAL		
	1	.000 LS	
	Southern Constructors, Inc.	\$20,000.0000	\$20,000.00
	Summers-Taylor, Inc.	\$37,500.0000	\$37,500.00
	Mid-State Construction Company, Inc.	\$21,559.5700	\$21,559.57
202-04 01	REMOVAL OF STRUCTURES (EXIST. PABE, BR. NO. 30-SR070-08.50)		
202-04.01		.000 LS	
	Southern Constructors, Inc.	\$60,000.0000	\$60,000.00
	Summers-Taylor, Inc.	\$44,500.0000	\$44,500.00
	Mid-State Construction Company, Inc.	\$150,644.5700	\$150,644.57
	wild diate construction company, inc.	Ψ130,044.3700	φ100,044.01
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)		
	280	0.000 L.F.	
	Southern Constructors, Inc.	\$8.0000	\$2,240.00
	Summers-Taylor, Inc.	\$5.1000	\$1,428.00
	Mid-State Construction Company, Inc.	\$9.7300	\$2,724.40
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
303-01		2.000 TON	
	Southern Constructors, Inc.	\$60.0000	\$2,520.00
	Summers-Taylor, Inc.	\$193.0000	\$8,106.00
	Mid-State Construction Company, Inc.	\$122.8500	\$5,159.70
	mid-State Construction Company, inc.	ψ122.0000	ψ5,155.76
303-10.04	MINERAL AGGREGATE (SIZE )		
	1,105	5.000 TON	
	Southern Constructors, Inc.	\$55.0000	\$60,775.00
	Summers-Taylor, Inc.	\$71.0000	\$78,455.00
	Mid-State Construction Company, Inc.	\$78.7000	\$86,963.50
207 01 01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
307-01.01		3.000 TON	
	Southern Constructors, Inc.	\$600.0000	\$7,800.00
	Summers-Taylor, Inc.	\$725.0000	\$9,425.00
	Mid-State Construction Company, Inc.	\$848.2500	\$11,027.25
	wild diate construction company, inc.	ψ0+0.2300	Ψ11,027.23
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	9	.000 TON	
	Southern Constructors, Inc.	\$600.0000	\$5,400.00
	Summers-Taylor, Inc.	\$725.0000	\$6,525.00
	Mid-State Construction Company, Inc.	\$848.2500	\$7,634.25
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
		.200 TON	
	Southern Constructors, Inc.	\$3,000.0000	\$600.00
	Summers-Taylor, Inc.	\$1,000.0000	\$200.00
	Mid-State Construction Company, Inc.	\$1,170.0000	\$234.00
	·	ψ.,σ.σσσσ	<del>+</del> _000

CON	JTR/	\CT	CNX31	R
- COI	4 I I \	<b>101</b>		v

			UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	` ,	0.800 TON		
	Southern Constructors, Inc.		\$550.0000	\$440.00
	Summers-Taylor, Inc.		\$400.0000	\$320.00
	Mid-State Construction Company, Inc.		\$468.0000	\$374.40
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		1.700 TON		
	Southern Constructors, Inc.		\$2,200.0000	\$3,740.00
	Summers-Taylor, Inc.		\$1,350.0000	\$2,295.00
	Mid-State Construction Company, Inc.		\$1,579.5000	\$2,685.15
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		146.000 TON		
	Southern Constructors, Inc.		\$270.0000	\$39,420.00
	Summers-Taylor, Inc.		\$275.0000	\$40,150.00
	Mid-State Construction Company, Inc.		\$321.7500	\$46,975.50
411-01.10	ACS MIX(PG64-22) GRADING D			
		133.000 TON		
	Southern Constructors, Inc.		\$300.0000	\$39,900.00
	Summers-Taylor, Inc.		\$325.0000	\$43,225.00
	Mid-State Construction Company, Inc.		\$380.2500	\$50,573.25
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		3,691.000 S.Y.		
	Southern Constructors, Inc.		\$14.0000	\$51,674.00
	Summers-Taylor, Inc.		\$14.0000	\$51,674.00
	Mid-State Construction Company, Inc.		\$16.3800	\$60,458.58
604-03.04	PAVEMENT @ BRIDGE ENDS			
		245.000 S.Y.		
	Southern Constructors, Inc.		\$590.0000	\$144,550.00
	Summers-Taylor, Inc.		\$685.0000	\$167,825.00
	Mid-State Construction Company, Inc.		\$628.7000	\$154,031.50
604-04.02	APPLIED TEXTURE FINISH (EXISTING STRUCTURES)			
		570.000 S.Y.		
	Southern Constructors, Inc.		\$20.0000	\$11,400.00
	Summers-Taylor, Inc.		\$18.5000	\$10,545.00
	Mid-State Construction Company, Inc.		\$18.7200	\$10,670.40
604-10.05	CONCRETE			
		83.000 S.F.		
	Southern Constructors, Inc.		\$300.0000	\$24,900.00
	Summers-Taylor, Inc.		\$600.0000	\$49,800.00
	Mid-State Construction Company, Inc.		\$378.1700	\$31,388.11

		UNIT PRICE	EXTENSION
604-10.14 REMOVE EXISTING WEARING SURFACE			
	1.000 LS		
Southern Constructors, Inc.		\$3,000.0000	\$3,000.00
Summers-Taylor, Inc.		\$15,000.0000	\$15,000.00
Mid-State Construction Company, Inc.		\$29,250.0000	\$29,250.00
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
	10.000 S.Y.		
Southern Constructors, Inc.		\$400.0000	\$4,000.00
Summers-Taylor, Inc.		\$1,100.0000	\$11,000.00
Mid-State Construction Company, Inc.		\$875.3500	\$8,753.50
604-10.54 CONCRETE REPAIRS			
	83.000 S.F.		
Southern Constructors, Inc.	00.000 0.1 .	\$300.0000	\$24,900.00
Summers-Taylor, Inc.		\$600.0000	\$49,800.00
Mid-State Construction Company, Inc.		\$378.1700	\$31,388.11
a Gate Gollon action Company, mor		ψοι σι ι ι σσ	ψο 1,000111
604-10.55 CONCRETE (FOUNDATION REPAIRS)			
TOTAL TOTAL CONTROL (I CONTROL VILLA AND)	5.000 C.Y.		
Cauthama Canatauatana Ina	5.000 C.T.	¢4,000,0000	<b>COLUMN 1</b>
Southern Constructors, Inc.		\$4,800.0000 \$2,710.0000	\$24,000.00 \$13,550.00
Summers-Taylor, Inc. Mid-State Construction Company, Inc.		\$2,754.2800	\$13,771.40
ivid-State Construction Company, inc.		Ψ2,7 34.2000	φ15,771.40
604-10.58 EPOXY INJECTION (INJECTION)			
004-10.30 El OXI INDESTIGN (INDESTIGN)	05 000 041		
	25.000 GAL.	<b>#</b> 400,000	<b>#4.500.00</b>
Southern Constructors, Inc.		\$180.0000	\$4,500.00
Summers-Taylor, Inc.		\$284.0000 \$117.0000	\$7,100.00 \$2,925.00
Mid-State Construction Company, Inc.		\$117.0000	\$2,925.00
604 40 62 EDOVY IN JECTION BEDAID (COMPLETE AND IN DI ACE)			
604-10.62 EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
	251.000 L.F.		
Southern Constructors, Inc.		\$130.0000	\$32,630.00
Summers-Taylor, Inc.		\$74.0000	\$18,574.00
Mid-State Construction Company, Inc.		\$105.3000	\$26,430.30
AAT AA AA TYDE A TURK ERAYY AYERI AY (ERAYY LIRETHANE)			
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)			
	2,951.000 S.Y.		
Southern Constructors, Inc.		\$39.0000	\$115,089.00
Summers-Taylor, Inc.		\$41.5000	\$122,466.50
Mid-State Construction Company, Inc.		\$41.6500	\$122,909.15
705-10.31 GUARDRAIL ATTACHMENT TO VERTICAL FACE ENDPOST			
	26.000 L.F.		
Southern Constructors, Inc.		\$270.0000	\$7,020.00
Summers-Taylor, Inc.		\$389.0000	\$10,114.00
Mid-State Construction Company, Inc.		\$292.5000	\$7,605.00

706-01         GUARDRAIL REMOVED           26.000 L.F.           Southern Constructors, Inc.         \$12.000         \$312.00           Summers-Taylor, Inc.         \$16.5000         \$429.00           Mid-State Construction Company, Inc.         \$12.2900         \$319.54           709-01.01         RUBBLE STONE RIP-RAP           5.000 C.Y.           Southern Constructors, Inc.         \$150.0000         \$750.00           Summers-Taylor, Inc.         \$302.5000         \$1,525.00           Mid-State Construction Company, Inc.         \$25,000.000         \$25,000.00           Summers-Taylor, Inc.         \$32,500.0000         \$32,500.00           Mid-State Construction Company, Inc.         \$56,522.5600         \$56,522.5600
Southern Constructors, Inc.   \$12.0000   \$312.00   \$312.00   \$429.00   \$42
Summers-Taylor, Inc.       \$16.5000       \$429.00         Mid-State Construction Company, Inc.       \$12.2900       \$319.54         709-01.01 RUBBLE STONE RIP-RAP         5.000 C.Y.         Southern Constructors, Inc.       \$150.0000       \$750.00         Summers-Taylor, Inc.       \$305.0000       \$1,525.00         Mid-State Construction Company, Inc.       \$302.5800       \$1,512.90         712-01 TRAFFIC CONTROL         Southern Constructors, Inc.       \$25,000.0000       \$25,000.00         Summers-Taylor, Inc.       \$32,500.0000       \$32,500.00
Mid-State Construction Company, Inc.       \$12.2900       \$319.54         709-01.01       RUBBLE STONE RIP-RAP         5.000 C.Y.         Southern Constructors, Inc.       \$150.0000       \$750.00         Summers-Taylor, Inc.       \$305.0000       \$1,525.00         T12-01       TRAFFIC CONTROL         1.000 LS         Southern Constructors, Inc.       \$25,000.0000       \$25,000.000       \$25,000.000       \$32,500.000         \$32,500.0000       \$32,500.0000       \$32,500.0000
709-01.01 RUBBLE STONE RIP-RAP  5.000 C.Y.  Southern Constructors, Inc. Summers-Taylor, Inc. Mid-State Construction Company, Inc.  712-01 TRAFFIC CONTROL  Southern Constructors, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc.
5.000 C.Y.         Southern Constructors, Inc.       \$150.0000       \$750.00         Summers-Taylor, Inc.       \$305.0000       \$1,525.00         Mid-State Construction Company, Inc.       \$302.5800       \$1,512.90         712-01       TRAFFIC CONTROL         1.000 LS         Southern Constructors, Inc.       \$25,000.0000       \$25,000.00         Summers-Taylor, Inc.       \$32,500.0000       \$32,500.00
Southern Constructors, Inc.   \$150.0000   \$750.00   \$750.00   \$305.0000   \$1,525.00   \$305.0000   \$1,525.00   \$302.5800   \$1,512.90   \$12.01   \$1.000 LS   \$25,000.0000   \$25,000.000   \$25,000.000   \$32,500.000
Summers-Taylor, Inc.       \$305.0000       \$1,525.00         Mid-State Construction Company, Inc.       \$302.5800       \$1,512.90         712-01       TRAFFIC CONTROL         1.000 LS         Southern Constructors, Inc.       \$25,000.0000       \$25,000.00         Summers-Taylor, Inc.       \$32,500.0000       \$32,500.00
Mid-State Construction Company, Inc. \$302.5800 \$1,512.90  712-01 TRAFFIC CONTROL  1.000 LS  Southern Constructors, Inc. \$25,000.0000 \$25,000.000 Summers-Taylor, Inc. \$32,500.0000 \$32,500.000
712-01 TRAFFIC CONTROL  1.000 LS  Southern Constructors, Inc. \$25,000.0000 \$25,000.00 \$32,500.000 \$32,500.000
1.000 LS         Southern Constructors, Inc.       \$25,000.0000       \$25,000.00         Summers-Taylor, Inc.       \$32,500.0000       \$32,500.00
Southern Constructors, Inc.       \$25,000.0000       \$25,000.000         Summers-Taylor, Inc.       \$32,500.0000       \$32,500.000
Summers-Taylor, Inc. \$32,500.0000 \$32,500.000
·
Mid-State Construction Company, Inc. \$56,522.5600 \$56,522.56
712-02.10 PORTABLE BARRIER RAIL (MASH TL-3)
870.000 L.F.
Southern Constructors, Inc. \$60.0000 \$52,200.00
Summers-Taylor, Inc. \$106.0000 \$92,220.00
Mid-State Construction Company, Inc. \$151.5100 \$131,813.70
712-02.60 TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)
2.000 EACH
Southern Constructors, Inc. \$5,500.0000 \$11,000.00
Summers-Taylor, Inc. \$9,660.0000 \$19,320.00
Mid-State Construction Company, Inc. \$7,605.0000 \$15,210.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)
33.000 EACH
Southern Constructors, Inc. \$40.0000 \$1,320.00
Summers-Taylor, Inc. \$63.0000 \$2,079.00
Mid-State Construction Company, Inc. \$38.6100 \$1,274.13
712-04.50 BARRIER RAIL DELINEATOR
35.000 EACH
Southern Constructors, Inc. \$30.0000 \$1,050.00
Summers-Taylor, Inc. \$11.5000 \$402.50
Mid-State Construction Company, Inc. \$16.3800 \$573.30
712-06 SIGNS (CONSTRUCTION)
496.000 S.F.
Southern Constructors, Inc. \$15.0000 \$7,440.00
Summers-Taylor, Inc. \$12.0000 \$5,952.00
Mid-State Construction Company, Inc. \$8.7800 \$4,354.88

				MINACI CNASIO
			UNIT PRICE	EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		24.000 L.F.		
	Southern Constructors, Inc.		\$30.0000	\$720.00
	Summers-Taylor, Inc.		\$17.5000	\$420.00
	Mid-State Construction Company, Inc.		\$21.6500	\$519.60
712-09.02	PREMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		9,000.000 L.F.		
	Southern Constructors, Inc.		\$3.5000	\$31,500.00
	Summers-Taylor, Inc.		\$4.5000	\$40,500.00
	Mid-State Construction Company, Inc.		\$4.6800	\$42,120.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Southern Constructors, Inc.		\$25.0000	\$1,200.00
	Summers-Taylor, Inc.		\$17.0000	\$816.00
	Mid-State Construction Company, Inc.		\$17.5500	\$842.40
713-02.26	CONCRETE BARRIER/PARAPET DELINEATOR			
		102.000 EACH		
	Southern Constructors, Inc.		\$30.0000	\$3,060.00
	Summers-Taylor, Inc.		\$22.0000	\$2,244.00
	Mid-State Construction Company, Inc.		\$17.5500	\$1,790.10
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Southern Constructors, Inc.		\$6,500.0000	\$13,000.00
	Summers-Taylor, Inc.		\$11,400.0000	\$22,800.00
	Mid-State Construction Company, Inc.		\$7,312.5000	\$14,625.00
716-12.02	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		0.900 L.M.		
	Southern Constructors, Inc.		\$11,000.0000	\$9,900.00
	Summers-Taylor, Inc.		\$11,935.9400	\$10,742.35
	Mid-State Construction Company, Inc.		\$12,285.0000	\$11,056.50
717-01	MOBILIZATION			
		1.000 LS		
	Southern Constructors, Inc.		\$40,000.0000	\$40,000.00
	Summers-Taylor, Inc.		\$125,000.0000	\$125,000.00
	Mid-State Construction Company, Inc.		\$137,356.1300	\$137,356.13
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 EACH		
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
	Summers-Taylor, Inc.		\$44,200.0000	\$44,200.00
	Mid-State Construction Company, Inc.		\$98,350.9300	\$98,350.93

CONTRACT	CNX31
----------	-------

\$2,389.50

\$5.3100

		UNIT PRICE	EXTENSION
740-07.04 GEOGRID REINFORCEMENT TYPE 2			
	1,800.000 S.Y.		
Southern Constructors, Inc.		\$12.0000	\$21,600.00
Summers-Taylor, Inc.		\$11.5000	\$20,700.00
Mid-State Construction Company, Inc.		\$8.7800	\$15,804.00
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)			
	450.000 S.Y.		
Southern Constructors, Inc.		\$10.0000	\$4,500.00
Summers-Taylor, Inc.		\$18.5000	\$8,325.00

Mid-State Construction Company, Inc.

# **SUB-TOTAL BRIDGE**

Southern Constructors, Inc.	\$965,050.00
Summers-Taylor, Inc.	\$1,229,752.35
Mid-State Construction Company, Inc.	\$1,422,571.76

# TOTAL CONTRACT

Southern Constructors, Inc.	\$965,050.00
Summers-Taylor, Inc.	\$1,229,752.35
Mid-State Construction Company, Inc.	\$1,422,571.76

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

## HAMBLEN COUNTY (Contract No. CNX320 Call 026)

32004-3228-04

THE IMPROVEMENT OF THE INTERSECTION ON U.S. 11E (S.R. 34) AT S.R. 474 (MERCHANTS GREENE BOULEVARD) (L.M. 4.61) IN MORRISTOWN, INCLUDING GRADING, DRAINAGE, SIGNALS, AND PAVING.

PROJECT LENGTH - 0.219 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2024

	TOTAL CONTRACT
Southern Constructors, Inc.	\$1,005,601.00
Summers-Taylor, Inc.	\$1,065,293.18
Adams Contracting, LLC	\$1,279,425.00
APAC-Atlantic, Inc.	\$1,302,701.70

UNIT PRICE EXTENSION

ROADW	AY CATEGORY		ONTTRIOL	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	, , , , , , , , , , , , , , , , , , , ,	1.000 LS		
	Southern Constructors, Inc.		\$35,000.0000	\$35,000.00
	Summers-Taylor, Inc.		\$14,500.0000	\$14,500.00
	Adams Contracting, LLC		\$15,000.0000	\$15,000.00
	APAC-Atlantic, Inc.		\$29,000.0000	\$29,000.00
202-01.13	REMOVAL OF PIPE (SIZE 18" ,STA. 61+72.00)			
		44.000 L.F.		
	Southern Constructors, Inc.		\$50.0000	\$2,200.00
	Summers-Taylor, Inc.		\$116.0000	\$5,104.00
	Adams Contracting, LLC		\$50.0000	\$2,200.00
	APAC-Atlantic, Inc.		\$102.0000	\$4,488.00
202-01.50	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 EACH		
	Southern Constructors, Inc.		\$25,000.0000	\$25,000.00
	Summers-Taylor, Inc.		\$7,500.0000	\$7,500.00
	Adams Contracting, LLC		\$2,500.0000	\$2,500.00
	APAC-Atlantic, Inc.		\$4,450.0000	\$4,450.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		356.000 C.Y.		
	Southern Constructors, Inc.		\$60.0000	\$21,360.00
	Summers-Taylor, Inc.		\$171.0000	\$60,876.00
	Adams Contracting, LLC		\$140.0000	\$49,840.00
	APAC-Atlantic, Inc.		\$140.0000	\$49,840.00
203-04	PLACING AND SPREADING TOPSOIL			
		57.000 C.Y.		
	Southern Constructors, Inc.		\$80.0000	\$4,560.00
	Summers-Taylor, Inc.		\$94.0000	\$5,358.00
	Adams Contracting, LLC		\$90.0000	\$5,130.00
	APAC-Atlantic, Inc.		\$135.0000	\$7,695.00
203-06	WATER			
		7.000 M.G.		
	Southern Constructors, Inc.		\$50.0000	\$350.00
	Summers-Taylor, Inc.		\$36.0000	\$252.00
	Adams Contracting, LLC		\$120.0000	\$840.00
	APAC-Atlantic, Inc.		\$180.0000	\$1,260.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		0.900 L.M.		
	Southern Constructors, Inc.		\$2,225.0000	\$2,002.50
	Summers-Taylor, Inc.		\$4,016.5600	\$3,614.90
	Adams Contracting, LLC		\$2,500.0000	\$2,250.00
	APAC-Atlantic, Inc.		\$3,200.0000	\$2,880.00

			UNIT PRICE	EXTENSION
209-05	SEDIMENT REMOVAL			
		26.000 C.Y.		
	Southern Constructors, Inc.		\$35.0000	\$910.00
	Summers-Taylor, Inc.		\$43.0000	\$1,118.00
	Adams Contracting, LLC		\$24.0000	\$624.00
	APAC-Atlantic, Inc.		\$55.7500	\$1,449.50
209-40.30	CATCH BASIN PROTECTION (TYPE A)			
		2.000 EACH		
	Southern Constructors, Inc.		\$4,000.0000	\$8,000.00
	Summers-Taylor, Inc.		\$3,500.0000	\$7,000.00
	Adams Contracting, LLC		\$3,900.0000	\$7,800.00
	APAC-Atlantic, Inc.		\$4,550.0000	\$9,100.00
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
		4.000 EACH		
	Southern Constructors, Inc.		\$1,100.0000	\$4,400.00
	Summers-Taylor, Inc.		\$980.0000	\$3,920.00
	Adams Contracting, LLC		\$1,100.0000	\$4,400.00
	APAC-Atlantic, Inc.		\$1,275.0000	\$5,100.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		462.000 TON		
	Southern Constructors, Inc.		\$50.0000	\$23,100.00
	Summers-Taylor, Inc.		\$94.0000	\$43,428.00
	Adams Contracting, LLC		\$75.0000	\$34,650.00
	APAC-Atlantic, Inc.		\$92.0000	\$42,504.00
303-01.01	GRANULAR BACKFILL (ROADWAY)			
		19.000 TON		
	Southern Constructors, Inc.		\$60.0000	\$1,140.00
	Summers-Taylor, Inc.		\$115.0000	\$2,185.00
	Adams Contracting, LLC		\$62.0000	\$1,178.00
	APAC-Atlantic, Inc.		\$165.0000	\$3,135.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		5.000 TON		
	Southern Constructors, Inc.		\$50.0000	\$250.00
	Summers-Taylor, Inc.		\$166.0000	\$830.00
	Adams Contracting, LLC		\$150.0000	\$750.00
	APAC-Atlantic, Inc.		\$159.2500	\$796.25
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
		357.000 TON		
	Southern Constructors, Inc.		\$185.0000	\$66,045.00
	Summers-Taylor, Inc.		\$199.0000	\$71,043.00
	Adams Contracting, LLC		\$310.0000	\$110,670.00
	APAC-Atlantic, Inc.		\$258.5000	\$92,284.50

			UNIT PRICE	EXTENSION
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRAD			
	Southern Constructors, Inc.	276.000 TON	\$210.0000	\$57,960.00
	Summers-Taylor, Inc.		\$196.0000	\$54,096.00
	Adams Contracting, LLC		\$330.0000	\$91,080.00
	APAC-Atlantic, Inc.		\$295.0000	\$81,420.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
402 01	BITOMING OF MATERIAL FOR FRIEND OF AT (1 0)	1.000 TON		
	Southern Constructors, Inc.		\$1,150.0000	\$1,150.00
	Summers-Taylor, Inc.		\$1,770.0000	\$1,770.00
	Adams Contracting, LLC		\$880.0000	\$880.00
	APAC-Atlantic, Inc.		\$350.0000	\$350.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
.00 0.		1.000 TON		
	Southern Constructors, Inc.		\$1,150.0000	\$1,150.00
	Summers-Taylor, Inc.		\$1,230.0000	\$1,230.00
	Adams Contracting, LLC		\$1,600.0000	\$1,600.00
	APAC-Atlantic, Inc.		\$1,450.0000	\$1,450.00
411-02.10	ACS MIX(PG70-22) GRADING D			
0=0		220.000 TON		
	Southern Constructors, Inc.	220.000 1014	\$250.0000	\$55,000.00
	Summers-Taylor, Inc.		\$206.0000	\$45,320.00
	Adams Contracting, LLC		\$330.0000	\$72,600.00
	APAC-Atlantic, Inc.		\$298.0000	\$65,560.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	407 000 TON		
	Ossith and Ossistandara Inc	197.000 TON	<b>#05.0000</b>	<b>#40.745.00</b>
	Southern Constructors, Inc.		\$85.0000	\$16,745.00 \$47.227.50
	Summers-Taylor, Inc. Adams Contracting, LLC		\$87.5000 \$110.0000	\$17,237.50 \$21,670.00
	APAC-Atlantic, Inc.		\$110.0000	\$21,670.00 \$19,700.00
	Al Ao-Allahlic, Inc.		ψ100.0000	Ψ19,700.00
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)			
		247.000 L.F.		
	Southern Constructors, Inc.		\$175.0000	\$43,225.00
	Summers-Taylor, Inc.		\$197.0000	\$48,659.00
	Adams Contracting, LLC		\$150.0000	\$37,050.00
	APAC-Atlantic, Inc.		\$128.5000	\$31,739.50
611-01.02	MANHOLES, > 4' - 8' DEPTH			
		1.000 EACH		
	Southern Constructors, Inc.		\$6,000.0000	\$6,000.00
	Summers-Taylor, Inc.		\$5,100.0000	\$5,100.00
	Adams Contracting, LLC		\$9,500.0000	\$9,500.00
	APAC-Atlantic, Inc.		\$11,500.0000	\$11,500.00

		UNIT PRICE	EXTENSION
		ONTTRIOL	Z/((Z/(G/G/(
611-07.73 18IN ENDWALL (MEDIAN DRAIN)			
	1.000 EACH		
Southern Constructors, Inc.		\$10,500.0000	\$10,500.00
Summers-Taylor, Inc.		\$1,940.0000	\$1,940.00
Adams Contracting, LLC		\$3,000.0000	\$3,000.00
APAC-Atlantic, Inc.		\$11,000.0000	\$11,000.00
611-25.02 CATCH BASINS, TYPE 25, > 4' - 8' DEPTH			
011-23.02	2.000 EACH		
Southern Constructors, Inc.	2.000 EAOH	\$12,000.0000	\$24,000.00
Summers-Taylor, Inc.		\$5,780.0000	\$11,560.00
Adams Contracting, LLC		\$7,800.0000	\$15,600.00
APAC-Atlantic, Inc.		\$12,350.0000	\$24,700.00
611-26.02 CATCH BASINS, TYPE 26, > 4' - 8' DEPTH	4 000 54 011		
Courthours Courthwesters Inc	1.000 EACH	¢44 500 0000	¢44 500 00
Southern Constructors, Inc.		\$11,500.0000 \$11,000.0000	\$11,500.00 \$11,000.00
Summers-Taylor, Inc. Adams Contracting, LLC		\$13,000.0000	\$13,000.00
APAC-Atlantic, Inc.		\$13,500.0000	\$11,500.00
7.11 / CO / Markins, Inc.		ψ11,000.000	ψ11,000.00
701-01.01 CONCRETE SIDEWALK (4 ")			
	2,171.000 S.F.		
Southern Constructors, Inc.		\$12.0000	\$26,052.00
Summers-Taylor, Inc.		\$11.5000	\$24,966.50
Adams Contracting, LLC		\$19.0000	\$41,249.00
APAC-Atlantic, Inc.		\$21.9000	\$47,544.90
701-02.01 CONCRETE CURB RAMP (RETROFIT)			
,	250.000 S.F.		
Southern Constructors, Inc.		\$75.0000	\$18,750.00
Summers-Taylor, Inc.		\$40.5000	\$10,125.00
Adams Contracting, LLC		\$55.0000	\$13,750.00
APAC-Atlantic, Inc.		\$82.0000	\$20,500.00
702-03 CONCRETE COMBINED CURB & GUTTER			
702-03 CONCRETE COMBINED CORD & GOTTER	74.000 C.Y.		
Southern Constructors, Inc.	14.000 0.11	\$750.0000	\$55,500.00
Summers-Taylor, Inc.		\$599.0000	\$44,326.00
Adams Contracting, LLC		\$1,100.0000	\$81,400.00
APAC-Atlantic, Inc.		\$1,700.0000	\$125,800.00
709-05.05 MACHINED RIP-RAP (CLASS A-3)	50 000 TON		
Couthour Constructors In-	50.000 TON	Φ <b>7</b> 0.0000	<b>#0.500.00</b>
Southern Constructors, Inc.		\$70.0000 \$133.0000	\$3,500.00
Summers-Taylor, Inc. Adams Contracting, LLC		\$132.0000 \$100.0000	\$6,600.00 \$5,000.00
APAC-Atlantic, Inc.		\$100.0000	\$5,900.00
		ţ <b>0.000</b>	+2,000.00

			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		23.000 TON		
	Southern Constructors, Inc.		\$55.0000	\$1,265.00
	Summers-Taylor, Inc.		\$115.0000	\$2,645.00
	Adams Contracting, LLC		\$100.0000	\$2,300.00
	APAC-Atlantic, Inc.		\$149.5000	\$3,438.50
	7 ii 7 ii 7 ii anii 6, in c.		ψ. 10.0000	φο, 100.00
712-01	TRAFFIC CONTROL			
712-01	TRAITIO GONTROL	4 000 L C		
		1.000 LS	400,000,000	<b>***</b>
	Southern Constructors, Inc.		\$80,000.0000	\$80,000.00
	Summers-Taylor, Inc.		\$25,650.0000	\$25,650.00
	Adams Contracting, LLC		\$185,000.0000	\$185,000.00
	APAC-Atlantic, Inc.		\$67,300.0000	\$67,300.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,318.000 L.F.		
	Southern Constructors, Inc.		\$45.0000	\$59,310.00
	Summers-Taylor, Inc.		\$58.5000	\$77,103.00
	Adams Contracting, LLC		\$50.0000	\$65,900.00
	APAC-Atlantic, Inc.		\$41.5000	\$54,697.00
			********	***************************************
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH T	'L-3)		
	,	4.000 EACH		
	Courtharn Constructors Inc	4.000 LACI1	¢7 500 0000	¢20,000,00
	Southern Constructors, Inc.		\$7,500.0000	\$30,000.00
	Summers-Taylor, Inc.		\$9,990.0000	\$39,960.00
	Adams Contracting, LLC		\$9,000.0000	\$36,000.00
	APAC-Atlantic, Inc.		\$9,750.0000	\$39,000.00
740 04 04	ELEVIDI E DOUBLO (OLLANDIELIZINO)			
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		65.000 EACH		
	Southern Constructors, Inc.		\$40.0000	\$2,600.00
	Summers-Taylor, Inc.		\$62.0000	\$4,030.00
	Adams Contracting, LLC		\$35.0000	\$2,275.00
	APAC-Atlantic, Inc.		\$41.6000	\$2,704.00
712-06	SIGNS (CONSTRUCTION)			
		475.000 S.F.		
	Southern Constructors, Inc.		\$10.0000	\$4,750.00
	Summers-Taylor, Inc.		\$12.0000	\$5,700.00
	Adams Contracting, LLC		\$9.0000	\$4,275.00
	APAC-Atlantic, Inc.		\$9.7500	\$4,631.25
740.00.00	ADDOW DOADD /TVDE C\			
712-08.03	ARROW BOARD (TYPE C)			
		1.000 EACH		
	Southern Constructors, Inc.		\$2,500.0000	\$2,500.00
	Summers-Taylor, Inc.		\$721.0000	\$721.00
	Adams Contracting, LLC		\$1,100.0000	\$1,100.00
	APAC-Atlantic, Inc.		\$1,300.0000	\$1,300.00

		UNIT PRICE	EXTENSION
712-09.02 REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
	1,318.000 L.F.		
Southern Constructors, Inc.		\$5.0000	\$6,590.00
Summers-Taylor, Inc.		\$4.7000	\$6,194.60
Adams Contracting, LLC		\$5.0000	\$6,590.00
APAC-Atlantic, Inc.		\$5.2000	\$6,853.60
712-09.08 REMOVABLE PAVEMENT MARKING (6" line)			
	6,177.000 L.F.		
Southern Constructors, Inc.		\$4.5000	\$27,796.50
Summers-Taylor, Inc.		\$4.1500	\$25,634.55
Adams Contracting, LLC		\$4.0000	\$24,708.00
APAC-Atlantic, Inc.		\$4.6000	\$28,414.20
712-09.30 REMOVABLE BLACK-OUT TAPE (6")			
	2,510.000 L.F.		
Southern Constructors, Inc.		\$4.5000	\$11,295.00
Summers-Taylor, Inc.		\$4.6500	\$11,671.50
Adams Contracting, LLC		\$6.0000	\$15,060.00
APAC-Atlantic, Inc.		\$5.0000	\$12,550.00
712-09.31 REMOVABLE BLACK-OUT TAPE (8IN)			
	1,397.000 L.F.		
Southern Constructors, Inc.	,	\$5.0000	\$6,985.00
Summers-Taylor, Inc.		\$5.3000	\$7,404.10
Adams Contracting, LLC		\$6.0000	\$8,382.00
APAC-Atlantic, Inc.		\$5.5000	\$7,683.50
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
` '	18.000 EACH		
Southern Constructors, Inc.		\$70.0000	\$1,260.00
Summers-Taylor, Inc.		\$53.0000	\$954.00
Adams Contracting, LLC		\$66.0000	\$1,188.00
APAC-Atlantic, Inc.		\$75.0000	\$1,350.00
713-15.07 SUSPENDED FLAT SHEET ALUMINUM SIGN (0.080" THICK)			
	2.000 EACH		
Southern Constructors, Inc.		\$650.0000	\$1,300.00
Summers-Taylor, Inc.		\$706.0000	\$1,412.00
Adams Contracting, LLC		\$800.0000	\$1,600.00
APAC-Atlantic, Inc.		\$180.0000	\$360.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(	1 COLOR)		
	10.000 EACH		
Southern Constructors, Inc.		\$175.0000	\$1,750.00
Summers-Taylor, Inc.		\$176.0000	\$1,760.00
Adams Contracting, LLC		\$66.0000	\$660.00
APAC-Atlantic, Inc.		\$190.0000	\$1,900.00

T16-01.30   REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER   10.000 EACH			UNIT PRICE	EXTENSION
Southern Constructors, Inc.   \$60,0000   \$600,000   \$390,000   \$	716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
Summers Taylor, Inc.   \$59,000   \$590,00   Adams Contracting, LLC   \$28,000   \$280,000		10.000 EACH		
Summers-Taylor, Inc.   \$59,0000   \$280,000   Adams Contracting, LLC   \$28,0000   \$280,	Southern Constructors, Inc.		\$60.0000	\$600.00
### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### Southern Constructors, Inc.  Southern Constructors, Inc.  Southern Constructors, Inc.  APAC-Atlantic, Inc.  ### Southern Constructors, Inc.  Adams Contracting, LLC  Adams			\$59.0000	\$590.00
T16-02.04   PLASTIC PAVEMENT MARKING (CHANNELIZATION STRIPING)   S5.000 S.Y.	Adams Contracting, LLC		\$28.0000	\$280.00
Southern Constructors, Inc.   \$28,000   \$2,380,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,485,00   \$3,480,00	APAC-Atlantic, Inc.		\$62.0000	\$620.00
Southern Constructors, Inc.   \$28,0000   \$2,380.00	716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIF	PING)		
Summers-Taylor, Inc.   \$28,0000   \$2,380.00   \$2,800		85.000 S.Y.		
Adams Contracting, LLC   \$33,000   \$2,805.00   \$2,800.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,380.00   \$2,80	Southern Constructors, Inc.		\$28.0000	\$2,380.00
### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### Southern Constructors, Inc.  ### Southern Constructors, Inc.  ### Southern Constructors, Inc.  ### Southern Constructors, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### Southern Constructors, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### Toolo EACH  ### Southern Constructors, Inc.			\$28.0000	\$2,380.00
T16-02.05   PLASTIC PAVEMENT MARKING (STOP LINE)   205.000 L.F.   \$14.0000 \$2.870.00 \$2.870.00 \$2.870.00 \$3.485.00 \$3.400.00 \$3.485.00 \$3.400.00 \$3.485.00 \$3.400.00 \$3.485.00 \$3.400.00 \$3.485.00 \$3.400.00 \$3.485.00 \$3.400.00	Adams Contracting, LLC		\$33.0000	\$2,805.00
Southern Constructors, Inc.   \$14.0000   \$2,870.00   \$3,870.00	APAC-Atlantic, Inc.		\$28.0000	\$2,380.00
Southern Constructors, Inc.   \$14,000   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$2,870.00   \$3,485.00   \$17.0000   \$3,485.00   \$17.0000   \$3,485.00   \$16.0000   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,280.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,200.00   \$3,	716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Summers-Taylor, Inc.   \$14,0000   \$2,870.00   Adams Contracting, LLC   \$17,0000   \$3,485.00   APAC-Atlantic, Inc.   \$16,0000   \$3,485.00   APAC-Atlantic, Inc.   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,200.000   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,502.00   \$3,200.000   \$3,200.000   \$3,200.000   \$3,200.000   \$3,200.00   \$3,200.000		205.000 L.F.		
Summers-Taylor, Inc.   \$14,0000   \$2,870.00   Adams Contracting, LLC   \$17,0000   \$3,485.00   APAC-Atlantic, Inc.   \$16,0000   \$3,485.00   APAC-Atlantic, Inc.   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,280.00   \$16,0000   \$3,200.000   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,502.00   \$3,200.000   \$3,200.000   \$3,200.000   \$3,200.000   \$3,200.00   \$3,200.000	Southern Constructors, Inc.		\$14.0000	\$2.870.00
Adams Contracting, LLC APAC-Atlantic, Inc. \$17,000 \$3,485.00 \$16,0000 \$3,280.00 \$716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)  T17.000 EACH  Southern Constructors, Inc. \$200,0000 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,502.00 Adams Contracting, LLC \$190,0000 \$3,230.00 APAC-Atlantic, Inc. \$240,0000 \$3,230.00 APAC-Atlantic, Inc. \$240,0000 \$3,230.00 APAC-Atlantic, Inc. \$240,0000 \$3,230.00 APAC-Atlantic, Inc. \$30,0000 \$3,230.00 APAC-Atlantic, Inc. \$30,0000 \$3,230.00 APAC-Atlantic, Inc. \$30,0000 \$3,230.00 APAC-Atlantic, Inc. \$30,0000 \$9,48.00 Summers-Taylor, Inc. \$30,0000 \$9,48.00 APAC-Atlantic, Inc. \$30,0000 \$9,48.00 APAC-Atlantic, Inc. \$30,0000 \$9,48.00 S1,264.00 APAC-Atlantic, Inc. \$30,0000 \$9,48.00 S1,264.00 APAC-Atlantic, Inc. \$30,0000 \$9,48.00 S1,264.00 APAC-Atlantic, Inc. \$30,0000 \$9,400.00 S1,266.00 APAC-Atlantic, Inc. \$30,0000 S1,266.00 S1,266.00 APAC-Atlantic, Inc. \$30,0000 S1,266.00 S1,2			· ·	
APAC-Atlantic, Inc. \$16.000 \$3,280.00  716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			\$17.0000	
17.000 EACH   Southern Constructors, Inc.   \$200.0000   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,502.00   \$3,502.00   \$3,502.00   \$3,230.0	APAC-Atlantic, Inc.		\$16.0000	\$3,280.00
17.000 EACH   Southern Constructors, Inc.   \$200.0000   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,502.00   \$3,502.00   \$3,502.00   \$3,230.0	716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Southern Constructors, Inc.   \$200.0000   \$3,400.00   \$3,400.00   \$3,400.00   \$3,400.00   \$3,502.00   \$3,502.00   \$3,502.00   \$3,502.00   \$3,230.00	, ,	17.000 FACH		
Summers-Taylor, Inc.       \$206.0000       \$3,502.00         Adams Contracting, LLC       \$190.0000       \$3,230.00         APAC-Atlantic, Inc.       \$240.0000       \$4,080.00         716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)         316.000 L.F.         Southern Constructors, Inc.       \$3.0000       \$948.00         Summers-Taylor, Inc.       \$2.9500       \$932.20         Adams Contracting, LLC       \$4.0000       \$1,264.00         APAC-Atlantic, Inc.       \$3.0000       \$948.00         716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)         Southern Constructors, Inc.       \$30.0000       \$9,600.00         Summers-Taylor, Inc.       \$30.0000       \$9,600.00         Adams Contracting, LLC       \$30.5000       \$9,760.00         Adams Contracting, LLC       \$33.0000       \$10,560.00	Southern Constructors Inc		\$200,0000	\$3,400,00
Adams Contracting, LLC APAC-Atlantic, Inc.  716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)  Southern Constructors, Inc. Southern Southern Constructors, Inc. Summers-Taylor, Inc. APAC-Atlantic, Inc.  1516-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)  T16-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK) Southern Constructors, Inc. Southern C			·	
### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### Suthern Constructors, Inc.  ### Southern Constructors, Inc.  ### Summers-Taylor, Inc.  ### APAC-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### APAC-Atlantic, Inc.  ### APAC-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### APAC-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### APAC-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### Adams Contracting, LLC  ### Apac-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### Apac-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### Apac-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### Adams Contracting, LLC  ### Summers-Taylor, Inc.  ### Apac-Atlantic, Inc.  ### Summers-Taylor, Inc.  ### Summers-Taylor, Inc.  ### Adams Contracting, LLC  ### Summers-Taylor, Inc.  ### Summer	•			
Southern Constructors, Inc.   \$3.0000   \$948.00     Summers-Taylor, Inc.   \$2.9500   \$932.20     Adams Contracting, LLC   \$4.0000   \$1,264.00     APAC-Atlantic, Inc.   \$3.0000   \$948.00     T16-02.09   PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)     Southern Constructors, Inc.   \$30.0000   \$9,600.00     Summers-Taylor, Inc.   \$30.5000   \$9,760.00     Adams Contracting, LLC   \$33.0000   \$10,560.00     Summers-Taylor, LLC   \$10.000   \$10.000   \$10.000     Summers-Taylor, LLC   \$10.000   \$10.000   \$10.000   \$10.000     Summers-Taylor, LLC   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$			·	
Southern Constructors, Inc.   \$3.0000   \$948.00     Summers-Taylor, Inc.   \$2.9500   \$932.20     Adams Contracting, LLC   \$4.0000   \$1,264.00     APAC-Atlantic, Inc.   \$3.0000   \$948.00     T16-02.09   PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)     Southern Constructors, Inc.   \$30.0000   \$9,600.00     Summers-Taylor, Inc.   \$30.5000   \$9,760.00     Adams Contracting, LLC   \$33.0000   \$10,560.00     Summers-Taylor, LLC   \$10.000   \$10.000   \$10.000     Summers-Taylor, LLC   \$10.000   \$10.000   \$10.000   \$10.000     Summers-Taylor, LLC   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$10.000   \$	716-02 08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
Southern Constructors, Inc.	710 SEIGE FEASTIOT AVEINENT MARKING (O SOFTES EINE)	316 000 L F		
Summers-Taylor, Inc.       \$2.9500       \$932.20         Adams Contracting, LLC       \$4.0000       \$1,264.00         APAC-Atlantic, Inc.       \$3.0000       \$948.00         716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)         320.000 L.F.         Southern Constructors, Inc.       \$30.0000       \$9,600.00         Summers-Taylor, Inc.       \$30.5000       \$9,760.00         Adams Contracting, LLC       \$33.0000       \$10,560.00	Southorn Constructors Inc	310.000 L.1 .	\$3,000	\$048.00
Adams Contracting, LLC \$4.000 \$1,264.00 APAC-Atlantic, Inc. \$3.0000 \$948.00  716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)  Southern Constructors, Inc. \$30.0000 \$9,600.00 Summers-Taylor, Inc. \$30.5000 \$9,760.00 Adams Contracting, LLC \$33.0000 \$10,560.00	,		· ·	
APAC-Atlantic, Inc. \$3.0000 \$948.00  716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)  320.000 L.F.  Southern Constructors, Inc. \$30.0000 \$9,600.00 Summers-Taylor, Inc. \$30.5000 \$9,760.00 Adams Contracting, LLC \$33.0000 \$10,560.00	•			
320.000 L.F.         Southern Constructors, Inc.       \$30.0000       \$9,600.00         Summers-Taylor, Inc.       \$30.5000       \$9,760.00         Adams Contracting, LLC       \$33.0000       \$10,560.00	<u>-</u>			
320.000 L.F.         Southern Constructors, Inc.       \$30.0000       \$9,600.00         Summers-Taylor, Inc.       \$30.5000       \$9,760.00         Adams Contracting, LLC       \$33.0000       \$10,560.00	716-02 09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS	-WALK)		
Southern Constructors, Inc.       \$30.0000       \$9,600.00         Summers-Taylor, Inc.       \$30.5000       \$9,760.00         Adams Contracting, LLC       \$33.0000       \$10,560.00	110 02:00 1 EAGING 1 AVEINENT MARKING (EGNOTIOSINAE GROSS			
Summers-Taylor, Inc.       \$30.5000       \$9,760.00         Adams Contracting, LLC       \$33.0000       \$10,560.00	Courthorn Constructors Inc	320.000 L.F.	¢20,0000	<b>\$0,600,00</b>
Adams Contracting, LLC \$33.0000 \$10,560.00				
•	•			
	APAC-Atlantic, Inc.		\$32.0000	\$10,240.00
Al AO-Allantic, Inc. \$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	Al Ao-Allahlio, Inc.		ψ32.0000	Ψ10,240.00
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)	716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)			
0.300 L.M.		0.300 L.M.		
Southern Constructors, Inc. \$12,100.0000 \$3,630.00			\$12,100.0000	
Summers-Taylor, Inc. \$12,338.2700 \$3,701.48	•			
Adams Contracting, LLC \$11,000.0000 \$3,300.00				
APAC-Atlantic, Inc. \$13,000.0000 \$3,900.00	APAC-Atlantic, Inc.		\$13,000.0000	\$3,900.00

		UNIT PRICE	EXTENSION
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)		
	1.00	00 EACH	
	Southern Constructors, Inc.	\$285.0000	\$285.00
	Summers-Taylor, Inc.	\$294.0000	\$294.00
	Adams Contracting, LLC	\$310.0000	\$310.00
	APAC-Atlantic, Inc.	\$400.0000	\$400.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)		
	3.00	00 EACH	
	Southern Constructors, Inc.	\$260.0000	\$780.00
	Summers-Taylor, Inc.	\$265.0000	\$795.00
	Adams Contracting, LLC	\$210.0000	\$630.00
	APAC-Atlantic, Inc.	\$250.0000	\$750.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
	294.00	00 L.F.	
	Southern Constructors, Inc.	\$7.5000	\$2,205.00
	Summers-Taylor, Inc.	\$7.4000	\$2,175.60
	Adams Contracting, LLC	\$6.0000	\$1,764.00
	APAC-Atlantic, Inc.	\$8.0000	\$2,352.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)		
	15.00	00 S.F.	
	Southern Constructors, Inc.	\$29.0000	\$435.00
	Summers-Taylor, Inc.	\$29.5000	\$442.50
	Adams Contracting, LLC	\$17.0000	\$255.00
	APAC-Atlantic, Inc.	\$28.0000	\$420.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)		
	0.40	00 L.M.	
	Southern Constructors, Inc.	\$2,875.0000	\$1,150.00
	Summers-Taylor, Inc.	\$2,935.0000	\$1,174.00
	Adams Contracting, LLC	\$3,900.0000	\$1,560.00
	APAC-Atlantic, Inc.	\$2,750.0000	\$1,100.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		
	2.00	00 L.M.	
	Southern Constructors, Inc.	\$5,465.0000	\$10,930.00
	Summers-Taylor, Inc.	\$5,590.0000	\$11,180.00
	Adams Contracting, LLC	\$5,500.0000	\$11,000.00
	APAC-Atlantic, Inc.	\$5,750.0000	\$11,500.00
717-01	MOBILIZATION		
	1.00	00 LS	
	Southern Constructors, Inc.	\$50,000.0000	\$50,000.00
	Summers-Taylor, Inc.	\$105,000.0000	\$105,000.00
	Adams Contracting, LLC	\$60,000.0000	\$60,000.00
	APAC-Atlantic, Inc.	\$122,000.0000	\$122,000.00

		UNIT PRICE	EXTENSION
730-01.01 REMOVE & RELOCATE EXISTING TRAFFIC SIGNAL EQUIPMEN	Т		
	1.000 EACH		
Southern Constructors, Inc.		\$5,232.0000	\$5,232.00
Summers-Taylor, Inc.		\$9,290.0000	\$9,290.00
Adams Contracting, LLC		\$8,200.0000	\$8,200.00
APAC-Atlantic, Inc.		\$5,900.0000	\$5,900.00
730-01.02 REMOVAL OF SIGNAL EQUIPMENT			
	1.000 EACH		
Southern Constructors, Inc.		\$3,967.0000	\$3,967.00
Summers-Taylor, Inc.		\$3,710.0000	\$3,710.00
Adams Contracting, LLC		\$3,300.0000	\$3,300.00
APAC-Atlantic, Inc.		\$4,250.0000	\$4,250.00
730-02.03 SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
	2.000 EACH		
Southern Constructors, Inc.		\$1,342.0000	\$2,684.00
Summers-Taylor, Inc.		\$1,860.0000	\$3,720.00
Adams Contracting, LLC		\$1,700.0000	\$3,400.00
APAC-Atlantic, Inc.		\$1,550.0000	\$3,100.00
730-02.09 SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	2.000 EACH		
Southern Constructors, Inc.		\$1,335.0000	\$2,670.00
Summers-Taylor, Inc.		\$1,860.0000	\$3,720.00
Adams Contracting, LLC		\$1,700.0000	\$3,400.00
APAC-Atlantic, Inc.		\$1,550.0000	\$3,100.00
730-03.21 INSTALL PULL BOX (TYPE B)			
	5.000 EACH		
Southern Constructors, Inc.		\$756.0000	\$3,780.00
Summers-Taylor, Inc.		\$2,480.0000	\$12,400.00
Adams Contracting, LLC		\$2,200.0000	\$11,000.00
APAC-Atlantic, Inc.		\$800.0000	\$4,000.00
730-05.04 MODIFY EXISTING ELECTRICAL SERVICE CONNECTION			
	1.000 EACH		
Southern Constructors, Inc.		\$3,093.0000	\$3,093.00
Summers-Taylor, Inc.		\$4,330.0000	\$4,330.00
Adams Contracting, LLC		\$3,900.0000	\$3,900.00
APAC-Atlantic, Inc.		\$2,725.0000	\$2,725.00
730-08.02 SIGNAL CABLE - 5 CONDUCTOR			
	59.000 L.F.		
Southern Constructors, Inc.		\$3.0000	\$177.00
Summers-Taylor, Inc.		\$15.5000	\$914.50
Adams Contracting, LLC		\$14.0000	\$826.00
APAC-Atlantic, Inc.		\$4.0000	\$236.00

	UNIT PRICE	EXTENSION
730-08.03 SIGNAL CABLE - 7 CONDUCTOR		
1,664.000 L	L.F.	
Southern Constructors, Inc.	\$2.0000	\$3,328.00
Summers-Taylor, Inc.	\$4.8000	\$7,987.20
Adams Contracting, LLC	\$5.0000	\$8,320.00
APAC-Atlantic, Inc.	\$2.2500	\$3,744.00
730-08.04 SIGNAL CABLE - 9 CONDUCTOR		
873.000 L	L.F.	
Southern Constructors, Inc.	\$3.0000	\$2,619.00
Summers-Taylor, Inc.	\$4.8500	\$4,234.05
Adams Contracting, LLC	\$5.0000	\$4,365.00
APAC-Atlantic, Inc.	\$3.5000	\$3,055.50
730-12.02 CONDUIT 2" DIAMETER (PVC SCHEDULE 40)		
70.000 L	L.F.	
Southern Constructors, Inc.	\$14.0000	\$980.00
Summers-Taylor, Inc.	\$19.0000	\$1,330.00
Adams Contracting, LLC	\$17.0000	\$1,190.00
APAC-Atlantic, Inc.	\$15.7500	\$1,102.50
730-12.03 CONDUIT 3" DIAMETER (PVC SCHEDULE 40)		
32.000 L	L.F.	
Southern Constructors, Inc.	\$18.0000	\$576.00
Summers-Taylor, Inc.	\$23.0000	\$736.00
Adams Contracting, LLC	\$21.0000	\$672.00
APAC-Atlantic, Inc.	\$20.0000	\$640.00
730-12.23 CONDUIT 2" DIAMETER (DIRECTIONAL BORE)		
467.000 L	L.F.	
Southern Constructors, Inc.	\$28,0000	\$13,076.00
Summers-Taylor, Inc.	\$13.0000	\$6,071.00
Adams Contracting, LLC	\$12.0000	\$5,604.00
APAC-Atlantic, Inc.	\$35.0000	\$16,345.00
730-12.24 CONDUIT 3" DIAMETER (DIRECTIONAL BORE)		
258.000 L	L.F.	
Southern Constructors, Inc.	\$29.0000	\$7,482.00
Summers-Taylor, Inc.	\$17.5000	\$4,515.00
Adams Contracting, LLC	\$16.0000	\$4,128.00
APAC-Atlantic, Inc.	\$32.0000	\$8,256.00
730-12.26 CONDUIT 2" DIAMETER (PVC SCHEDULE 80)		
17.000 L	L.F.	
Southern Constructors, Inc.	\$21.0000	\$357.00
Summers-Taylor, Inc.	\$80.5000	\$1,368.50
Adams Contracting, LLC	\$72.0000	\$1,224.00
APAC-Atlantic, Inc.	\$23.0000	\$391.00
•	·	¥

		UNIT PRICE	EXTENSION
730-15.11 MODIFY CABINET (INSTALL PEDESTRIAN UPDATES)			
, ,	1.000 EACH		
Southern Constructors, Inc.		\$1,305.0000	\$1,305.00
Summers-Taylor, Inc.		\$6,190.0000	\$6,190.00
Adams Contracting, LLC		\$5,500.0000	\$5,500.00
APAC-Atlantic, Inc.		\$1,500.0000	\$1,500.00
730-23.30 PEDESTAL POLE (TYPE A)			
	3.000 EACH		
Southern Constructors, Inc.		\$2,747.0000	\$8,241.00
Summers-Taylor, Inc.		\$4,330.0000	\$12,990.00
Adams Contracting, LLC		\$3,900.0000	\$11,700.00
APAC-Atlantic, Inc.		\$3,075.0000	\$9,225.00
730-25.17 CANTILEVER SIGNAL SUPPORT (1 ARM @ 85')			
	1.000 EACH		
Southern Constructors, Inc.		\$57,500.0000	\$57,500.00
Summers-Taylor, Inc.		\$76,100.0000	\$76,100.00
Adams Contracting, LLC		\$68,000.0000	\$68,000.00
APAC-Atlantic, Inc.		\$62,000.0000	\$62,000.00
730-26.05 COUNTDOWN PEDESTRIAN SIGNAL			
	2.000 EACH		
Southern Constructors, Inc.		\$921.0000	\$1,842.00
Summers-Taylor, Inc.		\$1,240.0000	\$2,480.00
Adams Contracting, LLC		\$1,100.0000	\$2,200.00
APAC-Atlantic, Inc.		\$1,025.0000	\$2,050.00
730-26.06 PEDESTRIAN PUSHBUTTON POST			
	1.000 EACH		
Southern Constructors, Inc.		\$1,801.0000	\$1,801.00
Summers-Taylor, Inc.		\$2,480.0000	\$2,480.00
Adams Contracting, LLC		\$2,200.0000	\$2,200.00
APAC-Atlantic, Inc.		\$2,050.0000	\$2,050.00
730-26.09 PEDESTRIAN PUSHBUTTON WITH 15IN SIGN			
	2.000 EACH		
Southern Constructors, Inc.		\$866.0000	\$1,732.00
Summers-Taylor, Inc.		\$1,860.0000	\$3,720.00
Adams Contracting, LLC		\$1,700.0000	\$3,400.00
APAC-Atlantic, Inc.		\$950.0000	\$1,900.00
730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSHBUTTON &	15IN SIGN		
	6.000 EACH		
Southern Constructors, Inc.		\$2,498.0000	\$14,988.00
Summers-Taylor, Inc.		\$2,480.0000	\$14,880.00
Adams Contracting, LLC		\$2,200.0000	\$13,200.00
APAC-Atlantic, Inc.		\$2,800.0000	\$16,800.00

				CONTRACT CNX320
			UNIT PRICE	EXTENSION
740.00.04	CEOMEMBRANE			
740-06.01	GEOMEMBRANE	188.000 S.Y.		
	Ocuthorn Ocustoseters Inc	100.000 3.1.	<b>#00.0000</b>	ΦE 040.00
	Southern Constructors, Inc.		\$30.0000	\$5,640.00 \$5,000.00
	Summers-Taylor, Inc.		\$31.5000 \$43.0000	\$5,922.00 \$3,444.00
	Adams Contracting, LLC APAC-Atlantic, Inc.		\$13.0000 \$120.0000	\$2,444.00
	APAC-Aliantic, Inc.		\$120.0000	\$22,560.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		140.000 S.Y.		
	Southern Constructors, Inc.		\$5.0000	\$700.00
	Summers-Taylor, Inc.		\$4.2500	\$595.00
	Adams Contracting, LLC		\$4.0000	\$560.00
	APAC-Atlantic, Inc.		\$55.0000	\$7,700.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN			
		301.000 L.F.		
	Southern Constructors, Inc.		\$9.5000	\$2,859.50
	Summers-Taylor, Inc.		\$10.0000	\$3,010.00
	Adams Contracting, LLC		\$10.0000	\$3,010.00
	APAC-Atlantic, Inc.		\$10.0000	\$3,010.00
801-01	SEEDING (WITH MULCH)			
00.0.	0	7.000 UNIT		
	Southern Constructors, Inc.		\$110.0000	\$770.00
	Summers-Taylor, Inc.		\$95.0000	\$665.00
	Adams Contracting, LLC		\$110.0000	\$770.00
	APAC-Atlantic, Inc.		\$125.0000	\$875.00
			<b>*</b>	***************************************
801-03	WATER (SEEDING & SODDING)			
		0.700 M.G.		
	Southern Constructors, Inc.		\$545.0000	\$381.50
	Summers-Taylor, Inc.		\$475.0000	\$332.50
	Adams Contracting, LLC		\$520.0000	\$364.00
	APAC-Atlantic, Inc.		\$620.0000	\$434.00
803-01	SODDING (NEW SOD)			
		366.000 S.Y.		
	Southern Constructors, Inc.		\$16.0000	\$5,856.00
	Summers-Taylor, Inc.		\$14.5000	\$5,307.00
	Adams Contracting, LLC		\$16.0000	\$5,856.00
	APAC-Atlantic, Inc.		\$19.0000	\$6,954.00

## **SUB-TOTAL ROADWAY**

Southern Constructors, Inc.	\$1,005,601.00
Summers-Taylor, Inc.	\$1,065,293.18
Adams Contracting, LLC	\$1,279,425.00
APAC-Atlantic, Inc.	\$1,302,701.70

## **TOTAL CONTRACT**

Southern Constructors, Inc.	\$1,005,601.00
Summers-Taylor, Inc.	\$1,065,293.18
Adams Contracting, LLC	\$1,279,425.00
APAC-Atlantic, Inc.	\$1,302,701.70

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

## HAMILTON COUNTY (Contract No. CNX358 Call 027)

NH-I-75-1(144),33005-3179-44,STP-M-4986(1),33960-3531-54

THE GRADING, DRAINAGE, CONSTRUCTION OF BRIDGES AND RETAINING WALLS, ITS, SIGNALS AND PAVING WITH PORTLAND CEMENT CONCRETE ON I-75 AND HAMILTON PLACE BOULEVARD AT THE HAMILTON PLACE MALL INTERCHANGE.

PROJECT LENGTH - 1.851 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2027

DBE GOAL 9.50%

ΤΩΤΔΙ	CONTRACT
IOIAL	CONTRACT

Summers-Taylor, Inc.	\$83,024,607.87
Dement Construction Company, LLC	\$88,185,380.54
Wright Brothers Construction Company, Inc.	\$89,816,689.80
Jones Bros. Contractors, LLC	\$107,623,961.35

UNIT PRICE **EXTENSION** 

ROADWA	AY CATEGORY		5	
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Summers-Taylor, Inc.		\$532,039.6300	\$532,039.63
	Dement Construction Company, LLC		\$500,000.0000	\$500,000.00
	Wright Brothers Construction Company, Inc.		\$623,500.0000	\$623,500.00
	Jones Bros. Contractors, LLC		\$980,000.0000	\$980,000.00
108-03	CPM PROJECT SCHEDULE			
		1.000 LS		
	Summers-Taylor, Inc.		\$145,867.9400	\$145,867.94
	Dement Construction Company, LLC		\$130,000.0000	\$130,000.00
	Wright Brothers Construction Company, Inc.		\$156,000.0000	\$156,000.00
	Jones Bros. Contractors, LLC		\$250,000.0000	\$250,000.00
109-10.01	TRAINEE			
		6,740.000 HOUR		
	Summers-Taylor, Inc.		\$0.8000	\$5,392.00
	Dement Construction Company, LLC		\$0.8000	\$5,392.00
	Wright Brothers Construction Company, Inc.		\$0.8000	\$5,392.00
	Jones Bros. Contractors, LLC		\$0.8000	\$5,392.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Summers-Taylor, Inc.		\$427,008.5300	\$427,008.53
	Dement Construction Company, LLC		\$717,250.0000	\$717,250.00
	Wright Brothers Construction Company, Inc.		\$825,000.0000	\$825,000.00
	Jones Bros. Contractors, LLC		\$700,000.0000	\$700,000.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Summers-Taylor, Inc.		\$46,502.8600	\$46,502.86
	Dement Construction Company, LLC		\$20,000.0000	\$20,000.00
	Wright Brothers Construction Company, Inc.		\$40,000.0000	\$40,000.00
	Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
202-02.21	REMOVAL OF PIPE (12" PIPE)			
		33.000 L.F.		
	Summers-Taylor, Inc.		\$117.0200	\$3,861.66
	Dement Construction Company, LLC		\$15.0000	\$495.00
	Wright Brothers Construction Company, Inc.		\$43.0000	\$1,419.00
	Jones Bros. Contractors, LLC		\$30.0000	\$990.00
202-02.22	REMOVAL OF PIPE (15" PIPE)			
		901.000 L.F.		
	Summers-Taylor, Inc.		\$56.4000	\$50,816.40
	Dement Construction Company, LLC		\$15.0000	\$13,515.00
	Wright Brothers Construction Company, Inc.		\$43.0000	\$38,743.00
	Jones Bros. Contractors, LLC		\$30.0000	\$27,030.00

		UNIT PRICE	EXTENSION
		ONITTRICE	EXTENSION
202-02.23 REMOVAL OF PIPE (18" PIPE)			
· · ·	495.000 L.F.		
Summers-Taylor, Inc.		\$56.4000	\$27,918.00
Dement Construction Company, LLC		\$15.0000	\$7,425.00
Wright Brothers Construction Company, Inc.		\$43.0000	\$21,285.00
Jones Bros. Contractors, LLC		\$30.0000	\$14,850.00
202-02.24 REMOVAL OF PIPE (24" PIPE)			
	35.000 L.F.		
Summers-Taylor, Inc.		\$120.8500	\$4,229.75
Dement Construction Company, LLC		\$18.0000	\$630.00
Wright Brothers Construction Company, Inc.		\$43.0000	\$1,505.00
Jones Bros. Contractors, LLC		\$30.0000	\$1,050.00
202-02.25 REMOVAL OF PIPE (30" PIPE)			
	264.000 L.F.		
Summers-Taylor, Inc.		\$65.0000	\$17,160.00
Dement Construction Company, LLC		\$18.0000	\$4,752.00
Wright Brothers Construction Company, Inc.		\$43.0000	\$11,352.00
Jones Bros. Contractors, LLC		\$30.0000	\$7,920.00
202-02.26 REMOVAL OF PIPE (36" PIPE)			
	236.000 L.F.		
Summers-Taylor, Inc.		\$60.9400	\$14,381.84
Dement Construction Company, LLC		\$24.0000	\$5,664.00
Wright Brothers Construction Company, Inc.		\$43.0000	\$10,148.00
Jones Bros. Contractors, LLC		\$30.0000	\$7,080.00
202-02.27 REMOVAL OF PIPE (20" PIPE)			
	83.000 L.F.		
Summers-Taylor, Inc.		\$61.1500	\$5,075.45
Dement Construction Company, LLC		\$18.0000	\$1,494.00
Wright Brothers Construction Company, Inc.		\$43.0000	\$3,569.00
Jones Bros. Contractors, LLC		\$30.0000	\$2,490.00
202-03 REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
	4,110.000 S.Y.		
Summers-Taylor, Inc.		\$13.6700	\$56,183.70
Dement Construction Company, LLC		\$8.0000	\$32,880.00
Wright Brothers Construction Company, Inc.		\$23.0000	\$94,530.00
Jones Bros. Contractors, LLC		\$6.5000	\$26,715.00
202-03.01 REMOVAL OF ASPHALT PAVEMENT			
	452.000 S.Y.		
Summers-Taylor, Inc.		\$27.5500	\$12,452.60
Dement Construction Company, LLC		\$10.0000	\$4,520.00
Wright Brothers Construction Company, Inc.		\$8.9500	\$4,045.40
Jones Bros. Contractors, LLC		\$18.0000	\$8,136.00

			UNIT PRICE	EXTENSION
202-04.01	REMOVAL OF STRUCTURES (CANTILEVER OVERHEAD S	SIGNS)		
		1.000 LS		
	Summers-Taylor, Inc.		\$49,990.8200	\$49,990.82
	Dement Construction Company, LLC		\$25,000.0000	\$25,000.00
	Wright Brothers Construction Company, Inc.		\$84,300.0000	\$84,300.00
	Jones Bros. Contractors, LLC		\$75,000.0000	\$75,000.00
202-08.28	REMOVAL OF MEDIAN BARRIER (AT NEW OVERHEAD SI	GN LOCATIONS)		
		430.000 L.F.		
	Summers-Taylor, Inc.		\$135.2200	\$58,144.60
	Dement Construction Company, LLC		\$50.0000	\$21,500.00
	Wright Brothers Construction Company, Inc.		\$118.0000	\$50,740.00
	Jones Bros. Contractors, LLC		\$110.0000	\$47,300.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		182,146.000 C.Y.		
	Summers-Taylor, Inc.		\$31.1400	\$5,672,026.44
	Dement Construction Company, LLC		\$30.0000	\$5,464,380.00
	Wright Brothers Construction Company, Inc.		\$15.0000	\$2,732,190.00
	Jones Bros. Contractors, LLC		\$19.0000	\$3,460,774.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		130.000 TON		
	Summers-Taylor, Inc.		\$102.4600	\$13,319.80
	Dement Construction Company, LLC		\$60.0000	\$7,800.00
	Wright Brothers Construction Company, Inc.		\$90.0000	\$11,700.00
	Jones Bros. Contractors, LLC		\$85.0000	\$11,050.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		8,598.000 C.Y.		
	Summers-Taylor, Inc.		\$24.0600	\$206,867.88
	Dement Construction Company, LLC		\$30.0000	\$257,940.00
	Wright Brothers Construction Company, Inc.		\$0.0100	\$85.98
	Jones Bros. Contractors, LLC		\$0.2500	\$2,149.50
203-04	PLACING AND SPREADING TOPSOIL			
		12,066.315 C.Y.		
	Summers-Taylor, Inc.		\$33.1600	\$400,119.01
	Dement Construction Company, LLC		\$10.0000	\$120,663.15
	Wright Brothers Construction Company, Inc.		\$1.0000	\$12,066.32
	Jones Bros. Contractors, LLC		\$16.0000	\$193,061.04
203-06	WATER			
		3,250.868 M.G.		
	Summers-Taylor, Inc.	,	\$9.7900	\$31,826.00
	Dement Construction Company, LLC		\$80.0000	\$260,069.44
	Wright Brothers Construction Company, Inc.		\$15.0000	\$48,763.02
	Jones Bros. Contractors, LLC		\$0.1000	\$325.09

			UNIT PRICE	EXTENSION
203-50	CONSTRUCTION OF HAUL ROAD	1.000 LS		
	Summers-Taylor, Inc.	1.000 L3	\$35,200.6000	\$35,200.60
	Dement Construction Company, LLC		\$500,000.0000	\$500,000.00
	Wright Brothers Construction Company, Inc.		\$0.0100	\$0.01
	Jones Bros. Contractors, LLC		\$100,000.0000	\$100,000.00
203-50.01	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Summers-Taylor, Inc.		\$132,327.5300	\$132,327.53
	Dement Construction Company, LLC		\$1,000,000.0000	\$1,000,000.00
	Wright Brothers Construction Company, Inc.		\$0.0100	\$0.01
	Jones Bros. Contractors, LLC		\$250,000.0000	\$250,000.00
203-50.02	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Summers-Taylor, Inc.		\$49,622.8200	\$49,622.82
	Dement Construction Company, LLC		\$1,000,000.0000	\$1,000,000.00
	Wright Brothers Construction Company, Inc.		\$0.0100	\$0.01
	Jones Bros. Contractors, LLC		\$100,000.0000	\$100,000.00
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		8.000 C.Y.		
	Summers-Taylor, Inc.		\$473.6000	\$3,788.80
	Dement Construction Company, LLC		\$300.0000	\$2,400.00
	Wright Brothers Construction Company, Inc.		\$635.0000	\$5,080.00
	Jones Bros. Contractors, LLC		\$400.0000	\$3,200.00
209-01.30	TEMPORARY COMPOST FILTER BERM			
		902.000 C.Y.		
	Summers-Taylor, Inc.		\$36.8400	\$33,229.68
	Dement Construction Company, LLC		\$25.0000	\$22,550.00
	Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$39.0000 \$25.0000	\$35,178.00 \$22,550.00
	Jones Bios. Contractors, LLC		φ25.0000	φ22,330.00
209-03.23	FILTER SOCK (24 INCH)			
		147.000 L.F.		
	Summers-Taylor, Inc.		\$11.6800	\$1,716.96
	Dement Construction Company, LLC		\$14.5000	\$2,131.50
	Wright Brothers Construction Company, Inc.		\$12.5000	\$1,837.50
	Jones Bros. Contractors, LLC		\$30.0000	\$4,410.00
209-05	SEDIMENT REMOVAL			
		3,980.000 C.Y.		
	Summers-Taylor, Inc.		\$35.1300	\$139,817.40
	Dement Construction Company, LLC		\$40.0000	\$159,200.00
	Wright Brothers Construction Company, Inc.		\$17.3000 \$18.0000	\$68,854.00
	Jones Bros. Contractors, LLC		\$18.0000	\$71,640.00

			UNIT PRICE	EXTENSION
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		7,680.000 L.F.		
	Summers-Taylor, Inc.		\$5.2600	\$40,396.80
	Dement Construction Company, LLC		\$5.0000	\$38,400.00
	Wright Brothers Construction Company, Inc.		\$5.6000	\$43,008.00
	Jones Bros. Contractors, LLC		\$7.4000	\$56,832.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		53,415.000 L.F.		
	Summers-Taylor, Inc.		\$1.4200	\$75,849.30
	Dement Construction Company, LLC		\$3.0000	\$160,245.00
	Wright Brothers Construction Company, Inc.		\$1.5000	\$80,122.50
	Jones Bros. Contractors, LLC		\$3.9500	\$210,989.25
209-08.07	ROCK CHECK DAM			
		97.000 EACH		
	Summers-Taylor, Inc.		\$736.7100	\$71,460.87
	Dement Construction Company, LLC		\$700.0000	\$67,900.00
	Wright Brothers Construction Company, Inc.		\$670.0000	\$64,990.00
	Jones Bros. Contractors, LLC		\$980.0000	\$95,060.00
209-08.08	ENHANCED ROCK CHECK DAM			
		45.000 EACH		
	Summers-Taylor, Inc.		\$1,036.6500	\$46,649.25
	Dement Construction Company, LLC		\$985.0000	\$44,325.00
	Wright Brothers Construction Company, Inc.		\$1,000.0000	\$45,000.00
	Jones Bros. Contractors, LLC		\$1,100.0000	\$49,500.00
209-09.41	CURB INLET PROTECTION (TYPE 2)			
		8.000 EACH		
	Summers-Taylor, Inc.		\$447.2900	\$3,578.32
	Dement Construction Company, LLC		\$425.0000	\$3,400.00
	Wright Brothers Construction Company, Inc.		\$485.0000	\$3,880.00
	Jones Bros. Contractors, LLC		\$650.0000	\$5,200.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		66.000 EACH		
	Summers-Taylor, Inc.		\$236.8000	\$15,628.80
	Dement Construction Company, LLC		\$400.0000	\$26,400.00
	Wright Brothers Construction Company, Inc.		\$253.0000	\$16,698.00
	Jones Bros. Contractors, LLC		\$425.0000	\$28,050.00
209-40.30	CATCH BASIN PROTECTION (TYPE A)			
		4.000 EACH		
	Summers-Taylor, Inc.		\$1,052.4400	\$4,209.76
	Dement Construction Company, LLC		\$1,000.0000	\$4,000.00
	Wright Brothers Construction Company, Inc.		\$1,140.0000	\$4,560.00
	Jones Bros. Contractors, LLC		\$795.0000	\$3,180.00

			UNIT PRICE	EXTENSION
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
		18.000 EACH		
	Summers-Taylor, Inc.		\$368.3500	\$6,630.30
	Dement Construction Company, LLC		\$365.0000	\$6,570.00
	Wright Brothers Construction Company, Inc.		\$394.0000	\$7,092.00
	Jones Bros. Contractors, LLC		\$650.0000	\$11,700.00
209-40.46	CATCH BASIN FILTER ASSEMBLY(TYPE 6)			
		31.000 EACH		
	Summers-Taylor, Inc.		\$868.2600	\$26,916.06
	Dement Construction Company, LLC		\$825.0000	\$25,575.00
	Wright Brothers Construction Company, Inc.		\$940.0000	\$29,140.00
	Jones Bros. Contractors, LLC		\$925.0000	\$28,675.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		47,561.000 TON		
	Summers-Taylor, Inc.		\$52.8500	\$2,513,598.85
	Dement Construction Company, LLC		\$38.0000	\$1,807,318.00
	Wright Brothers Construction Company, Inc.		\$53.4000	\$2,539,757.40
	Jones Bros. Contractors, LLC		\$65.0000	\$3,091,465.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		4,000.000 TON		
	Summers-Taylor, Inc.		\$59.4100	\$237,640.00
	Dement Construction Company, LLC		\$45.0000	\$180,000.00
	Wright Brothers Construction Company, Inc.		\$72.5000	\$290,000.00
	Jones Bros. Contractors, LLC		\$56.0000	\$224,000.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	IG A		
		2,632.000 TON		
	Summers-Taylor, Inc.		\$157.2800	\$413,960.96
	Dement Construction Company, LLC		\$147.9500	\$389,404.40
	Wright Brothers Construction Company, Inc.		\$150.0000	\$394,800.00
	Jones Bros. Contractors, LLC		\$147.9500	\$389,404.40
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	IG B-M2		
		2,279.000 TON		
	Summers-Taylor, Inc.		\$169.6700	\$386,677.93
	Dement Construction Company, LLC		\$159.6000	\$363,728.40
	Wright Brothers Construction Company, Inc.		\$160.0000	\$364,640.00
	Jones Bros. Contractors, LLC		\$159.6000	\$363,728.40
313-03	TREATED PERMEABLE BASE			
		68,008.000 S.Y.		
	Summers-Taylor, Inc.		\$37.3100	\$2,537,378.48
	Dement Construction Company, LLC		\$35.1000	\$2,387,080.80
	Wright Brothers Construction Company, Inc.		\$32.5000	\$2,210,260.00
	Jones Bros. Contractors, LLC		\$35.1000	\$2,387,080.80

			UNIT PRICE	EXTENSION
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		132.000 TON		
	Summers-Taylor, Inc.		\$1,381.9900	\$182,422.68
	Dement Construction Company, LLC		\$1,300.0000	\$171,600.00
	Wright Brothers Construction Company, Inc.		\$940.0000	\$124,080.00
	Jones Bros. Contractors, LLC		\$1,300.0000	\$171,600.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		468.000 TON		
	Summers-Taylor, Inc.		\$41.4600	\$19,403.28
	Dement Construction Company, LLC		\$39.0000	\$18,252.00
	Wright Brothers Construction Company, Inc.		\$185.0000	\$86,580.00
	Jones Bros. Contractors, LLC		\$39.0000	\$18,252.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		23.000 TON		
	Summers-Taylor, Inc.		\$1,063.0700	\$24,450.61
	Dement Construction Company, LLC		\$1,000.0000	\$23,000.00
	Wright Brothers Construction Company, Inc.		\$950.0000	\$21,850.00
	Jones Bros. Contractors, LLC		\$1,000.0000	\$23,000.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		1,486.000 TON		
	Summers-Taylor, Inc.		\$199.8600	\$296,991.96
	Dement Construction Company, LLC		\$188.0000	\$279,368.00
	Wright Brothers Construction Company, Inc.		\$194.0000	\$288,284.00
	Jones Bros. Contractors, LLC		\$188.0000	\$279,368.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		237.000 TON		
	Summers-Taylor, Inc.		\$100.9900	\$23,934.63
	Dement Construction Company, LLC		\$95.0000	\$22,515.00
	Wright Brothers Construction Company, Inc.		\$120.0000	\$28,440.00
	Jones Bros. Contractors, LLC		\$95.0000	\$22,515.00
501-01.03	PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10"			
		61,889.000 S.Y.		
	Summers-Taylor, Inc.		\$150.8000	\$9,332,861.20
	Dement Construction Company, LLC		\$148.0000	\$9,159,572.00
	Wright Brothers Construction Company, Inc.		\$175.0000	\$10,830,575.00
	Jones Bros. Contractors, LLC		\$147.0000	\$9,097,683.00
501-01.16	PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 13" FA	ST TRACK		
		1,067.000 S.Y.		
	Summers-Taylor, Inc.		\$385.0000	\$410,795.00
	Dement Construction Company, LLC		\$385.0000	\$410,795.00
	Wright Brothers Construction Company, Inc.		\$715.0000	\$762,905.00
	Jones Bros. Contractors, LLC		\$300.0000	\$320,100.00

	UNIT PRICE	EXTENSION
501-03.10 CONCRETE SHOULDER RUMBLE STRIPS		
7,07	70.000 L.F.	
Summers-Taylor, Inc.	\$5.0000	\$35,350.00
Dement Construction Company, LLC	\$5.0000	\$35,350.00
Wright Brothers Construction Company, Inc.	\$5.7500	\$40,652.50
Jones Bros. Contractors, LLC	\$25.0000	\$176,750.00
502-04.01 SAWING CONCRETE PAVEMENT (FULL DEPTH)		
2,69	92.000 L.F.	
Summers-Taylor, Inc.	\$15.0000	\$40,380.00
Dement Construction Company, LLC	\$15.0000	\$40,380.00
Wright Brothers Construction Company, Inc.	\$16.8500	\$45,360.20
Jones Bros. Contractors, LLC	\$10.0000	\$26,920.00
502-04.02 LOAD TRANSFER DOWELS		
9	96.000 EACH	
Summers-Taylor, Inc.	\$29.0000	\$2,784.00
Dement Construction Company, LLC	\$29.0000	\$2,784.00
Wright Brothers Construction Company, Inc.	\$32.5000	\$3,120.00
Jones Bros. Contractors, LLC	\$20.0000	\$1,920.00
502-08.10 SAWING & RESEALING JOINTS (SILICONE SEALANT)		
135,10	68.000 L.F.	
Summers-Taylor, Inc.	\$2.0500	\$277,094.40
Dement Construction Company, LLC	\$4.0000	\$540,672.00
Wright Brothers Construction Company, Inc.	\$4.9500	\$669,081.60
Jones Bros. Contractors, LLC	\$3.2500	\$439,296.00
503-01 GRINDING CONCRETE PAVEMENT		
141,10	05.000 S.Y.	
Summers-Taylor, Inc.	\$4.6500	\$656,138.25
Dement Construction Company, LLC	\$5.0000	\$705,525.00
Wright Brothers Construction Company, Inc.	\$5.0000	\$705,525.00
Jones Bros. Contractors, LLC	\$3.8000	\$536,199.00
604-01.20 BOX TUBE SAFETY RAIL		
	90.000 L.F.	
Summers-Taylor, Inc.	\$255.2400	\$22,971.60
Dement Construction Company, LLC	\$250.0000	\$22,500.00
Wright Brothers Construction Company, Inc.	\$415.0000	\$37,350.00
Jones Bros. Contractors, LLC	\$360.0000	\$32,400.00
604-07.02 RETAINING WALL (RW-1 WRAP AROUND)		
	54.000 S.F.	
Summers-Taylor, Inc.	\$108.0200	\$1,582,925.08
Dement Construction Company, LLC	\$125.0000	\$1,831,750.00
Wright Brothers Construction Company, Inc.	\$122.0000	\$1,787,788.00
Jones Bros. Contractors, LLC	\$125.0000	\$1,831,750.00

	UNIT PRICE	EXTENSION
604-07.03 RETAINING WALL (RW-2 WRAP AROUND)		
15,95	50.000 S.F.	
Summers-Taylor, Inc.	\$104.8800	\$1,672,836.00
Dement Construction Company, LLC	\$125.0000	\$1,993,750.00
Wright Brothers Construction Company, Inc.	\$115.0000	\$1,834,250.00
Jones Bros. Contractors, LLC	\$125.0000	\$1,993,750.00
604-07.05 RETAINING WALL (RW-3 WRAP AROUND)		
14,30	03.000 S.F.	
Summers-Taylor, Inc.	\$104.9900	\$1,501,671.97
Dement Construction Company, LLC	\$125.0000	\$1,787,875.00
Wright Brothers Construction Company, Inc.	\$120.0000	\$1,716,360.00
Jones Bros. Contractors, LLC	\$125.0000	\$1,787,875.00
604-07.08 RETAINING WALL (RW-4A WINGWALL)		
73	39.000 S.F.	
Summers-Taylor, Inc.	\$197.0600	\$145,627.34
Dement Construction Company, LLC	\$200.0000	\$147,800.00
Wright Brothers Construction Company, Inc.	\$311.0000	\$229,829.00
Jones Bros. Contractors, LLC	\$215.0000	\$158,885.00
604-07.09 RETAINING WALL (RW-4B WINGWALL)		
37	76.000 S.F.	
Summers-Taylor, Inc.	\$197.0600	\$74,094.56
Dement Construction Company, LLC	\$200.0000	\$75,200.00
Wright Brothers Construction Company, Inc.	\$311.0000	\$116,936.00
Jones Bros. Contractors, LLC	\$180.0000	\$67,680.00
604-07.10 RETAINING WALL (RW-5A WINGWALL)		
74	49.000 S.F.	
Summers-Taylor, Inc.	\$197.0600	\$147,597.94
Dement Construction Company, LLC	\$200.0000	\$149,800.00
Wright Brothers Construction Company, Inc.	\$375.0000	\$280,875.00
Jones Bros. Contractors, LLC	\$150.0000	\$112,350.00
604-07.11 RETAINING WALL (RW-5B WINGWALL)		
90	03.000 S.F.	
Summers-Taylor, Inc.	\$450.4000	\$406,711.20
Dement Construction Company, LLC	\$200.0000	\$180,600.00
Wright Brothers Construction Company, Inc.	\$323.0000	\$291,669.00
Jones Bros. Contractors, LLC	\$150.0000	\$135,450.00
604-07.12 RETAINING WALL (RW-6)		
15,74	42.000 S.F.	
Summers-Taylor, Inc.	\$207.8900	\$3,272,604.38
Dement Construction Company, LLC	\$150.0000	\$2,361,300.00
Wright Brothers Construction Company, Inc.	\$214.0000	\$3,368,788.00
Jones Bros. Contractors, LLC	\$150.0000	\$2,361,300.00

		UNIT PRICE	EXTENSION
604-07.13 RETAINING WALL (R-7)			
	14,476.000 S.F.		
Summers-Taylor, Inc.		\$155.7300	\$2,254,347.48
Dement Construction Company, LLC		\$125.0000	\$1,809,500.00
Wright Brothers Construction Company, Inc.		\$243.0000	\$3,517,668.00
Jones Bros. Contractors, LLC		\$300.0000	\$4,342,800.00
604-07.28 RETAINING WALL EXCAVATION			
	610.000 C.Y.		
Summers-Taylor, Inc.		\$46.6500	\$28,456.50
Dement Construction Company, LLC		\$30.0000	\$18,300.00
Wright Brothers Construction Company, Inc.		\$27.5000	\$16,775.00
Jones Bros. Contractors, LLC		\$50.0000	\$30,500.00
607-01.02 12" CONCRETE PIPE CULVERT (CLASS III)			
	46.000 L.F.		
Summers-Taylor, Inc.		\$210.8500	\$9,699.10
Dement Construction Company, LLC		\$120.0000	\$5,520.00
Wright Brothers Construction Company, Inc.		\$111.0000	\$5,106.00
Jones Bros. Contractors, LLC		\$75.0000	\$3,450.00
607-02.02 15" CONCRETE PIPE CULVERT(CLASS III)			
	55.000 L.F.		
Summers-Taylor, Inc.		\$174.0600	\$9,573.30
Dement Construction Company, LLC		\$91.0000	\$5,005.00
Wright Brothers Construction Company, Inc.		\$100.0000	\$5,500.00
Jones Bros. Contractors, LLC		\$60.0000	\$3,300.00
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)			
	3,114.000 L.F.		
Summers-Taylor, Inc.		\$156.4200	\$487,091.88
Dement Construction Company, LLC		\$102.2500	\$318,406.50
Wright Brothers Construction Company, Inc.		\$99.0000	\$308,286.00
Jones Bros. Contractors, LLC		\$100.0000	\$311,400.00
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
	1,136.000 L.F.		
Summers-Taylor, Inc.		\$180.2800	\$204,798.08
Dement Construction Company, LLC		\$136.5000	\$155,064.00
Wright Brothers Construction Company, Inc.		\$119.0000	\$135,184.00
Jones Bros. Contractors, LLC		\$128.0000	\$145,408.00
607-05.03 24" CONCRETE PIPE CULVERT (CLASS IV)			
	700.000 L.F.		
Summers-Taylor, Inc.		\$194.8400	\$136,388.00
Dement Construction Company, LLC		\$157.0000	\$109,900.00
Wright Brothers Construction Company, Inc.		\$145.0000	\$101,500.00
Jones Bros. Contractors, LLC		\$145.0000	\$101,500.00

		UNIT PRICE	EXTENSION
607-05.05 24" CONCRETE PIPE CULVERT(CLASS IV)JACKED-IN-PLACE			
	85.000 L.F.		
Summers-Taylor, Inc.		\$1,728.1000	\$146,888.50
Dement Construction Company, LLC		\$1,700.0000	\$144,500.00
Wright Brothers Construction Company, Inc.		\$3,240.0000	\$275,400.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$255,000.00
607-05.06 24" PIPE CULVERT (JACKED-IN-PLACE)			
	140.000 L.F.		
Summers-Taylor, Inc.		\$1,973.6700	\$276,313.80
Dement Construction Company, LLC		\$1,700.0000	\$238,000.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$3,010.0000 \$3,000.0000	\$421,400.00 \$420,000.00
Julies Blus. Collitacions, LLC		φ3,000.0000	φ420,000.00
607-06.02 30" CONCRETE PIPE CULVERT (CLASS III)			
	646.000 L.F.		
Summers-Taylor, Inc.		\$227.7300	\$147,113.58
Dement Construction Company, LLC		\$190.0000	\$122,740.00
Wright Brothers Construction Company, Inc.		\$151.0000	\$97,546.00
Jones Bros. Contractors, LLC		\$105.0000	\$67,830.00
607-07.02 36" CONCRETE PIPE CULVERT (CLASS III)			
	192.000 L.F.		
Summers-Taylor, Inc.		\$294.5900	\$56,561.28
Dement Construction Company, LLC		\$255.0000	\$48,960.00
Wright Brothers Construction Company, Inc.		\$200.0000	\$38,400.00
Jones Bros. Contractors, LLC		\$135.0000	\$25,920.00
607-08.02 42" CONCRETE PIPE CULVERT (CLASS III)			
	241.000 L.F.		
Summers-Taylor, Inc.		\$347.0000	\$83,627.00
Dement Construction Company, LLC		\$310.0000	\$74,710.00
Wright Brothers Construction Company, Inc.		\$235.0000	\$56,635.00
Jones Bros. Contractors, LLC		\$165.0000	\$39,765.00
610-07.03 18" PIPE DRAIN (BRIDGE DRAIN)			
	200.000 L.F.		
Summers-Taylor, Inc.		\$144.7500	\$28,950.00
Dement Construction Company, LLC		\$50.0000	\$10,000.00
Wright Brothers Construction Company, Inc.		\$105.0000	\$21,000.00
Jones Bros. Contractors, LLC		\$130.0000	\$26,000.00
611-01.03 MANHOLES, > 8' - 12' DEPTH			
	1.000 EACH		
Summers-Taylor, Inc.		\$11,622.9800	\$11,622.98
Dement Construction Company, LLC		\$11,800.0000	\$11,800.00
Wright Brothers Construction Company, Inc.		\$13,800.0000	\$13,800.00
Jones Bros. Contractors, LLC		\$10,600.0000	\$10,600.00

			MINACI CNASSO
		UNIT PRICE	EXTENSION
611-02.01 SPRING DRAIN BOX, TYPE 1			
	1.000 EACH		
Summers-Taylor, Inc.		\$4,285.1800	\$4,285.18
Dement Construction Company, LLC		\$5,355.0000	\$5,355.00
Wright Brothers Construction Company, Inc.		\$5,040.0000	\$5,040.00
Jones Bros. Contractors, LLC		\$5,500.0000	\$5,500.00
611-02.12 JUNCTION BOX, TYPE 3			
	1.000 EACH		
Summers-Taylor, Inc.		\$10,128.8900	\$10,128.89
Dement Construction Company, LLC		\$13,925.0000	\$13,925.00
Wright Brothers Construction Company, Inc.		\$7,730.0000	\$7,730.00
Jones Bros. Contractors, LLC		\$12,400.0000	\$12,400.00
611-05.01 TRENCH DRAINS			
	465.000 L.F.		
Summers-Taylor, Inc.		\$323.7800	\$150,557.70
Dement Construction Company, LLC		\$250.0000	\$116,250.00
Wright Brothers Construction Company, Inc.		\$599.0000 \$700.0000	\$278,535.00
Jones Bros. Contractors, LLC		\$700.0000	\$325,500.00
611-05.02 12IN PVC PIPE FOR TRENCH DRAINS			
	126.000 L.F.		
Summers-Taylor, Inc.		\$93.7200	\$11,808.72
Dement Construction Company, LLC		\$71.2500	\$8,977.50
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$138.0000 \$80.0000	\$17,388.00 \$10,080.00
Julies Blus. Contractors, LLC		φου.υυυυ	\$10,080.00
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)			
	30.000 C.Y.		
Summers-Taylor, Inc.		\$1,466.9300	\$44,007.90
Dement Construction Company, LLC		\$1,200.0000	\$36,000.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$2,910.0000 \$2,350.0000	\$87,300.00 \$70,500.00
Jones Blos. Contractors, LLC		φ2,330.0000	\$70,300.00
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	1,256.000 LB.	<b>^</b>	
Summers-Taylor, Inc.		\$0.7700	\$967.12
Dement Construction Company, LLC		\$3.0000	\$3,768.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$18.3500 \$2.0000	\$23,047.60 \$2,512.00
Jones Blos. Contractors, LEC		ψ2.0000	Ψ2,312.00
611-07.56 18IN ENDWALL (CROSS DRAIN) 6:1			
	3.000 EACH		<b>*</b> * * * * * * * * * * * * * * * * * *
Summers-Taylor, Inc.		\$4,213.3100	\$12,639.93
Dement Construction Company, LLC		\$4,215.0000	\$12,645.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$3,320.0000 \$2,600.0000	\$9,960.00 \$7,800.00
Jones Dios. Contractors, LLC		ΨΖ,000.0000	ψ1,000.00

		UNIT PRICE	EXTENSION
611-07.57 24IN ENDWALL (CROSS DRAIN) 3:1			
	3.000 EACH		
Summers-Taylor, Inc.		\$3,942.4800	\$11,827.44
Dement Construction Company, LLC		\$3,700.0000	\$11,100.00
Wright Brothers Construction Company, Inc.		\$3,310.0000	\$9,930.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$7,500.00
611-07.59 24IN ENDWALL (CROSS DRAIN) 6:1			
	2.000 EACH		
Summers-Taylor, Inc.		\$5,635.6300	\$11,271.26
Dement Construction Company, LLC		\$7,065.0000	\$14,130.00
Wright Brothers Construction Company, Inc.		\$5,280.0000	\$10,560.00
Jones Bros. Contractors, LLC		\$4,500.0000	\$9,000.00
611-07.64 36IN ENDWALL (CROSS DRAIN) 4:1			
	1.000 EACH		
Summers-Taylor, Inc.		\$11,720.7300	\$11,720.73
Dement Construction Company, LLC		\$17,150.0000	\$17,150.00
Wright Brothers Construction Company, Inc.		\$11,900.0000	\$11,900.00
Jones Bros. Contractors, LLC		\$10,800.0000	\$10,800.00
611-12.01 CATCH BASINS, TYPE 12, 0' - 4' DEPTH			
	4.000 EACH		
Summers-Taylor, Inc.		\$4,154.0900	\$16,616.36
Dement Construction Company, LLC		\$3,800.0000	\$15,200.00
Wright Brothers Construction Company, Inc.		\$4,700.0000	\$18,800.00
Jones Bros. Contractors, LLC		\$4,900.0000	\$19,600.00
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPTH			
	12.000 EACH		
Summers-Taylor, Inc.		\$4,738.8600	\$56,866.32
Dement Construction Company, LLC		\$4,900.0000	\$58,800.00
Wright Brothers Construction Company, Inc.		\$5,930.0000	\$71,160.00
Jones Bros. Contractors, LLC		\$5,400.0000	\$64,800.00
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
	3.000 EACH		
Summers-Taylor, Inc.		\$8,870.2100	\$26,610.63
Dement Construction Company, LLC		\$11,100.0000	\$33,300.00
Wright Brothers Construction Company, Inc.		\$9,760.0000	\$29,280.00
Jones Bros. Contractors, LLC		\$8,300.0000	\$24,900.00
611-12.04 CATCH BASINS, TYPE 12, > 12' - 16' DEPTH			
	1.000 EACH		
Summers-Taylor, Inc.		\$11,205.3900	\$11,205.39
Dement Construction Company, LLC		\$6,740.0000	\$6,740.00
Wright Brothers Construction Company, Inc.		\$7,910.0000	\$7,910.00
Jones Bros. Contractors, LLC		\$6,700.0000	\$6,700.00

		UNIT PRICE	EXTENSION
611-12.05 CATCH BASINS, TYPE 12, > 16' - 20' DEPTH			
	3.000 EACH		
Summers-Taylor, Inc.		\$16,537.8000	\$49,613.40
Dement Construction Company, LLC		\$20,000.0000	\$60,000.00
Wright Brothers Construction Company, Inc.		\$16,400.0000	\$49,200.00
Jones Bros. Contractors, LLC		\$13,600.0000	\$40,800.00
611-14.02 CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	2.000 EACH		
Summers-Taylor, Inc.		\$8,978.7400	\$17,957.48
Dement Construction Company, LLC		\$12,675.0000	\$25,350.00
Wright Brothers Construction Company, Inc.		\$11,100.0000	\$22,200.00
Jones Bros. Contractors, LLC		\$9,250.0000	\$18,500.00
611-25.02 CATCH BASINS, TYPE 25, > 4' - 8' DEPTH			
	2.000 EACH		
Summers-Taylor, Inc.		\$4,925.3600	\$9,850.72
Dement Construction Company, LLC		\$4,760.0000	\$9,520.00
Wright Brothers Construction Company, Inc.		\$5,860.0000	\$11,720.00
Jones Bros. Contractors, LLC		\$5,390.0000	\$10,780.00
611-27.02 CATCH BASINS, TYPE 27, > 4' - 8' DEPTH			
	1.000 EACH		
Summers-Taylor, Inc.		\$9,905.0900	\$9,905.09
Dement Construction Company, LLC		\$15,000.0000	\$15,000.00
Wright Brothers Construction Company, Inc.		\$12,400.0000	\$12,400.00
Jones Bros. Contractors, LLC		\$10,300.0000	\$10,300.00
611-31.02 CATCH BASINS, TYPE 31, > 4' - 8' DEPTH			
	4.000 EACH		
Summers-Taylor, Inc.		\$9,180.3800	\$36,721.52
Dement Construction Company, LLC		\$20,000.0000	\$80,000.00
Wright Brothers Construction Company, Inc.		\$15,000.0000	\$60,000.00
Jones Bros. Contractors, LLC		\$8,000.0000	\$32,000.00
611-41.02 CATCH BASINS, TYPE 41, > 4' - 8' DEPTH			
	9.000 EACH		
Summers-Taylor, Inc.		\$4,918.3500	\$44,265.15
Dement Construction Company, LLC		\$7,500.0000	\$67,500.00
Wright Brothers Construction Company, Inc.		\$11,900.0000	\$107,100.00
Jones Bros. Contractors, LLC		\$5,600.0000	\$50,400.00
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	3.000 EACH		
Summers-Taylor, Inc.		\$4,939.4000	\$14,818.20
Dement Construction Company, LLC		\$8,500.0000	\$25,500.00
Wright Brothers Construction Company, Inc.		\$5,690.0000	\$17,070.00
Jones Bros. Contractors, LLC		\$5,500.0000	\$16,500.00

		UNIT PRICE	EXTENSION
611-42.02 CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
, , ,	11.000 EACH		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$5,521.7400 \$7,300.0000 \$7,570.0000 \$6,000.0000	\$60,739.14 \$80,300.00 \$83,270.00 \$66,000.00
611-43.02 CATCH BASINS, TYPE 43, > 4' - 8' DEPTH			
	4.000 EACH		
Summers-Taylor, Inc.		\$10,726.8500	\$42,907.40
Dement Construction Company, LLC		\$20,100.0000	\$80,400.00
Wright Brothers Construction Company, Inc.		\$17,700.0000	\$70,800.00
Jones Bros. Contractors, LLC		\$11,000.0000	\$44,000.00
611-45.02 CATCH BASINS, TYPE 45, > 4' - 8' DEPTH			
	3.000 EACH		
Summers-Taylor, Inc.		\$11,013.1000	\$33,039.30
Dement Construction Company, LLC		\$15,200.0000	\$45,600.00
Wright Brothers Construction Company, Inc.		\$13,900.0000	\$41,700.00
Jones Bros. Contractors, LLC		\$10,400.0000	\$31,200.00
611-46.02 CATCH BASINS, TYPE 46, > 4' - 8' DEPTH			
	1.000 EACH		
Summers-Taylor, Inc.		\$22,756.3300	\$22,756.33
Dement Construction Company, LLC		\$38,500.0000	\$38,500.00
Wright Brothers Construction Company, Inc.		\$26,300.0000 \$23,800.0000	\$26,300.00
Jones Bros. Contractors, LLC		\$23,800.0000	\$23,800.00
611-51.02 CATCH BASINS, TYPE 51, > 4' - 8' DEPTH			
	9.000 EACH		
Summers-Taylor, Inc.		\$9,670.1900	\$87,031.71
Dement Construction Company, LLC		\$12,815.0000	\$115,335.00
Wright Brothers Construction Company, Inc.		\$11,200.0000	\$100,800.00
Jones Bros. Contractors, LLC		\$9,800.0000	\$88,200.00
611-52.02 CATCH BASINS, TYPE 52, > 4FT - 8FT DEPTH			
	1.000 EACH		
Summers-Taylor, Inc.		\$21,207.1800	\$21,207.18
Dement Construction Company, LLC		\$35,700.0000	\$35,700.00
Wright Brothers Construction Company, Inc.		\$24,600.0000	\$24,600.00
Jones Bros. Contractors, LLC		\$22,900.0000	\$22,900.00
620-05.01 CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
	2,616.000 L.F.		
Summers-Taylor, Inc.		\$83.0000	\$217,128.00
Dement Construction Company, LLC		\$170.0000	\$444,720.00
Wright Brothers Construction Company, Inc.		\$137.0000 \$130.0000	\$358,392.00
Jones Bros. Contractors, LLC		\$130.0000	\$340,080.00

			-	
			UNIT PRICE	EXTENSION
701 01 01	CONCRETE SIDEWALK (A ")			
701-01.01	CONCRETE SIDEWALK (4 ")	8,933.000 S.F.		
		0,333.000 0.1 .		<b>.</b>
	Summers-Taylor, Inc.		\$12.7300	\$113,717.09
	Dement Construction Company, LLC		\$12.0000	\$107,196.00
	Wright Brothers Construction Company, Inc.		\$13.6000	\$121,488.80
	Jones Bros. Contractors, LLC		\$12.0000	\$107,196.00
701-02	CONCRETE DRIVEWAY			
		981.000 S.F.		
	Summers-Taylor, Inc.		\$18.8300	\$18,472.23
	Dement Construction Company, LLC		\$17.7500	\$17,412.75
	Wright Brothers Construction Company, Inc.		\$20.0000	\$19,620.00
	Jones Bros. Contractors, LLC		\$17.7500	\$17,412.75
701-02.03	CONCRETE CURB RAMP			
		607.000 S.F.		
	Summers-Taylor, Inc.		\$24.6700	\$14,974.69
	Dement Construction Company, LLC		\$23.2500	\$14,112.75
	Wright Brothers Construction Company, Inc.		\$26.2500	\$15,933.75
	- · · · · · · · · · · · · · · · · · · ·		•	
	Jones Bros. Contractors, LLC		\$23.2500	\$14,112.75
701-03	CONCRETE MEDIAN PAVEMENT			
		40.000 C.Y.		
	Summers-Taylor, Inc.	10.000 0111	\$647.1600	\$25,886.40
			·	
	Dement Construction Company, LLC		\$610.0000	\$24,400.00
	Wright Brothers Construction Company, Inc.		\$692.0000	\$27,680.00
	Jones Bros. Contractors, LLC		\$610.0000	\$24,400.00
702-01	CONCRETE CURB			
		64.000 C.Y.		
	Summers Taylor Inc	0.11000 0111	\$007,0000	¢50 052 76
	Summers-Taylor, Inc.		\$907.0900	\$58,053.76
	Dement Construction Company, LLC		\$855.0000	\$54,720.00
	Wright Brothers Construction Company, Inc.		\$970.0000	\$62,080.00
	Jones Bros. Contractors, LLC		\$855.0000	\$54,720.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		347.000 C.Y.		
	Summers-Taylor, Inc.		\$671.5700	\$233,034.79
			·	
	Dement Construction Company, LLC		\$633.0000	\$219,651.00
	Wright Brothers Construction Company, Inc.		\$718.0000	\$249,146.00
	Jones Bros. Contractors, LLC		\$633.0000	\$219,651.00
703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
-	<del>-</del>	84.000 C.Y.		
	Summers-Taylor, Inc.		\$396.7900	\$33,330.36
	Dement Construction Company, LLC		\$374.0000	\$31,416.00
	Wright Brothers Construction Company, Inc.		\$424.0000	\$35,616.00
	Jones Bros. Contractors, LLC		\$374.0000	\$31,416.00

			•	Sitting Situation
			UNIT PRICE	EXTENSION
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	,	6,739.000 L.F.		
	Summers-Taylor, Inc.	•	\$29.8500	\$201,159.15
	Dement Construction Company, LLC		\$26.0000	\$175,214.00
	Wright Brothers Construction Company, Inc.		\$32.5000	\$219,017.50
	Jones Bros. Contractors, LLC		\$25.4500	\$171,507.55
	Jones Bros. Contractors, LLC		φ25.4500	\$171,507.55
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
		9.000 EACH		
	Summers-Taylor, Inc.		\$1,598.6500	\$14,387.85
	Dement Construction Company, LLC		\$1,600.0000	\$14,400.00
	Wright Brothers Construction Company, Inc.		\$1,740.0000	\$15,660.00
	Jones Bros. Contractors, LLC		\$1,600.0000	\$14,400.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		13.000 EACH		
	Summers-Taylor, Inc.		\$3,364.6500	\$43,740.45
	Dement Construction Company, LLC		\$3,500.0000	\$45,500.00
	Wright Brothers Construction Company, Inc.		\$3,660.0000	\$47,580.00
	Jones Bros. Contractors, LLC		\$3,500.0000	\$45,500.00
	Jones Bros. Commactors, ELC		ψ5,500.0000	ψ+3,500.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		22.000 EACH		
	Summers-Taylor, Inc.		\$2,133.2900	\$46,932.38
	Dement Construction Company, LLC		\$3,300.0000	\$72,600.00
	Wright Brothers Construction Company, Inc.		\$2,320.0000	\$51,040.00
	Jones Bros. Contractors, LLC		\$3,300.0000	\$72,600.00
705-20 21	LOW MAINT CRASH CUSHION WIDE (MASH TL-3)			
. 00 20.21		3.000 EACH		
	Currenter Teuler Inc	3.000 EACH	£45 COO 0700	<b>\$400,000,04</b>
	Summers-Taylor, Inc.		\$45,633.0700	\$136,899.21
	Dement Construction Company, LLC		\$65,000.0000	\$195,000.00
	Wright Brothers Construction Company, Inc.		\$43,500.0000	\$130,500.00
	Jones Bros. Contractors, LLC		\$37,990.0000	\$113,970.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		34,814.000 L.F.		
	Summers-Taylor, Inc.		\$14.6500	\$510,025.10
	Dement Construction Company, LLC		\$25.0000	\$870,350.00
	Wright Brothers Construction Company, Inc.		\$56.5000	\$1,966,991.00
	Jones Bros. Contractors, LLC		\$65.0000	\$2,262,910.00
706-01	GUARDRAIL REMOVED			
700-01	CONTENTE REMOTED	2,231.000 L.F.		
	Summers-Taylor, Inc.	2,201.000 L.I .	\$1.8400	\$4,105.04
	Dement Construction Company, LLC		\$3.0000	\$6,693.00
	Wright Brothers Construction Company, Inc.		\$2.0000	\$4,462.00
	Jones Bros. Contractors, LLC		\$3.0000	\$6,693.00

				TITIOT OTTAGE
			UNIT PRICE	EXTENSION
707-01.11	CHAIN LINK FENCE (6 FOOT)			
		8,200.000 L.F.		
	Summers-Taylor, Inc.	•	\$18.6800	\$153,176.00
			•	
	Dement Construction Company, LLC		\$17.7500	\$145,550.00
	Wright Brothers Construction Company, Inc.		\$20.5000	\$168,100.00
	Jones Bros. Contractors, LLC		\$17.7500	\$145,550.00
707-01.12	END & CORNER POST ASSEMBLY(CHAIN-LINK FENCE 6')			
		35.000 EACH		
	Summers-Taylor, Inc.		\$289.4200	\$10,129.70
	Dement Construction Company, LLC		\$275.0000	\$9,625.00
	Wright Brothers Construction Company, Inc.		\$319.0000	\$11,165.00
	Jones Bros. Contractors, LLC		\$275.0000	\$9,625.00
707-06 01	REMOVAL OF FENCE (EXISTING CONTROL ACCESS FENCE	1		
707-00.01	REMOVAL OF PENCE (EXISTING CONTROL ACCESS PENCE	8,000.000 L.F.		
	O T I I	8,000.000 L.F.	<b>#0.0400</b>	<b>#</b> FO 400 00
	Summers-Taylor, Inc.		\$6.3100	\$50,480.00
	Dement Construction Company, LLC		\$6.0000	\$48,000.00
	Wright Brothers Construction Company, Inc.		\$6.9500	\$55,600.00
	Jones Bros. Contractors, LLC		\$6.0000	\$48,000.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		2,783.000 L.F.		
	Summers-Taylor, Inc.	_,,	\$2.3700	\$6,595.71
	Dement Construction Company, LLC		\$2.5000	\$6,957.50
	Wright Brothers Construction Company, Inc.		\$2.5500	\$7,096.65
	Jones Bros. Contractors, LLC		\$4.9000	\$13,636.70
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
		16.000 EACH		
	Summers-Taylor, Inc.		\$658.7400	\$10,539.84
	Dement Construction Company, LLC		\$300.0000	\$4,800.00
	Wright Brothers Construction Company, Inc.		\$371.0000	\$5,936.00
	Jones Bros. Contractors, LLC		\$340.0000	\$5,440.00
709-01.01	RUBBLE STONE RIP-RAP			
		16.000 C.Y.		
	Summers-Taylor, Inc.		\$309.2300	\$4,947.68
	Dement Construction Company, LLC		\$500.0000	\$8,000.00
	Wright Brothers Construction Company, Inc.		\$174.0000	\$2,784.00
	Jones Bros. Contractors, LLC		\$170.0000	\$2,720.00
709-05 05	MACHINED RIP-RAP (CLASS A-3)			
103-03.03	MACHINED IN THAT (OLAGO ATO)	312.000 TON		
	Summers-Taylor, Inc.		\$80.4500	\$25,100.40
	Dement Construction Company, LLC		\$60.0000	\$18,720.00
	Wright Brothers Construction Company, Inc.		\$71.0000	\$22,152.00
	Jones Bros. Contractors, LLC		\$73.0000	\$22,776.00

			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		838.000 TON		
	Summers-Taylor, Inc.		\$71.7600	\$60,134.88
	Dement Construction Company, LLC		\$60.0000	\$50,280.00
	Wright Brothers Construction Company, Inc.		\$89.2500	\$74,791.50
	Jones Bros. Contractors, LLC		\$73.0000	\$61,174.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		706.000 TON		
	Summers-Taylor, Inc.		\$71.7500	\$50,655.50
	Dement Construction Company, LLC		\$60.0000	\$42,360.00
	Wright Brothers Construction Company, Inc.		\$76.7500	\$54,185.50
	Jones Bros. Contractors, LLC		\$73.0000	\$51,538.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		15,789.000 L.F.		
	Summers-Taylor, Inc.		\$12.6300	\$199,415.07
	Dement Construction Company, LLC		\$7.5000	\$118,417.50
	Wright Brothers Construction Company, Inc.		\$13.6500	\$215,519.85
	Jones Bros. Contractors, LLC		\$12.0000	\$189,468.00
710-05	LATERAL UNDERDRAIN			
		1,000.000 L.F.		
	Summers-Taylor, Inc.		\$11.5800	\$11,580.00
	Dement Construction Company, LLC		\$10.0000	\$10,000.00
	Wright Brothers Construction Company, Inc.		\$12.5000	\$12,500.00
	Jones Bros. Contractors, LLC		\$11.0000	\$11,000.00
710-06.12	LATERAL UNDERDRAIN ENDWALL (3:1)			
		30.000 EACH		
	Summers-Taylor, Inc.		\$1,315.5500	\$39,466.50
	Dement Construction Company, LLC		\$800.0000	\$24,000.00
	Wright Brothers Construction Company, Inc.		\$1,420.0000	\$42,600.00
	Jones Bros. Contractors, LLC		\$1,250.0000	\$37,500.00
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)			
		5.000 EACH		
	Summers-Taylor, Inc.		\$1,315.5500	\$6,577.75
	Dement Construction Company, LLC		\$800.0000	\$4,000.00
	Wright Brothers Construction Company, Inc.		\$1,420.0000	\$7,100.00
	Jones Bros. Contractors, LLC		\$1,250.0000	\$6,250.00
710-06.15	LATERAL UNDERDRAIN ENDWALL (6:1)			
		5.000 EACH		
	Summers-Taylor, Inc.		\$1,315.5500	\$6,577.75
	Dement Construction Company, LLC		\$800.0000	\$4,000.00
	Wright Brothers Construction Company, Inc.		\$1,420.0000	\$7,100.00
	Jones Bros. Contractors, LLC		\$1,250.0000	\$6,250.00

## CONTRACT CNX358

			CINTRACT CINASSO
		UNIT PRICE	EXTENSION
710-10.01 4" PERFORATED PLASTIC PIPE			
	1,200.000 L.F.		
Summers-Taylor, Inc.	·	\$22.2800	\$26,736.00
Dement Construction Company, LLC		\$15.0000	\$18,000.00
Wright Brothers Construction Company, Inc.		\$21.2500	\$25,500.00
Jones Bros. Contractors, LLC		\$9.5300	\$11,436.00
711-05.71 51IN SINGLE SLOPE CONCRETE BARRIER WALL			
	6,740.000 L.F.		
Summers-Taylor, Inc.		\$142.0000	\$957,080.00
Dement Construction Company, LLC		\$160.0000	\$1,078,400.00
Wright Brothers Construction Company, Inc.		\$190.0000	\$1,280,600.00
Jones Bros. Contractors, LLC		\$200.0000	\$1,348,000.00
711-05.72 SINGLE SLOPE HALF CONCRETE BARRIER WALL			
	1,826.000 L.F.		
Summers-Taylor, Inc.		\$20.0000	\$36,520.00
Dement Construction Company, LLC		\$175.0000	\$319,550.00
Wright Brothers Construction Company, Inc.		\$195.0000	\$356,070.00
Jones Bros. Contractors, LLC		\$215.0000	\$392,590.00
711-05.77 FLARED S/S CONCRETE MEDIAN BARRIER WALL			
	584.000 L.F.		
Summers-Taylor, Inc.		\$436.0000	\$254,624.00
Dement Construction Company, LLC		\$420.0000	\$245,280.00
Wright Brothers Construction Company, Inc.		\$465.0000	\$271,560.00
Jones Bros. Contractors, LLC		\$515.0000	\$300,760.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Summers-Taylor, Inc.		\$1,188,749.3600	\$1,188,749.36
Dement Construction Company, LLC		\$550,000.0000	\$550,000.00
Wright Brothers Construction Company, Inc.		\$845,000.0000	\$845,000.00
Jones Bros. Contractors, LLC		\$600,000.0000	\$600,000.00
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL			
	380.000 L.F.		
Summers-Taylor, Inc.		\$41.8400	\$15,899.20
Dement Construction Company, LLC		\$25.0000	\$9,500.00
Wright Brothers Construction Company, Inc.		\$56.5000	\$21,470.00
Jones Bros. Contractors, LLC		\$60.0000	\$22,800.00
712-02.10 PORTABLE BARRIER RAIL (MASH TL-3)			
	8,655.000 L.F.		
Summers-Taylor, Inc.		\$78.9100	\$682,966.05
Dement Construction Company, LLC		\$52.0000	\$450,060.00
Wright Brothers Construction Company, Inc.		\$100.0000	\$865,500.00
Jones Bros. Contractors, LLC		\$115.0000	\$995,325.00

		UNIT PRICE	EXTENSION
712-02.60 TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3	3)		
	31.000 EACH		
Summers-Taylor, Inc.		\$7,154.2400	\$221,781.44
Dement Construction Company, LLC		\$12,500.0000	\$387,500.00
Wright Brothers Construction Company, Inc.		\$13,400.0000	\$415,400.00
Jones Bros. Contractors, LLC		\$10,500.0000	\$325,500.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
,	932.000 EACH		
Summers-Taylor, Inc.		\$51.0300	\$47,559.96
Dement Construction Company, LLC		\$48.0000	\$44,736.00
Wright Brothers Construction Company, Inc.		\$54.0000	\$50,328.00
Jones Bros. Contractors, LLC		\$31.7300	\$29,572.36
740.04.50 DADDIED DAN DELINIFATOD			
712-04.50 BARRIER RAIL DELINEATOR	1 059 000 EACH		
Cummara Taylar Ina	1,958.000 EACH	¢4.4.0000	¢20.425.04
Summers-Taylor, Inc.		\$14.8800 \$14.0000	\$29,135.04
Dement Construction Company, LLC		\$14.0000 \$20.7500	\$27,412.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$20.7500 \$16.5000	\$40,628.50 \$32,307.00
Jones Bros. Contractors, LLC		\$10.5000	φ32,307.00
712-05.01 WARNING LIGHTS (TYPE A)			
	42.000 EACH		
Summers-Taylor, Inc.		\$47.8400	\$2,009.28
Dement Construction Company, LLC		\$45.0000	\$1,890.00
Wright Brothers Construction Company, Inc.		\$50.5000	\$2,121.00
Jones Bros. Contractors, LLC		\$27.0000	\$1,134.00
712-06 SIGNS (CONSTRUCTION)			
712-00 CIGNO (CONCINCOTION)	1,624.000 S.F.		
Cummara Taylar Ina	1,024.000 S.F.	<b>¢</b> 0.5000	¢42.004.00
Summers-Taylor, Inc. Dement Construction Company, LLC		\$8.5000	\$13,804.00 \$13,003.00
Wright Brothers Construction Company, Inc.		\$8.0000 \$9.0000	\$12,992.00 \$14,616.00
Jones Bros. Contractors, LLC		\$9.7500	\$15,834.00
Jones Bios. Contractors, LEC		ψ3.7 300	ψ10,004.00
712-06.16 SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)			
	2.000 EACH		
Summers-Taylor, Inc.		\$691.0000	\$1,382.00
Dement Construction Company, LLC		\$650.0000	\$1,300.00
Wright Brothers Construction Company, Inc.		\$731.0000	\$1,462.00
Jones Bros. Contractors, LLC		\$650.0000	\$1,300.00
712-07.03 TEMPORARY BARRICADES (TYPE III)			
	348.000 L.F.		
Summers-Taylor, Inc.		\$22.3200	\$7,767.36
Dement Construction Company, LLC		\$21.0000	\$7,308.00
Wright Brothers Construction Company, Inc.		\$23.5000	\$8,178.00
Jones Bros. Contractors, LLC		\$32.5000	\$11,310.00
222 2 30 40.0.0, 220		452.5000	Ţ,o.00

		CO	NIKACI CNASSO
		UNIT PRICE	EXTENSION
712-08.03 ARROW BOARD (TYPE C)			
112 00:00 ARROW BOARD (111 2 0)	8.000 EACH		
Summers-Taylor, Inc.	0.000 E/(011	\$1,381.9900	\$11,055.92
Dement Construction Company, LLC		\$1,300.0000	\$10,400.00
Wright Brothers Construction Company, Inc.		\$1,460.0000	\$11,680.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$20,000.00
Jones Bros. Contractors, ELC		Ψ2,300.0000	Ψ20,000.00
713-30.09 BARRIER MOUNTED SIGN SUPPORT (SEE PLANS)			
	3.000 EACH		
Summers-Taylor, Inc.		\$447.2900	\$1,341.87
Dement Construction Company, LLC		\$950.0000	\$2,850.00
Wright Brothers Construction Company, Inc.		\$1,070.0000	\$3,210.00
Jones Bros. Contractors, LLC		\$950.0000	\$2,850.00
742 00 42 OUTUE PROTECTION TRUCK			
712-08.12 QUEUE PROTECTION TRUCK	13.000 DAY		
Ourses Tarden Inc	13.000 DA 1	<b>#4 400 0000</b>	<b>#</b> 40.047.00
Summers-Taylor, Inc.		\$1,488.3000	\$19,347.90
Dement Construction Company, LLC		\$1,400.0000	\$18,200.00
Wright Brothers Construction Company, Inc.		\$1,570.0000	\$20,410.00
Jones Bros. Contractors, LLC		\$1,400.0000	\$18,200.00
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)			
	0.400 C.Y.		
Summers-Taylor, Inc.		\$841.9500	\$336.78
Dement Construction Company, LLC		\$1,200.0000	\$480.00
Wright Brothers Construction Company, Inc.		\$1,350.0000	\$540.00
Jones Bros. Contractors, LLC		\$1,200.0000	\$480.00
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPO	•		
O T I I	90.000 LB.	047400	<b>#</b> 400.00
Summers-Taylor, Inc.		\$4.7400	\$426.60
Dement Construction Company, LLC		\$5.5000	\$495.00
Wright Brothers Construction Company, Inc.		\$6.2000	\$558.00
Jones Bros. Contractors, LLC		\$5.5000	\$495.00
713-02.04 DELINEATOR (MILE MARKER) & STEEL POST			
	5.000 EACH		
Summers-Taylor, Inc.		\$239.1900	\$1,195.95
Dement Construction Company, LLC		\$225.0000	\$1,125.00
Wright Brothers Construction Company, Inc.		\$253.0000	\$1,265.00
Jones Bros. Contractors, LLC		\$225.0000	\$1,125.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT	60,000   =		
Cummara Taylar Ina	60.000 L.F.	<b>67</b> 4400	¢440.40
Summers-Taylor, Inc.		\$7.4400 \$7.0000	\$446.40
Dement Construction Company, LLC		\$7.0000	\$420.00
Wright Brothers Construction Company, Inc.		\$7.8500 \$7.0000	\$471.00
Jones Bros. Contractors, LLC		\$7.0000	\$420.00

			UNIT PRICE	EXTENSION
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPOR	RT		
		700.000 LB.		
	Summers-Taylor, Inc.		\$10.0000	\$7,000.00
	Dement Construction Company, LLC		\$7.7500	\$5,425.00
	Wright Brothers Construction Company, Inc.		\$8.7000	\$6,090.00
	Jones Bros. Contractors, LLC		\$7.7500	\$5,425.00
713-09.01	STEEL OVERHEAD SIGN STRUCTURE (I-75, 197+65.49, OH-1	, SPAN 83')		
		1.000 EACH		
	Summers-Taylor, Inc.		\$226,274.2200	\$226,274.22
	Dement Construction Company, LLC		\$161,000.0000	\$161,000.00
	Wright Brothers Construction Company, Inc.		\$180,000.0000	\$180,000.00
	Jones Bros. Contractors, LLC		\$160,768.8500	\$160,768.85
713-09.02	STEEL OVERHEAD SIGN STRUCTURE (I-75, 218+59.51, OH-2	2, SPAN 80')		
		1.000 EACH		
	Summers-Taylor, Inc.		\$184,176.6900	\$184,176.69
	Dement Construction Company, LLC		\$145,000.0000	\$145,000.00
	Wright Brothers Construction Company, Inc.		\$162,000.0000	\$162,000.00
	Jones Bros. Contractors, LLC		\$144,918.4000	\$144,918.40
713-09.03	STEEL OVERHEAD SIGN STRUCTURE (RAMP C, 452+47.68,	OH-3, SPAN 52')		
		1.000 EACH		
	Summers-Taylor, Inc.		\$168,390.1200	\$168,390.12
	Dement Construction Company, LLC		\$139,000.0000	\$139,000.00
	Wright Brothers Construction Company, Inc.		\$155,000.0000	\$155,000.00
	Jones Bros. Contractors, LLC		\$138,334.0800	\$138,334.08
713-09.04	STEEL OVERHEAD SIGN STRUCTURE (I-75, 265+21.25, OH-4	I, SPAN 85')		
		1.000 EACH		
	Summers-Taylor, Inc.		\$190,491.3200	\$190,491.32
	Dement Construction Company, LLC		\$146,000.0000	\$146,000.00
	Wright Brothers Construction Company, Inc.		\$162,000.0000	\$162,000.00
	Jones Bros. Contractors, LLC		\$145,278.9300	\$145,278.93
713-09.05	STEEL OVERHEAD SIGN STRUCTURE (I-75, 291+54.79, OH-5	i, SPAN 92')		
		1.000 EACH		
	Summers-Taylor, Inc.		\$214,171.1800	\$214,171.18
	Dement Construction Company, LLC		\$163,000.0000	\$163,000.00
	Wright Brothers Construction Company, Inc.		\$182,000.0000	\$182,000.00
	Jones Bros. Contractors, LLC		\$162,647.3800	\$162,647.38
713-09.06	STEEL OVERHEAD SIGN STRUCTURE (I-75, 304+12.37, OH-6	s, SPAN 92')		
		1.000 EACH		
	Summers-Taylor, Inc.		\$214,171.1800	\$214,171.18
	Dement Construction Company, LLC		\$163,000.0000	\$163,000.00
	Wright Brothers Construction Company, Inc.		\$182,000.0000	\$182,000.00
	Jones Bros. Contractors, LLC		\$132,647.3800	\$132,647.38
	,		. ,	. ,

		UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	3,147.000 LB.		
Summers-Taylor, Inc.		\$6.8400	\$21,525.48
Dement Construction Company, LLC		\$5.9000	\$18,567.30
Wright Brothers Construction Company, Inc.		\$6.6500	\$20,927.55
Jones Bros. Contractors, LLC		\$5.9000	\$18,567.30
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	616.000 S.F.		
Summers-Taylor, Inc.		\$16.8400	\$10,373.44
Dement Construction Company, LLC		\$20.0000	\$12,320.00
Wright Brothers Construction Company, Inc.		\$22.5000	\$13,860.00
Jones Bros. Contractors, LLC		\$20.0000	\$12,320.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	422.000 S.F.		
Summers-Taylor, Inc.		\$18.6800	\$7,882.96
Dement Construction Company, LLC		\$22.0000	\$9,284.00
Wright Brothers Construction Company, Inc.		\$24.7500	\$10,444.50
Jones Bros. Contractors, LLC		\$22.0000	\$9,284.00
713-14 EXTRUDED ALUMINUM PANEL SIGNS			
	5,166.000 S.F.		
Summers-Taylor, Inc.		\$33.1500	\$171,252.90
Dement Construction Company, LLC		\$29.0000	\$149,814.00
Wright Brothers Construction Company, Inc.		\$32.5000	\$167,895.00
Jones Bros. Contractors, LLC		\$29.0000	\$149,814.00
713-14.21 STREET NAME SIGN (RIGID 0.100IN THICK			
	200.000 S.F.		
Summers-Taylor, Inc.		\$50.1000	\$10,020.00
Dement Construction Company, LLC		\$26.0000	\$5,200.00
Wright Brothers Construction Company, Inc.		\$54.0000	\$10,800.00
Jones Bros. Contractors, LLC		\$73.6000	\$14,720.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	1.000 LS		
Summers-Taylor, Inc.		\$14,207.9200	\$14,207.92
Dement Construction Company, LLC		\$2,500.0000	\$2,500.00
Wright Brothers Construction Company, Inc.		\$2,800.0000	\$2,800.00
Jones Bros. Contractors, LLC		\$3,250.0000	\$3,250.00
713-15.02 REMOVAL & RELOCATION OF SIGN & SUPPORT			
	1.000 EACH		
Summers-Taylor, Inc.		\$10,524.3800	\$10,524.38
Dement Construction Company, LLC		\$500.0000	\$500.00
Wright Brothers Construction Company, Inc.		\$11,200.0000	\$11,200.00
Jones Bros. Contractors, LLC		\$500.0000	\$500.00

		UNIT PRICE	EXTENSION
713-15.08 SUSPENDED FLAT SHEET ALUMINUM SIGN (0.100" THICK)			
	7.000 EACH		
Summers-Taylor, Inc.		\$684.0800	\$4,788.56
Dement Construction Company, LLC		\$200.0000	\$1,400.00
Wright Brothers Construction Company, Inc.		\$850.0000	\$5,950.00
Jones Bros. Contractors, LLC		\$200.0000	\$1,400.00
713-15.09 STEEL CABLE OVERHEAD SIGN SUPPORT			
	4.000 EACH		
Summers-Taylor, Inc.		\$61,041.4200	\$244,165.68
Dement Construction Company, LLC		\$30,000.0000	\$120,000.00
Wright Brothers Construction Company, Inc.		\$21,400.0000	\$85,600.00
Jones Bros. Contractors, LLC		\$18,800.0000	\$75,200.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	9.000 EACH		
Summers-Taylor, Inc.		\$14,882.9700	\$133,946.73
Dement Construction Company, LLC		\$14,000.0000	\$126,000.00
Wright Brothers Construction Company, Inc.		\$15,700.0000	\$141,300.00
Jones Bros. Contractors, LLC		\$22,750.0000	\$204,750.00
713-16.20 SIGNS (R10-5, 30"X36")			
	6.000 EACH		
Summers-Taylor, Inc.		\$473.6000	\$2,841.60
Dement Construction Company, LLC		\$150.0000	\$900.00
Wright Brothers Construction Company, Inc.		\$510.0000	\$3,060.00
Jones Bros. Contractors, LLC		\$600.0000	\$3,600.00
713-16.21 SIGNS (TN-69A, 30"X36")			
	2.000 EACH		
Summers-Taylor, Inc.		\$547.2700	\$1,094.54
Dement Construction Company, LLC		\$150.0000	\$300.00
Wright Brothers Construction Company, Inc.		\$590.0000	\$1,180.00
Jones Bros. Contractors, LLC		\$670.0000	\$1,340.00
713-16.22 SIGNS (OVERHEAD DIRECTIONAL SIGN)			
	7.000 EACH		
Summers-Taylor, Inc.		\$936.6700	\$6,556.69
Dement Construction Company, LLC		\$500.0000	\$3,500.00
Wright Brothers Construction Company, Inc.		\$1,000.0000	\$7,000.00
Jones Bros. Contractors, LLC		\$1,210.0000	\$8,470.00
713-16.23 SIGNS (POST MOUNTED DIRECTIONAL SIGN)			
,	2.000 EACH		
Summers-Taylor, Inc.	LIVV LAVII	\$2,631.1000	\$5,262.20
Dement Construction Company, LLC		\$500.0000	\$1,000.00
Wright Brothers Construction Company, Inc.		\$1,240.0000	\$2,480.00
Jones Bros. Contractors, LLC		\$2,851.7500	\$5,703.50
, -		. ,	. ,

		UNIT PRICE	EXTENSION
		5111111102	
713-16.24 SIGNS (TN-69B, 30"X36")			
	1.000 EACH		
Summers-Taylor, Inc.		\$747.2300	\$747.23
Dement Construction Company, LLC		\$150.0000	\$150.00
Wright Brothers Construction Company, Inc.		\$810.0000	\$810.00
Jones Bros. Contractors, LLC		\$860.0000	\$860.00
713-16.25 SIGNS (R1-2, 48"X48"X48")			
	2.000 EACH		
Summers-Taylor, Inc.		\$763.0200	\$1,526.04
Dement Construction Company, LLC		\$250.0000	\$500.00
Wright Brothers Construction Company, Inc.		\$820.0000	\$1,640.00
Jones Bros. Contractors, LLC		\$975.0000	\$1,950.00
713-16.26 SIGNS (R10-11A, 36"X48")			
	2.000 EACH		
Summers-Taylor, Inc.		\$831.4300	\$1,662.86
Dement Construction Company, LLC		\$300.0000	\$600.00
Wright Brothers Construction Company, Inc.		\$900.0000	\$1,800.00
Jones Bros. Contractors, LLC		\$1,090.0000	\$2,180.00
713-16.27 SIGNS (OVERHEAD LANE CONTROL SIGN)			
, ,	1.000 EACH		
Summers-Taylor, Inc.		\$1,262.9300	\$1,262.93
Dement Construction Company, LLC		\$500.0000	\$500.00
Wright Brothers Construction Company, Inc.		\$1,360.0000	\$1,360.00
Jones Bros. Contractors, LLC		\$1,700.0000	\$1,700.00
713-16.28 SIGNS (W11-2, 30"X30")			
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1.000 EACH		
Summers-Taylor, Inc.		\$810.3800	\$810.38
Dement Construction Company, LLC		\$200.0000	\$200.00
Wright Brothers Construction Company, Inc.		\$870.0000	\$870.00
Jones Bros. Contractors, LLC		\$970.0000	\$970.00
713-16.29 SIGNS (W16-7P, 24"X12")			
110 10120 Cione (W10 11 , 2 1 X12 )	1.000 EACH		
Summers-Taylor, Inc.		\$578.8400	\$578.84
Dement Construction Company, LLC		\$25.0000	\$25.00
Wright Brothers Construction Company, Inc.		\$625.0000	\$625.00
Jones Bros. Contractors, LLC		\$575.0000	\$575.00
713-17.02 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
	10.000 EACH		
Summers-Taylor, Inc.		\$131.5600	\$1,315.60
Dement Construction Company, LLC		\$150.0000	\$1,500.00
Wright Brothers Construction Company, Inc.		\$169.0000	\$1,690.00
Jones Bros. Contractors, LLC		\$150.0000	\$1,500.00

			UNIT PRICE	EXTENSION
714-03	JACKED OR BORED CONDUIT			
		2,105.000 L.F.		
	Summers-Taylor, Inc.	•	\$35.7800	\$75,316.90
	Dement Construction Company, LLC		\$34.0000	\$71,570.00
	Wright Brothers Construction Company, Inc.		\$38.5000	\$81,042.50
	Jones Bros. Contractors, LLC		\$18.5900	\$39,131.95
714-03.01	DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)			
		14,570.000 L.F.		
	Summers-Taylor, Inc.		\$20.5200	\$298,976.40
	Dement Construction Company, LLC		\$19.5000	\$284,115.00
	Wright Brothers Construction Company, Inc.		\$22.2500	\$324,182.50
	Jones Bros. Contractors, LLC		\$13.5600	\$197,569.20
714-04.03	CONDUIT (STRUCTURES - 1" RGS)			
		370.000 L.F.		
	Summers-Taylor, Inc.		\$22.1000	\$8,177.00
	Dement Construction Company, LLC		\$21.0000	\$7,770.00
	Wright Brothers Construction Company, Inc.		\$23.7500	\$8,787.50
	Jones Bros. Contractors, LLC		\$112.5300	\$41,636.10
714-05.04	PULL BOXES (TYPE C)			
		45.000 EACH		
	Summers-Taylor, Inc.		\$1,157.6800	\$52,095.60
	Dement Construction Company, LLC		\$1,100.0000	\$49,500.00
	Wright Brothers Construction Company, Inc.		\$1,250.0000	\$56,250.00
	Jones Bros. Contractors, LLC		\$751.0400	\$33,796.80
714-05.05	5 PULL BOXES (JUNCTION BOX 6"X6")			
		4.000 EACH		
	Summers-Taylor, Inc.		\$692.5100	\$2,770.04
	Dement Construction Company, LLC		\$658.0000	\$2,632.00
	Wright Brothers Construction Company, Inc.		\$747.0000	\$2,988.00
	Jones Bros. Contractors, LLC		\$805.5600	\$3,222.24
714-06.06	6 CABLE (1/C # 4 AWG)			
		32,220.000 L.F.		
	Summers-Taylor, Inc.		\$2.5300	\$81,516.60
	Dement Construction Company, LLC		\$2.4000	\$77,328.00
	Wright Brothers Construction Company, Inc.		\$2.7500	\$88,605.00
	Jones Bros. Contractors, LLC		\$2.6800	\$86,349.60
714-06.07	7 CABLE (1/C # 2 AWG)			
		2,810.000 L.F.		
	Summers-Taylor, Inc.		\$3.6300	\$10,200.30
	Dement Construction Company, LLC		\$3.4500	\$9,694.50
	Wright Brothers Construction Company, Inc.		\$3.9000	\$10,959.00
	Jones Bros. Contractors, LLC		\$5.1200	\$14,387.20

			CONTRACT CNX358
		UNIT PRICE	EXTENSION
714-08.09 LIGHT STANDARDS (50' M.H.)			
	21.000 EACH		
Summers-Taylor, Inc.		\$4,286.5800	\$90,018.18
Dement Construction Company, LLC		\$4,073.0000	\$85,533.00
Wright Brothers Construction Company, Inc.		\$4,625.0000	\$97,125.00
Jones Bros. Contractors, LLC		\$6,249.6100	\$131,241.81
714-08.10 LIGHT STANDARDS (120' M.H.)			
	9.000 EACH		
Summers-Taylor, Inc.		\$56,199.1500	\$505,792.35
Dement Construction Company, LLC		\$53,400.0000	\$480,600.00
Wright Brothers Construction Company, Inc.		\$64,000.0000	\$576,000.00
Jones Bros. Contractors, LLC		\$48,441.8500	\$435,976.65
714-08.11 LIGHT STANDARDS (35' M.H.)			
	10.000 EACH		
Summers-Taylor, Inc.		\$3,151.0000	\$31,510.00
Dement Construction Company, LLC		\$2,994.0000	\$29,940.00
Wright Brothers Construction Company, Inc.		\$3,400.0000	\$34,000.00
Jones Bros. Contractors, LLC		\$4,613.9900	\$46,139.90
714-08.23 FOUNDATION (ONLY) FOR LIGHT STANDARDS			
	31.000 EACH		
Summers-Taylor, Inc.		\$1,908.0700	\$59,150.17
Dement Construction Company, LLC		\$1,813.0000	\$56,203.00
Wright Brothers Construction Company, Inc.		\$2,050.0000	\$63,550.00
Jones Bros. Contractors, LLC		\$3,000.6000	\$93,018.60
714-08.34 REMOVAL OF LIGHT STANDARD			
	12.000 EACH		
Summers-Taylor, Inc.		\$820.9000	\$9,850.80
Dement Construction Company, LLC		\$780.0000	\$9,360.00
Wright Brothers Construction Company, Inc.		\$890.0000	\$10,680.00
Jones Bros. Contractors, LLC		\$882.7000	\$10,592.40
714-08.46 FOUNDATION (ONLY) FOR HIGH MAST LIGHT STANDARD			
	9.000 EACH		
Summers-Taylor, Inc.		\$14,686.7800	\$132,181.02
Dement Construction Company, LLC		\$13,955.0000	\$125,595.00
Wright Brothers Construction Company, Inc.		\$15,800.0000	\$142,200.00
Jones Bros. Contractors, LLC		\$19,560.5500	\$176,044.95
714-09.09 LUMINAIRES (280 WATT-LED OFFSET LIGHT)			
	31.000 EACH		
Summers-Taylor, Inc.		\$2,297.4700	\$71,221.57 \$67,673,00
Domont Construction Company 11C		W-7 4 0 2 0 0 0 0 0	4 67 670 NA

Dement Construction Company, LLC

Jones Bros. Contractors, LLC

Wright Brothers Construction Company, Inc.

\$67,673.00

\$76,725.00

\$60,611.82

\$2,183.0000

\$2,475.0000

\$1,955.2200

		UNIT PRICE	EXTENSION
714-09.10 LUMINAIRES (429 WATT - LED HIGHMAST)			
	36.000 EACH		
Summers-Taylor, Inc.	00.000 E/(011	\$3,884.5500	\$139,843.80
Dement Construction Company, LLC		\$3,691.0000	\$132,876.00
Wright Brothers Construction Company, Inc.		\$4,175.0000	\$150,300.00
Jones Bros. Contractors, LLC		\$3,550.1300	\$127,804.68
Jones Bios. Contractors, LLC		φ3,330.1300	\$127,004.00
714-09.11 LUMINAIRES (72 WATT - LED UNDERPASS)			
	8.000 EACH		
Summers-Taylor, Inc.		\$1,214.5100	\$9,716.08
Dement Construction Company, LLC		\$1,154.0000	\$9,232.00
Wright Brothers Construction Company, Inc.		\$1,300.0000	\$10,400.00
Jones Bros. Contractors, LLC		\$941.4900	\$7,531.92
714-12.01 CONTROL CENTER (NO. 1)			
	1.000 LS		
Summers-Taylor, Inc.		\$23,074.7100	\$23,074.71
Dement Construction Company, LLC		\$21,925.0000	\$21,925.00
Wright Brothers Construction Company, Inc.		\$24,500.0000	\$24,500.00
Jones Bros. Contractors, LLC		\$11,769.7600	\$11,769.76
oones bros. contractors, LLC		ψ11,700.7000	ψ11,705.70
744 42 02 CONTROL CENTER (NO. 2)			
714-12.02 CONTROL CENTER (NO. 2)			
	1.000 LS		
Summers-Taylor, Inc.		\$23,074.7100	\$23,074.71
Dement Construction Company, LLC		\$21,925.0000	\$21,925.00
Wright Brothers Construction Company, Inc.		\$24,500.0000	\$24,500.00
Jones Bros. Contractors, LLC		\$11,769.7600	\$11,769.76
714-12.03 CONTROL CENTER (NO. 3)			
	1.000 LS		
Summers-Taylor, Inc.		\$23,074.7100	\$23,074.71
Dement Construction Company, LLC		\$21,925.0000	\$21,925.00
Wright Brothers Construction Company, Inc.		\$24,500.0000	\$24,500.00
Jones Bros. Contractors, LLC		\$11,769.7600	\$11,769.76
·		. ,	,
714-12.04 CONTROL CENTER (NO. 4)			
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1.000 LS		
O T I I	1.000 LS	<b>#</b> 00 074 7400	000 074 74
Summers-Taylor, Inc.		\$23,074.7100	\$23,074.71
Dement Construction Company, LLC		\$21,925.0000	\$21,925.00
Wright Brothers Construction Company, Inc.		\$24,500.0000	\$24,500.00
Jones Bros. Contractors, LLC		\$11,769.7600	\$11,769.76
714-25.01 ELECTRICAL CONNECTION (CONTROL CENTER 1)			
	1.000 LS		
Summers-Taylor, Inc.		\$5,262.1900	\$5,262.19
Dement Construction Company, LLC		\$5,000.0000	\$5,000.00
Wright Brothers Construction Company, Inc.		\$5,675.0000	\$5,675.00
Jones Bros. Contractors, LLC		\$11,234.1600	\$11,234.16

	UNIT PRICE	EXTENSION
714-25.02 ELECTRICAL CONNECTION (CONTROL CENTER 2)		
1.000 L	.s	
Summers-Taylor, Inc.	\$5,262.1900	\$5,262.19
Dement Construction Company, LLC	\$5,000.0000	\$5,000.00
Wright Brothers Construction Company, Inc.	\$5,675.0000	\$5,675.00
Jones Bros. Contractors, LLC	\$11,234.1600	\$11,234.16
714-25.03 ELECTRICAL CONNECTION (CONTROL CENTER 3)		
1.000 L	.s	
Summers-Taylor, Inc.	\$5,262.1900	\$5,262.19
Dement Construction Company, LLC	\$5,000.0000	\$5,000.00
Wright Brothers Construction Company, Inc.	\$5,675.0000	\$5,675.00
Jones Bros. Contractors, LLC	\$11,234.1600	\$11,234.16
714-25.04 ELECTRICAL CONNECTION (CONTROL CENTER 4)		
1.000 L	.S	
Summers-Taylor, Inc.	\$5,262.1900	\$5,262.19
Dement Construction Company, LLC	\$5,000.0000	\$5,000.00
Wright Brothers Construction Company, Inc.	\$5,675.0000	\$5,675.00
Jones Bros. Contractors, LLC	\$11,234.1600	\$11,234.16
716-01.05 TEMPORARY RAISED PAVEMENT MARKER		
3,897.000 E	ACH	
Summers-Taylor, Inc.	\$13.4200	\$52,297.74
Dement Construction Company, LLC	\$15.0000	\$58,455.00
Wright Brothers Construction Company, Inc.	\$14.0000	\$54,558.00
Jones Bros. Contractors, LLC	\$15.0000	\$58,455.00
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
794.000 E	ACH	
Summers-Taylor, Inc.	\$47.1000	\$37,397.40
Dement Construction Company, LLC	\$50.0000	\$39,700.00
Wright Brothers Construction Company, Inc.	\$56.2000	\$44,622.80
Jones Bros. Contractors, LLC	\$50.0000	\$39,700.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
965.000 E	ACH	
Summers-Taylor, Inc.	\$12.6300	\$12,187.95
Dement Construction Company, LLC	\$15.0000	\$14,475.00
Wright Brothers Construction Company, Inc.	\$16.8000	\$16,212.00
Jones Bros. Contractors, LLC	\$15.0000	\$14,475.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
115.000 S	3.Y.	
Summers-Taylor, Inc.	\$34.2000	\$3,933.00
Dement Construction Company, LLC	\$28.0000	\$3,220.00
Wright Brothers Construction Company, Inc.	\$31.5000	\$3,622.50
Jones Bros. Contractors, LLC	\$28.0000	\$3,220.00

	UNIT PRICE	EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
354.000 L.F.		
Summers-Taylor, Inc.	\$17.3700	\$6,148.98
Dement Construction Company, LLC	\$15.0000	\$5,310.00
Wright Brothers Construction Company, Inc.	\$16.8000	\$5,947.20
Jones Bros. Contractors, LLC	\$15.0000	\$5,310.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
29.000 EACH		
Summers-Taylor, Inc.	\$236.8000	\$6,867.20
Dement Construction Company, LLC	\$225.0000	\$6,525.00
Wright Brothers Construction Company, Inc.	\$250.0000	\$7,250.00
Jones Bros. Contractors, LLC	\$225.0000	\$6,525.00
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
2,513.000 L.F.		
Summers-Taylor, Inc.	\$17.3700	\$43,650.81
Dement Construction Company, LLC	\$15.0000	\$37,695.00
Wright Brothers Construction Company, Inc.	\$16.8000	\$42,218.40
Jones Bros. Contractors, LLC	\$15.0000	\$37,695.00
716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)		
518.000 L.F.		
Summers-Taylor, Inc.	\$5.5300	\$2,864.54
Dement Construction Company, LLC	\$5.0000	\$2,590.00
Wright Brothers Construction Company, Inc.	\$5.6000	\$2,900.80
Jones Bros. Contractors, LLC	\$5.0000	\$2,590.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
189.000 L.F.		
Summers-Taylor, Inc.	\$34.2000	\$6,463.80
Dement Construction Company, LLC	\$30.0000	\$5,670.00
Wright Brothers Construction Company, Inc.	\$33.7500	\$6,378.75
Jones Bros. Contractors, LLC	\$30.0000	\$5,670.00
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)		
0.400 L.M.		
Summers-Taylor, Inc.	\$15,786.5800	\$6,314.63
Dement Construction Company, LLC	\$17,500.0000	\$7,000.00
Wright Brothers Construction Company, Inc.	\$19,500.0000	\$7,800.00
Jones Bros. Contractors, LLC	\$17,500.0000	\$7,000.00
716-02.23 PLASTIC PAVEMENT MARKING (12IN BARRIER LINE)		
95.000 L.F.		
Summers-Taylor, Inc.	\$6.5800	\$625.10
Dement Construction Company, LLC	\$10.0000	\$950.00
Wright Brothers Construction Company, Inc.	\$11.2000	\$1,064.00
Jones Bros. Contractors, LLC	\$10.0000	\$950.00

	UNIT PRICE	EXTENSION
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)		
2.000 EAC	СН	
Summers-Taylor, Inc.	\$263.1100	\$526.22
Dement Construction Company, LLC	\$250.0000	\$500.00
Wright Brothers Construction Company, Inc.	\$280.0000	\$560.00
Jones Bros. Contractors, LLC	\$250.0000	\$500.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
8.000 EAC	СН	
Summers-Taylor, Inc.	\$184.1800	\$1,473.44
Dement Construction Company, LLC	\$225.0000	\$1,800.00
Wright Brothers Construction Company, Inc.	\$253.0000	\$2,024.00
Jones Bros. Contractors, LLC	\$225.0000	\$1,800.00
716-04.07 PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)		
6.000 EAC	СН	
Summers-Taylor, Inc.	\$289.4200	\$1,736.52
Dement Construction Company, LLC	\$275.0000	\$1,650.00
Wright Brothers Construction Company, Inc.	\$309.0000	\$1,854.00
Jones Bros. Contractors, LLC	\$275.0000	\$1,650.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
33.000 S.F.		
Summers-Taylor, Inc.	\$31.5700	\$1,041.81
Dement Construction Company, LLC	\$25.0000	\$825.00
Wright Brothers Construction Company, Inc.	\$28.0000	\$924.00
Jones Bros. Contractors, LLC	\$25.0000	\$825.00
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
2.000 EAC	СН	
Summers-Taylor, Inc.	\$394.6700	\$789.34
Dement Construction Company, LLC	\$350.0000	\$700.00
Wright Brothers Construction Company, Inc.	\$394.0000	\$788.00
Jones Bros. Contractors, LLC	\$350.0000	\$700.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
2.300 L.M.	I <b>.</b>	
Summers-Taylor, Inc.	\$1,499.7300	\$3,449.38
Dement Construction Company, LLC	\$1,500.0000	\$3,450.00
Wright Brothers Construction Company, Inc.	\$1,680.0000	\$3,864.00
Jones Bros. Contractors, LLC	\$1,500.0000	\$3,450.00
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)		
66,325.000 L.F.		
Summers-Taylor, Inc.	\$0.2900	\$19,234.25
Dement Construction Company, LLC	\$0.7500	\$49,743.75
Wright Brothers Construction Company, Inc.	\$0.5500	\$36,478.75
Jones Bros. Contractors, LLC	\$0.7500	\$49,743.75

	UNIT PRICE	EXTENSION
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)		
4	88.000 L.F.	
Summers-Taylor, Inc.	\$5.2600	\$2,566.88
Dement Construction Company, LLC	\$10.0000	\$4,880.00
Wright Brothers Construction Company, Inc.	\$11.2500	\$5,490.00
Jones Bros. Contractors, LLC	\$10.0000	\$4,880.00
716-05.06 PAINTED PAVEMENT MARKING (TURN LANE ARROW)		
	20.000 EACH	
Summers-Taylor, Inc.	\$105.2400	\$2,104.80
Dement Construction Company, LLC	\$150.0000	\$3,000.00
Wright Brothers Construction Company, Inc.	\$169.0000	\$3,380.00
Jones Bros. Contractors, LLC	\$150.0000	\$3,000.00
716-05.09 PAINTED PAVEMENT MARKING(STRAIGHT-TURN ARROW)		
	1.000 EACH	
Summers-Taylor, Inc.	\$126.2900	\$126.29
Dement Construction Company, LLC	\$175.0000	\$175.00
Wright Brothers Construction Company, Inc.	\$197.0000	\$197.00
Jones Bros. Contractors, LLC	\$175.0000	\$175.00
716-05.11 PAINTED PAVEMENT MARKING(STRAIGHT ARROW)		
	6.000 EACH	
Summers-Taylor, Inc.	\$105.2400	\$631.44
Dement Construction Company, LLC	\$150.0000	\$900.00
Wright Brothers Construction Company, Inc.	\$169.0000	\$1,014.00
Jones Bros. Contractors, LLC	\$150.0000	\$900.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
	11.000 L.M.	
Summers-Taylor, Inc.	\$1,604.9700	\$17,654.67
Dement Construction Company, LLC	\$2,200.0000	\$24,200.00
Wright Brothers Construction Company, Inc.	\$2,470.0000	\$27,170.00
Jones Bros. Contractors, LLC	\$2,200.0000	\$24,200.00
716-08.04 REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIPING)		
	27.000 S.Y.	
Summers-Taylor, Inc.	\$26.3100	\$710.37
Dement Construction Company, LLC	\$18.7500	\$506.25
Wright Brothers Construction Company, Inc.	\$20.0000	\$540.00
Jones Bros. Contractors, LLC	\$18.7500	\$506.25
716-08.30 HYDROBLAST REMOVAL OF PAVEMENT MARKING (LINE)		
	7.200 L.M.	
Summers-Taylor, Inc.	\$5,393.7500	\$38,835.00
Dement Construction Company, LLC	\$7,500.0000	\$54,000.00
Wright Brothers Construction Company, Inc.	\$8,425.0000	\$60,660.00
Jones Bros. Contractors, LLC	\$7,500.0000	\$54,000.00

		UNIT PRICE	EXTENSION
716-08.33 HYDROBLAST REMOVAL OF PAVEMENT MARKING (ARRO	WS)		
	7.000 EACH		
Summers-Taylor, Inc.		\$289.4200	\$2,025.94
Dement Construction Company, LLC		\$225.0000	\$1,575.00
Wright Brothers Construction Company, Inc.		\$250.0000	\$1,750.00
Jones Bros. Contractors, LLC		\$225.0000	\$1,575.00
716-09.86 CONTRAST PAVEMENT MARKING 6"			
	9.600 L.M.		
Summers-Taylor, Inc.		\$57,620.9900	\$553,161.50
Dement Construction Company, LLC		\$47,500.0000	\$456,000.00
Wright Brothers Construction Company, Inc.		\$47,800.0000	\$458,880.00
Jones Bros. Contractors, LLC		\$47,500.0000	\$456,000.00
716-09.87 CONTRAST PAVEMENT MARKINGS WORDS AND SYMBOL	S		
	30.000 EACH		
Summers-Taylor, Inc.		\$710.4000	\$21,312.00
Dement Construction Company, LLC		\$2,500.0000	\$75,000.00
Wright Brothers Construction Company, Inc.		\$2,800.0000	\$84,000.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$75,000.00
716-09.88 CONTRAST PAVEMENT MARKING 8"			
	1.400 L.M.		
Summers-Taylor, Inc.		\$72,355.1300	\$101,297.18
Dement Construction Company, LLC		\$57,500.0000	\$80,500.00
Wright Brothers Construction Company, Inc.		\$64,700.0000	\$90,580.00
Jones Bros. Contractors, LLC		\$57,500.0000	\$80,500.00
716-09.89 CONTRAST PAVEMENT MARKING 12"			
	2,738.000 L.F.		
Summers-Taylor, Inc.		\$23.4200	\$64,123.96
Dement Construction Company, LLC		\$18.2500	\$49,968.50
Wright Brothers Construction Company, Inc.		\$20.5000	\$56,129.00
Jones Bros. Contractors, LLC		\$18.2500	\$49,968.50
716-09.90 CONTRAST PAVEMENT MARKING 6" DOTTED			
	1,392.000 L.F.		
Summers-Taylor, Inc.		\$11.4200	\$15,896.64
Dement Construction Company, LLC		\$12.0000	\$16,704.00
Wright Brothers Construction Company, Inc.		\$13.5000	\$18,792.00
Jones Bros. Contractors, LLC		\$12.0000	\$16,704.00
716-09.94 CONTRAST PAVEMENT SHADOW MARKING 6"			
	7.500 L.M.		
Summers-Taylor, Inc.		\$24,995.4100	\$187,465.58
Dement Construction Company, LLC		\$32,500.0000	\$243,750.00
Wright Brothers Construction Company, Inc.		\$33,000.0000	\$247,500.00
Jones Bros. Contractors, LLC		\$32,500.0000	\$243,750.00
		•	•

		UNIT PRICE	EXTENSION
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	1.400 L.M.		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$7,893.2900 \$12,500.0000 \$14,000.0000 \$12,500.0000	\$11,050.61 \$17,500.00 \$19,600.00 \$17,500.00
716-12.03 ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRII	ER LINE)		
	257.000 L.F.		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$6.0500 \$3.7500 \$4.2000 \$3.7500	\$1,554.85 \$963.75 \$1,079.40 \$963.75
717-01 MOBILIZATION			
	1.000 LS		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$3,174,767.7500 \$8,500,000.0000 \$4,800,000.0000 \$10,650,000.0000	\$3,174,767.75 \$8,500,000.00 \$4,800,000.00 \$10,650,000.00
718-01.01 NOISE BARRIER (NW-1)			
, ,	21,465.000 S.F.		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC	,	\$99.6500 \$62.5000 \$92.0000 \$150.0000	\$2,138,987.25 \$1,341,562.50 \$1,974,780.00 \$3,219,750.00
725-20.09 MAINTENANCE WORK PAD (CONCRETE PAD)			
	5.000 EACH		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$1,578.6600 \$1,500.0000 \$1,700.0000 \$1,500.0000	\$7,893.30 \$7,500.00 \$8,500.00 \$7,500.00
725-20.43 PULL BOX (TYPE C)			
	2.000 EACH		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$1,157.6800 \$1,100.0000 \$1,250.0000 \$1,100.0000	\$2,315.36 \$2,200.00 \$2,500.00 \$2,200.00
725-20.44 PULL BOX (TYPE D)			
Summers-Taylor, Inc.  Dement Construction Company, LLC  Wright Brothers Construction Company, Inc.  Jones Bros. Contractors, LLC	14.000 EACH	\$4,102.4000 \$3,898.0000 \$4,430.0000 \$3,898.0000	\$57,433.60 \$54,572.00 \$62,020.00 \$54,572.00

		CC	MIRACI CNASSO
		UNIT PRICE	EXTENSION
725-20.45 PULL BOX (TYPE E)			
,	4.000 EACH		
Summers-Taylor, Inc.		\$4,999.0800	\$19,996.32
Dement Construction Company, LLC		\$4,750.0000	\$19,000.00
Wright Brothers Construction Company, Inc.		\$5,400.0000	\$21,600.00
Jones Bros. Contractors, LLC		\$4,750.0000	\$19,000.00
725-20.56 CABLE (1/C #4 AWG.)			
	1,305.000 L.F.		
Summers-Taylor, Inc.		\$2.5300	\$3,301.65
Dement Construction Company, LLC		\$2.4000	\$3,132.00
Wright Brothers Construction Company, Inc.		\$2.7500	\$3,588.75
Jones Bros. Contractors, LLC		\$2.4000	\$3,132.00
725-20.71 ELECTRICAL CONNECTION			
	1.000 LS		
Summers-Taylor, Inc.		\$4,209.7500	\$4,209.75
Dement Construction Company, LLC		\$4,000.0000	\$4,000.00
Wright Brothers Construction Company, Inc.		\$4,540.0000	\$4,540.00
Jones Bros. Contractors, LLC		\$4,000.0000	\$4,000.00
725-20.81 RADIO & ANTENNA (TYPE A)			
	1.000 EACH		
Summers-Taylor, Inc.		\$6,994.5000	\$6,994.50
Dement Construction Company, LLC		\$6,646.0000	\$6,646.00
Wright Brothers Construction Company, Inc.		\$7,550.0000	\$7,550.00
Jones Bros. Contractors, LLC		\$6,646.0000	\$6,646.00
725-21.11 NETWORK SWITCH (TYPE A)			
	1.000 EACH		
Summers-Taylor, Inc.		\$14,348.9400	\$14,348.94
Dement Construction Company, LLC		\$13,364.0000	\$13,364.00
Wright Brothers Construction Company, Inc.		\$15,500.0000	\$15,500.00
Jones Bros. Contractors, LLC		\$13,634.0000	\$13,634.00
725-21.90 RDS POLE REMOVE AND RELOCATE			
	3.000 EACH		
Summers-Taylor, Inc.		\$3,247.8200	\$9,743.46
Dement Construction Company, LLC		\$3,086.0000	\$9,258.00
Wright Brothers Construction Company, Inc.		\$3,510.0000	\$10,530.00
Jones Bros. Contractors, LLC		\$3,086.0000	\$9,258.00
725-21.91 RADAR DETECTION SYSTEM			
	1.000 EACH		
Summers-Taylor, Inc.		\$8,190.0700	\$8,190.07
Dement Construction Company, LLC		\$7,782.0000	\$7,782.00
Wright Brothers Construction Company, Inc.		\$8,840.0000	\$8,840.00
Jones Bros. Contractors, LLC		\$7,782.0000	\$7,782.00

	UNIT PRICE	EXTENSION
	UNIT FRICE	EXTENSION
725-21.97 SOLAR POWER FOR RDS		
1.000 EA	СН	
Summers-Taylor, Inc.	\$4,039.2600	\$4,039.26
Dement Construction Company, LLC	\$3,838.0000	\$3,838.00
Wright Brothers Construction Company, Inc.	\$4,360.0000	\$4,360.00
Jones Bros. Contractors, LLC	\$3,838.0000	\$3,838.00
725-21.98 RDS COMM AND LOGIC CONTROLLER		
1.000 EA	СН	
Summers-Taylor, Inc.	\$3,670.9000	\$3,670.90
Dement Construction Company, LLC	\$3,488.0000	\$3,488.00
Wright Brothers Construction Company, Inc.	\$3,920.0000	\$3,920.00
Jones Bros. Contractors, LLC	\$3,488.0000	\$3,488.00
725-22.22 CONDUIT BANK (TYPE 2)		
190.000 L.F	₹.	
Summers-Taylor, Inc.	\$13.8900	\$2,639.10
Dement Construction Company, LLC	\$13.2000	\$2,508.00
Wright Brothers Construction Company, Inc.	\$15.0000	\$2,850.00
Jones Bros. Contractors, LLC	\$13.2000	\$2,508.00
725-22.24 CONDUIT BANK (TYPE 4)		
5,575.000 L.F	₹.	
Summers-Taylor, Inc.	\$14.9400	\$83,290.50
Dement Construction Company, LLC	\$14.2000	\$79,165.00
Wright Brothers Construction Company, Inc.	\$16.1500	\$90,036.25
Jones Bros. Contractors, LLC	\$14.2000	\$79,165.00
725-22.34 CONDUIT BANK BORED (TYPE 4)		
435.000 L.F	₹.	
Summers-Taylor, Inc.	\$37.8900	\$16,482.15
Dement Construction Company, LLC	\$36.0000	\$15,660.00
Wright Brothers Construction Company, Inc.	\$41.0000	\$17,835.00
Jones Bros. Contractors, LLC	\$36.0000	\$15,660.00
725-22.71 2IN CONDUIT		
70.000 L.F	₹.	
Summers-Taylor, Inc.	\$20.5200	\$1,436.40
Dement Construction Company, LLC	\$19.5000	\$1,365.00
Wright Brothers Construction Company, Inc.	\$22.2500	\$1,557.50
Jones Bros. Contractors, LLC	\$19.5000	\$1,365.00
725-22.74 2IN CONDUIT W/BANK		
315.000 L.F	₹.	
Summers-Taylor, Inc.	\$7.8900	\$2,485.35
Dement Construction Company, LLC	\$7.5000	\$2,362.50
Wright Brothers Construction Company, Inc.	\$8.5000	\$2,677.50
Jones Bros. Contractors, LLC	\$7.5000	\$2,362.50

CONTRACT C	١	N)	XЗ	35	8
------------	---	----	----	----	---

		UNIT PRICE	EXTENSION
725-23.01 ITS CABLE MARKER			
	26.000 EACH		
Summers-Taylor, Inc.		\$168.3900	\$4,378.14
Dement Construction Company, LLC		\$160.0000	\$4,160.00
Wright Brothers Construction Company, Inc.		\$182.0000	\$4,732.00
Jones Bros. Contractors, LLC		\$160.0000	\$4,160.00
725-23.16 FIBER OPTIC CABLE (144F)			
	8,435.000 L.F.		
Summers-Taylor, Inc.		\$3.9500	\$33,318.25
Dement Construction Company, LLC		\$3.7500	\$31,631.25
Wright Brothers Construction Company, Inc.		\$4.2500	\$35,848.75
Jones Bros. Contractors, LLC		\$3.7500	\$31,631.25
725-23.21 FIBER OPTIC DROP CABLE (12 F)			
	830.000 L.F.		
Summers-Taylor, Inc.		\$3.1000	\$2,573.00
Dement Construction Company, LLC		\$2.9500	\$2,448.50
Wright Brothers Construction Company, Inc.		\$3.3500	\$2,780.50
Jones Bros. Contractors, LLC		\$2.9500	\$2,448.50
725-23.26 FIBER OPTIC CLOSURE (12 F)			
	2.000 EACH		
Summers-Taylor, Inc.		\$1,262.9300	\$2,525.86
Dement Construction Company, LLC		\$1,200.0000	\$2,400.00
Wright Brothers Construction Company, Inc.		\$1,360.0000	\$2,720.00
Jones Bros. Contractors, LLC		\$1,200.0000	\$2,400.00
725-23.27 FIBER OPTIC CLOSURE (144 F)			
	3.000 EACH		
Summers-Taylor, Inc.		\$4,126.6100	\$12,379.83
Dement Construction Company, LLC		\$3,921.0000	\$11,763.00
Wright Brothers Construction Company, Inc.		\$4,450.0000	\$13,350.00
Jones Bros. Contractors, LLC		\$3,921.0000	\$11,763.00
725-23.28 FIBER OPTIC SPLICE FUSION			
	444.000 EACH		
Summers-Taylor, Inc.		\$78.9300	\$35,044.92
Dement Construction Company, LLC		\$75.0000	\$33,300.00
Wright Brothers Construction Company, Inc.		\$85.2500	\$37,851.00
Jones Bros. Contractors, LLC		\$75.0000	\$33,300.00
725-23.31 FIBER OPTIC DROP PANEL (12 F)			
	2.000 EACH		
Summers-Taylor, Inc.		\$1,189.2600	\$2,378.52
Dement Construction Company, LLC		\$1,130.0000	\$2,260.00
Wright Brothers Construction Company, Inc.		\$1,280.0000	\$2,560.00
Jones Bros. Contractors, LLC		\$1,130.0000	\$2,260.00

			c	ONTRACT CNX358
			UNIT PRICE	EXTENSION
725-24.01 C	ABINET (TYPE A)			
		1.000 EACH		
S	ummers-Taylor, Inc.		\$2,764.7600	\$2,764.76
D	ement Construction Company, LLC		\$2,607.0000	\$2,607.00
	right Brothers Construction Company, Inc.		\$2,980.0000	\$2,980.00
Jo	ones Bros. Contractors, LLC		\$2,627.0000	\$2,627.00
730-01.02 R	EMOVAL OF SIGNAL EQUIPMENT			
		1.000 EACH		
S	ummers-Taylor, Inc.		\$6,323.0500	\$6,323.05
D	ement Construction Company, LLC		\$6,008.0000	\$6,008.00
	right Brothers Construction Company, Inc.		\$6,830.0000	\$6,830.00
Jo	ones Bros. Contractors, LLC		\$6,008.0000	\$6,008.00
730-02.09 S	IGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		15.000 EACH		
S	ummers-Taylor, Inc.		\$1,283.9700	\$19,259.55
D	ement Construction Company, LLC		\$1,220.0000	\$18,300.00
W	right Brothers Construction Company, Inc.		\$1,390.0000	\$20,850.00
Jo	ones Bros. Contractors, LLC		\$1,220.0000	\$18,300.00
730-02.14 S	IGNAL HEAD ASSEMBLY (140 A1 WITH BACKPLATE)			
		1.000 EACH		
S	ummers-Taylor, Inc.		\$1,704.9500	\$1,704.95
D	ement Construction Company, LLC		\$1,620.0000	\$1,620.00
	right Brothers Construction Company, Inc.		\$1,840.0000	\$1,840.00
Jo	ones Bros. Contractors, LLC		\$1,620.0000	\$1,620.00
730-02.17 S	IGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
		4.000 EACH		
S	ummers-Taylor, Inc.		\$2,120.6600	\$8,482.64
	ement Construction Company, LLC		\$2,015.0000	\$8,060.00
	right Brothers Construction Company, Inc.		\$2,290.0000	\$9,160.00
Jo	ones Bros. Contractors, LLC		\$2,015.0000	\$8,060.00
730-02.18 S	IGNAL HEAD ASSEMBLY (150 A2 POLE MOUNTED)			
		1.000 EACH		
S	ummers-Taylor, Inc.		\$1,694.4300	\$1,694.43
	ement Construction Company, LLC		\$1,610.0000	\$1,610.00
	right Brothers Construction Company, Inc.		\$1,830.0000	\$1,830.00
Jo	ones Bros. Contractors, LLC		\$1,610.0000	\$1,610.00
730-02.30 S	IGNAL HEAD ASSEMBLY (140 A1F WITH BACKPLATE)			
		2.000 EACH		
0	ummara Taylar Ina		¢4 704 0500	<b>¢2 400 00</b>

Summers-Taylor, Inc.

Dement Construction Company, LLC

Jones Bros. Contractors, LLC

Wright Brothers Construction Company, Inc.

\$3,409.90

\$3,340.00

\$3,680.00

\$3,240.00

\$1,704.9500

\$1,670.0000

\$1,840.0000

\$1,620.0000

		UNIT PRICE	EXTENSION
730-02.31 SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
•	9.000 EACH		
Summers-Taylor, Inc. Dement Construction Company, LLC Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$1,283.9700 \$1,220.0000 \$1,390.0000 \$1,220.0000	\$11,555.73 \$10,980.00 \$12,510.00 \$10,980.00
730-03.21 INSTALL PULL BOX (TYPE B)			
	31.000 EACH		
Summers-Taylor, Inc.		\$1,026.1300	\$31,810.03
Dement Construction Company, LLC		\$975.0000	\$30,225.00
Wright Brothers Construction Company, Inc.		\$1,110.0000	\$34,410.00
Jones Bros. Contractors, LLC		\$975.0000	\$30,225.00
730-05.01 ELECTRICAL SERVICE CONNECTION			
	1.000 EACH		
Summers-Taylor, Inc.		\$315.7300	\$315.73
Dement Construction Company, LLC		\$3,000.0000	\$3,000.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$3,410.0000 \$3,000.0000	\$3,410.00 \$3,000.00
Jones Bios. Contractors, LEG		ψ5,000.0000	ψ5,000.00
730-08.02 SIGNAL CABLE - 5 CONDUCTOR			
	1,200.000 L.F.		
Summers-Taylor, Inc.		\$3.4200	\$4,104.00
Dement Construction Company, LLC		\$3.2500	\$3,900.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$3.7000 \$3.2500	\$4,440.00 \$3,900.00
Jones Bios. Contractors, LLC		ψ3.2300	ψ5,900.00
730-08.04 SIGNAL CABLE - 9 CONDUCTOR			
	3,800.000 L.F.		
Summers-Taylor, Inc.		\$4.7400	\$18,012.00
Dement Construction Company, LLC		\$4.5000	\$17,100.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$5.1000 \$4.5000	\$19,380.00 \$17,100.00
Contractions, LEG		ψ4.0000	Ψ17,100.00
730-12.02 CONDUIT 2" DIAMETER (PVC SCHEDULE 40)			
	2,400.000 L.F.		
Summers-Taylor, Inc.		\$20.5200	\$49,248.00
Dement Construction Company, LLC		\$19.5000 \$22.2500	\$46,800.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$22.2500 \$19.5000	\$53,400.00 \$46,800.00
Contractions, LEG		ψ10.0000	Ψ-0,000.00
730-12.13 CONDUIT 2" DIAMETER (JACK AND BORE)			
	2,280.000 L.F.		
Summers-Taylor, Inc.		\$35.7800	\$81,578.40
Dement Construction Company, LLC		\$34.0000	\$77,520.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC		\$38.5000 \$34.0000	\$87,780.00 \$77,520.00
control of the contro		ψο 1.0000	ψ. r.,σ.z.σ.σσ

		UNIT PRICE	EXTENSION
730-13.08 VEHICLE DETECTOR (SINGLE CAMERA, 360 DEG FISHEYE)			
	4.000 EACH		
Summers-Taylor, Inc.		\$35,782.9000	\$143,131.60
Dement Construction Company, LLC		\$34,000.0000	\$136,000.00
Wright Brothers Construction Company, Inc.		\$38,600.0000	\$154,400.00
Jones Bros. Contractors, LLC		\$34,000.0000	\$136,000.00
730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)			
	3.000 EACH		
Summers-Taylor, Inc.		\$21,995.9600	\$65,987.88
Dement Construction Company, LLC		\$20,900.0000	\$62,700.00
Wright Brothers Construction Company, Inc.		\$23,700.0000	\$71,100.00
Jones Bros. Contractors, LLC		\$20,900.0000	\$62,700.00
730-16.04 CONTROLLER (ATC)			
	3.000 EACH		
Summers-Taylor, Inc.		\$6,062.0400	\$18,186.12
Dement Construction Company, LLC		\$5,760.0000	\$17,280.00
Wright Brothers Construction Company, Inc.		\$6,540.0000	\$19,620.00
Jones Bros. Contractors, LLC		\$5,760.0000	\$17,280.00
730-23.30 PEDESTAL POLE (15 FT HEIGHT)			
	3.000 EACH		
Summers-Taylor, Inc.		\$2,673.1900	\$8,019.57
Dement Construction Company, LLC		\$2,540.0000	\$7,620.00
Wright Brothers Construction Company, Inc.		\$2,890.0000	\$8,670.00
Jones Bros. Contractors, LLC		\$2,540.0000	\$7,620.00
730-23.72 CANTILEVER SIGNAL SUPPORT (1 ARM @ 35')			
	1.000 EACH		
Summers-Taylor, Inc.		\$26,034.1600	\$26,034.16
Dement Construction Company, LLC		\$24,737.0000	\$24,737.00
Wright Brothers Construction Company, Inc.		\$28,100.0000	\$28,100.00
Jones Bros. Contractors, LLC		\$24,737.0000	\$24,737.00
730-23.88 CANTILEVER SIGNAL SUPPORT (1 ARM @ 45')			
	2.000 EACH		
Summers-Taylor, Inc.		\$30,204.9800	\$60,409.96
Dement Construction Company, LLC		\$28,700.0000	\$57,400.00
Wright Brothers Construction Company, Inc.		\$32,600.0000	\$65,200.00
Jones Bros. Contractors, LLC		\$28,700.0000	\$57,400.00
730-24.94 CANTILEVER SIGNAL SUPPORT (2 @ 45' & 70')			
	1.000 EACH		
Summers-Taylor, Inc.		\$59,252.2700	\$59,252.27
Dement Construction Company, LLC		\$56,300.0000	\$56,300.00
Wright Brothers Construction Company, Inc.		\$64,000.0000	\$64,000.00
Jones Bros. Contractors, LLC		\$56,300.0000	\$56,300.00

			UNIT PRICE	EXTENSION
730-25.01	CANTILEVER SIGNAL SUPPORT (1 ARM @ 50')			
		1.000 EACH		
	Summers-Taylor, Inc.		\$30,836.4400	\$30,836.44
	Dement Construction Company, LLC		\$29,300.0000	\$29,300.00
	Wright Brothers Construction Company, Inc.		\$33,300.0000	\$33,300.00
	Jones Bros. Contractors, LLC		\$29,300.0000	\$29,300.00
730-25.07	CANTILEVER SIGNAL SUPPORT (1 ARM @ 55')			
		4.000 EACH		
	Summers-Taylor, Inc.		\$32,257.2300	\$129,028.92
	Dement Construction Company, LLC		\$30,650.0000	\$122,600.00
	Wright Brothers Construction Company, Inc.		\$34,800.0000	\$139,200.00
	Jones Bros. Contractors, LLC		\$30,650.0000	\$122,600.00
730-25.11	CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
		1.000 EACH		
	Summers-Taylor, Inc.		\$36,466.9900	\$36,466.99
	Dement Construction Company, LLC		\$34,650.0000	\$34,650.00
	Wright Brothers Construction Company, Inc.		\$39,400.0000	\$39,400.00
	Jones Bros. Contractors, LLC		\$34,650.0000	\$34,650.00
730-25.13	CANTILEVER SIGNAL SUPPORT (1 ARM @ 65')			
		1.000 EACH		
	Summers-Taylor, Inc.		\$39,140.1800	\$39,140.18
	Dement Construction Company, LLC		\$37,190.0000	\$37,190.00
	Wright Brothers Construction Company, Inc.		\$42,200.0000	\$42,200.00
	Jones Bros. Contractors, LLC		\$37,190.0000	\$37,190.00
730-26.10	PEDESTRIAN SIGNAL HEAD W/PUSHBUTTON & 15IN SIGN			
		4.000 EACH		
	Summers-Taylor, Inc.		\$2,378.5100	\$9,514.04
	Dement Construction Company, LLC		\$2,260.0000	\$9,040.00
	Wright Brothers Construction Company, Inc.		\$2,570.0000	\$10,280.00
	Jones Bros. Contractors, LLC		\$2,260.0000	\$9,040.00
730-35.06	BATTERY BACK-UP SYSTEM			
		3.000 EACH		
	Summers-Taylor, Inc.		\$13,618.5500	\$40,855.65
	Dement Construction Company, LLC		\$12,940.0000	\$38,820.00
	Wright Brothers Construction Company, Inc.		\$14,700.0000	\$44,100.00
	Jones Bros. Contractors, LLC		\$12,940.0000	\$38,820.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		2.000 EACH		
	Summers-Taylor, Inc.		\$64,671.2800	\$129,342.56
	Dement Construction Company, LLC		\$61,449.0000	\$122,898.00
	Wright Brothers Construction Company, Inc.		\$69,000.0000	\$138,000.00
	Jones Bros. Contractors, LLC		\$61,449.0000	\$122,898.00

		EVEL NOISH
	UNIT PRICE	EXTENSION
740-07.04 GEOGRID REINFORCEMENT TYPE 2		
	2,009.000 S.Y.	
Summers-Taylor, Inc.	\$12.8000	\$25,715.20
Dement Construction Company, LLC	\$5.0000	\$10,045.00
Wright Brothers Construction Company, Inc.	\$6.8500	\$13,761.65
Jones Bros. Contractors, LLC	\$5.0000	\$10,045.00
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)		
740-10.03 GEOTEXTILE (TTPE III)(EROSION CONTROL)	1,391.000 S.Y.	
Summere Toylor Inc	\$2.7400	\$3,811.34
Summers-Taylor, Inc.  Dement Construction Company, LLC	\$2.7400 \$3.5000	\$3,811.34 \$4,868.50
Wright Brothers Construction Company, Inc.	\$3.3000	\$6,746.35
Jones Bros. Contractors, LLC	\$2.8900	\$4,019.99
Jones Bios. Contractors, LLC	Ψ2.0900	ψ4,019.99
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)		
	1,691.000 S.Y.	
Summers-Taylor, Inc.	\$2.7400	\$4,633.34
Dement Construction Company, LLC	\$1.7500	\$2,959.25
Wright Brothers Construction Company, Inc.	\$3.4000	\$5,749.40
Jones Bros. Contractors, LLC	\$3.6600	\$6,189.06
	<b>V</b> 3.3333	<b>4</b> -, ·
740-11.04 TEMPORARY SEDIMENT TUBE 20IN		
	27,281.000 L.F.	
Summers-Taylor, Inc.	\$4.3100	\$117,581.11
Dement Construction Company, LLC	\$4.8500	\$132,312.85
Wright Brothers Construction Company, Inc.	\$4.6000	\$125,492.60
Jones Bros. Contractors, LLC	\$6.1000	\$166,414.10
801-01.02 CROWN VETCH MIXTURE (WITH MULCH)		
	90.000 UNIT	
Summers-Taylor, Inc.	\$74.7200	\$6,724.80
Dement Construction Company, LLC	\$150.0000	\$13,500.00
Wright Brothers Construction Company, Inc.	\$79.7500	\$7,177.50
Jones Bros. Contractors, LLC	\$95.0000	\$8,550.00
801-01.07 TEMPORARY SEEDING (WITH MULCH)		
001-01.07 TEMPORART SEEDING (WITH MOLCH)	909.000 UNIT	
Cummara Taylar Ina		¢44.004.60
Summers-Taylor, Inc.  Dement Construction Company, LLC	\$48.4100 \$30,0000	\$44,004.69 \$37,370,00
Wright Brothers Construction Company, Inc.	\$30.0000 \$51.7500	\$27,270.00 \$47,040.75
Jones Bros. Contractors, LLC	\$51.7500 \$55.0000	\$47,040.75 \$49,995.00
Jones Bros. Contractors, LLC	\$55.0000	φ49,995.00
801-01.37 NATVE SEED MX ENCAPSULATION & CLEAR ZONE		
	126.000 UNIT	
Summers-Taylor, Inc.	\$60.2500	\$7,591.50
Dement Construction Company, LLC	\$98.0500	\$12,354.30
Wright Brothers Construction Company, Inc.	\$64.5000	\$8,127.00
Jones Bros. Contractors, LLC	\$168.0000	\$21,168.00
	•	•

		UNIT PRICE	EXTENSION
801-01.38 NATVE SEED MX FINAL STABLIZATN OF SLOPES			
	126.000 UNIT		
Summers-Taylor, Inc.		\$60.2500	\$7,591.50
Dement Construction Company, LLC		\$78.9500	\$9,947.70
Wright Brothers Construction Company, Inc.		\$64.5000	\$8,127.00
Jones Bros. Contractors, LLC		\$168.0000	\$21,168.00
801-02.08 TEMPORARY SEEDING (WITHOUT MULCH)			
	98.000 UNIT		
Summers-Taylor, Inc.		\$35.7800	\$3,506.44
Dement Construction Company, LLC		\$30.0000	\$2,940.00
Wright Brothers Construction Company, Inc.		\$38.2500	\$3,748.50
Jones Bros. Contractors, LLC		\$45.0000	\$4,410.00
801-03 WATER (SEEDING & SODDING)			
	781.000 M.G.		
Summers-Taylor, Inc.		\$94.7200	\$73,976.32
Dement Construction Company, LLC		\$145.0000	\$113,245.00
Wright Brothers Construction Company, Inc.		\$101.0000	\$78,881.00
Jones Bros. Contractors, LLC		\$100.0000	\$78,100.00
802-01.10 TREES (QJERCUS VIRGINIANIA) (2.5" CAL. B&B)			
	14.000 EACH		
Summers-Taylor, Inc.		\$1,341.8600	\$18,786.04
Dement Construction Company, LLC		\$2,500.0000	\$35,000.00
Wright Brothers Construction Company, Inc.		\$1,430.0000	\$20,020.00
Jones Bros. Contractors, LLC		\$530.0000	\$7,420.00
802-01.11 TREES (NYSSA SYLVATICA 'WILDFIRE') (2.5" CAL B&B)			
	18.000 EACH		
Summers-Taylor, Inc.		\$773.5400	\$13,923.72
Dement Construction Company, LLC		\$1,200.0000	\$21,600.00
Wright Brothers Construction Company, Inc.		\$830.0000	\$14,940.00
Jones Bros. Contractors, LLC		\$530.0000	\$9,540.00
803-01 SODDING (NEW SOD)			
	78,416.000 S.Y.		
Summers-Taylor, Inc.		\$5.7900	\$454,028.64
Dement Construction Company, LLC		\$6.7500	\$529,308.00
Wright Brothers Construction Company, Inc.		\$6.2000	\$486,179.20
Jones Bros. Contractors, LLC		\$9.6500	\$756,714.40
805-05.02 SOIL NAIL STABILIZATION			
	3,240.000 L.F.		
Summers-Taylor, Inc.		\$44.2000	\$143,208.00
Dement Construction Company, LLC		\$45.0000	\$145,800.00
Wright Brothers Construction Company, Inc.		\$48.2500	\$156,330.00
Jones Bros. Contractors, LLC		\$42.0000	\$136,080.00

				CONTINA	CI CIAX330
			UNIT PRICE	E	EXTENSION
805-05.03	REINFORCED SHOTCRETE FACING				
		3,409.000 S.F.			
	Summers-Taylor, Inc.	,	\$42.1000	\$	5143,518.90
	Dement Construction Company, LLC		\$50.0000		170,450.00
	Wright Brothers Construction Company, Inc.		\$46.0000	\$	6156,814.00
	Jones Bros. Contractors, LLC		\$40.0000	\$	3136,360.00
805-05.04	SECONDARY WALL (OUTER FACING)				
		3,409.000 S.F.			
	Summers-Taylor, Inc.		\$68.5000	\$	233,516.50
	Dement Construction Company, LLC		\$100.0000		340,900.00
	Wright Brothers Construction Company, Inc.		\$28.5000		\$97,156.50
	Jones Bros. Contractors, LLC		\$93.0000	\$	317,037.00
805-12.03	EROSION CONTROL BLANKET (TYPE III)				
		12,892.000 S.Y.			
	Summers-Taylor, Inc.		\$1.6300		\$21,013.96
	Dement Construction Company, LLC		\$2.0000		\$25,784.00
	Wright Brothers Construction Company, Inc.		\$1.7500		\$22,561.00
	Jones Bros. Contractors, LLC		\$2.3000		\$29,651.60
806-02.03	PROJECT MOWING				
		14.000 CYCL			
	Summers-Taylor, Inc.		\$6,314.6300		\$88,404.82
	Dement Construction Company, LLC		\$20,000.0000	\$	280,000.00
	Wright Brothers Construction Company, Inc.		\$14,400.0000	\$	201,600.00
	Jones Bros. Contractors, LLC		\$2,000.0000		\$28,000.00
930-08.26	LOADING TEST (SOIL NAILS)				
		4.000 EACH			
	Summers-Taylor, Inc.		\$1,947.0100		\$7,788.04
	Dement Construction Company, LLC		\$2,500.0000		\$10,000.00
	Wright Brothers Construction Company, Inc.		\$2,120.0000		\$8,480.00
	Jones Bros. Contractors, LLC		\$1,850.0000		\$7,400.00

			UNIT PRICE	EXTENSION
BRIDGE	CATEGORY			
204 02 04	DRY EXCAVATION (BRIDGES)			
204-02.01	DRT EXCAVATION (BRIDGES)	4 500 000 O V		
	Curamana Taular Inc	1,596.000 C.Y.	<b>#20.0400</b>	ФГ <b>Т</b> 4 <b>7</b> 4 ОС
	Summers-Taylor, Inc. Dement Construction Company, LLC		\$36.0100 \$45.0000	\$57,471.96 \$71,820.00
	Wright Brothers Construction Company, Inc.		\$38.7500	\$61,845.00
	Jones Bros. Contractors, LLC		\$45.0000	\$71,820.00
	,		·	. ,
204-05.01	CORE DRILLING AND SAMPLING			
		209.000 L.F.		
	Summers-Taylor, Inc.		\$123.6000	\$25,832.40
	Dement Construction Company, LLC		\$100.0000	\$20,900.00
	Wright Brothers Construction Company, Inc.		\$343.0000	\$71,687.00
	Jones Bros. Contractors, LLC		\$105.0000	\$21,945.00
204-06.01	FLOWABLE FILL (GENERAL)			
		2.000 C.Y.		
	Summers-Taylor, Inc.		\$2,287.5200	\$4,575.04
	Dement Construction Company, LLC		\$1,000.0000	\$2,000.00
	Wright Brothers Construction Company, Inc.		\$7,870.0000	\$15,740.00
	Jones Bros. Contractors, LLC		\$10,000.0000	\$20,000.00
00444	CORE DRILLING FOR BU 50/DOOM			
204-14	CORE DRILLING FOR PILES(ROCK)			
		192.000 L.F.	****	<b>*</b>
	Summers-Taylor, Inc.		\$658.4900	\$126,430.08
	Dement Construction Company, LLC Wright Brothers Construction Company, Inc.		\$280.0000 \$556.0000	\$53,760.00 \$106,752.00
	Jones Bros. Contractors, LLC		\$350.0000	\$67,200.00
	Control Brook Contractors, LLC		ψοσο.σσσσ	ψ01,200.00
204-15	CORE DRILLING FOR PILES(SOIL)			
	, ,	128.000 L.F.		
	Summers-Taylor, Inc.	120.000 E.I	\$426.1300	\$54,544.64
	Dement Construction Company, LLC		\$280.0000	\$35,840.00
	Wright Brothers Construction Company, Inc.		\$333.0000	\$42,624.00
	Jones Bros. Contractors, LLC		\$330.0000	\$42,240.00
303-01.02	GRANULAR BACKFILL (BRIDGES)			
		78.000 TON		
	Summers-Taylor, Inc.		\$62.5200	\$4,876.56
	Dement Construction Company, LLC		\$50.0000	\$3,900.00
	Wright Brothers Construction Company, Inc.		\$63.0000	\$4,914.00
	Jones Bros. Contractors, LLC		\$60.0000	\$4,680.00
602-04.01	STEEL STRUCTURES (BR. I.D. NO. 33100750099, STA. 426+	92.00)		
		1.000 LS		
	Summers-Taylor, Inc.		\$3,953,444.2600	\$3,953,444.26
	Dement Construction Company, LLC		\$3,500,000.0000	\$3,500,000.00
	Wright Brothers Construction Company, Inc.		\$3,850,000.0000	\$3,850,000.00
	Jones Bros. Contractors, LLC		\$11,500,000.0000	\$11,500,000.00

			UNIT PRICE	EXTENSION
602-04.02	STEEL STRUCTURES (BR. I.D. NO. 33100750101, STA. 520+72.1	9)		
		1.000 LS		
	Summers-Taylor, Inc.		\$7,181,921.8100	\$7,181,921.81
	Dement Construction Company, LLC		\$5,500,000.0000	\$5,500,000.00
	Wright Brothers Construction Company, Inc.		\$7,385,000.0000	\$7,385,000.00
	Jones Bros. Contractors, LLC		\$11,500,000.0000	\$11,500,000.00
602-10.01	STRUCTURAL STEEL REPAIRS			
		1.000 LS		
	Summers-Taylor, Inc.		\$15,584.1100	\$15,584.11
	Dement Construction Company, LLC		\$15,000.0000	\$15,000.00
	Wright Brothers Construction Company, Inc.		\$67,500.0000	\$67,500.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$5,000.00
602-10.60	BEARING DEVICE (BR. I.D. NO. 33100750097, ABUTMENT NO. 2	)		
		6.000 EACH		
	Summers-Taylor, Inc.		\$4,677.9100	\$28,067.46
	Dement Construction Company, LLC		\$7,000.0000	\$42,000.00
	Wright Brothers Construction Company, Inc.		\$5,760.0000	\$34,560.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$15,000.00
603-02.01	REPAINTING EXISTING STEEL STRUCTURES (BRIDGE NO. 33-	04986-01.50)		
		1.000 LS		
	Summers-Taylor, Inc.		\$92,356.8300	\$92,356.83
	Dement Construction Company, LLC		\$86,000.0000	\$86,000.00
	Wright Brothers Construction Company, Inc.		\$96,700.0000	\$96,700.00
	Jones Bros. Contractors, LLC		\$86,000.0000	\$86,000.00
603-05.20	CONTAINMENT & DISPOSAL OF WASTE(BRIDGE NO. 33-04986	i-01.50)		
		1.000 LS		
	Summers-Taylor, Inc.		\$39,734.9200	\$39,734.92
	Dement Construction Company, LLC		\$37,000.0000	\$37,000.00
	Wright Brothers Construction Company, Inc.		\$50,600.0000	\$50,600.00
	Jones Bros. Contractors, LLC		\$37,000.0000	\$37,000.00
604-02.03	EPOXY COATED REINFORCING STEEL			
		759,173.000 LB.		
	Summers-Taylor, Inc.		\$1.3500	\$1,024,883.55
	Dement Construction Company, LLC		\$1.7600	\$1,336,144.48
	Wright Brothers Construction Company, Inc.		\$1.4500	\$1,100,800.85
	Jones Bros. Contractors, LLC		\$1.7500	\$1,328,552.75
604-03.01	CLASS A CONCRETE (BRIDGES)			
		895.000 C.Y.		
	Summers-Taylor, Inc.		\$1,322.9100	\$1,184,004.45
	Dement Construction Company, LLC		\$1,500.0000	\$1,342,500.00
	Wright Brothers Construction Company, Inc.		\$1,640.0000	\$1,467,800.00
	Jones Bros. Contractors, LLC		\$1,650.0000	\$1,476,750.00

	UNIT PRICE	EXTENSION
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)		
189,933.	000 LB.	
Summers-Taylor, Inc.	\$1.9300	\$366,570.69
Dement Construction Company, LLC	\$1.6200	\$307,691.46
Wright Brothers Construction Company, Inc.	\$1.8000	\$341,879.40
Jones Bros. Contractors, LLC	\$1.6000	\$303,892.80
604-03.04 PAVEMENT @ BRIDGE ENDS		
	000 S.Y.	
Summers-Taylor, Inc.	\$300.0200	\$159,610.64
Dement Construction Company, LLC	\$500.0000	\$266,000.00
Wright Brothers Construction Company, Inc. Jones Bros. Contractors, LLC	\$366.0000 \$500.0000	\$194,712.00 \$266,000.00
Jones Bios. Contractors, LLC	\$300.0000	\$200,000.00
604-03.32 CLASS DS CONCRETE		
2,679.0	000 C.Y.	
Summers-Taylor, Inc.	\$1,258.7000	\$3,372,057.30
Dement Construction Company, LLC	\$1,250.0000	\$3,348,750.00
Wright Brothers Construction Company, Inc.	\$1,480.0000	\$3,964,920.00
Jones Bros. Contractors, LLC	\$1,350.0000	\$3,616,650.00
604-03.74 CLASS X CONCRETE		
363.0	000 C.Y.	
Summers-Taylor, Inc.	\$1,092.6400	\$396,628.32
Dement Construction Company, LLC	\$1,500.0000	\$544,500.00
Wright Brothers Construction Company, Inc.	\$1,210.0000	\$439,230.00
Jones Bros. Contractors, LLC	\$1,200.0000	\$435,600.00
604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURES)		
14,422.0	000 S.Y.	
Summers-Taylor, Inc.	\$9.7600	\$140,758.72
Dement Construction Company, LLC	\$8.9500	\$129,076.90
Wright Brothers Construction Company, Inc.	\$10.4500	\$150,709.90
Jones Bros. Contractors, LLC	\$15.0000	\$216,330.00
604-04.02 APPLIED TEXTURE FINISH (EXISTING STRUCTURES)		
5,173.0	000 S.Y.	
Summers-Taylor, Inc.	\$10.8500	\$56,127.05
Dement Construction Company, LLC	\$9.9500	\$51,471.35
Wright Brothers Construction Company, Inc.	\$11.5000	\$59,489.50
Jones Bros. Contractors, LLC	\$15.0000	\$77,595.00
604-04.04 BRIDGE END DRAINS(4'X8')		
2.0	000 EACH	
Summers-Taylor, Inc.	\$13,048.0600	\$26,096.12
Dement Construction Company, LLC	\$10,000.0000	\$20,000.00
Wright Brothers Construction Company, Inc.	\$4,000.0000	\$8,000.00
Jones Bros. Contractors, LLC	\$10,000.0000	\$20,000.00

			UNIT PRICE	EXTENSION
604-04.41	THREE STAR STATE EMBLEM			
		2.000 EACH		
	Summers-Taylor, Inc.		\$2,096.0100	\$4,192.02
	Dement Construction Company, LLC		\$2,500.0000	\$5,000.00
	Wright Brothers Construction Company, Inc.		\$3,575.0000	\$7,150.00
	Jones Bros. Contractors, LLC		\$2,000.0000	\$4,000.00
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
		8,836.000 S.Y.		
	Summers-Taylor, Inc.		\$3.1000	\$27,391.60
	Dement Construction Company, LLC		\$6.0000	\$53,016.00
	Wright Brothers Construction Company, Inc.		\$4.1500	\$36,669.40
	Jones Bros. Contractors, LLC		\$3.6300	\$32,074.68
604-10.05	CONCRETE			
		40.000 S.F.		
	Summers-Taylor, Inc.		\$567.7800	\$22,711.20
	Dement Construction Company, LLC		\$500.0000	\$20,000.00
	Wright Brothers Construction Company, Inc.		\$787.0000	\$31,480.00
	Jones Bros. Contractors, LLC		\$330.0000	\$13,200.00
604-10.30	BRIDGE DECK REPAIRS (FULL DEPTH OF SLAB)			
		25.000 S.Y.		
	Summers-Taylor, Inc.		\$1,673.9800	\$41,849.50
	Dement Construction Company, LLC		\$950.0000	\$23,750.00
	Wright Brothers Construction Company, Inc.		\$1,010.0000	\$25,250.00
	Jones Bros. Contractors, LLC		\$600.0000	\$15,000.00
604-10.44	EXPANSION JOINT REPAIRS			
		24.000 L.F.		
	Summers-Taylor, Inc.		\$240.5200	\$5,772.48
	Dement Construction Company, LLC		\$250.0000	\$6,000.00
	Wright Brothers Construction Company, Inc.		\$562.0000	\$13,488.00
	Jones Bros. Contractors, LLC		\$250.0000	\$6,000.00
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
		25.000 S.Y.		
	Summers-Taylor, Inc.		\$1,191.3700	\$29,784.25
	Dement Construction Company, LLC		\$650.0000	\$16,250.00
	Wright Brothers Construction Company, Inc.		\$787.0000	\$19,675.00
	Jones Bros. Contractors, LLC		\$225.0000	\$5,625.00
604-10.54	CONCRETE REPAIRS			
		40.000 S.F.		
	Summers-Taylor, Inc.		\$531.4300	\$21,257.20
	Dement Construction Company, LLC		\$600.0000	\$24,000.00
	Wright Brothers Construction Company, Inc.		\$787.0000	\$31,480.00
	Jones Bros. Contractors, LLC		\$300.0000	\$12,000.00

		UNIT PRICE	EXTENSION
604-10.58 EPOXY INJECTION (INJECTION)			
	4.000 GAL.		
Summers-Taylor, Inc.		\$105.2500	\$421.00
Dement Construction Company, LLC	C	\$300.0000	\$1,200.00
Wright Brothers Construction Comp	any, Inc.	\$450.0000	\$1,800.00
Jones Bros. Contractors, LLC		\$400.0000	\$1,600.00
604-10.62 EPOXY INJECTION REPAIR (COMPL	ETE AND IN PLACE)		
	75.000 L.F.		
Summers-Taylor, Inc.		\$215.7500	\$16,181.25
Dement Construction Company, LLC		\$100.0000	\$7,500.00
Wright Brothers Construction Comp	any, Inc.	\$394.0000	\$29,550.00
Jones Bros. Contractors, LLC		\$550.0000	\$41,250.00
604-11.01 EXPANSION DEVICE (BR. I.D. NO. 33	8100750097, ABUTMENT NO. 2)		
	44.000 L.F.		
Summers-Taylor, Inc.		\$1,087.4700	\$47,848.68
Dement Construction Company, LLC	0	\$1,250.0000	\$55,000.00
Wright Brothers Construction Comp	any, Inc.	\$712.0000	\$31,328.00
Jones Bros. Contractors, LLC		\$600.0000	\$26,400.00
604-11.02 EXPANSION DEVICE (BR. I.D. NO. 33	8100750099, STRIP SEAL)		
	32.000 L.F.		
Summers-Taylor, Inc.		\$1,109.2100	\$35,494.72
Dement Construction Company, LLC		\$1,250.0000	\$40,000.00
Wright Brothers Construction Comp	any, Inc.	\$788.0000	\$25,216.00
Jones Bros. Contractors, LLC		\$680.0000	\$21,760.00
604-11.03 EXPANSION DEVICE (BR. I.D. NO. 33	8100750099, MODULAR DECK JOINT)		
	32.000 L.F.		
Summers-Taylor, Inc.		\$1,230.6600	\$39,381.12
Dement Construction Company, LLC		\$5,000.0000	\$160,000.00
Wright Brothers Construction Comp	any, Inc.	\$2,350.0000	\$75,200.00
Jones Bros. Contractors, LLC		\$2,125.0000	\$68,000.00
604-11.04 EXPANSION DEVICE (BR. I.D. NO. 33	8100750101, STRIP SEAL)		
	66.000 L.F.		
Summers-Taylor, Inc.		\$1,097.5500	\$72,438.30
Dement Construction Company, LLC		\$1,250.0000	\$82,500.00
Wright Brothers Construction Comp	any, Inc.	\$750.0000	\$49,500.00
Jones Bros. Contractors, LLC		\$615.0000	\$40,590.00
606-03.03 STEEL PILES (12 INCH)			
	7,098.000 L.F.		
Summers-Taylor, Inc.		\$96.1400	\$682,401.72
Dement Construction Company, LLC	0	\$62.0000	\$440,076.00
Wright Brothers Construction Comp		\$84.5000	\$599,781.00
Jones Bros. Contractors, LLC		\$65.0000	\$461,370.00

		UNIT PRICE	EXTENSION
606-03.06 PILE TIPS (STEEL PILES, 12 INCH)			
	170.000 EACH		
Summers-Taylor, Inc.		\$180.6300	\$30,707.10
Dement Construction Company, LLC		\$265.0000	\$45,050.00
Wright Brothers Construction Company, Inc.		\$352.0000	\$59,840.00
Jones Bros. Contractors, LLC		\$180.0000	\$30,600.00
606-22.13 STEEL PIPE PILES (24 IN)			
	1,431.000 L.F.		
Summers-Taylor, Inc.		\$228.9400	\$327,613.14
Dement Construction Company, LLC		\$170.0000	\$243,270.00
Wright Brothers Construction Company, Inc.		\$264.0000	\$377,784.00
Jones Bros. Contractors, LLC		\$125.0000	\$178,875.00
606-22.14 PILE TIPS (STEEL PIPE PILES 24 IN)			
	40.000 EACH		
Summers-Taylor, Inc.		\$507.7800	\$20,311.20
Dement Construction Company, LLC		\$600.0000	\$24,000.00
Wright Brothers Construction Company, Inc.		\$830.0000	\$33,200.00
Jones Bros. Contractors, LLC		\$750.0000	\$30,000.00
615-01.10 PRESTRESSED CONCRETE BULB TEE BEAM (6" WEB)(BT-5	54)		
	1,320.000 L.F.		
Summers-Taylor, Inc.		\$374.6700	\$494,564.40
Dement Construction Company, LLC		\$500.0000	\$660,000.00
Wright Brothers Construction Company, Inc.		\$425.0000	\$561,000.00
Jones Bros. Contractors, LLC		\$450.0000	\$594,000.00
615-01.12 PRESTRESSED CONCRETE BULB TEE BEAM (6" WEB)(BT-7	72)		
	6,239.000 L.F.		
Summers-Taylor, Inc.		\$396.7700	\$2,475,448.03
Dement Construction Company, LLC		\$600.0000	\$3,743,400.00
Wright Brothers Construction Company, Inc.		\$408.0000	\$2,545,512.00
Jones Bros. Contractors, LLC		\$475.0000	\$2,963,525.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)			
	3,134.000 S.Y.		
Summers-Taylor, Inc.		\$46.4200	\$145,480.28
Dement Construction Company, LLC		\$49.5100	\$155,164.34
Wright Brothers Construction Company, Inc.		\$56.2500	\$176,287.50
Jones Bros. Contractors, LLC		\$49.5100	\$155,164.34
620-05.01 CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
	5,120.000 L.F.		
Summers-Taylor, Inc.	•	\$112.0000	\$573,440.00
Dement Construction Company, LLC		\$170.0000	\$870,400.00
Wright Brothers Construction Company, Inc.		\$133.0000	\$680,960.00
Jones Bros. Contractors, LLC		\$140.0000	\$716,800.00

		UNIT PRICE	EXTENSION
625-01.11 CAMERA INSPECTION - DRILLED SHAFT (UNDERWATER)			
	4.000 EACH		
Summers-Taylor, Inc.		\$807.6100	\$3,230.44
Dement Construction Company, LLC		\$500.0000	\$2,000.00
Wright Brothers Construction Company, Inc.		\$562.0000	\$2,248.00
Jones Bros. Contractors, LLC		\$500.0000	\$2,000.00
625-02.01 DRILLED SHAFT-SOIL (7'-0" DIA.)			
	19.000 V.F.		
Summers-Taylor, Inc.		\$2,554.3500	\$48,532.65
Dement Construction Company, LLC		\$2,100.0000	\$39,900.00
Wright Brothers Construction Company, Inc.		\$2,360.0000	\$44,840.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$57,000.00
625-02.02 DRILLED SHAFT-SOIL (8'-0" DIA.)			
	38.000 V.F.		
Summers-Taylor, Inc.		\$2,441.4600	\$92,775.48
Dement Construction Company, LLC		\$2,100.0000	\$79,800.00
Wright Brothers Construction Company, Inc.		\$2,360.0000	\$89,680.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$114,000.00
625-02.13 DRILLED SHAFT-ROCK (6'-6" DIA.)			
	32.000 V.F.		
Summers-Taylor, Inc.		\$3,874.4400	\$123,982.08
Dement Construction Company, LLC		\$3,300.0000	\$105,600.00
Wright Brothers Construction Company, Inc.		\$3,710.0000	\$118,720.00
Jones Bros. Contractors, LLC		\$4,200.0000	\$134,400.00
625-02.14 DRILLED SHAFT-ROCK (7'-6" DIA.)			
	40.000 V.F.		
Summers-Taylor, Inc.		\$3,828.5900	\$153,143.60
Dement Construction Company, LLC		\$3,300.0000	\$132,000.00
Wright Brothers Construction Company, Inc.		\$3,710.0000	\$148,400.00
Jones Bros. Contractors, LLC		\$4,500.0000	\$180,000.00
625-02.40 DRILLED SHAFT (SH-SCC) CONCRETE			
	188.000 C.Y.		
Summers-Taylor, Inc.		\$742.6900	\$139,625.72
Dement Construction Company, LLC		\$650.0000	\$122,200.00
Wright Brothers Construction Company, Inc.		\$731.0000	\$137,428.00
Jones Bros. Contractors, LLC		\$800.0000	\$150,400.00
625-02.44 DRILLED SHAFT REINFORCING STEEL			
	39,133.000 LB.		
Summers-Taylor, Inc.	,	\$1.9500	\$76,309.35
Dement Construction Company, LLC		\$1.7400	\$68,091.42
Wright Brothers Construction Company, Inc.		\$1.3500	\$52,829.55
Jones Bros. Contractors, LLC		\$6.0000	\$234,798.00

			,	CONTRACT CNASSO
			UNIT PRICE	EXTENSION
709-04	REINFORCED CONCRETE SLOPE PAVEMENT			
		30.000 C.Y.		
	Summers-Taylor, Inc.		\$1,312.5800	\$39,377.40
	Dement Construction Company, LLC		\$4,000.0000	\$120,000.00
	Wright Brothers Construction Company, Inc.		\$840.0000	\$25,200.00
	Jones Bros. Contractors, LLC		\$635.0000	\$19,050.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM			
		234.000 L.F.		
	Summers-Taylor, Inc.		\$33.4600	\$7,829.64
	Dement Construction Company, LLC		\$135.0000	\$31,590.00
	Wright Brothers Construction Company, Inc.		\$54.7500	\$12,811.50
	Jones Bros. Contractors, LLC		\$45.0000	\$10,530.00
710-09.02	2 6" PIPE UNDERDRAIN			
		179.000 L.F.		
	Summers-Taylor, Inc.		\$24.6700	\$4,415.93
	Dement Construction Company, LLC		\$15.0000	\$2,685.00
	Wright Brothers Construction Company, Inc.		\$26.7500	\$4,788.25
	Jones Bros. Contractors, LLC		\$10.0000	\$1,790.00
719-01.08	3 CLEAN DRAIN			
		2.000 EACH		
	Summers-Taylor, Inc.		\$1,118.1200	\$2,236.24
	Dement Construction Company, LLC		\$1,000.0000	\$2,000.00
	Wright Brothers Construction Company, Inc.		\$3,300.0000	\$6,600.00
	Jones Bros. Contractors, LLC		\$350.0000	\$700.00

		Co	ONTRACT CNX358
		UNIT PRICE	EXTENSION
UTILITY CATEGORY			
793-11.25 CONCRETE HANDHOLE 4FT X 4FT X 4FT			
	3.000 EACH		
Summers-Taylor, Inc.		\$8,037.1900	\$24,111.57
Dement Construction Company, LLC		\$11,600.0000	\$34,800.00
Wright Brothers Construction Company, Inc.		\$13,175.0000	\$39,525.00
Jones Bros. Contractors, LLC		\$7,560.2800	\$22,680.84
793-13.12 1 DUCT FORMATION @ 36IN DEPTH			
	430.000 L.F.		
Summers-Taylor, Inc.		\$21.9200	\$9,425.60
Dement Construction Company, LLC		\$25.0000	\$10,750.00
Wright Brothers Construction Company, Inc.		\$28.4000	\$12,212.00
Jones Bros. Contractors, LLC		\$20.6200	\$8,866.60
793-13.51DUCT FORMATION @IN DEPTH			
	535.000 L.F.		
Summers-Taylor, Inc.		\$142.8700	\$76,435.45
Dement Construction Company, LLC		\$200.0000	\$107,000.00
Wright Brothers Construction Company, Inc.		\$227.0000	\$121,445.00
Jones Bros. Contractors, LLC		\$134.3800	\$71,893.30
793-14.02 CONCRETE ENCASEMENT PER DUCT			
	4,280.000 L.F.		
Summers-Taylor, Inc.		\$8.9400	\$38,263.20
Dement Construction Company, LLC		\$11.0000	\$47,080.00
Wright Brothers Construction Company, Inc.		\$12.5000	\$53,500.00
Jones Bros. Contractors, LLC		\$12.1400	\$51,959.20
793-14.03 MH PRECAST 6-FT W X 12-FT L X 7-FT H			
	2.000 EACH		
Summers-Taylor, Inc.		\$34,001.7000	\$68,003.40
Dement Construction Company, LLC		\$60,000.0000	\$120,000.00
Wright Brothers Construction Company, Inc.		\$68,000.0000	\$136,000.00
Jones Bros. Contractors, LLC		\$26,207.9600	\$52,415.92
793-14.07 MH PRECAST (DESCRIPTION)			
	1.000 EACH		
Summers-Taylor, Inc.		\$27,861.2000	\$27,861.20
Dement Construction Company, LLC		\$85,000.0000	\$85,000.00
Wright Brothers Construction Company, Inc.		\$96,000.0000	\$96,000.00
Jones Bros. Contractors, LLC		\$26,207.9600	\$26,207.96
793-14.12 1 1/4IN INNERDUCT			
	3,140.000 L.F.		
Summers-Taylor, Inc.		\$11.0500	\$34,697.00
Dement Construction Company, LLC Wright Brothers Construction Company, Inc.		\$9.0000 \$10.2000	\$28,260.00 \$32,028,00
WHOLE DIDIDERS CONSTITUTION COMPANY INC		35 TEL 201010	あるえ ロンメ ロロ

Wright Brothers Construction Company, Inc.

Jones Bros. Contractors, LLC

\$32,028.00 \$34,037.60

\$10.2000

\$10.8400

			CONTRACT	CNX358
		UNIT PR	RICE EXTE	ENSION
793-16.04	DIRECTIONAL BORE 4IN/FLEX SLEEVE			
		920.000 L.F.		
	Summers-Taylor, Inc.	\$72.2	200 \$66,	442.40
	Dement Construction Company, LLC	\$66.0	000 \$60,	720.00
	Wright Brothers Construction Company, Inc.	\$75.0	000 \$69,	00.00
	Jones Bros. Contractors, LLC	\$67.9	400 \$62,	504.80
793-16.16	BORE/JACK 24IN CASING - ROCK			
		250.000 L.F.		
	Summers-Taylor, Inc.	\$1,790.1	700 \$447,	542.50
	Dement Construction Company, LLC	\$1,870.0	000 \$467,	500.00

\$2,125.0000

\$2,500.0000

\$531,250.00

\$625,000.00

Wright Brothers Construction Company, Inc.

Jones Bros. Contractors, LLC

# **SUB-TOTAL ROADWAY**

Summers-Taylor, Inc.	\$58,114,100.92
Dement Construction Company, LLC	\$63,128,473.59
Wright Brothers Construction Company, Inc.	\$63,154,569.95
Jones Bros. Contractors, LLC	\$69,233,637.56

# SUB-TOTAL BRIDGE

Summers-Taylor, Inc.	\$24,117,724.63
Dement Construction Company, LLC	\$24,095,796.95
Wright Brothers Construction Company, Inc.	\$25,571,159.85
Jones Bros. Contractors, LLC	\$37,434,757.57

# **SUB-TOTAL UTILITY**

Summers-Taylor, Inc.	\$792,782.32
Dement Construction Company, LLC	\$961,110.00
Wright Brothers Construction Company, Inc.	\$1,090,960.00
Jones Bros. Contractors, LLC	\$955,566.22

# **TOTAL CONTRACT**

Summers-Taylor, Inc.	\$83,024,607.87
Dement Construction Company, LLC	\$88,185,380.54
Wright Brothers Construction Company, Inc.	\$89,816,689.80
Jones Bros. Contractors, LLC	\$107,623,961.35

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

## HAMILTON COUNTY (Contract No. CNX343 Call 028)

STP-SIP-2(284),33012-3214-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON U.S. 11 (S.R. 2) FROM THE I-75S RAMPS (L.M. 20.54) TO RELOCATION WAY (L.M. 20.94) IN CHATTANOOGA.

PROJECT LENGTH - 0.400 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2023

TOTAL CONTRACT

Stansell Electric Company, Inc.

\$151,434.00

NABCO Electric Company, Inc.

\$164,924.00

			CONTRACT CNX343
ROADW	AY CATEGORY	UNIT PRIC	E EXTENSION
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Stansell Electric Company, Inc.	\$2,716.000	\$2,716.00
	NABCO Electric Company, Inc.	\$6,000.000	\$6,000.00
717-01	MOBILIZATION		
		1.000 LS	
	Stansell Electric Company, Inc.	\$3,030.000	\$3,030.00
	NABCO Electric Company, Inc.	\$5,500.000	\$5,500.00
730-13.14	VEHICLE DETECTOR (360-DEGREE CAMERA)		
		4.000 EACH	

\$36,422.0000 \$38,356.0000 \$145,688.00 \$153,424.00

Stansell Electric Company, Inc. NABCO Electric Company, Inc.

Stansell Electric Company, Inc.	\$151,434.00
NABCO Electric Company, Inc.	\$164,924.00

Stansell Electric Company, Inc.	\$151,434.00
NABCO Electric Company, Inc.	\$164,924.00

#### HAMILTON COUNTY (Contract No. CNX344 Call 029)

33S111-M3-002

THE CONSTRUCTION OF TWO (2) SMALL DRAINAGE STRUCTURES ON S.R. 111 AT L.M. 1.73 AND L.M. 2.43, INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

TOTAL CONTRACT

Talley Construction Company, Inc.

\$1,944,176.66

Thomas Brothers Construction Company, Inc.

\$2,304,297.00

			CC	ONTRACT CNX344
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$11,250.0000 \$65,000.0000	\$11,250.00 \$65,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$73,260.8400 \$58,000.0000	\$73,260.84 \$58,000.00
			<del>•</del> •••••••••	+,
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
	T. II. O	1.000 LS	<b>#</b> 00.040.4000	<b>#</b> 00.040.40
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$33,343.1800 \$35,000.0000	\$33,343.18 \$35,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		540.000 C.Y.		
	Talley Construction Company, Inc.		\$138.6800	\$74,887.20
	Thomas Brothers Construction Company, Inc.		\$55.0000	\$29,700.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		665.000 TON	<b>*</b> • • • • • • • • • • • • • • • • • • •	
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$104.2600 \$60.0000	\$69,332.90 \$39,900.00
203-04	PLACING AND SPREADING TOPSOIL			
		20.000 C.Y.		
	Talley Construction Company, Inc.		\$398.8000	\$7,976.00
	Thomas Brothers Construction Company, Inc.		\$35.0000	\$700.00
203-06	WATER			
		9.000 M.G.	•	
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$37.7500 \$1,000.0000	\$339.75 \$9,000.00
203-07	FURNISHING & SPREADING TOPSOIL			
		23.000 C.Y.		
	Talley Construction Company, Inc.		\$594.6500	\$13,676.95
	Thomas Brothers Construction Company, Inc.		\$85.0000	\$1,955.00
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
	Tallace Construction C	270.000 C.Y.	4007.0000	<b>#00.070.05</b>
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$307.6000 \$650.0000	\$83,052.00 \$175,500.00
209-03.23	3 FILTER SOCK (24 INCH)			
	,	505.000 L.F.		
	T		<b>COD 4400</b>	<b>#44.007.00</b>

Talley Construction Company, Inc.

Thomas Brothers Construction Company, Inc.

\$11,837.20

\$23.4400

\$20.0000

CONTRACT	CN	X3	44
----------	----	----	----

				MIRACI CNA344
			UNIT PRICE	EXTENSION
209-05	SEDIMENT REMOVAL			
		16.000 C.Y.		
	Talley Construction Company, Inc.		\$287.6500	\$4,602.40
	Thomas Brothers Construction Company, Inc.		\$100.0000	\$1,600.00
			Ψ.00.000	ψ1,000.00
209-08.07	ROCK CHECK DAM			
		2.000 EACH		
	Talley Construction Company, Inc.		\$875.0000	\$1,750.00
	Thomas Brothers Construction Company, Inc.		\$15,000.0000	\$30,000.00
209-08.08	ENHANCED ROCK CHECK DAM			
200 00.00		4 000 EACH		
	T. II. O	4.000 EACH	<b>#4.400.0000</b>	<b>0.4.7</b> 00.00
	Talley Construction Company, Inc.		\$1,190.0000	\$4,760.00
	Thomas Brothers Construction Company, Inc.		\$2,500.0000	\$10,000.00
209-09.01	SANDBAGS			
		100.000 BAG		
	Talley Construction Company, Inc.	1001000 2110	\$13.4000	\$1,340.00
	Thomas Brothers Construction Company, Inc.		\$100.0000	\$10,000.00
	, , , , , , , , , , , , , , , , , , ,		¥	<b>*</b> ,
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
		5.000 EACH		
	Talley Construction Company, Inc.		\$402.5000	\$2,012.50
	Thomas Brothers Construction Company, Inc.		\$600.0000	\$3,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
000 01	minterne Accitecate, The Abace, Grabine b	415.000 TON		
	Talley Construction Company, Inc.	410.000 1014	\$105.5900	\$43,819.85
	Thomas Brothers Construction Company, Inc.		\$65.0000	\$26,975.00
	Themae Brothers Constitution Company, me.		φου.σσσ	Ψ20,010.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	S A		
		150.000 TON		
	Talley Construction Company, Inc.		\$371.0000	\$55,650.00
	Thomas Brothers Construction Company, Inc.		\$400.0000	\$60,000.00
307-02 08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	2 R-M2		
307-02.00	ASI HALI CONCRETE MIX (1 070-22) (DI MID-HM) GRADINO	50.000 TON		
	Talley Construction Company Inc	50.000 TON	\$40E 0000	<b>\$24.750.00</b>
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$495.0000 \$550.0000	\$24,750.00 \$27,500.00
	monias Brothers Construction Company, Inc.		φ330.0000	φ27,500.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		0.800 TON		
	Talley Construction Company, Inc.	0.000 1.011	\$3,000.0000	\$2,400.00
	Thomas Brothers Construction Company, Inc.		\$4,000.0000	\$3,200.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		3.000 TON		
	Talley Construction Company, Inc.		\$240.0000	\$720.00
	Thomas Brothers Construction Company, Inc.		\$250.0000	\$750.00

			Co	ONTRACT CNX344
			UNIT PRICE	EXTENSION
400.04	DITUMNOUS MATERIAL FOR TACK COAT (TO)			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	2.400 TON		
	Talley Construction Company, Inc.	2.400 TON	\$1,100.0000	\$2,640.00
	Thomas Brothers Construction Company, Inc.		\$2,000.0000	\$4,800.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT	332.000 L.F.		
	Talley Construction Company, Inc.	332.000 L.F.	\$10.0000	\$3,320.00
	Thomas Brothers Construction Company, Inc.		\$40.0000	\$13,280.00
	, ,			
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		12.000 TON	<b>.</b>	
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$500.0000 \$600.0000	\$6,000.00 \$7,200.00
	monas biothers construction company, inc.		ψουσ.σσσσ	ψ1,200.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		180.000 TON		
	Talley Construction Company, Inc.		\$465.0000	\$83,700.00
	Thomas Brothers Construction Company, Inc.		\$550.0000	\$99,000.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	,	160.000 TON		
	Talley Construction Company, Inc.		\$400.0000	\$64,000.00
	Thomas Brothers Construction Company, Inc.		\$550.0000	\$88,000.00
415-01 01	COLD PLANING BITUMINOUS PAVEMENT			
410 01.01	GOEST EARTHOUGH AVEINERT	310.000 TON		
	Talley Construction Company, Inc.		\$58.0000	\$17,980.00
	Thomas Brothers Construction Company, Inc.		\$75.0000	\$23,250.00
	40# CONCRETE PIPE CHI VERT (OLASO III)			
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)	6.000 L.F.		
	Talley Construction Company, Inc.	0.000 L.F.	\$1,157.7700	\$6,946.62
	Thomas Brothers Construction Company, Inc.		\$300.0000	\$1,800.00
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)			
	Tallan Caratanatian Cananana Ina	10.000 L.F.	Φ4 000 0 <b>7</b> 00	¢40,000,70
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$1,296.9700 \$750.0000	\$12,969.70 \$7,500.00
	monido Brothoro Conocidos Company, mo.		ψι σσ.σσσσ	ψτ,000.00
607-07.02	36" CONCRETE PIPE CULVERT (CLASS III)			
		134.000 L.F.		
	Talley Construction Company, Inc.		\$718.8900	\$96,331.26
	Thomas Brothers Construction Company, Inc.		\$950.0000	\$127,300.00
607-08.02	42" CONCRETE PIPE CULVERT (CLASS III)			
		153.000 L.F.		
	Talley Construction Company, Inc.		\$766.2700	\$117,239.31
	Thomas Brothers Construction Company, Inc.		\$1,200.0000	\$183,600.00

			UNIT PRICE	EXTENSION
			UNIT PRICE	EXTENSION
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
	Talley Construction Company, Inc.	7.000 C.Y.	\$3,097.8100	\$21,684.67
	Thomas Brothers Construction Company, Inc.		\$2,000.0000	\$14,000.00
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)	260.000 LB.		
	Talley Construction Company, Inc.	200.000 LB.	\$6.2500	\$1,625.00
	Thomas Brothers Construction Company, Inc.		\$30.0000	\$7,800.00
611-43.02	CATCH BASINS, TYPE 43, > 4' - 8' DEPTH			
	, , , , , , , , , , , , , , , , , , , ,	2.000 EACH		
	Talley Construction Company, Inc.		\$15,427.9300	\$30,855.86
	Thomas Brothers Construction Company, Inc.		\$21,000.0000	\$42,000.00
611-43.03	CATCH BASINS, TYPE 43, > 8' - 12' DEPTH			
		1.000 EACH		
	Talley Construction Company, Inc.		\$18,312.2800	\$18,312.28
	Thomas Brothers Construction Company, Inc.		\$28,000.0000	\$28,000.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		4.000 EACH		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$187.5000 \$250.0000	\$750.00 \$1,000.00
	Thomas Brothers Construction Company, inc.		Ψ200.0000	ψ1,000.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	Tallou Construction Common Inc	100.000 L.F.	¢47.5000	¢4.750.00
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$47.5000 \$60.0000	\$4,750.00 \$6,000.00
706-01	GUARDRAIL REMOVED	240.000 L.F.		
	Talley Construction Company, Inc.	240.000 L.I .	\$3.1300	\$751.20
	Thomas Brothers Construction Company, Inc.		\$6.0000	\$1,440.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	,	200.000 TON		
	Talley Construction Company, Inc.		\$101.0200	\$20,204.00
	Thomas Brothers Construction Company, Inc.		\$75.0000	\$15,000.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		100.000 TON		
	Talley Construction Company, Inc.		\$101.0200	\$10,102.00
	Thomas Brothers Construction Company, Inc.		\$75.0000	\$7,500.00
709-05.08	MACHINED RIP-RAP (CLASS B)			

130.000 TON

Talley Construction Company, Inc.

Thomas Brothers Construction Company, Inc.

\$13,457.60

\$9,750.00

\$103.5200

\$75.0000

CONTRACT	CNX344
CONTRACT	[ N X 3/1/1

				NIRACI CNX344
			UNIT PRICE	EXTENSION
711-05.01	REMOVAL & DISPOSAL OF CONCRETE MEDIAN BARRIE	R		
		60.000 L.F.		
	Talley Construction Company, Inc.		\$355.1700	\$21,310.20
	Thomas Brothers Construction Company, Inc.		\$700.0000	\$42,000.00
711-05.70	32IN SINGLE SLOPE CONCRETE BARRIER WALL			
		60.000 L.F.		
	Talley Construction Company, Inc.		\$656.2500	\$39,375.00
	Thomas Brothers Construction Company, Inc.		\$1,200.0000	\$72,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Talley Construction Company, Inc.		\$5,250.0000	\$5,250.00
	Thomas Brothers Construction Company, Inc.		\$210,000.0000	\$210,000.00
712-02.10	PORTABLE BARRIER RAIL (MASH TL-3)			
		1,920.000 L.F.		
	Talley Construction Company, Inc.		\$85.4100	\$163,987.20
	Thomas Brothers Construction Company, Inc.		\$70.0000	\$134,400.00
712-02.12	PORTABLE BARRIER RAIL, REDUCED DEFLECTION (MA	SH TL-3)		
		1,760.000 L.F.		
	Talley Construction Company, Inc.		\$111.4800	\$196,204.80
	Thomas Brothers Construction Company, Inc.		\$70.0000	\$123,200.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3	3)		
		8.000 EACH		
	Talley Construction Company, Inc.		\$9,062.5000	\$72,500.00
	Thomas Brothers Construction Company, Inc.		\$10,000.0000	\$80,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		476.000 EACH		
	Talley Construction Company, Inc.		\$35.6300	\$16,959.88
	Thomas Brothers Construction Company, Inc.		\$50.0000	\$23,800.00
712-04.50	BARRIER RAIL DELINEATOR			
		88.000 EACH		
	Talley Construction Company, Inc.		\$25.0000	\$2,200.00
	Thomas Brothers Construction Company, Inc.		\$18.0000	\$1,584.00
712-05.03	WARNING LIGHTS (TYPE C)			
		476.000 EACH		
	Talley Construction Company, Inc.		\$37.5000	\$17,850.00
	Thomas Brothers Construction Company, Inc.		\$55.0000	\$26,180.00
712-06	SIGNS (CONSTRUCTION)			
		796.000 S.F.		
	Talley Construction Company, Inc.		\$13.1300	\$10,451.48
	Thomas Brothers Construction Company, Inc.		\$10.0000	\$7,960.00

			Co	ONTRACT CNX344
			UNIT PRICE	EXTENSION
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$1,437.5000 \$2,000.0000	\$5,750.00 \$8,000.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$8,437.5000 \$7,500.0000	\$16,875.00 \$15,000.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)		
		8.000 EACH		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$281.2500 \$300.0000	\$2,250.00 \$2,400.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		8.000 EACH		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$125.0000 \$111.0000	\$1,000.00 \$888.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		4.000 L.M.		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$1,875.0000 \$2,000.0000	\$7,500.00 \$8,000.00
716-05.49	PAINTED PAVEMENT MARKINGS(8" LINE)			
		8.000 L.M.		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$3,125.0000 \$3,000.0000	\$25,000.00 \$24,000.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		52,190.000 L.F.		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$1.2500 \$1.5000	\$65,237.50 \$78,285.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		4.000 L.M.		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$9,375.0000 \$8,500.0000	\$37,500.00 \$34,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$172,486.2300 \$110,000.0000	\$172,486.23 \$110,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		344.000 S.Y.		
	Talley Construction Company, Inc. Thomas Brothers Construction Company, Inc.		\$4.6500 \$10.0000	\$1,599.60 \$3,440.00

~~!	ITD A OT	ONIVOAA
(:()	UIRAC.I	CNX344

			UNIT PRICE	EXTENSION
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		330.000 S.Y.		
	Talley Construction Company, Inc.		\$6.8300	\$2,253.90
	Thomas Brothers Construction Company, Inc.		\$12.0000	\$3,960.00
801-03	WATER (SEEDING & SODDING)			
		2.600 M.G.		
	Talley Construction Company, Inc.		\$375.0000	\$975.00
	Thomas Brothers Construction Company, Inc.		\$500.0000	\$1,300.00
803-01	SODDING (NEW SOD)			
		260.000 S.Y.		
	Talley Construction Company, Inc.		\$20.3100	\$5,280.60
	Thomas Brothers Construction Company, Inc.		\$30.0000	\$7,800.00

Talley Construction Company, Inc.	\$1,944,176.66
Thomas Brothers Construction Company, Inc.	\$2,304,297.00

Talley Construction Company, Inc.	\$1,944,176.66
Thomas Brothers Construction Company, Inc.	\$2,304,297.00

COUNTIES HANCOCK, HAWKINS, JOHNSON, AND SULLIVAN (Contract No. CNX323 Call 030)

HSIP-REG1(213),R1SVAR-F3-028

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 7.00%

TOTAL CONTRACT

Southern Constructors, Inc.

\$761,710.00

ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Southern Constructors, Inc.	1.000 LS	\$50,000.0000	\$50,000.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
	Southern Constructors, Inc.	334.000 S.Y.	\$20.0000	\$6,680.00
202-08.15	REMOVAL OF CURB AND GUTTER (DESCRIPTION)	951.000 L.F.		
	Southern Constructors, Inc.	331.000 L.I .	\$15.0000	\$14,265.00
203-07	FURNISHING & SPREADING TOPSOIL	154.000 C.Y.		
	Southern Constructors, Inc.		\$65.0000	\$10,010.00
701-01.01	CONCRETE SIDEWALK (4 ")	2,831.000 S.F.		
	Southern Constructors, Inc.		\$30.0000	\$84,930.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	6,310.000 S.F.		
	Southern Constructors, Inc.		\$45.0000	\$283,950.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)	231.000 S.F.		
	Southern Constructors, Inc.		\$45.0000	\$10,395.00
702-03	CONCRETE COMBINED CURB & GUTTER	70.000 C.Y.		<b>^</b>
712-01	Southern Constructors, Inc.  TRAFFIC CONTROL		\$1,100.0000	\$77,000.00
712-01	Southern Constructors, Inc.	1.000 LS	\$130,000.0000	\$130,000.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)		φ130,000.0000	\$130,000.00
	Southern Constructors, Inc.	105.000 L.F.	\$60.0000	\$6,300.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		φοσ.σσσσ	ψο,σσοίσο
	Southern Constructors, Inc.	148.000 L.F.	\$80.0000	\$11,840.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WAI	LK)		
	Southern Constructors, Inc.	309.000 L.F.	\$120.0000	\$37,080.00

				CONTRACT CNX323
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION	1.000 LS		
	Southern Constructors, Inc.	1.000 E3	\$37,500.0000	\$37,500.00
801-01	SEEDING (WITH MULCH)			
		16.000 UNIT		

Southern Constructors, Inc.

\$110.0000

\$1,760.00

Southern Constructors, Inc. \$761,710.00

#### **TOTAL CONTRACT**

Southern Constructors, Inc. \$761,710.00

#### HENDERSON COUNTY (Contract No. CNX322 Call 031)

HSIP-3900(30),39945-3493-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

TOTAL CONTRACT

LU, Inc.\$198,282.59Superior Traffic Control, LLC\$211,646.97Volunteer Paving, LLC\$211,725.40

	CONTINACT	OHAGE
UNIT PRICE	EXTE	ENSION

ROADWAY CATEGORY	UNIT PRICE	EXTENSION
NONDIAN GAILEGAN		
705-04.24 GUARDRAIL END TERMINAL DELINEATION SHEETING		
705-04.24 GUARDRAIL END TERMINAL DELINEATION SHEETING	23.000 S.F.	
LU, Inc.	\$38.2000 \$38.2000	\$878.60
Superior Traffic Control, LLC	\$35.0000	\$805.00
Volunteer Paving, LLC	\$40.1100	\$922.53
712-01 TRAFFIC CONTROL		
	1.000 LS	
LU, Inc.	\$7,100.0000	\$7,100.00
Superior Traffic Control, LLC	\$10,200.0000	\$10,200.00
Volunteer Paving, LLC	\$5,000.0000	\$5,000.00
740 40 00 TEMPORARY TRANSVERSE RUMBUE STRIPS		
712-10.02 TEMPORARY TRANSVERSE RUMBLE STRIPS	400 000 1 5	
	100.000 L.F.	<b>#0.004.00</b>
LU, Inc. Superior Traffic Control, LLC	\$28.2100 \$28.0000	\$2,821.00 \$2,800.00
Volunteer Paving, LLC	\$20.000	\$2,000.00
volunteer raving, 220	Ψ20.0000	Ψ2,000.00
713-02.20 ROADSIDE OBSTACLE DELINEATION		
	3.140 S.F.	
LU, Inc.	\$30.5600	\$95.96
Superior Traffic Control, LLC	\$28.0000	\$87.92
Volunteer Paving, LLC	\$32.0900	\$100.76
TAR OR CALE OLON DOOT DELINEATION ENLIANGEMENT		
713-02.21 SIGN POST DELINEATION ENHANCEMENT	4 000 000 1 5	
	1,308.000 L.F.	<b>CO 224 40</b>
LU, Inc. Superior Traffic Control, LLC	\$7.0600 \$5.7500	\$9,234.48 \$7,521.00
Volunteer Paving, LLC	\$3.7300 \$7.4100	\$9,692.28
volunteer raving, LEO	Ψ7.4100	ψ3,032.20
713-02.34 DELINEATORS (ALL)		
	36.000 EACH	
LU, Inc.	\$59.9400	\$2,157.84
Superior Traffic Control, LLC	\$50.0000	\$1,800.00
Volunteer Paving, LLC	\$62.9300	\$2,265.48
713-11.01 "U" SECTION STEEL POSTS		
	2,676.000 LB.	<b>0.17</b> 0.00 4.4
LU, Inc. Superior Traffic Control, LLC	\$6.6900 \$5.8500	\$17,902.44 \$15,654.60
Volunteer Paving, LLC	\$5.8500 \$7.0200	\$15,654.60 \$18,785.52
Volunteer Faving, LLO	Ψ1.0200	ψ10,703.32
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
	4,900.000 LB.	
LU, Inc.	\$7.9100	\$38,759.00
Superior Traffic Control, LLC	\$5.9500	\$29,155.00
Volunteer Paving, LLC	\$8.3100	\$40,719.00

	UNIT PRICE	EXTENSION
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
1,491.000 S.F.		
LU, Inc.	\$14.9800	\$22,335.18
Superior Traffic Control, LLC	\$16.5000	\$24,601.50
Volunteer Paving, LLC	\$15.7200	\$23,438.52
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
898.000 S.F.		
LU, Inc.	\$16.1500	\$14,502.70
Superior Traffic Control, LLC	\$18.5000	\$16,613.00
Volunteer Paving, LLC	\$16.9600	\$15,230.08
713-13.14 FLORESCENT YELLOW SIGN SHEETING		
1,801.000 S.F.		
LU, Inc.	\$7.9300	\$14,281.93
Superior Traffic Control, LLC	\$5.5000	\$9,905.50
Volunteer Paving, LLC	\$8.3200	\$14,984.32
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
5.000 EACH		
LU, Inc.	\$59.9400	\$299.70
Superior Traffic Control, LLC	\$30.0000	\$150.00
Volunteer Paving, LLC	\$62.9300	\$314.65
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
331.000 S.Y.		
LU, Inc.	\$25.1900	\$8,337.89
Superior Traffic Control, LLC	\$25.0000	\$8,275.00
Volunteer Paving, LLC	\$25.0000	\$8,275.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
247.000 L.F.		
LU, Inc.	\$15.1100	\$3,732.17
Superior Traffic Control, LLC	\$15.0000	\$3,705.00
Volunteer Paving, LLC	\$25.0000	\$6,175.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
20.000 L.F.		
LU, Inc.	\$50.3800	\$1,007.60
Superior Traffic Control, LLC	\$50.0000	\$1,000.00
Volunteer Paving, LLC	\$35.0000	\$700.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
1.000 EACH		
LU, Inc.	\$755.6300	\$755.63
Superior Traffic Control, LLC	\$750.0000	\$750.00
Volunteer Paving, LLC	\$625.0000	\$625.00

		CONTRACT CNX322
	UNIT PRICE	EXTENSION
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
	20.000 S.F.	
LU, Inc.	\$30.2300	\$604.60
Superior Traffic Control, LLC	\$30.0000	\$600.00
Volunteer Paving, LLC	\$6.0000	\$120.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	29.970 L.M.	
LU, Inc.	\$891.6400	\$26,722.45
Superior Traffic Control, LLC	\$885.0000	\$26,523.45
Volunteer Paving, LLC	\$900.0000	\$26,973.00
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)		
	184.000 L.F.	
LU, Inc.	\$14.1100	\$2,596.24
Superior Traffic Control, LLC	\$14.0000	\$2,576.00
Volunteer Paving, LLC	\$15.0000	\$2,760.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
	2.920 L.M.	
LU, Inc.	\$2,216.5000	\$6,472.18
Superior Traffic Control, LLC	\$2,200.0000	\$6,424.00
Volunteer Paving, LLC	\$5,500.0000	\$16,060.00
717-01 MOBILIZATION		
	1.000 LS	
LU, Inc.	\$5,700.0000	\$5,700.00
Superior Traffic Control, LLC	\$6,500.0000	\$6,500.00
Volunteer Paving, LLC	\$4,000.0000	\$4,000.00
730-50.20 RECTANGULAR RAPID FLASHING BEACON ASSEMBLY (SOLA	R POWERED)	
	2.000 EACH	
LU, Inc.	\$5,992.5000	\$11,985.00
Superior Traffic Control, LLC	\$18,000.0000	\$36,000.00
Volunteer Paving, LLC	\$6,292.1300	\$12,584.26

LU, Inc.	\$198,282.59
Superior Traffic Control, LLC	\$211,646.97
Volunteer Paving, LLC	\$211,725.40

LU, Inc.	\$198,282.59
Superior Traffic Control, LLC	\$211,646.97
Volunteer Paving, LLC	\$211,725.40

#### HICKMAN AND HUMPHREYS COUNTIES (Contract No. CNX333 Call 032)

NH-I-9900(158),99I040-F3-003

THE EXPANSION OF THE SMARTWAY INTELLIGENT TRANSPORTATION SYSTEM (ITS) ON I-40 FROM NEAR POND BOTTOM LANE IN HUMPHREYS COUNTY (MM 135) TO NEAR GARNERS CREEK ROAD IN HICKMAN COUNTY (MM 162).

PROJECT LENGTH - 26.750 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2025

DBE GOAL 4.00%

**TOTAL CONTRACT** 

Davis H. Elliot Construction Company, Inc.

\$9,410,800.00

Stansell Electric Company, Inc.

\$9,790,314.40

			CC	DIVINACI CIVASSS
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.500 E0	\$125,000.0000 \$147,500.0000	\$125,000.00 \$147,500.00
108-03	CPM PROJECT SCHEDULE			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS	\$25,000.0000 \$78,800.0000	\$25,000.00 \$78,800.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$50,000.0000 \$157,500.0000	\$50,000.00 \$157,500.00
203-07	FURNISHING & SPREADING TOPSOIL			
		7.000 C.Y.		
	Davis H. Elliot Construction Company, Inc.		\$10.0000	\$70.00
	Stansell Electric Company, Inc.		\$100.0000	\$700.00
209-05	SEDIMENT REMOVAL	70 000 O V		
	Devia H. Elliot Construction Company, Inc.	70.000 C.Y.	<b>\$5,0000</b>	¢250.00
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$5.0000 \$135.0000	\$350.00 \$9,450.00
209-09.01	SANDBAGS			
		54.000 BAG		
	Davis H. Elliot Construction Company, Inc.		\$5.0000	\$270.00
	Stansell Electric Company, Inc.		\$6.5000	\$351.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
		225.000 S.Y.		
	Davis H. Elliot Construction Company, Inc.		\$1.0000	\$225.00
	Stansell Electric Company, Inc.		\$3.5000	\$787.50
705-04.03	GUARDRAIL TERMINAL (TYPE 13)			
		3.000 EACH		
	Davis H. Elliot Construction Company, Inc.		\$1,674.0000	\$5,022.00
	Stansell Electric Company, Inc.		\$2,300.0000	\$6,900.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		1,137.500 L.F.		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$35.2000 \$50.0000	\$40,040.00 \$56,875.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Davis H. Elliot Construction Company, Inc.	0.000 =/(01)	\$3,644.0000	\$10,932.00
	Stancell Floatric Company Inc.		\$5,011.0000 \$5,000,0000	\$15,002.00 \$15,000.00

Stansell Electric Company, Inc.

\$15,000.00

\$5,000.0000

A A NITO A	<b>^</b> -	~ • • • • •	~~~
CONTRA		CNX	

				CONTRACT CNX333
			UNIT PRICE	EXTENSION
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1,700.000 L.F.	\$2.0000 \$10.5000	\$3,400.00 \$17,850.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$125,000.0000 \$320,000.0000	\$125,000.00 \$320,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,687.500 L.F.		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$78.0000 \$85.0000	\$131,625.00 \$143,437.50
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		150.000 EACH		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$65.0000 \$45.0000	\$9,750.00 \$6,750.00
712-06	SIGNS (CONSTRUCTION)			
		1,154.000 S.F.		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$14.0000 \$15.0000	\$16,156.00 \$17,310.00
712-08.03	ARROW BOARD (TYPE C)			
		3.000 EACH		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$2,500.0000 \$2,300.0000	\$7,500.00 \$6,900.00
712-08.12	QUEUE PROTECTION TRUCK			
		40.000 DAY		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$1,400.0000 \$2,085.0000	\$56,000.00 \$83,400.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		6.000 EACH		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$8,800.0000 \$10,600.0000	\$52,800.00 \$63,600.00
717-01	MOBILIZATION			
		1.000 LS		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$470,540.0000 \$594,000.0000	\$470,540.00 \$594,000.00
725-20.02	CCTV POLE & FOUNDATION (80FT POLE W/LWRNG DVICE)			
		5.000 EACH		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$88,450.0000 \$48,450.0000	\$442,250.00 \$242,250.00

				CONTRACT CNX333
			UNIT PRICE	EXTENSION
725-20.09	MAINTENANCE WORK PAD (CONCRETE PAD)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	5.000 EACH	\$1,000.0000 \$2,120.0000	\$5,000.00 \$10,600.00
725-20.23	STEEL OVERHEAD SIGN STRUCTURE (SPANS 71FT TO 90FT)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	2.000 EACH	\$175,000.0000 \$265,000.0000	\$350,000.00 \$530,000.00
725-20.43	PULL BOX (TYPE C)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	23.000 EACH	\$4,000.0000 \$2,465.0000	\$92,000.00 \$56,695.00
725-20.44	PULL BOX (TYPE D)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	170.000 EACH	\$7,500.0000 \$4,650.0000	\$1,275,000.00 \$790,500.00
725-20.45	PULL BOX (TYPE E)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	17.000 EACH	\$12,000.0000 \$6,320.0000	\$204,000.00 \$107,440.00
725-20.55	CABLE (1/C #6 AWG.)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	3,075.000 L.F.	\$0.8300 \$2.2000	\$2,552.25 \$6,765.00
725-20.56	CABLE (1/C #4 AWG.)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1,075.000 L.F.	\$1.2300 \$3.4000	\$1,322.25 \$3,655.00
725-20.57	CABLE (1/C #2 AWG.)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	2,220.000 L.F.	\$1.8800 \$4.7000	\$4,173.60 \$10,434.00
725-20.58	CABLE (1/C #1/0 AWG.)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	4,890.000 L.F.	\$2.5200 \$5.9000	\$12,322.80 \$28,851.00
725-20.71	ELECTRICAL CONNECTION			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS	\$10,000.0000 \$61,250.0000	\$10,000.00 \$61,250.00

CONTRACT	CNX333

			CC	ONTRACT CNX333
			UNIT PRICE	EXTENSION
725-20.91	CCTV CAMERA SYSTEM (PAN TILT & ZOOM)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	7.000 EACH	\$5,000.0000 \$6,200.0000	\$35,000.00 \$43,400.00
725-21.02	2 DYNAMIC MESSAGE SIGN (MULTI-COLOR)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	2.000 EACH	\$150,000.0000 \$149,000.0000	\$300,000.00 \$298,000.00
725-21.11	NETWORK SWITCH (TYPE A)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	7.000 EACH	\$15,000.0000 \$18,600.0000	\$105,000.00 \$130,200.00
725-21.18	DMS COMM CABLE			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	190.000 L.F.	\$1.0000 \$4.0000	\$190.00 \$760.00
725-21.12	NETWORK SWITCH (TYPE B)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 EACH	\$200,000.0000 \$68,700.0000	\$200,000.00 \$68,700.00
725-21.19	DMS POWER CABLE			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	190.000 L.F.	\$1.0000 \$1.0000	\$190.00 \$190.00
725-21.43	DEMARCATION SITE (OVERHEAD POWER)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	7.000 EACH	\$15,000.0000 \$12,000.0000	\$105,000.00 \$84,000.00
725-21.73	TRANSFORMER (TYPE C)			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	5.000 EACH	\$2,500.0000 \$5,600.0000	\$12,500.00 \$28,000.00
725-21.85	UNINTERRUPTIBLE POWER SUPPLY			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	7.000 EACH	\$5,000.0000 \$11,400.0000	\$35,000.00 \$79,800.00
725-21.91	RADAR DETECTION SYSTEM			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	5.000 EACH	\$7,500.0000 \$16,500.0000	\$37,500.00 \$82,500.00

100	NTRA	7CT	CN	X333
- COI	4 I I \	<b>~~</b>	$\mathbf{v}$	ハンンン

			C	UNIKACI CNASSS
			UNIT PRICE	EXTENSION
725-21.96	RDS COMM CABLE			
		125.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$1.0000	\$125.00
	Stansell Electric Company, Inc.		\$7.0000	\$875.00
725-22.22	CONDUIT BANK (TYPE 2)			
		220.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$13.0000	\$2,860.00
	Stansell Electric Company, Inc.		\$7.2000	\$1,584.00
725-22.24	CONDUIT BANK (TYPE 4)			
		56,320.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$14.5000	\$816,640.00
	Stansell Electric Company, Inc.		\$9.4000	\$529,408.00
725-22.34	CONDUIT BANK BORED (TYPE 4)			
		48,000.000 L.F.		
	Davis H. Elliot Construction Company, Inc.	•	\$17.5000	\$840,000.00
	Stansell Electric Company, Inc.		\$35.0000	\$1,680,000.00
725-22.44	CONDUIT BANK IN ROCK (TYPE 4)			
		27,935.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$29.5000	\$824,082.50
	Stansell Electric Company, Inc.		\$28.0000	\$782,180.00
725-22.50	DMS CONDUIT BANK			
		150.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$10.0000	\$1,500.00
	Stansell Electric Company, Inc.		\$50.0000	\$7,500.00
725-22.64	STRUCTURE CONDUIT BANK (TYPE 4)			
		4,050.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$169.3500	\$685,867.50
	Stansell Electric Company, Inc.		\$188.0000	\$761,400.00
725-22.74	2IN CONDUIT W/BANK			
		2,765.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$2.0500	\$5,668.25
	Stansell Electric Company, Inc.		\$6.0000	\$16,590.00
725-22.76	2IN CONDUIT STRUCTURE W/BANK			
		330.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$4.4000	\$1,452.00
	Stansell Electric Company, Inc.		\$140.0000	\$46,200.00
725-22.81	3IN CONDUIT BORED W/BANK			
		150.000 L.F.		
	Davis H. Elliot Construction Company, Inc.		\$4.4500	\$667.50
	Stansell Electric Company, Inc.		\$45.0000	\$6,750.00

CONTRACT CNX3	333
---------------	-----

				CONTRACT	CNX333
			UNIT PRICE	EXT	ENSION
725-23.01	ITS CABLE MARKER				
		1,200.000 EACH			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$250.0000 \$115.0000		,000.00
725-23.16	FIBER OPTIC CABLE (144F)				
		152,255.000 L.F.			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$3.7000 \$2.6000		,343.50 ,863.00
725-23.21	FIBER OPTIC DROP CABLE (12 F)				
		1,106.000 L.F.			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$4.2500 \$7.9000		,700.50 ,737.40
725-23.27	FIBER OPTIC CLOSURE (DESCRIPTION)				
		4.000 EACH			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$4,000.0000 \$2,060.0000		,000.00 ,240.00
725-23.28	FIBER OPTIC SPLICE FUSION				
		84.000 EACH			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$60.0000 \$250.0000		,040.00 ,000.00
725-23.31	FIBER OPTIC DROP PANEL (12 F)				
		6.000 EACH			
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$2,000.0000 \$1,660.0000		,000.00 ,960.00
725-24.02	CABINET (TYPE B)				
	Davis II Ellist Construction Common Inc	5.000 EACH	<b>\$45,000,0000</b>	<b>ሱ</b> 7 ፫	000 00
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$15,000.0000 \$6,420.0000		,000.00 ,100.00
725-24.03	CABINET (TYPE C)				
	Pavia II Elliat Construction Company Inc	2.000 EACH	\$20,000,0000	<b>¢</b> 40	000 00
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$20,000.0000 \$13,500.0000		,000.00
725-24.11	ITS COMMUNICATIONS HUB (DESCRIPTION)				
	D : 11 E11: 10	1.000 EACH	<b>\$400.077.0500</b>	<b>0</b> 400	077.05
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$400,077.3500 \$543,000.0000		,077.35 ,000.00
725-24.21	PREVENTIVE MAINTENANCE FOR SYSTEM				
	B	1.000 LS	<b>A.</b>	<b>*</b> -	000 55
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.		\$5,000.0000 \$16,500.0000		,000.00 ,500.00

			CONTRACT CNASSS
		UNIT PRICE	EXTENSION
725-24.25	UNSCHEDULED MAINTENANCE LABOR		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 HOUR \$75.0000 \$230.0000	\$75.00 \$230.00
725-24.31	SPARE PARTS		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS \$200,000.0000 \$66,150.0000	\$200,000.00 \$66,150.00
725-24.41	BURN-IN PERIOD		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS \$50,000.0000 \$33,100.0000	\$50,000.00 \$33,100.00
725-24.51	SYSTEM INTEGRATION		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS \$100,000.0000 \$166,000.0000	\$100,000.00 \$166,000.00
725-24.55	AS-BUILT PLANS		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS \$25,000.0000 \$23,750.0000	\$25,000.00 \$23,750.00
725-24.61	TRAINING		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	1.000 LS \$25,000.0000 \$17,650.0000	\$25,000.00 \$17,650.00
725-28.01	ROAD SIDE UNIT (RSU)		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	<b>2.000 EACH</b> \$20,000.0000 \$22,300.0000	\$40,000.00 \$44,600.00
730-23.31	PEDESTAL POLE (DESCRIPTION)		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	<b>2.000 EACH</b> \$3,000.0000 \$3,070.0000	\$6,000.00 \$6,140.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	<b>270.000 L.F.</b> \$3.5000 \$5.1000	\$945.00 \$1,377.00
801-01	SEEDING (WITH MULCH)		
	Davis H. Elliot Construction Company, Inc. Stansell Electric Company, Inc.	<b>35.000 UNIT</b> \$45.0000 \$65.0000	\$1,575.00 \$2,275.00

201	NTD	ACT	CNI	Vaaa
COI	NIK.	ACT	CIN	X333

UNIT PRICE EXTENSION

## 801-01.02 CROWN VETCH MIXTURE (WITH MULCH)

14.000 UNIT

Davis H. Elliot Construction Company, Inc. \$250.0000 \$3,500.00
Stansell Electric Company, Inc. \$361.0000 \$5,054.00

Davis H. Elliot Construction Company, Inc.	\$9,410,800.00
Stansell Electric Company, Inc.	\$9,790,314.40

Davis H. Elliot Construction Company, Inc.	\$9,410,800.00
Stansell Electric Company, Inc.	\$9,790,314.40

#### JACKSON COUNTY (Contract No. CNX111 Call 033)

44S085-M3-002

THE REPAIR OF THE BRIDGE ON S.R. 85 OVER INDIAN CREEK (L.M. 4.77).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2024

TOTAL CONTRACT

Thomson & Thomson, Inc.

\$1,320,538.85

Mid-State Construction Company, Inc.

\$1,397,422.92

				CONTRACT CNX111
BRIDGE	CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES	1.000 LS		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.	1.000 23	\$8,000.0000 \$15,512.6600	\$8,000.00 \$15,512.66
201-07.01	REMOVAL AND DISPOSAL OF BRUSH & TREES			
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.	1.000 LS	\$6,100.0000 \$8,475.9400	\$6,100.00 \$8,475.94
202-01.02	REMOVAL OF ASBESTOS			
		1.000 LS		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$19,750.0000 \$28,270.5500	\$19,750.00 \$28,270.55
202-04.01	REMOVAL OF STRUCTURES (BRIDGE NO. 44-SR085-4.77)			
	T	1.000 LS	<b>A</b> 404 000 0000	040400000
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$124,000.0000 \$170,700.2900	\$124,000.00 \$170,700.29
204-06.01	FLOWABLE FILL (GENERAL)			
		5.000 C.Y.	•	•
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$1,375.0000 \$2,273.2000	\$6,875.00 \$11,366.00
209-05	SEDIMENT REMOVAL			
		1.000 C.Y.	****	****
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$200.0000 \$140.2400	\$200.00 \$140.24
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	Thomson & Thomson, Inc.	795.000 L.F.	\$8.0000	\$6,360.00
	Mid-State Construction Company, Inc.		\$8.5900	\$6,829.05
209-09.04	SEDIMENT FILTER BAG(15' X 10')			
		2.000 EACH		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$1,000.0000 \$440.7000	\$2,000.00 \$881.40
209-65.04	TEMPORARY IN STREAM DIVERSION			
		91.000 L.F.		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$340.0000 \$136.5800	\$30,940.00 \$12,428.78
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		115.000 TON		
	Thomson & Thomson, Inc.		\$75.0000 \$82.0100	\$8,625.00 \$0,431.15

Mid-State Construction Company, Inc.

\$82.0100

				CONTRACT CNX111
			UNIT PRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		5.000 TON		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$112.0000 \$151.9200	\$560.00 \$759.60
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM)	) GRADING B-M2		
		34.000 TON		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$345.0000 \$648.5400	\$11,730.00 \$22,050.36
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		1.000 TON		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$2,050.0000 \$3,122.6000	\$2,050.00 \$3,122.60
411-01.10	ACS MIX(PG64-22) GRADING D			
		125.000 TON		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$380.0000 \$354.3000	\$47,500.00 \$44,287.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		1,887.000 S.Y.		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$7.2000 \$12.0100	\$13,586.40 \$22,662.87
602-10.05	BRACING REPAIRS			
		1.000 LS		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$60,890.0000 \$70,113.2700	\$60,890.00 \$70,113.27
603-02.15	REPAINT EXISTING BEARINGS			
		1.000 LS		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$8,100.0000 \$28,824.0000	\$8,100.00 \$28,824.00
604-02.03	EPOXY COATED REINFORCING STEEL			
		31,982.000 LB.		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$3.0000 \$2.4800	\$95,946.00 \$79,315.36
604-03.09	CLASS D CONCRETE (BRIDGE DECK)			
		122.000 C.Y.		_
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$1,750.0000 \$1,367.7900	\$213,500.00 \$166,870.38
604-04.01	APPLIED TEXTURE FINISH (NEW STRUCTURES)			
	T. 0.T.	539.000 S.Y.	<b>*</b> 40.000	<b>40 704 00</b>

Thomson & Thomson, Inc.

Mid-State Construction Company, Inc.

\$8,731.80

\$10,359.58

\$16.2000

\$19.2200

				CONTRACT CNX111
			UNIT PRICE	EXTENSION
604-05 31	BRIDGE DECK GROOVING (MECHANICAL)			
004-03.31	BRIDGE DECK GROOVING (MEGHANICAL)	560.000 S.Y.		
	Thomson & Thomson, Inc.	000.000 0.11.	\$3.7000	\$2,072.00
	Mid-State Construction Company, Inc.		\$20.2800	\$11,356.80
604-10.05	CONCRETE			
		25.000 S.F.		
	Thomson & Thomson, Inc.		\$854.0000	\$21,350.00
	Mid-State Construction Company, Inc.		\$669.4200	\$16,735.50
604-10.14	REMOVE EXISTING WEARING SURFACE			
		1.000 LS		
	Thomson & Thomson, Inc.		\$29,350.0000	\$29,350.00
	Mid-State Construction Company, Inc.		\$19,216.0000	\$19,216.00
604-10.30	BRIDGE DECK REPAIRS (FULL DEPTH OF SLAB)			
		5.000 S.Y.		
	Thomson & Thomson, Inc.		\$1,300.0000	\$6,500.00
	Mid-State Construction Company, Inc.		\$1,331.6000	\$6,658.00
604-10.44	EXPANSION JOINT REPAIRS			
		61.000 L.F.		
	Thomson & Thomson, Inc.		\$112.0000	\$6,832.00
	Mid-State Construction Company, Inc.		\$223.9200	\$13,659.12
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
		5.000 S.Y.		
	Thomson & Thomson, Inc.		\$1,100.0000	\$5,500.00
	Mid-State Construction Company, Inc.		\$755.2500	\$3,776.25
604-10.51	SCARIFYING			
		528.000 S.Y.		
	Thomson & Thomson, Inc.		\$5.1000	\$2,692.80
	Mid-State Construction Company, Inc.		\$42.0400	\$22,197.12

	Thomson & Thomson, Inc.	3.000 3.1.	\$1,300.0000 \$1,331.6000	\$6,500.00 \$6,658.00
	Mid-State Construction Company, Inc.		\$1,331.0000	ф0,000.00
604-10.44	EXPANSION JOINT REPAIRS	61.000 L.F.		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$112.0000 \$223.9200	\$6,832.00 \$13,659.12
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.	5.000 S.Y.	\$1,100.0000 \$755.2500	\$5,500.00 \$3,776.25
604-10.51	SCARIFYING			
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.	528.000 S.Y.	\$5.1000 \$42.0400	\$2,692.80 \$22,197.12
604-10.54	CONCRETE REPAIRS			
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.	8.000 S.F.	\$700.0000 \$669.4600	\$5,600.00 \$5,355.68
604-10.58	EPOXY INJECTION (INJECTION)			
	Thomson & Thomson, Inc.	1.000 GAL.	\$600.0000	\$600.00
	Mid-State Construction Company, Inc.		\$156.1300	\$156.13
604-10.62	EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
		2.000 L.F.		
	Thomson & Thomson, Inc. Mid-State Construction Company, Inc.		\$1,090.0000 \$2,041.7000	\$2,180.00 \$4,083.40
				5405

CONTRACT	<b>CNX111</b>
----------	---------------

			CO	NIRACI CNX111
			UNIT PRICE	EXTENSION
617-02	BRIDGE DECK CRACK SEALING			
		194.000 L.F.		
	Thomson & Thomson, Inc.		\$3.9000	\$756.60
	Mid-State Construction Company, Inc.		\$8.3400	\$1,617.96
617-05	SEALANT (HMWM)			
011 00		2.000 GAL.		
	Thomson & Thomson, Inc.		\$400.0000	\$800.00
	Mid-State Construction Company, Inc.		\$460.6900	\$921.38
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
	, ,	388.000 L.F.		
	Thomson & Thomson, Inc.	000.000 =	\$230.0000	\$89,240.00
	Mid-State Construction Company, Inc.		\$194.9100	\$75,625.08
	a Cialo Conoaoo Conpay,o.		<b>\$10.10.00</b>	ψ. 0,020.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		2.000 EACH		
	Thomson & Thomson, Inc.		\$253.0000	\$506.00
	Mid-State Construction Company, Inc.		\$180.1500	\$360.30
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH		
	Thomson & Thomson, Inc.	2.000 27.011	\$1,266.0000	\$2,532.00
	Mid-State Construction Company, Inc.		\$1,501.2500	\$3,002.50
	, , , , , , , , , , , , , , , , , , ,		,,==	***
705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		13.000 EACH		
	Thomson & Thomson, Inc.		\$20.2500	\$263.25
	Mid-State Construction Company, Inc.		\$30.0300	\$390.39
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		62.500 L.F.		
	Thomson & Thomson, Inc.		\$55.7000	\$3,481.25
	Mid-State Construction Company, Inc.		\$57.6500	\$3,603.13
705-06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
. 00 00.20	7,1102.11 2.12.10 7,200.12.110 12.111 117.101 12.0	2.000 EACH		
	Thomson & Thomson, Inc.	2.000 EACH	\$5,060.0000	\$10,120.00
	Mid-State Construction Company, Inc.		\$4,203.5000	\$8,407.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		4.000 EACH		
	Thomson & Thomson, Inc.		\$5,060.0000	\$20,240.00
	Mid-State Construction Company, Inc.		\$3,603.0000	\$14,412.00
706-01	GUARDRAIL REMOVED			
		294.000 L.F.		
	Thomson & Thomson, Inc.		\$5.1000	\$1,499.40
	Mid-State Construction Company, Inc.		\$2.4000	\$705.60

				CONTRACT CNX111
			UNIT PRICE	EXTENSION
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		810.000 L.F.		
	Thomson & Thomson, Inc.		\$1.7500	\$1,417.50
	Mid-State Construction Company, Inc.		\$4.7600	\$3,855.60
709-10.01	GABIONS (BASKETS FOR UNDERMINING)			
		21.000 C.Y.		
	Thomson & Thomson, Inc.		\$660.0000	\$13,860.00
	Mid-State Construction Company, Inc.		\$861.1700	\$18,084.57
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Thomson & Thomson, Inc.		\$15,000.0000	\$15,000.00
	Mid-State Construction Company, Inc.		\$74,581.1400	\$74,581.14
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		180.000 L.F.		
	Thomson & Thomson, Inc.		\$50.0000 \$57.7100	\$9,000.00
	Mid-State Construction Company, Inc.		\$57.7100	\$10,387.80
712-02.47	BRIDGE MOUNTED INTERCONNECTED PORTABLE	LE BARRIER RAIL		
		240.000 L.F.		
	Thomson & Thomson, Inc.		\$98.0000	\$23,520.00
	Mid-State Construction Company, Inc.		\$106.9500	\$25,668.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MA	ASH TL-3)		
		4.000 EACH		
	Thomson & Thomson, Inc.		\$4,575.0000	\$18,300.00
	Mid-State Construction Company, Inc.		\$8,407.0000	\$33,628.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		19.000 EACH		
	Thomson & Thomson, Inc.  Mid-State Construction Company, Inc.		\$28.3500 \$33.6300	\$538.65 \$638.97
	mid-state Construction Company, inc.		φ33.6300	φοσο.97
712-05.01	WARNING LIGHTS (TYPE A)			
		19.000 EACH		
	Thomson & Thomson, Inc.		\$18.2500	\$346.75
	Mid-State Construction Company, Inc.		\$21.6200	\$410.78
712-06	SIGNS (CONSTRUCTION)			
		1,409.000 S.F.		
	Thomson & Thomson, Inc.		\$7.8500 \$10.5100	\$11,060.65 \$14,808.50
	Mid-State Construction Company, Inc.		\$10.5100	\$14,808.59

10.000 L.F.

712-07.03 TEMPORARY BARRICADES (TYPE III)

Thomson & Thomson, Inc.

Mid-State Construction Company, Inc.

\$152.00

\$180.20

\$15.2000

\$18.0200

			CC	MIRACI CNAII
			UNIT PRICE	EXTENSION
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE	Ε)		
		1,590.000 L.F.		
	Thomson & Thomson, Inc.		\$4.8000	\$7,632.00
	Mid-State Construction Company, Inc.		\$5.7000	\$9,063.00
742.00.04	DEMOVADI E DAVEMENT MADIZING (CTOD LINE)			
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)	24.000 L.F.		
	Thomson 9 Thomson Inc	2 11000 Em 1	\$20.2500	\$486.00
	Thomson & Thomson, Inc.		· ·	
	Mid-State Construction Company, Inc.		\$24.0200	\$576.48
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		9.000 EACH		
	Thomson & Thomson, Inc.		\$5,060.0000	\$45,540.00
	Mid-State Construction Company, Inc.		\$6,005.0000	\$54,045.00
	wild state solida addon company, me.		ψο,σσο.σσσσ	ψο 1,0 10.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-	·DIR) (1 COLOR)		
		12.000 EACH		
	Thomson & Thomson, Inc.		\$202.0000	\$2,424.00
	Mid-State Construction Company, Inc.		\$240.2000	\$2,882.40
	The Control Co		Ψ= :0:=000	Ψ=,00=::0
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKE	≣R		
		12.000 EACH		
	Thomson & Thomson, Inc.		\$25.3000	\$303.60
	Mid-State Construction Company, Inc.		\$30.0300	\$360.36
	. ,		·	·
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		24.000 L.F.		
	Thomson & Thomson, Inc.		\$25.3000	\$607.20
	Mid-State Construction Company, Inc.		\$30.0300	\$720.72
746 40 00	ENHANCED ELATINE THERMO DVMT MRIANC (CIN L	INE.		
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN L			
		0.680 L.M.		
	Thomson & Thomson, Inc.		\$8,600.0000	\$5,848.00
	Mid-State Construction Company, Inc.		\$10,208.5000	\$6,941.78
717-01	MOBILIZATION			
		1.000 LS		
	Thomson & Thomson, Inc.	1.000 20	\$235,000.0000	\$235,000.00
	Mid-State Construction Company, Inc.		\$135,526.4300	\$135,526.43
	mid-state Construction Company, inc.		φ133,320.4300	φ135,526.43
730-40.02	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 LS		
	Thomson & Thomson, Inc.		\$40,000.0000	\$40,000.00
	Mid-State Construction Company, Inc.		\$79,458.0500	\$79,458.05
	mid-state construction company, mc.		ψ1 <del>3</del> , <del>4</del> 30.0300	Ψ19,430.03
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		67.000 S.Y.		
	Thomson & Thomson, Inc.		\$29.0000	\$1,943.00
	Mid-State Construction Company, Inc.		\$14.3900	\$964.13
			ψσσσσ	<b>450</b> 11.10

## **SUB-TOTAL BRIDGE**

Thomson & Thomson, Inc.	\$1,320,538.85
Mid-State Construction Company, Inc.	\$1,397,422.92

## **TOTAL CONTRACT**

Thomson & Thomson, Inc.	\$1,320,538.85
Mid-State Construction Company, Inc.	\$1,397,422.92

#### LAWRENCE COUNTY (Contract No. CNX319 Call 034)

50951-3571-04

THE GRADING, DRAINAGE, PAVING, CONSTRUCTION OF A CONCRETE BULB-TEE BEAM BRIDGE AND BOX BRIDGE ON A S.I.A. ROUTE SERVING MOTIVATION DRIVE.

PROJECT LENGTH - 0.748 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2025

TOTAL	CONTRACT
10176	

Dement Construction Company, LLC \$7,696,795.82
Bell & Associates Construction, LLC \$8,144,094.51
Jones Bros. Contractors, LLC \$8,274,030.36

UNIT PRICE	EXTENSION

_	$\sim$			A 1	.,	$\sim$	A -	ΓΕ	$\sim$	^	$\mathbf{a}$	₹.	•
н		Δ	 w	Δ	v		Δ			( )	ĸ	·v	•

ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Dement Construction Company, LLC		\$50,000.0000	\$50,000.00
	Bell & Associates Construction, LLC		\$43,138.8800	\$43,138.88
	Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Dement Construction Company, LLC		\$384,000.0000	\$384,000.00
	Bell & Associates Construction, LLC		\$152,747.0300	\$152,747.03
	Jones Bros. Contractors, LLC		\$165,000.0000	\$165,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	,	59,267.000 C.Y.		
	Dement Construction Company, LLC	•	\$12.0000	\$711,204.00
	Bell & Associates Construction, LLC		\$12.9400	\$766,914.98
	Jones Bros. Contractors, LLC		\$14.0000	\$829,738.00
202 02 04	BORROW EXCAVATION (GRADED SOLID ROCK)			
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)	29 200 000 TON		
	Domont Construction Company LLC	28,300.000 TON	\$27.5000	¢779 250 00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$27.5000 \$29.6600	\$778,250.00 \$839,378.00
	Jones Bros. Contractors, LLC		\$33.0000	\$933,900.00
	Solids Bros. Contractors, ELO		φοσ.σσσσ	ψ303,300.00
203-04	PLACING AND SPREADING TOPSOIL			
		3,241.000 C.Y.		
	Dement Construction Company, LLC		\$16.0000	\$51,856.00
	Bell & Associates Construction, LLC		\$17.2600	\$55,939.66
	Jones Bros. Contractors, LLC		\$12.0000	\$38,892.00
203-06	WATER			
		169.000 M.G.		
	Dement Construction Company, LLC		\$20.0000	\$3,380.00
	Bell & Associates Construction, LLC		\$53.9200	\$9,112.48
	Jones Bros. Contractors, LLC		\$25.0000	\$4,225.00
203-50	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Dement Construction Company, LLC		\$300,000.0000	\$300,000.00
	Bell & Associates Construction, LLC		\$316,626.7400	\$316,626.74
	Jones Bros. Contractors, LLC		\$100,000.0000	\$100,000.00
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		5.000 C.Y.		
	Dement Construction Company, LLC		\$600.0000	\$3,000.00
	Bell & Associates Construction, LLC		\$787.2800	\$3,936.40
	Jones Bros. Contractors, LLC		\$290.0000	\$1,450.00

			UNIT PRICE	EXTENSION
209-01.31	TEMPORARY MULCH FILTER BERM			
		111.000 C.Y.		
	Dement Construction Company, LLC		\$100.0000	\$11,100.00
	Bell & Associates Construction, LLC		\$8.2300	\$913.53
	Jones Bros. Contractors, LLC		\$27.0000	\$2,997.00
209-02.07	18" TEMPORARY SLOPE DRAIN			
		118.000 L.F.		
	Dement Construction Company, LLC		\$29.0000	\$3,422.00
	Bell & Associates Construction, LLC		\$31.2800	\$3,691.04
	Jones Bros. Contractors, LLC		\$32.0000	\$3,776.00
209-05	SEDIMENT REMOVAL			
		375.000 C.Y.		
	Dement Construction Company, LLC		\$50.0000	\$18,750.00
	Bell & Associates Construction, LLC		\$55.8800	\$20,955.00
	Jones Bros. Contractors, LLC		\$28.0000	\$10,500.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		2,473.000 L.F.		
	Dement Construction Company, LLC		\$5.2500	\$12,983.25
	Bell & Associates Construction, LLC		\$6.2000	\$15,332.60
	Jones Bros. Contractors, LLC		\$6.5000	\$16,074.50
209-08.07	ROCK CHECK DAM			
		66.000 EACH		
	Dement Construction Company, LLC		\$300.0000	\$19,800.00
	Bell & Associates Construction, LLC		\$539.2400	\$35,589.84
	Jones Bros. Contractors, LLC		\$900.0000	\$59,400.00
209-08.08	ENHANCED ROCK CHECK DAM			
		11.000 EACH		
	Dement Construction Company, LLC		\$650.0000	\$7,150.00
	Bell & Associates Construction, LLC		\$754.9300	\$8,304.23
	Jones Bros. Contractors, LLC		\$1,000.0000	\$11,000.00
209-09.01	SANDBAGS			
		24.000 BAG		
	Dement Construction Company, LLC		\$10.0000	\$240.00
	Bell & Associates Construction, LLC		\$21.5700	\$517.68
	Jones Bros. Contractors, LLC		\$30.0000	\$720.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		2.000 EACH		
	Dement Construction Company, LLC		\$150.0000	\$300.00
	Bell & Associates Construction, LLC		\$1,617.7100	\$3,235.42
	Jones Bros. Contractors, LLC		\$500.0000	\$1,000.00

Carcella
Dement Construction Company, LLC
Bell & Associates Construction, LLC Jones Bros. Contractors, LLC   \$539.2400 \$539.240 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$550.000 \$56.950.000 \$6.9
Jones Bros. Contractors, LLC   \$550.0000   \$550.000
209-65.03 TEMPORARY DIVERSION CHANNEL  139.000 L.F.  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  9,606.000 TON  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  835.0000 \$336,210.00 8336,210.00 8337.7500 \$362,626.50 837.7500
139.000 L.F.
Dement Construction Company, LLC   \$50,0000   \$6,950.00   \$6,950.00   \$4,716.27   \$33.9300   \$4,716.27   \$50,0000   \$6,950.0
Bell & Associates Construction, LLC
Bell & Associates Construction, LLC   \$33.9300   \$4,716.27   \$50.0000   \$6,950.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D  Pement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  303-10.01 MINERAL AGGREGATE (SIZE 57)  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A  1,754.000 TON
9,606.000 TON  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  303-10.01 MINERAL AGGREGATE (SIZE 57)  Dement Construction Company, LLC 694.000 TON  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  1,754.000 TON  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A
Dement Construction Company, LLC   \$35.0000   \$336,210.00     Bell & Associates Construction, LLC   \$37.7500   \$362,626.50     Jones Bros. Contractors, LLC   \$35.0000   \$336,210.00     303-10.01   MINERAL AGGREGATE (SIZE 57)
Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  303-10.01 MINERAL AGGREGATE (SIZE 57)  Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A  1,754.000 TON  \$37.7500 \$362,626.50 \$35.0000 \$336,210.00  \$40.0000 \$27,760.00 \$440.0000 \$27,760.00 \$43.1400 \$29,939.16 \$55.0000 \$38,170.00
Jones Bros. Contractors, LLC \$35.0000 \$336,210.00  303-10.01 MINERAL AGGREGATE (SIZE 57)  694.000 TON  Dement Construction Company, LLC \$40.0000 \$27,760.00 Bell & Associates Construction, LLC \$43.1400 \$29,939.16 Jones Bros. Contractors, LLC \$55.0000 \$38,170.00  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A 1,754.000 TON
303-10.01 MINERAL AGGREGATE (SIZE 57)  694.000 TON  Dement Construction Company, LLC \$40.0000 \$27,760.00 Bell & Associates Construction, LLC \$43.1400 \$29,939.16 Jones Bros. Contractors, LLC \$55.0000 \$38,170.00  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A
694.000 TON  Dement Construction Company, LLC \$40.0000 \$27,760.00 Bell & Associates Construction, LLC \$43.1400 \$29,939.16 Jones Bros. Contractors, LLC \$55.0000 \$38,170.00  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A  1,754.000 TON
Dement Construction Company, LLC \$40.0000 \$27,760.00 Bell & Associates Construction, LLC \$43.1400 \$29,939.16 Jones Bros. Contractors, LLC \$55.0000 \$38,170.00  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A  1,754.000 TON
Bell & Associates Construction, LLC Jones Bros. Contractors, LLC \$43.1400 \$29,939.16 \$55.0000 \$38,170.00  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A  1,754.000 TON
Jones Bros. Contractors, LLC \$55.0000 \$38,170.00  307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A  1,754.000 TON
307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A 1,754.000 TON
1,754.000 TON
·
Dement Construction Company, LLC \$123.0000 \$215,742.00
Bell & Associates Construction, LLC \$132.6500 \$232,668.10
Jones Bros. Contractors, LLC \$123.0000 \$215,742.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2
1,115.000 TON
Dement Construction Company, LLC \$129.0000 \$143,835.00
Bell & Associates Construction, LLC \$139.1200 \$155,118.80
Jones Bros. Contractors, LLC \$129.0000 \$143,835.00
402-01 BITUMINOUS MATERIAL FOR PRIME COAT (PC)
18.000 TON
Dement Construction Company, LLC \$1,202.0000 \$21,636.00
Bell & Associates Construction, LLC \$1,296.3200 \$23,333.76
Jones Bros. Contractors, LLC \$1,202.0000 \$21,636.00
402-02 AGGREGATE FOR COVER MATERIAL (PC)
64.000 TON
Dement Construction Company, LLC \$154.0000 \$9,856.00
Bell & Associates Construction, LLC \$166.0800 \$10,629.12
Jones Bros. Contractors, LLC \$154.0000 \$9,856.00

CON	NTRACT	CNX319

			UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		7.000 TON		
	Dement Construction Company, LLC		\$838.0000	\$5,866.00
	Bell & Associates Construction, LLC		\$903.7600	\$6,326.32
	Jones Bros. Contractors, LLC		\$838.0000	\$5,866.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		940.000 TON		
	Dement Construction Company, LLC		\$192.0000	\$180,480.00
	Bell & Associates Construction, LLC		\$207.0700	\$194,645.80
	Jones Bros. Contractors, LLC		\$192.0000	\$180,480.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		95.000 TON		
	Dement Construction Company, LLC		\$275.0000	\$26,125.00
	Bell & Associates Construction, LLC		\$296.5800	\$28,175.10
	Jones Bros. Contractors, LLC		\$275.0000	\$26,125.00
607-05.30	24" PIPE CULVERT			
		162.000 L.F.		
	Dement Construction Company, LLC		\$141.0000	\$22,842.00
	Bell & Associates Construction, LLC		\$152.0600	\$24,633.72
	Jones Bros. Contractors, LLC		\$222.0000	\$35,964.00
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)			
		49.000 L.F.		
	Dement Construction Company, LLC		\$306.0000	\$14,994.00
	Bell & Associates Construction, LLC		\$330.0100	\$16,170.49
	Jones Bros. Contractors, LLC		\$185.0000	\$9,065.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
		36.000 L.F.		
	Dement Construction Company, LLC		\$133.0000	\$4,788.00
	Bell & Associates Construction, LLC		\$143.4400	\$5,163.84
	Jones Bros. Contractors, LLC		\$103.0000	\$3,708.00
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
		2.000 C.Y.		
	Dement Construction Company, LLC		\$2,360.5000	\$4,721.00
	Bell & Associates Construction, LLC		\$2,545.7400	\$5,091.48
	Jones Bros. Contractors, LLC		\$2,490.0000	\$4,980.00
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
		93.000 LB.		
	Dement Construction Company, LLC		\$3.0000	\$279.00
	Bell & Associates Construction, LLC		\$3.2400	\$301.32
	Jones Bros. Contractors, LLC		\$3.0000	\$279.00

		UNIT PRICE	EXTENSION
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
·	6.000 EACH		
Dement Construction Company, LLC	0.000 E/(011	\$3,350.0000	\$20,100.00
Bell & Associates Construction, LLC		\$3,612.8800	\$21,677.28
Jones Bros. Contractors, LLC		\$3,160.0000	\$18,960.00
Control Bross. Contractors, EEC		ψο, 100.0000	ψ10,000.00
611-07.61 30IN ENDWALL (CROSS DRAIN) 4:1			
OTT-07:01 SOIN ENDWALE (ONGOOD BILAIN) 4.1	4 000 54 011		
	1.000 EACH	<b>^-</b>	<b>A</b>
Dement Construction Company, LLC		\$5,651.0000	\$5,651.00
Bell & Associates Construction, LLC		\$6,094.4400	\$6,094.44
Jones Bros. Contractors, LLC		\$4,700.0000	\$4,700.00
611-40.02 CATCH BASINS, TYPE 40, > 4' - 8' DEPTH			
· · · · · · · · · · · · · · · · · · ·	1.000 EACH		
Dement Construction Company, LLC	1.000 EAGIT	\$7,505.0000	\$7,505.00
Bell & Associates Construction, LLC		\$8,093.9400	\$8,093.94
Jones Bros. Contractors, LLC		\$10,150.0000	\$10,150.00
oones bros. Contractors, EEC		Ψ10,100.0000	Ψ10,100.00
621-03.03 24" TEMPORARY DRAINAGE PIPE			
	66.000 L.F.		
Demont Construction Comment II C	66.000 L.F.	Φ <b>7</b> 0.0000	ΦE 440.00
Dement Construction Company, LLC		\$78.0000	\$5,148.00
Bell & Associates Construction, LLC		\$84.1200	\$5,551.92
Jones Bros. Contractors, LLC		\$70.0000	\$4,620.00
705-06.01 W BEAM GR (TYPE 2) MASH TL-3			
100 00.01 W BEAM ON (THE 2) MAON TE 0	392.000 L.F.		
Demont Construction Company II C	392.000 L.F.	¢22.0000	\$12,544.00
Dement Construction Company, LLC Bell & Associates Construction, LLC		\$32.0000 \$33.8300	
Jones Bros. Contractors, LLC		\$33.8300 \$31.3700	\$13,261.36 \$12,297.04
Jones Bios. Contractors, LLC		φ31.3700	\$12,297.04
705-06.26 THRIE BEAM BRIDGE TRANSITION MASH TL-2			
703-00.20 THINE BEAM BRIDGE TRANSPORT MASTER	4 000 5 4 011		
Demont Construction Comment II C	4.000 EACH	<b>#4.400.0000</b>	<b>#</b> 4.400.00
Dement Construction Company, LLC		\$1,100.0000	\$4,400.00
Bell & Associates Construction, LLC		\$1,178.7700	\$4,715.08
Jones Bros. Contractors, LLC		\$1,093.0000	\$4,372.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
(	4.000 EACH		
Dement Construction Company, LLC	4.000 EACH	\$3,000.0000	¢12 000 00
Bell & Associates Construction, LLC		\$3,000.0000	\$12,000.00 \$12,557.72
Jones Bros. Contractors, LLC		\$2,911.0000	\$11,644.00
Jones Bios. Contractors, LLC		\$2,911.0000	\$11,644.00
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE			
	1,233.000 L.F.		
Dement Construction Company, LLC	,	\$10.0000	\$12,330.00
Bell & Associates Construction, LLC		\$2.1600	\$2,663.28
Jones Bros. Contractors, LLC		\$2.5000	\$3,082.50
		<del>,</del>	÷-,

CONTRACT (	3	١	1)	(3	1	9
------------	---	---	----	----	---	---

		U	JNIT PRICE	EXTENSION
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		100.000 TON		
	Dement Construction Company, LLC		\$100.0000	\$10,000.00
	Bell & Associates Construction, LLC		\$107.8500	\$10,785.00
	Jones Bros. Contractors, LLC		\$64.0000	\$6,400.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	,	1,491.000 TON		
	Dement Construction Company, LLC	.,	\$40.0000	\$59,640.00
	Bell & Associates Construction, LLC		\$43.1400	\$64,321.74
	Jones Bros. Contractors, LLC		\$64.0000	\$95,424.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
	, ,	1,959.000 TON		
	Dement Construction Company, LLC	,	\$45.0000	\$88,155.00
	Bell & Associates Construction, LLC		\$48.5300	\$95,070.27
	Jones Bros. Contractors, LLC		\$64.0000	\$125,376.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Dement Construction Company, LLC	\$40	0,000.0000	\$40,000.00
	Bell & Associates Construction, LLC		8,305.6300	\$88,305.63
	Jones Bros. Contractors, LLC	\$30	0,000.0000	\$30,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		29.000 EACH		
	Dement Construction Company, LLC		\$37.6000	\$1,090.40
	Bell & Associates Construction, LLC		\$40.5500	\$1,175.95
	Jones Bros. Contractors, LLC		\$40.0000	\$1,160.00
712-05.01	WARNING LIGHTS (TYPE A)			
		10.000 EACH		
	Dement Construction Company, LLC		\$38.8500	\$388.50
	Bell & Associates Construction, LLC		\$41.9000	\$419.00
	Jones Bros. Contractors, LLC		\$38.0000	\$380.00
712-06	SIGNS (CONSTRUCTION)			
		517.000 S.F.		
	Dement Construction Company, LLC		\$9.5000	\$4,911.50
	Bell & Associates Construction, LLC		\$10.2500	\$5,299.25
	Jones Bros. Contractors, LLC		\$7.9500	\$4,110.15
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		52.500 L.F.		
	Dement Construction Company, LLC		\$39.0000	\$2,047.50
	Bell & Associates Construction, LLC		\$42.0600	\$2,208.15
	Jones Bros. Contractors, LLC		\$20.5000	\$1,076.25

		UNIT PRICE	EXTENSION
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)	0.100 C.Y.		
Domont Construction Company II C	0.100 0.1.	\$545.0000	\$54.50
Dement Construction Company, LLC Bell & Associates Construction, LLC		\$1,617.7000	\$161.77
Jones Bros. Contractors, LLC		\$1,500.0000	\$150.00
dones bios. dominators, LEO		ψ1,300.0000	Ψ100.00
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUP	PORTS)		
	22.500 LB.		
Dement Construction Company, LLC		\$15.3700	\$345.83
Bell & Associates Construction, LLC		\$4.8500	\$109.13
Jones Bros. Contractors, LLC		\$4.5000	\$101.25
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	38.000 LB.		
Dement Construction Company, LLC		\$16.8900	\$641.82
Bell & Associates Construction, LLC		\$5.9300	\$225.34
Jones Bros. Contractors, LLC		\$5.5000	\$209.00
713-11.21 P POST SLIP BASE			
	1.000 EACH		
Dement Construction Company, LLC		\$405.0000	\$405.00
Bell & Associates Construction, LLC		\$593.1600	\$593.16
Jones Bros. Contractors, LLC		\$550.0000	\$550.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	9.000 S.F.		
Dement Construction Company, LLC		\$25.3700	\$228.33
Bell & Associates Construction, LLC		\$21.5700	\$194.13
Jones Bros. Contractors, LLC		\$20.0000	\$180.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	9.000 S.F.		
Dement Construction Company, LLC		\$25.7400	\$231.66
Bell & Associates Construction, LLC		\$23.7300	\$213.57
Jones Bros. Contractors, LLC		\$22.0000	\$198.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	3.000 EACH		
Dement Construction Company, LLC		\$8,500.0000	\$25,500.00
Bell & Associates Construction, LLC		\$9,167.0100	\$27,501.03
Jones Bros. Contractors, LLC		\$14,500.0000	\$43,500.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
(3.3.	43.000 L.F.		
Dement Construction Company, LLC	TOINUU EII I	\$25.0000	\$1,075.00
Bell & Associates Construction, LLC		\$26.9600	\$1,159.28
Jones Bros. Contractors, LLC		\$25.0000	\$1,075.00
, -			. ,

			LINIT DDIOE	TYTENSION.
			UNIT PRICE	EXTENSION
716-05 20	PAINTED PAVEMENT MARKING (6" LINE)			
710 00.20	TARTEST AVEINER I MARRIANO (O ERIC)	0.300 L.M.		
	Dement Construction Company, LLC	0.300 E.M.	\$5,000.0000	\$1,500.00
	Bell & Associates Construction, LLC		\$5,392.3700	\$1,617.71
	Jones Bros. Contractors, LLC		\$5,000.0000	\$1,500.00
	,		, ,	
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LII	NE)		
		4.000 L.M.		
	Dement Construction Company, LLC		\$8,500.0000	\$34,000.00
	Bell & Associates Construction, LLC		\$9,167.0100	\$36,668.04
	Jones Bros. Contractors, LLC		\$8,500.0000	\$34,000.00
717-01	MOBILIZATION			
717 01	MODILIZATION	1.000 LS		
	Dement Construction Company, LLC	1.000 20	\$750,000.0000	\$750,000.00
	Bell & Associates Construction, LLC		\$798,121.2600	\$798,121.26
	Jones Bros. Contractors, LLC		\$820,000.0000	\$820,000.00
			, ,	***************************************
740-07.04	GEOGRID REINFORCEMENT TYPE 2			
		1,364.000 S.Y.		
	Dement Construction Company, LLC		\$7.4300	\$10,134.52
	Bell & Associates Construction, LLC		\$6.5300	\$8,906.92
	Jones Bros. Contractors, LLC		\$10.0000	\$13,640.00
740-10 03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
740-10.03	GEOTEXTILE (TTPL III)(EROSION CONTROL)	1,768.000 S.Y.		
	Dement Construction Company, LLC	1,700.000 3.1.	\$3.3500	\$5,922.80
	Bell & Associates Construction, LLC		\$3.5500	\$6,276.40
	Jones Bros. Contractors, LLC		\$4.0000	\$7,072.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		23,772.000 S.Y.		
	Dement Construction Company, LLC		\$3.0000	\$71,316.00
	Bell & Associates Construction, LLC		\$2.6700	\$63,471.24
	Jones Bros. Contractors, LLC		\$3.2000	\$76,070.40
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
		25,462.000 L.F.		
	Dement Construction Company, LLC	.,	\$4.5000	\$114,579.00
	Bell & Associates Construction, LLC		\$4.5800	\$116,615.96
	Jones Bros. Contractors, LLC		\$6.0000	\$152,772.00
904 04 00	CDOWN VETCH MINTURE (MITH MIT OU)			
ou1-01.02	CROWN VETCH MIXTURE (WITH MULCH)	466 000 UNIT		
	Domont Construction Company 11 C	166.000 UNIT	¢150,0000	\$24,000,00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$150.0000 \$161.7700	\$24,900.00 \$26,853.82
	Jones Bros. Contractors, LLC		\$60.0000	\$9,960.00
	55.155 Diod. Communicity, LEC		φου.σοσσ	ψ3,300.00

		UNIT PRICE	EXTENSION
801-01.07 TEMPO	RARY SEEDING (WITH MULCH)		
	,	175.000 UNIT	
Demen	t Construction Company, LLC	\$100.0000	\$17,500.00
	Associates Construction, LLC	\$107.8500	\$18,873.75
Jones E	Bros. Contractors, LLC	\$35.0000	\$6,125.00
801-03 WATER	(SEEDING & SODDING)		
	· ·	35.000 M.G.	
Demen	t Construction Company, LLC	\$100.0000	\$3,500.00
	Associates Construction, LLC	\$107.8500	\$3,774.75
Jones E	Bros. Contractors, LLC	\$10.0000	\$350.00
802-12.01 ACER N	NEGUNDO (BOX ELDER SEEDLNG B.R.)		
		32.000 EACH	
Demen	t Construction Company, LLC	\$20.0000	\$640.00
	Associates Construction, LLC	\$21.5700	\$690.24
Jones E	Bros. Contractors, LLC	\$15.0000	\$480.00
802-12.16 FRAXIN	IUS PENNSYLVANICA (GREEN ASH SEEDLNG B.R.)		
		32.000 EACH	
Demen	t Construction Company, LLC	\$20.0000	\$640.00
	Associates Construction, LLC	\$21.5700	\$690.24
Jones E	Bros. Contractors, LLC	\$15.0000	\$480.00
802-12.17 JUGLA	NS NIGRA (BLACK WALNUT SEEDLNG B.R.)		
		32.000 EACH	
Demen	t Construction Company, LLC	\$20.0000	\$640.00
Bell & A	Associates Construction, LLC	\$21.5700	\$690.24
Jones E	Bros. Contractors, LLC	\$15.0000	\$480.00
802-12.19 LIRIOD	ENDRON TULIPIFERA (TULIP POPLAR SEEDLNG B.R.)		
		32.000 EACH	
Demen	t Construction Company, LLC	\$20.0000	\$640.00
Bell & A	Associates Construction, LLC	\$21.5700	\$690.24
Jones E	Bros. Contractors, LLC	\$15.0000	\$480.00
802-12.44 ULMUS	AMERICANA (AMERICAN ELM SEEDLNG B.R.)		
		32.000 EACH	
Demen	t Construction Company, LLC	\$20.0000	\$640.00
Bell & A	Associates Construction, LLC	\$21.5700	\$690.24
Jones E	Bros. Contractors, LLC	\$15.0000	\$480.00
805-12.01 EROSIC	DN CONTROL BLANKET (TYPE I)		
	1	1,032.000 S.Y.	
Demen	t Construction Company, LLC	\$1.1500	\$12,686.80
Bell & A	Associates Construction, LLC	\$1.2400	\$13,679.68
Jones E	Bros. Contractors, LLC	\$2.5000	\$27,580.00

CONTRACT	CNX319
----------	--------

		UNIT PRICE	EXTENSION
BOX BRIDGE	E CATEGORY		
204-08 FO	OUNDATION FILL MATERIAL		
	30.0	000 C.Y.	
De	ement Construction Company, LLC	\$50.0000	\$1,500.00
	ell & Associates Construction, LLC	\$133.4500	\$4,003.50
Jor	nes Bros. Contractors, LLC	\$95.0000	\$2,850.00
303-01.01 GR	RANULAR BACKFILL (ROADWAY)		
	·	000 TON	
De	ement Construction Company, LLC	\$30.0000	\$11,130.00
Ве	ell & Associates Construction, LLC	\$33.6400	\$12,480.44
Jor	nes Bros. Contractors, LLC	\$42.0000	\$15,582.00
604-01.01 CL	.ASS A CONCRETE (ROADWAY)		
	56.0	000 C.Y.	
De	ement Construction Company, LLC	\$1,258.9000	\$70,498.40
Ве	ell & Associates Construction, LLC	\$1,516.0300	\$84,897.68
Jor	nes Bros. Contractors, LLC	\$1,400.0000	\$78,400.00
604-01.02 ST	EEL BAR REINFORCEMENT (ROADWAY)		
	11,402.0	000 LB.	
De	ement Construction Company, LLC	\$1.4800	\$16,874.96
Ве	ell & Associates Construction, LLC	\$1.1900	\$13,568.38
Jor	nes Bros. Contractors, LLC	\$1.5000	\$17,103.00

	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
204-02.01 DRY EXCAVATION (BRIDGES)		
564.000 C.Y.		
Dement Construction Company, LLC	\$40.0000	\$22,560.00
Bell & Associates Construction, LLC	\$39.5600	\$22,311.84
Jones Bros. Contractors, LLC	\$32.0000	\$18,048.00
204-04.01 ROCK EXCAVATION (BRIDGES)		
76.000 C.Y.		
Dement Construction Company, LLC	\$65.0000	\$4,940.00
Bell & Associates Construction, LLC	\$115.6000	\$8,785.60
Jones Bros. Contractors, LLC	\$80.0000	\$6,080.00
204-05 ROCK DRILLING (BRIDGES)		
24.000 L.F.		
Dement Construction Company, LLC	\$25.0000	\$600.00
Bell & Associates Construction, LLC	\$49.7200	\$1,193.28
Jones Bros. Contractors, LLC	\$50.0000	\$1,200.00
303-01.02 GRANULAR BACKFILL (BRIDGES)		
54.000 TON		
Dement Construction Company, LLC	\$100.0000	\$5,400.00
Bell & Associates Construction, LLC	\$46.8100	\$2,527.74
Jones Bros. Contractors, LLC	\$60.0000	\$3,240.00
604-02.03 EPOXY COATED REINFORCING STEEL		
165,386.000 LB.		
Dement Construction Company, LLC	\$1.4000	\$231,540.40
Bell & Associates Construction, LLC	\$1.5100	\$249,732.86
Jones Bros. Contractors, LLC	\$1.5000	\$248,079.00
604-03.01 CLASS A CONCRETE (BRIDGES)		
473.000 C.Y.		
Dement Construction Company, LLC	\$890.0000	\$420,970.00
Bell & Associates Construction, LLC	\$967.4100	\$457,584.93
Jones Bros. Contractors, LLC	\$1,000.0000	\$473,000.00
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)		
86,952.000 LB.		
Dement Construction Company, LLC	\$1.3000	\$113,037.60
Bell & Associates Construction, LLC	\$1.1900	\$103,472.88
Jones Bros. Contractors, LLC	\$1.3000	\$113,037.60
604-03.04 PAVEMENT @ BRIDGE ENDS		
162.000 S.Y.		
Dement Construction Company, LLC	\$450.0000	\$72,900.00
Bell & Associates Construction, LLC	\$364.7700	\$59,092.74
Jones Bros. Contractors, LLC	\$320.0000	\$51,840.00

			•	
			UNIT PRICE	EXTENSION
604-03.09	CLASS D CONCRETE (BRIDGE DECK)			
	,	586.000 C.Y.		
	Dement Construction Company, LLC		\$1,100.0000	\$644,600.00
	Bell & Associates Construction, LLC		\$900.6800	
	,		·	\$527,798.48
	Jones Bros. Contractors, LLC		\$1,200.0000	\$703,200.00
604-04.01	APPLIED TEXTURE FINISH (NEW STRUCTURES)			
		6,639.000 S.Y.		
	Dement Construction Company, LLC		\$8.9500	\$59,419.05
	Bell & Associates Construction, LLC		\$9.6500	\$64,066.35
	Jones Bros. Contractors, LLC		\$8.9500	\$59,419.05
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
		2,049.000 S.Y.		
	Dement Construction Company, LLC	_,0 101000 0111	\$6.0000	\$12,294.00
	Bell & Associates Construction, LLC		\$3.0100	\$6,167.49
	Jones Bros. Contractors, LLC		\$4.3800	\$8,974.62
606-03.03	STEEL PILES (12 INCH)			
		908.000 L.F.		
	Dement Construction Company, LLC		\$65.0000	\$59,020.00
	Bell & Associates Construction, LLC		\$86.2300	\$78,296.84
	Jones Bros. Contractors, LLC		\$120.0000	\$108,960.00
606-03 06	PILE TIPS (STEEL PILES, 12 INCH)			
000-03.00	1122 111 3 (31222 11223, 12 114311)	60,000 EACH		
	Dement Construction Company, LLC	00.000 EAGI1	\$250.0000	\$15,000.00
	Bell & Associates Construction, LLC		\$170.9700	\$10,258.20
	Jones Bros. Contractors, LLC		\$170.9700	\$9,000.00
	Jones Blos. Contractors, LLC		φ130.0000	φθ,000.00
615-01.12	PRESTRESSED CONCRETE BULB TEE BEAM (6" WEE	B)(BT-72)		
		2,330.000 L.F.		
	Dement Construction Company, LLC		\$425.0000	\$990,250.00
	Bell & Associates Construction, LLC		\$614.4900	\$1,431,761.70
	Jones Bros. Contractors, LLC		\$600.0000	\$1,398,000.00
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
		1,256.000 L.F.		
	Dement Construction Company, LLC	-,	\$150.0000	\$188,400.00
	Bell & Associates Construction, LLC		\$118.5600	\$148,911.36
	Jones Bros. Contractors, LLC		\$170.0000	\$150,720.00
	Jones Bios. Contractors, LLC		\$120.0000	φ130,720.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTE	M		
		132.000 L.F.		
	Dement Construction Company, LLC		\$100.0000	\$13,200.00
	Bell & Associates Construction, LLC		\$60.8800	\$8,036.16
	Jones Bros. Contractors, LLC		\$52.0000	\$6,864.00
				•

-	^	$\cap$	NI'	TD	۸ (	C	г 1	C	N	Y	2	1	۵
	U	v	IV	10	~~			•	N	Л	J		J

\$1,160.00

\$20.0000

EXTENSION
\$1,160.00
\$2,065.38

Jones Bros. Contractors, LLC

## **SUB-TOTAL ROADWAY**

Jones Bros. Contractors, LLC

Dement Construction Company, LLC Bell & Associates Construction, LLC Jones Bros. Contractors, LLC	\$4,741,501.41 \$4,847,080.68 \$4,799,273.09
SUB-TOTAL BOX BRIDGE	
Dement Construction Company, LLC	\$100,003.36
Bell & Associates Construction, LLC	\$114,950.00
Jones Bros. Contractors, LLC	\$113,935.00
SUB-TOTAL BRIDGE	
Dement Construction Company, LLC	\$2,855,291.05
Bell & Associates Construction, LLC	\$3,182,063.83
Jones Bros. Contractors, LLC	\$3,360,822.27
TOTAL CONTRACT	
Dement Construction Company, LLC	\$7,696,795.82
Bell & Associates Construction, LLC	\$8,144,094.51

\$8,274,030.36

COUNTIES LAWRENCE, MARSHALL, MAURY, MONTGOMERY, ROBERTSON, AND RUTHERFORD (Contract No. CNX336 Call 035)

HSIP-REG3(218),R3SVAR-F3-036,HSIP-REG3(219),R3SVAR-F3-037

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 7.50%

TOTAL CONTRACT

MarCor Construction, Inc.

\$847,806.41

J. M. Hanner Construction Co., Inc.

\$1,381,054.70

			co	NTRACT CNX336
BOADW/	AY CATEGORY		UNIT PRICE	EXTENSION
KOADWA	AT CATEGORY			
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		313.000 S.Y.	Фод одор	<b>***</b>
	MarCor Construction, Inc. J. M. Hanner Construction Co., Inc.		\$90.0000 \$520.0000	\$28,170.00 \$162,760.00
701-01.01	CONCRETE SIDEWALK (4 ")			
		2,627.000 S.F.	<b>.</b>	•
	MarCor Construction, Inc. J. M. Hanner Construction Co., Inc.		\$25.0000 \$15.2000	\$65,675.00 \$39,930.40
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	MarCar Caratrustian Inc	9,821.000 S.F.	\$45.0000	¢444.045.00
	MarCor Construction, Inc. J. M. Hanner Construction Co., Inc.		\$65.0000	\$441,945.00 \$638,365.00
701-02.03	CONCRETE CURB RAMP	47F 000 C F		
	MarCor Construction, Inc.	175.000 S.F.	\$32.0000	\$5,600.00
	J. M. Hanner Construction Co., Inc.		\$54.6000	\$9,555.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)	190.000 S.F.		
	MarCor Construction, Inc.	190.000 5.F.	\$60.0000	\$11,400.00
	J. M. Hanner Construction Co., Inc.		\$75.0000	\$14,250.00
712-01	TRAFFIC CONTROL	1.000 LS		
	MarCor Construction, Inc.	1.000 L3	\$104,440.0000	\$104,440.00
	J. M. Hanner Construction Co., Inc.		\$108,462.0000	\$108,462.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT	7.000 L.F.		
	MarCor Construction, Inc.	7.000 L.F.	\$397.2000	\$2,780.40
	J. M. Hanner Construction Co., Inc.		\$14.2000	\$99.40
713-11.01	"U" SECTION STEEL POSTS	44 000 LB		
	MarCor Construction, Inc.	14.000 LB.	\$600.3900	\$8,405.46
	J. M. Hanner Construction Co., Inc.		\$25.0000	\$350.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)	9.000 S.F.		
	MarCor Construction, Inc.	9.000 S.F.	\$403.9500	\$3,635.55
	J. M. Hanner Construction Co., Inc.		\$34.0000	\$306.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)	3,305.000 L.F.		
	MarCar Canatruation Inc	0,000.000 L.I .	\$15,0000	¢40 575 00

MarCor Construction, Inc.

J. M. Hanner Construction Co., Inc.

\$49,575.00

\$15.0000

\$75.6200

		CONTRACT CNX336
	UNIT PRICE	EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
1,400.0	000 L.F.	
MarCor Construction, Inc.	\$25.0000	\$35,000.00
J. M. Hanner Construction Co., Inc.	\$27.8800	\$39,032.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
550.0	000 L.F.	
MarCor Construction, Inc.	\$60.0000	\$33,000.00
J. M. Hanner Construction Co., Inc.	\$42.1000	\$23,155.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		

MarCor Construction, Inc.

MarCor Construction, Inc.

**MOBILIZATION** 

717-01

J. M. Hanner Construction Co., Inc.

J. M. Hanner Construction Co., Inc.

13.000 S.F.

1.000 LS

\$60.0000

\$81.6000

\$57,400.0000

\$93,805.0000

\$780.00

\$1,060.80

\$57,400.00

\$93,805.00

<b>PAGE</b>	

## **SUB-TOTAL ROADWAY**

MarCor Construction, Inc. \$847,806.41

J. M. Hanner Construction Co., Inc. \$1,381,054.70

### **TOTAL CONTRACT**

MarCor Construction, Inc. \$847,806.41

J. M. Hanner Construction Co., Inc. \$1,381,054.70

#### LOUDON COUNTY (Contract No. CNX325 Call 036)

n/a,53I040-M3-002

THE REPAIR OF THE BRIDGES ON I-40 OVER S.R. 95 AND U.S. 321 (S.R. 73) (L.M. 0.57).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 29, 2024

TOTAL CONTRACT

Southern Constructors, Inc.

\$395,910.00

Mid-State Construction Company, Inc.

\$574,328.32

UNIT	PRICE	Е

BRIDGE CATEGORY	UNIT PRICE	EXTENSION
602-10.01 STRUCTURAL STEEL REPAIRS		
1.000 LS	<b>.</b>	
Southern Constructors, Inc. Mid-State Construction Company, Inc.	\$175,000.0000 \$153,864.9900	\$175,000.00 \$153,864.99
wild-State Construction Company, Inc.	φ155,664.9900	ф155,664.99
602-10.22 STRUCTURAL STEEL WELD REPAIR		
1.000 EACH		
Southern Constructors, Inc.	\$10,000.0000	\$10,000.00
Mid-State Construction Company, Inc.	\$43,692.0000	\$43,692.00
602-10.32 STRUCTURAL STEEL (REPAIRS)		
7.000 LB.		
Southern Constructors, Inc.	\$1,000.0000	\$7,000.00
Mid-State Construction Company, Inc.	\$4,055.9200	\$28,391.44
603-02.20 SPOT PAINTING EXISTING STEEL STRUCTURES		
87.000 S.F.	Фоло оооо	<b>#00.450.00</b>
Southern Constructors, Inc. Mid-State Construction Company, Inc.	\$350.0000 \$540.3200	\$30,450.00 \$47,007.84
wild-State Constitution Company, Inc.	ψ3+0.3200	ψ+1,001.04
603-05.20 CONTAINMENT & DISPOSAL OF WASTE(BR. NO. 53-I40-0.57 LT & RT)		
1.000 LS		
Southern Constructors, Inc.	\$5,000.0000	\$5,000.00
Mid-State Construction Company, Inc.	\$17,019.2000	\$17,019.20
712-01 TRAFFIC CONTROL		
1.000 LS		
Southern Constructors, Inc.	\$35,000.0000	\$35,000.00
Mid-State Construction Company, Inc.	\$142,902.7700	\$142,902.77
740 04 04 ELEVIDI E DDIMO (OLIANNELIZINO)		
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)		
310.000 EACH Southern Constructors, Inc.	\$45.0000	\$13,950.00
Mid-State Construction Company, Inc.	\$47.4800	\$14,718.80
712-04.10 TEMPORARY FLEXIBLE TUBULAR DELINEATOR		
10.000 EACH		
Southern Constructors, Inc.	\$60.0000	\$600.00
Mid-State Construction Company, Inc.	\$66.2300	\$662.30
712-05.01 WARNING LIGHTS (TYPE A)		
70.000 EACH		
Southern Constructors, Inc.	\$40.0000	\$2,800.00
Mid-State Construction Company, Inc.	\$43.7400	\$3,061.80
712.06 SIGNS (CONSTRUCTION)		
712-06 SIGNS (CONSTRUCTION) 774.000 S.F.		
Southern Constructors, Inc.	\$15.0000	\$11,610.00
Mid-State Construction Company, Inc.	\$12.6200	\$9,767.88
1 27	,	. ,

			CONTRACT CNX325
		UNIT PRICE	EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)		
		80.000 L.F.	
	Southern Constructors, Inc.	\$25.0000	\$2,000.00
	Mid-State Construction Company, Inc.	\$22.4900	\$1,799.20
712-08.03	ARROW BOARD (TYPE C)		
		3.000 EACH	
	Southern Constructors, Inc.	\$3,500.0000	\$10,500.00
	Mid-State Construction Company, Inc.	\$874.7200	\$2,624.16
712-08.12	QUEUE PROTECTION TRUCK		
		14.000 DAY	
	Southern Constructors, Inc.	\$2,000.0000	\$28,000.00
	Mid-State Construction Company, Inc.	\$1,749.4400	\$24,492.16

	Southern Constructors, Inc.		\$7,500.0000	\$45,000.00
	Mid-State Construction Company, Inc.		\$4,998.4000	\$29,990.40
717-01	MOBILIZATION			
		1.000 LS		
	Southern Constructors, Inc.		\$19,000.0000	\$19,000.00
	Mid-State Construction Company, Inc.		\$54,333.3800	\$54,333.38

6.000 EACH

713-16.01 CHANGEABLE MESSAGE SIGN UNIT

### **SUB-TOTAL BRIDGE**

Southern Constructors, Inc.	\$395,910.00
Mid-State Construction Company, Inc.	\$574,328.32

## TOTAL CONTRACT

Southern Constructors, Inc.	\$395,910.00
Mid-State Construction Company, Inc.	\$574,328.32

#### MARION COUNTY (Contract No. CNX346 Call 037)

58455-3414-04

THE CONSTRUCTION OF A CONCRETE BOX BRIDGE ON ORME ROAD OVER DRY CREEK (L.M. 0.58), INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.113 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2024

TOTAL CONTRACT

Summers-Taylor, Inc.

\$2,444,122.83

CONTRACT	CNX346
----------	--------

		CONTRACT CNX346
ROADWAY CATEGORY	UNIT PRICE	EXTENSION
105-01 CONSTRUCTION STAKES, LINES AND GRADES		
1.00 Summers-Taylor, Inc.	<b>00 LS</b> \$18,500.0000	\$18,500.00
201-01 CLEARING AND GRUBBING	2010	
Summers-Taylor, Inc.	<b>00 LS</b> \$17,600.0000	\$17,600.00
202-04.01 REMOVAL OF STRUCTURES (60" CMP BRIDGE, 104+71.94)	0016	
Summers-Taylor, Inc.	<b>00 LS</b> \$48,500.0000	\$48,500.00
202-12 CONSTRUCTION & REMOVAL OF TEMPORARY RUNAROUND	00 LS	
Summers-Taylor, Inc.	\$75,500.0000	\$75,500.00
203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	00 O V	
Summers-Taylor, Inc.	<b>00 C.Y.</b> \$103.0000	\$51,088.00
203-03 BORROW EXCAVATION (UNCLASSIFIED)	00 O V	
Summers-Taylor, Inc.	<b>00 C.Y.</b> \$65.0000	\$44,395.00
203-06 WATER		
Summers-Taylor, Inc.	<b>00 M.G.</b> \$62.5000	\$62.50
203-07 FURNISHING & SPREADING TOPSOIL	00 O V	
Summers-Taylor, Inc.	<b>00 C.Y.</b> \$52.0000	\$36,556.00
203-08 CHANNEL EXCAVATION (UNCLASSIFIED)	00 C.Y.	
Summers-Taylor, Inc.	\$44.0000	\$39,600.00
204-01 CULVERT EXCAVATION (UNCLASSIFIED)	00 C V	
Summers-Taylor, Inc.	<b>00 C.Y.</b> \$40.5000	\$29,970.00
208-01.05 BROOMING & DEGRASSING SHOULDERS	30 L.M.	
Summers-Taylor, Inc.	\$12,000.0000	\$2,760.00
209-03.31 STREAM MITIGATION-COCONUT FIBER ROLLS	001.5	
Summers-Taylor, Inc.	<b>00 L.F.</b> \$44.5000	\$20,603.50

			UNIT PRICE	CONTRACT CNX346 EXTENSION
209-05	SEDIMENT REMOVAL			
	Summers-Taylor, Inc.	27.000 C.Y.	\$45.5000	\$1,228.50
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	Summers-Taylor, Inc.	937.000 L.F.	\$5.6000	\$5,247.20
209-08.07	ROCK CHECK DAM			
	Summers-Taylor, Inc.	4.000 EACH	\$1,820.0000	\$7,280.00
209-08.08	ENHANCED ROCK CHECK DAM			
	Summers-Taylor, Inc.	3.000 EACH	\$1,510.0000	\$4,530.00
209-09.04	SEDIMENT FILTER BAG(15' X 10')			
	Summers-Taylor, Inc.	2.000 EACH	\$1,740.0000	\$3,480.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
	Summers-Taylor, Inc.	152.000 L.F.	\$175.0000	\$26,600.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	DING D		
	Summers-Taylor, Inc.	582.000 TON	\$89.0000	\$51,798.00
303-01.02	GRANULAR BACKFILL (BRIDGES)			
	Summers-Taylor, Inc.	2,672.000 TON	\$77.0000	\$205,744.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Summers-Taylor, Inc.	26.000 TON	\$114.0000	\$2,964.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING I	B-M2		
	Summers-Taylor, Inc.	285.000 TON	\$338.0000	\$96,330.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Summers-Taylor, Inc.	2.000 TON	\$3,380.0000	\$6,760.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Summers-Taylor, Inc.	6.000 TON	\$564.0000	\$3,384.00

			UNIT PRICE	CONTRACT CNX346  EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Summers-Taylor, Inc.	1.000 TON	\$2,820.0000	\$2,820.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Summers-Taylor, Inc.	292.000 TON	\$394.0000	\$115,048.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Summers-Taylor, Inc.	150.100 TON	\$169.0000	\$25,366.90
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	Summers-Taylor, Inc.	37.000 L.F.	\$125.0000	\$4,625.00
611-07.54	18IN ENDWALL (CROSS DRAIN) 3:1			
	Summers-Taylor, Inc.	4.000 EACH	\$2,270.0000	\$9,080.00
621-03.02	18" TEMPORARY DRAINAGE PIPE			
	Summers-Taylor, Inc.	95.000 L.F.	\$85.5000	\$8,122.50
621-03.09	60" TEMPORARY DRAINAGE PIPE			
	Summers-Taylor, Inc.	105.000 L.F.	\$425.0000	\$44,625.00
705-01.04	METAL BEAM GUARD FENCE	-		
	Summers-Taylor, Inc.	157.770 L.F.	\$124.0000	\$19,563.48
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 5 4 0 1		
	Summers-Taylor, Inc.	4.000 EACH	\$1,690.0000	\$6,760.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2	4 000 5 4 0 1		
	Summers-Taylor, Inc.	4.000 EACH	\$5,410.0000	\$21,640.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE	427.000 L.F.	\$3.4000	\$1,451.80
	Summers-Taylor, Inc.			
709-05.05	MACHINED RIP-RAP (CLASS A-3)	154.000 TON		
	Summers-Taylor, Inc.		\$105.0000	\$16,170.00

			UNIT PRICE	CONTRACT CNX346 EXTENSION
709-05.08	MACHINED RIP-RAP (CLASS B)			
	Summers-Taylor, Inc.	121.000 TON	\$119.0000	\$14,399.00
709-05.09	MACHINED RIP-RAP (CLASS C)			
	Summers-Taylor, Inc.	398.000 TON	\$99.0000	\$39,402.00
712-01	TRAFFIC CONTROL			
	Summers-Taylor, Inc.	1.000 LS	\$45,000.0000	\$45,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Summers-Taylor, Inc.	13.000 EACH	\$43.0000	\$559.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Summers-Taylor, Inc.	17.000 EACH	\$43.0000	\$731.00
712-06	SIGNS (CONSTRUCTION)			
	Summers-Taylor, Inc.	384.000 S.F.	\$8.5000	\$3,264.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Summers-Taylor, Inc.	35.000 L.F.	\$22.5000	\$787.50
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
	Summers-Taylor, Inc.	20.000 L.F.	\$28.0000	\$560.00
713-11.01	"U" SECTION STEEL POSTS			
	Summers-Taylor, Inc.	198.000 LB.	\$6.8000	\$1,346.40
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	Summers-Taylor, Inc.	16.000 S.F.	\$22.5000	\$360.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	Summers-Taylor, Inc.	15.000 S.F.	\$25.0000	\$375.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Summers-Taylor, Inc.	1.000 LS	\$338.0000	\$338.00

			UNIT PRICE	CONTRACT CNX346 EXTENSION
713-16.04	CHANGEABLE MESSAGE SIGN UNIT (SEE PLANS)	2.000 EACH		
	Summers-Taylor, Inc.	2.000 EACH	\$9,020.0000	\$18,040.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Summers-Taylor, Inc.	20.000 L.F.	\$22.5000	\$450.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Summers-Taylor, Inc.	0.240 L.M.	\$3,200.0000	\$768.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Summers-Taylor, Inc.	0.380 L.M.	\$3,600.0000	\$1,368.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Summers-Taylor, Inc.	0.230 L.M.	\$13,500.0000	\$3,105.00
717-01	MOBILIZATION			
	Summers-Taylor, Inc.	1.000 LS	\$245,000.0000	\$245,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
	Summers-Taylor, Inc.	1.000 EACH	\$65,000.0000	\$65,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Summers-Taylor, Inc.	650.000 S.Y.	\$7.1000	\$4,615.00
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
	Summers-Taylor, Inc.	100.000 L.F.	\$13.5000	\$1,350.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Summers-Taylor, Inc.	11.000 UNIT	\$123.0000	\$1,353.00
801-01.38	NATVE SEED MX FINAL STABLIZATN OF SLOPES	34.000 UNIT		
	Summers-Taylor, Inc.		\$101.0000	\$3,434.00
801-02.08	TEMPORARY SEEDING (WITHOUT MULCH)			
	Summers-Taylor, Inc.	21.000 UNIT	\$64.5000	\$1,354.50

				CONTRACT CNX346
			UNIT PRICE	EXTENSION
802-12.01	ACER NEGUNDO (BOX ELDER SEEDLNG B.R.)			
	Summers-Taylor, Inc.	9.000 EACH	\$150.0000	\$1,350.00
802-12.06	ASIMINA TRILOBA (PAWPAW SEEDLNG B.R.)			
	Summers-Taylor, Inc.	9.000 EACH	\$150.0000	\$1,350.00
803-01	SODDING (NEW SOD)			
	Summers-Taylor, Inc.	3,410.000 S.Y.	\$10.0000	\$34,100.00
805-12.08	700 GRAM COIR FIBER EROSION BLANKET			
		257.000 S.Y.		
	Summers-Taylor, Inc.		\$8.3000	\$2,133.10

		•	CONTRACT CNX346
BOX BRIDGE CATEGORY		UNIT PRICE	EXTENSION
604-02.01 CLASS A CONCRETE (BOX BRIDGES)	199.000 C.Y.		
Summers-Taylor, Inc.		\$2,075.0000	\$412,925.00
604-02.02 STEEL BAR REINFORCEMENT (BOX BRIDGES)			
	72,783.000 LB.		

\$2.6500

\$192,874.95

Summers-Taylor, Inc.

CONTRACT	CNX34
----------	-------

		C	JNIKACI CNA346
UTILITY CATEGORY		UNIT PRICE	EXTENSION
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE			
Summers-Taylor, Inc.	353.000 L.F.	\$179.0000	\$63,187.00
795-07.03 6IN X 6IN TAPPING SLEEVE AND VALVE			
Summers-Taylor, Inc.	2.000 EACH	\$12,000.0000	\$24,000.00
795-07.31 INSERTION VALVE (6IN)	0.000 54.00		
Summers-Taylor, Inc.	2.000 EACH	\$20,100.0000	\$40,200.00
795-11.02 FIRE HYDRANT ASSEMBLY	4 000 54 011		
Summers-Taylor, Inc.	1.000 EACH	\$14,000.0000	\$14,000.00
795-12.02 REMOVAL OF EXISTING LINE	4 000 L C		
Summers-Taylor, Inc.	1.000 LS	\$4,890.0000	\$4,890.00
795-13.01 DI FITTINGS	CEO 000 L B		
Summers-Taylor, Inc.	650.000 LB.	\$26.0000	\$16,900.00
795-13.05 CREEK CROSSING (60LF by Directional Bore w/6" HDPE DR11)	4 000   6		
Summers-Taylor, Inc.	1.000 LS	\$107,500.0000	\$107,500.00

### **SUB-TOTAL ROADWAY**

Summers-Taylor, Inc. \$1,567,645.88

## **SUB-TOTAL BOX BRIDGE**

Summers-Taylor, Inc. \$605,799.95

### **SUB-TOTAL UTILITY**

Summers-Taylor, Inc. \$270,677.00

### **TOTAL CONTRACT**

Summers-Taylor, Inc. \$2,444,122.83

#### MAURY COUNTY (Contract No. CNX338 Call 038)

BR-STP/HIP-243(98),60103-3203-94

THE CONSTRUCTION OF A CONCRETE I-BEAM BRIDGE ON S.R. 243 (NORTH MAIN STREET) OVER SUGAR CREEK (L.M. 2.06), INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.182 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2025

DBE GOAL 9.00%

TOTAL CONTRACT

Dement Construction Company, LLC

\$5,652,689.71

				CONTRACT CNX338
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES	1.000 LS		
	Dement Construction Company, LLC		\$119,172.1000	\$119,172.10
201-01	CLEARING AND GRUBBING			
	Dement Construction Company, LLC	1.000 LS	\$75,000.0000	\$75,000.00
202-01.13	REMOVAL OF PIPE (24",64+71.29)			
	Dement Construction Company, LLC	43.000 L.F.	\$25.0000	\$1,075.00
202-01.14	REMOVAL OF PIPE (18" ,64+75.79)			
	Dement Construction Company, LLC	34.000 L.F.	\$25.0000	\$850.00
202-04.01	REMOVAL OF STRUCTURES (BILLBOARD, STA. 68+49.85)	1.000 LS		
	Dement Construction Company, LLC	1.000 L3	\$5,000.0000	\$5,000.00
202-04.02	REMOVAL OF STRUCTURES (BILLBOARD, STA. 68+56.08)			
	Dement Construction Company, LLC	1.000 LS	\$5,000.0000	\$5,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Dement Construction Company, LLC	182.000 C.Y.	\$60.0000	\$10,920.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
	Dement Construction Company, LLC	3,773.000 C.Y.	\$30.0000	\$113,190.00
203-04	PLACING AND SPREADING TOPSOIL			
	Dement Construction Company, LLC	143.000 C.Y.	\$30.0000	\$4,290.00
203-06	WATER			
	Dement Construction Company, LLC	16.000 M.G.	\$60.0000	\$960.00
203-07	FURNISHING & SPREADING TOPSOIL			
	Dement Construction Company, LLC	324.000 C.Y.	\$40.0000	\$12,960.00
203-50	CONSTRUCTION OF HAUL ROAD	4		
	Dement Construction Company, LLC	1.000 LS	\$275,000.0000	\$275,000.00

			UNIT PRICE	CONTRACT CNX338  EXTENSION
209-05	SEDIMENT REMOVAL			
	Dement Construction Company, LLC	32.000 C.Y.	\$35.0000	\$1,120.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	Dement Construction Company, LLC	470.000 L.F.	\$5.7500	\$2,702.50
209-08.07	ROCK CHECK DAM			
	Dement Construction Company, LLC	13.000 EACH	\$300.0000	\$3,900.00
209-08.08	ENHANCED ROCK CHECK DAM			
	Dement Construction Company, LLC	7.000 EACH	\$600.0000	\$4,200.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	Dement Construction Company, LLC	3.000 EACH	\$500.0000	\$1,500.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
	Dement Construction Company, LLC	600.000 L.F.	\$50.0000	\$30,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Dement Construction Company, LLC	2,694.000 TON	\$36.2500	\$97,657.50
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Dement Construction Company, LLC	478.000 TON	\$60.0000	\$28,680.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M	12		
	Dement Construction Company, LLC	12.000 TON	\$325.0000	\$3,900.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
	Dement Construction Company, LLC	900.000 TON	\$150.0000	\$135,000.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M	12		
	Dement Construction Company, LLC	452.000 TON	\$180.0000	\$81,360.00

7.000 TON

402-01

**BITUMINOUS MATERIAL FOR PRIME COAT (PC)** 

Dement Construction Company, LLC

\$6,825.00

\$975.0000

				CONTRACT CNX338
			UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Dement Construction Company, LLC	23.000 TON	\$62.7500	\$1,443.25
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Dement Construction Company, LLC	4.000 TON	\$865.0000	\$3,460.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Dement Construction Company, LLC	8.000 TON	\$190.0000	\$1,520.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Dement Construction Company, LLC	265.000 TON	\$215.0000	\$56,975.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	Dement Construction Company, LLC	34.000 L.F.	\$45.0000	\$1,530.00
607-39.03	24" PIPE CULVERT (SIDE DRAIN)			
	Dement Construction Company, LLC	34.000 L.F.	\$57.0000	\$1,938.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Dement Construction Company, LLC	5.000 EACH	\$1,838.0000	\$9,190.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	Dement Construction Company, LLC	804.000 L.F.	\$29.4700	\$23,693.88
705-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
	Dement Construction Company, LLC	1.000 EACH	\$1,041.0000	\$1,041.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Dement Construction Company, LLC	5.000 EACH	\$3,253.0000	\$16,265.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	Dement Construction Company, LLC	4.000 EACH	\$2,050.0000	\$8,200.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	Dement Construction Company, LLC	1.000 EACH	\$2,864.0000	\$2,864.00

			UNIT PRICE	CONTRACT CNX338  EXTENSION
706-01	GUARDRAIL REMOVED			
	Dement Construction Company, LLC	604.000 L.F.	\$1.0000	\$604.00
706-06.03	RADIUS RAIL			
	Dement Construction Company, LLC	82.000 L.F.	\$35.6600	\$2,924.12
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Dement Construction Company, LLC	670.000 L.F.	\$2.0000	\$1,340.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
	Dement Construction Company, LLC	17.000 EACH	\$450.0000	\$7,650.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Dement Construction Company, LLC	424.000 TON	\$60.0000	\$25,440.00
709-05.09	MACHINED RIP-RAP (CLASS C)			
	Dement Construction Company, LLC	1,375.000 TON	\$60.0000	\$82,500.00
712-01	TRAFFIC CONTROL			
	Dement Construction Company, LLC	1.000 LS	\$28,150.0000	\$28,150.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Dement Construction Company, LLC	20.000 EACH	\$30.0000	\$600.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Dement Construction Company, LLC	6.000 EACH	\$30.0000	\$180.00
712-06	SIGNS (CONSTRUCTION)			
	Dement Construction Company, LLC	245.000 S.F.	\$8.5000	\$2,082.50
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Dement Construction Company, LLC	60.000 L.F.	\$26.0000	\$1,560.00

6.000 EACH

713-16.01 CHANGEABLE MESSAGE SIGN UNIT

Dement Construction Company, LLC

\$32,340.00

\$5,390.0000

				CONTRACT CNX338
			UNIT PRICE	EXTENSION
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(1 COLOR)		
	Dement Construction Company, LLC	50.000 EACH	\$150.0000	\$7,500.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-D	DIR)(1 COLOR)		
	Dement Construction Company, LLC	15.000 EACH	\$150.0000	\$2,250.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Dement Construction Company, LLC	20.000 EACH	\$50.0000	\$1,000.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Dement Construction Company, LLC	1.900 L.M.	\$1,800.0000	\$3,420.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Dement Construction Company, LLC	0.800 L.M.	\$10,000.0000	\$8,000.00
717-01	MOBILIZATION			
	Dement Construction Company, LLC	1.000 LS	\$575,000.0000	\$575,000.00
740-07.04	GEOGRID REINFORCEMENT TYPE 2			
	Dement Construction Company, LLC	560.000 S.Y.	\$15.0000	\$8,400.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)	450 000 O.V		
	Dement Construction Company, LLC	152.000 S.Y.	\$5.0000	\$760.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	Dement Construction Company, LLC	350.000 S.Y.	\$6.0000	\$2,100.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN			
	Dement Construction Company, LLC	2,030.000 L.F.	\$3.7500	\$7,612.50
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Dement Construction Company, LLC	5.000 UNIT	\$200.0000	\$1,000.00
801-01.35	GRASS SEED MIX (RIPZN/FLPL) W/MULCH			
	Dement Construction Company, LLC	6.000 UNIT	\$300.0000	\$1,800.00

			UNIT PRICE	CONTRACT CNX338 EXTENSION
801-02	SEEDING (WITHOUT MULCH)			
	Dement Construction Company, LLC	33.000 UNIT	\$100.0000	\$3,300.00
801-03	WATER (SEEDING & SODDING)			
	Dement Construction Company, LLC	10.000 M.G.	\$100.0000	\$1,000.00
802-12.53	QUERCUS PAGODA (CHERRYBARK OAK SEEDLING B.R.)			
	Dement Construction Company, LLC	16.000 EACH	\$20.0000	\$320.00
802-13.54	CORNUS AMOMUM (SILKY DOGWOOD SDLNG BARE ROOT)			
	Dement Construction Company, LLC	16.000 EACH	\$20.0000	\$320.00
802-13.60	SAMBUCUS CANADENSIS ( ELDERBERRY SDLNG BARE ROOT)			
	Dement Construction Company, LLC	16.000 EACH	\$20.0000	\$320.00
802-16.01	SALIX NIGRA (BLACK WILLOW 3FT LIVE STAKES)			
	Dement Construction Company, LLC	14.000 EACH	\$50.0000	\$700.00
803-01	SODDING (NEW SOD)			
	Dement Construction Company, LLC	1,550.000 S.Y.	\$6.0000	\$9,300.00

3,700.000 S.Y.

805-12.01 EROSION CONTROL BLANKET (TYPE I)

Dement Construction Company, LLC

\$4,255.00

\$1.1500

**EXTENSION** 

UNIT PRICE

BRIDGE CATEGORY		UNIT PRICE	EXTENSION
202-04.01 REMOVAL OF STRUCTURES (EXIST. BR. NO. 60-SR243-2.06			
Dement Construction Company, LLC	1.000 LS	\$499,975.0000	\$499,975.00
204-02.01 DRY EXCAVATION (BRIDGES)			
Dement Construction Company, LLC	268.000 C.Y.	\$35.0000	\$9,380.00
204-03.01 WET EXCAVATION (BRIDGES)			
Dement Construction Company, LLC	128.000 C.Y.	\$60.0000	\$7,680.00
204-04.01 ROCK EXCAVATION (BRIDGES)			
Dement Construction Company, LLC	48.000 C.Y.	\$55.0000	\$2,640.00
204-05 ROCK DRILLING (BRIDGES)	20.222.1.5		
Dement Construction Company, LLC	36.000 L.F.	\$35.0000	\$1,260.00
204-10.01 FOUNDATION PREPARATION(BENT NO. 1 STA. 67+55.00)	4 000 1 0		
Dement Construction Company, LLC	1.000 LS	\$110,000.0000	\$110,000.00
204-10.02 FOUNDATION PREPARATION(BENT NO. 2 STA. 68+07.00)	1.000 LS		
Dement Construction Company, LLC	1.000 LS	\$110,000.0000	\$110,000.00
204-14 CORE DRILLING FOR PILES(ROCK)	75 000 1 5		
Dement Construction Company, LLC	75.000 L.F.	\$350.0000	\$26,250.00
204-15 CORE DRILLING FOR PILES(SOIL)	07.000   5		
Dement Construction Company, LLC	27.000 L.F.	\$350.0000	\$9,450.00
303-01.02 GRANULAR BACKFILL (BRIDGES)			
Dement Construction Company, LLC	46.000 TON	\$125.0000	\$5,750.00
604-02.03 EPOXY COATED REINFORCING STEEL	00 745 000 LB		
Dement Construction Company, LLC	80,745.000 LB.	\$1.5500	\$125,154.75
604-03.01 CLASS A CONCRETE (BRIDGES)	200 200 0 7		
Dement Construction Company, LLC	200.000 C.Y.	\$1,170.0000	\$234,000.00

			UNIT PRICE	CONTRACT CNX338 EXTENSION
604-03.02	STEEL BAR REINFORCEMENT (BRIDGES)			
	Dement Construction Company, LLC	37,590.000 LB.	\$1.4500	\$54,505.50
604-03.04	PAVEMENT @ BRIDGE ENDS			
	Dement Construction Company, LLC	235.000 S.Y.	\$450.0000	\$105,750.00
604-03.09	CLASS D CONCRETE (BRIDGE DECK)			
	Dement Construction Company, LLC	208.000 C.Y.	\$1,270.0000	\$264,160.00
604-04.01	APPLIED TEXTURE FINISH (NEW STRUCTURES)			
	Dement Construction Company, LLC	822.000 S.Y.	\$8.9500	\$7,356.90
604-04.41	THREE STAR STATE EMBLEM			
	Dement Construction Company, LLC	4.000 EACH	\$2,000.0000	\$8,000.00
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
	Dement Construction Company, LLC	959.000 S.Y.	\$3.1900	\$3,059.21
606-02.03	STEEL PILES (10 INCH)			
	Dement Construction Company, LLC	260.000 L.F.	\$80.0000	\$20,800.00
606-02.06	PILE TIPS (STEEL PILES, 10 INCH)			
	Dement Construction Company, LLC	20.000 EACH	\$300.0000	\$6,000.00
615-01.02	PRESTRESSED CONCRETE I-BEAM (TYPE II)			
	Dement Construction Company, LLC	758.000 L.F.	\$290.0000	\$219,820.00
620-06	CONCRETE RAILING			
	Dement Construction Company, LLC	369.000 L.F.	\$275.0000	\$101,475.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM			
	Dement Construction Company, LLC	132.000 L.F.	\$75.0000	\$9,900.00
710-09.02	6" PIPE UNDERDRAIN			
	Dement Construction Company, LLC	28.000 L.F.	\$25.0000	\$700.00

		C UNIT PRICE	EXTENSION
UTILITY CATEGORY		• • • • • • • • • • • • • • • • • • •	
790-02.07 POLE 35FT CLASS 2 METAL			
Dement Construction Company, LLC	1.000 EACH	\$5,000.0000	\$5,000.00
790-04.06 POLE 45FT CLASS 1 METAL			
Dement Construction Company, LLC	1.000 EACH	\$6,000.0000	\$6,000.00
790-04.07 POLE 45FT CLASS 2 METAL			
Dement Construction Company, LLC	2.000 EACH	\$6,000.0000	\$12,000.00
790-05.05 POLE 50FT CLASS 1 METAL			
Dement Construction Company, LLC	1.000 EACH	\$7,000.0000	\$7,000.00
790-05.06 POLE 50FT CLASS 2 METAL			
Dement Construction Company, LLC	3.000 EACH	\$6,500.0000	\$19,500.00
790-20.01 POLE(35FT CLASS 2 METAL)			
Dement Construction Company, LLC	2.000 EACH	\$5,000.0000	\$10,000.00
790-20.02 POLE(40FT CLASS 4 METAL)			
Dement Construction Company, LLC	2.000 EACH	\$5,000.0000	\$10,000.00
790-20.03 POLE(75FT CLASS 1 METAL)			
Dement Construction Company, LLC	1.000 EACH	\$15,000.0000	\$15,000.00
790-20.30 TOP EXISTING POLE	0.000 54.011		
Dement Construction Company, LLC	8.000 EACH	\$100.0000	\$800.00
790-21.11 1PH CROSSARM DEADEND 15KV			
Dement Construction Company, LLC	1.000 EACH	\$800.0000	\$800.00
790-21.12 1PH CROSSARM DDE 15KV	4 000 54 011		
Dement Construction Company, LLC	1.000 EACH	\$1,000.0000	\$1,000.00
790-25.37 3PH 8FT FIBERGLASS CROSSARM DEADEND 15kV	2 000 54 611		
	3.000 EACH	Фо 500 0000	<b>#7.500.00</b>

Dement Construction Company, LLC

\$7,500.00

\$2,500.0000

			UNIT PRICE	CONTRACT CNX338 EXTENSION
790-25.40	3PH 10FT FIBERGLASS DOUBLE DEADEND 15kV			
	Dement Construction Company, LLC	3.000 EACH	\$2,500.0000	\$7,500.00
790-25.43	3PH FIBERGLASS DOUBLE 10FT LARGE CONDUCTOR 15kV			
	Dement Construction Company, LLC	3.000 EACH	\$3,300.0000	\$9,900.00
790-25.44	3PH FIBERGLASS DOUBLE DEADEND 15kV			
	Dement Construction Company, LLC	1.000 EACH	\$5,500.0000	\$5,500.00
790-30.03	SECONDARY ASSEMBLIES DEADEND			
	Dement Construction Company, LLC	15.000 EACH	\$350.0000	\$5,250.00
790-30.06	SECONDARY CONDUCTOR 6 AL DUPLEX			
	Dement Construction Company, LLC	386.000 L.F.	\$3.0000	\$1,158.00
790-30.26	SECONDARY CONDUCTOR AL QUADRUPLEX			
	Dement Construction Company, LLC	147.000 L.F.	\$12.0000	\$1,764.00
790-32.03	DOWN GUY - THROUGH BOLT ST PL			
	Dement Construction Company, LLC	18.000 EACH	\$250.0000	\$4,500.00
790-32.07	OH GUY - THROUGH BOLT TYPE			
	Dement Construction Company, LLC	3.000 EACH	\$650.0000	\$1,950.00
790-32.23	GUY GUARD			
	Dement Construction Company, LLC	16.000 EACH	\$50.0000	\$800.00
790-32.29	DOWN GUY HEAVY CONSTRUCTION - PREFORM			
	Dement Construction Company, LLC	2.000 EACH	\$700.0000	\$1,400.00
790-33.30	SCREW TYPE ANCHOR 16,000LB (F1-2D-P)			
	Dement Construction Company, LLC	10.000 EACH	\$750.0000	\$7,500.00
790-33.31	SCREW TYPE ANCHOR 23,000LB (F1-5D-P)			
	Dement Construction Company, LLC	7.000 EACH	\$850.0000	\$5,950.00

		UNIT PRICE	CONTRACT CNX338  EXTENSION
700 00 00	TRANSFER ATRIVEND AGGENTLY		
790-36.09	TRANSFER - 1TR XFMR ASSEMBLY	2.000 EACH	
	Dement Construction Company, LLC	\$500.0000	\$1,000.00
790-40.03	OH COND 1/0 6/1 ACSR RAVEN		
	Dement Construction Company, LLC	<b>333.000 L.F.</b> \$3.5000	\$1,165.50
790-40.05	OH COND 3/0 6/1 ACSR PIGEON		
	Dement Construction Company, LLC	<b>1,279.000 L.F.</b> \$4.0000	\$5,116.00
790-40.09	OH COND 336.4 18/1 ACSR MERLIN		
	Dement Construction Company, LLC	<b>3,837.000 L.F.</b> \$5.0000	\$19,185.00
790-40.49	OH COND 795 37 AAC ARBUTUS		
	Dement Construction Company, LLC	<b>96.000 L.F.</b> \$7.0000	\$672.00
790-40.73	OH PRI COND	_	
	Dement Construction Company, LLC	<b>1,053.000 L.F.</b> \$2.5000	\$2,632.50
790-41.49	UG SEC COND 4/0 AL TPLX		
	Dement Construction Company, LLC	<b>60.000 L.F.</b> \$12.0000	\$720.00
790-42.09	3IN DIA PVC PIPE		
	Dement Construction Company, LLC	<b>160.000 L.F.</b> \$15.0000	\$2,400.00
790-42.16	1 DUCT @ 36IN-48IN DEPTH		
	Dement Construction Company, LLC	<b>15.000 L.F.</b> \$42.0000	\$630.00
790-43.46	SECONDARY PULLBOX LARGE		
	Dement Construction Company, LLC	<b>1.000 EACH</b> \$1,750.0000	\$1,750.00
790-43.51	SECONDARY RISER W/ 3IN CONDUIT		
	Dement Construction Company, LLC	1.000 EACH \$2,000.0000	\$2,000.00

1.000 EACH

790-49.01 3PH XFMR BNK POLE MTD NO FUSE/ARRESTERS

Dement Construction Company, LLC

\$500.00

\$500.0000

			UNIT PRICE	CONTRACT CNX338 EXTENSION
790-52.03	10KVA 1PH OH XFORMER 7.2KV 120/240			
	Dement Construction Company, LLC	3.000 EACH	\$800.0000	\$2,400.00
790-52.04	15KVA 1PH OH XFORMER 7.2KV 120/240			
	Dement Construction Company, LLC	1.000 EACH	\$1,750.0000	\$1,750.00
790-58.05	GOLB SWITCH 15KV			
	Dement Construction Company, LLC	1.000 EACH	\$1,500.0000	\$1,500.00
790-60.06	1PH SECTLR OR RECL W/ BYPASS SW 15KV			
	Dement Construction Company, LLC	1.000 EACH	\$1,500.0000	\$1,500.00
790-68.10	MISCELLANEOUS ASSEMBLIES			
	Dement Construction Company, LLC	14.000 EACH	\$400.0000	\$5,600.00
790-68.11	DEAD END SHOE			
	Dement Construction Company, LLC	3.000 EACH	\$125.0000	\$375.00
790-68.21	SEC METERING GUIDE 3-PH 120/208V 4 W GND			
	Dement Construction Company, LLC	1.000 EACH	\$5,000.0000	\$5,000.00
790-69.11	GROUND-GROUND ROD FOR ST POLE			
	Dement Construction Company, LLC	13.000 EACH	\$300.0000	\$3,900.00
790-69.18	GND ASSY GOLB ON ST POLE			
	Dement Construction Company, LLC	1.000 EACH	\$2,250.0000	\$2,250.00
790-69.28	EXTENSION LINK - EPOXY -6FT			
	Dement Construction Company, LLC	2.000 EACH	\$150.0000	\$300.00
790-69.32	ARM PIN			
	Dement Construction Company, LLC	19.000 EACH	\$150.0000	\$2,850.00
790-70.20	STREET LIGHT (70W LED)			
	Dement Construction Company, LLC	7.000 EACH	\$2,500.0000	\$17,500.00

			UNIT PRICE	EXTENSION
790-71.20 <sup>-</sup>	TANGENT HOR LN POSTS 69KV MAX			
ı	Dement Construction Company, LLC	1.000 EACH	\$4,000.0000	\$4,000.00
790-98.01 l	REMOVE WIRE			
ī	Dement Construction Company, LLC	6,695.000 L.F.	\$3.0000	\$20,085.00
790-98.02 I	REMOVE POLES	0.000 FACU		
I	Dement Construction Company, LLC	9.000 EACH	\$900.0000	\$8,100.00
790-98.03 I	REMOVE FRAMING/ASSOCIATED APPARATUS	77.000 EACH		
I	Dement Construction Company, LLC	77.000 EACH	\$550.0000	\$42,350.00
790-98.20	TREE AND BRUSH REMOVAL OFF ROW	1.000 LS		
I	Dement Construction Company, LLC	1.000 LS	\$10,000.0000	\$10,000.00
791-02.04	4IN MDPE GAS MAIN	270.000   5		
I	Dement Construction Company, LLC	370.000 L.F.	\$225.0000	\$83,250.00
791-04.13 I	HDD 4IN PE PIPE - ROCK	205 200 L 5		
I	Dement Construction Company, LLC	395.000 L.F.	\$300.0000	\$118,500.00
791-06.02	CONNECT TO 2IN EX. PE MAIN	2.000 EACH		
I	Dement Construction Company, LLC	2.000 EACH	\$4,500.0000	\$9,000.00
791-06.03	CONNECT TO 4IN EX. PE MAIN	2 000 54 CU		
I	Dement Construction Company, LLC	2.000 EACH	\$4,500.0000	\$9,000.00
791-06.52	4IN PE HOT TAP CONNECTION	4 000 54 011		
I	Dement Construction Company, LLC	1.000 EACH	\$20,000.0000	\$20,000.00
791-07.02	4IN PE GAS VALVE ASSEMBLY	5.000 EACH		
ī	Dement Construction Company, LLC		\$4,500.0000	\$22,500.00
791-10.04 I	RETIRE IN PLACE 2IN SERV CUT & PLUG	0.000 54 011		
		2.000 EACH		

Dement Construction Company, LLC

\$13,000.00

\$6,500.0000

			UNIT PRICE	CONTRACT CNX338 EXTENSION
791-10.05	RETIRE IN PLACE 4IN SERV CUT & PLUG			
	Dement Construction Company, LLC	2.000 EACH	\$6,500.0000	\$13,000.00
793-01.12	POLE 40FT CLASS 4 WOOD			
	Dement Construction Company, LLC	1.000 EACH	\$3,160.0000	\$3,160.00
793-98.04	REMOVE POLES ALL SIZES			
	Dement Construction Company, LLC	1.000 EACH	\$500.0000	\$500.00
795-01.05	8IN DIP RESTRAINED JOINT WATER LINE			
	Dement Construction Company, LLC	20.000 L.F.	\$215.0000	\$4,300.00
795-01.13	16IN DIP RESTRAINED JOINT WATER LINE			
	Dement Construction Company, LLC	500.000 L.F.	\$363.0000	\$181,500.00
795-05.23	HDD 18IN HDPE CASING PIPE-ROCK			
	Dement Construction Company, LLC	350.000 L.F.	\$1,800.0000	\$630,000.00
795-06.05	CONNECT TO 8IN WATER LINE			
	Dement Construction Company, LLC	2.000 EACH	\$7,500.0000	\$15,000.00
795-06.34	CUT AND CAP 8IN WATER LINE			
	Dement Construction Company, LLC	2.000 EACH	\$2,500.0000	\$5,000.00
795-08.05	8IN GATE VALVE ASSEMBLY			
	Dement Construction Company, LLC	6.000 EACH	\$4,000.0000	\$24,000.00
795-08.14	16IN GATE VALVE ASSEMBLY			
	Dement Construction Company, LLC	2.000 EACH	\$8,000.0000	\$16,000.00
795-09.08	8IN WATER SERVICE METER ASSEMBLY			
	Dement Construction Company, LLC	1.000 EACH	\$67,000.0000	\$67,000.00
795-12.08	REMOVE WATER METER			
	Dement Construction Company, LLC	1.000 EACH	\$300.0000	\$300.00

CONTRACT C	NX33
------------	------

		-	TITIO OTTAGOO
		UNIT PRICE	EXTENSION
795-13.01 DI FITTINGS			
Dement Construction Company, LLC	4,000.000 LB.	\$10.0000	\$40,000.00
795-14.07 CONCRETE VAULT			
Dement Construction Company, LLC	1.000 EACH	\$100,000.0000	\$100,000.00
795-15.10 30IN STEEL CASING PIPE OPEN CUT METHOD			
Dement Construction Company, LLC	40.000 L.F.	\$850.0000	\$34,000.00
797-07.60 ADJUST EXISTING MANHOLE			
Dement Construction Company, LLC	3.000 EACH	\$3,500.0000	\$10,500.00
797-07.61 ADJUST EXISTING MANHOLE (GREATER THAN 12 INCHES)			
Dement Construction Company, LLC	1.000 EACH	\$3,000.0000	\$3,000.00

Dement Construction Company, LLC	\$1,972,110.35
SUB-TOTAL BRIDGE	
Dement Construction Company, LLC	\$1,943,066.36
SUB-TOTAL UTILITY	
Dement Construction Company, LLC	\$1,737,513.00
TOTAL CONTRACT	
Dement Construction Company, LLC	\$5,652,689.71

#### MONROE COUNTY (Contract No. CNX339 Call 039)

62S360-M3-004

THE CONSTRUCTION OF A CONCRETE BOX CULVERT ON S.R. 360 (L.M. 17.8), INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.056 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2024

TOTAL CONTRACT

Pave Grade & Aggregate, Inc

\$2,685,454.25

ROADWAY CATEGORY		UNIT PRICE	EXTENSION
105-01 CONSTRUCTION STAKES, LINES AND GRADES			
Pave Grade & Aggregate, Inc	1.000 LS	\$15,000.0000	\$15,000.00
201-01 CLEARING AND GRUBBING	1.000 LS		
Pave Grade & Aggregate, Inc		\$30,000.0000	\$30,000.00
203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	4,445.000 C.Y.		
Pave Grade & Aggregate, Inc	,,	\$38.7500	\$172,243.75
203-02.02 BORROW EXCAVATION (GRADED SOLID ROCK)	2,779.000 C.Y.		\$416,850.00
Pave Grade & Aggregate, Inc	2,773.000 0.11.	\$150.0000	
203-02.05 BORROW EXCAVATION (SOIL)	5.000 C.Y.		
Pave Grade & Aggregate, Inc	5.000 C.1.	\$130.0000	\$650.00
203-06 WATER			
Pave Grade & Aggregate, Inc	10.000 M.G.	\$100.0000	\$1,000.00
203-07 FURNISHING & SPREADING TOPSOIL			
Pave Grade & Aggregate, Inc	31.000 C.Y.	\$125.0000	\$3,875.00
204-10.30 FOUNDATION PREPARATION (INLET)	1.000 LS		
Pave Grade & Aggregate, Inc	1.000 E3	\$610,000.0000	\$610,000.00
204-10.31 FOUNDATION PREPARATION (OUTLET)	1.000 LS		
Pave Grade & Aggregate, Inc	1.500 25	\$610,000.0000	\$610,000.00
209-03.21 FILTER SOCK (12 INCH)	325.000 L.F.		
Pave Grade & Aggregate, Inc	325.000 L.F.	\$30.0000	\$9,750.00
209-05 SEDIMENT REMOVAL	04 000 O V		
Pave Grade & Aggregate, Inc	24.000 C.Y.	\$25.0000	\$600.00
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)	180.000 L.F.		
Pave Grade & Aggregate, Inc	100.000 E.I .	\$8.0000	\$1,440.00

				CONTRACT CNX339
			UNIT PRICE	EXTENSION
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	Pave Grade & Aggregate, Inc	4.000 EACH	\$1,000.0000	\$4,000.00
209-13.04	TURBIDITY CURTAIN(TYPE 1)			
	Pave Grade & Aggregate, Inc	I,114.000 L.F.	\$75.0000	\$83,550.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Pave Grade & Aggregate, Inc	622.000 TON	\$56.0000	\$34,832.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Pave Grade & Aggregate, Inc	791.000 TON	\$75.0000	\$59,325.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Pave Grade & Aggregate, Inc	126.000 TON	\$265.0000	\$33,390.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
	Pave Grade & Aggregate, Inc	83.000 TON	\$360.0000	\$29,880.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Pave Grade & Aggregate, Inc	1.000 TON	\$625.0000	\$625.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Pave Grade & Aggregate, Inc	1.000 TON	\$1,650.0000	\$1,650.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Pave Grade & Aggregate, Inc	59.000 TON	\$525.0000	\$30,975.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH	)		
	Pave Grade & Aggregate, Inc	0.200 L.M.	\$30,725.0000	\$6,145.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Pave Grade & Aggregate, Inc	10.000 TON	\$1,750.0000	\$17,500.00

4.000 EACH

705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN

Pave Grade & Aggregate, Inc

\$1,460.00

\$365.0000

NIT DDICE	EVTENCION

		UNIT PRICE	EXTENSION
705-06.02 W BEAM GR (TYPE 2) MASH TL-3 (LONG POST)	402 000 L E		
Pave Grade & Aggregate, Inc	492.000 L.F.	\$50.0000	\$24,600.00
706-01 GUARDRAIL REMOVED	100.000 L.F.		
Pave Grade & Aggregate, Inc		\$7.0000	\$700.00
709-05.05 MACHINED RIP-RAP (CLASS A-3)	400 000 TON		
Pave Grade & Aggregate, Inc	100.000 TON	\$100.0000	\$10,000.00
712-01 TRAFFIC CONTROL			
Pave Grade & Aggregate, Inc	1.000 LS	\$50,000.0000	\$50,000.00
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL			
Pave Grade & Aggregate, Inc	990.000 L.F.	\$100.0000	\$99,000.00
712-02.60 TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)			
Pave Grade & Aggregate, Inc	4.000 EACH	\$8,000.0000	\$32,000.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
Pave Grade & Aggregate, Inc	50.000 EACH	\$50.0000	\$2,500.00
712-04.50 BARRIER RAIL DELINEATOR			
Pave Grade & Aggregate, Inc	51.000 EACH	\$25.0000	\$1,275.00
712-05.01 WARNING LIGHTS (TYPE A)			
Pave Grade & Aggregate, Inc	8.000 EACH	\$100.0000	\$800.00
712-06 SIGNS (CONSTRUCTION)			
Pave Grade & Aggregate, Inc	835.000 S.F.	\$10.0000	\$8,350.00
712-07.03 TEMPORARY BARRICADES (TYPE III)			
Pave Grade & Aggregate, Inc	44.000 L.F.	\$30.0000	\$1,320.00
712-09.04 REMOVABLE PAVEMENT MARKING (STOP LINE)			
Pave Grade & Aggregate, Inc	22.000 L.F.	\$31.0000	\$682.00

				CONTRACT CNX339
			UNIT PRICE	EXTENSION
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
	Pave Grade & Aggregate, Inc	3,192.000 L.F.	\$4.7500	\$15,162.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Pave Grade & Aggregate, Inc	1.000 LS	\$200.0000	\$200.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Pave Grade & Aggregate, Inc	2.000 EACH	\$6,100.0000	\$12,200.00
713-16.20	SIGNS (24"x30",W1-8L, CHEVRON ALIGNMENT SIGN)			
	Pave Grade & Aggregate, Inc	2.000 EACH	\$365.0000	\$730.00
713-16.21	SIGNS (24"x30",W1-8R, CHEVRON ALIGNMENT SIGN)			
	Pave Grade & Aggregate, Inc	2.000 EACH	\$365.0000	\$730.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1			
	Pave Grade & Aggregate, Inc	4.000 EACH	\$200.0000	\$800.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Pave Grade & Aggregate, Inc	2.000 EACH	\$5.2500	\$10.50
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Pave Grade & Aggregate, Inc	0.300 L.M.	\$6,100.0000	\$1,830.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Pave Grade & Aggregate, Inc	0.300 L.M.	\$21,100.0000	\$6,330.00
717-01	MOBILIZATION			
	Pave Grade & Aggregate, Inc	1.000 LS	\$100,000.0000	\$100,000.00
730-40.02	TEMPORARY TRAFFIC SIGNAL SYSTEM			
	Pave Grade & Aggregate, Inc	1.000 LS	\$12,000.0000	\$12,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Pave Grade & Aggregate, Inc	338.000 S.Y.	\$8.0000	\$2,704.00

				CONTRACT CNX339
			UNIT PRICE	EXTENSION
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	Pave Grade & Aggregate, Inc	454.000 S.Y.	\$5.0000	\$2,270.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Pave Grade & Aggregate, Inc	1.000 UNIT	\$1,000.0000	\$1,000.00
801-02	SEEDING (WITHOUT MULCH)			
	Pave Grade & Aggregate, Inc	2.000 UNIT	\$500.0000	\$1,000.00
801-03	WATER (SEEDING & SODDING)			

Pave Grade & Aggregate, Inc

805-12.01 EROSION CONTROL BLANKET (TYPE I)

Pave Grade & Aggregate, Inc

0.200 M.G.

184.000 S.Y.

\$500.0000

\$5.0000

\$100.00

\$920.00

CONTRACT CNX339

UNIT PRICE EXTENSION

**BOX BRIDGE CATEGORY** 

607-50.04 PRECAST CONCRETE BOX CULVERT (10' X 4')

81.000 L.F.

Pave Grade & Aggregate, Inc \$1,500.0000 \$121,500.00

Pave Grade & Aggregate, Inc \$2,563,954.25

## **SUB-TOTAL BOX BRIDGE**

Pave Grade & Aggregate, Inc \$121,500.00

#### **TOTAL CONTRACT**

Pave Grade & Aggregate, Inc \$2,685,454.25

#### OBION COUNTY (Contract No. CNX326 Call 040)

HSIP-431(18),66S431-F3-002

THE MISCELLANEOUS SAFETY IMPROVEMENTS INCLUDING PAVING ON S.R. 431 FROM U.S. 45W (S.R. 5) (L.M. 6.55) TO NEAR THE BRIDGE OVER HOOSIER CREEK (L.M. 7.00).

PROJECT LENGTH - 0.450 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

TOTAL CONTRACT

Ford Construction Company

\$199,530.35

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNX326 EXTENSION
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.	125.000 S.Y.		
	Ford Construction Company		\$114.4000	\$14,300.00
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Ford Construction Company	400.000 S.Y.	\$43.5500	\$17,420.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Ford Construction Company	100.000 TON	\$138.5000	\$13,850.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Ford Construction Company	30.000 TON	\$420.5000	\$12,615.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
	Ford Construction Company	20.000 TON	\$487.2500	\$9,745.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Ford Construction Company	1.000 TON	\$2,956.0000	\$2,956.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Ford Construction Company	1.000 TON	\$1,815.0000	\$1,815.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Ford Construction Company	1.000 TON	\$1,373.0000	\$1,373.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Ford Construction Company	15.000 TON	\$628.0000	\$9,420.00
712-01	TRAFFIC CONTROL			
	Ford Construction Company	1.000 LS	\$14,226.0000	\$14,226.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Ford Construction Company	21.000 L.F.	\$6.0500	\$127.05
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	BE POST		
	Ford Construction Company	377.000 LB.	\$6.0500	\$2,280.85

			(	CONTRACT CNX326
			UNIT PRICE	EXTENSION
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	Ford Construction Company	19.000 S.F.	\$16.5000	\$313.50
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	Ford Construction Company	93. <b>000</b> S.F.	\$17.0500	\$1,585.65
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO			
	Ford Construction Company	52.000 EACH	\$52.8000	\$2,745.60
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1			
	Ford Construction Company	69.000 EACH	\$52.8000	\$3,643.20
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Ford Construction Company	191.000 L.F.	\$22.0000	\$4,202.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Ford Construction Company	134.000 L.F.	\$27.5000	\$3,685.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Ford Construction Company	12.000 EACH	\$264.0000	\$3,168.00
716-03.06	PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
	Ford Construction Company	2.000 EACH	\$1,100.0000	\$2,200.00
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (SEE PLANS)			
	Ford Construction Company	2.000 EACH	\$935.0000	\$1,870.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Ford Construction Company	3.000 L.M.	\$10,010.0000	\$30,030.00
717-01	MOBILIZATION			
	Ford Construction Company	1.000 LS	\$21,347.0000	\$21,347.00
730-01.04	MODIFICATION OF EXISTING TRAFFIC SIGNAL EQUIPMENT			
	Ford Construction Company	1.000 LS	\$1,386.0000	\$1,386.00

			UNIT PRICE	CONTRACT CNX326 EXTENSION
730-08.02	SIGNAL CABLE - 5 CONDUCTOR			
	Ford Construction Company	205.000 L.F.	\$3.3000	\$676.50
730-12.02	CONDUIT 2" DIAMETER (PVC SCHEDULE 40)			
	Ford Construction Company	205.000 L.F.	\$30.8000	\$6,314.00
730-15.11	MODIFY CABINET (SEE PLANS)			
	Ford Construction Company	1.000 EACH	\$2,024.0000	\$2,024.00
730-26.04	AUDIBLE PEDESTRIAN SIGNAL	2.000 EACH		
	Ford Construction Company		\$2,046.0000	\$4,092.00
730-26.09	PEDESTRIAN PUSHBUTTON WITH 15IN SIGN	2.000 EACH		
	Ford Construction Company		\$1,364.0000	\$2,728.00
730-26.10	PEDESTRIAN SIGNAL HEAD W/PUSHBUTTON & 15IN SIGN	0.000 54.00		
	Ford Construction Company	2.000 EACH	\$2,376.0000	\$4,752.00

400.000 S.Y.

\$6.6000

803-01

SODDING (NEW SOD)

Ford Construction Company

\$2,640.00

Ford Construction Company \$199,530.35

#### **TOTAL CONTRACT**

Ford Construction Company \$199,530.35

#### RHEA COUNTY (Contract No. CNX348 Call 042)

HSIP-7200(33),72945-3495-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 4.00%

TOTAL CONTRACT
Highway Markings, Inc. \$398,497.80

 Volunteer Paving, LLC
 \$429,127.21

 LU, Inc.
 \$436,039.70

Superior Traffic Control, LLC \$455,419.85

		Co	ONTRACT CNX348
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT			
	15.000 EACH		
Highway Markings, Inc.		\$2,475.0000	\$37,125.00
Volunteer Paving, LLC		\$1,890.0000	\$28,350.00
LU, Inc.		\$1,800.0000	\$27,000.00
Superior Traffic Control, LLC		\$4,000.0000	\$60,000.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT			
	1,080.000 L.F.		
Highway Markings, Inc.		\$6.7500	\$7,290.00
Volunteer Paving, LLC		\$5.4600	\$5,896.80
LU, Inc.		\$5.2000	\$5,616.00
Superior Traffic Control, LLC		\$6.5000	\$7,020.00
705-06.01 W BEAM GR (TYPE 2) MASH TL-3			
	300.000 L.F.		
Highway Markings, Inc.		\$34.5000	\$10,350.00
Volunteer Paving, LLC		\$41.0100	\$12,303.00
LU, Inc.		\$39.0600	\$11,718.00
Superior Traffic Control, LLC		\$48.0000	\$14,400.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	15.000 EACH		
Highway Markings, Inc.		\$2,925.0000	\$43,875.00
Volunteer Paving, LLC		\$3,213.0000	\$48,195.00
LU, Inc.		\$3,060.0000	\$45,900.00
Superior Traffic Control, LLC		\$5,000.0000	\$75,000.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Highway Markings, Inc.		\$15,000.0000	\$15,000.00
Volunteer Paving, LLC		\$18,000.0000	\$18,000.00
LU, Inc.		\$27,000.0000	\$27,000.00
Superior Traffic Control, LLC		\$7,250.0000	\$7,250.00
713-02.11 REMOVAL OF EXISTING DELINEATORS			
	43.000 EACH		
Highway Markings, Inc.		\$10.0000	\$430.00
Volunteer Paving, LLC		\$69.6700	\$2,995.81
LU, Inc.		\$60.5900	\$2,605.37
Superior Traffic Control, LLC		\$10.0000	\$430.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
	190.000 EACH		
		A 4 = 0000	A0 ==0 ==

Highway Markings, Inc.

Volunteer Paving, LLC

Superior Traffic Control, LLC

LU, Inc.

\$8,550.00

\$13,237.30 \$11,512.10

\$12,350.00

\$45.0000

\$69.6700

\$60.5900

\$65.0000

	UNIT PRICE	EXTENSION
713-02.20 ROADSIDE OBSTACLE DELINEATION		
388.000 S.F	F.	
Highway Markings, Inc.	\$12.5000	\$4,850.00
Volunteer Paving, LLC	\$35.1700	\$13,645.96
LU, Inc.	\$30.5900	\$11,868.92
Superior Traffic Control, LLC	\$32.0000	\$12,416.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT		
966.000 L.F	F.	
Highway Markings, Inc.	\$5.7500	\$5,554.50
Volunteer Paving, LLC	\$7.5700	\$7,312.62
LU, Inc.	\$6.5900	\$6,365.94
Superior Traffic Control, LLC	\$6.2500	\$6,037.50
713-11.01 "U" SECTION STEEL POSTS		
2,418.000 LB	3.	
Highway Markings, Inc.	\$5.0000	\$12,090.00
Volunteer Paving, LLC	\$6.1900	\$14,967.42
LU, Inc.	\$5.3800	\$13,008.84
Superior Traffic Control, LLC	\$5.7500	\$13,903.50
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
4,643.000 LB	3.	
Highway Markings, Inc.	\$5.2500	\$24,375.75
Volunteer Paving, LLC	\$7.6200	\$35,379.66
LU, Inc.	\$6.6300	\$30,783.09
Superior Traffic Control, LLC	\$5.9500	\$27,625.85
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
529.000 S.F	F.	
Highway Markings, Inc.	\$16.2500	\$8,596.25
Volunteer Paving, LLC	\$17.0200	\$9,003.58
LU, Inc.	\$14.8000	\$7,829.20
Superior Traffic Control, LLC	\$17.0000	\$8,993.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
1,213.000 S.F	F.	
Highway Markings, Inc.	\$16.8500	\$20,439.05
Volunteer Paving, LLC	\$18.4000	\$22,319.20
LU, Inc.	\$16.0000	\$19,408.00
Superior Traffic Control, LLC	\$19.0000	\$23,047.00
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
108.000 EA	ACH	
Highway Markings, Inc.	\$20.0000	\$2,160.00
Volunteer Paving, LLC	\$69.6700	\$7,524.36
LU, Inc.	\$60.5900	\$6,543.72
Superior Traffic Control, LLC	\$10.0000	\$1,080.00

			UNIT PRICE	EXTENSION
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (I	BI-DIR)(2 COLOR)		
		1,020.000 EACH		
	Highway Markings, Inc.		\$34.2500	\$34,935.00
	Volunteer Paving, LLC		\$35.0000	\$35,700.00
	LU, Inc.		\$35.2600	\$35,965.20
	Superior Traffic Control, LLC		\$35.0000	\$35,700.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		450.000 L.F.		
	Highway Markings, Inc.		\$15.0000	\$6,750.00
	Volunteer Paving, LLC		\$25.0000	\$11,250.00
	LU, Inc.		\$25.1900	\$11,335.50
	Superior Traffic Control, LLC		\$10.0000	\$4,500.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		16.000 S.F.		
	Highway Markings, Inc.		\$15.0000	\$240.00
	Volunteer Paving, LLC		\$10.0000	\$160.00
	LU, Inc.		\$10.0800	\$161.28
	Superior Traffic Control, LLC		\$15.0000	\$240.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		62.560 L.M.		
	Highway Markings, Inc.		\$2,225.0000	\$139,196.00
	Volunteer Paving, LLC		\$2,150.0000	\$134,504.00
	LU, Inc.		\$2,166.1300	\$135,513.09
	Superior Traffic Control, LLC		\$2,200.0000	\$137,632.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIE	ER LINE)		
		120.000 L.F.		
	Highway Markings, Inc.		\$1.2500	\$150.00
	Volunteer Paving, LLC		\$2.5000	\$300.00
	LU, Inc.		\$2.5200	\$302.40
	Superior Traffic Control, LLC		\$2.0000	\$240.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTE	D LINE)		
		2,055.000 L.F.		
	Highway Markings, Inc.		\$0.7500	\$1,541.25
	Volunteer Paving, LLC		\$1.5000	\$3,082.50
	LU, Inc.		\$1.5100	\$3,103.05
	Superior Traffic Control, LLC		\$1.0000	\$2,055.00
717-01	MOBILIZATION			
		1.000 LS		
	Highway Markings, Inc.		\$15,000.0000	\$15,000.00
	Volunteer Paving, LLC		\$5,000.0000	\$5,000.00
	LU, Inc.		\$22,500.0000	\$22,500.00
	Superior Traffic Control, LLC		\$5,500.0000	\$5,500.00

Highway Markings, Inc.	\$398,497.80
Volunteer Paving, LLC	\$429,127.21
LU, Inc.	\$436,039.70
Superior Traffic Control, LLC	\$455,419.85

## TOTAL CONTRACT

Highway Markings, Inc.	\$398,497.80
Volunteer Paving, LLC	\$429,127.21
LU, Inc.	\$436,039.70
Superior Traffic Control, LLC	\$455,419.85

ROANE AND SCOTT COUNTIES (Contract No. CNX321 Call 043)

HSIP-REG1(215),R1SVAR-F3-030

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2024

DBE GOAL 7.00%

TOTAL CONTRACT

Southern Constructors, Inc.

\$565,330.00

APAC-Atlantic, Inc.

\$637,216.75

			CC	NTRACT CNX321
ROADWA	NY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	<u> </u>	1.000 LS		
	Southern Constructors, Inc.		\$25,000.0000	\$25,000.00
	APAC-Atlantic, Inc.		\$14,700.0000	\$14,700.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		271.000 S.Y.	Φ=0.000	<b>*</b> 40.0 <b>7</b> 0.00
	Southern Constructors, Inc. APAC-Atlantic, Inc.		\$70.0000 \$72.7500	\$18,970.00 \$19,715.25
202-08.15	REMOVAL OF CURB AND GUTTER (DESCRIPTION)			
		807.000 L.F.		
	Southern Constructors, Inc.		\$50.0000	\$40,350.00
	APAC-Atlantic, Inc.		\$10.4000	\$8,392.80
203-07	FURNISHING & SPREADING TOPSOIL	52.000 C.Y.		
	Southern Constructors, Inc.	32.000 G. 1 .	\$75.0000	\$3,900.00
	APAC-Atlantic, Inc.		\$380.0000	\$19,760.00
701-01.01	CONCRETE SIDEWALK (4 ")			
		2,439.000 S.F.	****	<b>^</b>
	Southern Constructors, Inc. APAC-Atlantic, Inc.		\$30.0000 \$19.3000	\$73,170.00 \$47,072.70
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		5,322.000 S.F.		
	Southern Constructors, Inc. APAC-Atlantic, Inc.		\$42.0000 \$60.0000	\$223,524.00 \$319,320.00
			ψου.σσσ	ψ313,320.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)	56.000 S.F.		
	Southern Constructors, Inc.		\$40.0000	\$2,240.00
	APAC-Atlantic, Inc.		\$85.5000	\$4,788.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Southern Constructors, Inc.	49.000 C.Y.	\$1,200.0000	\$58,800.00
	APAC-Atlantic, Inc.		\$1,065.0000	\$52,185.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Southern Constructors, Inc. APAC-Atlantic, Inc.		\$75,000.0000 \$80,500.0000	\$75,000.00 \$80,500.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		251.000 L.F.		
	Southern Constructors, Inc.		\$12.0000	\$3,012.00
	APAC-Atlantic, Inc.		\$10.0000	\$2,510.00

				CONTRACT CNX321
			UNIT PRICE	EXTENSION
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03	LASTIC FAVENCENT MARKING (STOT LINE)	124.000 L.F.		
	Southorn Constructors Inc	124.000 L.I .	<b>\$46,0000</b>	¢4 004 00
	Southern Constructors, Inc.		\$16.0000 \$15.0000	\$1,984.00 \$1,860.00
	APAC-Atlantic, Inc.		\$15.0000	\$1,860.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
		296.000 L.F.		
	Southern Constructors, Inc.		\$30.0000	\$8,880.00
	APAC-Atlantic, Inc.		\$28.0000	\$8,288.00
717-01	MOBILIZATION			
		1.000 LS		
	Southern Constructors, Inc.		\$28,000.0000	\$28,000.00
	APAC-Atlantic, Inc.		\$54,000.0000	\$54,000.00
801-01	SEEDING (WITH MULCH)			
		5.000 UNIT		

Southern Constructors, Inc.

APAC-Atlantic, Inc.

\$500.0000

\$825.0000

\$2,500.00

\$4,125.00

Southern Constructors, Inc.	\$565,330.00
APAC-Atlantic, Inc.	\$637,216.75

#### **TOTAL CONTRACT**

Southern Constructors, Inc. \$565,330.00 APAC-Atlantic, Inc. \$637,216.75

#### ROBERTSON COUNTY (Contract No. CNX340 Call 044)

74455-3526-04

THE CONSTRUCTION OF A CONCRETE BOX BRIDGE ON EXPERIMENT STATION ROAD OVER WARTRACE CREEK (L.M. 0.61) IN SPRINGFIELD, INCLUDING GRADING, DRAINAGE, AND PAVING.

PROJECT LENGTH - 0.080 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2024

TOTAL CONTRACT

Brown Builders, Inc.
Adams Contracting, LLC

\$821,398.50 \$1,337,063.00

CONTRACT CNX340	CO	NTRAC	T CNX340
-----------------	----	-------	----------

			CC	NTRACT CNX340
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Brown Builders, Inc. Adams Contracting, LLC		\$10,000.0000 \$15,000.0000	\$10,000.00 \$15,000.00
	Adams Contracting, LLC		\$15,000.0000	\$13,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Brown Builders, Inc.		\$25,000.0000	\$25,000.00
	Adams Contracting, LLC		\$10,000.0000	\$10,000.00
202-04.01	REMOVAL OF STRUCTURES (2@ 12'X5' RCSB, S	TA 35+39.56)		
	,	1.000 LS		
	Brown Builders, Inc.		\$21,500.0000	\$21,500.00
	Adams Contracting, LLC		\$50,000.0000	\$50,000.00
202.04	DOAD & DDAINAGE EVCAVATION (LINC) ASSIST	=D)		
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIE	יט= 778.000 C.Y.		
	Brown Builders, Inc.	778.000 C.1.	\$60.0000	\$46,680.00
	Adams Contracting, LLC		\$50.0000	\$38,900.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
	Prous Puildere lee	1,000.000 TON	¢22 5000	\$22.500.00
	Brown Builders, Inc. Adams Contracting, LLC		\$22.5000 \$50.0000	\$22,500.00 \$50,000.00
	,		*******	****
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		233.000 C.Y.		
	Brown Builders, Inc.		\$65.0000 \$70.0000	\$15,145.00 \$16,310.00
	Adams Contracting, LLC		φ/ U.UUUU	\$10,310.00
203-04	PLACING AND SPREADING TOPSOIL			
		118.000 C.Y.		
	Brown Builders, Inc.		\$30.0000	\$3,540.00
	Adams Contracting, LLC		\$40.0000	\$4,720.00
203-05	UNDERCUTTING			
		300.000 C.Y.		
	Brown Builders, Inc.		\$20.0000	\$6,000.00
	Adams Contracting, LLC		\$25.0000	\$7,500.00
203-06	WATER			
203-06	WATER	5.300 M.G.		
	Brown Builders, Inc.	3.300 M.G.	\$100.0000	\$530.00
	Adams Contracting, LLC		\$100.0000	\$530.00
203-50	CONSTRUCTION OF HAUL ROAD			
	Brown Builders, Inc.	1.000 LS	\$100,000.0000	\$100,000.00
	Adams Contracting, LLC		\$250,000.0000	\$250,000.00
	<b>5</b> ,		. ,	PAGE
				FAGE

CONTRACT CN
-------------

			CO	NIRACI CNX340
			UNIT PRICE	EXTENSION
209-05	SEDIMENT REMOVAL			
		28.000 C.Y.		
	Brown Builders, Inc.		\$10.0000	\$280.00
	Adams Contracting, LLC		\$20.0000	\$560.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	,	768.000 L.F.		
	Brown Builders, Inc.		\$6.0000	\$4,608.00
	Adams Contracting, LLC		\$9.0000	\$6,912.00
209-08.08	ENHANCED ROCK CHECK DAM			
		11.000 EACH		
	Brown Builders, Inc.		\$750.0000	\$8,250.00
	Adams Contracting, LLC		\$1,600.0000	\$17,600.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	,	2.000 EACH		
	Brown Builders, Inc.	2.000 2.7011	\$200.0000	\$400.00
	Adams Contracting, LLC		\$1,500.0000	\$3,000.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
		226.000 L.F.		
	Brown Builders, Inc.	220.000 2.11	\$50.0000	\$11,300.00
	Adams Contracting, LLC		\$150.0000	\$33,900.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		795.000 TON		
	Brown Builders, Inc.		\$40.0000	\$31,800.00
	Adams Contracting, LLC		\$50.0000	\$39,750.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		34.000 TON		
	Brown Builders, Inc.		\$55.0000	\$1,870.00
	Adams Contracting, LLC		\$76.0000	\$2,584.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADII	NG B-M2		
		127.000 TON		
	Brown Builders, Inc.		\$250.0000	\$31,750.00
	Adams Contracting, LLC		\$260.0000	\$33,020.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		3.000 TON		
	Brown Builders, Inc.		\$1,800.0000	\$5,400.00
	Adams Contracting, LLC		\$2,000.0000	\$6,000.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		9.000 TON		
	Brown Builders, Inc.		\$85.0000	\$765.00
	Adams Contracting, LLC		\$88.0000	\$792.00

			cc	NTRACT CNX340
			UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		1.000 TON		
	Brown Builders, Inc. Adams Contracting, LLC		\$1,800.0000 \$2,000.0000	\$1,800.00 \$2,000.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	,	115.000 TON		
	Brown Builders, Inc.		\$280.0000	\$32,200.00
	Adams Contracting, LLC		\$300.0000	\$34,500.00
621-03.02	2 18" TEMPORARY DRAINAGE PIPE	50 000 1 5		
	Prove Buildere Inc	50.000 L.F.	\$30.0000	¢1 500 00
	Brown Builders, Inc. Adams Contracting, LLC		\$125.0000	\$1,500.00 \$6,250.00
705-01.04	METAL BEAM GUARD FENCE			
		75.000 L.F.	****	
	Brown Builders, Inc. Adams Contracting, LLC		\$133.5000 \$130.0000	\$10,012.50 \$9,750.00
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT			
		1.000 EACH		
	Brown Builders, Inc. Adams Contracting, LLC		\$1,000.0000 \$2,000.0000	\$1,000.00 \$2,000.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		272.000 L.F.	400 5000	<b>4.7.070.00</b>
	Brown Builders, Inc. Adams Contracting, LLC		\$63.5000 \$58.0000	\$17,272.00 \$15,776.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	Brown Builders, Inc.	4.000 EACH	\$4,250.0000	\$17,000.00
	Adams Contracting, LLC		\$5,300.0000	\$21,200.00
706-01	GUARDRAIL REMOVED			
	Prove Builders Inc	199.000 L.F.	¢4.0000	¢100.00
	Brown Builders, Inc. Adams Contracting, LLC		\$1.0000 \$6.0000	\$199.00 \$1,194.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)	470 000 701		
	Brown Builders, Inc.	178.000 TON	\$55.0000	\$9,790.00
	Adams Contracting, LLC		\$75.0000	\$13,350.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Brown Builders, Inc.	1.000 LS	\$13,500.0000	\$13,500.00
	Adams Contracting, LLC		\$75,000.0000	\$75,000.00

				CONTRACT CNX340
			UNIT PRICE	EXTENSION
712 04 01	ELEVIDI E DDI IMO (CHANNEL IZING)			
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	50.000 EACH		
	Brown Builders, Inc.	00.000 EAGI1	\$30.0000	\$1,500.00
	Adams Contracting, LLC		\$31.0000	\$1,550.00
712.05.01	WARNING LIGHTS (TYPE A)			
712-05.01	WARNING LIGHTS (TTPE A)	4.000 EACH		
	Brown Builders, Inc.	4.000 EAGI1	\$33.0000	\$132.00
	Adams Contracting, LLC		\$33.0000	\$132.00
712-06	SIGNS (CONSTRUCTION)			
712-00	SIGNS (CONSTRUCTION)	633.000 S.F.		
	Brown Builders, Inc.	335,333 5	\$8.5000	\$5,380.50
	Adams Contracting, LLC		\$9.0000	\$5,697.00
712 07 02	TEMPODADY DADDICADES /TYDE III)			
712-07.03	TEMPORARY BARRICADES (TYPE III)	40.000 L.F.		
	Brown Builders, Inc.	101000 =11 1	\$20.0000	\$800.00
	Adams Contracting, LLC		\$21.0000	\$840.00
712 11 01	"U" SECTION STEEL POSTS			
713-11.01	U SECTION STEEL POSTS	224.000 LB.		
	Brown Builders, Inc.	224.000 EB.	\$6.5000	\$1,456.00
	Adams Contracting, LLC		\$7.0000	\$1,568.00
740 44 00	LI DOOT OLID DAOF			
/13-11.22	U POST SLIP BASE	3.000 EACH		
	Brown Builders, Inc.	3.000 EACH	\$375.0000	\$1,125.00
	Adams Contracting, LLC		\$390.0000	\$1,170.00
740.40.00	ELAT OUEET ALLIMINUM OLONG (O 400% THIOK)			
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	45.000 S.F.		
	Brown Builders, Inc.	43.000 S.F.	\$22.0000	\$990.00
	Adams Contracting, LLC		\$22.0000	\$990.00
710.15	DEMONAL OF CIONS DOCTO AND FOOTINGS			
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	1.000 LS		
	Brown Builders, Inc.	1.000 LS	\$350.0000	\$350.00
	Adams Contracting, LLC		\$330.0000	\$330.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	4 000 EACH		
	Brown Builders, Inc.	4.000 EACH	\$8,500.0000	\$34,000.00
	Adams Contracting, LLC		\$8,800.0000	\$35,200.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			

11.000 L.F.

Brown Builders, Inc.

Adams Contracting, LLC

\$577.50

\$605.00

\$52.5000

\$55.0000

				CONTRACT CNX340
			UNIT PRICE	EXTENSION
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	· ,	0.500 L.M.		
	Brown Builders, Inc.		\$3,750.0000	\$1,875.00
	Adams Contracting, LLC		\$3,800.0000	\$1,900.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		0.500 L.M.		
	Brown Builders, Inc.		\$13,000.0000	\$6,500.00
	Adams Contracting, LLC		\$12,500.0000	\$6,250.00
717-01	MOBILIZATION			
		1.000 LS		
	Brown Builders, Inc. Adams Contracting, LLC		\$30,000.0000 \$65,000.0000	\$30,000.00 \$65,000.00
	Adams Contracting, LLC		φου,ουσ.ουσ	φ03,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		428.000 S.Y.		
	Brown Builders, Inc. Adams Contracting, LLC		\$5.5000 \$4.0000	\$2,354.00 \$1,712.00
	Adams Contracting, LLC		φ4.0000	\$1,712.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		800.000 S.Y.		
	Brown Builders, Inc.		\$5.0000	\$4,000.00
	Adams Contracting, LLC		\$4.0000	\$3,200.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN			
		653.000 L.F.		
	Brown Builders, Inc.		\$4.0000	\$2,612.00
	Adams Contracting, LLC		\$9.0000	\$5,877.00
801-01.02	CROWN VETCH MIXTURE (WITH MULCH)			
		3.800 UNIT		
	Brown Builders, Inc.		\$275.0000	\$1,045.00
	Adams Contracting, LLC		\$630.0000	\$2,394.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		15.600 UNIT		
	Brown Builders, Inc.		\$50.0000	\$780.00
	Adams Contracting, LLC		\$170.0000	\$2,652.00
801-01.34	GRASS SEED MIX (RIPZN/FLPL)			
		4.300 UNIT		
	Brown Builders, Inc.		\$275.0000	\$1,182.50
	Adams Contracting, LLC		\$680.0000	\$2,924.00
801-03	WATER (SEEDING & SODDING)			
		11.500 M.G.		
	Brown Builders, Inc.		\$250.0000	\$2,875.00
	Adams Contracting, LLC		\$220.0000	\$2,530.00

			CONTRACT	CNX340
		UNIT PRIC	E EXTE	ENSION
802-12.17	JUGLANS NIGRA (BLACK WALNUT SEEDLNG B.R.)			
		31.000 EACH		
	Brown Builders, Inc.	\$45.000		,395.00
	Adams Contracting, LLC	\$44.000	) \$1,	,364.00
802-12.26	PLATANUS OCCIDENTALIS (SYCAMORE SEEDLING B.R.)			
		31.000 EACH		
	Brown Builders, Inc.	\$45.000	\$1	,395.00
	Adams Contracting, LLC	\$44.000	) \$1	,364.00
802-12.44	ULMUS AMERICANA (AMERICAN ELM SEEDLNG B.R.)			
	,	31.000 EACH		
	Brown Builders, Inc.	\$45.000	) \$1	,395.00
	Adams Contracting, LLC	\$44.000		,364.00
202-12 55	CARYA LACINIOSA (SHELLBARK HICKORY SEEDLING B.R.)			
002-12.55	CARTA EAGINIOSA (STIELEBARK HIGRORT SEEDLING B.K.)	30.000 EACH		
	Brown Builders, Inc.	\$45.000	n \$1	,350.00
	Adams Contracting, LLC	\$44.000 \$44.000		,320.00
	Adding Contracting, LLC	ψ++.000	γ Ψ1	,020.00
803-01	SODDING (NEW SOD)			
		706.000 S.Y.		
	Brown Builders, Inc.	\$8.000	) \$5	,648.00
	Adams Contracting, LLC	\$13.000	\$9	,178.00

BOX BRIDGE	CATEGORY	UNIT PRICE	EXTENSION
BOX BRIDGE	CATEGORY		
204-08 FOL	UNDATION FILL MATERIAL		
	14.	000 C.Y.	
Bro	own Builders, Inc.	\$60.0000	\$840.00
Ada	ams Contracting, LLC	\$150.0000	\$2,100.00
604-02.01 CLA	ASS A CONCRETE (BOX BRIDGES)		
	142.	000 C.Y.	
Bro	own Builders, Inc.	\$950.0000	\$134,900.00
Ada	ams Contracting, LLC	\$1,900.0000	\$269,800.00
604-02.02 STE	EEL BAR REINFORCEMENT (BOX BRIDGES)		
	30,924.	000 LB.	
Bro	own Builders, Inc.	\$1.5000	\$46,386.00
Ada	ams Contracting, LLC	\$2.0000	\$61,848.00

CONTRACT	<b>CNX340</b>
----------	---------------

			CO	NTRACT CNX340
UTILITY (	CATEGORY		UNIT PRICE	EXTENSION
790-04.07	POLE 45FT CLASS 2 METAL			
		1.000 EACH		
	Brown Builders, Inc. Adams Contracting, LLC		\$8,000.0000 \$7,900.0000	\$8,000.00 \$7,900.00
790-05.06	POLE 50FT CLASS 2 METAL	4 000 54011		
	Brown Builders, Inc.	1.000 EACH	\$8,750.0000	\$8,750.00
	Adams Contracting, LLC		\$8,700.0000	\$8,700.00
790-06.06	POLE 55 FT CLASS 2 METAL	4 000 54 011		
	Brown Builders, Inc.	1.000 EACH	\$11,200.0000	\$11,200.00
	Adams Contracting, LLC		\$12,000.0000	\$12,000.00
790-26.22	3PH VERTICAL DDE ANGLE LRG COND 25KV			
	Brown Builders, Inc.	1.000 EACH	\$3,750.0000	\$3,750.00
	Adams Contracting, LLC		\$3,800.0000	\$3,800.00
790-26.32	3PH CROSSARM 10FT FBRGLS X-ARM DDE 25KV			
	Draws Builders, Inc.	1.000 EACH	¢4.400.0000	¢4.100.00
	Brown Builders, Inc. Adams Contracting, LLC		\$4,100.0000 \$4,100.0000	\$4,100.00 \$4,100.00
790-30.03	SECONDARY ASSEMBLIES DEADEND			
	Brown Builders, Inc.	4.000 EACH	\$260,0000	¢4 040 00
	Adams Contracting, LLC		\$260.0000 \$260.0000	\$1,040.00 \$1,040.00
790-32.02	DOWN GUY - THROUGH BOLT TYPE HEAVY DUTY			
	Proug Puildoro Inc	6.000 EACH	\$525.0000	¢2 150 00
	Brown Builders, Inc. Adams Contracting, LLC		\$520.0000	\$3,150.00 \$3,120.00
790-32.08	OH GUY - THROUGH BOLT TYPE HEAVY DUTY			
	Brown Builders, Inc.	4.000 EACH	\$885.0000	\$3,540.00
	Adams Contracting, LLC		\$880.0000	\$3,520.00
790-32.23	GUY GUARD			
	Brown Builders, Inc.	6.000 EACH	\$44.0000	\$264.00
	Adams Contracting, LLC		\$44.0000	\$264.00
790-33.17	ROCK ANCHOR EXPANDING TYPE	4 000 54 000		
	Brown Builders, Inc.	1.000 EACH	\$1,350.0000	\$1,350.00
	Adams Contracting, LLC		\$1,400.0000	\$1,400.00
				PAGE

				CONTRACT CNX340
			UNIT PRICE	EXTENSION
790-33.32	SCREW TYPE ANCHOR 36,000LB (F1-6T-P)	3.000 EACH		
	Brown Builders, Inc.	3.000 EACH	\$1,100.0000	\$3,300.00
	Adams Contracting, LLC		\$1,100.0000	\$3,300.00
700 26 14	TRANSFER CONDUCTOR			
790-30.14	TRANSFER CONDUCTOR	4.000 EACH		
	Brown Builders, Inc.	4,000 E/1011	\$275.0000	\$1,100.00
	Adams Contracting, LLC		\$280.0000	\$1,120.00
790-40.03	OH COND 1/0 6/1 ACSR RAVEN			
		162.000 L.F.		
	Brown Builders, Inc.		\$6.3500	\$1,028.70
	Adams Contracting, LLC		\$7.0000	\$1,134.00
790-40.05	OH COND 3/0 6/1 ACSR PIGEON			
		486.000 L.F.		
	Brown Builders, Inc.		\$8.0000	\$3,888.00
	Adams Contracting, LLC		\$8.0000	\$3,888.00
790-68.01	POLE GROUND ROD TYPE			
		3.000 EACH		
	Brown Builders, Inc.		\$600.0000	\$1,800.00
	Adams Contracting, LLC		\$600.0000	\$1,800.00
790-69.27	EXTENSION LINK - EPOXY -4FT			
		1.000 EACH		
	Brown Builders, Inc.		\$220.0000	\$220.00
	Adams Contracting, LLC		\$220.0000	\$220.00
790-69.30	POLE TOP PIN FOR ST POLE			
		1.000 EACH		
	Brown Builders, Inc.		\$380.0000	\$380.00
	Adams Contracting, LLC		\$380.0000	\$380.00
790-69.32	ARM PIN			
		4.000 EACH		
	Brown Builders, Inc.		\$245.0000	\$980.00
	Adams Contracting, LLC		\$250.0000	\$1,000.00
790-98.01	REMOVE WIRE			
		836.000 L.F.		
	Brown Builders, Inc.		\$4.8000	\$4,012.80
	Adams Contracting, LLC		\$5.0000	\$4,180.00
790-98.02	REMOVE POLES			
	B	2.000 EACH	<b>A.</b> 40= 0005	<b>A</b>
	Brown Builders, Inc. Adams Contracting, LLC		\$1,435.0000 \$1,500.0000	\$2,870.00 \$3,000.00
	Adams Contracting, LLC		ψ1,500.0000	φ3,000.00

CONTRACT CNX340				
	^	ONIVOA		0011
		( N X 34	<b>8 4 1 1</b> 1	

UNIT PRICE	EXTENSION

#### 790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS

#### 17.000 EACH

Brown Builders, Inc.	\$720.0000	\$12,240.00
Adams Contracting, LLC	\$720.0000	\$12,240.00

Brown Builders, Inc. Adams Contracting, LLC	\$562,309.00 \$925,209.00
SUB-TOTAL BOX BRIDGE	
Brown Builders, Inc.	\$182,126.00
Adams Contracting, LLC	\$333,748.00
SUB-TOTAL UTILITY	
Brown Builders, Inc.	\$76,963.50
Adams Contracting, LLC	\$78,106.00
TOTAL CONTRACT	
Brown Builders, Inc.	\$821,398.50
Adams Contracting, LLC	\$1,337,063.00

#### SEQUATCHIE COUNTY (Contract No. CNX349 Call 045)

HSIP-7700(23),77945-3430-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 5.00%

TOTAL CONTRACT

LU, Inc. \$292,042.19

Superior Traffic Control, LLC \$296,119.37

				CONTRACT CNX349
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT			
		1.000 EACH		
	LU, Inc. Superior Traffic Control, LLC		\$1,800.0000 \$2,000.0000	\$1,800.00 \$2,000.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		6,830.000 L.F.	4	<b>***</b>
	LU, Inc. Superior Traffic Control, LLC		\$3.7300 \$6.0500	\$25,475.90 \$41,321.50
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
		1.000 EACH	<b>*</b> 4 <b>* 0.07 * 0.00</b>	44.007.00
	LU, Inc. Superior Traffic Control, LLC		\$4,237.8000 \$2,800.0000	\$4,237.80 \$2,800.00
712-01	TRAFFIC CONTROL			
	LU, Inc.	1.000 LS	\$20.250.0000	¢20.250.00
	Superior Traffic Control, LLC		\$20,250.0000 \$7,500.0000	\$20,250.00 \$7,500.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	LU, Inc.	9.000 EACH	\$60.7400	\$546.66
	Superior Traffic Control, LLC		\$55.0000	\$495.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		112.000 S.F.	¢20.7400	¢2 442 00
	LU, Inc. Superior Traffic Control, LLC		\$30.7400 \$30.0000	\$3,442.88 \$3,360.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	LU, Inc.	1,614.000 L.F.	\$6.7400	¢40.070.26
	Superior Traffic Control, LLC		\$6.0000	\$10,878.36 \$9,684.00
713-02.22	BARRIER WALL DELINEATION ENHANCEMENT			
	III lee	640.000 L.F.	ФЕ <b>7</b> 400	<b>#2.054.40</b>
	LU, Inc. Superior Traffic Control, LLC		\$5.7100 \$7.0000	\$3,654.40 \$4,480.00
713-11.01	"U" SECTION STEEL POSTS			
	LU, Inc.	1,482.000 LB.	\$5.4600	¢0 004 70
	Superior Traffic Control, LLC		\$5.4600 \$5.9500	\$8,091.72 \$8,817.90
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	III lee	5,739.000 LB.	ФО <b>7</b> 400	<b>#20 500 00</b>

LU, Inc.

Superior Traffic Control, LLC

\$38,508.69

\$6.7100

\$6.0500

			CONTRACT CNX349
		UNIT PRICE	EXTENSION
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)	820.562 S.F.		
LU, Inc.	620.362 S.F.	\$14.7200	\$12,078.67
Superior Traffic Control, LLC		\$16.5000	\$13,539.27
740 40 00 FLAT OUTET ALLIMINUM OLONG (0 400) TUO()			
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	4 045 500 S E		
LU, Inc.	1,015.500 S.F.	\$15.9200	\$16,166.76
Superior Traffic Control, LLC		\$18.5000	\$18,786.75
•			
713-15.36 REMOVE SIGN, SUPPORT & FOOTING			
	78.000 EACH		
LU, Inc.		\$60.7400	\$4,737.72 \$1,170.00
Superior Traffic Control, LLC		\$15.0000	\$1,170.00
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DI	R)(2 COLOR)		
	665.000 EACH		
LU, Inc.		\$35.2600	\$23,447.90
Superior Traffic Control, LLC		\$40.0000	\$26,600.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
· · ·	462.000 L.F.		
LU, Inc.		\$25.1900	\$11,637.78
Superior Traffic Control, LLC		\$12.0000	\$5,544.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)			
,	48.000 L.F.		
LU, Inc.		\$20.1500	\$967.20
Superior Traffic Control, LLC		\$15.0000	\$720.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
III Ino	43.410 L.M.	\$2.466.4200	¢04.024.70
LU, Inc. Superior Traffic Control, LLC		\$2,166.1300 \$2,500.0000	\$94,031.70 \$108,525.00
Capanar riama Caman, 220		Ψ=,000.000	ψ.σσ,σ=σ.σσ
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LIN	NE)		
	555.000 L.F.		
LU, Inc.		\$1.5100	\$838.05
Superior Traffic Control, LLC		\$1.0000	\$555.00

1.000 LS

**MOBILIZATION** 

Superior Traffic Control, LLC

LU, Inc.

717-01

\$11,250.00 \$5,500.00

\$11,250.0000

\$5,500.0000

LU, Inc.	\$292,042.19
Superior Traffic Control, LLC	\$296,119.37

#### **TOTAL CONTRACT**

LU, Inc.	\$292,042.19
Superior Traffic Control, LLC	\$296,119.37

#### SHELBY COUNTY (Contract No. CNX330 Call 047)

R4BVAR-M3-040

THE DRAIN CLEANING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE FEBRUARY 28, 2025

TOTAL CONTRACT

Sweeping Corporation of America, LLC

\$459,803.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNX330 EXTENSION
611-07.11 CLEAN DRAIN(WITH GRATE)			
Sweeping Corporation of America, LLC	3,389.000 EACH	\$105.0000	\$355,845.00
611-07.12 CLEAN DRAIN(WALL DRAIN)	700 000 5 1 0 1		
Sweeping Corporation of America, LLC	722.000 EACH	\$89.0000	\$64,258.00
611-07.13 PIPE CLEANING (<18IN DIA.)			
Sweeping Corporation of America, LLC	2,200.000 L.F.	\$8.5000	\$18,700.00
611-07.14 PIPE CLEANING (>OR=18IN DIA.)			
Sweeping Corporation of America, LLC	1,000.000 L.F.	\$10.0000	\$10,000.00
611-07.20 HEAVY DRAIN CLEANING			
Sweeping Corporation of America, LLC	40.000 EACH	\$125.0000	\$5,000.00
712-01.02 LANE CLOSURE			

Sweeping Corporation of America, LLC

40.000 EACH

\$150.0000

\$6,000.00

### **SUB-TOTAL MAINTENANCE**

Sweeping Corporation of America, LLC

\$459,803.00

#### **TOTAL CONTRACT**

Sweeping Corporation of America, LLC

\$459,803.00

#### STEWART COUNTY (Contract No. CNX345 Call 048)

HSIP-8100(15),81945-3483-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

TOTAL CONTRACT

Superior Traffic Control, LLC\$240,094.95Volunteer Paving, LLC\$241,456.80LU, Inc.\$245,017.25

					 	 	_	 	

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
712-01 TRAFFIC CONTROL		
1.000 LS		
Superior Traffic Control, LLC	\$10,000.0000	\$10,000.00
Volunteer Paving, LLC	\$5,000.0000	\$5,000.00
LU, Inc.	\$5,500.0000	\$5,500.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT		
617.000 L.F.		
Superior Traffic Control, LLC	\$5.8500	\$3,609.45
Volunteer Paving, LLC	\$7.0600	\$4,356.02
LU, Inc.	\$6.7200	\$4,146.24
713-11.01 "U" SECTION STEEL POSTS		
3,568.000 LB.		
Superior Traffic Control, LLC	\$6.0000	\$21,408.00
Volunteer Paving, LLC	\$5.3700	\$19,160.16
LU, Inc.	\$5.1200	\$18,268.16
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
3,620.000 LB.		
Superior Traffic Control, LLC	\$6.1500	\$22,263.00
Volunteer Paving, LLC	\$6.6600	\$24,109.20
LU, Inc.	\$6.3400	\$22,950.80
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
452.000 S.F.		
Superior Traffic Control, LLC	\$18.0000	\$8,136.00
Volunteer Paving, LLC	\$16.1000	\$7,277.20
LU, Inc.	\$15.3300	\$6,929.16
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
923.000 S.F.		
Superior Traffic Control, LLC	\$20.0000	\$18,460.00
Volunteer Paving, LLC	\$17.3400	\$16,004.82
LU, Inc.	\$16.5100	\$15,238.73
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
55.000 EACH		
Superior Traffic Control, LLC	\$15.0000	\$825.00
Volunteer Paving, LLC	\$62.5800	\$3,441.90
LU, Inc.	\$59.6000	\$3,278.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
192.000 L.F.		
Superior Traffic Control, LLC	\$20.0000	\$3,840.00
Volunteer Paving, LLC	\$25.0000	\$4,800.00
LU, Inc.	\$15.1100	\$2,901.12

			CONTRACT CNX345
		UNIT PRICE	EXTENSION
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LIN	E)		
	68.360 L.M.		
Superior Traffic Control, LLC		\$2,000.0000	\$136,720.00
Volunteer Paving, LLC		\$2,150.0000	\$146,974.00
LU, Inc.		\$2,317.2500	\$158,407.21
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DO	TTED LINE)		
	4,889.000 L.F.		
Superior Traffic Control, LLC		\$1.5000	\$7,333.50
Volunteer Paving, LLC		\$1.5000	\$7,333.50
LU, Inc.		\$0.4700	\$2,297.83
717-01 MOBILIZATION			
	1.000 LS		
Superior Traffic Control, LLC		\$7,500.0000	\$7,500.00
Volunteer Paving, LLC		\$3,000.0000	\$3,000.00
LU, Inc.		\$5,100.0000	\$5,100.00

Superior Traffic Control, LLC	\$240,094.95
Volunteer Paving, LLC	\$241,456.80
LU, Inc.	\$245,017.25

### **TOTAL CONTRACT**

Superior Traffic Control, LLC	\$240,094.95
Volunteer Paving, LLC	\$241,456.80
LU, Inc.	\$245,017.25

#### TROUSDALE COUNTY (Contract No. CNX306 Call 049)

n/a,85S141-S3-003

THE GRADING, DRAINAGE, CONSTRUCTION OF BRIDGES, AND PAVING ON S.R. 141 FROM NORTH OF S.R. 10 (L.M. 4.24) TO NEAR THE INTERSECTION OF CEDAR BLUFF ROAD (L.M. 8.29).

PROJECT LENGTH - 4.332 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2027

	TOTAL CONTRACT
Jones Bros. Contractors, LLC	\$98,616,115.31
Cleary Construction, Inc.	\$102,797,589.19
Scotty's Contracting & Stone, LLC	\$104,466,071.04
Summers-Taylor, Inc.	\$106,197,387.61
Vulcan Construction Materials, LLC	\$136,530,405.85

UNIT PRICE EXTENSION

#### **ROADWAY CATEGORY**

105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$325,000.0000	\$325,000.00
	Cleary Construction, Inc.		\$800,000.0000	\$800,000.00
	Scotty's Contracting & Stone, LLC		\$607,031.0000	\$607,031.00
	Summers-Taylor, Inc.		\$522,700.0000	\$522,700.00
	Vulcan Construction Materials, LLC		\$850,000.0000	\$850,000.00
108-03	CPM PROJECT SCHEDULE			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$200,000.0000	\$200,000.00
	Cleary Construction, Inc.		\$400,000.0000	\$400,000.00
	Scotty's Contracting & Stone, LLC		\$127,500.0000	\$127,500.00
	Summers-Taylor, Inc.		\$110,900.0000	\$110,900.00
	Vulcan Construction Materials, LLC		\$300,000.0000	\$300,000.00
109-10-01	TRAINEE			
100 10.01	THAIRE .	7,180.000 HOUR		
	Jones Bros. Contractors, LLC		\$0.8000	\$5,744.00
	Cleary Construction, Inc.		\$0.8000	\$5,744.00
	Scotty's Contracting & Stone, LLC		\$0.8000	\$5,744.00
	Summers-Taylor, Inc.		\$0.8000	\$5,744.00
	Vulcan Construction Materials, LLC		\$0.8000	\$5,744.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Jones Bros. Contractors, LLC	11000 20	\$2,500,000.0000	\$2,500,000.00
	Cleary Construction, Inc.		\$1,575,000.0000	\$1,575,000.00
	Scotty's Contracting & Stone, LLC		\$1,088,211.1200	\$1,088,211.12
	Summers-Taylor, Inc.		\$412,400.0000	\$412,400.00
	Vulcan Construction Materials, LLC		\$2,000,000.0000	\$2,000,000.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
	Cleary Construction, Inc.		\$43,000.0000	\$43,000.00
	Scotty's Contracting & Stone, LLC		\$63,513.4500	\$63,513.45
	Summers-Taylor, Inc.		\$44,900.0000	\$44,900.00
	Vulcan Construction Materials, LLC		\$4,520.0000	\$4,520.00
202-06.01	REMOVAL OF BUILDINGS (TRACT NO. 30)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$100.0000	\$100.00
	Cleary Construction, Inc.		\$6,800.0000	\$6,800.00
	Scotty's Contracting & Stone, LLC		\$16,385.3300	\$16,385.33
	Summers-Taylor, Inc.		\$7,100.0000	\$7,100.00
	Vulcan Construction Materials, LLC		\$15,000.0000	\$15,000.00

			_	
			UNIT PRICE	EXTENSION
202-06.02	REMOVAL OF BUILDINGS (TRACT NO. 37)			
		1.000 LS		
	James Bres. Contractors 11 C	1.000 20	\$100.0000	<b>#</b> 400.00
	Jones Bros. Contractors, LLC		·	\$100.00
	Cleary Construction, Inc.		\$1,450.0000	\$1,450.00
	Scotty's Contracting & Stone, LLC		\$16,385.3300	\$16,385.33
	Summers-Taylor, Inc.		\$1,510.0000	\$1,510.00
	Vulcan Construction Materials, LLC		\$2,170.0000	\$2,170.00
202-06.03	REMOVAL OF BUILDINGS (TRACT NO. 37)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$100.0000	\$100.00
	Cleary Construction, Inc.		\$2,540.0000	\$2,540.00
	Scotty's Contracting & Stone, LLC		\$16,385.3300	\$16,385.33
	Summers-Taylor, Inc.		\$2,650.0000	\$2,650.00
	Vulcan Construction Materials, LLC		\$5,320.0000	\$5,320.00
202-06.04	REMOVAL OF BUILDINGS (TRACT NO. 57)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$100.0000	\$100.00
	Cleary Construction, Inc.		\$1,450.0000	\$1,450.00
	Scotty's Contracting & Stone, LLC		\$16,385.3300	\$16,385.33
	Summers-Taylor, Inc.		\$1,510.0000	\$1,510.00
	Vulcan Construction Materials, LLC		\$4,340.0000	\$4,340.00
202-06.05	REMOVAL OF BUILDINGS (TRACT NO. 58)			
	,	1.000 LS		
	Jones Bros. Contractors, LLC		\$100.0000	\$100.00
	Cleary Construction, Inc.		\$1,250.0000	\$1,250.00
	Scotty's Contracting & Stone, LLC		\$16,385.3300	\$16,385.33
	Summers-Taylor, Inc.		\$1,310.0000	\$1,310.00
	Vulcan Construction Materials, LLC		\$1,570.0000	\$1,570.00
	vulcan Construction Materials, LLC		ψ1,370.0000	ψ1,570.00
202-06.06	REMOVAL OF BUILDINGS (TRACT NO. 62)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$100.0000	\$100.00
	Cleary Construction, Inc.		\$2,540.0000	\$2,540.00
	Scotty's Contracting & Stone, LLC		\$34,696.0700	\$34,696.07
	Summers-Taylor, Inc.		\$2,650.0000	\$2,650.00
	Vulcan Construction Materials, LLC		\$7,490.0000	\$7,490.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
203-01	NOAD & BRAINAGE EXCAVATION (CNOCAGOII IEB)	1,303,901. C.Y.		
		000	_	•-
	Jones Bros. Contractors, LLC		\$6.2500	\$8,149,381.25
	Cleary Construction, Inc.		\$9.5500	\$12,452,254.55
	Scotty's Contracting & Stone, LLC		\$9.9300	\$12,947,736.93
	Summers-Taylor, Inc.		\$9.6500	\$12,582,644.65
	Vulcan Construction Materials, LLC		\$17.3000	\$22,557,487.30

				CONTRACT	CNX306
			UNIT PRICE	EXTE	NSION
203-01.11	PRESPLITTING OF ROCK EXCAVATION				
		24,205.000 S.Y.			
	Jones Bros. Contractors, LLC	,	\$28.0000	\$677.7	740.00
	Cleary Construction, Inc.		\$30.3000		411.50
	Scotty's Contracting & Stone, LLC		\$24.5900		200.95
	Summers-Taylor, Inc.		\$31.5000	\$762,4	457.50
	Vulcan Construction Materials, LLC		\$26.4000	\$639,0	012.00
203-01.13	ROAD & DRAINAGE EXCAVATION (STREAM MITIGATION)				
		5,639.000 C.Y.			
	Jones Bros. Contractors, LLC		\$28.0000	\$157,8	392.00
	Cleary Construction, Inc.		\$16.0000	\$90,2	224.00
	Scotty's Contracting & Stone, LLC		\$41.7200	\$235,2	259.08
	Summers-Taylor, Inc.		\$16.5000		043.50
	Vulcan Construction Materials, LLC		\$200.0000	\$1,127,8	300.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)				
		307,966.000 TON			
	Jones Bros. Contractors, LLC		\$18.0000	\$5,543,3	388.00
	Cleary Construction, Inc.		\$15.6500	\$4,819,6	667.90
	Scotty's Contracting & Stone, LLC		\$18.3600	\$5,654,2	
	Summers-Taylor, Inc.		\$17.0000	\$5,235,4	
	Vulcan Construction Materials, LLC		\$38.0000	\$11,702,7	708.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)				
		89,254.000 C.Y.			
	Jones Bros. Contractors, LLC		\$0.6500		015.10
	Cleary Construction, Inc.		\$15.6500	\$1,396,8	
	Scotty's Contracting & Stone, LLC		\$5.1000		195.40
	Summers-Taylor, Inc.		\$19.2000	\$1,713,6	
	Vulcan Construction Materials, LLC		\$27.0000	\$2,409,8	358.00
203-04	PLACING AND SPREADING TOPSOIL				
		37,783.000 C.Y.			
	Jones Bros. Contractors, LLC		\$3.5000		240.50
	Cleary Construction, Inc.		\$10.8000		056.40
	Scotty's Contracting & Stone, LLC		\$5.8000		141.40
	Summers-Taylor, Inc.		\$11.5000		504.50
	Vulcan Construction Materials, LLC		\$17.3000	\$653,6	645.90
203-06	WATER				
		5,573.000 M.G.			
	Jones Bros. Contractors, LLC		\$0.1000	\$5	557.30
	Cleary Construction, Inc.		\$6.0000	\$33,4	438.00
	Scotty's Contracting & Stone, LLC		\$47.0500		209.65
	Summers-Taylor, Inc.		\$6.3000		109.90
	Vulcan Construction Materials, LLC		\$13.6000	\$75,7	792.80

#### **CONTRACT CNX306**

				CONTRACT CNASOO
			UNIT PRICE	EXTENSION
203-15.03	COMPACTED CLAY			
		420.000 C.Y.		
	Jones Bros. Contractors, LLC		\$50.0000	\$21,000.00
	Cleary Construction, Inc.		\$13.0000	\$5,460.00
	Scotty's Contracting & Stone, LLC		\$39.4400	\$16,564.80
	Summers-Taylor, Inc.		\$13.5000	\$5,670.00
	Vulcan Construction Materials, LLC		\$22.5000	\$9,450.00
203-50	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$100,000.0000	\$100,000.00
	Cleary Construction, Inc.		\$575,000.0000	\$575,000.00
	Scotty's Contracting & Stone, LLC		\$1,866,442.9200	\$1,866,442.92
	Summers-Taylor, Inc.		\$599,700.0000	\$599,700.00
	Vulcan Construction Materials, LLC		\$3,507,000.0000	\$3,507,000.00
203-70.07	STANDPIPE			
		7.000 EACH		
	Jones Bros. Contractors, LLC		\$475.0000	\$3,325.00
	Cleary Construction, Inc.		\$2,000.0000	\$14,000.00
	Scotty's Contracting & Stone, LLC		\$115.0000	\$805.00
	Summers-Taylor, Inc.		\$2,090.0000	\$14,630.00
	Vulcan Construction Materials, LLC		\$3,720.0000	\$26,040.00
204-08	FOUNDATION FILL MATERIAL			
		1,500.000 C.Y.		
	Jones Bros. Contractors, LLC		\$45.0000	\$67,500.00
	Cleary Construction, Inc.		\$141.0000	\$211,500.00
	Scotty's Contracting & Stone, LLC		\$134.6200	\$201,930.00
	Summers-Taylor, Inc.		\$110.0000	\$165,000.00
	Vulcan Construction Materials, LLC		\$115.0000	\$172,500.00
209-02.03	8" TEMPORARY SLOPE DRAIN			
		1,993.000 L.F.		
	Jones Bros. Contractors, LLC		\$12.0000	\$23,916.00
	Cleary Construction, Inc.		\$7.8000	\$15,545.40
	Scotty's Contracting & Stone, LLC		\$69.0100	\$137,536.93
	Summers-Taylor, Inc.		\$8.1000	\$16,143.30
	Vulcan Construction Materials, LLC		\$10.0000	\$19,930.00
209-02.05	12" TEMPORARY SLOPE DRAIN			
		217.000 L.F.		
	Jones Bros. Contractors, LLC		\$15.0000	\$3,255.00
	Cleary Construction, Inc.		\$13.0000	\$2,821.00
	Scotty's Contracting & Stone, LLC		\$89.5100	\$19,423.67
	Summers-Taylor, Inc.		\$13.5000	\$2,929.50
	Vulcan Construction Materials, LLC		\$12.0000	\$2,604.00

			· ·	CONTRACT CNASOO
			UNIT PRICE	EXTENSION
209-03.37	STREAM MITIGATION CROSS VANE STRUCTURE			
		7.000 EACH		
	Jones Bros. Contractors, LLC		\$4,500.0000	\$31,500.00
	Cleary Construction, Inc.		\$5,095.0000	\$35,665.00
	Scotty's Contracting & Stone, LLC		\$4,906.4400	\$34,345.08
	Summers-Taylor, Inc.		\$5,320.0000	\$37,240.00
	Vulcan Construction Materials, LLC		\$29,000.0000	\$203,000.00
209-03.99	PROTECTED AREA MARKER (WHITE WITH DECAL)			
		25.000 EACH		
	Jones Bros. Contractors, LLC		\$400.0000	\$10,000.00
	Cleary Construction, Inc.		\$240.0000	\$6,000.00
	Scotty's Contracting & Stone, LLC		\$307.6700	\$7,691.75
	Summers-Taylor, Inc.		\$251.0000	\$6,275.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$37,500.00
	,		, ,	. ,
209-05	SEDIMENT REMOVAL	4.550.000.00		
		4,553.000 C.Y.		
	Jones Bros. Contractors, LLC		\$10.0000	\$45,530.00
	Cleary Construction, Inc.		\$15.0000	\$68,295.00
	Scotty's Contracting & Stone, LLC		\$25.2400	\$114,917.72
	Summers-Taylor, Inc.		\$15.5000	\$70,571.50
	Vulcan Construction Materials, LLC		\$17.3000	\$78,766.90
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		217,265.000 L.F.		
	Jones Bros. Contractors, LLC	•	\$5.2500	\$1,140,641.25
	Cleary Construction, Inc.		\$5.5500	\$1,205,820.75
	Scotty's Contracting & Stone, LLC		\$5.3000	\$1,151,504.50
	Summers-Taylor, Inc.		\$5.2000	\$1,129,778.00
	Vulcan Construction Materials, LLC		\$5.3000	\$1,151,504.50
	valeari Goristi action iviaterials, EEG		ψ3.3000	Ψ1,131,304.30
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		35,397.000 L.F.		
	Jones Bros. Contractors, LLC		\$1.7000	\$60,174.90
	Cleary Construction, Inc.		\$2.2500	\$79,643.25
	Scotty's Contracting & Stone, LLC		\$2.1200	\$75,041.64
	Summers-Taylor, Inc.		\$2.1000	\$74,333.70
	Vulcan Construction Materials, LLC		\$2.1500	\$76,103.55
200-08 07	ROCK CHECK DAM			
203-00.07	ROOK CHECK DAM	681.000 EACH		
	Jones Bros. Contractors, LLC		\$540.0000	\$367,740.00
	Cleary Construction, Inc.		\$335.0000	\$228,135.00
	Scotty's Contracting & Stone, LLC		\$1,057.3400	\$720,048.54
	Summers-Taylor, Inc.		\$522.0000	\$355,482.00
	Vulcan Construction Materials, LLC		\$317.0000	\$355,462.00 \$215,877.00
	valouri Constitution iviaterials, LLC		φ517.0000	ψ <u>∠ 13,077.00</u>

			CONTRACT	CNX306
		UNIT PRICE	EX	TENSION
209-08.08	ENHANCED ROCK CHECK DAM	294.000 EACH		
			210	
	Jones Bros. Contractors, LLC	\$650.0000		1,100.00
	Cleary Construction, Inc.	\$725.0000		3,150.00
	Scotty's Contracting & Stone, LLC	\$1,330.6700		1,216.98
	Summers-Taylor, Inc.	\$835.0000		5,490.00
	Vulcan Construction Materials, LLC	\$687.0000	\$20	1,978.00
209-09.01	SANDBAGS			
		5,695.000 BAG		
	Jones Bros. Contractors, LLC	\$9.0000	\$5	1,255.00
	Cleary Construction, Inc.	\$5.5000	\$3	1,322.50
	Scotty's Contracting & Stone, LLC	\$7.2700	\$4	1,402.65
	Summers-Taylor, Inc.	\$8.4000	\$4	7,838.00
	Vulcan Construction Materials, LLC	\$9.0000	\$5	1,255.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	, ,	8.000 EACH		
	Jones Bros. Contractors, LLC	\$600.0000	\$	4,800.00
	Cleary Construction, Inc.	\$1,660.0000	\$1	3,280.00
	Scotty's Contracting & Stone, LLC	\$791.4400	\$	6,331.52
	Summers-Taylor, Inc.	\$1,580.0000	\$1	2,640.00
	Vulcan Construction Materials, LLC	\$159.0000	\$	1,272.00
209-09.22	POLYACRYLAMIDE POWDER			
		8,984.000 LB.		
	Jones Bros. Contractors, LLC	\$8.0000	\$7	1,872.00
	Cleary Construction, Inc.	\$10.0000	\$8	9,840.00
	Scotty's Contracting & Stone, LLC	\$9.0000	\$8	0,856.00
	Summers-Taylor, Inc.	\$9.4000	\$8	4,449.60
	Vulcan Construction Materials, LLC	\$9.5000	\$8	5,348.00
209-09.23	POLYACRYLAMIDE LIQUID			
		904.000 GAL.		
	Jones Bros. Contractors, LLC	\$55.0000	\$4	9,720.00
	Cleary Construction, Inc.	\$84.0000	\$7	5,936.00
	Scotty's Contracting & Stone, LLC	\$75.0000	\$6	7,800.00
	Summers-Taylor, Inc.	\$78.5000	\$7	0,964.00
	Vulcan Construction Materials, LLC	\$79.3000	\$7	1,687.20
209-10.20	TEMPORARY SEDIMENT TRAP			
		1,876.800 C.Y.		
	Jones Bros. Contractors, LLC	\$24.0000	\$4	5,043.20
	Cleary Construction, Inc.	\$11.0000		0,644.80
	Scotty's Contracting & Stone, LLC	\$39.4500		4,039.76
	Summers-Taylor, Inc.	\$12.5000		3,460.00
	Vulcan Construction Materials, LLC	\$25.1000		7,107.68
	•			

			CONTRACT CNASOO
		UNIT PRICE	EXTENSION
209-13.04 TURBIDITY CURTAIN(STA. 487+20 SOUTH BANK)			
	550.000 L.F.		
Jones Bros. Contractors, LLC		\$90.0000	\$49,500.00
Cleary Construction, Inc.		\$44.6000	\$24,530.00
Scotty's Contracting & Stone, LLC		\$40.0000	\$22,000.00
Summers-Taylor, Inc.		\$36.5000	\$20,075.00
Vulcan Construction Materials, LLC		\$42.3000	\$23,265.00
209-13.05 TURBIDITY CURTAIN(STA. 490+20 NORTH BANK)			
	430.000 L.F.		
Jones Bros. Contractors, LLC		\$100.0000	\$43,000.00
Cleary Construction, Inc.		\$44.6000	\$19,178.00
Scotty's Contracting & Stone, LLC		\$40.0000	\$17,200.00
Summers-Taylor, Inc.		\$42.0000	\$18,060.00
Vulcan Construction Materials, LLC		\$42.3000	\$18,189.00
209-20.03 POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
· · · · · ·	323.000 S.Y.		
Jones Bros. Contractors, LLC		\$12.0000	\$3,876.00
Cleary Construction, Inc.		\$10.0000	\$3,230.00
Scotty's Contracting & Stone, LLC		\$19.5600	\$6,317.88
Summers-Taylor, Inc.		\$7.3000	\$2,357.90
Vulcan Construction Materials, LLC		\$7.1500	\$2,309.45
209-65.01 TEMPORARY STREAM DIVERSION (WITH PUMP AROUND)			
, ,	1.000 LS		
Jones Bros. Contractors, LLC		\$95,000.0000	\$95,000.00
Cleary Construction, Inc.		\$23,100.0000	\$23,100.00
Scotty's Contracting & Stone, LLC		\$112,218.2500	\$112,218.25
Summers-Taylor, Inc.		\$24,100.0000	\$24,100.00
Vulcan Construction Materials, LLC		\$150,000.0000	\$150,000.00
209-65.03 TEMPORARY DIVERSION CHANNEL			
	1,419.000 L.F.		
Jones Bros. Contractors, LLC		\$30.0000	\$42,570.00
Cleary Construction, Inc.		\$9.4000	\$13,338.60
Scotty's Contracting & Stone, LLC		\$38.8700	\$55,156.53
Summers-Taylor, Inc.		\$9.8000	\$13,906.20
Vulcan Construction Materials, LLC		\$38.2000	\$54,205.80
209-65.04 TEMPORARY IN STREAM DIVERSION			
	75.000 L.F.		
Jones Bros. Contractors, LLC		\$115.0000	\$8,625.00
Cleary Construction, Inc.		\$142.0000	\$10,650.00
Scotty's Contracting & Stone, LLC		\$612.0800	\$45,906.00
Summers-Taylor, Inc.		\$148.0000	\$11,100.00
Vulcan Construction Materials, LLC		\$70.0000	\$5,250.00

		CONTRACT CNASOU	
		UNIT PRICE	EXTENSION
303-01.01 GRANULAR BACKFILL (ROADWAY)			
	11,892.000 TON		
Jones Bros. Contractors, LLC	•	\$45.0000	\$535,140.00
Cleary Construction, Inc.		\$51.3000	\$610,059.60
Scotty's Contracting & Stone, LLC		\$49.1100	\$584,016.12
Summers-Taylor, Inc.		\$53.5000	\$636,222.00
Vulcan Construction Materials, LLC		\$67.4000	\$801,520.80
303-01.02 GRANULAR BACKFILL (BRIDGES)	1,063.000 TON		
Janes Bros. Contractors, LLC	1,003.000 1014	\$65.0000	¢60,005,00
Jones Bros. Contractors, LLC Cleary Construction, Inc.		\$45.5000	\$69,095.00 \$48,366.50
Scotty's Contracting & Stone, LLC		\$64.5400	\$68,606.02
Summers-Taylor, Inc.		\$53.5000	\$56,870.50
Vulcan Construction Materials, LLC		\$75.0000 \$75.0000	\$79,725.00
vulcari construction materials, LEC		Ψ13.0000	ψ19,120.00
303-10.01 MINERAL AGGREGATE (SIZE 57)			
	612.000 TON		
Jones Bros. Contractors, LLC		\$65.0000	\$39,780.00
Cleary Construction, Inc.		\$45.5000	\$27,846.00
Scotty's Contracting & Stone, LLC		\$46.1500	\$28,243.80
Summers-Taylor, Inc.		\$47.5000	\$29,070.00
Vulcan Construction Materials, LLC		\$73.4000	\$44,920.80
303-10.04 MINERAL AGGREGATE (SIZE **)			
(0.22 )	1,282.000 TON		
Jones Bros. Contractors, LLC	1,202.000 1014	\$55.0000	\$70,510.00
Cleary Construction, Inc.		\$45.5000	\$58,331.00
Scotty's Contracting & Stone, LLC		\$50.2100	\$64,369.22
Summers-Taylor, Inc.		\$47.0000	\$60,254.00
Vulcan Construction Materials, LLC		\$76.0000	\$97,432.00
Valoari Goristraction Materials, LEG		ψ/ 0.0000	ψ37,402.00
303-20.02 RIVER GRAVEL			
	402.000 TON		
Jones Bros. Contractors, LLC		\$40.0000	\$16,080.00
Cleary Construction, Inc.		\$55.4500	\$22,290.90
Scotty's Contracting & Stone, LLC		\$142.4400	\$57,260.88
Summers-Taylor, Inc.		\$58.0000	\$23,316.00
Vulcan Construction Materials, LLC		\$140.0000	\$56,280.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
, a sa s	9.200 L.M.		
Jones Bros. Contractors, LLC		\$1,135.0000	\$10,442.00
Cleary Construction, Inc.		\$750.0000	\$6,900.00
Scotty's Contracting & Stone, LLC		\$675.0000	\$6,210.00
Summers-Taylor, Inc.		\$1,210.0000	\$11,132.00
Vulcan Construction Materials, LLC		\$714.0000	\$6,568.80

		C	CONTRACT CNX306
		UNIT PRICE	EXTENSION
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
	1,238.000 S.Y.		
Jones Bros. Contractors, LLC	•	\$17.1000	\$21,169.80
Cleary Construction, Inc.		\$20.0000	\$24,760.00
Scotty's Contracting & Stone, LLC		\$27.5000	\$34,045.00
Summers-Taylor, Inc.		\$21.5000	\$26,617.00
Vulcan Construction Materials, LLC		\$27.5000	\$34,045.00
604-01.01 CLASS A CONCRETE (ROADWAY)			
	1,470.700 C.Y.		
Jones Bros. Contractors, LLC		\$805.0000	\$1,183,913.50
Cleary Construction, Inc.		\$1,435.0000	\$2,110,454.50
Scotty's Contracting & Stone, LLC		\$1,301.8500	\$1,914,630.80
Summers-Taylor, Inc.		\$1,150.0000	\$1,691,305.00
Vulcan Construction Materials, LLC		\$1,160.0000	\$1,706,012.00
604-01.02 STEEL BAR REINFORCEMENT (ROADWAY)			
	201,288.000 LB.		
Jones Bros. Contractors, LLC		\$1.4800	\$297,906.24
Cleary Construction, Inc.		\$1.8500	\$372,382.80
Scotty's Contracting & Stone, LLC		\$1.6800	\$338,163.84
Summers-Taylor, Inc.		\$2.0000	\$402,576.00
Vulcan Construction Materials, LLC		\$2.0000	\$402,576.00
606-24.12 TEMPORARY SHEET PILES			
	1,000.000 S.F.		
Jones Bros. Contractors, LLC		\$40.0000	\$40,000.00
Cleary Construction, Inc.		\$44.5000	\$44,500.00
Scotty's Contracting & Stone, LLC		\$98.5900	\$98,590.00
Summers-Taylor, Inc.		\$30.0000	\$30,000.00
Vulcan Construction Materials, LLC		\$79.3000	\$79,300.00
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)			
	238.000 L.F.		
Jones Bros. Contractors, LLC		\$99.0000	\$23,562.00
Cleary Construction, Inc.		\$92.0000	\$21,896.00
Scotty's Contracting & Stone, LLC		\$140.8400	\$33,519.92
Summers-Taylor, Inc.		\$96.0000	\$22,848.00
Vulcan Construction Materials, LLC		\$86.5000	\$20,587.00
607-03.30 18" PIPE CULVERT			
	210.000 L.F.		
Jones Bros. Contractors, LLC		\$107.0000	\$22,470.00
Cleary Construction, Inc.		\$80.0000	\$16,800.00
Scotty's Contracting & Stone, LLC		\$149.7800	\$31,453.80
Summers-Taylor, Inc.		\$83.5000	\$17,535.00
Vulcan Construction Materials, LLC		\$86.5000	\$18,165.00

		CONTRACT CIASSO	
		UNIT PRICE	EXTENSION
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
	213.000 L.F.		
Jones Bros. Contractors, LLC		\$123.0000	\$26,199.00
Cleary Construction, Inc.		\$115.0000	\$24,495.00
Scotty's Contracting & Stone, LLC		\$175.3700	\$37,353.81
Summers-Taylor, Inc.		\$120.0000	\$25,560.00
Vulcan Construction Materials, LLC		\$143.0000	\$30,459.00
607-05.03 24" CONCRETE PIPE CULVERT (CLASS IV)			
	327.000 L.F.		
Jones Bros. Contractors, LLC		\$120.0000	\$39,240.00
Cleary Construction, Inc.		\$120.0000	\$39,240.00
Scotty's Contracting & Stone, LLC		\$202.4700	\$66,207.69
Summers-Taylor, Inc.		\$125.0000	\$40,875.00
Vulcan Construction Materials, LLC		\$128.0000	\$41,856.00
607-05.30 24" PIPE CULVERT			
	36.000 L.F.		
Jones Bros. Contractors, LLC		\$170.0000	\$6,120.00
Cleary Construction, Inc.		\$100.0000	\$3,600.00
Scotty's Contracting & Stone, LLC		\$240.6900	\$8,664.84
Summers-Taylor, Inc.		\$104.0000	\$3,744.00
Vulcan Construction Materials, LLC		\$115.0000	\$4,140.00
607-06.02 30" CONCRETE PIPE CULVERT (CLASS III)			
,	163.000 L.F.		
Jones Bros. Contractors, LLC		\$153.0000	\$24,939.00
Cleary Construction, Inc.		\$144.0000	\$23,472.00
Scotty's Contracting & Stone, LLC		\$292.8600	\$47,736.18
Summers-Taylor, Inc.		\$150.0000	\$24,450.00
Vulcan Construction Materials, LLC		\$145.0000	\$23,635.00
607-06.03 30" CONCRETE PIPE CULVERT (CLASS IV)			
,	169.000 L.F.		
Jones Bros. Contractors, LLC		\$158.0000	\$26,702.00
Cleary Construction, Inc.		\$150.0000	\$25,350.00
Scotty's Contracting & Stone, LLC		\$306.9000	\$51,866.10
Summers-Taylor, Inc.		\$157.0000	\$26,533.00
Vulcan Construction Materials, LLC		\$124.0000	\$20,956.00
607-06.30 30" PIPE CULVERT			
	78.000 L.F.		
Jones Bros. Contractors, LLC		\$161.0000	\$12,558.00
Cleary Construction, Inc.		\$128.0000	\$9,984.00
Scotty's Contracting & Stone, LLC		\$243.8400	\$19,019.52
Summers-Taylor, Inc.		\$134.0000	\$10,452.00
Vulcan Construction Materials, LLC		\$141.0000	\$10,998.00
Taloan Goneral adion materials, LLG		<b>4.11.000</b>	ψ. 3,000.00

		CONTRACT CNX306
	UNIT PRICE	EXTENSION
607-07.02 36" CONCRETE PIPE CULVERT (CLASS III)		
	544.000 L.F.	
Jones Bros. Contractors, LLC	\$180.0000	\$97,920.00
Cleary Construction, Inc.	\$170.0000	\$92,480.00
Scotty's Contracting & Stone, LLC	\$269.1800	\$146,433.92
Summers-Taylor, Inc.	\$177.0000	\$96,288.00
Vulcan Construction Materials, LLC	\$174.0000	\$94,656.00
607-07.03 36" CONCRETE PIPE CULVERT (CLASS IV)		
	265.000 L.F.	
Jones Bros. Contractors, LLC	\$188.0000	\$49,820.00
Cleary Construction, Inc.	\$180.0000	\$47,700.00
Scotty's Contracting & Stone, LLC	\$305.2900	\$80,901.85
Summers-Taylor, Inc.	\$188.0000	\$49,820.00
Vulcan Construction Materials, LLC	\$200.0000	\$53,000.00
607-08.03 42" CONCRETE PIPE CULVERT (CLASS IV)		
	105.000 L.F.	
Jones Bros. Contractors, LLC	\$231.0000	\$24,255.00
Cleary Construction, Inc.	\$223.0000	
Scotty's Contracting & Stone, LLC	\$420.2800	
Summers-Taylor, Inc.	\$233.0000	
Vulcan Construction Materials, LLC	\$248.0000	
607-08.04 42" CONCRETE PIPE CULVERT (CLASS V)		
	181.000 L.F.	
Jones Bros. Contractors, LLC	\$263.0000	\$47,603.00
Cleary Construction, Inc.	\$258.0000	. ,
Scotty's Contracting & Stone, LLC	\$399.1400	· ·
Summers-Taylor, Inc.	\$269.0000	• •
Vulcan Construction Materials, LLC	\$262.0000	
1 415411 0 511511 0 511511 1 1 1 1 1 1 1 1 1 1	4-3-10000	Ψ, .==σ
607-09.02 48" CONCRETE PIPE CULVERT (CLASS III)	226.000 L.F.	
Janes Prog. Contractors, LLC		\$63,280.00
Jones Bros. Contractors, LLC Cleary Construction, Inc.	\$280.0000 \$258.0000	
Scotty's Contracting & Stone, LLC	\$238.0000 \$421.7600	. ,
Summers-Taylor, Inc.	\$269.0000	. ,
Vulcan Construction Materials, LLC	\$289.0000 \$285.0000	
COT CO A4 46" CONODETE DIDE OUR VEDT (OL ACO VI		
607-09.04 48" CONCRETE PIPE CULVERT (CLASS V)	494.000 L.F.	
Jones Bros. Contractors, LLC	\$341.0000	\$168,454.00
Cleary Construction, Inc.	\$320.0000	
Scotty's Contracting & Stone, LLC	\$465.1400	
Summers-Taylor, Inc.	\$334.0000	
Vulcan Construction Materials, LLC	\$350.0000	
	<del>\$555.0000</del>	ų · · <u>=</u> ,000.00

		C	CHIRACI CHASOU
		UNIT PRICE	EXTENSION
607-09.05 48" CONCRETE PIPE CULVERT(CLASS IV)JACKED-IN-PLACE			
	90.000 L.F.		
Jones Bros. Contractors, LLC		\$2,500.0000	\$225,000.00
Cleary Construction, Inc.		\$2,200.0000	\$198,000.00
Scotty's Contracting & Stone, LLC		\$3,180.0000	\$286,200.00
Summers-Taylor, Inc.		\$2,300.0000	\$207,000.00
Vulcan Construction Materials, LLC		\$3,400.0000	\$306,000.00
607-11.04 60" CONCRETE PIPE CULVERT (CLASS IV)			
·	240.000 L.F.		
Jones Bros. Contractors, LLC		\$412.0000	\$98,880.00
Cleary Construction, Inc.		\$385.0000	\$92,400.00
Scotty's Contracting & Stone, LLC		\$659.9000	\$158,376.00
Summers-Taylor, Inc.		\$402.0000	\$96,480.00
Vulcan Construction Materials, LLC		\$541.0000	\$129,840.00
607-11.05 60" CONCRETE PIPE CULVERT (CLASS V)			
,	559.000 L.F.		
Jones Bros. Contractors, LLC	333.000 E.I .	\$499.0000	\$278,941.00
Cleary Construction, Inc.		\$475.0000	\$265,525.00
Scotty's Contracting & Stone, LLC		\$719.5800	\$402,245.22
Summers-Taylor, Inc.		\$496.0000	\$277,264.00
Vulcan Construction Materials, LLC		\$991.0000	\$553,969.00
Valouri Ostistiadani Materialo, EEO		φου 1.0000	φοσο,σσο.σσ
607-13.03 72" CONCRETE PIPE CULVERT (CLASS III)			
·	556.000 L.F.		
Jones Bros. Contractors, LLC	000.000 E.ii i	\$800.0000	\$444,800.00
Cleary Construction, Inc.		\$525.0000	\$291,900.00
Scotty's Contracting & Stone, LLC		\$976.6700	\$543,028.52
Summers-Taylor, Inc.		\$548.0000	\$304,688.00
Vulcan Construction Materials, LLC		\$707.0000	\$393,092.00
Valour Constitution Materials, 220		ψ/σ/.σσσσ	ψοσο,σσ2.σσ
607-13.05 72" CONCRETE PIPE CULVERT (CLASS V)			
	690.000 L.F.		
Jones Bros. Contractors, LLC		\$650.0000	\$448,500.00
Cleary Construction, Inc.		\$755.0000	\$520,950.00
Scotty's Contracting & Stone, LLC		\$808.2700	\$557,706.30
Summers-Taylor, Inc.		\$788.0000	\$543,720.00
Vulcan Construction Materials, LLC		\$1,250.0000	\$862,500.00
607-39.02 18" PIPE CULVERT (SIDE DRAIN)			
	699.000 L.F.		
Jones Bros. Contractors, LLC		\$84.0000	\$58,716.00
Cleary Construction, Inc.		\$78.0000	\$54,522.00
Scotty's Contracting & Stone, LLC		\$133.6600	\$93,428.34
Summers-Taylor, Inc.		\$81.5000	\$56,968.50
Vulcan Construction Materials, LLC		\$108.0000	\$75,492.00

	UNIT PRICE	EXTENSION
	ONITINGE	EXTENSION
607-39.03 24" PIPE CULVERT (SIDE DRAIN)		
,	306.000 L.F.	
Jones Bros. Contractors, LLC	\$99.0000	\$30,294.00
Cleary Construction, Inc.	\$98.0000	\$29,988.00
Scotty's Contracting & Stone, LLC	\$214.5700	\$65,658.42
Summers-Taylor, Inc.	\$102.0000	\$31,212.00
Vulcan Construction Materials, LLC	\$145.0000	\$44,370.00
607-39.04 30" PIPE CULVERT (SIDE DRAIN)		
	99.000 L.F.	
Jones Bros. Contractors, LLC	\$120.0000	\$11,880.00
Cleary Construction, Inc.	\$127.0000	\$12,573.00
Scotty's Contracting & Stone, LLC	\$251.0900	\$24,857.91
Summers-Taylor, Inc.	\$133.0000	\$13,167.00
Vulcan Construction Materials, LLC	\$157.0000	\$15,543.00
607-39.05 36" PIPE CULVERT (SIDE DRAIN)		
	23.000 L.F.	
Jones Bros. Contractors, LLC	\$157.0000	\$3,611.00
Cleary Construction, Inc.	\$194.0000	\$4,462.00
Scotty's Contracting & Stone, LLC	\$410.4900	\$9,441.27
Summers-Taylor, Inc.	\$203.0000	\$4,669.00
Vulcan Construction Materials, LLC	\$179.0000	\$4,117.00
607-39.06 42" PIPE CULVERT (SIDE DRAIN)		
	35.000 L.F.	
Jones Bros. Contractors, LLC	\$182.0000	\$6,370.00
Cleary Construction, Inc.	\$200.0000	\$7,000.00
Scotty's Contracting & Stone, LLC	\$476.6500	\$16,682.75
Summers-Taylor, Inc.	\$209.0000	\$7,315.00
Vulcan Construction Materials, LLC	\$202.0000	\$7,070.00
607-39.09 60" PIPE CULVERT (SIDE DRAIN)		
	45.000 L.F.	
Jones Bros. Contractors, LLC	\$337.0000	\$15,165.00
Cleary Construction, Inc.	\$370.0000	\$16,650.00
Scotty's Contracting & Stone, LLC	\$668.8100	\$30,096.45
Summers-Taylor, Inc.	\$386.0000	\$17,370.00
Vulcan Construction Materials, LLC	\$345.0000	\$15,525.00
611-02.10 JUNCTION BOX, TYPE 1		
	1.000 EACH	
Jones Bros. Contractors, LLC	\$7,700.0000	\$7,700.00
Cleary Construction, Inc.	\$5,850.0000	\$5,850.00
Scotty's Contracting & Stone, LLC	\$13,468.2100	\$13,468.21
Summers-Taylor, Inc.	\$6,110.0000	\$6,110.00
Vulcan Construction Materials, LLC	\$4,210.0000	\$4,210.00

		CONTRACT CNX306
	UNIT PRICE	EXTENSION
611-02.12 JUNCTION BOX, TYPE 3		
,	5.000 EACH	
Jones Bros. Contractors, LLC	\$13,750.0000	\$68,750.00
Cleary Construction, Inc.	\$12,500.0000	\$62,500.00
Scotty's Contracting & Stone, LLC	\$21,811.3500	\$109,056.75
Summers-Taylor, Inc.	\$13,100.0000	\$65,500.00
Vulcan Construction Materials, LLC	\$9,500.0000	\$47,500.00
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)		
	140.310 C.Y.	
Jones Bros. Contractors, LLC	\$1,850.0000	\$259,573.50
Cleary Construction, Inc.	\$1,760.0000	\$246,945.60
Scotty's Contracting & Stone, LLC	\$1,650.0000	\$231,511.50
Summers-Taylor, Inc.	\$1,840.0000	\$258,170.40
Vulcan Construction Materials, LLC	\$1,520.0000	\$213,271.20
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)		
7	,967.000 LB.	
Jones Bros. Contractors, LLC	\$2.2500	\$17,925.75
Cleary Construction, Inc.	\$3.2000	\$25,494.40
Scotty's Contracting & Stone, LLC	\$4.0000	\$31,868.00
Summers-Taylor, Inc.	\$3.3500	\$26,689.45
Vulcan Construction Materials, LLC	\$2.8000	\$22,307.60
611-07.05 CLASS A CONCRETE (DISSIPATOR)		
	66.900 C.Y.	
Jones Bros. Contractors, LLC	\$2,360.0000	\$157,884.00
Cleary Construction, Inc.	\$1,760.0000	\$117,744.00
Scotty's Contracting & Stone, LLC	\$1,500.0000	\$100,350.00
Summers-Taylor, Inc.	\$1,840.0000	\$123,096.00
Vulcan Construction Materials, LLC	\$2,120.0000	\$141,828.00
611-07.06 STEEL BAR REINFORCEMENT (DISSIPATOR)		
20,	,259.000 LB.	
Jones Bros. Contractors, LLC	\$2.2500	\$45,582.75
Cleary Construction, Inc.	\$3.2000	\$64,828.80
Scotty's Contracting & Stone, LLC	\$2.0000	\$40,518.00
Summers-Taylor, Inc.	\$3.3500	\$67,867.65
Vulcan Construction Materials, LLC	\$4.2000	\$85,087.80
611-07.31 18IN ENDWALL (SIDE DRAIN)		
	42.000 EACH	
Jones Bros. Contractors, LLC	\$4,000.0000	\$168,000.00
Cleary Construction, Inc.	\$3,000.0000	\$126,000.00
Scotty's Contracting & Stone, LLC	\$5,623.2000	\$236,174.40
Summers-Taylor, Inc.	\$3,130.0000	\$131,460.00
Vulcan Construction Materials, LLC	\$3,780.0000	\$158,760.00

		UNIT PRICE	EXTENSION
611-07.32 24IN ENDWALL (SIDE DRAIN)			
	16.000 EACH		
Jones Bros. Contractors, LLC		\$5,400.0000	\$86,400.00
Cleary Construction, Inc.		\$5,620.0000	\$89,920.00
Scotty's Contracting & Stone, LLC		\$8,134.7200	\$130,155.52
Summers-Taylor, Inc.		\$5,870.0000	\$93,920.00
Vulcan Construction Materials, LLC		\$5,190.0000	\$83,040.00
611-07.33 30IN ENDWALL (SIDE DRAIN)			
	6.000 EACH		
Jones Bros. Contractors, LLC		\$13,000.0000	\$78,000.00
Cleary Construction, Inc.		\$7,650.0000	\$45,900.00
Scotty's Contracting & Stone, LLC		\$8,987.9200	\$53,927.52
Summers-Taylor, Inc.		\$7,990.0000	\$47,940.00
Vulcan Construction Materials, LLC		\$10,500.0000	\$63,000.00
611-07.34 36IN ENDWALL (SIDE DRAIN)			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$16,100.0000	\$32,200.00
Cleary Construction, Inc.		\$9,850.0000	\$19,700.00
Scotty's Contracting & Stone, LLC		\$19,087.9500	\$38,175.90
Summers-Taylor, Inc.		\$10,300.0000	\$20,600.00
Vulcan Construction Materials, LLC		\$14,200.0000	\$28,400.00
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$1,800.0000	\$14,400.00
Cleary Construction, Inc.		\$2,000.0000	\$16,000.00
Scotty's Contracting & Stone, LLC		\$2,762.5500	\$22,100.40
Summers-Taylor, Inc.		\$2,090.0000	\$16,720.00
Vulcan Construction Materials, LLC		\$1,550.0000	\$12,400.00
611-07.56 18IN ENDWALL (CROSS DRAIN) 6:1			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$2,600.0000	\$2,600.00
Cleary Construction, Inc.		\$3,000.0000	\$3,000.00
Scotty's Contracting & Stone, LLC		\$5,016.5200 \$3,430,0000	\$5,016.52 \$3,130.00
Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$3,130.0000 \$2,650.0000	\$3,130.00 \$2,650.00
Vulcan Constituction Materials, LLC		Ψ2,030.0000	φ2,030.00
611-07.57 24IN ENDWALL (CROSS DRAIN) 3:1			
	5.000 EACH		_
Jones Bros. Contractors, LLC		\$2,550.0000	\$12,750.00
Cleary Construction, Inc.		\$2,650.0000	\$13,250.00
Scotty's Contracting & Stone, LLC		\$4,105.7300	\$20,528.65
Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$2,770.0000 \$2,300.0000	\$13,850.00 \$11,500.00
vuican Construction materials, LLC		φ∠,300.0000	φ11,500.00

		UNIT PRICE	EXTENSION
		ONTTRIOL	Z/((Z/(G/G/(V
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$2,900.0000	\$5,800.00
Cleary Construction, Inc.		\$3,100.0000	\$6,200.00
Scotty's Contracting & Stone, LLC		\$4,817.1300	\$9,634.26
Summers-Taylor, Inc.		\$3,240.0000	\$6,480.00
Vulcan Construction Materials, LLC		\$2,880.0000	\$5,760.00
611-07.59 24IN ENDWALL (CROSS DRAIN) 6:1			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$4,500.0000	\$9,000.00
Cleary Construction, Inc.		\$4,600.0000	\$9,200.00
Scotty's Contracting & Stone, LLC		\$5,353.5500	\$10,707.10
Summers-Taylor, Inc.		\$4,800.0000	\$9,600.00
Vulcan Construction Materials, LLC		\$4,070.0000	\$8,140.00
611-07.60 30IN ENDWALL (CROSS DRAIN) 3:1			
,	3.000 EACH		
Jones Bros. Contractors, LLC		\$5,600.0000	\$16,800.00
Cleary Construction, Inc.		\$4,750.0000	\$14,250.00
Scotty's Contracting & Stone, LLC		\$4,761.9100	\$14,285.73
Summers-Taylor, Inc.		\$4,960.0000	\$14,880.00
Vulcan Construction Materials, LLC		\$4,290.0000	\$12,870.00
611-07.61 30IN ENDWALL (CROSS DRAIN) 4:1			
,	1.000 EACH		
Jones Bros. Contractors, LLC		\$6,600.0000	\$6,600.00
Cleary Construction, Inc.		\$5,700.0000	\$5,700.00
Scotty's Contracting & Stone, LLC		\$7,199.3100	\$7,199.31
Summers-Taylor, Inc.		\$5,950.0000	\$5,950.00
Vulcan Construction Materials, LLC		\$4,920.0000	\$4,920.00
611-07.63 36IN ENDWALL (CROSS DRAIN) 3:1			
,	4.000 EACH		
Jones Bros. Contractors, LLC		\$7,200.0000	\$28,800.00
Cleary Construction, Inc.		\$6,000.0000	\$24,000.00
Scotty's Contracting & Stone, LLC		\$16,330.3600	\$65,321.44
Summers-Taylor, Inc.		\$6,260.0000	\$25,040.00
Vulcan Construction Materials, LLC		\$5,000.0000	\$20,000.00
611-07.65 36IN ENDWALL (CROSS DRAIN) 6:1			
•	3.000 EACH		
Jones Bros. Contractors, LLC		\$11,200.0000	\$33,600.00
Cleary Construction, Inc.		\$9,850.0000	\$29,550.00
Scotty's Contracting & Stone, LLC		\$19,087.9500	\$57,263.85
Summers-Taylor, Inc.		\$10,300.0000	\$30,900.00
Vulcan Construction Materials, LLC		\$8,930.0000	\$26,790.00

			•	CONTRACT CIAX300
			UNIT PRICE	EXTENSION
611-31.02	CATCH BASINS, TYPE 31, > 4' - 8' DEPTH			
011 01102	5/11011 5/101105, 111 201, p 1 0 5 <u>1</u> 1 111	2.000 EACH		
	Jones Bros. Contractors, LLC	2.000 EXOTI	\$10,500.0000	\$21,000.00
	Cleary Construction, Inc.		\$9,800.0000	\$19,600.00
	Scotty's Contracting & Stone, LLC		\$9,000.0000	\$18,029.86
	Summers-Taylor, Inc.		\$10,200.0000	\$20,400.00
	Vulcan Construction Materials, LLC		\$15,700.0000	\$31,400.00
	valour contraction materials, 220		ψ10,700.000	ψο 1, 100.00
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		390.000 L.F.		
	Jones Bros. Contractors, LLC		\$36.0000	\$14,040.00
•	Cleary Construction, Inc.		\$68.0000	\$26,520.00
;	Scotty's Contracting & Stone, LLC		\$88.4000	\$34,476.00
	Summers-Taylor, Inc.		\$71.0000	\$27,690.00
,	Vulcan Construction Materials, LLC		\$111.0000	\$43,290.00
621-03.09	60" TEMPORARY DRAINAGE PIPE			
		90.000 L.F.		
,	Jones Bros. Contractors, LLC		\$120.0000	\$10,800.00
	Cleary Construction, Inc.		\$315.0000	\$28,350.00
	Scotty's Contracting & Stone, LLC		\$241.4500	\$21,730.50
	Summers-Taylor, Inc.		\$329.0000	\$29,610.00
	Vulcan Construction Materials, LLC		\$424.0000	\$38,160.00
701-02	CONCRETE DRIVEWAY			
		611.000 S.F.		
	Jones Bros. Contractors, LLC	011.000 0.1 .	\$18.0000	\$10,998.00
	Cleary Construction, Inc.		\$18.0000	\$10,998.00
	Scotty's Contracting & Stone, LLC		\$17.2300	\$10,527.53
	Summers-Taylor, Inc.		\$17.0000	\$10,387.00
	Vulcan Construction Materials, LLC		\$31.7000	\$19,368.70
			φσσσσ	ψ.ο,οσοσ
705-04.02	GUARDRAIL TERMINAL (TYPE 12)			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$4,000.0000	\$32,000.00
	Cleary Construction, Inc.		\$2,260.0000	\$18,080.00
	Scotty's Contracting & Stone, LLC		\$1,875.0000	\$15,000.00
	Summers-Taylor, Inc.		\$1,980.0000	\$15,840.00
,	Vulcan Construction Materials, LLC		\$4,230.0000	\$33,840.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		10.000 EACH		
•	Jones Bros. Contractors, LLC		\$2,000.0000	\$20,000.00
(	Cleary Construction, Inc.		\$2,260.0000	\$22,600.00
;	Scotty's Contracting & Stone, LLC		\$1,559.3300	\$15,593.30
;	Summers-Taylor, Inc.		\$1,980.0000	\$19,800.00
,	Vulcan Construction Materials, LLC		\$2,120.0000	\$21,200.00

		C	CIVINACI CIVASUO
		UNIT PRICE	EXTENSION
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT			
	9.000 EACH		
Jones Bros. Contractors, LLC		\$19,000.0000	\$171,000.00
Cleary Construction, Inc.		\$2,260.0000	\$20,340.00
Scotty's Contracting & Stone, LLC		\$1,475.3100	\$13,277.79
Summers-Taylor, Inc.		\$1,980.0000	\$17,820.00
Vulcan Construction Materials, LLC		\$4,230.0000	\$38,070.00
705-06.01 W BEAM GR (TYPE 2) MASH TL-3			
	21,613.000 L.F.		
Jones Bros. Contractors, LLC		\$48.0000	\$1,037,424.00
Cleary Construction, Inc.		\$34.0000	\$734,842.00
Scotty's Contracting & Stone, LLC		\$28.0800	\$606,893.04
Summers-Taylor, Inc.		\$29.5000	\$637,583.50
Vulcan Construction Materials, LLC		\$50.8000	\$1,097,940.40
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$2,500.0000	\$5,000.00
Cleary Construction, Inc.		\$1,865.0000	\$3,730.00
Scotty's Contracting & Stone, LLC		\$1,550.0000	\$3,100.00
Summers-Taylor, Inc.		\$1,630.0000	\$3,260.00
Vulcan Construction Materials, LLC		\$2,640.0000	\$5,280.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL-3			
	47.000 EACH		
Jones Bros. Contractors, LLC		\$2,000.0000	\$94,000.00
Cleary Construction, Inc.		\$1,280.0000	\$60,160.00
Scotty's Contracting & Stone, LLC		\$1,063.0000	\$49,961.00
Summers-Taylor, Inc.		\$1,120.0000	\$52,640.00
Vulcan Construction Materials, LLC		\$2,120.0000	\$99,640.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
	10.000 EACH		
Jones Bros. Contractors, LLC		\$5,250.0000	\$52,500.00
Cleary Construction, Inc.		\$3,870.0000	\$38,700.00
Scotty's Contracting & Stone, LLC		\$3,220.0000	\$32,200.00
Summers-Taylor, Inc.		\$3,400.0000	\$34,000.00
Vulcan Construction Materials, LLC		\$5,550.0000	\$55,500.00
705-06.25 THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$4,800.0000	\$38,400.00
Cleary Construction, Inc.		\$2,470.0000	\$19,760.00
Scotty's Contracting & Stone, LLC		\$2,050.0000	\$16,400.00
Summers-Taylor, Inc.		\$2,160.0000	\$17,280.00
Vulcan Construction Materials, LLC		\$5,080.0000	\$40,640.00

			WINACI CNASOO
		UNIT PRICE	EXTENSION
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
·	9.000 EACH		
Jones Bros. Contractors, LLC		\$4,800.0000	\$43,200.00
Cleary Construction, Inc.		\$3,460.0000	\$31,140.00
Scotty's Contracting & Stone, LLC		\$2,872.0000	\$25,848.00
Summers-Taylor, Inc.		\$3,030.0000	\$27,270.00
Vulcan Construction Materials, LLC		\$5,080.0000	\$45,720.00
705-08.51 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
703-00.31 TOKTABLE IMI ACT ATTENDATOR NOTIKI 330 TE-3	3.000 EACH		
Jones Bros. Contractors, LLC		\$7,500.0000	\$22,500.00
Cleary Construction, Inc.		\$6,240.0000	\$18,720.00
Scotty's Contracting & Stone, LLC		\$19,600.0000	\$58,800.00
Summers-Taylor, Inc.		\$5,910.0000	\$17,730.00
Vulcan Construction Materials, LLC		\$15,400.0000	\$46,200.00
705-20.20 LOW MAINT CRASH CUSHN NARROW (MASH TL-3)			
,	2.000 EACH		
Jones Bros. Contractors, LLC	2.000 2.7011	\$30,000.0000	\$60,000.00
Cleary Construction, Inc.		\$26,750.0000	\$53,500.00
Scotty's Contracting & Stone, LLC		\$58,000.0000	\$116,000.00
Summers-Taylor, Inc.		\$25,300.0000	\$50,600.00
Vulcan Construction Materials, LLC		\$98,900.0000	\$197,800.00
vulcan Construction Materials, LEC		ψ30,300.0000	φ197,000.00
706-01 GUARDRAIL REMOVED			
	980.000 L.F.		
Jones Bros. Contractors, LLC		\$3.0000	\$2,940.00
Cleary Construction, Inc.		\$2.5000	\$2,450.00
Scotty's Contracting & Stone, LLC		\$2.0000	\$1,960.00
Summers-Taylor, Inc.		\$2.1000	\$2,058.00
Vulcan Construction Materials, LLC		\$3.1500	\$3,087.00
706-06.03 RADIUS RAIL			
	1,758.500 L.F.		
Jones Bros. Contractors, LLC		\$52.5000	\$92,321.25
Cleary Construction, Inc.		\$42.0000	\$73,857.00
Scotty's Contracting & Stone, LLC		\$34.3900	\$60,474.82
Summers-Taylor, Inc.		\$36.5000	\$64,185.25
Vulcan Construction Materials, LLC		\$55.5000	\$97,596.75
706-10.26 ROUNDED END ELEMENT			
	39.000 EACH		
Jones Bros. Contractors, LLC		\$400.0000	\$15,600.00
Cleary Construction, Inc.		\$150.0000	\$5,850.00
Scotty's Contracting & Stone, LLC		\$125.0000	\$4,875.00
Summers-Taylor, Inc.		\$132.0000	\$5,148.00
Vulcan Construction Materials, LLC		\$423.0000	\$16,497.00
,		•	,

		EVERNOUS .
	UNIT PRICE	EXTENSION
706-10.73 REMOVAL OF GUARDRAIL & POST FOR REUSE		
	1,100.000 L.F.	
Jones Bros. Contractors, LLC	\$25.0000	\$27,500.00
Cleary Construction, Inc.	\$23.6000	\$25,960.00
Scotty's Contracting & Stone, LLC	\$19.6400	\$21,604.00
Summers-Taylor, Inc.	\$20.5000	\$22,550.00
Vulcan Construction Materials, LLC	\$26.5000	\$29,150.00
707-03.01 STOCK FENCE		
	1,535.000 L.F.	
Jones Bros. Contractors, LLC	\$8.2500	\$12,663.75
Cleary Construction, Inc.	\$14.0000	\$21,490.00
Scotty's Contracting & Stone, LLC	\$8.0000	\$12,280.00
Summers-Taylor, Inc.	\$8.4000	\$12,894.00
Vulcan Construction Materials, LLC	\$8.4500	\$12,970.75
707-03.02 END, BRACED LINE, CORNER POST ASSEMBLY(STOCK FEND	·E)	
707-03.02 END, BRACED LINE, CORNER POST ASSEMBLT(STOCK FENC	9.000 EACH	
James Bree Contractors III C		<b>\$2.050.00</b>
Jones Bros. Contractors, LLC	\$250.0000	\$2,250.00
Cleary Construction, Inc.	\$500.0000	\$4,500.00
Scotty's Contracting & Stone, LLC	\$250.0000	\$2,250.00
Summers-Taylor, Inc.	\$261.0000	\$2,349.00
Vulcan Construction Materials, LLC	\$264.0000	\$2,376.00
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE		
	17,831.000 L.F.	
Jones Bros. Contractors, LLC	\$1.7500	\$31,204.25
Cleary Construction, Inc.	\$2.2500	\$40,119.75
Scotty's Contracting & Stone, LLC	\$3.3000	\$58,842.30
Summers-Taylor, Inc.	\$2.1000	\$37,445.10
Vulcan Construction Materials, LLC	\$2.1000	\$37,445.10
708-02.01 MARKERS (CONCRETE R.O.W. POSTS)		
	150.000 EACH	
Jones Bros. Contractors, LLC	\$400.0000	\$60,000.00
Cleary Construction, Inc.	\$400.0000	\$60,000.00
Scotty's Contracting & Stone, LLC	\$320.0000	\$48,000.00
Summers-Taylor, Inc.	\$334.0000	\$50,100.00
Vulcan Construction Materials, LLC	\$347.0000	\$52,050.00
709-05.05 MACHINED RIP-RAP (CLASS A-3)		
100 00.00 MINORINED IN THAT (OLAGO A-0)	653.000 TON	
Jones Bros. Contractors, LLC	\$61.0000	\$39,833.00
Cleary Construction, Inc.	\$54.0000	\$35,262.00
Scotty's Contracting & Stone, LLC	\$65.4900 \$65.4900	\$42,764.97
Summers-Taylor, Inc.	\$56.5000	\$36,894.50
Vulcan Construction Materials, LLC	\$72.0000	\$47,016.00
Valoan Construction Waterials, LLC	\$12.0000	ψ+1,010.00

				CONTRACT CNX306
			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	, ,	31,390.400 TON		
	Jones Bros. Contractors, LLC	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$51.0000	\$1,600,910.40
	Cleary Construction, Inc.		\$54.0000	\$1,695,081.60
	Scotty's Contracting & Stone, LLC		\$54.9500	\$1,724,902.48
	Summers-Taylor, Inc.		\$56.5000	\$1,773,557.60
	Vulcan Construction Materials, LLC		\$75.0000	\$2,354,280.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		13,423.000 TON		
	Jones Bros. Contractors, LLC		\$55.0000	\$738,265.00
	Cleary Construction, Inc.		\$54.0000	\$724,842.00
	Scotty's Contracting & Stone, LLC		\$54.5300	\$731,956.19
	Summers-Taylor, Inc.		\$56.5000	\$758,399.50
	Vulcan Construction Materials, LLC		\$75.0000	\$1,006,725.00
709-05.09	MACHINED RIP-RAP (CLASS C)			
		9,468.225 TON		
	Jones Bros. Contractors, LLC		\$55.0000	\$520,752.38
	Cleary Construction, Inc.		\$54.0000	\$511,284.15
	Scotty's Contracting & Stone, LLC		\$55.7600	\$527,948.23
	Summers-Taylor, Inc.		\$56.5000	\$534,954.71
	Vulcan Construction Materials, LLC		\$77.4000	\$732,840.62
709-05.81	ROCK RIFFLES			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$35,000.0000	\$35,000.00
	Cleary Construction, Inc.		\$37,000.0000	\$37,000.00
	Scotty's Contracting & Stone, LLC		\$21,120.8000	\$21,120.80
	Summers-Taylor, Inc.		\$38,600.0000	\$38,600.00
	Vulcan Construction Materials, LLC		\$106,000.0000	\$106,000.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		30,020.000 L.F.		
	Jones Bros. Contractors, LLC		\$12.0000	\$360,240.00
	Cleary Construction, Inc.		\$13.4000	\$402,268.00
	Scotty's Contracting & Stone, LLC		\$8.8500	\$265,677.00
	Summers-Taylor, Inc.		\$12.5000	\$375,250.00
	Vulcan Construction Materials, LLC		\$12.7000	\$381,254.00
710-05	LATERAL UNDERDRAIN			
		3,515.000 L.F.		
	Jones Bros. Contractors, LLC		\$11.0000	\$38,665.00
	Cleary Construction, Inc.		\$12.3000	\$43,234.50
	Scotty's Contracting & Stone, LLC		\$16.0000	\$56,240.00
	Summers-Taylor, Inc.		\$11.5000	\$40,422.50
	Vulcan Construction Materials, LLC		\$11.6000	\$40,774.00

				CONTRACT CNX306
			UNIT PRICE	EXTENSION
710-06.11 LATERAL UNDER	ORAIN ENDWALL (2:1)			
TIO GOTT ENTERNE GROEN	PRAIN ENDWALE (E. I)	26.000 EACH		
Jones Bros. Contr	actors IIC	20.000 27.00.	\$1,000.0000	\$26,000.00
Cleary Construction			\$1,110.0000	\$28,860.00
Scotty's Contraction			\$625.0000	\$16,250.00
Summers-Taylor,	-		\$1,040.0000	\$27,040.00
Vulcan Construction			\$1,060.0000	\$27,560.00
710-06.12 LATERAL UNDER	DRAIN ENDWALL (3:1)	14.000 EACH		
Jones Pres. Contr	actors IIC	14.000 EACH	\$1,000.0000	\$14,000,00
Jones Bros. Contr Cleary Construction			\$1,000.0000	\$14,000.00 \$15,540.00
Scotty's Contraction			\$635.0000	\$15,540.00 \$8,890.00
Summers-Taylor,	-		\$1,040.0000	\$14,560.00
Vulcan Constructi			\$1,060.0000	\$14,840.00 \$14,840.00
	,		. ,	, ,
710-06.13 LATERAL UNDER	ORAIN ENDWALL (4:1)	44 000 54 00		
		14.000 EACH	<b>A</b> 4 000 0000	<b>A</b> 4400000
Jones Bros. Contr	•		\$1,000.0000	\$14,000.00
Cleary Construction			\$1,110.0000	\$15,540.00
Scotty's Contraction	-		\$650.0000	\$9,100.00
Summers-Taylor,			\$1,040.0000	\$14,560.00
Vulcan Construction	on Materials, LLC		\$1,060.0000	\$14,840.00
710-06.15 LATERAL UNDER	DRAIN ENDWALL (6:1)			
		106.000 EACH		
Jones Bros. Contr	actors, LLC		\$1,000.0000	\$106,000.00
Cleary Construction			\$1,110.0000	\$117,660.00
Scotty's Contraction			\$675.0000	\$71,550.00
Summers-Taylor,	-		\$1,040.0000	\$110,240.00
Vulcan Construction	on Materials, LLC		\$1,060.0000	\$112,360.00
711-05.71 51IN SINGLE SLOI	PE CONCRETE BARRIER WALL			
		800.000 L.F.		
Jones Bros. Contr	actors, LLC		\$115.0000	\$92,000.00
Cleary Construction	on, Inc.		\$138.0000	\$110,400.00
Scotty's Contraction	ng & Stone, LLC		\$138.0000	\$110,400.00
Summers-Taylor,	Inc.		\$138.0000	\$110,400.00
Vulcan Construction	on Materials, LLC		\$146.0000	\$116,800.00
712-01 TRAFFIC CONTRO	)L			
	_	1.000 LS		
Jones Bros. Contr	actors, LLC		\$100,000.0000	\$100,000.00
Cleary Construction			\$400,000.0000	\$400,000.00
Scotty's Contracti			\$290,277.5500	\$290,277.55
Summers-Taylor,	-		\$254,300.0000	\$254,300.00
Vulcan Construction			\$1,250,000.0000	\$1,250,000.00

		00	WINACI CNASOO
		UNIT PRICE	EXTENSION
712-02.10 PORTABLE BARRIER RAIL (MASH TL-3)			
	2,970.000 L.F.		
Jones Bros. Contractors, LLC		\$130.0000	\$386,100.00
Cleary Construction, Inc.		\$83.0000	\$246,510.00
Scotty's Contracting & Stone, LLC		\$175.0000	\$519,750.00
Summers-Taylor, Inc.		\$99.0000	\$294,030.00
Vulcan Construction Materials, LLC		\$93.6000	\$277,992.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
	200.000 EACH		
Jones Bros. Contractors, LLC		\$60.0000	\$12,000.00
Cleary Construction, Inc.		\$67.0000	\$13,400.00
Scotty's Contracting & Stone, LLC		\$60.0000	\$12,000.00
Summers-Taylor, Inc.		\$62.5000	\$12,500.00
Vulcan Construction Materials, LLC		\$45.0000	\$9,000.00
712-04.50 BARRIER RAIL DELINEATOR			
	149.000 EACH		
Jones Bros. Contractors, LLC		\$25.0000	\$3,725.00
Cleary Construction, Inc.		\$28.0000	\$4,172.00
Scotty's Contracting & Stone, LLC		\$25.0000	\$3,725.00
Summers-Taylor, Inc.		\$26.0000	\$3,874.00
Vulcan Construction Materials, LLC		\$8.0000	\$1,192.00
valoari construction materials, ELC		ψ0.0000	ψ1,132.00
712-05.01 WARNING LIGHTS (TYPE A)			
	30.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$900.00
Cleary Construction, Inc.		\$33.4000	\$1,002.00
Scotty's Contracting & Stone, LLC		\$30.0000	\$900.00
Summers-Taylor, Inc.		\$31.5000	\$945.00
Vulcan Construction Materials, LLC		\$38.0000	\$1,140.00
712-06 SIGNS (CONSTRUCTION)			
	1,297.500 S.F.		
Jones Bros. Contractors, LLC		\$12.0000	\$15,570.00
Cleary Construction, Inc.		\$13.4000	\$17,386.50
Scotty's Contracting & Stone, LLC		\$12.0000	\$15,570.00
Summers-Taylor, Inc.		\$12.5000	\$16,218.75
Vulcan Construction Materials, LLC		\$10.0000	\$12,975.00
712-07.03 TEMPORARY BARRICADES (TYPE III)			
	204.000 L.F.		
Jones Bros. Contractors, LLC		\$25.0000	\$5,100.00
Cleary Construction, Inc.		\$28.0000	\$5,712.00
Scotty's Contracting & Stone, LLC		\$25.0000	\$5,100.00
Summers-Taylor, Inc.		\$26.0000	\$5,304.00
Vulcan Construction Materials, LLC		\$30.0000	\$6,120.00
valouri constitution materials, LLC		ψου.υυυυ	ψ0,120.00

			MINACI CNASOO
		UNIT PRICE	EXTENSION
712-08.03 ARROW BOARD (TYPE C)			
,	3.000 EACH		
Jones Bros. Contractors, LLC	5.000 <u>-</u>	\$2,500.0000	\$7,500.00
Cleary Construction, Inc.		\$2,785.0000	\$8,355.00
Scotty's Contracting & Stone, LLC		\$2,500.0000	\$7,500.00
Summers-Taylor, Inc.		\$2,610.0000	\$7,830.00
Vulcan Construction Materials, LLC		\$1,250.0000	\$3,750.00
valoan conclusion materials, 220		Ψ1,230.3333	ψο,,, σο.σο
712-09.01 REMOVABLE PAVEMENT MARKING LINE			
	24,815.000 L.F.		
Jones Bros. Contractors, LLC		\$4.7500	\$117,871.25
Cleary Construction, Inc.		\$1.1000	\$27,296.50
Scotty's Contracting & Stone, LLC		\$3.0000	\$74,445.00
Summers-Taylor, Inc.		\$1.0500	\$26,055.75
Vulcan Construction Materials, LLC		\$3.1500	\$78,167.25
712-09.02 REMOVABLE PAVEMENT MARKING (8" BARRIER LINE	Ξ)		
	6,711.000 L.F.		
Jones Bros. Contractors, LLC		\$6.7500	\$45,299.25
Cleary Construction, Inc.		\$0.9000	\$6,039.90
Scotty's Contracting & Stone, LLC		\$5.0000	\$33,555.00
Summers-Taylor, Inc.		\$0.8500	\$5,704.35
Vulcan Construction Materials, LLC		\$4.2000	\$28,186.20
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPO	3.000 C.Y.		
Janea Brog. Contractora III C	3.000 C.1.	<b>\$</b> 522,0000	<b>\$4.500.00</b>
Jones Bros. Contractors, LLC		\$533.0000	\$1,599.00
Cleary Construction, Inc.		\$630.0000	\$1,890.00
Scotty's Contracting & Stone, LLC		\$533.0000	\$1,599.00
Summers-Taylor, Inc.		\$562.0000	\$1,686.00
Vulcan Construction Materials, LLC		\$750.0000	\$2,250.00
713-01.02 STEEL BAR REINFORCEMENT (FOUNDATION FOR SIG	N SUPPORTS)		
	702.000 LB.		
Jones Bros. Contractors, LLC		\$2.8700	\$2,014.74
Cleary Construction, Inc.		\$3.4000	\$2,386.80
Scotty's Contracting & Stone, LLC		\$2.8700	\$2,014.74
Summers-Taylor, Inc.		\$3.0500	\$2,141.10
Vulcan Construction Materials, LLC		\$4.2500	\$2,983.50
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
(	47.000 EACH		
Jones Bros. Contractors, LLC		\$61.5000	\$2,890.50
Cleary Construction, Inc.		\$73.0000	\$3,431.00
Scotty's Contracting & Stone, LLC		\$106.5000	\$5,005.50
Summers-Taylor, Inc.		\$65.0000	\$3,055.00
Vulcan Construction Materials, LLC		\$57.0000	\$2,679.00
vuican construction materials, LLC		φυ/.υυυυ	φ∠,079.00

		C.	DIVINACT CIVASUO
		UNIT PRICE	EXTENSION
742 02 45 ELEVIDLE DELINEATOR (VELLOM)			
713-02.15 FLEXIBLE DELINEATOR (YELLOW)	46.000 EACH		
	46.000 EACH		
Jones Bros. Contractors, LLC		\$61.5000	\$2,829.00
Cleary Construction, Inc.		\$73.0000	\$3,358.00
Scotty's Contracting & Stone, LLC		\$106.5000	\$4,899.00
Summers-Taylor, Inc.		\$65.0000	\$2,990.00
Vulcan Construction Materials, LLC		\$57.0000	\$2,622.00
713-02.16 FLEXIBLE TYPE II OBJECT MARKER			
	12.000 EACH		
Jones Bros. Contractors, LLC		\$110.5000	\$1,326.00
Cleary Construction, Inc.		\$130.0000	\$1,560.00
Scotty's Contracting & Stone, LLC		\$110.5000	\$1,326.00
Summers-Taylor, Inc.		\$117.0000	\$1,404.00
Vulcan Construction Materials, LLC		\$91.0000	\$1,092.00
713-06 STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPOR	PT		
713-00 STEEL PHEAING & WI-HEAING(BREARAWAT) SIGN SOIT OF	2,147.000 LB.		
Jones Bros. Contractors, LLC	2,111000 221	\$5.0100	\$10,756.47
Cleary Construction, Inc.		\$5.9500	\$12,774.65
Scotty's Contracting & Stone, LLC		\$5.9300 \$5.0100	\$10,756.47
Summers-Taylor, Inc.		\$5.3000	\$10,730.47
Vulcan Construction Materials, LLC		\$3.5000 \$13.5000	\$28,984.50
vuican Construction Materials, LLC		φ13.5000	φ20,904.30
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	3,660.000 LB.		
Jones Bros. Contractors, LLC		\$3.2700	\$11,968.20
Cleary Construction, Inc.		\$3.9000	\$14,274.00
Scotty's Contracting & Stone, LLC		\$3.2700	\$11,968.20
Summers-Taylor, Inc.		\$3.4500	\$12,627.00
Vulcan Construction Materials, LLC		\$5.5000	\$20,130.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
,	242.000 S.F.		
Jones Bros. Contractors, LLC		\$11.8800	\$2,874.96
Cleary Construction, Inc.		\$14.0000	\$3,388.00
Scotty's Contracting & Stone, LLC		\$11.8800	\$2,874.96
Summers-Taylor, Inc.		\$12.5000	\$3,025.00
Vulcan Construction Materials, LLC		\$17.2500	\$4,174.50
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
713-13.03 TEAT SHEET ALDMING M SIGNS (0.100 THION)	304.000 S.F.		
Jones Bros. Contractors, LLC		\$16.8400	\$5,119.36
Cleary Construction, Inc.		\$20.0000	\$6,080.00
Scotty's Contracting & Stone, LLC		\$16.8400	\$5,119.36
Summers-Taylor, Inc.		\$18.0000	\$5,472.00
Vulcan Construction Materials, LLC		\$18.5000	\$5,624.00
valoan Constitution Materials, LEC		ψ10.5000	ψ0,024.00

			UNIT PRICE	EXTENSION
713-14 EXTRUDED ALUMINU	IM PANEL SIGNS			
		93.000 S.F.		
Jones Bros. Contract	ors, LLC		\$29.5700	\$2,750.01
Cleary Construction,	Inc.		\$35.0000	\$3,255.00
Scotty's Contracting 8			\$29.5700	\$2,750.01
Summers-Taylor, Inc.			\$31.0000	\$2,883.00
Vulcan Construction I	Materials, LLC		\$31.0000	\$2,883.00
713-15 REMOVAL OF SIGNS,	POSTS AND FOOTINGS			
		1.000 LS		
Jones Bros. Contract	ors, LLC		\$8,575.0000	\$8,575.00
Cleary Construction,	Inc.		\$10,100.0000	\$10,100.00
Scotty's Contracting 8	& Stone, LLC		\$8,575.0000	\$8,575.00
Summers-Taylor, Inc.			\$9,040.0000	\$9,040.00
Vulcan Construction I	Materials, LLC		\$3,500.0000	\$3,500.00
713-15.04 INSTALLATION OF LE	ETTERS & ARROWS			
		1.000 LS		
Jones Bros. Contract	ors, LLC		\$3,063.0000	\$3,063.00
Cleary Construction,	Inc.		\$3,600.0000	\$3,600.00
Scotty's Contracting 8	& Stone, LLC		\$3,063.0000	\$3,063.00
Summers-Taylor, Inc.			\$3,230.0000	\$3,230.00
Vulcan Construction I	Materials, LLC		\$825.0000	\$825.00
713-16.01 CHANGEABLE MESS	AGE SIGN UNIT			
		3.000 EACH		
Jones Bros. Contract	ors, LLC		\$8,800.0000	\$26,400.00
Cleary Construction,	Inc.		\$9,800.0000	\$29,400.00
Scotty's Contracting 8	& Stone, LLC		\$8,800.0000	\$26,400.00
Summers-Taylor, Inc.			\$9,190.0000	\$27,570.00
Vulcan Construction I	Materials, LLC		\$25,600.0000	\$76,800.00
713-16.06 DEAD END SIGN AND	SUPPORT			
		3.000 EACH		
Jones Bros. Contract	ors, LLC		\$319.0000	\$957.00
Cleary Construction,	Inc.		\$375.0000	\$1,125.00
Scotty's Contracting 8	& Stone, LLC		\$319.0000	\$957.00
Summers-Taylor, Inc.			\$336.0000	\$1,008.00
Vulcan Construction I	Materials, LLC		\$400.0000	\$1,200.00
713-16.07 END OF ROADWAY S	IGN AND SUPPORT			
		4.000 EACH		
Jones Bros. Contract	ors, LLC		\$380.0000	\$1,520.00
Cleary Construction,	Inc.		\$450.0000	\$1,800.00
Scotty's Contracting 8	& Stone, LLC		\$380.0000	\$1,520.00
Summers-Taylor, Inc.			\$401.0000	\$1,604.00
Vulcan Construction I	Materials, LLC		\$325.0000	\$1,300.00

		-	
		UNIT PRICE	EXTENSION
716-01.07 TEMPORARY RAISED PAVEMENT MARKER, YELLOW			
	92.000 EACH		
Jones Bros. Contractors, LLC		\$15.0000	\$1,380.00
Cleary Construction, Inc.		\$16.7000	\$1,536.40
Scotty's Contracting & Stone, LLC		\$25.0000	\$2,300.00
Summers-Taylor, Inc.		\$15.5000	\$1,426.00
Vulcan Construction Materials, LLC		\$21.2000	\$1,420.00 \$1,950.40
Vulcan Construction Materials, LLC		φ21.2000	φ1,950. <del>4</del> 0
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	OLOR)		
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	486.000 EACH		
Jones Bros. Contractors, LLC	400.000 E/(011	\$50.0000	\$24,300.00
Cleary Construction, Inc.		\$37.3500	\$18,152.10
•			
Scotty's Contracting & Stone, LLC		\$45.0000	\$21,870.00
Summers-Taylor, Inc.		\$35.0000	\$17,010.00
Vulcan Construction Materials, LLC		\$33.8000	\$16,426.80
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)		
710-01.22 ONOW LOWABLE NAIGLET ATMENT MARKILING (MONO-BIR)(1	•		
	217.000 EACH	<b>^</b>	<b>^</b>
Jones Bros. Contractors, LLC		\$50.0000	\$10,850.00
Cleary Construction, Inc.		\$36.2500	\$7,866.25
Scotty's Contracting & Stone, LLC		\$45.0000	\$9,765.00
Summers-Taylor, Inc.		\$34.0000	\$7,378.00
Vulcan Construction Materials, LLC		\$33.8000	\$7,334.60
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
710-02.04 FLASTIC FAVEMENT MARKING (CHANNELIZATION STRIFTING)	200 000 C V		
	309.000 S.Y.	<b>*</b> 0= 0000	<b>*</b> 40.04 <b>*</b> 00
Jones Bros. Contractors, LLC		\$35.0000	\$10,815.00
Cleary Construction, Inc.		\$42.0000	\$12,978.00
Scotty's Contracting & Stone, LLC		\$25.0000	\$7,725.00
Summers-Taylor, Inc.		\$39.0000	\$12,051.00
Vulcan Construction Materials, LLC		\$31.7000	\$9,795.30
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03 TEASTIOTAVEMENT MARKING (STOT EINE)	338.000 L.F.		
Janes Pres. Contractors II C	330.000 L.F.	¢25,0000	¢0.450.00
Jones Bros. Contractors, LLC		\$25.0000	\$8,450.00
Cleary Construction, Inc.		\$20.0000	\$6,760.00
Scotty's Contracting & Stone, LLC		\$20.0000	\$6,760.00
Summers-Taylor, Inc.		\$19.0000	\$6,422.00
Vulcan Construction Materials, LLC		\$23.3000	\$7,875.40
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
(.3.11.2.11.4.11.4.11.4.11.4.11.4.11.4.11	16.000 EACH		
Jones Bros. Contractors, LLC		\$200.0000	\$3,200.00
Cleary Construction, Inc.		\$223.0000	\$3,568.00
Scotty's Contracting & Stone, LLC		\$223.0000 \$150.0000	\$2,400.00
		\$209.0000	\$2,400.00 \$3,344.00
Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$209.0000 \$238.0000	\$3,344.00 \$3,808.00
Vulcari Coristruction Materials, LLC		φ230.0000	φ3,000.00

	UNIT PRICE	EXTENSION
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
	.000 EACH	
		\$1,500.00
Jones Bros. Contractors, LLC	\$750.0000	
Cleary Construction, Inc.	\$585.0000	\$1,170.00
Scotty's Contracting & Stone, LLC	\$400.0000	\$800.00
Summers-Taylor, Inc.	\$548.0000	\$1,096.00
Vulcan Construction Materials, LLC	\$423.0000	\$846.00
TAG OF OAL PAINTED DAVENENT MADICING (ALL INE)		
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	400 L.M.	
Jones Bros. Contractors, LLC	\$1,750.0000	\$21,700.00
Cleary Construction, Inc.	\$780.0000	\$9,672.00
Scotty's Contracting & Stone, LLC	\$1,275.0000	\$15,810.00
Summers-Taylor, Inc.	\$731.0000	\$9,064.40
Vulcan Construction Materials, LLC	\$1,270.0000	\$15,748.00
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)		
338.	000 L.F.	
Jones Bros. Contractors, LLC	\$15.0000	\$5,070.00
Cleary Construction, Inc.	\$8.6500	\$2,923.70
Scotty's Contracting & Stone, LLC	\$10.0000	\$3,380.00
Summers-Taylor, Inc.	\$8.1000	\$2,737.80
Vulcan Construction Materials, LLC	\$15.9000	\$5,374.20
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
16.	.300 L.M.	
Jones Bros. Contractors, LLC	\$1,900.0000	\$30,970.00
Cleary Construction, Inc.	\$1,365.0000	
	• •	\$22,249.50
Scotty's Contracting & Stone, LLC	\$1,700.0000	\$27,710.00
Summers-Taylor, Inc.	\$1,280.0000 \$4,270.0000	\$20,864.00
Vulcan Construction Materials, LLC	\$1,270.0000	\$20,701.00
716-08.20 REMOVAL OF PAVEMENT MARKING (LINE)		
	900 L.M.	
		<b>#45.070.00</b>
Jones Bros. Contractors, LLC	\$5,300.0000	\$15,370.00
Cleary Construction, Inc.	\$5,800.0000	\$16,820.00
Scotty's Contracting & Stone, LLC	\$3,200.0000	\$9,280.00
Summers-Taylor, Inc.	\$5,430.0000	\$15,747.00
Vulcan Construction Materials, LLC	\$5,580.0000	\$16,182.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
	700 L M	
-	700 L.M.	<b>#004 450 00</b>
Jones Bros. Contractors, LLC	\$8,500.0000	\$201,450.00
Cleary Construction, Inc.	\$7,460.0000	\$176,802.00
Scotty's Contracting & Stone, LLC	\$7,100.0000	\$168,270.00
Summers-Taylor, Inc.	\$7,000.0000	\$165,900.00
Vulcan Construction Materials, LLC	\$8,250.0000	\$195,525.00

		UNIT PRICE	EXTENSION
716-12.03 I	ENHANCED FLATLINE THERMO PVMT M		
		1,150.000 L.F.	
	Jones Bros. Contractors, LLC	\$4.0000	\$4,600.00
(	Cleary Construction, Inc.	\$2.5000	\$2,875.00
5	Scotty's Contracting & Stone, LLC	\$3.0000	\$3,450.00
5	Summers-Taylor, Inc.	\$2.3500	\$2,702.50
\	Vulcan Construction Materials, LLC	\$5.3000	\$6,095.00
716-12.05 I	ENHANCED FLATLINE THERMO PVMT M	RKNG (6IN DOTTED LINE)	
		600.000 L.F.	
	Jones Bros. Contractors, LLC	\$3.0000	\$1,800.00
	Cleary Construction, Inc.	\$1.3500	\$810.00
	Scotty's Contracting & Stone, LLC	\$5,000	\$3,000.00
	Summers-Taylor, Inc.	\$1.2500	\$750.00
	Vulcan Construction Materials, LLC	\$4.2000	\$2,520.00
717-01	MOBILIZATION		
717-01 1	MOBILIZATION	1.000 LS	
	Jones Bros. Contractors, LLC	\$9,800,000.0000	\$9,800,000.00
	Cleary Construction, Inc.	\$7,350,000.0000	\$7,350,000.00
	Scotty's Contracting & Stone, LLC	\$6,940,587.9600	\$6,940,587.96
	Summers-Taylor, Inc.	\$10,300,000.0000	\$10,300,000.00
	Vulcan Construction Materials, LLC	\$10,000,000.0000	\$10,000,000.00
,	vuican Construction Materials, LLC	\$10,000,000.0000	\$10,000,000.00
722-01.02 I	FIELD OFFICE (TYPE 2)		
		1.000 LS	
	Jones Bros. Contractors, LLC	\$250,000.0000	\$250,000.00
(	Cleary Construction, Inc.	\$150,000.0000	\$150,000.00
5	Scotty's Contracting & Stone, LLC	\$107,500.0000	\$107,500.00
9	Summers-Taylor, Inc.	\$129,200.0000	\$129,200.00
\	Vulcan Construction Materials, LLC	\$220,000.0000	\$220,000.00
740-06.01	GEOMEMBRANE		
		1,660.000 S.Y.	
	Jones Bros. Contractors, LLC	\$12.0000	\$19,920.00
(	Cleary Construction, Inc.	\$19.0000	\$31,540.00
5	Scotty's Contracting & Stone, LLC	\$19.2500	\$31,955.00
	Summers-Taylor, Inc.	\$20.0000	\$33,200.00
\	Vulcan Construction Materials, LLC	\$28.3000	\$46,978.00
740-07.04	GEOGRID REINFORCEMENT TYPE 2		
	· · · · · · · · · · · · · · · · · · ·	1,060.000 S.Y.	
	Jones Bros. Contractors, LLC	\$15.0000	\$15,900.00
	Cleary Construction, Inc.	\$4.8000	\$5,088.00
	Scotty's Contracting & Stone, LLC	\$5.1400	\$5,088.00 \$5,448.40
	Scotty's Contracting & Stone, LLC Summers-Taylor, Inc.	\$5.1400 \$5.0000	\$5,446.40 \$5,300.00
		\$5.0000	\$5,300.00 \$4,611.00
`	Vulcan Construction Materials, LLC	\$4.3500	φ4,011.00

				CONTRACT	CNX306
			UNIT PRICE	EXT	ENSION
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)				
	, ,	53,782.870 S.Y.			
	Jones Bros. Contractors, LLC	,	\$2.0000	\$10 <sup>-</sup>	7,565.74
	Cleary Construction, Inc.		\$3.0000		1,348.61
	Scotty's Contracting & Stone, LLC		\$3.0500		4,037.75
	Summers-Taylor, Inc.		\$3.1500		9,416.04
	Vulcan Construction Materials, LLC		\$3.8500		7,064.05
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)				
		134,495.000 S.Y.			
,	Jones Bros. Contractors, LLC		\$1.5000	\$20	1,742.50
(	Cleary Construction, Inc.		\$4.0000	\$53	7,980.00
;	Scotty's Contracting & Stone, LLC		\$2.1300	\$280	6,474.35
;	Summers-Taylor, Inc.		\$3.8500	\$517	7,805.75
,	Vulcan Construction Materials, LLC		\$6.4500	\$86	7,492.75
740-11.02	TEMPORARY SEDIMENT TUBE 12IN				
		554.000 L.F.			
,	Jones Bros. Contractors, LLC		\$3.5000	\$	1,939.00
(	Cleary Construction, Inc.		\$3.6000	\$	1,994.40
	Scotty's Contracting & Stone, LLC		\$3.2500		1,800.50
	Summers-Taylor, Inc.		\$3.4000		1,883.60
`	Vulcan Construction Materials, LLC		\$3.4500	\$	1,911.30
740-11.03	TEMPORARY SEDIMENT TUBE 18IN				
		148,260.000 L.F.			
	Jones Bros. Contractors, LLC		\$4.0000		3,040.00
	Cleary Construction, Inc.		\$4.7000		5,822.00
	Scotty's Contracting & Stone, LLC		\$4.2500	•	0,105.00
	Summers-Taylor, Inc.		\$4.4500		9,757.00
`	Vulcan Construction Materials, LLC		\$4.5000	\$66	7,170.00
801-01	SEEDING (WITH MULCH)				
		57.000 UNIT			
	Jones Bros. Contractors, LLC		\$35.0000		1,995.00
	Cleary Construction, Inc.		\$100.0000		5,700.00
	Scotty's Contracting & Stone, LLC		\$90.0000		5,130.00
	Summers-Taylor, Inc.		\$94.0000		5,358.00
`	Vulcan Construction Materials, LLC		\$29.6000	\$	1,687.20
801-01.06	SEEDING (SPECIAL MIXTURE)				
		42.000 UNIT			
	Jones Bros. Contractors, LLC		\$42.0000		1,764.00
	Cleary Construction, Inc.		\$223.0000		9,366.00
	Scotty's Contracting & Stone, LLC		\$206.0000		3,652.00
	Summers-Taylor, Inc.		\$209.0000		3,778.00
`	Vulcan Construction Materials, LLC		\$44.4000	\$	1,864.80

			0	DIVINACI CIVASUO
			UNIT PRICE	EXTENSION
004 04 07	TEMPORARY SEEDING (WITH MILL SU)			
801-01.07	TEMPORARY SEEDING (WITH MULCH)	5,922.000 UNIT		
	L D 0	3,922.000 ONT	<b>#</b> 00.000	<b>0.105.100.00</b>
	Jones Bros. Contractors, LLC		\$33.0000	\$195,426.00
	Cleary Construction, Inc.		\$55.7000	\$329,855.40
	Scotty's Contracting & Stone, LLC		\$51.5000	\$304,983.00
	Summers-Taylor, Inc.		\$52.0000	\$307,944.00
	Vulcan Construction Materials, LLC		\$27.5000	\$162,855.00
801-01.35	GRASS SEED MIX (RIPZN/FLPL) W/MULCH			
		13.000 UNIT		
	Jones Bros. Contractors, LLC		\$42.0000	\$546.00
	Cleary Construction, Inc.		\$435.0000	\$5,655.00
	Scotty's Contracting & Stone, LLC		\$401.7000	\$5,222.10
	Summers-Taylor, Inc.		\$407.0000	\$5,291.00
	Vulcan Construction Materials, LLC		\$44.4000	\$577.20
801-01 36	SPECIAL WETLAND SEED MIXTURE			
001 01.00	OF EGIAL WETERING GEED HIJKTORE	9.000 UNIT		
	Jones Bros. Contractors, LLC		\$42.0000	\$378.00
	Cleary Construction, Inc.		\$435.0000	\$3,915.00
	Scotty's Contracting & Stone, LLC		\$401.7000	\$3,615.30
	Summers-Taylor, Inc.		\$407.0000	\$3,663.00
	Vulcan Construction Materials, LLC		\$44.4000	\$399.60
801-02	SEEDING (WITHOUT MULCH)	4 000 000 HNIT		
		1,289.000 UNIT		
	Jones Bros. Contractors, LLC		\$22.0000	\$28,358.00
	Cleary Construction, Inc.		\$50.1000	\$64,578.90
	Scotty's Contracting & Stone, LLC		\$46.3500	\$59,745.15
	Summers-Taylor, Inc.		\$47.0000	\$60,583.00
	Vulcan Construction Materials, LLC		\$19.0000	\$24,491.00
801-02.01	CROWN VETCH MIXTURE (WITHOUT MULCH)			
		1,177.000 UNIT		
	Jones Bros. Contractors, LLC		\$24.0000	\$28,248.00
	Cleary Construction, Inc.		\$66.8000	\$78,623.60
	Scotty's Contracting & Stone, LLC		\$61.8000	\$72,738.60
	Summers-Taylor, Inc.		\$62.5000	\$73,562.50
	Vulcan Construction Materials, LLC		\$25.4000	\$29,895.80
801-03	WATER (SEEDING & SODDING)			
00.00	TOTAL (CLIDING & CODDING)	844.000 M.G.		
	Jones Bros. Contractors, LLC		\$50.0000	\$42,200.00
	Cleary Construction, Inc.		\$55.7000	\$47,010.80
	Scotty's Contracting & Stone, LLC		\$51.5000	\$43,466.00
	Summers-Taylor, Inc.		\$52.0000	\$43,888.00
	Vulcan Construction Materials, LLC		\$21.2000	\$17,892.80
	Taloan Soliolasilon Materials, EES		Ψ21.2000	ψ17,002.00

			UNIT PRICE	EXTENSION
801-07	SEED (SUPPLEMENTAL APPLICATION)			
		303.000 LB.		
	Jones Bros. Contractors, LLC		\$3.0000	\$909.00
	Cleary Construction, Inc.		\$17.8000	\$5,393.40
	Scotty's Contracting & Stone, LLC		\$16.4800	\$4,993.44
	Summers-Taylor, Inc.		\$16.5000	\$4,999.50
	Vulcan Construction Materials, LLC		\$3.1500	\$954.45
801-07.01	CROWN VETCH SEED (SUPPLEMENTAL APPLICATION)			
		265.000 LB.		
	Jones Bros. Contractors, LLC		\$14.0000	\$3,710.00
	Cleary Construction, Inc.		\$33.4000	\$8,851.00
	Scotty's Contracting & Stone, LLC		\$30.9000	\$8,188.50
	Summers-Taylor, Inc.		\$31.5000	\$8,347.50
	Vulcan Construction Materials, LLC		\$14.8000	\$3,922.00
801-08	FERTILIZER (SUPPLEMENTAL APPLICATION)			
		5.000 TON		
	Jones Bros. Contractors, LLC		\$250.0000	\$1,250.00
	Cleary Construction, Inc.		\$4,000.0000	\$20,000.00
	Scotty's Contracting & Stone, LLC		\$3,708.0000	\$18,540.00
	Summers-Taylor, Inc.		\$3,760.0000	\$18,800.00
	Vulcan Construction Materials, LLC		\$264.0000	\$1,320.00
802-02.01	SEEDLINGS (AMELANCHIER ARBOREA B.R.)			
		28.000 EACH		
	Jones Bros. Contractors, LLC		\$30.0000	\$840.00
	Cleary Construction, Inc.		\$13.4000	\$375.20
	Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
	Summers-Taylor, Inc.		\$26.0000	\$728.00
	Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-02.31	CUTTINGS: SALIX SERICEA (18IN-24IN)			
		79.000 EACH		
	Jones Bros. Contractors, LLC		\$30.0000	\$2,370.00
	Cleary Construction, Inc.		\$13.4000	\$1,058.60
	Scotty's Contracting & Stone, LLC		\$18.0000	\$1,422.00
	Summers-Taylor, Inc.		\$19.0000	\$1,501.00
	Vulcan Construction Materials, LLC		\$31.7000	\$2,504.30
802-02.32	CUTTINGS: CORNUS AMOMUM (18IN-24IN)			
		79.000 EACH		
	Jones Bros. Contractors, LLC		\$30.0000	\$2,370.00
	Cleary Construction, Inc.		\$13.4000	\$1,058.60
	Scotty's Contracting & Stone, LLC		\$18.0000	\$1,422.00
	Summers-Taylor, Inc.		\$19.0000	\$1,501.00
	Vulcan Construction Materials, LLC		\$31.7000	\$2,504.30

		•	CHIRACI CHASOU
		UNIT PRICE	EXTENSION
802-02.33 CUTTINGS: SAMBUCUS CANADENSIS (18IN-24IN)			
	79.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$2,370.00
Cleary Construction, Inc.		\$13.4000	\$1,058.60
Scotty's Contracting & Stone, LLC		\$18.0000	\$1,422.00
Summers-Taylor, Inc.		\$19.0000	\$1,501.00
Vulcan Construction Materials, LLC		\$31.7000	\$2,504.30
802-02.35 CUTTINGS: CEPHALANTHUS OCCIDENTALIS (18IN-24IN)			
	79.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$2,370.00
Cleary Construction, Inc.		\$17.8000	\$1,406.20
Scotty's Contracting & Stone, LLC		\$18.0000	\$1,422.00
Summers-Taylor, Inc.		\$19.0000	\$1,501.00
Vulcan Construction Materials, LLC		\$31.7000	\$2,504.30
802-12.02 ACER RUBRUM (RED MAPLE SEEDLNG B.R.)			
	28.000 EACH		
Jones Bros. Contractors, LLC	20.000 EAOH	\$30.0000	\$840.00
Cleary Construction, Inc.		\$17.8000	\$498.40
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$700.00 \$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
vuican Construction Materials, LLC		φ31.7000	φοσ7.00
802-12.11 CERCIS CANADENSIS (REDBUD SEEDLNG B.R.)			
	43.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$1,290.00
Cleary Construction, Inc.		\$17.8000	\$765.40
Scotty's Contracting & Stone, LLC		\$25.0000	\$1,075.00
Summers-Taylor, Inc.		\$26.0000	\$1,118.00
Vulcan Construction Materials, LLC		\$31.7000	\$1,363.10
802-12.13 CRATAEGUS PHAENOPYRUM (WSHNGTN HAWTHORN SEEDL	NG B.R.)		
	15.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$450.00
Cleary Construction, Inc.		\$15.6000	\$234.00
Scotty's Contracting & Stone, LLC		\$25.0000	\$375.00
Summers-Taylor, Inc.		\$26.0000	\$390.00
Vulcan Construction Materials, LLC		\$31.7000	\$475.50
802-12.18 LIQUIDAMBER STYRACIFLUA (SWEETGUM SEEDLNG B.R.)			
,	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$15.6000	\$436.80
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
. 3.53 55		<b>40.1.1</b> 000	ψουσσ

		UNIT PRICE	EXTENSION
		UNIT PRICE	EXTENSION
802-12.19 LIRIODENDRON TULIPIFERA (TULIP POPLAR SEEDLNG B.R.)			
002-12.19 LINIODENDRON TOLIFIFERA (TOLIF FOFLAR SELDENG B.R.)	20,000 FACU		
lance Bree Contractors III C	28.000 EACH	<b>#00.000</b>	<b>#040.00</b>
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$15.6000	\$436.80
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00 \$738.00
Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$26.0000 \$31.7000	\$728.00 \$887.60
Vulcan Construction Materials, LLC		φ31.7000	φοσ7.00
802-12.26 PLATANUS OCCIDENTALIS (SYCAMORE SEEDLNG B.R.)			
· · ·	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$15.6000	\$436.80
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-12.39 QUERCUS RUBRA (NORTHERN RED OAK SEEDLNG B.R.)			
	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$15.6000	\$436.80
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-12.51 CORNUS AMOMUM (SILKY DOGWOOD SEEDLING B.R.)			
,	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$15.6000	\$436.80
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-12.57 VIBURNUM RUFIDULUM (RUSTY BLACKHAW SDLNG B.R.)			
	15.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$450.00
Cleary Construction, Inc.		\$13.4000	\$201.00
Scotty's Contracting & Stone, LLC		\$25.0000	\$375.00
Summers-Taylor, Inc.		\$26.0000	\$390.00
Vulcan Construction Materials, LLC		\$31.7000	\$475.50
802-13.14 CALLICARPA AMERICANA (AMRCN BEAUTYBERRY) 2-5FT C.G.			
2.1. 2.1. 2.1. 2.1. 2.1. 2.1. 2.1. 2.1.	15.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$450.00
Cleary Construction, Inc.		\$20.0000	\$300.00
Scotty's Contracting & Stone, LLC		\$175.0000	\$2,625.00
Summers-Taylor, Inc.		\$183.0000	\$2,745.00
Vulcan Construction Materials, LLC		\$31.7000	\$475.50
•			

		UNIT PRICE	EXTENSION
802-13.16 CORYLUS AMERICANA (HAZELNUT) 2-5FT C.G.			
	15.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$450.00
Cleary Construction, Inc.		\$20.0000	\$300.00
Scotty's Contracting & Stone, LLC		\$175.0000	\$2,625.00
Summers-Taylor, Inc.		\$183.0000	\$2,745.00
Vulcan Construction Materials, LLC		\$31.7000	\$475.50
802-13.52 CALYCANTHUS FLORIDUS (SWEETSHRUB SDLNG BARE ROOT)			
	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$17.8000	\$498.40
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-13.55 HAMAMELIS VIRGINIANA (WITCH HAZEL SDLNG BARE ROOT)			
	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$17.8000	\$498.40
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-13.56 HYDRANGEA QUERCIFOLIA (OAKLF HYDRANGEA SDLNG BARE	ROOT)		
	15.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$450.00
Cleary Construction, Inc.		\$13.4000	\$201.00
Scotty's Contracting & Stone, LLC		\$25.0000	\$375.00
Summers-Taylor, Inc.		\$26.0000	\$390.00
Vulcan Construction Materials, LLC		\$31.7000	\$475.50
		**	•
802-13.59 LINDERA BENZOIN (SPICEBUSH SDLNG BARE ROOT)			
	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$15.6000	\$436.80
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60
802-13.60 SAMBUCUS CANADENSIS (ELDERBERRY SDLNG BARE ROOT)			
	28.000 EACH		
Jones Bros. Contractors, LLC		\$30.0000	\$840.00
Cleary Construction, Inc.		\$13.4000	\$375.20
Scotty's Contracting & Stone, LLC		\$25.0000	\$700.00
Summers-Taylor, Inc.		\$26.0000	\$728.00
Vulcan Construction Materials, LLC		\$31.7000	\$887.60

				EVTENCION
			UNIT PRICE	EXTENSION
802-13.61	ARONIA MELANOCARPA (BLCK CHOKEBERRY SDL			
		15.000 EACH		
	Jones Bros. Contractors, LLC		\$30.0000	\$450.00
	Cleary Construction, Inc.		\$13.4000	\$201.00
	Scotty's Contracting & Stone, LLC		\$25.0000	\$375.00
	Summers-Taylor, Inc.		\$26.0000	\$390.00
	Vulcan Construction Materials, LLC		\$31.7000	\$475.50
902 12 65	AMORPHA FRUTICOSA (INDIGOBUSH SDLING B.R.)			
002-13.03	AMORFIA FROTICOSA (INDIGOBOSH SDLING B.K.)			
		15.000 EACH	<b>#</b> 00.000	<b>4.50.00</b>
	Jones Bros. Contractors, LLC		\$30.0000	\$450.00
	Cleary Construction, Inc.		\$13.4000	\$201.00
	Scotty's Contracting & Stone, LLC		\$25.0000	\$375.00
	Summers-Taylor, Inc.		\$26.0000 \$31.7000	\$390.00 \$475.50
	Vulcan Construction Materials, LLC		\$31.7000	\$475.50
802-13 66	CORNUS DRUMMONDII (ROUGH LEAF DOGWOOD S	DLING B.R.)		
002-13.00	CONTICO DICIMINONDII (NOCCIT LLAI DOCTICOD C	15.000 EACH		
	Janes Bras Contractors II C	15.000 EACH	¢20,0000	¢450.00
	Jones Bros. Contractors, LLC Cleary Construction, Inc.		\$30.0000 \$13.4000	\$450.00 \$201.00
	Scotty's Contracting & Stone, LLC		\$13.4000 \$25.0000	\$375.00
	Summers-Taylor, Inc.		\$26.0000	\$390.00
	Vulcan Construction Materials, LLC		\$31.7000	\$475.50
	valcan construction materials, LEC		φο1.7000	φ-7 0.00
802-13.72	RHUS TYPHINA (STAGHORN SUMAC SDLING B.R.)			
	·	15.000 EACH		
	Jones Bros. Contractors, LLC		\$30,0000	\$450.00
	Cleary Construction, Inc.		\$13.4000	\$201.00
	Scotty's Contracting & Stone, LLC		\$25.0000	\$375.00
	Summers-Taylor, Inc.		\$26.0000	\$390.00
	Vulcan Construction Materials, LLC		\$31.7000	\$475.50
803-01	SODDING (NEW SOD)			
		10,000.000 S.Y.		
	Jones Bros. Contractors, LLC		\$7.0000	\$70,000.00
	Cleary Construction, Inc.		\$9.2000	\$92,000.00
	Scotty's Contracting & Stone, LLC		\$8.5500	\$85,500.00
	Summers-Taylor, Inc.		\$8.7000	\$87,000.00
	Vulcan Construction Materials, LLC		\$5.3000	\$53,000.00
805-12.02	EROSION CONTROL BLANKET (TYPE II)			
		29,522.000 S.Y.		
	Jones Bros. Contractors, LLC		\$1.7500	\$51,663.50
	Cleary Construction, Inc.		\$1.3000	\$38,378.60
	Scotty's Contracting & Stone, LLC		\$1.1800	\$34,835.96
	Summers-Taylor, Inc.		\$1.2000	\$35,426.40
	Vulcan Construction Materials, LLC		\$1.3000	\$38,378.60

		CONTRACT CNX306
	UNIT PRICE	EXTENSION
805-12.03 EROSION CONTROL BLANKET (TYPE III)		
	5,630.000 S.Y.	
Jones Bros. Contractors, LLC	\$2.2500	\$12,667.50
Cleary Construction, Inc.	\$2.1500	\$12,104.50
Scotty's Contracting & Stone, LLC	\$2.0100	\$11,316.30
Summers-Taylor, Inc.	\$2.0500	\$11,541.50
Vulcan Construction Materials, LLC	\$1.8500	\$10,415.50
805-12.05 TURF REINFORCEMENT MAT (CHANNEL LINER)		
	785.000 S.Y.	
Jones Bros. Contractors, LLC	\$12.0000	\$9,420.00
Cleary Construction, Inc.	\$11.7500	\$9,223.75
Scotty's Contracting & Stone, LLC	\$10.8200	\$8,493.70
Summers-Taylor, Inc.	\$11.0000	\$8,635.00
Vulcan Construction Materials, LLC	\$12.7000	\$9,969.50
805-12.08 700 GRAM COIR FIBER EROSION BLANKET		
	655.000 S.Y.	
Jones Bros. Contractors, LLC	\$4.0000	\$2,620.00
Cleary Construction, Inc.	\$10.5000	\$6,877.50
Scotty's Contracting & Stone, LLC	\$9.6800	\$6,340.40
Summers-Taylor, Inc.	\$9.8000	\$6,419.00
Vulcan Construction Materials, LLC	\$4.2000	\$2,751.00
806-02.03 PROJECT MOWING		
	6.000 CYCL	
Jones Bros. Contractors, LLC	\$6,000.0000	\$36,000.00
Cleary Construction, Inc.	\$11,100.0000	\$66,600.00
Scotty's Contracting & Stone, LLC	\$4,300.0000	\$25,800.00
Summers-Taylor, Inc.	\$6,790.0000	\$40,740.00
Vulcan Construction Materials, LLC	\$6,350.0000	\$38,100.00

\$370,225.02 \$357,458.64

\$357,458.64 \$425,546.00

\$425,546.00

\$1.7400

\$1.6800

\$1.6800

\$2.0000

\$2.0000

			CONTRACT CNX306
		UNIT PRICE	EXTENSION
BOX BRIDGE CATEGORY			
604-02.01 CLASS A CONCRETE (BOX BRIDGES)			
(	1,610.600 C.Y.		
Jones Bros. Contractors, LLC		\$835.0000	\$1,344,851.00
Cleary Construction, Inc.		\$1,420.0000	\$2,287,052.00
Scotty's Contracting & Stone, LLC		\$1,420.0000	\$2,287,052.00
Summers-Taylor, Inc.		\$1,620.0000	\$2,609,172.00
Vulcan Construction Materials, LLC		\$1,640.0000	\$2,641,384.00
604-02.02 STEEL BAR REINFORCEMENT (BOX BRIDGES)			
	212,773.000 LB.		

Jones Bros. Contractors, LLC

Scotty's Contracting & Stone, LLC

Vulcan Construction Materials, LLC

Cleary Construction, Inc.

Summers-Taylor, Inc.

UNIT PRICE	EXTENSION

# **BRIDGE CATEGORY**

Vulcan Construction Materials, LLC

BRIDGE	CATEGORT			
204-02.01	DRY EXCAVATION (BRIDGES)			
		3,828.000 C.Y.		
	Jones Bros. Contractors, LLC		\$40.0000	\$153,120.00
	Cleary Construction, Inc.		\$30.0000	\$114,840.00
	Scotty's Contracting & Stone, LLC		\$30.0000	\$114,840.00
	Summers-Taylor, Inc.		\$30.0000	\$114,840.00
	Vulcan Construction Materials, LLC		\$26.5000	\$101,442.00
20/1-03 01	WET EXCAVATION (BRIDGES)			
204-05.01	WEI EXCAVATION (BINDOES)	2,395.000 C.Y.		
	Jones Bros. Contractors, LLC	2,333.000 0.1.	\$240.0000	\$574,800.00
	Cleary Construction, Inc.		\$60.0000	\$143,700.00
	Scotty's Contracting & Stone, LLC		\$60.0000	\$143,700.00
	Summers-Taylor, Inc.		\$60.0000	\$143,700.00
	Vulcan Construction Materials, LLC		\$52.9000	\$126,695.50
			ψοΞ.0000	ψ.=0,000.00
204-04.01	ROCK EXCAVATION (BRIDGES)			
		730.000 C.Y.		
	Jones Bros. Contractors, LLC		\$522.0000	\$381,060.00
	Cleary Construction, Inc.		\$320.0000	\$233,600.00
	Scotty's Contracting & Stone, LLC		\$320.0000	\$233,600.00
	Summers-Taylor, Inc.		\$346.0000	\$252,580.00
	Vulcan Construction Materials, LLC		\$338.0000	\$246,740.00
204.05	POCK DRILLING (PRIDGES)			
204-05	ROCK DRILLING (BRIDGES)	242.000   5		
		342.000 L.F.	<b>0.4.47</b> ,0000	<b>#</b> 50.074.00
	Jones Bros. Contractors, LLC		\$147.0000	\$50,274.00
	Cleary Construction, Inc.		\$70.0000	\$23,940.00
	Scotty's Contracting & Stone, LLC		\$70.0000	\$23,940.00
	Summers-Taylor, Inc.		\$79.5000	\$27,189.00
	Vulcan Construction Materials, LLC		\$72.4000	\$24,760.80
204-09.01	COFFERDAM (PIER NO. 2, STA. 490+12.00)			
	,	1.000 LS		
	Jones Bros. Contractors, LLC		\$2,000,000.0000	\$2,000,000.00
	Cleary Construction, Inc.		\$764,000.0000	\$764,000.00
	Scotty's Contracting & Stone, LLC		\$764,000.0000	\$764,000.00
	Summers-Taylor, Inc.		\$839,100.0000	\$839,100.00
	Vulcan Construction Materials, LLC		\$807,000.0000	\$807,000.00
204-12	CORE DRILLING (CONCRETE SEAL)			
		220.000 L.F.		
	Jones Bros. Contractors, LLC		\$260.0000	\$57,200.00
	Cleary Construction, Inc.		\$128.0000	\$28,160.00
	Scotty's Contracting & Stone, LLC		\$128.0000	\$28,160.00
	Summers-Taylor, Inc.		\$130.0000	\$28,600.00
	Vulcan Construction Materials, LLC		¢125 0000	\$20 <b>7</b> 00 00

\$29,700.00

\$135.0000

			UNIT PRICE	EXTENSION
204.44	CODE DOUGLING FOR DILEC/DOCK)			
204-14	CORE DRILLING FOR PILES(ROCK)	190.000 L.F.		
	Jones Bros. Contractors, LLC		\$480.0000	\$91,200.00
	Cleary Construction, Inc.		\$700.0000	\$133,000.00
	Scotty's Contracting & Stone, LLC		\$700.0000	\$133,000.00
	Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$735.0000 \$783.0000	\$139,650.00 \$148,770.00
	Vulcari Constituction Materials, LEC		Ψ/03.0000	Ψ140,770.00
204-15	CORE DRILLING FOR PILES(SOIL)			
		130.000 L.F.		
	Jones Bros. Contractors, LLC		\$460.0000	\$59,800.00
	Cleary Construction, Inc. Scotty's Contracting & Stone, LLC		\$300.0000 \$300.0000	\$39,000.00 \$39,000.00
	Summers-Taylor, Inc.		\$300.0000	\$39,000.00
	Vulcan Construction Materials, LLC		\$314.0000	\$40,820.00
			***************************************	¥ 10,5=0100
303-01.02	2 GRANULAR BACKFILL (BRIDGES)			
		108.000 TON	<b>^</b>	<b>^-</b>
	Jones Bros. Contractors, LLC		\$65.0000	\$7,020.00
	Cleary Construction, Inc. Scotty's Contracting & Stone, LLC		\$50.0000 \$50.0000	\$5,400.00 \$5,400.00
	Summers-Taylor, Inc.		\$50.0000 \$54.5000	\$5,400.00 \$5,886.00
	Vulcan Construction Materials, LLC		\$52.9000	\$5,713.20
			<b>V</b>	<b>40,</b> , 101 <u></u>
602-04.0	1 STEEL STRUCTURES (STA. 491+00.77)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$15,500,000.0000	\$15,500,000.00
	Cleary Construction, Inc.		\$16,928,000.0000	\$16,928,000.00
	Scotty's Contracting & Stone, LLC Summers-Taylor, Inc.		\$16,928,000.0000 \$16,320,000.0000	\$16,928,000.00 \$16,320,000.00
	Vulcan Construction Materials, LLC		\$18,500,000.0000	\$18,500,000.00
	, alcan constant materials,c		ψ.ο,οοο,οοο.	φ,,
604-02.03	3 EPOXY COATED REINFORCING STEEL			
		1,138,026. LB. 000		
	Jones Bros. Contractors, LLC		\$1.7300	\$1,968,784.98
	Cleary Construction, Inc.		\$1.4000	\$1,593,236.40
	Scotty's Contracting & Stone, LLC		\$1.4000	\$1,593,236.40
	Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$1.4000 \$1.4500	\$1,593,236.40 \$1,650,137.70
	vuican Construction Materials, LLC		\$1.4500	\$1,050,137.70
604-03.0	1 CLASS A CONCRETE (BRIDGES)			
		6,201.000 C.Y.		
	Jones Bros. Contractors, LLC		\$1,000.0000	\$6,201,000.00
	Cleary Construction, Inc.		\$930.0000	\$5,766,930.00
	Scotty's Contracting & Stone, LLC		\$930.0000	\$5,766,930.00
	Summers-Taylor, Inc.		\$1,010.0000	\$6,263,010.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$6,201,000.00

### Company of Contractors and
1,178,922. LB. 0000   \$1.6300   \$1.921,642.86
1,178,922. LB. 0000   \$1.6300   \$1.921,642.86
Jones Bros. Contractors, LLC Cleary Construction, Inc. Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC  604-03.04 PAVEMENT @ BRIDGE ENDS  607.000 S.Y.  Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contractors, LLC Scotty's Contractors, LLC Scotty's Contractors, LLC Scotty's Contractors, LLC Scotty's Contracting & Stone, LLC Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC 1,332.000 C.Y.
Cleary Construction, Inc.   \$2.3200   \$2,735,099.04     Scotty's Contracting & Stone, LLC   \$2.3200   \$2,735,099.04     Summers-Taylor, Inc.   \$2.5300   \$2,982,672.66     Vulcan Construction Materials, LLC   \$2.4000   \$2,829,412.80     604-03.04   PAVEMENT @ BRIDGE ENDS
Scotty's Contracting & Stone, LLC   \$2.3200   \$2,735,099.04     Summers-Taylor, Inc.   \$2.5300   \$2,982,672.66     Vulcan Construction Materials, LLC   \$2.4000   \$2,829,412.80     604-03.04   PAVEMENT @ BRIDGE ENDS
Summers-Taylor, Inc.       \$2,5300       \$2,982,672.66         Vulcan Construction Materials, LLC       \$2,4000       \$2,829,412.80         607.000 S.Y.         Jones Bros. Contractors, LLC       \$355.0000       \$215,485.00         Cleary Construction, Inc.       \$330.0000       \$200,310.00         Scotty's Contracting & Stone, LLC       \$330.0000       \$200,310.00         Summers-Taylor, Inc.       \$327.0000       \$198,489.00         Vulcan Construction Materials, LLC       \$338.0000       \$205,166.00         604-03.25 CLASS S CONCRETE (FOUNDATION SEAL)
Vulcan Construction Materials, LLC       \$2,4000       \$2,829,412.80         607.000 S.Y.         Jones Bros. Contractors, LLC       \$355.0000       \$215,485.00         Cleary Construction, Inc.       \$330.0000       \$200,310.00         Scotty's Contracting & Stone, LLC       \$330.0000       \$200,310.00         Summers-Taylor, Inc.       \$327.0000       \$198,489.00         Vulcan Construction Materials, LLC       \$338.0000       \$205,166.00         604-03.25       CLASS S CONCRETE (FOUNDATION SEAL)
604-03.04 PAVEMENT @ BRIDGE ENDS  607.000 S.Y.  Jones Bros. Contractors, LLC \$355.0000 \$215,485.00 Cleary Construction, Inc. \$330.0000 \$200,310.00 Scotty's Contracting & Stone, LLC \$330.0000 \$200,310.00 Summers-Taylor, Inc. \$327.0000 \$198,489.00 Vulcan Construction Materials, LLC \$338.0000 \$205,166.00
607.000 S.Y.  Jones Bros. Contractors, LLC \$355.0000 \$215,485.00 Cleary Construction, Inc. \$330.0000 \$200,310.00 Scotty's Contracting & Stone, LLC \$330.0000 \$200,310.00 Summers-Taylor, Inc. \$327.0000 \$198,489.00 Vulcan Construction Materials, LLC \$338.0000 \$205,166.00
Jones Bros. Contractors, LLC \$355.0000 \$215,485.00 Cleary Construction, Inc. \$330.0000 \$200,310.00 Scotty's Contracting & Stone, LLC \$330.0000 \$200,310.00 Summers-Taylor, Inc. \$327.0000 \$198,489.00 Vulcan Construction Materials, LLC \$338.0000 \$205,166.00
Cleary Construction, Inc. \$330.0000 \$200,310.00 Scotty's Contracting & Stone, LLC \$330.0000 \$200,310.00 Summers-Taylor, Inc. \$327.0000 \$198,489.00 Vulcan Construction Materials, LLC \$338.0000 \$205,166.00
Cleary Construction, Inc. \$330.0000 \$200,310.00 Scotty's Contracting & Stone, LLC \$330.0000 \$200,310.00 Summers-Taylor, Inc. \$327.0000 \$198,489.00 Vulcan Construction Materials, LLC \$338.0000 \$205,166.00
Scotty's Contracting & Stone, LLC \$330.0000 \$200,310.00 Summers-Taylor, Inc. \$327.0000 \$198,489.00 Vulcan Construction Materials, LLC \$338.0000 \$205,166.00  604-03.25 CLASS S CONCRETE (FOUNDATION SEAL)  1,332.000 C.Y.
Summers-Taylor, Inc.       \$327.0000       \$198,489.00         Vulcan Construction Materials, LLC       \$338.0000       \$205,166.00    604-03.25 CLASS S CONCRETE (FOUNDATION SEAL) 1,332.000 C.Y.
Vulcan Construction Materials, LLC         \$338.0000         \$205,166.00           604-03.25         CLASS S CONCRETE (FOUNDATION SEAL)         1,332.000 C.Y.
1,332.000 C.Y.
1,332.000 C.Y.
Jones Bros. Contractors, LLC \$600.0000 \$799,200.00
Cleary Construction, Inc. \$410.0000 \$546,120.00
Scotty's Contracting & Stone, LLC \$410.0000 \$546,120.00
Summers-Taylor, Inc. \$415.0000 \$552,780.00
Vulcan Construction Materials, LLC \$449.0000 \$598,068.00
604-03.32 CLASS DS CONCRETE
3,090.000 C.Y.
Jones Bros. Contractors, LLC \$1,200.0000 \$3,708,000.00
Cleary Construction, Inc. \$1,070.0000 \$3,306,300.00
Scotty's Contracting & Stone, LLC \$1,070.0000 \$3,306,300.00
Summers-Taylor, Inc. \$1,170.0000 \$3,615,300.00
Vulcan Construction Materials, LLC \$1,160.0000 \$3,584,400.00
604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURES)
13,079.000 S.Y.
Jones Bros. Contractors, LLC \$15.0000 \$196,185.00
Cleary Construction, Inc. \$14.6000 \$190,953.40
Scotty's Contracting & Stone, LLC \$14.6000 \$190,953.40
Summers-Taylor, Inc. \$14.5000 \$189,645.50
Vulcan Construction Materials, LLC \$15.3000 \$200,108.70
604-05.31 BRIDGE DECK GROOVING (MECHANICAL)
11,751.000 S.Y.
Jones Bros. Contractors, LLC \$3.9000 \$45,828.90
Cleary Construction, Inc. \$2.7000 \$31,727.70
Scotty's Contracting & Stone, LLC \$2.7000 \$31,727.70
Scotty's Contracting & Storie, ELC \$2.7000 \$31,727.70  Summers-Taylor, Inc. \$2.8000 \$32,902.80
Vulcan Construction Materials, LLC \$2.8500 \$33,490.35
valuati Cottoti detion iviateriais, EEC \$2.0000 \$33,490.35

			•	CIVINACT CIVASUO
			UNIT PRICE	EXTENSION
604-11.01	EXPANSION DEVICE (ABUTMENT NO. 1, 12" MOVEMENT)			
		58.000 L.F.		
	Jones Bros. Contractors, LLC		\$2,800.0000	\$162,400.00
	Cleary Construction, Inc.		\$3,800.0000	\$220,400.00
	Scotty's Contracting & Stone, LLC		\$3,800.0000	\$220,400.00
	Summers-Taylor, Inc.		\$3,830.0000	\$222,140.00
	Vulcan Construction Materials, LLC		\$4,020.0000	\$233,160.00
604-11.02	EXPANSION DEVICE (PIER 3, 12: MOVEMENT)			
		58.000 L.F.		
	Jones Bros. Contractors, LLC		\$2,800.0000	\$162,400.00
	Cleary Construction, Inc.		\$3,800.0000	\$220,400.00
	Scotty's Contracting & Stone, LLC		\$3,800.0000	\$220,400.00
	Summers-Taylor, Inc.		\$3,930.0000	\$227,940.00
	Vulcan Construction Materials, LLC		\$4,020.0000	\$233,160.00
606 02 02	STEEL DILES (40 INCH)			
000-02.03	STEEL PILES (10 INCH)	2.450.0001.5		
		2,159.000 L.F.	<b>#07.0500</b>	<b>04.45.400.05</b>
	Jones Bros. Contractors, LLC		\$67.3500	\$145,408.65
	Cleary Construction, Inc.		\$61.0000	\$131,699.00
	Scotty's Contracting & Stone, LLC		\$61.0000	\$131,699.00
	Summers-Taylor, Inc.		\$64.5000	\$139,255.50
	Vulcan Construction Materials, LLC		\$64.5000	\$139,255.50
606-02.06	PILE TIPS (STEEL PILES, 10 INCH)			
	, ,	18.000 EACH		
	Jones Bros. Contractors, LLC	10.000 EAGI1	\$200.0000	\$3,600.00
	Cleary Construction, Inc.		\$195.0000	\$3,510.00
	Scotty's Contracting & Stone, LLC		\$195.5000	\$3,519.00
	Summers-Taylor, Inc.		\$210.0000	\$3,780.00
	Vulcan Construction Materials, LLC		\$206.0000	\$3,708.00
	Vulcari Construction Materials, LLC		φ200.0000	φ3,700.00
606-17.03	STEEL PIPE PILES (12-INCH)			
		11,963.000 L.F.		
	Jones Bros. Contractors, LLC		\$80.0000	\$957,040.00
	Cleary Construction, Inc.		\$77.0000	\$921,151.00
	Scotty's Contracting & Stone, LLC		\$77.0000	\$921,151.00
	Summers-Taylor, Inc.		\$79.0000	\$945,077.00
	Vulcan Construction Materials, LLC		\$81.4000	\$973,788.20
606-17.06	PILE TIPS (STEEL PIPE PILES, 12-INCH)	200 000 54 011		
	Inna Bran Contracts III C	329.000 EACH	<b>#005</b> 0000	<b>#</b> 400 00= 00
	Jones Bros. Contractors, LLC		\$365.0000	\$120,085.00
	Cleary Construction, Inc.		\$265.0000	\$87,185.00
	Scotty's Contracting & Stone, LLC		\$265.5000	\$87,349.50
	Summers-Taylor, Inc.		\$282.0000	\$92,778.00
	Vulcan Construction Materials, LLC		\$280.0000	\$92,120.00

	UNIT PRICE	EXTENSION
615-01.11 PRESTRESSED CONCRETE BULB TEE BEAM (6" WEB)(BT-63)		
	1,138.000 L.F.	
Jones Bros. Contractors, LLC	\$550.0000	\$625,900.00
Cleary Construction, Inc.	\$450.0000	\$512,100.00
Scotty's Contracting & Stone, LLC	\$450.0000	\$512,100.00
Summers-Taylor, Inc.	\$461.0000	\$524,618.00
Vulcan Construction Materials, LLC	\$539.0000	\$613,382.00
615-01.12 PRESTRESSED CONCRETE BULB TEE BEAM (6" WEB)(BT-72)		
	4,203.000 L.F.	
Jones Bros. Contractors, LLC	\$500.0000	\$2,101,500.00
Cleary Construction, Inc.	\$446.0000	\$1,874,538.00
Scotty's Contracting & Stone, LLC	\$446.0000	\$1,874,538.00
Summers-Taylor, Inc.	\$450.0000	\$1,891,350.00
Vulcan Construction Materials, LLC	\$518.0000	\$2,177,154.00
620-05.01 CONC PARAPET SINGLE SLOPE (STD-1-1SS)		
	4,011.000 L.F.	
Jones Bros. Contractors, LLC	\$120.5000	\$483,325.50
Cleary Construction, Inc.	\$116.0000	\$465,276.00
Scotty's Contracting & Stone, LLC	\$116.0000	\$465,276.00
Summers-Taylor, Inc.	\$119.0000	\$477,309.00
Vulcan Construction Materials, LLC	\$123.0000	\$493,353.00
710-09.01 6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM		
	389.000 L.F.	
Jones Bros. Contractors, LLC	\$47.1500	\$18,341.35
Cleary Construction, Inc.	\$30.5000	\$11,864.50
Scotty's Contracting & Stone, LLC	\$30.5000	\$11,864.50
Summers-Taylor, Inc.	\$34.5000	\$13,420.50
Vulcan Construction Materials, LLC	\$31.7000	\$12,331.30
710-09.02 6" PIPE UNDERDRAIN		
	120.000 L.F.	
Jones Bros. Contractors, LLC	\$14.2500	\$1,710.00
Cleary Construction, Inc.	\$21.0000	\$2,520.00
Scotty's Contracting & Stone, LLC	\$21.0000	\$2,520.00
Summers-Taylor, Inc.	\$23.5000	\$2,820.00
Vulcan Construction Materials, LLC	\$21.2000	\$2,544.00
714-16.01 NAVIGATIONAL LIGHTING		
	1.000 LS	
Jones Bros. Contractors, LLC	\$200,000.0000	\$200,000.00
Cleary Construction, Inc.	\$230,200.0000	\$230,200.00
Scotty's Contracting & Stone, LLC	\$312,840.0000	\$312,840.00
Summers-Taylor, Inc.	\$230,900.0000	\$230,900.00
Vulcan Construction Materials, LLC	\$243,000.0000	\$243,000.00

			CONTRACT CNX306
		UNIT PRICE	EXTENSION
908-21.01 BEARINGS (ABUTMENT NO. 1, EXPANSION)			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$30,000.0000	\$150,000.00
Cleary Construction, Inc.		\$25,000.0000	\$125,000.00
Scotty's Contracting & Stone, LLC		\$25,000.0000	\$125,000.00
Summers-Taylor, Inc.		\$25,300.0000	\$126,500.00
Vulcan Construction Materials, LLC		\$26,400.0000	\$132,000.00
908-21.02 BEARINGS (PIER NO. 1, EXPANSION)			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$40,000.0000	\$200,000.00
Cleary Construction, Inc.		\$37,500.0000	\$187,500.00
Scotty's Contracting & Stone, LLC		\$37,500.0000	\$187,500.00
Summers-Taylor, Inc.		\$37,700.0000	\$188,500.00
Vulcan Construction Materials, LLC		\$39,700.0000	\$198,500.00
908-21.03 BEARINGS (PIER NO. 2,FIXED)			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$30,000.0000	\$150,000.00
Cleary Construction, Inc.		\$28,000.0000	\$140,000.00
Scotty's Contracting & Stone, LLC		\$27,800.0000	\$139,000.00
Summers-Taylor, Inc.		\$28,300.0000	\$141,500.00
Vulcan Construction Materials, LLC		\$29,400.0000	\$147,000.00
908-21.04 BEARINGS (PIER NO.3, EXPANSION)			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$30,000.0000	\$150,000.00
Cleary Construction, Inc.		\$26,000.0000	\$130,000.00
Scotty's Contracting & Stone, LLC		\$26,000.0000	\$130,000.00
Summers-Taylor, Inc.		\$26,300.0000	\$131,500.00
Vulcan Construction Materials, LLC		\$27,300.0000	\$136,500.00

		00	55.1.1.1.51 OHA	
		UNIT PRICE	EXTENSION	
UTILITY CATEGORY				
700 04 00				
793-01.08 POLE 35FT CLASS 5 WOOD				
	1.000 EACH			
Jones Bros. Contractors, LLC		\$4,200.0000	\$4,200.00	
Cleary Construction, Inc.		\$3,600.0000	\$3,600.00	
Scotty's Contracting & Stone, LLC		\$3,860.0000	\$3,860.00	
Summers-Taylor, Inc.		\$4,430.0000	\$4,430.00	
Vulcan Construction Materials, LLC		\$4,080.0000	\$4,080.00	
793-01.41 ANCHOR 1IN				
	37.000 EACH			
Jones Bros. Contractors, LLC		\$1,500.0000	\$55,500.00	
Cleary Construction, Inc.		\$1,050.0000	\$38,850.00	
Scotty's Contracting & Stone, LLC		\$1,400.0000	\$51,800.00	
Summers-Taylor, Inc.		\$1,580.0000	\$58,460.00	
Vulcan Construction Materials, LLC		\$1,480.0000	\$54,760.00	
793-10.20 EXPOSE EXISTING CABLE/CONDUIT (ALL DEPTHS)				
	60.000 L.F.			
Jones Bros. Contractors, LLC		\$220.0000	\$13,200.00	
Cleary Construction, Inc.		\$83.5000	\$5,010.00	
Scotty's Contracting & Stone, LLC		\$240.0000	\$14,400.00	
Summers-Taylor, Inc.		\$232.0000	\$13,920.00	
Vulcan Construction Materials, LLC		\$254.0000	\$15,240.00	
793-11.10 12IN PEDESTAL				
	2.000 EACH			
Jones Bros. Contractors, LLC		\$2,550.0000	\$5,100.00	
Cleary Construction, Inc.		\$530.0000	\$1,060.00	
Scotty's Contracting & Stone, LLC		\$2,860.0000	\$5,720.00	
Summers-Taylor, Inc.		\$2,690.0000	\$5,380.00	
Vulcan Construction Materials, LLC		\$3,020.0000	\$6,040.00	
793-11.23 HANDHOLE 24INX36INX24IN				
	2.000 EACH			
Jones Bros. Contractors, LLC		\$4,000.0000	\$8,000.00	
Cleary Construction, Inc.		\$7,765.0000	\$15,530.00	
Scotty's Contracting & Stone, LLC		\$9,420.0000	\$18,840.00	
Summers-Taylor, Inc.		\$4,220.0000	\$8,440.00	
Vulcan Construction Materials, LLC		\$9,960.0000	\$19,920.00	
793-11.31 REMOVE HANDHOLE				
	1.000 EACH			
Jones Bros. Contractors, LLC		\$750.0000	\$750.00	
Cleary Construction, Inc.		\$256.0000	\$256.00	
Scotty's Contracting & Stone, LLC		\$2,940.0000	\$2,940.00	
Summers-Taylor, Inc.		\$791.0000	\$791.00	
Vulcan Construction Materials, LLC		\$3,110.0000	\$3,110.00	

				CONTRACT	CNX306
			UNIT PRICE	EX	TENSION
700 40 07	AIN COUEDINE 40 DVC				
793-13.07	4IN SCHEDULE 40 PVC	1,313.000 L.F.			
	Lance Breez Constructions 11.0	1,313.000 L.1 .	<b>#44.0000</b>	<b>#</b> 4	0.000.00
	Jones Bros. Contractors, LLC		\$14.0000		8,382.00
	Cleary Construction, Inc.		\$22.3000 \$22.0000		9,279.90 8,886.00
	Scotty's Contracting & Stone, LLC		\$22.0000 \$15.0000		
	Summers-Taylor, Inc. Vulcan Construction Materials, LLC		\$23.3000		9,695.00
	vuican construction materials, LLC		\$23.3000	φο	0,592.90
793-13.12	1 DUCT FORMATION @ 36IN DEPTH				
		107.000 L.F.			
	Jones Bros. Contractors, LLC		\$80.0000	\$	8,560.00
	Cleary Construction, Inc.		\$54.6000	\$	5,842.20
	Scotty's Contracting & Stone, LLC		\$48.0000	\$	5,136.00
	Summers-Taylor, Inc.		\$84.5000	\$	9,041.50
	Vulcan Construction Materials, LLC		\$50.8000	\$	5,435.60
793-13.17	2 DUCT FORMATION @ 36IN DEPTH				
		603.000 L.F.			
	Jones Bros. Contractors, LLC		\$100.0000	\$6	0,300.00
	Cleary Construction, Inc.		\$58.0000	\$3	4,974.00
	Scotty's Contracting & Stone, LLC		\$62.0000	\$3	7,386.00
	Summers-Taylor, Inc.		\$105.0000	\$6	3,315.00
	Vulcan Construction Materials, LLC		\$65.6000	\$3	9,556.80
793-14.26	UNDERGROUND TO OVERHEAD RISER				
		3.000 EACH			
	Jones Bros. Contractors, LLC		\$1,250.0000	\$	3,750.00
	Cleary Construction, Inc.		\$1,000.0000		3,000.00
	Scotty's Contracting & Stone, LLC		\$1,800.0000		5,400.00
	Summers-Taylor, Inc.		\$1,320.0000		3,960.00
	Vulcan Construction Materials, LLC		\$1,900.0000		5,700.00
793-16.25	MH(RETIRE/REMOVE/SAND BACKFILL)				
100 10.20		1.000 EACH			
	Jones Bros. Contractors, LLC		\$11,000.0000	\$1	1,000.00
	Cleary Construction, Inc.		\$4,625.0000	\$	4,625.00
	Scotty's Contracting & Stone, LLC		\$12,680.0000	\$1	2,680.00
	Summers-Taylor, Inc.		\$11,600.0000	\$1	1,600.00
	Vulcan Construction Materials, LLC		\$13,400.0000	\$1	3,400.00
793-98.04	REMOVE POLES ALL SIZES				
		28.000 EACH			
	Jones Bros. Contractors, LLC		\$900.0000	\$2	5,200.00
	Cleary Construction, Inc.		\$615.0000	\$1	7,220.00
	Scotty's Contracting & Stone, LLC		\$600.0000	\$1	6,800.00
	Summers-Taylor, Inc.		\$949.0000	\$2	6,572.00
	Vulcan Construction Materials, LLC		\$635.0000	\$1	7,780.00

				CONTRACT CNX306
			UNIT PRICE	EXTENSION
793-98.05	RETIRE BURIED FACILITIES IN PLACE			
		4,650.000 L.F.		
	Jones Bros. Contractors, LLC	,	\$2.0000	\$9,300.00
	Cleary Construction, Inc.		\$1.1000	\$5,115.00
	Scotty's Contracting & Stone, LLC		\$3.0000	\$13,950.00
	Summers-Taylor, Inc.		\$2.1000	\$9,765.00
	Vulcan Construction Materials, LLC		\$3.1500	\$14,647.50
793-98.06	REMOVE PEDESTALS			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$100.0000	\$200.00
	Cleary Construction, Inc.		\$368.0000	\$736.00
	Scotty's Contracting & Stone, LLC		\$220.0000	\$440.00
	Summers-Taylor, Inc.		\$105.0000	\$210.00
	Vulcan Construction Materials, LLC		\$233.0000	\$466.00
793-98.07	REMOVE UNDERGROUND TO OVERHEAD RISER			
		4.000 EACH		
	Jones Bros. Contractors, LLC		\$100.0000	\$400.00
	Cleary Construction, Inc.		\$400.0000	\$1,600.00
	Scotty's Contracting & Stone, LLC		\$180.0000	\$720.00
	Summers-Taylor, Inc.		\$105.0000	\$420.00
	Vulcan Construction Materials, LLC		\$190.0000	\$760.00
793-98.08	REMOVE ANCHOR (ANY SIZE)			
		22.000 EACH		
	Jones Bros. Contractors, LLC		\$200.0000	\$4,400.00
	Cleary Construction, Inc.		\$270.0000	\$5,940.00
	Scotty's Contracting & Stone, LLC		\$400.0000	\$8,800.00
	Summers-Taylor, Inc.		\$211.0000	\$4,642.00
	Vulcan Construction Materials, LLC		\$423.0000	\$9,306.00
795-01.05	8IN DIP RESTRAINED JOINT WATER LINE			
		2,075.000 L.F.		
	Jones Bros. Contractors, LLC		\$225.0000	\$466,875.00
	Cleary Construction, Inc.		\$175.0000	\$363,125.00
	Scotty's Contracting & Stone, LLC		\$210.0000	\$435,750.00
	Summers-Taylor, Inc.		\$264.0000	\$547,800.00
	Vulcan Construction Materials, LLC		\$600.0000	\$1,245,000.00
795-03.04	4IN PVC WATER LINE			
		1,978.000 L.F.		
	Jones Bros. Contractors, LLC		\$86.0000	\$170,108.00
	Cleary Construction, Inc.		\$145.0000	\$286,810.00
	Scotty's Contracting & Stone, LLC		\$145.0000	\$286,810.00
	Summers-Taylor, Inc.		\$151.0000	\$298,678.00
	Vulcan Construction Materials, LLC		\$153.0000	\$302,634.00

			MINACI CNASOO
		UNIT PRICE	EXTENSION
795-03.34 6IN C900 PVC WATER LINE			
	2,722.000 L.F.		
Jones Bros. Contractors, LLC		\$96.0000	\$261,312.00
Cleary Construction, Inc.		\$150.0000	\$408,300.00
Scotty's Contracting & Stone, LLC		\$150.0000	\$408,300.00
Summers-Taylor, Inc.		\$157.0000	\$427,354.00
Vulcan Construction Materials, LLC		\$159.0000	\$432,798.00
795-03.35 8IN C900 PVC WATER LINE			
	20.000 L.F.		
Jones Bros. Contractors, LLC		\$155.0000	\$3,100.00
Cleary Construction, Inc.		\$185.0000	\$3,700.00
Scotty's Contracting & Stone, LLC		\$185.0000	\$3,700.00
Summers-Taylor, Inc.		\$193.0000	\$3,860.00
Vulcan Construction Materials, LLC		\$196.0000	\$3,920.00
795-03.37 12IN C900 PVC WATER LINE			
	1,033.000 L.F.		
Jones Bros. Contractors, LLC	1,000.000 E.I .	\$175.0000	\$180,775.00
Cleary Construction, Inc.		\$210.0000	\$216,930.00
Scotty's Contracting & Stone, LLC		\$210.0000	\$216,930.00
Summers-Taylor, Inc.		\$219.0000	\$226,227.00
Vulcan Construction Materials, LLC		\$222.0000	\$229,326.00
		<b>4</b>	<b>4</b> 0,0_0.00
795-05.63 BORE/JACK 12IN STEEL CASING PIPE-UNCON.			
	40.000 L.F.		
Jones Bros. Contractors, LLC		\$1,000.0000	\$40,000.00
Cleary Construction, Inc.		\$1,010.0000	\$40,400.00
Scotty's Contracting & Stone, LLC		\$1,010.0000	\$40,400.00
Summers-Taylor, Inc.		\$1,050.0000	\$42,000.00
Vulcan Construction Materials, LLC		\$1,070.0000	\$42,800.00
795-05.68 BORE/JACK 24IN STEEL CASING PIPE-UNCON.			
	60.000 L.F.		
Jones Bros. Contractors, LLC		\$1,100.0000	\$66,000.00
Cleary Construction, Inc.		\$1,610.0000	\$96,600.00
Scotty's Contracting & Stone, LLC		\$1,610.0000	\$96,600.00
Summers-Taylor, Inc.		\$1,680.0000	\$100,800.00
Vulcan Construction Materials, LLC		\$1,700.0000	\$102,000.00
795-06.32 CUT AND CAP 4IN WATER LINE			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$2,500.0000	\$5,000.00
Cleary Construction, Inc.		\$1,850.0000	\$3,700.00
Scotty's Contracting & Stone, LLC		\$1,850.0000	\$3,700.00
Summers-Taylor, Inc.		\$1,930.0000	\$3,860.00
Vulcan Construction Materials, LLC		\$1,960.0000	\$3,920.00
		. , >	+-,

		•	
		UNIT PRICE	EXTENSION
795-06.33 CUT AND CAP 6IN WATER LINE			
	3.000 EACH		
Jones Bros. Contractors, LLC	0.000 EAOH	\$2,600.0000	\$7,800.00
		\$2,000.0000	\$6,000.00
Cleary Construction, Inc.			
Scotty's Contracting & Stone, LLC		\$2,000.0000	\$6,000.00
Summers-Taylor, Inc.		\$2,090.0000	\$6,270.00
Vulcan Construction Materials, LLC		\$2,120.0000	\$6,360.00
TOT OO O.A. OUT AND OAD ON WATER LINE			
795-06.34 CUT AND CAP 8IN WATER LINE			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$2,650.0000	\$2,650.00
Cleary Construction, Inc.		\$2,000.0000	\$2,000.00
Scotty's Contracting & Stone, LLC		\$2,000.0000	\$2,000.00
Summers-Taylor, Inc.		\$2,090.0000	\$2,090.00
Vulcan Construction Materials, LLC		\$2,120.0000	\$2,120.00
795-06.37 CUT AND CAP 12IN WATER LINE			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$2,850.0000	\$5,700.00
Cleary Construction, Inc.		\$2,400.0000	\$4,800.00
Scotty's Contracting & Stone, LLC		\$2,400.0000	\$4,800.00
Summers-Taylor, Inc.		\$2,510.0000	\$5,020.00
Vulcan Construction Materials, LLC		\$2,540.0000	\$5,080.00
Valouri Scriptianion Matorials, 225		Ψ2,0 10.0000	φο,σσσ.σσ
795-07.01 4IN X 4IN TAPPING SLEEVE AND VALVE			
	2 000 54 011		
	2.000 EACH		<b>.</b>
Jones Bros. Contractors, LLC		\$8,000.0000	\$16,000.00
Cleary Construction, Inc.		\$8,000.0000	\$16,000.00
Scotty's Contracting & Stone, LLC		\$8,000.0000	\$16,000.00
Summers-Taylor, Inc.		\$8,350.0000	\$16,700.00
Vulcan Construction Materials, LLC		\$8,460.0000	\$16,920.00
795-07.03 6IN X 6IN TAPPING SLEEVE AND VALVE			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$9,000.0000	\$27,000.00
Cleary Construction, Inc.		\$9,000.0000	\$27,000.00
Scotty's Contracting & Stone, LLC		\$9,000.0000	\$27,000.00
Summers-Taylor, Inc.		\$9,400.0000	\$28,200.00
Vulcan Construction Materials, LLC		\$9,520.0000	\$28,560.00
795-07.06 8IN X 8IN TAPPING SLEEVE AND VALVE			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
Cleary Construction, Inc.		\$11,000.0000	\$11,000.00
Scotty's Contracting & Stone, LLC		\$11,000.0000	\$11,000.00
Summers-Taylor, Inc.		\$11,500.0000	\$11,500.00
Vulcan Construction Materials, LLC		\$11,600.0000	\$11,600.00
Valouri Construction Materials, LLC		ψ11,000.0000	ψ11,000.00

		•	
		UNIT PRICE	EXTENSION
795-07.13 12IN X 8IN TAPPING SLEEVE AND VALVE			
	1.000 EACH		
	1.000 EACH	<b>#</b> 44.000.000	<b>**</b> **********************************
Jones Bros. Contractors, LLC		\$11,000.0000	\$11,000.00
Cleary Construction, Inc.		\$11,000.0000	\$11,000.00
Scotty's Contracting & Stone, LLC		\$11,000.0000	\$11,000.00
Summers-Taylor, Inc.		\$11,500.0000	\$11,500.00
Vulcan Construction Materials, LLC		\$11,600.0000	\$11,600.00
795-07.15 12IN X 12IN TAPPING SLEEVE AND VALVE			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$16,000.0000	\$32,000.00
Cleary Construction, Inc.		\$18,500.0000	\$37,000.00
Scotty's Contracting & Stone, LLC		\$18,500.0000	\$37,000.00
Summers-Taylor, Inc.		\$19,300.0000	\$38,600.00
Vulcan Construction Materials, LLC			
Vulcan Construction Materials, LLC		\$19,600.0000	\$39,200.00
795-08.04 6IN GATE VALVE ASSEMBLY			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$3,000.0000	\$3,000.00
Cleary Construction, Inc.		\$2,800.0000	\$2,800.00
Scotty's Contracting & Stone, LLC		\$2,800.0000	\$2,800.00
Summers-Taylor, Inc.		\$2,920.0000	\$2,920.00
Vulcan Construction Materials, LLC		\$2,960.0000	\$2,960.00
Vulcan Construction Materials, LLC		Ψ2,900.0000	ψ2,900.00
795-08.09 12IN GATE VALVE ASSEMBLY			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$6,500.0000	\$6,500.00
Cleary Construction, Inc.		\$7,500.0000	\$7,500.00
Scotty's Contracting & Stone, LLC		\$7,500.0000	\$7,500.00
Summers-Taylor, Inc.		\$7,830.0000	\$7,830.00
Vulcan Construction Materials, LLC			
Vulcan Construction Materials, LLC		\$7,930.0000	\$7,930.00
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$2,900.0000	\$23,200.00
Cleary Construction, Inc.		\$3,250.0000	\$26,000.00
Scotty's Contracting & Stone, LLC		\$3,250.0000	\$26,000.00
Summers-Taylor, Inc.		\$3,390.0000	\$27,120.00
Vulcan Construction Materials, LLC		\$3,440.0000	\$27,520.00
705 00 CO. SMIN DEV. SERVICE DIDE			
795-09.60 3/4IN PEXa SERVICE PIPE	450 000 L E		
L D 0 + 1 110	450.000 L.F.	<b>#</b> 07.000	000 070 05
Jones Bros. Contractors, LLC		\$65.0000	\$29,250.00
Cleary Construction, Inc.		\$45.0000	\$20,250.00
Scotty's Contracting & Stone, LLC		\$45.0000	\$20,250.00
Summers-Taylor, Inc.		\$47.0000	\$21,150.00
Vulcan Construction Materials, LLC		\$47.6000	\$21,420.00

			SINTRACT CINX500
		UNIT PRICE	EXTENSION
795-10.03 1IN AUTO AIR RELEASE VALVE ASSEMBLY			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$6,500.0000	\$26,000.00
Cleary Construction, Inc.		\$8,500.0000	\$34,000.00
Scotty's Contracting & Stone, LLC		\$8,500.0000	\$34,000.00
Summers-Taylor, Inc.		\$8,870.0000	\$35,480.00
Vulcan Construction Materials, LLC		\$8,990.0000	\$35,960.00
795-12.01 REMOVE FIRE HYDRANT	1.000 EACH		
L D 0 4 4 110	1.000 EACH	#4 500 0000	<b>#4 500 00</b>
Jones Bros. Contractors, LLC		\$1,500.0000	\$1,500.00
Cleary Construction, Inc.		\$1,500.0000	\$1,500.00
Scotty's Contracting & Stone, LLC		\$1,500.0000	\$1,500.00
Summers-Taylor, Inc.		\$1,570.0000	\$1,570.00
Vulcan Construction Materials, LLC		\$1,590.0000	\$1,590.00
795-13.01 DI FITTINGS			
	2,078.000 LB.		
Jones Bros. Contractors, LLC		\$17.5000	\$36,365.00
Cleary Construction, Inc.		\$13.0000	\$27,014.00
Scotty's Contracting & Stone, LLC		\$13.0000	\$27,014.00
Summers-Taylor, Inc.		\$13.5000	\$28,053.00
Vulcan Construction Materials, LLC		\$13.8000	\$28,676.40
795-13.04 BRIDGE HANGER SYSTEM			
793-13.04 BRIDGE HANGER STSTEW	1.000 LS		
Janea Bras. Contractors III C	1.000 ES	\$750,000,0000	¢7ΕΩ ΩΩΩ ΩΩ
Jones Bros. Contractors, LLC		\$750,000.0000	\$750,000.00
Cleary Construction, Inc.		\$632,000.0000	\$632,000.00
Scotty's Contracting & Stone, LLC		\$775,316.5600	\$775,316.56
Summers-Taylor, Inc.		\$505,500.0000	\$505,500.00
Vulcan Construction Materials, LLC		\$306,000.0000	\$306,000.00
795-13.07 CREEK CROSSING (STA. 660+31.89)			
	1.000 LS		
Jones Bros. Contractors, LLC		\$35,000.0000	\$35,000.00
Cleary Construction, Inc.		\$143,500.0000	\$143,500.00
Scotty's Contracting & Stone, LLC		\$143,500.0000	\$143,500.00
Summers-Taylor, Inc.		\$149,800.0000	\$149,800.00
Vulcan Construction Materials, LLC		\$152,000.0000	\$152,000.00
795-14.01 CLASS A CONCRETE			
193-14.01 GLAGS A CONCRETE	25.000 C.Y.		
Jones Bros. Contractors, LLC	20.000 0	\$475.0000	\$11,875.00
Cleary Construction, Inc.		\$300.0000	\$7,500.00
Scotty's Contracting & Stone, LLC		\$300.0000	\$7,500.00
Summers-Taylor, Inc.		\$313.0000 \$317.0000	\$7,825.00 \$7,035.00
Vulcan Construction Materials, LLC		\$317.0000	\$7,925.00

		UNIT PRICE	EXTENSION
795-15.01 8IN STEEL CASING PIPE OPEN CUT METHOD			
	225.000 L.F.		
Jones Bros. Contractors, LLC		\$260.0000	\$58,500.00
Cleary Construction, Inc.		\$255.0000	\$57,375.00
Scotty's Contracting & Stone, LLC		\$255.0000	\$57,375.00 \$57,375.00
Summers-Taylor, Inc.		\$266.0000	
		•	\$59,850.00 \$60.750.00
Vulcan Construction Materials, LLC		\$270.0000	\$60,750.00
795-15.02 12IN STEEL CASING PIPE OPEN CUT METHOD			
	275.000 L.F.		
Jones Bros. Contractors, LLC		\$280.0000	\$77,000.00
Cleary Construction, Inc.		\$335.0000	\$92,125.00
Scotty's Contracting & Stone, LLC		\$335.0000	\$92,125.00
Summers-Taylor, Inc.		\$350.0000	\$96,250.00
Vulcan Construction Materials, LLC		\$354.0000	\$97,350.00
795-15.07 24IN STEEL CASING PIPE OPEN CUT METHOD			
	173.000 L.F.		
Jones Bros. Contractors, LLC		\$380.0000	\$65,740.00
Cleary Construction, Inc.		\$485.0000	\$83,905.00
Scotty's Contracting & Stone, LLC		\$485.0000	\$83,905.00
Summers-Taylor, Inc.		\$506.0000	\$87,538.00
Vulcan Construction Materials, LLC		\$513.0000	\$88,749.00
valouri construction materials, EEC		ψο 10.0000	ψου,7 40.00
797-03.09 10IN PVC FORCE MAIN			
	1,918.000 L.F.		
Jones Bros. Contractors, LLC		\$240.0000	\$460,320.00
Cleary Construction, Inc.		\$200.0000	\$383,600.00
Scotty's Contracting & Stone, LLC		\$200.0000	\$383,600.00
Summers-Taylor, Inc.		\$209.0000	\$400,862.00
Vulcan Construction Materials, LLC		\$212.0000	\$406,616.00
797-06.93 OPEN CUT 24IN STEEL CASING PIPE			
	200.000 L.F.		
Jones Bros. Contractors, LLC		\$380.0000	\$76,000.00
Cleary Construction, Inc.		\$480.0000	\$96,000.00
Scotty's Contracting & Stone, LLC		\$480.0000	\$96,000.00
Summers-Taylor, Inc.		\$501.0000	\$100,200.00
Vulcan Construction Materials, LLC		\$508.0000	\$101,600.00
797-08.01 DI FITTINGS			
707-00.01 DITITINGS	834.000 LB.		
Jones Bros. Contractors, LLC		\$21.5000	\$17,931.00
Cleary Construction, Inc.		\$16.0000	\$13,344.00
Scotty's Contracting & Stone, LLC		\$16.0000	\$13,344.00
Summers-Taylor, Inc.		\$16.5000 \$16.5000	\$13,761.00
Vulcan Construction Materials, LLC		\$16.9000 \$16.9000	\$13,761.00 \$14,094.60
vuican constituction iviaterials, LLC		φ10.9UUU	φ1 <del>4</del> ,034.00

			CONTRACT CNX306
		UNIT PRICE	EXTENSION
797-10.19 CONNECT TO 10IN FORCE MAIN			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$42,450.0000	\$84,900.00
Cleary Construction, Inc.		\$50,000.0000	\$100,000.00
Scotty's Contracting & Stone, LLC		\$50,000.0000	\$100,000.00
Summers-Taylor, Inc.		\$52,200.0000	\$104,400.00
Vulcan Construction Materials, LLC		\$52,900.0000	\$105,800.00
797-11.44 STREAM CROSSING (1)			
	1.000 LS		

\$35,000.0000

\$150,000.0000

\$150,000.0000

\$156,600.0000

\$159,000.0000

\$35,000.00

\$150,000.00

\$150,000.00

\$156,600.00

\$159,000.00

Jones Bros. Contractors, LLC

Scotty's Contracting & Stone, LLC

Vulcan Construction Materials, LLC

Cleary Construction, Inc.

Summers-Taylor, Inc.

UNIT PRICE EXTENSION

ROADW	AY ALTERNATE AA1 CATEGORY			
202.04	MINEDAL ACCRECATE TYPE A BASE CRADING D			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	138,513.000 TON		
	Jones Bros. Contractors, LLC	130,313.000 1014	\$28.0000	\$3,878,364.00
	Cleary Construction, Inc.		\$34.0000	\$4,709,442.00
	Scotty's Contracting & Stone, LLC		\$27.5000	\$3,809,107.50
	Summers-Taylor, Inc.		\$35.5000	\$4,917,211.50
	Vulcan Construction Materials, LLC		\$34.0000	\$4,709,442.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA	DING A		
	, , , ,	14,041.000 TON		
	Jones Bros. Contractors, LLC		\$110.0000	\$1,544,510.00
	Cleary Construction, Inc.		\$102.0000	\$1,432,182.00
	Scotty's Contracting & Stone, LLC		\$102.0000	\$1,432,182.00
	Summers-Taylor, Inc.		\$106.0000	\$1,488,346.00
	Vulcan Construction Materials, LLC		\$102.0000	\$1,432,182.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA	DING B-M2		
		11,664.000 TON		
	Jones Bros. Contractors, LLC	•	\$120.0000	\$1,399,680.00
	Cleary Construction, Inc.		\$107.0000	\$1,248,048.00
	Scotty's Contracting & Stone, LLC		\$107.0000	\$1,248,048.00
	Summers-Taylor, Inc.		\$112.0000	\$1,306,368.00
	Vulcan Construction Materials, LLC		\$107.0000	\$1,248,048.00
307-01.20	ASP. CONC. MIX(PG64-22) (BPMB-HM) GR. A-S			
		11,169.000 TON		
	Jones Bros. Contractors, LLC	,	\$115.0000	\$1,284,435.00
	Cleary Construction, Inc.		\$112.0000	\$1,250,928.00
	Scotty's Contracting & Stone, LLC		\$112.0000	\$1,250,928.00
	Summers-Taylor, Inc.		\$117.0000	\$1,306,773.00
	Vulcan Construction Materials, LLC		\$112.0000	\$1,250,928.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		247.000 TON		
	Jones Bros. Contractors, LLC		\$850.0000	\$209,950.00
	Cleary Construction, Inc.		\$1,150.0000	\$284,050.00
	Scotty's Contracting & Stone, LLC		\$1,150.0000	\$284,050.00
	Summers-Taylor, Inc.		\$1,200.0000	\$296,400.00
	Vulcan Construction Materials, LLC		\$1,150.0000	\$284,050.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		966.000 TON		
	Jones Bros. Contractors, LLC		\$55.0000	\$53,130.00
	Cleary Construction, Inc.		\$50.0000	\$48,300.00
	Scotty's Contracting & Stone, LLC		\$50.0000	\$48,300.00
	Summers-Taylor, Inc.		\$52.0000	\$50,232.00
	Vulcan Construction Materials, LLC		\$50.0000	\$48,300.00

CONTRACT C	1X306
------------	-------

				CONTRACT CNASUO
			UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		79.000 TON		
	Jones Bros. Contractors, LLC		\$885.0000	\$69,915.00
	Cleary Construction, Inc.		\$1,100.0000	\$86,900.00
	Scotty's Contracting & Stone, LLC		\$1,100.0000	\$86,900.00
	Summers-Taylor, Inc.		\$1,150.0000	\$90,850.00
	Vulcan Construction Materials, LLC		\$1,100.0000	\$86,900.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		4,237.000 TON		
	Jones Bros. Contractors, LLC		\$125.0000	\$529,625.00
	Cleary Construction, Inc.		\$125.0000	\$529,625.00
	Scotty's Contracting & Stone, LLC		\$125.0000	\$529,625.00
	Summers-Taylor, Inc.		\$131.0000	\$555,047.00
	Vulcan Construction Materials, LLC		\$125.0000	\$529,625.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		7,132.000 TON		
	Jones Bros. Contractors, LLC		\$150.0000	\$1,069,800.00
	Cleary Construction, Inc.		\$125.0000	\$891,500.00
	Scotty's Contracting & Stone, LLC		\$125.0000	\$891,500.00
	Summers-Taylor, Inc.		\$131.0000	\$934,292.00
	Vulcan Construction Materials, LLC		\$125.0000	\$891,500.00

**UNIT PRICE** 

**EXTENSION** 

#### **ROADWAY ALTERNATE AA2 CATEGORY**

#### 303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D

120,753.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

### 307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A

14,041.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2

11,664.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 307-01.20 ASP. CONC. MIX(PG64-22) (BPMB-HM) GR. A-S

11,169.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 309-01.01 MINERAL AGGREGATE (A-CBC)

17,883.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 309-01.02 PORTLAND CEMENT (A-CBC)

694.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

**UNIT PRICE** 

**EXTENSION** 

#### 309-02 BITUMINOUS MATERIAL (A-CBC)

170.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

### 402-01 BITUMINOUS MATERIAL FOR PRIME COAT (PC)

247.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

#### 402-02 AGGREGATE FOR COVER MATERIAL (PC)

966.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

### 403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)

79.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

#### 411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER

4,237.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

# 411-01.10 ACS MIX(PG64-22) GRADING D

7,132.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

UNIT PRICE EXTENSION

#### **ROADWAY ALTERNATE AA3 CATEGORY**

#### 303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D

100,668.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

#### 307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A

14,041.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2

11,664.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 307-01.20 ASP. CONC. MIX(PG64-22) (BPMB-HM) GR. A-S

11,169.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 312-01 MINERAL AGGREGATE (ALFSB)

15,534.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

#### 312-02 LIME

594.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

**UNIT PRICE** 

**EXTENSION** 

312-03 FLY ASH

1,859.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

312-04 BITUMINOUS MATERIAL (ALFSB)

170.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

402-01 BITUMINOUS MATERIAL FOR PRIME COAT (PC)

247.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

402-02 AGGREGATE FOR COVER MATERIAL (PC)

966.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)

79.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER

4,237.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc.

Scotty's Contracting & Stone, LLC

Summers-Taylor, Inc.

Vulcan Construction Materials, LLC

UNIT PRICE

**EXTENSION** 

# 411-01.10 ACS MIX(PG64-22) GRADING D

7,132.000 TON

Jones Bros. Contractors, LLC Cleary Construction, Inc. Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC

# **SUB-TOTAL ROADWAY**

Jones Bros. Contractors, LLC	\$43,967,676.05
Cleary Construction, Inc.	\$48,039,027.41
Scotty's Contracting & Stone, LLC	\$50,254,968.80
Summers-Taylor, Inc.	\$49,701,371.25
Vulcan Construction Materials, LLC	\$77,467,546.00

#### **SUB-TOTAL BOX BRIDGE**

Jones Bros. Contractors, LLC	\$1,715,076.02
Cleary Construction, Inc.	\$2,644,510.64
Scotty's Contracting & Stone, LLC	\$2,644,510.64
Summers-Taylor, Inc.	\$3,034,718.00
Vulcan Construction Materials, LLC	\$3,066,930.00

### **SUB-TOTAL BRIDGE**

Jones Bros. Contractors, LLC	\$39,562,311.24
Cleary Construction, Inc.	\$38,047,660.04
Scotty's Contracting & Stone, LLC	\$38,129,473.54
Summers-Taylor, Inc.	\$38,697,969.36
Vulcan Construction Materials, LLC	\$41,164,381.05

# **SUB-TOTAL UTILITY**

Jones Bros. Contractors, LLC	\$3,331,643.00
Cleary Construction, Inc.	\$3,585,416.10
Scotty's Contracting & Stone, LLC	\$3,856,477.56
Summers-Taylor, Inc.	\$3,817,809.50
Vulcan Construction Materials, LLC	\$4,350,573.80

### **SUB-TOTAL ROADWAY ALTERNATE AA1**

Jones Bros. Contractors, LLC	\$10,039,409.00
Cleary Construction, Inc.	\$10,480,975.00
Scotty's Contracting & Stone, LLC	\$9,580,640.50
Summers-Taylor, Inc.	\$10,945,519.50
Vulcan Construction Materials, LLC	\$10,480,975.00

# **SUB-TOTAL ROADWAY ALTERNATE AA2**

# **SUB-TOTAL ROADWAY ALTERNATE AA3**

#### **TOTAL CONTRACT**

Jones Bros. Contractors, LLC \$98,616,115.31
Cleary Construction, Inc. \$102,797,589.19

Scotty's Contracting & Stone, LLC Summers-Taylor, Inc. Vulcan Construction Materials, LLC \$104,466,071.04 \$106,197,387.61 \$136,530,405.85

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

### WARREN COUNTY (Contract No. CNX109 Call 050)

89S136-M3-002

THE REPAIR OF THE BRIDGE ON S.R. 136 OVER THE CANEY FORK RIVER (L.M. 1.99).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2024

TOTAL CONTRACT

Jamison Construction, LLC\$781,820.15Southern Constructors, Inc.\$1,019,880.00Mid-State Construction Company, Inc.\$1,058,708.36

	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
201-07.01 REMOVAL AND DISPOSAL OF BRUSH & TREES		
1.000 LS	<b>A</b>	
Jamison Construction, LLC	\$5,000.0000	\$5,000.00
Southern Constructors, Inc. Mid-State Construction Company, Inc.	\$20,000.0000 \$25,366.3000	\$20,000.00 \$25,366.30
Mid-State Construction Company, Inc.	φ25,366.3666	φ25,300.30
202-04.01 REMOVAL OF STRUCTURES (BRIDGE NO. 89-SR136-01.99)		
1.000 LS		
Jamison Construction, LLC	\$22,000.0000	\$22,000.00
Southern Constructors, Inc.	\$50,000.0000	\$50,000.00
Mid-State Construction Company, Inc.	\$66,904.2100	\$66,904.21
209-05 SEDIMENT REMOVAL		
1.000 C.Y.		
Jamison Construction, LLC	\$50.0000	\$50.00
Southern Constructors, Inc.	\$185.0000	\$185.00
Mid-State Construction Company, Inc.	\$716.9000	\$716.90
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)		
512.000 L.F.		
Jamison Construction, LLC	\$6.5000	\$3,328.00
Southern Constructors, Inc.	\$8.0000	\$4,096.00
Mid-State Construction Company, Inc.	\$6.2000	\$3,174.40
and claic constant company, me	Ψ0.2000	φο,
307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
46.000 TON		
Jamison Construction, LLC	\$470.0000	\$21,620.00
Southern Constructors, Inc.	\$475.0000	\$21,850.00
Mid-State Construction Company, Inc.	\$501.5000	\$23,069.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
16.000 TON		
Jamison Construction, LLC	\$580.0000	\$9,280.00
Southern Constructors, Inc.	\$575.0000	\$9,200.00
Mid-State Construction Company, Inc.	\$619.5000	\$9,912.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
1.500 TON		
Jamison Construction, LLC	\$1,300.0000	\$1,950.00
Southern Constructors, Inc.	\$1,200.0000	\$1,800.00
Mid-State Construction Company, Inc.	\$1,386.5000	\$2,079.75
411-01.10 ACS MIX(PG64-22) GRADING D		
214.000 TON		
Jamison Construction, LLC	\$260.0000	\$55,640.00
Southern Constructors, Inc.	\$260.0000	\$55,640.00
Mid-State Construction Company, Inc.	\$277.3000	\$59,342.20
	·	. ,

		UNIT PRICE	EXTENSION
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
	3,222.000 S.Y.		
Jamison Construction, LLC	,	\$6.2000	\$19,976.40
Southern Constructors, Inc.		\$7.5000	\$24,165.00
Mid-State Construction Company, Inc.		\$6.4900	\$20,910.78
602-10.12 BEARING DEVICE (REPAIR)			
	1.000 LS		
Jamison Construction, LLC		\$42,000.0000	\$42,000.00
Southern Constructors, Inc.		\$60,000.0000	\$60,000.00
Mid-State Construction Company, Inc.		\$50,891.5500	\$50,891.55
603-02.15 REPAINT EXISTING BEARINGS			
	1.000 LS		
Jamison Construction, LLC		\$1,500.0000	\$1,500.00
Southern Constructors, Inc.		\$10,000.0000	\$10,000.00
Mid-State Construction Company, Inc.		\$5,900.0000	\$5,900.00
604-03.01 CLASS A CONCRETE (BRIDGES)			
	3.000 C.Y.		
Jamison Construction, LLC		\$1,600.0000	\$4,800.00
Southern Constructors, Inc.		\$4,200.0000	\$12,600.00
Mid-State Construction Company, Inc.		\$11,336.5500	\$34,009.65
604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURES)			
	23.000 S.Y.		
Jamison Construction, LLC		\$9.2500	\$212.75
Southern Constructors, Inc.		\$18.0000	\$414.00
Mid-State Construction Company, Inc.		\$9.3800	\$215.74
604-04.02 APPLIED TEXTURE FINISH (EXISTING STRUCTURES)			
	2,725.000 S.Y.		
Jamison Construction, LLC		\$12.5000	\$34,062.50
Southern Constructors, Inc.		\$18.0000	\$49,050.00
Mid-State Construction Company, Inc.		\$12.9200	\$35,207.00
604-10.05 CONCRETE			
	18.000 S.F.		
Jamison Construction, LLC		\$325.0000	\$5,850.00
Southern Constructors, Inc.		\$375.0000	\$6,750.00
Mid-State Construction Company, Inc.		\$693.7200	\$12,486.96
604-10.18 REINFORCING STEEL (REPAIRS)			
	707.000 LB.		
Jamison Construction, LLC		\$3.5000	\$2,474.50
Southern Constructors, Inc.		\$10.0000	\$7,070.00
Mid-State Construction Company, Inc.		\$8.1300	\$5,747.91

			•	
			UNIT PRICE	EXTENSION
604-10.24	JACKING CONCRETE SPANS			
		1.000 LS		
	Jamison Construction, LLC		\$82,000.0000	\$82,000.00
	Southern Constructors, Inc.		\$80,000.0000	\$80,000.00
	Mid-State Construction Company, Inc.		\$82,510.9400	\$82,510.94
	ivilu-State Construction Company, inc.		φο2,310.9400	φο2,510.94
604-10.41	EXPANSION JOINT REPAIRS (TYPE E)			
		35.000 L.F.		
	Jamison Construction, LLC		\$1,400.0000	\$49,000.00
	Southern Constructors, Inc.		\$1,500.0000	\$52,500.00
	Mid-State Construction Company, Inc.		\$1,635.9100	\$57,256.85
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
		25.000 S.Y.		
	Jamison Construction, LLC		\$300.0000	\$7,500.00
	Southern Constructors, Inc.		\$400.0000	\$10,000.00
	Mid-State Construction Company, Inc.		\$809.2300	\$20,230.75
	wild state sensitioned company, inc.		ψ000.2000	Ψ20,200.70
604-10.54	CONCRETE REPAIRS			
		18.000 S.F.		
	Jamison Construction, LLC		\$325.0000	\$5,850.00
	Southern Constructors, Inc.		\$375.0000	\$6,750.00
	Mid-State Construction Company, Inc.		\$693.6700	\$12,486.06
	The State Constitution Company, me.		ψοσο.στ σσ	Ψ12,100.00
604-10.58	EPOXY INJECTION (INJECTION)			
		2.000 GAL.		
	Jamison Construction, LLC		\$300.0000	\$600.00
	Southern Constructors, Inc.		\$225.0000	\$450.00
	Mid-State Construction Company, Inc.		\$147.5000	\$295.00
604-10.62	EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
	,	25.000 L.F.		
	Jamison Construction, LLC		\$300.0000	\$7,500.00
	Southern Constructors, Inc.		\$200.0000	\$5,000.00
	Mid-State Construction Company, Inc.		\$383.5000	\$9,587.50
CO4 40 00	MICCELL ANEQUE PRIDGE ITEMS			
604-10.90	MISCELLANEOUS BRIDGE ITEMS			
		1.000 LS		
	Jamison Construction, LLC		\$7,000.0000	\$7,000.00
	Southern Constructors, Inc.		\$15,000.0000	\$15,000.00
	Mid-State Construction Company, Inc.		\$13,069.5000	\$13,069.50
604-10.91	MISCELLANEOUS BRIDGE ITEMS (Description)			
		1.000 LS		
	Jamison Construction, LLC		\$16,000.0000	\$16,000.00
	Southern Constructors, Inc.		\$25,000.0000	\$25,000.00
	Mid-State Construction Company, Inc.		\$6,470.3800	\$6,470.38
			•	

			•	
			UNIT PRICE	EXTENSION
617-04 01	TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)			
	<u>_</u>	2,704.000 S.Y.		
	Jamison Construction, LLC		\$46.0000	\$124,384.00
	Southern Constructors, Inc.		\$40.0000	\$108,160.00
	Mid-State Construction Company, Inc.		\$41.3000	\$111,675.20
	mid-State Construction Company, inc.		φ41.3000	φ111,073.20
620-06	CONCRETE RAILING			
		39.000 L.F.		
	Jamison Construction, LLC		\$240.0000	\$9,360.00
	Southern Constructors, Inc.		\$325.0000	\$12,675.00
	Mid-State Construction Company, Inc.		\$451.0200	\$17,589.78
	The Care Constitution Company, and		ψ.ισ.ιισ <u>-</u> σσ	Ψ,σσσσ
705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		42.000 EACH		
	Jamison Construction, LLC		\$15.0000	\$630.00
	Southern Constructors, Inc.		\$30.0000	\$1,260.00
	Mid-State Construction Company, Inc.		\$16.5200	\$693.84
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		322.000 L.F.		
	Jamison Construction, LLC		\$4.0000	\$1,288.00
	Southern Constructors, Inc.		\$5.0000	\$1,610.00
	Mid-State Construction Company, Inc.		\$2.3600	\$759.92
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Jamison Construction, LLC		\$30,000.0000	\$30,000.00
	Southern Constructors, Inc.		\$75,000.0000	\$75,000.00
	Mid-State Construction Company, Inc.		\$44,647.4500	\$44,647.45
712-02 02	INTERCONNECTED PORTABLE BARRIER RAIL			
712-02.02	INTERCONNECTED FOR FABLE BARRIER RAIL	180.000 L.F.		
	Jamison Construction, LLC		\$40.0000	\$7,200.00
	Southern Constructors, Inc.		\$75.0000	\$13,500.00
	Mid-State Construction Company, Inc.		\$91.9000	\$16,542.00
712-02.47	BRIDGE MOUNTED INTERCONNECTED PORTABLE BARR			
		840.000 L.F.		
	Jamison Construction, LLC		\$60.0000	\$50,400.00
	Southern Constructors, Inc.		\$120.0000	\$100,800.00
	Mid-State Construction Company, Inc.		\$102.4200	\$86,032.80
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)			
- 70	,	2.000 EACH		
	Jamison Construction, LLC		\$8,000.0000	\$16,000.00
	Southern Constructors, Inc.		\$10,000.0000	\$20,000.00
	Mid-State Construction Company, Inc.		\$8,608.2100	\$17,216.42
	Table Concession Company, inc.		<b>40,000.2100</b>	ψ11,210.12

712-04.01 FLEXIBLE DRUMS (CHANNELIZING)  33.000 EACH  Jamison Construction, LLC \$34.0000 \$1,122.0 Southern Constructors, Inc. \$50.0000 \$1,650.0 Mid-State Construction Company, Inc. \$38.9400 \$1,285.0  712-04.50 BARRIER RAIL DELINEATOR  116.000 EACH Jamison Construction, LLC \$20.0000 \$2,320.0	ON
33.000 EACH  Jamison Construction, LLC  Southern Constructors, Inc. Mid-State Construction Company, Inc.  \$34.0000 \$1,122.0 \$50.0000 \$1,650.0 \$38.9400 \$1,285.0  712-04.50 BARRIER RAIL DELINEATOR  116.000 EACH Jamison Construction, LLC  \$20.0000 \$2,320.0	
Southern Constructors, Inc. \$50.0000 \$1,650.0 Mid-State Construction Company, Inc. \$38.9400 \$1,285.0 Mid-State Construction Const	
Southern Constructors, Inc. \$50.0000 \$1,650.0 Mid-State Construction Company, Inc. \$38.9400 \$1,285.0  712-04.50 BARRIER RAIL DELINEATOR  116.000 EACH  Jamison Construction, LLC \$20.0000 \$2,320.0	00
712-04.50 BARRIER RAIL DELINEATOR  116.000 EACH  Jamison Construction, LLC \$20.0000 \$2,320.0	00
116.000 EACH         Jamison Construction, LLC       \$20.0000       \$2,320.0	02
Jamison Construction, LLC \$20.0000 \$2,320.0	
	00
Southern Constructors, Inc. \$30.0000 \$3,480.0	00
Mid-State Construction Company, Inc. \$16.5200 \$1,916.3	32
712-06 SIGNS (CONSTRUCTION)	
375.000 S.F.	
Jamison Construction, LLC \$10.0000 \$3,750.0	
Southern Constructors, Inc. \$15.0000 \$5,625.0	
Mid-State Construction Company, Inc. \$8.4400 \$3,165.0	00
712-09.02 REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)	
3,728.000 L.F.	
Jamison Construction, LLC \$5.5000 \$20,504.0	
Southern Constructors, Inc. \$5.0000 \$18,640.0	
Mid-State Construction Company, Inc. \$5.6100 \$20,914.0	80
712-09.04 REMOVABLE PAVEMENT MARKING (STOP LINE)	
24.000 L.F.	
Jamison Construction, LLC \$17.0000	
Southern Constructors, Inc. \$20.0000 \$480.0	
Mid-State Construction Company, Inc. \$23.6000 \$566.4	40
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)	
16.000 EACH	
Jamison Construction, LLC \$225.0000 \$3,600.0	
Southern Constructors, Inc. \$225.0000 \$3,600.0	
Mid-State Construction Company, Inc. \$236.0000 \$3,776.0	00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	
16.000 EACH	
Jamison Construction, LLC \$60.0000 \$960.0	
Southern Constructors, Inc. \$55.0000 \$880.0	
Mid-State Construction Company, Inc. \$59.0000 \$944.0	00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	
1.500 L.M.	
Jamison Construction, LLC \$9,800.0000 \$14,700.0	
Southern Constructors, Inc. \$10,000.0000 \$15,000.0	
Mid-State Construction Company, Inc. \$10,502.0000 \$15,753.0	00

				CONTRACT CNX109
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
717-01	MOBILIZATION	1.000 LS		
	Jamison Construction, LLC	1.000 LO	\$53,000.0000	\$53,000.00
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
	Mid-State Construction Company, Inc.		\$96,789.3700	\$96,789.37
730-40.02	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 LS		
	Jamison Construction, LLC		\$37,000.0000	\$37,000.00

Southern Constructors, Inc.

Mid-State Construction Company, Inc.

\$60,000.00

\$60,600.43

\$60,000.0000

\$60,600.4300

# **SUB-TOTAL BRIDGE**

Jamison Construction, LLC	\$781,820.15
Southern Constructors, Inc.	\$1,019,880.00
Mid-State Construction Company, Inc.	\$1,058,708.36

TOTAL CONTRACT	
Jamison Construction, LLC	\$781,820.15
Southern Constructors, Inc.	\$1,019,880.00
Mid-State Construction Company, Inc.	\$1,058,708.36

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

# WHITE COUNTY (Contract No. CNX363 Call 051)

HSIP-9300(44),93945-3477-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 5.00%

TOTAL CONTRACT

 LU, Inc.
 \$246,349.11

 Volunteer Paving, LLC
 \$249,986.71

 Superior Traffic Control, LLC
 \$258,688.60

		C	CONTRACT CNX363
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT			
750 54.10 EARTH AD FOR SGARD RAIL ERD TREATMENT	2.000 EACH		
LU, Inc.		\$1,762.5000	\$3,525.00
Volunteer Paving, LLC		\$1,850.6300	\$3,701.26
Superior Traffic Control, LLC		\$4,600.0000	\$9,200.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT			
	2,025.000 L.F.		
LU, Inc.		\$4.6500	\$9,416.25
Volunteer Paving, LLC		\$4.8800	\$9,882.00
Superior Traffic Control, LLC		\$6.0500	\$12,251.25
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	2.000 EACH		•
LU, Inc.		\$3,612.8300	\$7,225.66
Volunteer Paving, LLC Superior Traffic Control, LLC		\$3,793.4700 \$6,700.0000	\$7,586.94 \$13,400.00
Superior Trainic Control, LLC		φο,700.0000	φ13, <del>4</del> 00.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
LU, Inc.		\$13,650.0000	\$13,650.00
Volunteer Paving, LLC		\$13,500.0000	\$13,500.00
Superior Traffic Control, LLC		\$9,500.0000	\$9,500.00
713-02.20 ROADSIDE OBSTACLE DELINEATION			
	252.000 S.F.		
LU, Inc.		\$30.0300	\$7,567.56
Volunteer Paving, LLC		\$31.5400	\$7,948.08
Superior Traffic Control, LLC		\$30.0000	\$7,560.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	816.000 L.F.		
LU, Inc.		\$6.5300	\$5,328.48
Volunteer Paving, LLC		\$6.8600	\$5,597.76
Superior Traffic Control, LLC		\$6.5000	\$5,304.00
713-02.22 BARRIER WALL DELINEATION ENHANCEMENT			
	340.000 L.F.		
LU, Inc.		\$6.5800	\$2,237.20
Volunteer Paving, LLC		\$6.9100	\$2,349.40
Superior Traffic Control, LLC		\$7.0000	\$2,380.00
713-11.01 "U" SECTION STEEL POSTS			
	858.000 LB.	_	_
LU, Inc.		\$5.4000	\$4,633.20
Volunteer Paving, LLC		\$5.6700 \$5.8500	\$4,864.86 \$5,010.30

Superior Traffic Control, LLC

\$5,019.30

\$5.8500

	UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
3,009.000 LB.		
LU, Inc.	\$6.6200	\$19,919.58
Volunteer Paving, LLC	\$6.9500	\$20,912.55
Superior Traffic Control, LLC	\$5.9500	\$17,903.55
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
347.000 S.F.		
LU, Inc.	\$14.2800	\$4,955.16
Volunteer Paving, LLC	\$15.0000	\$5,205.00
Superior Traffic Control, LLC	\$16.5000	\$5,725.50
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
688.000 S.F.		
LU, Inc.	\$15.4600	\$10,636.48
Volunteer Paving, LLC	\$16.2300	\$11,166.24
Superior Traffic Control, LLC	\$18.5000	\$12,728.00
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
49.000 EACH		
LU, Inc.	\$59.4100	\$2,911.09
Volunteer Paving, LLC	\$62.3800	\$3,056.62
Superior Traffic Control, LLC	\$15.0000	\$735.00
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
830.000 EACH		
LU, Inc.	\$35.2600	\$29,265.80
Volunteer Paving, LLC	\$35.0000	\$29,050.00
Superior Traffic Control, LLC	\$35.0000	\$29,050.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
399.000 L.F.		
LU, Inc.	\$25.1900	\$10,050.81
Volunteer Paving, LLC	\$25.0000	\$9,975.00
Superior Traffic Control, LLC	\$10.0000	\$3,990.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
1.000 EACH		
LU, Inc.	\$629.6900	\$629.69
Volunteer Paving, LLC	\$625.0000	\$625.00
Superior Traffic Control, LLC	\$450.0000	\$450.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)		
48.000 L.F.		
LU, Inc.	\$20.1500	\$967.20
Volunteer Paving, LLC	\$20.0000	\$960.00
Superior Traffic Control, LLC	\$15.0000	\$720.00

				CONTRACT	CNX363
			UNIT PRICE	EXTE	ENSION
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)				
		50.040 L.M.			
	LU, Inc.	:	\$2,166.1300	\$108,	393.15
	Volunteer Paving, LLC	:	\$2,150.0000	\$107,	586.00
	Superior Traffic Control, LLC	;	\$2,300.0000	\$115,	092.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)				
	1,	680.000 L.F.			
	LU, Inc.		\$1.5100	\$2,	536.80
	Volunteer Paving, LLC		\$1.5000	\$2,	520.00
	Superior Traffic Control, LLC		\$1.0000	\$1,	680.00
717-01	MOBILIZATION				
		1.000 LS			
	LU, Inc.	:	\$2,500.0000	\$2,	500.00

Volunteer Paving, LLC

Superior Traffic Control, LLC

\$3,500.0000

\$6,000.0000

\$3,500.00

\$6,000.00

# **SUB-TOTAL ROADWAY**

LU, Inc.	\$246,349.11
Volunteer Paving, LLC	\$249,986.71
Superior Traffic Control, LLC	\$258,688.60

# **TOTAL CONTRACT**

LU, Inc.	\$246,349.11
Volunteer Paving, LLC	\$249,986.71
Superior Traffic Control, LLC	\$258,688.60

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF OCTOBER 06, 2023

WILLIAMSON COUNTY (Contract No. CNX295 Call 052)

n/a,94S096-M3-004

THE REPAIR OF THE BRIDGE ON S.R. 96 OVER I-65 (L.M. 13.11).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

TOTAL CONTRACT

Bell & Associates Construction, LLC

\$2,974,004.00

CONTRA	CT C	NX295
CUNIKA	ici c	NAZYO

				<b>CONTRACT CNX295</b>
BRIDGE	CATEGORY		UNIT PRICE	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	40 000 TON		
	Bell & Associates Construction, LLC	10.000 TON	\$200.0000	\$2,000.00
604-03.01	CLASS A CONCRETE (BRIDGES)	88.000 C.Y.		
	Bell & Associates Construction, LLC		\$5,500.0000	\$484,000.00
604-03.02	STEEL BAR REINFORCEMENT (BRIDGES)	14,336.000 LB.		
	Bell & Associates Construction, LLC		\$7.5000	\$107,520.00
604-10.05	CONCRETE	60.000 S.F.		
	Bell & Associates Construction, LLC		\$950.0000	\$57,000.00
604-10.24	JACKING CONCRETE SPANS	1.000 LS		
604-10 20	Bell & Associates Construction, LLC  CONCRETE SLOPE PAVING REPAIRS		\$295,000.0000	\$295,000.00
004-10.29	Bell & Associates Construction, LLC	77.000 S.Y.	\$450.0000	\$34,650.00
604-10.54	CONCRETE REPAIRS		ψ-30.0000	ψ0+,000.00
	Bell & Associates Construction, LLC	537.000 S.F.	\$950.0000	\$510,150.00
604-10.83	COMPOSITE FIBER ENCASEMENT	4 022 000 S E		
	Bell & Associates Construction, LLC	1,022.000 S.F.	\$300.0000	\$306,600.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3	54.000 L.F.		
	Bell & Associates Construction, LLC		\$45.0000	\$2,430.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3	2.000 EACH		
	Bell & Associates Construction, LLC		\$2,800.0000	\$5,600.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Bell & Associates Construction, LLC		\$160,000.0000	\$160,000.00
712-02.02	Bell & Associates Construction, LLC	655.000 L.F.	\$300.0000	\$196,500.00

			UNIT PRICE	EXTENSION
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)	2.000 EACH		
	Bell & Associates Construction, LLC	2.000 EACH	\$10,250.0000	\$20,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Bell & Associates Construction, LLC	83.000 EACH	\$45.0000	\$3,735.00
712-04.50	BARRIER RAIL DELINEATOR			
	Bell & Associates Construction, LLC	16.000 EACH	\$20.0000	\$320.00
712-05.01	WARNING LIGHTS (TYPE A)	92 000 EACH		
	Bell & Associates Construction, LLC	83.000 EACH	\$13.0000	\$1,079.00
712-06	SIGNS (CONSTRUCTION)	404 000 C F		
	Bell & Associates Construction, LLC	464.000 S.F.	\$10.0000	\$4,640.00
712-08.03	ARROW BOARD (TYPE C)	2 000 54 611		
	Bell & Associates Construction, LLC	2.000 EACH	\$1,500.0000	\$3,000.00
712-08.12	QUEUE PROTECTION TRUCK	24.000 DAY		
	Bell & Associates Construction, LLC	24.000 DA1	\$2,000.0000	\$48,000.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
	Bell & Associates Construction, LLC	8,560.000 L.F.	\$8.0000	\$68,480.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (			
	Bell & Associates Construction, LLC	19.000 EACH	\$200.0000	\$3,800.00
716-01.22	1.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)			
	Bell & Associates Construction, LLC	25.000 EACH	\$200.0000	\$5,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Bell & Associates Construction, LLC	0.400 L.M.	\$10,000.0000	\$4,000.00
717-01	MOBILIZATION	4 000 1 0		
	Bell & Associates Construction, LLC	1.000 LS	\$650,000.0000	\$650,000.00

# SUB-TOTAL BRIDGE

Bell & Associates Construction, LLC \$2,974,004.00

# **TOTAL CONTRACT**

Bell & Associates Construction, LLC \$2,974,004.00